| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Ratification Date: | Project: 202 Resolution | | Assmt: 210025 | Manager: LMR | Page 1 |
|---------------------------------------------|---------------------------------------|-------------------------------------------------|----------------------------|--------------|-----------------|--------------------|--------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Luci M Locsin Navid P Kari | LANE-NORTON ADDITION LOT 1 BLK 1 | Street Sweeping - Cor Citywide Street Lighti | | 1.04 0.58 | 71.00 71.00 | \$73.84 \$41.18 | 20-28-23-11-0001 |
| 1081 Fairmount Ave St Paul MN 55105-3123 | | *** Owner and Taxpayer *** | | | _ | \$115.02 | |
| *1203 CLEVELAND AVE S | | | Total Assess | sment: | - | \$115.02 | |
| *Ward: 3 | | | This Paymer | nt: | | \$0.00 | |
| *Pending as of: 8/24/2021 | | | Current Year | | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amo | ount: | | \$115.02 | |
| James R Flowers | LANE-NORTON ADDITION LOT 5 | Street Sweeping - Cor | | 1.04 | | \$62.40 | 20-28-23-11-0005 |
| Mary A Flowers | BLK 1 | Citywide Street Lighti | ing | 0.58 | 60.00 | \$34.80 | |
| 1225 Cleveland Ave S | | | | | | \$97.20 | |
| St Paul MN 55116-2572 | | *** Owner and Taxpa | yer *** | | _ | | |
| *1225 CLEVELAND AVE S | | | Total Assess | sment: | | \$97.20 | |
| *Ward: 3 | | | This Paymer | \$0.00 | | | |
| *Pending as of: 8/24/2021 | | | Current Year | \$0.00 | | | |
| | | | Current Year | r Interest: | | \$0.00 | |
| | | | Payoff Amo | ount: | | \$97.20 | |
| | LANE-NORTON ADDITION LOT 7 | Street Sweeping - Con | mmercial/Art | | | | |
| Stephanie Lindquist | BLK 1 | Citywide Street Lighti | ing | 0.58 | 60.00 | \$34.80 | |
| 1235 Cleveland Ave S | | | | | _ | \$97.20 | |
| St Paul MN 55116-2572 | | *** Owner and Taxpa | yer *** | | | | |
| *1235 CLEVELAND AVE S | | | Total Assess | sment: | | \$97.20 | |
| *Ward: 3 | | | This Paymer | nt: | | \$0.00 | |
| *Pending as of: 8/24/2021 | | | Current Year | r Principal: | | \$0.00 | |
| | | | Current Year | r Interest: | | \$0.00 | |
| | | | Payoff Amo | ount: | | \$97.20 | |

\$119.52

\$97.20

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Ratification Date: | Project: 202 | | Assmt: 210025 | Manager: LMR | Page 4 |
|-------------------------------------------------------------------------------------------------------------------|---------------------------------------------------------|----------------------------------------------------------------------------|---------------------------|----------------------|--------------------------|-------------------------------------------------------|------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Daniel M Satorius | LANE-NORTON ADDITION SUBJ TO | Street Sweeping - Com | | 1.04 | 80.00 | \$83.20 | 20-28-23-11-0028 |
| Tonda L Mattie | SEWER ESMT LOT 11 BLK 2 | Citywide Street Lightin | ng | 0.58 | 80.00 | \$46.40 | |
| 1562 Mississippi River Blvd S | | *** 0 1.T | *** | | | \$129.60 | |
| St Paul MN 55116-1851 *1562 MISSISSIPPI RIVER | | *** Owner and Taxpay | yer *** | | | | |
| BLVD S | | | Total Assess | | | \$129.60 | |
| *Ward: 3 | | | This Paymen | | | \$0.00 | |
| *Pending as of: 8/24/2021 | | | Current Year | _ | | \$0.00 | |
| 5 | | | Current Year Payoff Amor | | | \$0.00 \$129.60 | |
| Jeffrey L Burton Varda K Nauen 1544 Mississippi River Blvd S St Paul MN 55116-1851 *1544 MISSISSIPPI RIVER BLVD S | LANE-NORTON ADDITION SUBJ TO SEWER ESMT LOT 13 BLK 2 | Street Sweeping - Com Citywide Street Lightin *** Owner and Taxpa | ng | | 100.00 | \$104.00 \$58.00 \$162.00 \$162.00 \$0.00 | 20-28-23-11-0030 |
| *Ward: 3 | | | Current Year | Principal: | \$0.00 | | |
| *Pending as of: 8/24/2021 | | | Current Year | | | \$0.00 \$162.00 | |
| William M Gurstelle Karen K Hansen Gurstelle 1536 Mississippi River Blvd | LANE-NORTON ADDITION SUBJ TO SEWER ESMT LOT 14 BLK 2 | Street Sweeping - Com Street Sweeping - Resi Citywide Street Lightin | dential Stree | 1.04 0.41 0.58 | 51.50 88.00 139.50 | \$53.56 \$36.08 \$80.91 | 20-28-23-11-0031 |
| St Paul MN 55116-1851 | | | | | _ | \$170.55 | |
| *1536 MISSISSIPPI RIVER | | *** Owner and Taxpay | yer *** | | | | |
| BLVD S | | | Total Assess | ment: | - | \$170.55 | |
| *Ward: 3 | | | This Paymen | ıt: | | \$0.00 | |
| *Pending as of: 8/24/2021 | | | Current Year | Principal: | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$170.55 | |

\$81.00

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by l | PID (Fee to Asmt) Ratification Date: | Project: 202 Resolution # | | Assmt: 210025 | Manager: LMR | Page 6 |
|---------------------------------------------------------------|---------------------------------------------------------------------------------------------------------|-------------------------------------------------|------------------------------|------------|-----------------|-------------------------------|------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Douglas H Vitek Melissa A Vitek 1606 Mississippi River Blvd S | SECTION 20 TOWN 28 RANGE 23 SUBJ TO SEWER ESMT THE N 60 FT OF FOL EX N 1230 5/10 FT AND EX HIDDEN | Street Sweeping - Cor Citywide Street Lighti | | 1.04 0.58 | 60.00 | \$62.40 \$34.80 \$97.20 | 20-28-23-11-0036 |
| St Paul MN 55116-1825 | PK VIEW PART OF GOVT LOT 1 BET CLEVELAND AVE AND MISS RIV | *** Owner and Taxpa | nyer *** | | | \$97.20 | |
| *1594 MISSISSIPPI RIVER | BLVD NO 2 IN SEC 20 TN 28 RN 23 | | Total Assessr | nent: | - | \$97.20 | |
| BLVD S | | | This Payment | t: | | \$0.00 | |
| *Ward: 3 | | | Current Year | Principal: | | \$0.00 | |
| *Pending as of: 8/24/2021 | | | Current Year | Interest: | | \$0.00 | |
| | | | Payoff Amou | ınt: | | \$97.20 | |
| Jennifer A Skuza | SECTION 20 TOWN 28 RANGE 23 SUBJ | Street Sweeping - Cor | nmercial/Art | 1.04 | | | |
| 1602 Mississippi River Blvd | TO SEWER ESMT THE N 87 FT OF FOL EX N 1143 5/10 FT AND EX HIDDEN | Citywide Street Lighti | ing | 0.58 | 85.00 | \$49.30 | |
| St Paul MN 55116-1825 *1602 MISSISSIPPI RIVER | PK VIEW PART OF GOVT LOT I BET CLEVELAND AVE AND MISS RIV BLVD NO 2 IN SEC 20 TN 28 RN 23 | *** Owner and Taxpayer *** | | | _ | \$137.70 | |
| BLVD S | BEVD NO 2 IN SEC 20 IN 28 KIV25 | | Total Assessr | nent: | | \$137.70 | |
| *Ward: 3 | | | This Payment | t: | | \$0.00 | |
| *Pending as of: 8/24/2021 | | | Current Year | Principal: | | \$0.00 | |
| | | | Current Year | Interest: | | \$0.00 | |
| | | | Payoff Amou | ınt: | | \$137.70 | |
| | HIDDEN PARK VIEW LOT 5 | Street Sweeping - Cor | nmercial/Art | | | | <u> </u> |
| 1319 Cleveland Ave S | | Citywide Street Lighti | ing | 0.58 | 49.00 | \$28.42 | |
| St Paul MN 55116-2653 | | | | | _ | \$79.38 | |
| *1319 CLEVELAND AVE S | | *** Owner and Taxpa | nyer *** | | | | |
| *Ward: 3 | | | Total Assessr | nent: | - | \$79.38 | |
| *Pending as of: 8/24/2021 | | | This Payment | | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Current Year | Interest: | | \$0.00 | |
| | | | Payoff Amou | ınt: | | \$79.38 | |

\$105.30

\$113.40

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Ratification Date: | Project: 20 Resolution | | Assmt: 210025 | Manager: LMR | Page 9 |
|---------------------------|---------------------------------------|-----------------------------------------|---------------------------|--------------|-----------------|--------------|--------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Craig Alan Stone | HIDDEN PARK VIEW SUBJ TO SEWER | Street Sweeping - Co | | 1.04 | 64.00 | \$66.56 | 20-28-23-14-0010 |
| 1377 Cleveland Ave S | ESMT LOT 16 | Citywide Street Light | ting | 0.58 | 64.00 | \$37.12 | |
| St Paul MN 55116-2653 | | | | | _ | \$103.68 | |
| *1377 CLEVELAND AVE S | | *** Owner and Taxpa | ayer *** | | | | |
| *Ward: 3 | | | Total Assess | sment: | | \$103.68 | |
| *Pending as of: 8/24/2021 | | | This Payme | nt: | | \$0.00 | |
| | | | Current Yea | r Principal: | | \$0.00 | |
| | | | Current Yea | r Interest: | | \$0.00 | |
| | | | Payoff Amo | ount: | | \$103.68 | |
| Christopher J Roy | HIDDEN PARK VIEW LOT 17 | Street Sweeping - Co. | mmercial/Art | | | | <u> </u> |
| 1696 Miss River Blvd S | | Citywide Street Light | | 0.58 | 171.00 | \$99.18 | 20-20-23-14-0011 |
| St Paul MN 55116-1825 | | | | | _ | \$277.02 | |
| *1696 MISSISSIPPI RIVER | | *** Owner and Taxpa | ayer *** | | | Ψ277.02 | |
| BLVD S | | | Total Assess | sment. | - | \$277.02 | |
| *Ward: 3 | | | This Paymen | | | \$0.00 | |
| *Pending as of: 8/24/2021 | | | Current Yea | | | \$0.00 | |
| | | | Current Yea | • | | \$0.00 | |
| | | | Payoff Amo | ount: | | \$277.02 | |
| Rebecca Kanninen | HIDDEN PARK VIEW SUBJ TO SEWER | Street Sweeping - Co. | mmercial/Art | | | | |
| 1688 Miss River Blvd S | ESMT LOT 18 | Citywide Street Light | | 0.58 | 70.00 | \$40.60 | 20-28-23-14-0012 |
| St Paul MN 55116-1825 | | , , | 6 | | _ | \$113.40 | |
| *1688 MISSISSIPPI RIVER | | *** Owner and Taxpa | ayer *** | | | \$113.40 | |
| BLVD S | | | Total Assess | ement: | | \$113.40 | |
| *Ward: 3 | | | This Payme | | | \$0.00 | |
| *Pending as of: 8/24/2021 | | | Current Yea | | | \$0.00 | |
| | | | Current Yea | • | | \$0.00 | |
| | | | Payoff Amo | | | \$113.40 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Ratification Date: | Project: 20 Resolution | | Assmt: 210025 | Manager: LMR | Page 10 |
|-----------------------------------------------------|--------------------------------------------------------------------|--------------------------------------------------|---------------------------|----------------------------------------|------------------|---------------------------|------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Bradley M Endicott 1682 Mississippi River Blvd S | HIDDEN PARK VIEW SUBJ TO SEWER ESMT LOT 19 | Street Sweeping - Com Citywide Street Lightin | | 1.04 | 70.00 70.00 | \$72.80 \$40.60 | 20-28-23-14-0013 |
| St Paul MN 55116-1825 *1682 MISSISSIPPI RIVER | | *** Owner and Taxpay | yer *** | | | \$113.40 | |
| BLVD S *Ward: 3 | | | Total Assess | | | \$113.40 | |
| *Ward: 3 *Pending as of: 8/24/2021 | | | This Paymer | | | \$0.00 | |
| Fending as 01. 8/24/2021 | | | Current Yea Current Yea | | | \$0.00 | |
| | | | Payoff Amo | | | \$0.00 \$113.40 | |
| | | | | | | | |
| Nicholas A Duvally Anne E Duvally | HIDDEN PARK VIEW SUBJ TO SEWER ESMT THE FOL SELY 5 FT OF LOT 22 | Street Sweeping - Com Citywide Street Lightin | | 1.04 0.58 | 125.00 125.00 | \$130.00 \$72.50 | 20-28-23-14-0014 |
| 1676 Mississippi River Blvd S | AND ALL OF LOTS 20 AND LOT 21 | enj mae su eet Eighti | 5 | 0.00 | = | \$202.50 | |
| St Paul MN 55116-1825 | | *** Owner and Taxpay | yer *** | | | \$202.30 | |
| *1676 MISSISSIPPI RIVER | | | Total Assess | ······································ | | \$202.50 | |
| BLVD S | | | This Paymer | | | \$202.30 \$0.00 | |
| *Ward: 3 | | | Current Yea | \$0.00 | | | |
| *Pending as of: 8/24/2021 | | | Current Yea | • | | \$0.00 | |
| | | | Payoff Amo | ount: | | \$202.50 | |
| | HIDDEN PARK VIEW SUBJ TO SEWER | Street Sweeping - Com | mercial/Art | | | | |
| Theresa S Glaser | ESMT THE FOL NWLY 15 FT OF LOT | Citywide Street Lightin | | 0.58 | 113.00 | \$65.54 | 20-28-23-14-0016 |
| 1650 Mississippi River Blvd S | 23 SELY 1/2 OF LOT 25 AND ALL OF LOT 24 | | | | = | \$183.06 | |
| St Paul MN 55116-1825 | 201 21 | *** Owner and Taxpay | yer *** | | | \$103.00 | |
| *1650 MISSISSIPPI RIVER | | | Total Assess | ement: | - | \$183.06 | |
| BLVD S | | | This Paymer | | | \$0.00 | |
| *Ward: 3 | | | Current Yea | | | \$0.00 | |
| *Pending as of: 8/24/2021 | | | Current Yea | • | | \$0.00 | |
| | | | Payoff Amo | ount: | | \$183.06 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by l | PID (Fee to Asmt) Ratification Date: | Project: 202 Resolution | | Assmt: 210025 | Manager: LMR | Page 11 |
|-----------------------------------------------------------------------------------|---------------------------------------------------------------------------------------------------|------------------------------------------------|---------------------------|------------|--------------------------|---------------------------------|------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Patrick J Mulcahy Elisabeth D Hammer 1632 Mississippi River Blvd S | HIDDEN PARK VIEW SUBJ TO SEWER ESMT EX SELY 10 FT LOT 27 AND ALL OF LOT 28 | Street Sweeping - Cor Citywide Street Light | | 1.04 | 127.00 127.00 | \$132.08 \$73.66 \$205.74 | 20-28-23-14-0018 |
| St Paul MN 55116-1825 | | *** Owner and Taxpa | nyer *** | | | \$203.74 | |
| *1632 MISSISSIPPI RIVER BLVD S | | Total Assessment: | | | | \$205.74 | |
| *Ward: 3 *Pending as of: 8/24/2021 | | | This Paymen Current Year | Principal: | | \$0.00 \$0.00 | |
| relianing as of. 6/24/2021 | | | Current Year Payoff Amou | | | \$0.00 \$205.74 | |
| Linda Carolan Taddonio | SECTION 20 TOWN 28 RANGE 23 S 60 FT OF FOL PART OF GOVT LOT 1 | Street Sweeping - Cor Citywide Street Light | | | | \$62.40 \$34.80 | 20-28-23-14-0019 |
| 1616 Mississippi River Blvd S St Paul MN 55116-1825 *1616 MISSISSIPPI RIVER | LYING N OF LOT 28 HIDDEN PK VIEW AND BET SD HIDDEN PK VIEW AND MISS RIV BLVD NO 2 IN SEC 20 | *** Owner and Taxpayer *** | | | = | \$97.20 | |
| BLVD S | TN 28 RN 23 | | Total Assessi | ment: | - | \$97.20 | |
| *Ward: 3 | | | This Paymen | | | \$0.00 | |
| *Pending as of: 8/24/2021 | | | Current Year | • | | \$0.00 | |
| | | | Interest: | | \$0.00 \$97.20 | | |
| | REGISTERED LAND SURVEY 265 | Street Sweeping - Cor | nmercial/Art | | | | |
| 806 Parkway Dr | TRACT A | Citywide Street Light | ing | 0.58 | 70.00 | \$40.60 | |
| St Paul MN 55106-1035 * 806 PARKWAY DR | | *** Owner and Taxpa | nyer *** | | | \$113.40 | |
| *Ward: 6 | | | Total Assessi | ment: | - | \$113.40 | |
| *Pending as of: 8/24/2021 | | | This Paymen | | | \$0.00 | |
| | | | Current Year | • | | \$0.00 | |
| | | | Current Year Payoff Amou | | | \$0.00 \$113.40 | |

\$597.78

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Ratification Date: | Project: 202 Resolution | | Assmt: 210025 | Manager: LMR | Page |
|-------------------------------------------|------------------------------------------------------------------------------------------------------------|--------------------------------------------------|----------------------------|------------------|-----------------|--------------------|---------------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Christian P Sunwall Kathleen M Nauertz | SECTION 20 TOWN 29 RANGE 22 VAC ALLEY ACCRUING & PART OF LOT 1 BLK 1 BUDDES ADD & PART OF | Street Sweeping - Com Citywide Street Lightin | | 1.04 0.58 | 51.00 51.00 | \$53.04 \$29.58 | 20-29-22-11-0022 |
| 789 Parkway Dr St Paul MN 55106-1036 | NEI/4 OF NEI/4 DESC AS COM AT NW COR OF SD LOT 1 TH S ON WL SD LOT 112.86 FT TH S 50DG 20MN 21S W30. | *** Owner and Taxpay | yer *** | | | \$82.62 | |
| *789 PARKWAY DR | | | Total Assess | ment: | | \$82.62 | |
| Ward: 6 | | | This Paymer | it: | | \$0.00 | |
| Pending as of: 8/24/2021 | | | Current Year | Principal: | | \$0.00 | |
| | | | Current Year | Interest: | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$82.62 | |
| Waite Property Management Llc | BUDDE'S ADDITION PART OF LOT 14 | Street Sweeping - Com | nmercial/Art | | | | |
| 231 Cartier Ave | BLK I BUDDES ADD & PART OF NE | Street Sweeping - Resi | dential Stree | 0.41 | 26.50 | \$10.87 | _, _, |
| Ames IA 50014-2211 | 1/4 OF NE 1/4 OF SEC 20 T29 R 22 DESC AS COM AT NW COR SD LOT 14 | Citywide Street Lightin | ng | 0.58 | 47.50 | \$27.55 | |
| *725 CALIFORNIA AVE E *Ward: 6 | TH S ON WL SD LOT 23.81 FT TO BEG TH S 50DG 17MN 5S E 56.09 FT TH S | *** Owner and Taxpay | yer *** | | _ | \$60.26 | |
| Pending as of: 8/24/2021 | | | Total Assess | ment: | - | \$60.26 | |
| | | | This Paymer | ıt: | | \$0.00 | |
| | | | Current Year | Principal: | | \$0.00 | |
| | | | Current Year Interest: | | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$60.26 | |
| | BUDDE'S ADDITION W 1/2 OF LOT 9 | Street Sweeping - Resi | dential Stree | | | | |
| 703 California Ave E | AND ALL OF LOT 8 BLK 1 | Citywide Street Lightin | | 0.58 | 59.00 | \$34.22 | 40-4 <i>7-44</i> -11-004/ |
| St Paul MN 55106-1003 | | | | | _ | \$58.41 | |
| *703 CALIFORNIA AVE E | | *** Owner and Taxpay | yer *** | | | | |
| Ward: 6 | | | Total Assess | ment: | | \$58.41 | |
| Pending as of: 8/24/2021 | | | This Paymer | it: | | \$0.00 | |
| | | | Current Year | Principal: | | \$0.00 | |
| | | | Current Year | Interest: | | \$0.00 | |
| | | | | | | | |

\$58.41

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date: | | 21SMSP #: | Assmt: 210025 | Manager: LMR | Page : |
|---------------------------|----------------------------------------------------------------|----------------------------------------------------------------------------|----------------|--------------|-----------------|--------------|--------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Troy E Sanders | M. STARK'S ADDITION N 1/2 OF VAC | Street Sweeping - Res | | 0.41 | 40.00 | \$16.40 | 20-29-22-11-0033 |
| Silvia L Sarasti | ALLEY ADJ & W 18.96 FT OF LOT 2 & E 21.04 FT OF LOT 3 BLK 1 | Citywide Street Lighti | ng | 0.58 | 40.00 | \$23.20 | |
| 718 Idaho Ave E | | | | | _ | \$39.60 | |
| St Paul MN 55106-1049 | | *** Owner and Taxpa | yer *** | | _ | | |
| *718 IDAHO AVE E | | | Total Assess | sment: | | \$39.60 | |
| *Ward: 6 | | | This Payme | nt: | | \$0.00 | |
| *Pending as of: 8/24/2021 | | | Current Yea | r Principal: | | \$0.00 | |
| | | | Current Yea | r Interest: | | \$0.00 | |
| | | | Payoff Amo | ount: | | \$39.60 | |
| | M. STARK'S ADDITION N 1/2 OF VAC | Street Sweeping - Res | idential Stree | | | | |
| 726 Idaho Ave E | ALLEY ACCRUING & THE E 40 FT OF | Citywide Street Lighti | ng | 0.58 | 40.00 | \$23.20 | 20 27 22 11 0000 |
| St Paul MN 55106-1049 | LOT 1 BLK 1 | | | | = | \$39.60 | |
| *726 IDAHO AVE E | | *** Owner and Taxpa | yer *** | | | | |
| *Ward: 6 | | | Total Assess | sment: | - | \$39.60 | |
| *Pending as of: 8/24/2021 | | | This Payment: | | | \$0.00 | |
| | | Current Year Principal: | | | | \$0.00 | |
| | | | Current Yea | r Interest: | | \$0.00 | |
| | | | Payoff Amo | ount: | | \$39.60 | |
| Lisa Mee Moua | M. STARK'S ADDITION S 135 49/100 FT | Street Sweeping - Res | idential Stree | | | | |
| 719 Iowa Ave E | OF VAC N-S ALLEY ALSO S 1/2 OF | Citywide Street Lighti | | 0.58 | 49.00 | \$28.42 | 20-27-22-11-0030 |
| St Paul MN 55105-1015 | VAC E-W ALLEY ADJ AND FOL W 28 58/100 FT OF LOT 9 BLK 1 | - | | | = | \$48.51 | |
| *719 IOWA AVE E | 30/10011 OF EGT / BER 1 | *** Owner and Taxpa | yer *** | | | Ψ10.51 | |
| *Ward: 6 | | | Total Assess | sment. | - | \$48.51 | |
| *Pending as of: 8/24/2021 | | | This Paymen | | | \$0.00 | |
| | | | Current Yea | | | \$0.00 | |
| | | | Current Yea | _ | | \$0.00 | |
| | | | Payoff Amo | ount: | | \$48.51 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date: | | Project: 202 Resolution | | Assmt: 210025 | Manager: LMR | Pa |
|------------------------------|------------------------------------------------------------------------------|-------------------------|----------------------------|--------------|-----------------|--------------|--------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Marilyn F Theesfeld | M. STARK'S ADDITION NO PART OF | Street Sweeping - Resi | dential Stree | 0.41 | 72.00 | \$29.52 | 20-29-22-11-0039 |
| 1596 Greenbrier St | VAC ALLEY ADJ AND FOL EX N 7 1/2 FT LOT 7 AND ALL OF LOT 8 BLK 1 | Citywide Street Lightin | ng | 0.58 | 72.00 | \$41.76 | |
| St Paul MN 55106-1047 | TTEOT / MAD THE OF BOT OBER T | | | | | \$71.28 | |
| *1596 GREENBRIER ST | | *** Owner and Taxpay | /er *** | | | | |
| Ward: 6 | | | Total Assess | ment: | - | \$71.28 | |
| *Pending as of: 8/24/2021 | | | This Paymer | nt: | | \$0.00 | |
| | | | Current Year Principal: | | | | |
| | | | Current Year | r Interest: | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$71.28 | |
| | SECTION 20 TOWN 29 RANGE 22 SUBJ | Street Sweeping - Resi | dential Stree | | | | |
| 895 W 7th St | TO AVE AND EX S 165 43/100 FT THE | Citywide Street Lightin | | 0.58 | 32.00 | \$18.56 | 20 29 22 11 0011 |
| t Paul MN 55102-3602 | W 32 25/100 FT OF E 165 13/100 FT OF NE 1/4 OF SW 1/4 OF NE 1/4 OF NE 1/4 | | | | - | \$31.68 | |
| *744 IDAHO AVE E | OF SEC 20 TN 29 RN 22 | *** Owner and Taxpay | /er *** | | | | |
| Ward: 6 | | | Total Assess | ment: | | \$31.68 | |
| Pending as of: 8/24/2021 | | | This Paymer | nt: | | \$0.00 | |
| | | | Current Year | r Principal: | | \$0.00 | |
| | | | Current Year | r Interest: | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$31.68 | |
| | SECTION 20 TOWN 29 RANGE 22 EX S | Street Sweeping - Resi | — — — - dential Stree | | | | |
| 756 Idaho Ave E | 165.43 FT; THE E 132.88 FT OF NE 1/4 | Citywide Street Lightin | | 0.58 | 133.00 | \$77.14 | 20-27-22-11-0043 |
| t Paul MN 55106-1049 | OF SW 1/4 OF NE 1/4 OF NE 1/4 IN SEC 20 TN 29 RN 22 | | | | _ | \$131.67 | |
| [*] 756 IDAHO AVE E | | *** Owner and Taxpay | /er *** | | | • | |
| Ward: 6 | | | Total Assess | ment: | | \$131.67 | |
| Pending as of: 8/24/2021 | | | This Paymer | | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Current Year | _ | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$131.67 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date: | | Project: 2021SMSP Resolution #: | | Assmt: 210025 | Manager: LMR | Page 16 |
|----------------------------------------------|----------------------------------------------------------------------------|----------------------------------------------------------------------|------------------------------------|----------------------|-------------------------|------------------------------|-------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Day Mu 766 Idaho Ave E St Paul MN 55106-1049 | PHALEN VIEW W 20 FT OF LOT 3 AND EX W 10 FT LOT 4 BLK 2 | Street Sweeping - Resid Alley Sweeping Citywide Street Lightin | | 0.41 0.14 0.58 | 50.00 50.00 50.00 | \$20.50 \$7.00 \$29.00 | 20-29-22-11-0047 |
| *766 IDAHO AVE E | | *** 0 1 T | *** | | _ | \$56.50 | |
| *Ward: 6 | | *** Owner and Taxpay | er *** | | | | |
| *Pending as of: 8/24/2021 | | | Total Assessi | ment: | | \$56.50 | |
| | | | This Paymen | it: | | \$0.00 | |
| | | | Current Year | Principal: | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amou | unt: | | \$56.50 | |
| | PHALEN VIEW EX E 10 FT LOT 2 AND | Street Sweeping - Resid | lential Stree | | | \$20.50 | <u> </u> |
| 770 Idaho Ave E | EX W 20 FT LOT 3 BLK 2 | Alley Sweeping | | 0.14 | 50.00 | \$7.00 | 20-27-22-11-00-48 |
| St Paul MN 55106-1049 | | Citywide Street Lightin | g | 0.58 | 50.00 | \$29.00 | |
| *770 IDAHO AVE E | | | | | _ | \$56.50 | |
| *Ward: 6 | | *** Owner and Taxpay | er *** | | | | |
| *Pending as of: 8/24/2021 | | | Total Assessi | ment: | - | \$56.50 | |
| | | | This Paymen | ıt: | | \$0.00 | |
| | | | Current Year | Principal: | | \$0.00 | |
| | | | Current Year | Interest: | | \$0.00 | |
| | | | Payoff Amou | unt: | | \$56.50 | |
| | DHALEN VIEW EV W 20 74/100 FT | Street Sweeping Decid | | | | | |
| Billie Jo Lori Shoen | PHALEN VIEW EX W 28 74/100 FT LOT 9 AND ALL OF LOT 10 BLK 2 | Street Sweeping - Resid Alley Sweeping | ientiai Stree | 0.41 0.14 | 51.00 | \$36.29 \$7.14 | 20-29-22-11-0050 |
| 775 Iowa Ave E St Paul MN 55106-1017 | | Citywide Street Lighting | σ | 0.14 | 88.50 | \$51.33 | |
| *775 IOWA AVE E | | City wide Succe Eighting | 5 | 0.50 | = | \$94.76 | |
| *Ward: 6 | | *** Owner and Taxpay | er *** | | | \$94.76 | |
| *Pending as of: 8/24/2021 | | | Total Assessi | ment: | - | \$94.76 | |
| | | | This Paymen | | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Current Year | _ | | \$0.00 | |
| | | | Payoff Amou | unt: | | \$94.76 | |

| 22:53:28 10/4/2021 | 10/4/2021 Public Improvement Assessment Roll by PID (Fee to Asmt) Project: 2021SMSP Ratification Date: Resolution #: | | | Assmt: 210025 | Manager: LMR | Page 17 | |
|-------------------------------------------------|----------------------------------------------------------------------------------------------------------------------|--------------------------------------------------------------------|----------------------------------------------|----------------------|-------------------------|------------------------------|-------------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Champa Lee 765 Iowa Ave E St Paul MN 55106-1017 | PHALEN VIEW EX W 8 74/100 FT LOT 7 AND W 18 74/100 FT OF LOT 8 BLK 2 | Street Sweeping - Resident Alley Sweeping Citywide Street Lighting | | 0.41 0.14 0.58 | 50.00 50.00 50.00 | \$20.50 \$7.00 \$29.00 | 20-29-22-11-0052 |
| *765 IOWA AVE E *Ward: 6 | | *** Owner and Taxpaye | er *** | | _ | \$56.50 | |
| *Pending as of: 8/24/2021 | | | Total Assessr | | | \$56.50 | |
| | | | This Payment Current Year Current Year | Principal: | | \$0.00 \$0.00 \$0.00 | |
| | | | Payoff Amou | | | \$56.50 | |
| Va Megn Thoj | PHALEN VIEW W 8 74/100 FT OF LOT | Street Sweeping - Resident | lential Stree | 0.41 | 51.00 | \$20.91 | <u>20-29-22-11-0053</u> |
| 761 Iowa Ave E St Paul MN 55106-1017 | 7 AND SUBJ TO ALLEY LOT 6 BLK 2 | Alley Sweeping Citywide Street Lighting | g | 0.14 0.58 | 51.00 51.00 | \$7.14 \$29.58 | |
| * 761 IOWA AVE E *Ward: 6 | | *** Owner and Taxpaye | er *** | | - | \$57.63 | |
| *Pending as of: 8/24/2021 | | | Total Assessr | | - | \$57.63 \$0.00 | |
| | | | This Payment: Current Year Principal: | | | | |
| | | | Current Year Interest: Payoff Amount: | | | \$0.00 \$57.63 | |
| Robert S Fredrickson | SECTION 20 TOWN 29 RANGE 22 SUBJ | Street Sweeping - Resid | | | | | |
| 757 Iowa Ave E | TO AVE S 165 FT MOL OF E 53 97/100 FT MOL OF NE 1/4 OF SW 1/4 OF NE | Citywide Street Lighting | | 0.58 | 54.00 | \$31.32 | 20-29-22-11-0054 |
| St Paul MN 55106-1017 *757 IOWA AVE E | 1/4 OF NE 1/4 OF SEC 20 TN 29 RN 22 | *** Owner and Taxpaye | er *** | | | \$53.46 | |
| *Ward: 6 *Pending as of: 8/24/2021 | | | Total Assessr | | - | \$53.46 | |
| 1 chaing as 01. 0/24/2021 | | This Payment: Current Year Principal: | | | | \$0.00 \$0.00 | |
| | | | Current Year | _ | | \$0.00 | |
| | | | Payoff Amou | int: | | \$53.46 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Ratification Date: | Project: 20 Resolution | | Assmt: 210025 | Manager: LMR | Page 18 |
|---------------------------|-----------------------------------------------------------------------------|--------------------------------------|---------------------------|--------------|-----------------|--------------|--------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Ge Xiong | SECTION 20 TOWN 29 RANGE 22 SUBJ | Street Sweeping - Res | | 0.41 | 53.00 | \$21.73 | 20-29-22-11-0056 |
| Mai Nhia Thao | TO AVE THE W 53 FT OF E 159 97/100 FT OF S 165 43/100 FT OF NE 1/4 OF | Citywide Street Light | ing | 0.58 | 53.00 | \$30.74 | |
| 751 Iowa Ave E | SW 1/4 OF NE 1/4 OF NE 1/4 0F SEC 20 | | | | | \$52.47 | |
| St Paul MN 55106-1017 | TN 29 RN 22 | *** Owner and Taxpa | ıyer *** | | | | |
| *751 IOWA AVE E | | | Total Assess | ment: | | \$52.47 | |
| *Ward: 6 | | | This Paymer | nt: | | \$0.00 | |
| *Pending as of: 8/24/2021 | | | Current Year | r Principal: | | \$0.00 | |
| | | | Current Year | r Interest: | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$52.47 | |
| Travis J Edwards | SECTION 20 TOWN 29 RANGE 22 W 60 | Street Sweeping - Res | sidential Streε | | | | 20-29-22-11-0059 |
| Neangela L Edwards | 6/10 FT OF S 165 43/100 FT OF NE 1/4 OF SW 1/4 OF NE 1/4 OF NE 1/4 (SUBJ | Citywide Street Light | ing | 0.58 | 60.00 | \$34.80 | |
| 739 Iowa Ave E | TO AVE) IN SEC 20 TN 29 RN 22 | | | | _ | \$59.40 | |
| St Paul MN 55106-1015 | | *** Owner and Taxpa | ıyer *** | | | | |
| *739 IOWA AVE E | | | Total Assess | ment: | - | \$59.40 | |
| *Ward: 6 | | | This Paymer | nt: | | \$0.00 | |
| *Pending as of: 8/24/2021 | | | Current Year | | | \$0.00 | |
| | | | Current Year | r Interest: | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$59.40 | |
| | PHALEN VIEW EX W 30 FT LOT 2 AND | Street Sweeping - Res | sidential Streε | | | | |
| 800 Idaho Ave E | ALL OF LOT 1 BLK 1 | Citywide Street Light | | 0.58 | 50.00 | \$29.00 | 20-27-22-11-0000 |
| St Paul MN 55106-1044 | | | | | = | \$49.50 | |
| *800 IDAHO AVE E | | *** Owner and Taxpa | yer *** | | | ψ.5.60 | |
| *Ward: 6 | | | Total Assess | ment: | • | \$49.50 | |
| *Pending as of: 8/24/2021 | | | This Paymer | nt: | | \$0.00 | |
| | | | Current Year | r Principal: | | \$0.00 | |
| | | | Current Year | r Interest: | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$49.50 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date: | | Project: 20 Resolution | | Assmt: 210025 | Manager: LMR | Page 19 |
|------------------------------------------|----------------------------------------------------------------------------|------------------------------------------------|---------------------------|-----------|------------------|--------------------|--------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Thong Thao Christine S Vang | PHALEN VIEW LOTS 4 AND LOT 5 BLK 1 | Street Sweeping - Res Citywide Street Light | | 0.41 | 103.00 103.00 | \$42.23 \$59.74 | 20-29-22-11-0062 |
| 782 Idaho Ave E St Paul MN 55106-1044 | | *** Owner and Taxpa | aver *** | | _ | \$101.97 | |
| *782 IDAHO AVE E | | 1 | Total Assess | ment: | - | \$101.97 | |
| *Ward: 6 | | | This Paymer | nt: | | \$0.00 | |
| *Pending as of: 8/24/2021 | | | Current Year | | | \$0.00 | |
| | | | Current Year | _ | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$101.97 | |
| | PHALEN VIEW N 25 FT OF LOT 12 | | | | | | |
| Robert E Barduson 1615 Arcade St | AND ALL OF LOT 11 BLK 1 | Street Sweeping - Res | | 0.41 | 71.00 | \$29.11 | 20-29-22-11-0066 |
| St Paul MN 55106-1040 | | Citywide Street Light | | 0.58 | 106.00 | \$61.48 | |
| *1615 ARCADE ST | | , . | C | | _ | \$126.99 | |
| *Ward: 6 | | *** Owner and Taxpa | ayer *** | | | \$120.77 | |
| *Pending as of: 8/24/2021 | | | Total Assessment: | | | \$126.99 | |
| | | This Payment: | | | | \$0.00 | |
| | | | Current Year | - | \$0.00 | | |
| | | | Current Year Interest: | | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$126.99 | |
| | PHALEN VIEW EX N 25 FT LOT 12 | Street Sweeping - Con | mmercial/Art | | | | |
| 1605 Arcade St | AND ALL OF LOT 13 BLK 1 | Citywide Street Light | ing | 0.58 | 65.00 | \$37.70 | 20 25 22 11 0007 |
| St Paul MN 55106-1040 | | | | | _ | \$105.30 | |
| *1605 ARCADE ST | | *** Owner and Taxpa | ayer *** | | | | |
| *Ward: 6 | | | Total Assess | ment: | | \$105.30 | |
| *Pending as of: 8/24/2021 | | | This Payment: | | | \$0.00 | |
| | | Current Year Principal: | | | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$105.30 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Ratification Date: | Project: 202 Resolution | | Assmt: 210025 | Manager: LMR | Page 20 |
|---------------------------|---------------------------------------|--------------------------------------|--------------------------|------------|-----------------|--------------|------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Lum Ze Lanai | PHALEN VIEW N 10 FT OF LOT 15 | Street Sweeping - Com | mercial/Art | 1.04 | 55.00 | \$57.20 | 20-29-22-11-0068 |
| Maw Win | AND ALL OF LOT 14 BLK 1 | Citywide Street Lightin | ıg | 0.58 | 55.00 | \$31.90 | |
| 1601 Arcade St | | | | | _ | \$89.10 | |
| St Paul MN 55106-1040 | | *** Owner and Taxpay | er *** | | | | |
| *1601 ARCADE ST | | | Total Assessi | nent: | - | \$89.10 | |
| *Ward: 6 | | | This Paymen | t: | | \$0.00 | |
| *Pending as of: 8/24/2021 | | | Current Year | Principal: | | \$0.00 | |
| | | | Current Year | Interest: | | \$0.00 | |
| | | | Payoff Amou | ınt: | | \$89.10 | |
| | PHALEN VIEW EX N 10 FT LOT 15 | Street Sweeping - Com | mercial/Art | | | | <u> </u> |
| Rickie Sanders | AND ALL OF LOT 16 BLK 1 | Street Sweeping - Resid | | 0.41 | 71.00 | \$29.11 | 20-27-22-11-0007 |
| 363 S Mccarrons Blvd | | Citywide Street Lightin | ıg | 0.58 | 111.00 | \$64.38 | |
| Roseville MN 55113-6911 | | | | | _ | \$135.09 | |
| *1595 ARCADE ST | | *** Owner and Taxpay | er *** | | | | |
| *Ward: 6 | | | Total Assessi | ment: | | \$135.09 | |
| *Pending as of: 8/24/2021 | | | This Paymen | t: | | \$0.00 | |
| | | | Current Year | Principal: | | \$0.00 | |
| | | | Current Year | Interest: | | \$0.00 | |
| | | | Payoff Amou | ınt: | | \$135.09 | |
| | PHALEN VIEW EX E 26 66/100 FT | Street Sweeping - Resid | — — — — dential Stree | | | | |
| Chue Y Lee | LOT 2 E 13 33/100 FT OF LOT 4 AND | Citywide Street Lightin | | 0.58 | 67.00 | \$38.86 | 20-27-22-11-00/1 |
| 786 Iowa Ave E | ALL OF LOT 3 BLK 4 | | | | _ | \$66.33 | |
| St Paul MN 55106-1020 | | *** Owner and Taxpay | er *** | | | ***** | |
| *786 IOWA AVE E | | | Total Assessi | ment: | | \$66.33 | |
| *Ward: 6 | | | This Paymen | | | \$0.00 | |
| *Pending as of: 8/24/2021 | | | Current Year | | | \$0.00 | |
| | | | Current Year | Interest: | | \$0.00 | |
| | | | Payoff Amou | ınt: | | \$66.33 | |

\$82.98

\$113.04

\$94.55

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Ratification Date: | Project: 20 Resolution | | Assmt: 210025 | Manager: LMR | Page 24 |
|---------------------------|---------------------------------------|--------------------------------------|---------------------------|--------------|--------------------|--------------|--------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Jane M Persoon | SANTUCCI ADDITION LOT 5 BLK 1 | Street Sweeping - Res | sidential Stree | 0.41 | 87.50 | \$35.88 | 20-29-22-11-0092 |
| 741 Hoyt Ave E | | Citywide Street Light | ing | 0.58 | 87.50 | \$50.75 | |
| St Paul MN 55106-1009 | | | | | _ | \$86.63 | |
| *741 HOYT AVE E | | *** Owner and Taxpa | ayer *** | | | | |
| *Ward: 6 | | | Total Assess | sment: | | \$86.63 | |
| *Pending as of: 8/24/2021 | | | This Paymer | \$0.00 | | | |
| | | | Current Yea | r Principal: | | \$0.00 | |
| | | | Current Yea | r Interest: | | \$0.00 | |
| | | | Payoff Amo | ount: | | \$86.63 | |
| | SANTUCCI ADDITION LOT 6 BLK 1 | Street Sweeping - Res | idential Stree | | | | <u> </u> |
| 745 Hoyt Ave E | | Citywide Street Light | | 0.58 | 49.00 | \$28.42 | 20-27-22-11-0073 |
| St Paul MN 55106-1009 | | | | | _ | \$48.51 | |
| *745 HOYT AVE E | | *** Owner and Taxpa | ayer *** | | | | |
| *Ward: 6 | | | Total Assess | sment: | - | \$48.51 | |
| *Pending as of: 8/24/2021 | | | This Paymer | nt: | | \$0.00 | |
| | | | Current Yea | r Principal: | \$0.00 | | |
| | | Current Year Interest: | | | | \$0.00 | |
| | | | Payoff Amo | ount: | | \$48.51 | |
| | SANTUCCI ADDITION LOT 7 BLK 1 | Street Sweeping - Res | idential Stree | | — — — — | | |
| Shengsy Xiong | | Citywide Street Light | | 0.58 | 49.00 | \$28.42 | 20-27-22-11-0074 |
| 751 Hoyt Ave E | | | | | _ | \$48.51 | |
| St Paul MN 55106-1009 | | *** Owner and Taxpa | ayer *** | | | | |
| *751 HOYT AVE E | | | Total Assess | ement: | - | \$48.51 | |
| *Ward: 6 | | | This Paymer | | | \$0.00 | |
| *Pending as of: 8/24/2021 | | | Current Yea | | | \$0.00 | |
| | | | Current Yea | • | | \$0.00 | |
| | | | Payoff Amo | ount: | | \$48.51 | |

\$58.76

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by I | PID (Fee to Asmt) Ratification Date: | Project: 20 Resolution | | Assmt: 210025 | Manager: LMR | Page 2 |
|-----------------------------------------|---------------------------------------------------------------------|-----------------------------------------|---------------------------|------------------|-----------------|--------------|------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Tracy Johnson | SANTUCCI ADDITION LOT 7 BLK 2 | Street Sweeping - Res | sidential Stree | 0.41 | 87.50 | | 20-29-22-11-0102 |
| 704 Iowa Ave E | | Alley Sweeping | | 0.14 | 52.00 | \$7.28 | _, _, |
| St Paul MN 55106-1016 | | Citywide Street Light | ting | 0.58 | 87.50 | \$50.75 | |
| *704 IOWA AVE E | | | | | _ | \$93.91 | |
| *Ward: 6 | | *** Owner and Taxpa | ayer *** | | | | |
| *Pending as of: 8/24/2021 | | | Total Asses | sment: | | \$93.91 | |
| | | | This Payme | ent: | | \$0.00 | |
| | | | Current Yea | | | \$0.00 | |
| | | | Current Yea | ar Interest: | | \$0.00 | |
| | | | Payoff Am | ount: | | \$93.91 | |
| | SANTUCCI ADDITION LOT 14 BLK 2 | Street Sweening Rec | | | | | |
| Jason Rosenbaum | SANTECCTABBITION FOR TABLE 2 | Street Sweeping - Res Alley Sweeping | sidential Street | 0.41 | 52.00 | \$7.28 | 20-29-22-11-0109 |
| Danielle Becker-Rosenbaum | | Citywide Street Light | ing | 0.14 | 89.00 | \$51.62 | |
| 735 Hoyt Ave E St Paul MN 55106-1007 | | , | 8 | | _ | \$95.39 | |
| *735 HOYT AVE E | | *** Owner and Taxpa | ayer *** | | | \$93.39 | |
| *Ward: 6 | | | Total Asses | sment: | | \$95.39 | |
| *Pending as of: 8/24/2021 | | | This Payme | ent: | | \$0.00 | |
| | | Current Year Principal: | | | \$0.00 | | |
| | | | Current Yea | ar Interest: | | \$0.00 | |
| | | | Payoff Am | ount: | | \$95.39 | |
| Thomas J Baker | BUDDE'S ADDITION VAC ALLEY | Street Sweeping - Co | mmercial/Art | | | | |
| Carmita M Baker | ACCRUING & PART OF LOT 7 | Citywide Street Light | | 0.58 | 134.00 | \$77.72 | 40-49-44-11-0113 |
| 745 Parkway Dr | LYINGSWLY OF LINE BEG AT INT OF W L OF E 15 FT OF LOT 4 & N L OF | , , | Ü | | _ | \$217.08 | |
| St Paul MN 55106-1034 | VACATED ALLEY TH SELY TO & AT | *** Owner and Taxpa | ayer *** | | | ψ21/.00 | |
| *745 PARKWAY DR | RT ANG TO SELY LINE OF SD LOT 7 & | | Total Asses | sment: | - | \$217.08 | |
| *Ward: 6 | | | This Payme | | | \$0.00 | |
| *Pending as of: 8/24/2021 | | | Current Yea | | | \$0.00 | |
| | | | Current Yea | ar Interest: | | \$0.00 | |
| | | | | | | | |

\$217.08

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Ratification Date: | Project: 2021SMSP Resolution #: | • | Assmt: 210025 | Manager: LMR | Page 27 |
|---------------------------------------------------------------------|----------------------------------------------------------------------------------------------------------------------|---------------------------------------------------------------------------------|-------------------------------------------------------------------------------------|----------------------|-------------------------|-------------------------------|------------------|
| Owner or Taxpayer | Property Description | Item Description | Unit I | Rate | Quantity | Charge Amts | Property ID |
| Erin Shawn Patrick Brown 757 Parkway Dr St Paul MN 55106-1034 | BUDDE'S ADDITION VAC ALLEY ACCRUING & PART OF LOT 7 LYINGNELY OF LINE BEG AT INT OF W L OF E 15 FT OF LOT 4 & N L OF | Street Sweeping - Commo Street Sweeping - Reside Citywide Street Lighting | ntial Stree | 1.04 0.41 0.58 | 27.00 32.50 59.50 | \$28.08 \$13.33 \$34.51 | 20-29-22-11-0114 |
| *757 PARKWAY DR *Ward: 6 | VACATED ALLEY TH SELY TO & AT RT ANG TO SELY LINE OF SD LOT 7 & | *** Owner and Taxpayer | *** Owner and Taxpayer *** Total Assessment: This Payment: Current Year Principal: | | | \$75.92 | |
| *Pending as of: 8/24/2021 | | • | | | | \$75.92 \$0.00 \$0.00 | |
| | | | Current Year Interest Payoff Amount: | t: | | \$0.00 \$75.92 | |
| Theresa A Timmons | BUDDE'S ADDITION EX E 15 FT & S 23 FT; LOT 4, & EX S 23 FT; LOT 5 BLK 2 | Street Sweeping - Reside | | 0.41 0.58 | 63.00 63.00 | \$25.83 \$36.54 | |
| 706 California Ave E St Paul MN 55106-1004 | ,201.,42.102811,201032112 | Citywide Street Lighting | *** Owner and Taxpayer *** | | | | |
| *706 CALIFORNIA AVE E *Ward: 6 | | ٠, - | | | | | |
| *Pending as of: 8/24/2021 | | | Total Assessment: | | | \$62.37 \$0.00 | |
| S | | | This Payment: Current Year Principal: | | | | |
| | | | Current Year Interest | | | \$0.00 \$0.00 | |
| | | | Payoff Amount: | | | \$62.37 | |
| Joseph B Burger | SANTUCCI ADDITION W 24.82 FT OF | Street Sweeping - Reside | ntial Stree (| 0.41 | | | |
| 1520 Winchell St | LOT 3 & ALL OF LOT 4 BLK 1 | Citywide Street Lighting | | 0.58 | 99.50 | \$57.71 | 20-27-22-11-0110 |
| St Paul MN 55106-1425 * 744 IOWA AVE E | | *** Owner and Taxpayer | . *** | | _ | \$98.51 | |
| *Ward: 6 | | - · - | Total Assessment: | | - | \$98.51 | |
| *Pending as of: 8/24/2021 | | | This Payment: | | | \$0.00 | |
| | | | Current Year Princip | al: | | \$0.00 | |
| | | | Current Year Interest | | | \$0.00 | |
| | |] | Payoff Amount: | | | \$98.51 | |

| 22:53:28 10/4/2021 | 2:53:28 10/4/2021 Public Improvement Assessment Roll by PID (Fee to Asmt) Project: 2021 Ratification Date: Resolution #3 | | | Assmt: 210025 | Manager: LMR | Page 28 | |
|------------------------------------|--------------------------------------------------------------------------------------------------------------------------|---------------------------|----------------|------------------|-----------------|-----------------|--------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Antionette Estis | M. STARK'S ADDITION EX THE S 24.5 | Street Sweeping - Comme | ercial/Art | 1.04 | 19.50 | \$20.28 | 20-29-22-11-0118 |
| Lee Estis | FT; LOT 5 AND ALL OF LOT 4 BLK 1 | Street Sweeping - Resider | | 0.41 | 73.50 | \$30.14 | |
| 1610 Greenbriar St | | Citywide Street Lighting | | 0.58 | 93.00 | \$53.94 | |
| St Paul MN 55106 | | | | | _ | \$104.36 | |
| *712 IDAHO AVE E | | *** Owner and Taxpayer | . *** | | | | |
| *Ward: 6 | | 7 | Total Assessm | nent: | | \$104.36 | |
| *Pending as of: 8/24/2021 | | 7 | This Payment: | : | | \$0.00 | |
| | | (| Current Year l | Principal: | | \$0.00 | |
| | | (| Current Year l | Interest: | | \$0.00 | |
| | | 1 | Payoff Amou | nt: | | \$104.36 | |
| | M. STARK'S ADDITION THE S 24.5 FT | Street Sweeping - Resider | ntial Stree | | | | |
| Lee S Estis Iii Antionette R Estis | LOT 5 ALL OF LOT 6 AND THE N 7.5 | Citywide Street Lighting | | 0.58 | 82.00 | \$47.56 | 20-29-22-11-0119 |
| 1610 Greenbrier St | FT OF LOT 7 BLK 1 | , | | | _ | \$81.18 | |
| St Paul MN 55106-1047 | | *** Owner and Taxpayer | . *** | | | \$61.16 | |
| *1610 GREENBRIER ST | | - | Total Assessm | | | \$81.18 | |
| *Ward: 6 | | | This Payment: | | | \$0.00 | |
| *Pending as of: 8/24/2021 | | | Current Year l | | | \$0.00 | |
| | | | Current Year 1 | | | \$0.00 | |
| | | | Payoff Amou | | | \$81.18 | |
| | | | | | | | |
| St Paul Public Housing Agency | CLAPP-THOMSSEN GREENBRIER | Street Sweeping - Commo | | 1.04 | 192.00 | <u>\$199.68</u> | 20-29-22-12-0001 |
| Attn: Comptroller | PARK ADDITION LOT 1 BLK 1 | Citywide Street Lighting | | 0.58 | 192.00 | \$111.36 | |
| 555 Wabasha St N Ste 400 | | | | | | \$311.04 | |
| St Paul MN 55102-1602 | | *** Owner and Taxpayer | . *** | | _ | | |
| *1676 PAYNE AVE | | 7 | Total Assessm | nent: | | \$311.04 | |
| *Ward: 6 | | 7 | This Payment | | | \$0.00 | |
| *Pending as of: 8/24/2021 | | (| Current Year l | Principal: | | \$0.00 | |
| | | | Current Year 1 | | | \$0.00 | |
| | | 1 | Payoff Amou | nt: | | \$311.04 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | y PID (Fee to Asmt) Ratification Date: | Project: 202 Resolution | | Assmt: 210025 | Manager: LMR | Page 29 |
|---------------------------|---------------------------------------|-------------------------------------------|----------------------------|--------------|-----------------|--------------|--------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Firas Younis | CLAPP-THOMSSEN GREENBRIER | Street Sweeping - Con | | 1.04 | 58.00 | \$60.32 | 20-29-22-12-0002 |
| 650 Larpenteur Ave E | PARK ADDITION LOT 2 BLK 1 | Citywide Street Lighti | ng | 0.58 | 58.00 | \$33.64 | |
| St Paul MN 55117-2528 | | | | | | \$93.96 | |
| *650 LARPENTEUR AVE E | | *** Owner and Taxpa | yer *** | | | | |
| *Ward: 6 | | | Total Assess | ment: | | \$93.96 | |
| *Pending as of: 8/24/2021 | | | This Paymer | nt: | | \$0.00 | |
| | | | Current Year | r Principal: | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$93.96 | |
| | CLAPP-THOMSSEN GREENBRIER | Street Sweeping - Con | nmercial/Art | | | | 20-29-22-12-0005 |
| 668 Larpenteur Ave E | PARK ADDITION LOT 5 BLK 1 | Citywide Street Lighti | ng | 0.58 | 58.00 | \$33.64 | 20 27 22 12 0000 |
| St Paul MN 55117-2528 | | | | | _ | \$93.96 | |
| *668 LARPENTEUR AVE E | | *** Owner and Taxpa | yer *** | | | | |
| *Ward: 6 | | | Total Assess | ment: | - | \$93.96 | |
| *Pending as of: 8/24/2021 | | | This Paymer | nt: | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Current Year | r Interest: | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$93.96 | |
| | CLAPP-THOMSSEN GREENBRIER | | nmercial/Art | | | | |
| 686 Larpenteur Ave E | PARK ADDITION LOT 8 BLK 1 | Citywide Street Lighti | | 0.58 | 58.00 | \$33.64 | 20-27-22-12-0000 |
| St Paul MN 55117-2528 | | | | | _ | \$93.96 | |
| *686 LARPENTEUR AVE E | | *** Owner and Taxpa | yer *** | | | ***** | |
| *Ward: 6 | | | Total Assess | ment: | - | \$93.96 | |
| *Pending as of: 8/24/2021 | | | This Paymer | | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Current Year | - | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$93.96 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll b | y PID (Fee to Asmt) Ratification Date: | Project: 20 Resolution | | Assmt: 210025 | Manager: LMR | Page 30 |
|-----------------------------|--------------------------------------|-------------------------------------------|---------------------------|------------------|-----------------|--------------|--------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Zillow Homes Property Trust | CLAPP-THOMSSEN GREENBRIER | Street Sweeping - Co | | 1.04 | 58.00 | \$60.32 | 20-29-22-12-0010 |
| 1301 N 2nd Ave Flr 31 | PARK ADDITION LOT 10 BLK 1 | Citywide Street Light | ting | 0.58 | 58.00 | \$33.64 | |
| Seattle WA 98101-0003 | | | | | | \$93.96 | |
| *696 LARPENTEUR AVE E | | *** Owner and Taxp | ayer *** | | _ | | |
| *Ward: 6 | | | Total Assess | sment: | | \$93.96 | |
| *Pending as of: 8/24/2021 | | | This Payme | nt: | | \$0.00 | |
| | | | Current Yea | | | \$0.00 | |
| | | | Current Yea | | | \$0.00 | |
| | | | Payoff Amo | ount: | | \$93.96 | |
| | CLAPP-THOMSSEN GREENBRIER | Street Sweeping - Re | sidential Stree | | | | 20-29-22-12-0011 |
| 695 California Ave E | PARK ADDITION LOT 11 BLK 1 | Citywide Street Light | ting | 0.58 | 58.00 | \$33.64 | |
| St Paul MN 55106-1001 | | | | | _ | \$57.42 | |
| *695 CALIFORNIA AVE E | | *** Owner and Taxp | ayer *** | | | | |
| *Ward: 6 | | | Total Assess | sment: | - | \$57.42 | |
| *Pending as of: 8/24/2021 | | | This Payme | nt: | | \$0.00 | |
| | | | Current Yea | \$0.00 | | | |
| | | | Current Yea | Year Interest: | | \$0.00 | |
| | | | Payoff Amo | ount: | | \$57.42 | |
| William Nao Chue Vang | CLAPP-THOMSSEN GREENBRIER | Street Sweeping - Re | sidential Stree | | | | |
| Chao L Vang | PARK ADDITION LOT 13 BLK 1 | Citywide Street Light | | 0.58 | 58.00 | \$33.64 | 20-27-22-12-0013 |
| 683 California Ave E | | | | | = | \$57.42 | |
| St Paul MN 55106-1001 | | *** Owner and Taxp | ayer *** | | | | |
| *683 CALIFORNIA AVE E | | | Total Assess | sment: | | \$57.42 | |
| *Ward: 6 | | | This Paymen | | | \$0.00 | |
| *Pending as of: 8/24/2021 | | | Current Yea | | | \$0.00 | |
| | | | Current Yea | r Interest: | | \$0.00 | |
| | | | Payoff Amo | ount: | | \$57.42 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | y PID (Fee to Asmt) Ratification Date: | Project: 20 Resolution | | Assmt: 210025 | Manager: LMR | Page 31 |
|---------------------------|---------------------------------------|-------------------------------------------|---------------------------|-------------|-----------------|----------------|--------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Roger Barcus | CLAPP-THOMSSEN GREENBRIER | Street Sweeping - Res | | 0.41 | 58.00 | \$23.78 | 20-29-22-12-0014 |
| 2205 Matterhorn Ln | PARK ADDITION LOT 14 BLK 1 | Citywide Street Light | ing | 0.58 | 58.00 | \$33.64 | |
| St Paul MN 55119-5608 | | | | | | \$57.42 | |
| *677 CALIFORNIA AVE E | | *** Owner and Taxpa | ayer *** | | | | |
| *Ward: 6 | | | Total Assess | sment: | | \$57.42 | |
| *Pending as of: 8/24/2021 | | | This Paymer | nt: | | \$0.00 | |
| | | | Current Yea | | | \$0.00 | |
| | | | Current Yea | r Interest: | | \$0.00 | |
| | | | Payoff Amo | ount: | | \$57.42 | |
| Yoseph Wondimtsega | CLAPP-THOMSSEN GREENBRIER | Street Sweeping - Res | sidential Streε | | | | 20-29-22-12-0016 |
| 665 California Ave E | PARK ADDITION LOT 16 BLK 1 | Citywide Street Light | ting | 0.58 | 58.00 | \$33.64 | 20 29 22 12 0010 |
| St Paul MN 55106-1001 | | | | | _ | \$57.42 | |
| *665 CALIFORNIA AVE E | | *** Owner and Taxpa | ayer *** | | | | |
| *Ward: 6 | | | Total Assess | sment: | - | \$57.42 | |
| *Pending as of: 8/24/2021 | | | This Paymer | | | \$0.00 | |
| | | | Current Yea | \$0.00 | | | |
| | | | Current Yea | r Interest: | | \$0.00 | |
| | | | Payoff Amo | ount: | | \$57.42 | |
| | CLAPP-THOMSSEN GREENBRIER | Street Sweeping - Res | sidential Streε | | | | |
| Ibrahim Jime Mohamed | PARK ADDITION LOT 17 BLK 1 | Citywide Street Light | | 0.58 | 58.00 | \$33.64 | 20-27-22-12-0017 |
| 659 California Ave E | | | | | _ | \$57.42 | |
| St Paul MN 55106-1001 | | *** Owner and Taxpa | ayer *** | | | <i>\$571.2</i> | |
| *659 CALIFORNIA AVE E | | | Total Assess | ement: | | \$57.42 | |
| *Ward: 6 | | | This Paymer | | | \$0.00 | |
| *Pending as of: 8/24/2021 | | | Current Yea | | | \$0.00 | |
| | | | Current Yea | | | \$0.00 | |
| | | | Payoff Amo | ount: | | \$57.42 | |

\$70.40

\$39.60

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Ratification Date: | Project: 2021: Resolution #: | SMSP | Assmt: 210025 | Manager: LMR | Page 34 |
|---------------------------------|--------------------------------------------------|--------------------------------------|---------------------------------|-----------|-----------------|------------------|--------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Amy Mork | UFTON GROVE, PLAT 1, RAMSEY, CO., | Street Sweeping - Res | | 0.41 | 60.00 | \$24.60 | 20-29-22-12-0030 |
| 601 California Ave E | MINN. E 1/2 OF LOT 14 AND ALL OF LOT 13 BLK 1 | Citywide Street Lighti | ng | 0.58 | 60.00 | \$34.80 | |
| St Paul MN 55130-3013 | | *** Owner and Taxpa | var *** | | | \$59.40 | |
| *601 CALIFORNIA AVE E *Ward: 6 | | Owner and Taxpa | · | | - | | |
| *Pending as of: 8/24/2021 | | | Total Assessme | ent: | | \$59.40 | |
| | | | This Payment: | | | \$0.00 | |
| | | | Current Year P Current Year Ir | | | \$0.00 \$0.00 | |
| | | | Payoff Amoun | | | \$59.40 | |
| | | | | | | | |
| Eugene I Johnson | UFTON GROVE, PLAT 1, RAMSEY, CO., | Street Sweeping - Res | idential Stree | 0.41 | 60.00 | \$24.60 | |
| 595 California Ave E | MINN. W 1/2 OF LOT 14 AND ALL OF | Alley Sweeping | | 0.14 | 126.00 | \$17.64 | 20 27 22 12 0001 |
| St Paul MN 55130-3013 | LOT 15 BLK 1 | Citywide Street Lighti | ng | 0.58 | 60.00 | \$34.80 | |
| *595 CALIFORNIA AVE E | | | | | | \$77.04 | |
| *Ward: 6 | | *** Owner and Taxpa | yer *** | | | | |
| *Pending as of: 8/24/2021 | | | Total Assessme | ent: | | \$77.04 | |
| | | | This Payment: | | | \$0.00 | |
| | | | Current Year P | - | | \$0.00 | |
| | | | Current Year In | | | \$0.00 | |
| | | | Payoff Amoun | it: | | \$77.04 | |
| Luke Israel Rasmussen | UFTON GROVE, PLAT 1, RAMSEY, CO., | Street Sweeping - Con | nmercial/Art | 1.04 | | <u>\$18.72</u> | |
| 2475 Hemlock Ln N | MINN. LOT 16 BLK 1 | Street Sweeping - Res | idential Streε | 0.41 | 56.50 | \$23.17 | |
| Plymouth MN 55441-4153 | | Alley Sweeping | | 0.14 | 36.00 | \$5.04 | |
| *1652 EDGERTON ST | | Citywide Street Lighti | ng | 0.58 | 74.50 | \$43.21 | |
| *Ward: 6 | | | | | | \$90.14 | |
| *Pending as of: 8/24/2021 | | *** Owner and Taxpa | yer *** | | _ | | |
| | | | Total Assessme | ent: | | \$90.14 | |
| | | | This Payment: | | | \$0.00 | |
| | | Current Year Principal: | | | | \$0.00 | |
| | | | Current Year In | | | \$0.00 | |
| | | | Payoff Amoun | it: | | \$90.14 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by I | PID (Fee to Asmt) Ratification Date: | Project: 2021SMSP A Resolution #: | | Assmt: 210025 | Manager: LMR | Page 35 |
|--------------------------------------------------------------|-----------------------------------------------------------------------------------------|--------------------------------------------------------------------|----------------------------------------------|-------------------------|-------------------------|-------------------------------|------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Michelle K Yang 1660 Edgerton St St Paul MN 55130-3056 | UFTON GROVE, PLAT 1, RAMSEY, CO., MINN. LOTS 17 AND LOT 18 BLK 1 | Street Sweeping - Com Alley Sweeping Citywide Street Lightin | | 1.04 0.14 0.58 | 80.00 80.00 80.00 | \$83.20 \$11.20 \$46.40 | 20-29-22-12-0033 |
| *1660 EDGERTON ST *Ward: 6 | *** Owner and Tax | | er *** | | _ | \$140.80 | |
| *Pending as of: 8/24/2021 | | | Total Assessi | | - | \$140.80 \$0.00 | |
| | | | Current Year Current Year | Principal: Interest: | | \$0.00 \$0.00 | |
| | | | Payoff Amou | unt: | | \$140.80 | |
| Ty Brookman 1666 Edgerton St St Paul MN 55130-3056 | UFTON GROVE, PLAT I, RAMSEY, CO., MINN. S 13 FT OF LOT 20 AND ALL OF LOT 19 BLK 1 | Street Sweeping - Com Alley Sweeping Citywide Street Lightin | | 1.04 0.14 0.58 | 53.00 53.00 53.00 | \$55.12 \$7.42 \$30.74 | 20-29-22-12-0034 |
| *1666 EDGERTON ST *Ward: 6 | | *** Owner and Taxpay | er *** | | \$93.28 | | |
| *Pending as of: 8/24/2021 | | | Total Assessi This Paymen Current Year | t: | | \$93.28 \$0.00 \$0.00 | |
| | | | Current Year Interest: Payoff Amount: | | | \$0.00 \$93.28 | |
| G Randal Lundin | UFTON GROVE, PLAT I, RAMSEY, CO., | Street Sweeping - Com | mercial/Art | 1.04 | 57.00 | \$59.28 | |
| 1674 Edgerton St St Paul MN 55130-3056 | MINN. EX S 13 FT LOT 20 AND EX N QUADRANGULAR PART MEASURING 7 FT ON W END AND 10 | Alley Sweeping Citywide Street Lightin | g | 0.14 0.58 | 57.00 57.00 | \$7.98 \$33.06 | |
| *1674 EDGERTON ST *Ward: 6 | FT ON E END LOT 21 BLK 1 | *** Owner and Taxpay | er *** | | | \$100.32 | |
| *Pending as of: 8/24/2021 | | | Total Assessi | | | \$100.32 \$0.00 | |
| | | | Current Year Current Year | Principal: | | \$0.00 \$0.00 | |
| | | | Payoff Amou | | | \$100.32 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by I | PID (Fee to Asmt) Ratification Date: | • | | Assmt: 210025 | Manager: LMR | Page 36 |
|-------------------------------------------------------------------------------------|--------------------------------------------------------------------------------------------------------------------------------------|-------------------------------------------------------------------|-----------------------------------------------------------------------------------------------|------------------------------------|-------------------------|----------------------------------------------------|------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Andrew J Brooks 1680 Edgerton St St Paul MN 55130-3056 | UFTON GROVE, PLAT 1, RAMSEY, CO., MINN. N QUADRANGULAR PART OF LOT 21 MEASURING 7 FT ON W END AND 10 FT ON E END AND ALL OF | Street Sweeping - Con Alley Sweeping Citywide Street Lighti | | 1.04 0.14 0.58 | 79.50 46.00 79.50 | \$82.68 \$6.44 \$46.11 | 20-29-22-12-0036 |
| *1680 EDGERTON ST *Ward: 6 | LOT 22 BLK 1 | *** Owner and Taxpa | yer *** | | _ | \$135.23 | |
| *Pending as of: 8/24/2021 | | | Total Assess This Payme Current Yea Current Yea Payoff Amo | nt: r Principal: r Interest: | | \$135.23 \$0.00 \$0.00 \$0.00 \$135.23 | |
| Clyde Ford Wagner 610 Larpenteur Ave E St Paul MN 55117-2512 *610 LARPENTEUR AVE E | UFTON GROVE, PLAT 1, RAMSEY, CO., MINN. E 20 FT OF LOT 26 AND ALL OF LOT 27 BLK 1 | Street Sweeping - Con Citywide Street Lighti *** Owner and Taxpa | ng | 1.04 0.58 | 60.00 | \$62.40 \$34.80 \$97.20 | 20-29-22-12-0038 |
| *Ward: 6 *Pending as of: 8/24/2021 | | | Total Assessment: This Payment: Current Year Principal: Current Year Interest: Payoff Amount: | | | \$97.20 \$0.00 \$0.00 \$0.00 \$97.20 | |
| Wesley D Scherping 620 Larpenteur Ave E St Paul MN 55117-2512 *620 LARPENTEUR AVE E | UFTON GROVE, PLAT 1, RAMSEY, CO., MINN. LOTS 28 AND LOT 29 BLK 1 | Street Sweeping - Con Citywide Street Lighti *** Owner and Taxpa | ng | 1.04 0.58 | 80.00 80.00 | \$83.20 \$46.40 \$129.60 | |
| *Ward: 6 *Pending as of: 8/24/2021 | | o mer and razpa | Total Assess This Payme Current Yea Current Yea Payoff Amo | nt: r Principal: r Interest: | | \$129.60 \$0.00 \$0.00 \$0.00 \$129.60 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date: | | Project: 20 Resolution | | Assmt: 210025 | Manager: LMR | Page 38 |
|---------------------------------------------------------------------|----------------------------------------------------------------------------------------------------|---------------------------------------------------------------------|-----------------------------------------------------------------------------------------------|------------------------------------|-------------------------|--------------------------------------------------|------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Gwen M Moore 113 B Bridgewater Way N Stillwater MN 55082-5201 | UFTON GROVE, PLAT I, RAMSEY, CO., MINN. EX W 35 FT LOT 9 AND ALL OF LOT 8 BLK 2 | Street Sweeping - Resi Alley Sweeping Citywide Street Lightin | | 0.41 0.14 0.58 | 45.00 85.50 45.00 | \$18.45 \$11.97 \$26.10 | 20-29-22-12-0045 |
| *623 IDAHO AVE E *Ward: 6 | | *** Owner and Taxpa | yer *** | | _ | \$56.52 | |
| *Pending as of: 8/24/2021 | | | Total Assess | | - | \$56.52 \$0.00 | |
| | | | Current Year Current Year | • | | \$0.00 \$0.00 | |
| | | | Payoff Amo | unt: | | \$56.52 | |
| Christopher Merizalde Jenny Merizalde 609 Idaho Ave E | UFTON GROVE, PLAT 1, RAMSEY, CO., MINN. EX E 15 92/100 FT LOT 11 AND EX W 18 FT LOT 12 BLK 2 | Street Sweeping - Resi Alley Sweeping Citywide Street Lightin | | 0.41 0.14 0.58 | 46.00 46.00 46.00 | \$18.86 \$6.44 \$26.68 | 20-29-22-12-0048 |
| St Paul MN 55130-3022 *609 IDAHO AVE E | | *** Owner and Taxpayer *** | | | | \$51.98 | |
| *Ward: 6 *Pending as of: 8/24/2021 | | | Total Assessment: This Payment: Current Year Principal: Current Year Interest: Payoff Amount: | | | \$51.98 \$0.00 \$0.00 \$0.00 \$51.98 | |
| Calvin Douglas Woody Iii Malina C Xiong 603 Idaho Ave E | UFTON GROVE, PLAT 1, RAMSEY, CO., MINN. W 18 FT OF LOT 12 AND EX W 12 FT LOT 13 BLK 2 | Street Sweeping - Resi Alley Sweeping Citywide Street Lightin | | 0.41 0.14 0.58 | 46.00 46.00 46.00 | \$18.86 \$6.44 \$26.68 | |
| St Paul MN 55130-3022 * 603 IDAHO AVE E | *** Owner and T | | yer *** | | _ | \$51.98 | |
| *Ward: 6 *Pending as of: 8/24/2021 | | | Total Assess This Paymer Current Year Current Year Payoff Amo | nt: r Principal: r Interest: | | \$51.98 \$0.00 \$0.00 \$0.00 \$51.98 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by I | | | | Manager: LMR | Page 3 | |
|-----------------------------------------------|-------------------------------------------------------|---------------------------|-------------------------|-----------------|--------------|--------------------|--|
| Owner or Taxpayer | Property Description | Item Description | <u>Unit Rat</u> | <u>Quantity</u> | Charge Amts | Property ID | |
| Wendy S Norquist | UFTON GROVE, PLAT 1, RAMSEY, CO., | Street Sweeping - Resider | ntial Stree 0.4 | 46.00 | \$18.86 | 20-29-22-12-0050 | |
| 599 Idaho Ave E | MINN. W 12 FT OF LOT 13 AND EX W 6 FT LOT 14 BLK 2 | Alley Sweeping | 0.14 | | \$6.44 | | |
| St Paul MN 55130-3022 | FI LOT 14 BLK 2 | Citywide Street Lighting | 0.58 | 3 46.00 | \$26.68 | | |
| *599 IDAHO AVE E | | | | = | \$51.98 | | |
| *Ward: 6 | | *** Owner and Taxpayer | *** | | | | |
| *Pending as of: 8/24/2021 | | _ 1 | Total Assessment: | - | \$51.98 | | |
| | | 7 | This Payment: | | \$0.00 | | |
| | | (| Current Year Principal: | \$0.00 | | | |
| | | (| Current Year Interest: | | \$0.00 | | |
| | | I | Payoff Amount: | | \$51.98 | | |
| James A Ferry | UFTON GROVE, PLAT I, RAMSEY, CO., | Street Sweeping - Comme | ercial/Art 1.0 | | | | |
| | MINN. S 18 FT OF LOT 17 AND ALL OF | Street Sweeping - Resider | | | \$23.17 | 20-29-22-12-0052 | |
| 1624 Edgerton St LOT St Paul MN 55130-3055 | LOT 16 BLK 2 | Alley Sweeping | 0.14 | | \$7.56 | | |
| | | Citywide Street Lighting | 0.53 | | \$48.43 | | |
| *1624 EDGERTON ST *Ward: 6 | | , , | | = | \$107.24 | | |
| *Pending as of: 8/24/2021 | | *** Owner and Taxpayer | \$107.24 | | | | |
| | | - 1 | Total Assessment: | \$107.24 | | | |
| | | 7 | This Payment: | | \$0.00 | | |
| | | (| Current Year Principal: | | \$0.00 | | |
| | | (| Current Year Interest: | | \$0.00 | | |
| | | I | Payoff Amount: | | \$107.24 | | |
| | UFTON GROVE, PLAT I, RAMSEY, CO., | Street Sweeping - Comme | | 50.00 | | | |
| 1636 Edgerton St | MINN. EX S 30 FT LOT 18 AND ALL OF | Alley Sweeping | 0.14 | | \$7.00 | 20-29-22-12-0054 | |
| St Paul MN 55130-3055 | LOT 19 BLK 2 | Citywide Street Lighting | 0.53 | | \$29.00 | | |
| | | eng mae su eet zigning | 0.0 | = | | | |
| *1636 EDGERTON ST *Ward: 6 | | *** Owner and Taxpayer | *** | | \$88.00 | | |
| *Pending as of: 8/24/2021 | | - · - - | Total Assessment: | | \$88.00 | | |
| | | | This Payment: | | \$0.00 | | |
| | | | Current Year Principal: | | \$0.00 | | |
| | | | Current Year Interest: | | \$0.00 | | |
| | | | Payoff Amount: | | \$88.00 | | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by I | PID (Fee to Asmt) Ratification Date: | Project: 202 Resolution # | | Assmt: 210025 | Manager: LMR | Page 40 | |
|---------------------------------------------|-----------------------------------------|--------------------------------------|------------------------------|------------------|-----------------|----------------|--------------------|--|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID | |
| Charlene G Imgrund | UFTON GROVE, PLAT 1, RAMSEY, CO., | Street Sweeping - Reside | ential Stree | 0.41 | 60.00 | \$24.60 | 20-29-22-12-0057 | |
| 594 California Ave | MINN. W 1/2 OF LOT 24 AND ALL OF | Alley Sweeping | | 0.14 | 93.00 | \$13.02 | | |
| St Paul MN 55130-3012 | LOT 23 BLK 2 | Citywide Street Lighting | 3 | 0.58 | 60.00 | \$34.80 | | |
| *594 CALIFORNIA AVE E | | | | | _ | \$72.42 | | |
| *Ward: 6 | | *** Owner and Taxpaye | er *** | | | | | |
| *Pending as of: 8/24/2021 | | | Total Assessn | nent: | | \$72.42 | | |
| | | | This Payment | : | | \$0.00 | | |
| | | | Current Year | Principal: | | \$0.00 | | |
| | | | Current Year | Interest: | | \$0.00 | | |
| | | | Payoff Amou | nt: | | \$72.42 | | |
| Variath C Haslashan | UFTON GROVE, PLAT 1, RAMSEY, CO., | Street Sweeping - Reside | ential Stree | | | | | |
| Kenneth C Hoelscher 618 California Ave E | MINN. LOT 29 BLK 2 | Alley Sweeping | ciitiai Sticc | 0.41 | 40.00 | \$5.60 | 20-29-22-12-0061 | |
| St Paul MN 55130-3012 | | Citywide Street Lighting | <u>r</u> | 0.58 | 40.00 | \$23.20 | | |
| *618 CALIFORNIA AVE E | | , | > | | _ | \$45.20 | | |
| *Ward: 6 | | *** Owner and Taxpaye | er *** | | | \$43.20 | | |
| *Pending as of: 8/24/2021 | | • • | Total Assessn | nont: | | \$45.20 | | |
| • | | | This Payment: | | | \$0.00 | | |
| | | | Current Year | | | \$0.00 | | |
| | | | Current Year | _ | | \$0.00 | | |
| | | | Payoff Amou | | | \$45.20 | | |
| | | | · | | | | | |
| | UFTON GROVE, PLAT 1, RAMSEY, CO., | Street Sweeping - Reside | ential Streε | 0.41 | | <u>\$16.40</u> | | |
| Candace Yogerst | MINN. LOT 30 BLK 2 | Alley Sweeping | | 0.14 | 83.00 | \$11.62 | 20 29 22 12 0002 | |
| 620 California Ave E | | Citywide Street Lighting | 3 | 0.58 | 40.00 | \$23.20 | | |
| St Paul MN 55130-3012 | | | | | _ | \$51.22 | | |
| *620 CALIFORNIA AVE E | | *** Owner and Taxpaye | er *** | | | | | |
| *Ward: 6 | | | Total Assessn | nent: | | \$51.22 | | |
| *Pending as of: 8/24/2021 | | | This Payment | | | \$0.00 | | |
| | | | Current Year | Principal: | | \$0.00 | | |
| | | | Current Year | Interest: | | \$0.00 | | |
| | | | Payoff Amou | nt: | | \$51.22 | | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date: | | Project: 2021Si Resolution #: | MSP | Assmt: 210025 | 5 Manager: LMR | Page 41 |
|------------------------------------------|----------------------------------------------------------------------------|----------------------------------------------------------------------|-------------------------------|----------------------------------------|-------------------------|------------------------------|------------------|
| Owner or Taxpayer | Property Description | Item Description | <u>U</u> | nit Rate | Quantity | Charge Amts | Property ID |
| Tianna Jones 1617 Payne Ave | UFTON GROVE, PLAT 1, RAMSEY, CO., MINN. LOT 1 BLK 3 | Street Sweeping - Comm Street Sweeping - Reside Alley Sweeping | | 1.04 0.41 0.14 | 18.00 57.00 36.00 | \$18.72 \$23.37 \$5.04 | 20-29-22-12-0063 |
| St Paul MN 55130-3059 *1617 PAYNE AVE | | Citywide Street Lighting | | 0.58 | 75.00 | \$43.50 | |
| *Ward: 6 | | | | | | \$90.63 | |
| *Pending as of: 8/24/2021 | | *** Owner and Taxpayer | *** | | | | |
| | | ; | Total Assessmer | nt: | - | \$90.63 | |
| | | | This Payment: | | | \$0.00 | |
| | | | Current Year Pri | 1 | | \$0.00 \$0.00 | |
| | | | Current Year Interest: | | | | |
| | | | Payoff Amount | : | | \$90.63 | |
| | UFTON GROVE, PLAT I, RAMSEY, CO., | Street Sweeping - Comm | ercial/Art | 1.04 | | \$41.60 | 20-29-22-12-0066 |
| 1601 Payne Ave | MINN. LOT 5 BLK 3 | Alley Sweeping | | 0.14 | 40.00 | \$5.60 | |
| St Paul MN 55130-3059 *1601 PAYNE AVE | | Citywide Street Lighting | | 0.58 | 40.00 | \$23.20 | |
| | | | | | _ | \$70.40 | |
| *Ward: 6 | | *** Owner and Taxpayer *** | | | | | |
| *Pending as of: 8/24/2021 | | , | Total Assessmer | nt: | - | \$70.40 | |
| | | • | This Payment: | | | \$0.00 | |
| | | (| Current Year Principal: | | | \$0.00 | |
| | | | Current Year Int | erest: | | \$0.00 | |
| | | Payoff Amount: | | | | \$70.40 | |
| Kim L Christianson | UFTON GROVE, PLAT I, RAMSEY, CO., | Street Sweeping - Comm | ercial/Art | —————————————————————————————————————— | | | <u> </u> |
| 635 Iowa Ave E | MINN. LOT 7 BLK 3 | Street Sweeping - Reside | | 0.41 | 57.00 | \$23.37 | 20-23-22-12-0000 |
| St Paul MN 55130-3026 | | Alley Sweeping | | 0.14 | 36.00 | \$5.04 | |
| *635 IOWA AVE E | | Citywide Street Lighting | | 0.58 | 75.00 | \$43.50 | |
| *Ward: 6 | | | | | _ | \$90.63 | |
| *Pending as of: 8/24/2021 | | *** Owner and Taxpayer | *** | | - | | |
| | | | Total Assessmer | nt: | | \$90.63 | |
| | | | This Payment: | | | \$0.00 | |
| | | | Current Year Pri | • | | \$0.00 | |
| | | | Current Year Int | | | \$0.00 | |
| | | | Payoff Amount | • | | \$90.63 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date: | | Project: 2021SMSP Resolution #: | | Assmt: 210025 | Manager: LMR | Page 42 |
|---------------------------|----------------------------------------------------------------------------|--------------------------|------------------------------------|------------|-----------------|--------------|------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Jacob Wasmund | UFTON GROVE, PLAT 1, RAMSEY, CO., | Street Sweeping - Resid | lential Stree | 0.41 | 120.00 | \$49.20 | 20-29-22-12-0069 |
| Allyson Wasmund | MINN. LOTS 8 9 AND LOT 10 BLK 3 | Alley Sweeping | | 0.14 | 126.00 | \$17.64 | |
| 623 Iowa Ave E | | Citywide Street Lighting | g | 0.58 | 120.00 | \$69.60 | |
| St Paul MN 55130-3026 | | | | | | \$136.44 | |
| *623 IOWA AVE E | | *** Owner and Taxpay | er *** | | | | |
| *Ward: 6 | | | Total Assessm | nent: | | \$136.44 | |
| *Pending as of: 8/24/2021 | | | This Payment | : | | \$0.00 | |
| | | | Current Year | Principal: | | \$0.00 | |
| | | | Current Year | Interest: | | \$0.00 | |
| | | | Payoff Amou | nt: | | \$136.44 | |
| | UFTON GROVE, PLAT I, RAMSEY, CO., | Street Sweeping - Resid | | 0.41 | | \$32.80 | <u> </u> |
| 603 Iowa Ave E | MINN. LOTS 11 & LOT 12 BLK 3 | Citywide Street Lightin | | 0.58 | 80.00 | \$46.40 | 20-29-22-12-0070 |
| St Paul MN 55130-3026 | | | | | = | \$79.20 | |
| *603 IOWA AVE E | | *** Owner and Taxpay | er *** | | | Ψ17.20 | |
| *Ward: 6 | | | Total Assessm | aant: | | \$79.20 | |
| *Pending as of: 8/24/2021 | | | This Payment | | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Current Year | - | | \$0.00 | |
| | | | Payoff Amou | | | \$79.20 | |
| | | | · | | | | |
| | UFTON GROVE, PLAT 1, RAMSEY, CO., | Street Sweeping - Resid | lential Streε | 0.41 | | | <u> </u> |
| Virginia Berthiaume | MINN. W 20 FT OF LOT 14 AND ALL | Alley Sweeping | | 0.14 | 126.00 | \$17.64 | 20-27-22-12-0072 |
| 595 Iowa Ave E | OF LOT 15 BLK 3 | Citywide Street Lightin | g | 0.58 | 60.00 | \$34.80 | |
| St Paul MN 55130-3026 | | | | | _ | \$77.04 | |
| *595 IOWA AVE E | | *** Owner and Taxpay | er *** | | | | |
| *Ward: 6 | | | Total Assessm | nent: | | \$77.04 | |
| *Pending as of: 8/24/2021 | | | This Payment | : | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Current Year | - | | \$0.00 | |
| | | | Payoff Amou | nt: | | \$77.04 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date: | | Project: 202 Resolution | | Assmt: 210025 | Manager: LMR | Page 43 |
|--------------------------------------------------|----------------------------------------------------------------------------------------------------------|--------------------------------------------------------------------|-----------------------------|----------------------|-------------------------|------------------------------|------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Jeffrey Lidberg Allison Rodlund 1596 Edgerton St | UFTON GROVE, PLAT 1, RAMSEY, CO., MINN. S 14 65/100 FT OF LOT 18 AND EX S 9 65/100 FT LOT 17 BLK 3 | Street Sweeping - Com Alley Sweeping Citywide Street Lightin | | 1.04 0.14 0.58 | 45.00 45.00 45.00 | \$46.80 \$6.30 \$26.10 | 20-29-22-12-0074 |
| St Paul MN 55130-3053 *1596 EDGERTON ST | | *** Owner and Taxpay | /er *** | | _ | \$79.20 | |
| *Ward: 6 *Pending as of: 8/24/2021 | | | Total Assess | | | \$79.20 | |
| Tollang as on 0/2 l/2021 | | | This Paymer Current Year | r Principal: | | \$0.00 \$0.00 | |
| | | | Current Year Payoff Amo | | | \$0.00 \$79.20 | |
| | UFTON GROVE, PLAT I, RAMSEY, CO., | Street Sweeping - Com | | | | | |
| Say B Wah | MINN. S 25 35/100 FT OF LOT 20 AND | Alley Sweeping | microidi/1110 | 0.14 | 44.00 | \$6.16 | 20-29-22-12-0076 |
| 1608 Edgerton St | EX S 21 65/100 FT LOT 19 BLK 3 | Citywide Street Lightin | ng | 0.58 | 44.00 | \$25.52 | |
| St Paul MN 55130-3053 *1608 EDGERTON ST | | *** Owner and Taxpay | /er *** | | | \$77.44 | |
| *Ward: 6 | | | Total Assess | ment: | | \$77.44 | |
| *Pending as of: 8/24/2021 | | | This Paymer | | | \$0.00 | |
| | | | Current Year | - | | \$0.00 | |
| | | | Current Year Payoff Amo | | | \$0.00 \$77.44 | |
| | | | | | | | |
| Joseph Becker Freddie A Perteet Becker | UFTON GROVE, PLAT 1, RAMSEY, CO., MINN. E 4 FT MOL OF ALLEY VAC W | Street Sweeping - Residual Sweeping | dential Stree | 0.41 0.14 | 44.00 126.00 | \$18.04 \$17.64 | 20-29-22-12-0079 |
| 3464 Savannah Ave | OF AND ADJ AND LOT 23 BLK 3 | Citywide Street Lightin | ng | 0.58 | 44.00 | \$25.52 | |
| White Bear Lake MN 55110-4579 | | | | | _ | \$61.20 | |
| *594 IDAHO AVE E | | *** Owner and Taxpay | /er *** | | | | |
| *Ward: 6 | | | Total Assess | ment: | | \$61.20 | |
| *Pending as of: 8/24/2021 | | | This Paymer | | | \$0.00 | |
| | | | Current Year | - | | \$0.00 \$0.00 | |
| | | | Payoff Amo | | | \$61.20 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by I | PID (Fee to Asmt) Ratification Date: | Project: 2021Si Resolution #: | MSP | Assmt: 210025 | Manager: LMR | Page 4 |
|-------------------------------------------|-------------------------------------------------------------------|-------------------------------------------------------------|----------------------------------|----------------------------------------|------------------|--------------------|------------------|
| Owner or Taxpayer | Property Description | Item Description | <u>U</u> | nit Rate | Quantity | Charge Amts | Property ID |
| Hpa Borrower 2018-1 Ml Llc | UFTON GROVE, PLAT 1, RAMSEY, CO., | Street Sweeping - Reside | | 0.41 | 60.00 | \$24.60 | 20-29-22-12-0081 |
| 120 S Riverside Plz Suite 2000 | MINN. E 1/2 OF LOT 25 AND ALL OF LOT 26 BLK 3 | Citywide Street Lighting | ; | 0.58 | 60.00 | \$34.80 | |
| Chicago IL 60606-6995 | | | | | | \$59.40 | |
| *606 IDAHO AVE E | | *** Owner and Taxpaye | r *** | | | | |
| *Ward: 6 | | | Total Assessmen | t: | | \$59.40 | |
| *Pending as of: 8/24/2021 | | | This Payment: | | | \$0.00 | |
| | | | Current Year Pri | ncipal: | | \$0.00 | |
| | | | Current Year Into | erest: | | \$0.00 | |
| | | | Payoff Amount: | | | \$59.40 | |
| | | | | | | | |
| Scot A Tuma | UFTON GROVE, PLAT 1, RAMSEY, CO., MINN. LOT 30 BLK 3 | Street Sweeping - Reside | ential Stree | 0.41 | 40.00 | \$16.40 | 20-29-22-12-0084 |
| Lynn M Olson Tuma | American So BER 5 | Alley Sweeping Citywide Street Lighting | | 0.14 0.58 | 126.00 40.00 | \$17.64 \$23.20 | |
| 624 Idaho Ave E | | Citywide Street Lighting | • | 0.56 | 0.00 | · | |
| St Paul MN 55130-3023 *624 IDAHO AVE E | | *** Owner and Taxpayer *** | | | | \$57.24 | |
| *Ward: 6 | | Total Assessment: | | | | \$57.24 | |
| *Pending as of: 8/24/2021 | | | This Payment: | | | \$0.00 | |
| | | | Current Year Pri | ncipal: | | \$0.00 | |
| | | | Current Year Inte | erest: | | \$0.00 | |
| | | | Payoff Amount: | | | \$57.24 | |
| | LUTTON CROVE BLAT L BANGEY CO | Street Sweeping - Comm | | —————————————————————————————————————— | 37.50 | | |
| Dorothy L Paddock Jr | UFTON GROVE, PLAT 1, RAMSEY, CO., MINN. LOTS 1 AND LOT 2 BLK 4 | Street Sweeping - Communication Street Sweeping - Residence | | 0.41 | 57.00 | \$39.00 \$23.37 | 20-29-22-12-0085 |
| 1589 Payne Ave St Paul MN 55130-3057 | | Alley Sweeping | iniai Sirce | 0.14 | 75.00 | \$10.50 | |
| *1589 PAYNE AVE | | Citywide Street Lighting | | 0.58 | 94.50 | \$54.81 | |
| *Ward: 6 | | , , | | | = | \$127.68 | |
| *Pending as of: 8/24/2021 | | *** Owner and Taxpaye | r *** | | | \$127.00 | |
| | | | Total Assessmen | t: | | \$127.68 | |
| | | | This Payment: | | | \$0.00 | |
| | | | Current Year Pri | | | \$0.00 | |
| | | | Current Year Into | | | \$0.00 | |
| | | | Payoff Amount: | | | \$127.68 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Ratification Date: | Project: 202 | | Assmt: 210025 | Manager: LMR | Page 45 |
|---------------------------|---------------------------------------|--------------------------------------|--------------------------|--------------|-----------------|--------------|------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Stacy M Flink | UFTON GROVE, PLAT 1, RAMSEY, CO., | Street Sweeping - Comr | mercial/Art | 1.04 | 40.00 | \$41.60 | 20-29-22-12-0086 |
| Seng Lee | MINN. LOT 3 BLK 4 | Alley Sweeping | | 0.14 | 40.00 | \$5.60 | |
| 1581 Payne Ave | | Citywide Street Lighting | g | 0.58 | 40.00 | \$23.20 | |
| St Paul MN 55130-3057 | | | | | | \$70.40 | |
| *1581 PAYNE AVE | | *** Owner and Taxpaye | er *** | | | | |
| *Ward: 6 | | | Total Assess | ment: | | \$70.40 | |
| *Pending as of: 8/24/2021 | | | This Paymer | nt: | | \$0.00 | |
| | | | Current Year | r Principal: | | \$0.00 | |
| | | | Current Year | r Interest: | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$70.40 | |
| | UFTON GROVE, PLAT I, RAMSEY, CO., | Street Sweeping - Resid | — — — - Iential Stree | | 318.00 | | 20 20 22 12 0000 |
| 2123 Fairmount Ave | MINN. LOTS 8 THRU LOT 15 BLK 4 | Alley Sweeping | ichidal Stree | 0.14 | 567.00 | \$79.38 | 20-29-22-12-0089 |
| St Paul MN 55105-1149 | | Citywide Street Lighting | g | 0.58 | 318.00 | \$184.44 | |
| *601 HOYT AVE E | | | | | _ | \$394.20 | |
| *Ward: 6 | | *** Owner and Taxpayo | er *** | | | ψ371.20 | |
| *Pending as of: 8/24/2021 | | | Total Assess | ment: | - | \$394.20 | |
| | | | This Paymer | nt: | | \$0.00 | |
| | | | Current Year | r Principal: | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$394.20 | |
| Monica N Thao | UFTON GROVE, PLAT I, RAMSEY, CO., | Street Sweeping - Comr | mercial/Art | | | | |
| 1568 Edgerton St | MINN. LOT 17 BLK 4 | Alley Sweeping | meretal / tre | 0.14 | 39.00 | \$5.46 | 20-29-22-12-0091 |
| St Paul MN 55130-3052 | | Citywide Street Lighting | g | 0.58 | 39.00 | \$22.62 | |
| *1568 EDGERTON ST | | | | | _ | \$68.64 | |
| *Ward: 6 | | *** Owner and Taxpaye | er *** | | | \$ | |
| *Pending as of: 8/24/2021 | | | Total Assess | ment: | - | \$68.64 | |
| | | | This Paymer | nt: | | \$0.00 | |
| | | | Current Year | r Principal: | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$68.64 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by l | PID (Fee to Asmt) Ratification Date: | Project: 202 Resolution | | Assmt: 210025 | Manager: LMR | Page 46 |
|---------------------------|-----------------------------------------|--------------------------------------|--------------------------|--------------|-----------------|--------------|------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Dennis J Torelli | UFTON GROVE, PLAT 1, RAMSEY, CO., | Street Sweeping - Com | mercial/Art | 1.04 | 39.00 | \$40.56 | 20-29-22-12-0092 |
| 1572 Edgerton St | MINN. LOT 18 BLK 4 | Alley Sweeping | | 0.14 | 39.00 | \$5.46 | |
| St Paul MN 55130-3052 | | Citywide Street Lightin | ıg | 0.58 | 39.00 | \$22.62 | |
| *1572 EDGERTON ST | | | | | | \$68.64 | |
| *Ward: 6 | | *** Owner and Taxpay | er *** | | | | |
| *Pending as of: 8/24/2021 | | | Total Assess | ment: | - | \$68.64 | |
| | | | This Paymer | nt: | | \$0.00 | |
| | | | Current Year | r Principal: | | \$0.00 | |
| | | | Current Year | r Interest: | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$68.64 | |
| <u> </u> | UFTON GROVE, PLAT I, RAMSEY, CO., | Street Sweeping - Com | | | | | |
| Htun Htun Pat Pat | MINN. LOT 19 BLK 4 | Alley Sweeping - Colli | iliciciai/Ait | 0.14 | 39.00 | \$5.46 | 20-29-22-12-0093 |
| 1576 Edgerton St | | Citywide Street Lightin | ισ | 0.58 | 39.00 | \$22.62 | |
| St Paul MN 55130-3052 | | , , | 6 | | = | \$68.64 | |
| *1576 EDGERTON ST | | *** Owner and Taxpay | er *** | | | \$00.04 | |
| *Ward: 6 | | | Total Assess | ment: | = | \$68.64 | |
| *Pending as of: 8/24/2021 | | | This Paymer | nt: | | \$0.00 | |
| | | | Current Year | r Principal: | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$68.64 | |
| Jonathan D Born | UFTON GROVE, PLAT I, RAMSEY, CO., | Street Sweeping - Resid | — — — - Iential Stree | | | | |
| 596 Iowa Ave E | MINN. E 24 FT OF LOT 24 AND W 28 FT | Alley Sweeping | ichilai Strec | 0.14 | 52.00 | \$7.28 | 20-29-22-12-0098 |
| St Paul MN 55130-3027 | OF LOT 25 BLK 4 | Citywide Street Lightin | ıg | 0.58 | 52.00 | \$30.16 | |
| *596 IOWA AVE E | | | | | = | \$58.76 | |
| *Ward: 6 | | *** Owner and Taxpay | er *** | | | \$50.70 | |
| *Pending as of: 8/24/2021 | | | Total Assess | ment: | • | \$58.76 | |
| | | | This Paymer | nt: | | \$0.00 | |
| | | | Current Year | r Principal: | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$58.76 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date: | | Project: 2021SMSP Resolution #: | | Assmt: 210025 | Manager: LMR | Page 47 |
|--------------------------------------|----------------------------------------------------------------------------|--------------------------|------------------------------------|------------|-----------------|--------------|------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Sia Sarah Yang | UFTON GROVE, PLAT 1, RAMSEY, CO., | Street Sweeping - Resid | lential Stree | 0.41 | 62.00 | \$25.42 | 20-29-22-12-0099 |
| 600 Iowa Ave E | MINN. EX W 28 FT LOT 25 AND W 10 FT OF LOT 27 AND ALL OF LOT 26 | Alley Sweeping | | 0.14 | 62.00 | \$8.68 | |
| St Paul MN 55130-3027 | BLK 4 | Citywide Street Lightin | g | 0.58 | 62.00 | \$35.96 | |
| *600 IOWA AVE E | | | | | | \$70.06 | |
| *Ward: 6 | | *** Owner and Taxpay | er *** | | | | |
| *Pending as of: 8/24/2021 | | | Total Assess | ment: | - | \$70.06 | |
| | | | This Paymen | ıt: | | \$0.00 | |
| | | | Current Year | Principal: | | \$0.00 | |
| | | | Current Year | Interest: | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$70.06 | |
| | LIETON CROVE BLAT L BAMSEY CO | Street Sweeping - Resid | lantial Strac | | 70.00 | \$28.70 | |
| Corum A Enwall 610 Iowa Ave E | UFTON GROVE, PLAT 1, RAMSEY, CO., MINN. EX W 10 FT OF LOT 27 AND | Alley Sweeping - Resid | iciliai Succ | 0.41 | 70.00 | \$9.80 | 20-29-22-12-0100 |
| St Paul MN 55130-3027 | ALL OF LOT 28 BLK 4 | Citywide Street Lighting | g | 0.58 | 70.00 | \$40.60 | |
| *610 IOWA AVE E | | , | 0 | | _ | \$79.10 | |
| *Ward: 6 | | *** Owner and Taxpay | er *** | | | \$79.10 | |
| *Pending as of: 8/24/2021 | | | Total Assess | ment: | - | \$79.10 | |
| | | | This Paymen | nt: | | \$0.00 | |
| | | | Current Year | Principal: | | \$0.00 | |
| | | | Current Year | Interest: | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$79.10 | |
| Margaret P. Dutak | UFTON GROVE, PLAT I, RAMSEY, CO., | Street Sweeping - Resid | lential Stree | | | | |
| Margaret R Dutcher 628 Iowa Ave E | MINN. LOT 30 BLK 4 | Alley Sweeping - Resid | iciliai Succ | 0.41 | 82.00 | \$11.48 | 20-29-22-12-0102 |
| St Paul MN 55130-3027 | | Citywide Street Lighting | g | 0.58 | 40.00 | \$23.20 | |
| *628 IOWA AVE E | | | C | | _ | \$51.08 | |
| *Ward: 6 | | *** Owner and Taxpay | er *** | | | \$31.06 | |
| *Pending as of: 8/24/2021 | | | Total Assess | ment: | = | \$51.08 | |
| | | | This Paymen | | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Current Year | _ | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$51.08 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date: | | Project: 20 Resolution | | Assmt: 210025 | Manager: LMR | Page 48 |
|-------------------------------------------|-----------------------------------------------------------------------------|---------------------------------------------------------|---------------------------------------|-----------|-----------------|--------------------------|--------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Brandon Rucci Yolanda Rucci | UFTON GROVE, PLAT 1, RAMSEY, CO., MINN. LOT 4 & W 1/2 OF LOTS 5, 6 & | Street Sweeping - Re Citywide Street Light | | 0.41 | 57.00 57.00 | \$23.37 \$33.06 | 20-29-22-12-0104 |
| 689 Idaho Ave E St Paul MN 55106-1011 | LOT 7BLK 6 | *** Owner and Taxp | Owner and Taxpayer *** | | | | |
| *689 IDAHO AVE E *Ward: 6 | | | Total Assess | | | \$56.43 \$0.00 | |
| *Pending as of: 8/24/2021 | | | This Payment: Current Year Principal: | | | | |
| | | | Current Yea Payoff Amo | | | \$0.00 \$56.43 | |
| | UFTON GROVE, PLAT I, RAMSEY, CO., | Street Sweeping - Re | sidential Streε | | | | |
| Jay Doo 675 Idaho Ave E | MINN. LOTS 10 AND LOT 11 BLK 6 | Citywide Street Light | ting | 0.58 | 80.00 | \$46.40 \$79.20 | |
| St Paul MN 55106-1011 | | *** Owner and Taxpayer *** | | | | | |
| *675 IDAHO AVE E *Ward: 6 | | Total Assessment: This Payment: Current Year Principal: | | | | \$79.20 | |
| *Pending as of: 8/24/2021 | | | | | | \$0.00 \$0.00 | |
| | | Current Year Interest: Payoff Amount: | | | | \$0.00 \$79.20 | |
| Tour For | UFTON GROVE, PLAT I, RAMSEY, CO., | | | | | | |
| Tana Fry 663 Idaho Ave E | MINN. LOTS 12 AND LOT 13 BLK 6 | Citywide Street Light | | 0.58 | 80.00 | \$46.40 | 20-29-22-12-0108 |
| St Paul MN 55106-1011 *663 IDAHO AVE E | | *** Owner and Taxp | ayer *** | | _ | \$79.20 | |
| *Ward: 6 | | | Total Assess | sment: | - | \$79.20 | |
| *Pending as of: 8/24/2021 | | | This Paymer | | | \$0.00 | |
| | | | Current Yea Current Yea | • | | \$0.00 \$0.00 | |
| | | | Payoff Amo | | | \$79.20 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | | Project: 2021SM Resolution #: | MSP | Assmt: 210025 | Manager: LMR | Page 49 |
|------------------------------------|----------------------------------------------------|---------------------------|----------------------------------|----------|-----------------|--------------|------------------|
| Owner or Taxpayer | Property Description | Item Description | <u>U</u> 1 | nit Rate | Quantity | Charge Amts | Property ID |
| Nathan J Badger | UFTON GROVE, PLAT 1, RAMSEY, CO., | Street Sweeping - Reside | ntial Stree | 0.41 | 80.00 | \$32.80 | 20-29-22-12-0109 |
| Tracy J Trojanowski | MINN. LOTS 14 AND LOT 15 BLK 6 | Citywide Street Lighting | | 0.58 | 80.00 | \$46.40 | |
| 655 Idaho Ave E | | | | | _ | \$79.20 | |
| St Paul MN 55106-1011 | | *** Owner and Taxpayer | . *** | | | | |
| *655 IDAHO AVE E | | , | Total Assessmen | t: | | \$79.20 | |
| *Ward: 6 *Pending as of: 8/24/2021 | | • | This Payment: | | | \$0.00 | |
| Fending as of: 8/24/2021 | | | Current Year Prin | _ | | \$0.00 | |
| | | | Current Year Inte | | | \$0.00 | |
| | |] | Payoff Amount: | | | \$79.20 | |
| | UFTON GROVE, PLAT 1, RAMSEY, CO., | Street Sweeping - Commo | ercial/Art | 1.04 | | \$34.32 | |
| 1624 Payne Ave | MINN. EX N 10 FT LOT 17 AND ALL OF LOT 16 BLK 6 | Street Sweeping - Residen | | 0.41 | 57.00 | \$23.37 | |
| St Paul MN 55130-3153 | OF LOT TO BLK 0 | Citywide Street Lighting | | 0.58 | 90.00 | \$52.20 | |
| *1624 PAYNE AVE | | | | | | \$109.89 | |
| *Ward: 6 | | *** Owner and Taxpayer | . *** | | | | |
| *Pending as of: 8/24/2021 | | - | Total Assessmen | t: | - | \$109.89 | |
| | | | This Payment: | | | \$0.00 | |
| | | | Current Year Pri | | | \$0.00 | |
| | | | Current Year Inte | | | \$0.00 | |
| | | 1 | Payoff Amount: | | | \$109.89 | |
| Opendoor Property Trust I | UFTON GROVE, PLAT 1, RAMSEY, CO., | Street Sweeping - Commo | ercial/Art | 1.04 | | <u> </u> | |
| 410 N Scottsdale Rd Ste 1600 | MINN. N 10 FT OF LOT 17 AND ALL OF LOT 18 BLK 6 | Citywide Street Lighting | | 0.58 | 50.00 | \$29.00 | |
| Tempe AZ 85281-0976 | OF LOT 18 BLK 6 | | | | _ | \$81.00 | |
| *1630 PAYNE AVE | | *** Owner and Taxpayer | . *** | | | | |
| *Ward: 6 | | - - | Total Assessmen | t: | - | \$81.00 | |
| *Pending as of: 8/24/2021 | | , | This Payment: | | | \$0.00 | |
| | | (| Current Year Prin | ncipal: | | \$0.00 | |
| | | (| Current Year Inte | erest: | | \$0.00 | |
| | | 1 | Payoff Amount: | | | \$81.00 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Ratification Date: | Project: 202 | | Assmt: 210025 | Manager: LMR | Page 50 |
|--------------------------------------------------------------------------------------------------|------------------------------------------------------------------------------------------|-----------------------------------------------------------------------------------------------------|---------------------------|-------------------------------|--------------------------|-------------------------------------------------------------------------------------------------|------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Ger Her 682 California Ave E | UFTON GROVE, PLAT I, RAMSEY, CO., MINN. E 13.33 FT OF LOT 29 & ALL OF LOT 30 BLK 6 | Street Sweeping - Residence Citywide Street Lighting | | 0.41 | 53.00 53.00 | \$21.73 \$30.74 | 20-29-22-12-0120 |
| St Paul MN 55106-1002 | | *** Owner and Taxpay | *** | | | \$52.47 | |
| *682 CALIFORNIA AVE E *Ward: 6 | | · · · Owner and Taxpay | | | | | |
| *Pending as of: 8/24/2021 | | | Total Assess | | | \$52.47 | |
| 1 thanks as on 0.2 1.2021 | | | This Paymen | | | \$0.00 | |
| | | | Current Year Current Year | _ | | \$0.00 \$0.00 | |
| | | | Payoff Amor | | | \$52.47 | |
| Nou Vang 691 Iowa Ave E St Paul MN 55106-1036 *691 IOWA AVE E *Ward: 6 *Pending as of: 8/24/2021 | UFTON GROVE, THIRD PLAT S 41 25/100 FT OF FOL LOTS 2 AND LOT 3 BLK 1 | Street Sweeping - Com Street Sweeping - Resic Citywide Street Lightin *** Owner and Taxpay | dential Stree | t: Principal: Interest: | 27.00 89.50 116.50 | \$28.08 \$36.70 \$67.57 \$132.35 \$132.35 \$0.00 \$0.00 \$0.00 \$132.35 | |
| Jamie M Smetana 727 Parkway Dr St Paul MN 55106-1032 *727 PARKWAY DR | UFTON GROVE, THIRD PLAT LOT 3 BLK 2 | Street Sweeping - Com Citywide Street Lightin | ng | 1.04 | 40.00 | \$41.60 \$23.20 \$64.80 | 20-29-22-12-0125 |
| *Ward: 6 | | | Total Assess | ment: | _ | \$64.80 | |
| *Pending as of: 8/24/2021 | | | This Paymen | | | \$0.00 | |
| | | | Current Year | Principal: | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$64.80 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by I | PID (Fee to Asmt) Ratification Date: | Project: 202 Resolution # | | Assmt: 210025 | Manager: LMR | Page 51 |
|------------------------------------------------------------------------------|--------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------|----------------------------------------------------------------------------|------------------------------------------------------------------------------|------------------------------|-------------------------|--------------------------------------------------|------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Jose Felix 715 Parkway Dr St Paul MN 55106-1032 | UFTON GROVE, THIRD PLAT LOTS 7 AND LOT 8 BLK 2 | Street Sweeping - Com Street Sweeping - Resi Citywide Street Lightin | dential Stree | 1.04 0.41 0.58 | 32.50 34.00 66.50 | \$33.80 \$13.94 \$38.57 | 20-29-22-12-0127 |
| *715 PARKWAY DR *Ward: 6 | | *** Owner and Taxpay | yer *** | | | \$86.31 | |
| *Pending as of: 8/24/2021 | | | Total Assessn This Payment Current Year Current Year Payoff Amou | : Principal: Interest: | | \$86.31 \$0.00 \$0.00 \$0.00 \$86.31 | |
| Paige J Reinhardt 3554 Overland Dr Holiday FL 34691-1127 *667 IOWA AVE E | UFTON GROVE, THIRD PLAT LOT 11 BLK 2 | Street Sweeping - Resi Citywide Street Lightin *** Owner and Taxpav | ng | 0.41 | 40.00 | \$16.40 \$23.20 \$39.60 | 20-29-22-12-0130 |
| *Ward: 6 *Pending as of: 8/24/2021 | | | Total Assessn This Payment Current Year Current Year Payoff Amou | : Principal: Interest: | | \$39.60 \$0.00 \$0.00 \$0.00 \$39.60 | |
| Paige J Reinhardt Lillian A Reinhardt 3554 Overland Dr Holiday FL 34691-1127 | UFTON GROVE, THIRD PLAT W 1/2 OF VAC ALLEY LYING S OF ELY EXTENSION OF N LINE OF LOT 15 & N OF ELY EXTENSION OF S LINE OF N 25 FT OF LOT 14 DEV. 20 PLACE ALLEY ACCOMPLED S A LOT 14 DEV. 20 PLACE ALLEY ACCOMPLED S A LOT 14 DEV. 20 PLACE ALLEY ACCOMPLED S A LOT 14 DEV. 20 PLACE ALLEY ACCOMPLED S A LOT 14 DEV. 20 PLACE ALLEY ACCOMPLED S A LOT 14 DEV. 20 PLACE ALLEY ACCOMPLED S A LOT 14 DEV. 20 PLACE ALLEY ACCOMPLED S A LOT 14 DEV. 20 PLACE ALLEY ACCOMPLED S A LOT 14 DEV. 20 PLACE ALLEY ACCOMPLED S A LOT 14 DEV. 20 PLACE ALLEY ACCOMPLED S A LOT 14 DEV. 20 PLACE ALLEY ACCOMPLED S A LOT 14 DEV. 20 PLACE ALLEY ACCOMPLED S A LOT 14 DEV. 20 PLACE ALLEY ACCOMPLED S A LOT 14 DEV. 20 PLACE ALLEY ACCOMPLED S A LOT 14 DEV. 20 PLACE ALLEY ACCOMPLED S A LOT 14 DEV. 20 PLACE ALLEY ACCOMPLED S A LOT 14 DEV. 20 PLACE ALLEY ACCOMPLED S A LOT 14 DEV. 20 PLACE ALLEY ALLEY ACCOMPLED S A LOT 14 DEV. 20 PLACE ALLEY ALLEY ACCOMPLED S A LOT 14 DEV. 20 PLACE ALLEY ALLEY ACCOMPLED S A LOT 14 DEV. 20 PLACE ALLEY ALLE | Street Sweeping - Resi Citywide Street Lightin | ng | 0.41 0.58 | 50.00 | \$20.50 \$29.00 \$49.50 | 20-29-22-12-0131 |
| *663 IOWA AVE E *Ward: 6 *Pending as of: 8/24/2021 | ALLEY ACCRUING & LOT 12 BLK 2 | | Total Assessn This Payment Current Year Current Year Payoff Amou | : Principal: Interest: | | \$49.50 \$0.00 \$0.00 \$0.00 \$49.50 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | | Project: 202 Resolution # | | Assmt: 210025 | Manager: LMR | Page 52 |
|---------------------------|-------------------------------------------------------------------|---------------------------|------------------------------|------------------|-----------------|--------------|------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Elizabeth Vangard | UFTON GROVE, THIRD PLAT S 50.82 | Street Sweeping - Commo | | 1.04 | 30.50 | \$31.72 | 20-29-22-12-0132 |
| Henry Vangard | FT MOL OF W 1/2 OF VAC ALLEY ACCRUING & FOL; EX N 15 FT LOT 14 | Street Sweeping - Resider | | 0.41 | 62.00 | \$25.42 | |
| 651 Iowa Ave E | & ALL OF LOT 13 BLK 2 | Citywide Street Lighting | | 0.58 | 92.50 | \$53.65 | |
| St Paul MN 55106-1013 | | | | | _ | \$110.79 | |
| *651 IOWA AVE E | | *** Owner and Taxpayer | *** | | | | |
| *Ward: 6 | | 7 | Total Assessn | nent: | | \$110.79 | |
| *Pending as of: 8/24/2021 | | 7 | This Payment | : | | \$0.00 | |
| | | (| Current Year | Principal: | | \$0.00 | |
| | | (| Current Year | Interest: | | \$0.00 | |
| | | 1 | Payoff Amou | int: | | \$110.79 | |
| Richard T Franco | UFTON GROVE, THIRD PLAT N 25 FT | Street Sweeping - Commo | ercial/Art | | | | |
| Nancy J Franco | OF LOT 18 AND ALL OF LOT 19 BLK | Street Sweeping - Resider | | 0.41 | 57.00 | \$23.37 | 20-29-22-12-0133 |
| 1618 Payne Ave | 2 | Citywide Street Lighting | | 0.58 | 87.50 | \$50.75 | |
| St Paul MN 55130-3060 | | | | | _ | \$105.84 | |
| *1618 PAYNE AVE | | *** Owner and Taxpayer | *** | | | | |
| *Ward: 6 | | - [| Total Assessn | nent: | - | \$105.84 | |
| *Pending as of: 8/24/2021 | | 7 | This Payment | : | | \$0.00 | |
| | | (| Current Year | Principal: | | \$0.00 | |
| | | (| Current Year | Interest: | | \$0.00 | |
| | | 1 | Payoff Amou | int: | | \$105.84 | |
| | UFTON GROVE, THIRD PLAT LOTS 20 | Street Sweeping - Resider | ntial Streε | | | \$32.80 | |
| 658 Idaho Ave E | AND LOT 21 BLK 2 | Citywide Street Lighting | | 0.58 | 80.00 | \$46.40 | 20-29-22-12-0130 |
| St Paul MN 55106-1012 | | | | | = | \$79.20 | |
| *658 IDAHO AVE E | | *** Owner and Taxpayer | . *** | | | Ψ79.20 | |
| *Ward: 6 | | - 1 | Total Assessn | nent: | | \$79.20 | |
| *Pending as of: 8/24/2021 | | 7 | This Payment | : | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | (| Current Year | Interest: | | \$0.00 | |
| | | 1 | Payoff Amou | int: | | \$79.20 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Ratification Date: | Project: 202 Resolution | | Assmt: 210025 | Manager: LMR | Page |
|-------------------------------------------|-----------------------------------------------------|-----------------------------------------------------|---------------------------------|--------------|-----------------|--------------------|--------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Lizbeth Delores Mejia 664 Idaho Ave E | UFTON GROVE, THIRD PLAT LOTS 22 AND LOT 23 BLK 2 | Street Sweeping - Residence Citywide Street Lightin | | 0.41 0.58 | 80.00 80.00 | \$32.80 \$46.40 | 20-29-22-12-0137 |
| St Paul MN 55106-1012 *664 IDAHO AVE E | | *** Owner and Taxpay | er *** | | | \$79.20 | |
| Ward: 6 | | | Total Assessi | ment: | - | \$79.20 | |
| Pending as of: 8/24/2021 | | | This Paymen | t: | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Current Year | Interest: | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$79.20 | |
| | UFTON GROVE, THIRD PLAT LOT 1 | Street Sweeping - Com | mercial/Art | | | | |
| 711 Parkway Dr | BLK 3 | Street Sweeping - Resid | | 0.41 | 63.00 | \$25.83 | 20-29-22-12-0139 |
| St Paul MN 55106-1029 | | Citywide Street Lightin | | 0.58 | 102.50 | \$59.45 | |
| 711 PARKWAY DR | | | | | = | \$126.36 | |
| Ward: 6 | | *** Owner and Taxpay | er *** | | | Ψ120.30 | |
| Pending as of: 8/24/2021 | | | Total Assessment: This Payment: | | | | |
| | | | | | | | |
| | | | Principal: | | \$0.00 | | |
| | | | Current Year | Interest: | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$126.36 | |
| | UFTON GROVE, THIRD PLAT LOT 8 | Street Sweeping - Com | mercial/Art | | | | |
| Sheila M Shackle | BLK 3 | Citywide Street Lightin | | 0.58 | 40.00 | \$23.20 | 20-29-22-12-0144 |
| 572 Payne Ave | | , . | 0 | | _ | \$64.80 | |
| St Paul MN 55101-3058 | | *** Owner and Taxpay | er *** | | | \$04.80 | |
| 1572 PAYNE AVE | | | Total Assess | ment: | | \$64.80 | |
| *Ward: 6 | | | This Paymen | t: | | \$0.00 | |
| Pending as of: 8/24/2021 | | | Current Year | Principal: | | \$0.00 | |
| | | | Current Year | Interest: | | \$0.00 | |
| | | | Payoff Amor | unt: | | \$64.80 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Ratification Date: | Project: 202 Resolution | | Assmt: 210025 | Manager: LMR | Page 54 |
|---------------------------|---------------------------------------|--------------------------------------|----------------------------|------------|-----------------|--------------|------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Melissa E Giron | UFTON GROVE, THIRD PLAT EX S 22 | Street Sweeping - Com | | 1.04 | 57.00 | \$59.28 | 20-29-22-12-0146 |
| Jose M Giron | FT LOT 10 AND ALL OF LOT 11 BLK 3 | Citywide Street Lightin | ng | 0.58 | 57.00 | \$33.06 | |
| 1586 Payne Ave | • | | | | _ | \$92.34 | |
| St Paul MN 55130-3058 | | *** Owner and Taxpay | yer *** | | | | |
| *1586 PAYNE AVE | | | Total Assess | ment: | - | \$92.34 | |
| *Ward: 6 | | | This Paymer | ıt: | | \$0.00 | |
| *Pending as of: 8/24/2021 | | | Current Year | Principal: | | \$0.00 | |
| | | | Current Year | Interest: | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$92.34 | |
| | UFTON GROVE, THIRD PLAT LOT 12 | Street Sweeping - Com | nmercial/Art | | | | |
| 1590 Payne Ave | BLK 3 | Street Sweeping - Resi | | 0.41 | 57.50 | \$23.58 | 20-27-22-12-014/ |
| St Paul MN 55130-3058 | | Citywide Street Lightin | | 0.58 | 75.50 | \$43.79 | |
| *1590 PAYNE AVE | | | | | == | \$86.09 | |
| *Ward: 6 | | *** Owner and Taxpay | yer *** | | | | |
| *Pending as of: 8/24/2021 | | | Total Assess | ment: | | \$86.09 | |
| | | | This Paymer | ıt: | | \$0.00 | |
| | | | Current Year | Principal: | | \$0.00 | |
| | | | Current Year | Interest: | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$86.09 | |
| | UFTON GROVE, THIRD PLAT EX | Street Sweeping - Com | nmercial/Art | | | | |
| 714 Parkway Dr | SWLY 4 FT LOT 1 BLK 4 | Street Sweeping - Resi | | 0.41 | 27.50 | \$11.28 | 20-27-22-12-0140 |
| St Paul MN 55106-1031 | | Citywide Street Lightin | ng | 0.58 | 52.50 | \$30.45 | |
| *714 PARKWAY DR | | | | | = | \$67.73 | |
| *Ward: 6 | | *** Owner and Taxpay | yer *** | | | | |
| *Pending as of: 8/24/2021 | | | Total Assess | ment: | | \$67.73 | |
| | | | This Paymer | ıt: | | \$0.00 | |
| | | | Current Year | Principal: | | \$0.00 | |
| | | | Current Year | Interest: | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$67.73 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Ratification Date: | Project: 202 Resolution | | Assmt: 210025 | Manager: LMR | P |
|---------------------------|---------------------------------------|--------------------------------------|-------------------------|--------------|-----------------|--------------|---------------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| | UFTON GROVE, THIRD PLAT LOT 3 | Street Sweeping - Com | mercial/Art | 1.04 | 40.00 | \$41.60 | 20-29-22-12-0150 |
| Marlene A Plager | BLK 4 | Citywide Street Lightin | ıg | 0.58 | 40.00 | \$23.20 | |
| 708 Parkway Dr | | | | | _ | \$64.80 | |
| St Paul MN 55106-1031 | | *** Owner and Taxpay | er *** | | | | |
| 708 PARKWAY DR | | | Total Assess | ment: | - | \$64.80 | |
| Ward: 6 | | | This Paymer | nt: | | \$0.00 | |
| *Pending as of: 8/24/2021 | | | Current Year | r Principal: | | \$0.00 | |
| | | | Current Year | r Interest: | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$64.80 | |
| | UFTON GROVE, THIRD PLAT LOT 5 | Street Sweeping - Com | mercial/Art | | | | |
| 596 Parkway Dr | BLK 4 | Citywide Street Lightin | | 0.58 | 40.00 | \$23.20 | 20-27-22-12-0132 |
| St Paul MN 55106-1031 | | | | | _ | \$64.80 | |
| 696 PARKWAY DR | | *** Owner and Taxpay | er *** | | _ | <u> </u> | |
| Ward: 6 | | | Total Assess | ment: | | \$64.80 | |
| Pending as of: 8/24/2021 | | This Payment: | | | | \$0.00 | |
| | | | Current Year | _ | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$64.80 | |
| | UFTON GROVE, THIRD PLAT LOT 6 | Street Sweeping - Com | — — — - mercial/Art | | | | |
| 690 Parkway Dr | BLK 4 | Citywide Street Lightin | | 0.58 | 40.00 | \$23.20 | 20-2 <i>)</i> -22-12-0133 |
| t Paul MN 55106-1031 | | | | | _ | \$64.80 | |
| 690 PARKWAY DR | | *** Owner and Taxpay | er *** | | | | |
| Ward: 6 | | | Total Assess | ment: | - | \$64.80 | |
| Pending as of: 8/24/2021 | | | This Paymer | | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Current Year | _ | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$64.80 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Ratification Date: | Project: 2021S Resolution #: | SMSP | Assmt: 210025 | Manager: LMR | Page 50 |
|-----------------------------------------|----------------------------------------------------------------|-----------------------------------------|---------------------------------|-------------------|-----------------|--------------------|--------------------|
| Owner or Taxpayer | Property Description | Item Description | <u>I</u> | U nit Rate | Quantity | Charge Amts | Property ID |
| David N Smith | UFTON GROVE, THIRD PLAT EX E 50 FT LOTS 10 11 AND LOT 12 BLK 4 | Street Sweeping - Reside | | 0.41 0.58 | 63.00 63.00 | \$25.83 \$36.54 | 20-29-22-12-0156 |
| 691 Hoyt Ave E St Paul MN 55106-1005 | | Citywide Street Lighting | 3 | 0.38 | 63.00 | | |
| *691 HOYT AVE E | | *** Owner and Taxpaye | er *** | | | \$62.37 | |
| *Ward: 6 | | | Total Assessmen | nt: | - | \$62.37 | |
| *Pending as of: 8/24/2021 | | | This Payment: | | | \$0.00 | |
| | | | Current Year Pr | | | \$0.00 | |
| | | | Current Year In | | | \$0.00 | |
| | | | Payoff Amount | t: | | \$62.37 | |
| | UFTON GROVE, PLAT 1, RAMSEY, CO., | Street Sweeping - Reside | ential Stree | 0.41 | 60.00 | \$24.60 | |
| Dia Lor | MINN. W 1/2 OF LOT 25 AND ALL OF LOT 24 BLK 6 | Citywide Street Lighting | 5 | 0.58 | 60.00 | \$34.80 | |
| 660 California Ave E | LOT 24 BER 0 | | | | _ | \$59.40 | |
| St Paul MN 55106-6587 | | *** Owner and Taxpaye | er *** | | | | |
| *660 CALIFORNIA AVE E | | | Total Assessmen | nt: | - | \$59.40 | |
| *Ward: 6 | | | This Payment: | | | \$0.00 | |
| *Pending as of: 8/24/2021 | | | Current Year Pr | incipal: | | \$0.00 | |
| | | | Current Year In | terest: | | \$0.00 | |
| | | | Payoff Amount | t: | | \$59.40 | |
| | UFTON GROVE, PLAT 1, RAMSEY, CO., | Street Sweeping - Reside | ential Stree | | | | |
| 668 California Ave E | MINN. E 1/2 OF LOT 25 AND ALL OF | Citywide Street Lighting | | 0.58 | 60.00 | \$34.80 | 20-29-22-12-0101 |
| St Paul MN 55106-1002 | LOT 26 BLK 6 | | | | _ | \$59.40 | |
| *668 CALIFORNIA AVE E | | *** Owner and Taxpaye | r *** | | | ψ52.10 | |
| *Ward: 6 | | | Total Assessmen | nt: | | \$59.40 | |
| *Pending as of: 8/24/2021 | | | This Payment: | | | \$0.00 | |
| | | | Current Year Pr | incipal: | | \$0.00 | |
| | | | Current Year In | | | \$0.00 | |
| | | | Payoff Amount | t: | | \$59.40 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date: | | Project: 202 Resolution # | | Assmt: 210025 | Manager: LMR | Page 57 |
|-------------------------------------|----------------------------------------------------------------------------|--------------------------|------------------------------|------------|-----------------|--------------|------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Edna I Gustafson | UFTON GROVE, PLAT 1, RAMSEY, CO., | Street Sweeping - Comm | nercial/Art | 1.04 | 80.00 | \$83.20 | 20-29-22-12-0162 |
| Allen L Gustafson | MINN. VAC ALLEY ACCRUING & LOTS 19 AND LOT 20 BLK 6 | Alley Sweeping | | 0.14 | 0.00 | \$0.00 | |
| 1640 Payne Ave | | Citywide Street Lighting | 5 | 0.58 | 80.00 | \$46.40 | |
| St Paul MN 55130-3062 | | | | | | \$129.60 | |
| *1640 PAYNE AVE | | *** Owner and Taxpayer | er *** | | | | |
| *Ward: 6 | | | Total Assessr | nent: | | \$129.60 | |
| *Pending as of: 8/24/2021 | | | This Payment | t: | | \$0.00 | |
| | | | Current Year | Principal: | | \$0.00 | |
| | | | Current Year | Interest: | | \$0.00 | |
| | | | Payoff Amou | ınt: | | \$129.60 | |
| Thor Christopher Oehrlein | UFTON GROVE, PLAT 1, RAMSEY, CO., | Street Sweeping - Comm | ercial/Art | | | | <u> </u> |
| 1650 Payne Ave | MINN. VAC ALLEY ACCRUING & | Street Sweeping - Reside | | 0.41 | 62.00 | \$25.42 | 20-27-22-12-0103 |
| St Paul MN 55130-3062 | LOTS 21 AND LOT 22 BLK 6 | Citywide Street Lighting | | 0.58 | 100.00 | \$58.00 | |
| *1650 PAYNE AVE | | | | | <u> </u> | \$122.94 | |
| *Ward: 6 | | *** Owner and Taxpayer | er *** | | | | |
| *Pending as of: 8/24/2021 | | • | Total Assessr | nent: | | \$122.94 | |
| | | | This Payment | t: | | \$0.00 | |
| | | | Current Year | Principal: | | \$0.00 | |
| | | | Current Year | Interest: | | \$0.00 | |
| | | | Payoff Amou | int: | | \$122.94 | |
| | UFTON GROVE, PLAT I, RAMSEY, CO., | Street Sweeping - Reside | antial Strac | | | | |
| James Hicks 606 California Ave E | MINN. W 1/2 OF LOT 27 & ALL OF LOT | Alley Sweeping | ential Street | 0.41 | 60.00 | \$8.40 | 20-29-22-12-0168 |
| St Paul MN 55130-3012 | 26 BLK 2 | Citywide Street Lighting | | 0.58 | 60.00 | \$34.80 | |
| *606 CALIFORNIA AVE E | | , | , | | _ | \$67.80 | |
| *Ward: 6 | | *** Owner and Taxpayer | r *** | | | \$07.00 | |
| *Pending as of: 8/24/2021 | | | Total Assessr | nent: | - | \$67.80 | |
| | | | This Payment | t: | | \$0.00 | |
| | | | Current Year | Principal: | | \$0.00 | |
| | | | Current Year | Interest: | | \$0.00 | |
| | | | Payoff Amou | ınt: | | \$67.80 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Ratification Date: | Project: 2021 Resolution # | | Assmt: 210025 | Manager: LMR | Page 58 |
|----------------------------------------------------------------|-------------------------------------------------------------------------------------|--------------------------------------------------------------------|-------------------------------|----------------------|-------------------------|------------------------------|------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Daytons Bluff Neighborhood Housing Services 823 E 7th St | UFTON GROVE, PLAT I, RAMSEY, CO., MINN. E 1/2 OF LOT 27 & ALL OF LOT 28 BLK 2 | Street Sweeping - Resident Alley Sweeping Citywide Street Lighting | | 0.41 0.14 0.58 | 60.00 60.00 60.00 | \$24.60 \$8.40 \$34.80 | 20-29-22-12-0169 |
| St Paul MN 55106-5016 *614 CALIFORNIA AVE E | | *** Owner and Taxpaye | er *** | | _ | \$67.80 | |
| *Ward: 6 | | | Total Assessm | nent: | - | \$67.80 | |
| *Pending as of: 8/24/2021 | | | This Payment | | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amou | nt: | | \$67.80 | |
| | UFTON GROVE, PLAT 1, RAMSEY, CO., | Street Sweeping - Comm | mercial/Art | 1.04 | | \$61.36 | |
| 1571 Payne Ave | MINN. EX THE S 20 FT; LOT 6 AND ALL OF LOT 5 BLK 4 | Alley Sweeping | | 0.14 | 59.00 | \$8.26 | |
| St Paul MN 55130-3057 | ALE OF EOT OBER T | Citywide Street Lighting | g | 0.58 | 59.00 | \$34.22 | |
| *1571 PAYNE AVE | | | | | | \$103.84 | |
| *Ward: 6 | | *** Owner and Taxpaye | er *** | | | | |
| *Pending as of: 8/24/2021 | | | Total Assessm | nent: | - | \$103.84 | |
| | | | This Payment | : | | \$0.00 | |
| | | | Current Year | Principal: | | \$0.00 | |
| | | | Current Year | Interest: | | \$0.00 | |
| | | | Payoff Amou | nt: | | \$103.84 | |
| Benjamin J Yanez | UFTON GROVE, PLAT 1, RAMSEY, CO., | Street Sweeping - Comm | mercial/Art | 1.04 | | | <u> </u> |
| 1615 Payne Ave | MINN. LOT 2 BLK 3 | Alley Sweeping | | 0.14 | 40.00 | \$5.60 | |
| St Paul MN 55130-3059 | | Citywide Street Lighting | g | 0.58 | 40.00 | \$23.20 | |
| *1615 PAYNE AVE | | | | | | \$70.40 | |
| *Ward: 6 | | *** Owner and Taxpaye | er *** | | | | |
| *Pending as of: 8/24/2021 | | | Total Assessm | nent: | | \$70.40 | |
| | | | This Payment | : | | \$0.00 | |
| | | | Current Year | Principal: | | \$0.00 | |
| | | | Current Year | Interest: | | \$0.00 | |
| | | | Payoff Amou | nt: | | \$70.40 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Ratification Date: | Project: 202 Resolution | | Assmt: 210025 | Manager: LMR | Page 59 |
|-------------------------------------------------------------|--------------------------------------------------------------------------------------|----------------------------------------------------------------------|-----------------------------|----------------------|-------------------------|------------------------------|------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Oredola O Taylor 686 Hoyt Ave E St Paul MN 55106-1006 | HARRISON AND HANDY'S ADDITION TO THE CITY OF ST. PAUL SUBJ TO ESMT LOT 4 BLK 1 | Street Sweeping - Resid Alley Sweeping Citywide Street Lightin | | 0.41 0.14 0.58 | 40.00 40.00 40.00 | \$16.40 \$5.60 \$23.20 | 20-29-22-13-0004 |
| *686 HOYT AVE E *Ward: 6 | | *** Owner and Taxpay | /er *** | | _ | \$45.20 | |
| *Pending as of: 8/24/2021 | | | Total Assess | | | \$45.20 | |
| | | | This Paymer Current Year | | | \$0.00 \$0.00 | |
| | | | Current Year | • | | \$0.00 | |
| | | | Payoff Amo | | | \$45.20 | |
| Jesse P Mckenzie | HARRISON AND HANDY'S ADDITION | Street Sweeping - Resid | — — — - dential Stree | | | | |
| 13468 Europa Ct N #3 | TO THE CITY OF ST. PAUL LOT 6 BLK | Alley Sweeping | | 0.14 | 40.00 | \$5.60 | 20-23-22-13-0000 |
| Hugo MN 55038-4485 | 1 | Citywide Street Lightin | ng | 0.58 | 40.00 | \$23.20 | |
| *678 HOYT AVE E *Ward: 6 | | *** Owner and Taxpay | /er *** | | _ | \$45.20 | |
| *Pending as of: 8/24/2021 | | | Total Assess | ment: | | \$45.20 | |
| | | | This Paymer | | | \$0.00 | |
| | | | Current Year | r Principal: | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$45.20 | |
| | HARRISON AND HANDY'S ADDITION | Street Sweeping - Resid | dential Streε | | — — ——— | | <u> </u> |
| Kao Yang | TO THE CITY OF ST. PAUL EX W 13 FT | Alley Sweeping | | 0.14 | 70.00 | \$9.80 | |
| 674 Hoyt Ave E | LOT 8 AND ALL OF LOT 7 BLK 1 | Citywide Street Lightin | ng | 0.58 | 70.00 | \$40.60 | |
| St Paul MN 55106-1006 | | | | | | \$79.10 | |
| *674 HOYT AVE E | | *** Owner and Taxpay | /er *** | | | | |
| *Ward: 6 | | | Total Assess | | | \$79.10 | |
| *Pending as of: 8/24/2021 | | | This Paymer | | | \$0.00 | |
| | | | Current Year | _ | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$79.10 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by l | PID (Fee to Asmt) Ratification Date: | Project: 2021 Resolution # | | Assmt: 210025 | Manager: LMR | Page 6 |
|--------------------------------|----------------------------------------------------------------------|------------------------------------------|-------------------------------|--------------|-----------------|--------------------|--------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Allure Investments Llc | HARRISON AND HANDY'S ADDITION | Street Sweeping - Reside | ential Stree | 0.41 | 51.00 | \$20.91 | 20-29-22-13-0008 |
| 11670 Fountains Dr | TO THE CITY OF ST. PAUL W 13 FT OF LOT 8 AND EX W 2 5/10 FT LOT 9 | Alley Sweeping | | 0.14 | 51.00 | \$7.14 | |
| Maple Grove MN 55369-7195 | BLK 1 | Citywide Street Lighting | g | 0.58 | 51.00 | \$29.58 | |
| *668 HOYT AVE E | | *** 0 1 T | *** | | = | \$57.63 | |
| *Ward: 6 | | *** Owner and Taxpaye | er *** | | | | |
| *Pending as of: 8/24/2021 | | | Total Assessm | nent: | | \$57.63 | |
| | | | This Payment: | | | \$0.00 | |
| | | | Current Year l | Principal: | | \$0.00 | |
| | | | Current Year l | Interest: | | \$0.00 | |
| | | | Payoff Amou | nt: | | \$57.63 | |
| Alexander R Milam | HARRISON AND HANDY'S ADDITION | Street Sweeping - Reside | ential Stree | | | | |
| 664 Hoyt Ave E | TO THE CITY OF ST. PAUL W 2 5/10 FT | Alley Sweeping Reside | chiai Sirec | 0.14 | 43.00 | \$6.02 | 20-29-22-13-0009 |
| St Paul MN 55106-1006 | OF LOT 9 AND ALL OF LOT 10 BLK 1 | Citywide Street Lighting | g | 0.58 | 43.00 | \$24.94 | |
| *664 HOYT AVE E | | | | | _ | \$48.59 | |
| *Ward: 6 | | *** Owner and Taxpaye | er *** | | | ψ.ιο.ιος | |
| *Pending as of: 8/24/2021 | | | Total Assessm | nent: | - | \$48.59 | |
| | | | This Payment: | | | \$0.00 | |
| | | | Current Year I | Principal: | | \$0.00 | |
| | | | Current Year l | Interest: | | \$0.00 | |
| | | | Payoff Amou | nt: | | \$48.59 | |
| | | | - - 1 /A - | | | | |
| Robert C Rasmussen | HARRISON AND HANDY'S ADDITION TO THE CITY OF ST. PAUL LOT 13 | Street Sweeping - Comn Alley Sweeping | nerciai/Art | 1.04 0.14 | 112.00 64.00 | \$116.48 \$8.96 | 20-29-22-13-0011 |
| 2036 Butler Ave | BLK 1 | Citywide Street Lighting | T. | 0.14 | 112.00 | \$64.96 | |
| South Saint Paul MN 55075-1066 | | City wide Street Eighting | 5 | 0.50 | = | | |
| *666 PARKWAY DR *Ward: 6 | | *** Owner and Taxpaye | er *** | | | \$190.40 | |
| *Pending as of: 8/24/2021 | | | Total Assessm | nent: | | \$190.40 | |
| | | | This Payment: | | | \$0.00 | |
| | | | Current Year l | | | \$0.00 | |
| | | | Current Year l | Interest: | | \$0.00 | |
| | | | Payoff Amou | nt: | | \$190.40 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Ratification Date: | Project: 2021 Resolution # | | Assmt: 210025 | Manager: LMR | Page |
|---------------------------------------------|-------------------------------------------------------------------------|--------------------------------------|-------------------------------|------------------|-----------------|----------------|------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| | HARRISON AND HANDY'S ADDITION | Street Sweeping - Com | mercial/Art | 1.04 | 39.00 | \$40.56 | |
| 1534 Payne Ave | TO THE CITY OF ST. PAUL EX E 16 FT AND EX N 50 FT LOTS 14 15 AND LOT | Street Sweeping - Resid | | 0.41 | 49.00 | \$20.09 | |
| St Paul MN 55130-3255 | 16 BLK 1 | Citywide Street Lightin | g | 0.58 | 88.00 | \$51.04 | |
| *1534 PAYNE AVE | | | | | _ | \$111.69 | |
| *Ward: 6 | | *** Owner and Taxpay | er *** | | _ | | |
| *Pending as of: 8/24/2021 | | | Total Assessm | nent: | | \$111.69 | |
| | | | This Payment: | : | | \$0.00 | |
| | | | Current Year | Principal: | | \$0.00 | |
| | | | Current Year | Interest: | | \$0.00 | |
| | | | Payoff Amou | nt: | | \$111.69 | |
| | HARRISON AND HANDY'S ADDITION | Street Sweeping - Resid | lential Streε | | | | |
| 651 Montana Ave E | TO THE CITY OF ST. PAUL E 16 FT OF | Alley Sweeping | | 0.14 | 48.00 | \$6.72 | 20-27-22-13-0014 |
| St Paul MN 55106-1021 | LOT 16 AND W 32 FT OF LOT 17 BLK | Citywide Street Lightin | g | 0.58 | 48.00 | \$27.84 | |
| *651 MONTANA AVE E | • | | | | = | \$54.24 | |
| *Ward: 6 | | *** Owner and Taxpay | er *** | | | | |
| *Pending as of: 8/24/2021 | | | Total Assessm | nent: | - | \$54.24 | |
| | | | This Payment | : | | \$0.00 | |
| | | | Current Year | Principal: | | \$0.00 | |
| | | | Current Year | Interest: | | \$0.00 | |
| | | | Payoff Amou | nt: | | \$54.24 | |
| Ever Sée Domovion Llo | HARRISON AND HANDY'S ADDITION | Street Sweeping - Resid | lential Stree | 0.41 | 50.00 | <u>\$20.50</u> | |
| Fyr Sfr Borrower Llc Co Havenbrook Homes | TO THE CITY OF ST. PAUL EX E 30 FT | Alley Sweeping | ichtiai Sticc | 0.41 | 50.00 | \$7.00 | 20-29-22-13-0016 |
| 3505 Koger Blvd Ste 400 | LOT 20 AND ALL OF LOT 19 BLK 1 | Citywide Street Lightin | g | 0.58 | 50.00 | \$29.00 | |
| Duluth GA 30096-7672 | | , , | C | | _ | \$56.50 | |
| *661 MONTANA AVE E | | *** Owner and Taxpay | er *** | | | φ30.30 | |
| *Ward: 6 | | | Total Assessm | nent: | - | \$56.50 | |
| *Pending as of: 8/24/2021 | | | This Payment: | | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amou | nt: | | \$56.50 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Ratification Date: | Project: 2021SMSP Resolution #: | | Assmt: 210025 | smt: 210025 Manager: LMR | Page 62 |
|-------------------------------------------------------------------|---------------------------------------------------------------------------------------------------------|----------------------------------------------------------------------|---------------------------------|----------------------|-------------------------|------------------------------|------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Paul F Farley 7746 Blackwell Ct Inver Grove Heights MN 55076-2804 | HARRISON AND HANDY'S ADDITION TO THE CITY OF ST. PAUL E 30 FT OF LOT 20 AND W 1/2 OF LOT 21 BLK 1 | Street Sweeping - Resid Alley Sweeping Citywide Street Lightin | | 0.41 0.14 0.58 | 50.00 50.00 50.00 | \$20.50 \$7.00 \$29.00 | 20-29-22-13-0017 |
| *667 MONTANA AVE E *Ward: 6 | | *** Owner and Taxpay | /er *** | | _ | \$56.50 | |
| *Pending as of: 8/24/2021 | | | Total Assess | | | \$56.50 | |
| | | | This Paymer Current Year | | | \$0.00 \$0.00 | |
| | | | Current Year Payoff Amo | | | \$0.00 \$56.50 | |
| Richard W Hansen | HARRISON AND HANDY'S ADDITION | Street Sweeping - Resid | dantial Strac | | | | |
| Linda R Troland | da R Troland TO THE CITY OF ST. PAUL E 1/2 OF | Alley Sweeping | uchilai Sirce | 0.41 | 56.00 | \$7.84 | 20-29-22-13-0018 |
| 673 Montana Ave E | LOT 21 AND EX E 4 FT LOT 22 BLK 1 | Citywide Street Lightin | ng | 0.58 | 56.00 | \$32.48 | |
| St Paul MN 55106-1021 *673 MONTANA AVE E | | *** Owner and Taxpay | /er *** | | | \$63.28 | |
| *Ward: 6 | | | Total Assess | ment: | | \$63.28 | |
| *Pending as of: 8/24/2021 | | | This Paymer | | | \$0.00 | |
| | | | Current Year | - | | \$0.00 \$0.00 | |
| | | | Payoff Amo | | | \$63.28 | |
| | HARRISON AND HANDY'S ADDITION | Street Sweeping - Resid | dential Stree | | | | |
| Eduardo Garcia Gutierrez | TO THE CITY OF ST. PAUL LOT 27 | Alley Sweeping | dential Stree | 0.14 | 40.00 | \$5.60 | 20-29-22-13-0022 |
| 693 Montana Ave E | BLK 1 | Citywide Street Lightin | ng | 0.58 | 40.00 | \$23.20 | |
| St Paul MN 55106-1021 | | | | | _ | \$45.20 | |
| *693 MONTANA AVE E | | *** Owner and Taxpay | /er *** | | | | |
| *Ward: 6 *Pending as of: 8/24/2021 | | | Total Assess | | | \$45.20 | |
| 1 Chaing as 01. 0/24/2021 | | | This Paymer | | | \$0.00 | |
| | | | Current Year | _ | | \$0.00 \$0.00 | |
| | | | Payoff Amo | | | \$45.20 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Ratification Date: | Project: 2021SMSP Resolution #: | | Assmt: 210025 | Manager: LMR | Page 63 |
|--------------------------------------------------|---------------------------------------------------------------------------------------------------------|--------------------------------------|---------------------------------|------------|-----------------|--------------|--------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Blong Moua | HARRISON AND HANDY'S ADDITION | Street Sweeping - Resid | lential Stree | 0.41 | 79.50 | \$32.60 | 20-29-22-13-0023 |
| 697 Montana Ave E | TO THE CITY OF ST. PAUL LOT 28 BLK 1 | Alley Sweeping | | 0.14 | 34.00 | \$4.76 | |
| St Paul MN 55106-1021 | BLK I | Citywide Street Lightin | g | 0.58 | 79.50 | \$46.11 | |
| *697 MONTANA AVE E | | | | | | \$83.47 | |
| *Ward: 6 | | *** Owner and Taxpay | er *** | | | | |
| *Pending as of: 8/24/2021 | | | Total Assessr | nent: | | \$83.47 | |
| | | | This Payment | t: | | \$0.00 | |
| | | | Current Year | Principal: | | \$0.00 | |
| | | | Current Year | Interest: | | \$0.00 | |
| | | | Payoff Amou | ınt: | | \$83.47 | |
| | | | | | | | |
| Jerry Gerard Kane | HARRISON AND HANDY'S ADDITION TO THE CITY OF ST. PAUL ALL OF | Street Sweeping - Com | | 1.04 | 255.00 | \$265.20 | 20-29-22-13-0024 |
| 6600 Stratford Rd | HOYT AVE VAC BET LOT 6 BLK 3 UFTON GROVE 3RD PLAT AND BLK 2 HARRISON AND HANDYS ADD AND ALL OF SD BLK 2 | Citywide Street Lightin | g | 0.58 | 255.00 | \$147.90 | |
| Woodbury MN 55125-2458 | | | | | | \$413.10 | |
| *1560 PAYNE AVE | | *** Owner and Taxpayer *** | | | | | |
| *Ward: 6 | | | Total Assessr | nent: | | \$413.10 | |
| *Pending as of: 8/24/2021 | | | This Payment | t: | | \$0.00 | |
| | | | Current Year | Principal: | | \$0.00 | |
| | | | Current Year | Interest: | | \$0.00 | |
| | | | Payoff Amou | ınt: | | \$413.10 | |
| | | | | | | | |
| Irish Llc | HARRISON AND HANDY'S ADDITION TO THE CITY OF ST. PAUL SUBJ TO | Street Sweeping - Resid | | 0.41 | 120.00 | \$49.20 | 20-29-22-13-0026 |
| 2123 Fairmount Ave | ESMTS VAC ALLEY ADJ & PART OF | Citywide Street Lightin | g | 0.58 | 120.00 | \$69.60 | |
| St Paul MN 55105-1149 * 596 HOYT AVE E | LOTS 8&9 BLK 5 NE OF L RUN FROM PT ON SELY L LOT 9 108.71 FT SWLY | *** Owner and Taxpay | payer *** | | | \$118.80 | |
| *Ward: 6 | OF NE COR LOT 9 TO PT ON WL LOT 8 | | Total Assessr | nent: | | \$118.80 | |
| *Pending as of: 8/24/2021 | | | This Payment | | | \$0.00 | |
| | | | Current Year Principal: | | | \$0.00 | |
| | | | Current Year | _ | | \$0.00 | |
| | | | Payoff Amou | ınt: | | \$118.80 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by l | | · | | Manager: LMR | Page 64 |
|----------------------------------------------------------------------|--------------------------------------------------------------------------------------------------------------------|--------------------------------------------------------------------------------------|-----------------------------------------------------------------------------------------------|----------------------------|----------------------------------------------------|------------------|
| Owner or Taxpayer | Property Description | Item Description | Unit Rate | Quantity | Charge Amts | Property ID |
| Irish Llc 2123 Fairmount Ave St Paul MN 55105-1149 *1550 EDGERTON ST | HARRISON AND HANDY'S ADDITION TO THE CITY OF ST. PAUL VAC ALLEY ACCRUING AND THE FOL. LOTS 12 THRU LOT 15 BLK 3 | Street Sweeping - Commerc Street Sweeping - Residenti Citywide Street Lighting | | 135.00 151.00 286.00 | \$140.40 \$61.91 \$165.88 \$368.19 | 20-29-22-13-0027 |
| *Ward: 6 | | *** Owner and Taxpayer ** | * | | | |
| *Pending as of: 8/24/2021 | | Th Cu Cu | tal Assessment: is Payment: rrent Year Principal: rrent Year Interest: yoff Amount: | | \$368.19 \$0.00 \$0.00 \$0.00 \$368.19 | |
| Vahuam Huawam Xiong Soua Hang Xiong 1536 Edgerton St | HARRISON AND HANDY'S ADDITION TO THE CITY OF ST. PAUL VAC AVE AND ALLEY ACCRUING AND FOL LOTS 16 THRU LOT 18 BLK 3 | Street Sweeping - Commerce Citywide Street Lighting | ial/Art 1.04 0.58 | 165.00 165.00 | \$171.60 \$95.70 \$267.30 | 20-29-22-13-0028 |
| St Paul MN 55130-3203 | | *** Owner and Taxpayer ** | * | | | |
| *1536 EDGERTON ST *Ward: 6 *Pending as of: 8/24/2021 | | Th Cu Cu | Total Assessment: This Payment: Current Year Principal: Current Year Interest: Payoff Amount: | | \$267.30 \$0.00 \$0.00 \$0.00 \$267.30 | |
| Der Vue 1530 Edgerton St | HARRISON AND HANDY'S ADDITION TO THE CITY OF ST. PAUL VAC AVE ACCRUING TO LOT 1 AND FOL LOTS | Street Sweeping - Commerc Citywide Street Lighting | ial/Art 1.04 0.58 | 105.00 105.00 | \$109.20 \$60.90 | 20-29-22-13-0030 |
| St Paul MN 55130-3201 *1530 EDGERTON ST | 1 AND LOT 2 BLK 5 | *** Owner and Taxpayer ** | ** | _ | \$170.10 | |
| *Ward: 6 *Pending as of: 8/24/2021 | | To Th Cu Cu | tal Assessment: is Payment: rrent Year Principal: rrent Year Interest: yoff Amount: | | \$170.10 \$0.00 \$0.00 \$0.00 \$170.10 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Ratification Date: | • | | Assmt: 210025 | Manager: LMR | Page 65 |
|----------------------------------------------|------------------------------------------------------------------------------|----------------------------------------------------|---------------|------------|-----------------|--------------------|------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Kory J Osborne 1520 Edgerton St | HARRISON AND HANDY'S ADDITION TO THE CITY OF ST. PAUL LOTS 3 AND LOT 4 BLK 5 | Street Sweeping - Comm Citywide Street Lighting | | 1.04 | 80.00 80.00 | \$83.20 \$46.40 | 20-29-22-13-0031 |
| St Paul MN 55130-3201 | AND EOT 4 BER 3 | | | | = | \$129.60 | |
| *1520 EDGERTON ST | | *** Owner and Taxpayer | r *** | | | | |
| *Ward: 6 | | | Total Assessr | nent: | | \$129.60 | |
| *Pending as of: 8/24/2021 | | | This Payment | | | \$0.00 | |
| | | | Current Year | _ | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amou | ınt: | | \$129.60 | |
| — — — — — — — — — Gholamreza Ashrafzadehkian | HARRISON AND HANDY'S ADDITION | Street Sweeping - Comm | ercial/Art | | | | 20-29-22-13-0033 |
| 3817 Beard Ave S | TO THE CITY OF ST. PAUL LOT 7 BLK | Street Sweeping - Reside | | 0.41 | 60.50 | \$24.81 | 20 27 22 18 0000 |
| Minneapolis MN 55410-1040 | 5 | Citywide Street Lighting | | 0.58 | 78.00 | \$45.24 | |
| *575 NEBRASKA AVE E | | | | | _ | \$88.25 | |
| *Ward: 6 | | *** Owner and Taxpayer | r *** | | | | |
| *Pending as of: 8/24/2021 | | • | Total Assessr | nent: | | \$88.25 | |
| | | | This Payment | t: | | \$0.00 | |
| | | | Current Year | Principal: | | \$0.00 | |
| | | | Current Year | Interest: | | \$0.00 | |
| | | | Payoff Amou | int: | | \$88.25 | |
| | HARRISON AND HANDY'S ADDITION | Street Sweeping - Comm | ercial/Art | | | | <u> </u> |
| Hope Chaney | TO THE CITY OF ST. PAUL LOT 17 BLK | Street Sweeping - Reside | | 0.41 | 30.00 | \$12.30 | 20-27-22-13-0034 |
| 593 Nebraska Ave E | 5 | Citywide Street Lighting | | 0.58 | 50.00 | \$29.00 | |
| St Paul MN 55130 | | | | | _ | \$62.10 | |
| *593 NEBRASKA AVE E | | *** Owner and Taxpayer | r *** | | | | |
| *Ward: 6 | | • | Total Assessr | nent: | - | \$62.10 | |
| *Pending as of: 8/24/2021 | | | This Payment | t: | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Current Year | Interest: | | \$0.00 | |
| | | | | | | | |

Payoff Amount:

\$62.10

| Property Description | 22:53:28 10/4/2021 | Public Improvement Assessment Roll by I | PID (Fee to Asmt) Ratification Date: | Project: 2021 Resolution # | | Assmt: 210025 | Manager: LMR | Page 66 |
|-----------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------|-------------------------------------------------------------------------------------|----------------------------------------------------------------------------------------------------------------------------------------|-------------------------------------------------|-------------------------------------------------------------------------------|---------------------------------------|-----------------|------------------------------------------------------------------------|------------------|
| 10570 Grey Cloud Island Dr S Citywide Street Lighting 0.58 40.00 \$32.20 \$64.80 | Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Total Assessment Solution S | • | | | | | | | 20-29-22-13-0035 |
| ***Owner and Taxpayer *** ***Owner and Taxpayer | | LOT 8 LYING SWLY OF EXT ACROSS | Citywide Street Lighting | g | 0.38 | 40.00 | | |
| **Mard: 6 *Pending as of: \$\(\frac{2}{2}\) 24/2021 **Pending as of: | | | *** Owner and Taxpayo | er *** | | | \$64.80 | |
| "Pending as of: 8/24/2021 Deborah K Fonkert | | | | Total Assessm | nent: | | \$64.80 | |
| Current Year Principal: \$0.00 | *Pending as of: 8/24/2021 | | | | | | | |
| Current Year Interest S0.00 Payoff Amount S64.80 S64.80 | | | | - | | | | |
| Deborah K Fonkert HARRISON AND HANDY'S ADDITION Scott W Schlittenhart TOTHE CITY OF ST. PAUL VAC AVE ACCENINGS POLI-PART OF LOTTO S & Street Sweeping - Commercial/Art 1.04 40.00 \$41.60 \$20-29-22-13-0036 \$179 arkway Dr \$170 ark | | | | | _ | | | |
| Deborah K Fonkert HARRISON AND HANDY'S ADDITION Street Sweeping - Commercial/Art 1.04 40.00 \$41.60 \$20-29-22-13-0036 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.80 \$64.8 | | | | | | | | |
| William N Hanson 619 Parkway Dr St Paul MN 55106-1027 *** Owner and Taxpayer *** *619 PARKWAY DR *Ward: 6 *Pending as of: 8/24/2021 ***Owner and Taxpayer *** Citywide Street Lighting 0.58 40.00 \$23.20 \$64.80 ***Owner and Taxpayer *** Total Assessment: This Payment: So.00 Current Year Principal: So.00 Current Year Interest: \$0.00 | Scott W Schlittenhart 617 Parkway Dr St Paul MN 55106-1027 *617 PARKWAY DR *Ward: 6 | TO THE CITY OF ST. PAUL VAC AVE ACCRUING & FOL; PART OF LOTS 8 & 9 LYING NELY OF EXT ACROSS SD LOT 8 OF NELY LINE OF LOT 16 & | Citywide Street Lighting *** Owner and Taxpayo | er *** Total Assessm This Payment: Current Year I Current Year I Payoff Amou | 0.58 nent: : Principal: Interest: nt: | 40.00 | \$23.20 \$64.80 \$64.80 \$0.00 \$0.00 \$0.00 \$64.80 | 20-29-22-13-0036 |
| ### Owner and Taxpayer *** ## | Laura E Hanson | | | | | | | 20-29-22-13-0037 |
| St Paul MN 55106-1027 ***Owner and Taxpayer *** *619 PARKWAY DR Total Assessment: \$64.80 *Ward: 6 This Payment: \$0.00 *Pending as of: 8/24/2021 Current Year Principal: \$0.00 Current Year Interest: \$0.00 | William N Hanson | | Citywide Street Lighting | g | 0.58 | 40.00 | \$23.20 | |
| *Ward: 6 This Payment: \$0.00 *Pending as of: 8/24/2021 Current Year Principal: Current Year Interest: \$0.00 | • | | *** Owner and Taxpayo | er *** | | | \$64.80 | |
| *Ward: 6 *Pending as of: 8/24/2021 *Urrent Year Principal: \$0.00 *Current Year Interest: \$0.00 | *619 PARKWAY DR | | | Total Assessm | nent: | <u>-</u> | \$64.80 | |
| *Pending as of: 8/24/2021 Current Year Principal: \$0.00 Current Year Interest: \$0.00 | *Ward: 6 | | | | | | | |
| Current Year Interest: \$0.00 | *Pending as of: 8/24/2021 | | | - | | | | |
| | | | | | _ | | | |
| | | | | | | | | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by PID (Fee to Asmt) Project: 2021SMSP Ratification Date: Resolution #: | | SMSP | Assmt: 210025 | Manager: LMR | Page 67 | |
|------------------------------------------|------------------------------------------------------------------------------------------------------------|--------------------------|------------------------|-------------------|-----------------|-------------|--------------------|
| Owner or Taxpayer | Property Description | Item Description | <u> </u> | <u> Init Rate</u> | Quantity | Charge Amts | Property ID |
| Jennifer Yer Yang | HARRISON AND HANDY'S ADDITION | Street Sweeping - Comme | ercial/Art | 1.04 | 40.00 | \$41.60 | 20-29-22-13-0038 |
| 625 Parkway Dr | TO THE CITY OF ST. PAUL LOT 13 BLK 5 | Citywide Street Lighting | | 0.58 | 40.00 | \$23.20 | |
| St Paul MN 55106-1027 *625 PARKWAY DR | | *** Owner and Taxpayer | . *** | | | \$64.80 | |
| *Ward: 6 | | - 1 | Total Assessme | nt: | | \$64.80 | |
| *Pending as of: 8/24/2021 | | П | This Payment: | | | \$0.00 | |
| | | (| Current Year Pi | rincipal: | | \$0.00 | |
| | | | Current Year In | | | \$0.00 | |
| | | I | Payoff Amoun | t: | | \$64.80 | |
| Fyr Sfr Borrower Llc | HARRISON AND HANDY'S ADDITION | Street Sweeping - Comme | ercial/Art | 1.04 | | | <u> </u> |
| Co Havenbrook Homes | TO THE CITY OF ST. PAUL NO PART | Citywide Street Lighting | | 0.58 | 40.00 | \$23.20 | 20-2)-22-13-0040 |
| 3505 Koger Blvd Ste 400 | OF VAC AVE ACCRUING & LOT 11 BLK 5 | | | | _ | \$64.80 | |
| Duluth GA 30096-7672 | | *** Owner and Taxpayer | *** | | | | |
| *633 PARKWAY DR | | _ 1 | Total Assessme | nt: | - | \$64.80 | |
| *Ward: 6 | | 7 | This Payment: | | | \$0.00 | |
| *Pending as of: 8/24/2021 | | (| Current Year Pi | incipal: | | \$0.00 | |
| | | (| Current Year In | terest: | | \$0.00 | |
| | | I | Payoff Amoun | t: | | \$64.80 | |
| | HARRISON AND HANDY'S ADDITION | Street Sweeping - Comme | ercial/Art | | 57.00 | | |
| 49 Windsor Wood Path | TO THE CITY OF ST. PAUL NO PART | Citywide Street Lighting | | 0.58 | 57.00 | \$33.06 | 20-29-22-13-0041 |
| Hudson WI 54016-7772 | OF VAC AVE ACCRUING & SWLY 57.3 FT OF LOT 10 BLK 5 | | | | = | \$92.34 | |
| *639 PARKWAY DR | rrer zer nozzak o | *** Owner and Taxpayer | . *** | | | Ψ,2.5 . | |
| *Ward: 6 | | - 1 | Total Assessme | nt: | - | \$92.34 | |
| *Pending as of: 8/24/2021 | | | This Payment: | | | \$0.00 | |
| | | | Current Year Pi | rincipal: | | \$0.00 | |
| | | | Current Year Interest: | | | \$0.00 | |
| | | I | Payoff Amoun | t: | | \$92.34 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by I | • • • • • • • • • • • • • • • • • • • • | | Project: 2021SMSP Resolution #: | | Manager: LMR | Page 68 |
|-------------------------------------------------------------------------|--------------------------------------------------------------------------------------------------------------------------|----------------------------------------------------------------------------|-----------------------------------------------------------------------------------------------|------------------------------------|---------------------------|----------------------------------------------------|------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Ks Fortune Investment Llc 636 Montana Ave E St Paul MN 55130-3204 | HARRISON AND HANDY'S ADDITION TO THE CITY OF ST. PAUL N 55 FT MEASURED ON AVE OF LOTS 1 AND LOT 2 BLK 6 | Street Sweeping - Com Street Sweeping - Resi Citywide Street Lightin | dential Stree | 1.04 0.41 0.58 | 105.00 55.00 160.00 | \$109.20 \$22.55 \$92.80 | 20-29-22-13-0043 |
| *636 MONTANA AVE E *Ward: 6 | | *** Owner and Taxpay | yer *** | | | \$224.55 | |
| *Pending as of: 8/24/2021 | | | Total Assess This Paymer Current Yea Current Yea Payoff Amo | nt: r Principal: r Interest: | | \$224.55 \$0.00 \$0.00 \$0.00 \$224.55 | |
| Donald H Partlow 642 Parkway Dr St Paul MN 55106-1028 *642 PARKWAY DR | HARRISON AND HANDY'S ADDITION TO THE CITY OF ST. PAUL EX N 55 FT & EX SELY 15 FT. THE FOL TRACT; LOTS 1, 2 & LOT 3 BLK 6 | Street Sweeping - Com Citywide Street Lightin | ng | 1.04 0.58 | 37.00 37.00 = | \$38.48 \$21.46 \$59.94 | 20-29-22-13-0044 |
| *Ward: 6 *Pending as of: 8/24/2021 | | | Total Assessment: This Payment: Current Year Principal: Current Year Interest: Payoff Amount: | | | \$59.94 \$0.00 \$0.00 \$0.00 \$59.94 | |
| Jane E Samuelson Dennis D Schultz 640 Parkway Dr St Paul MN 55106-1028 | HARRISON AND HANDY'S ADDITION TO THE CITY OF ST. PAUL SELY 15 FT OF LOTS 1 AND 3 AND ALL OF LOT 4 BLK 6 | Street Sweeping - Com Citywide Street Lightin | ng | 1.04 0.58 | 31.00 | \$32.24 \$17.98 \$50.22 | 20-29-22-13-0045 |
| *640 PARKWAY DR *Ward: 6 *Pending as of: 8/24/2021 | | | Total Assess This Paymer Current Yea Current Yea Payoff Amo | nt: r Principal: r Interest: | | \$50.22 \$0.00 \$0.00 \$0.00 \$50.22 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by I | PID (Fee to Asmt) Ratification Date: | Project: 2021SMSP Resolution #: | | Assmt: 210025 | Manager: LMR | Page 69 |
|-----------------------------|-------------------------------------------------------------------|-----------------------------------------|----------------------------------|------------|-----------------|--------------|--------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Linda K Ruhberg | HARRISON AND HANDY'S ADDITION | Street Sweeping - Com | | 1.04 | 40.00 | \$41.60 | 20-29-22-13-0046 |
| 636 Parkway Dr | TO THE CITY OF ST. PAUL LOT 5 BLK 6 | Citywide Street Lightin | ıg | 0.58 | 40.00 | \$23.20 | |
| St Paul MN 55106-1028 | | | | | | \$64.80 | |
| *636 PARKWAY DR | | *** Owner and Taxpay | er *** | | | | |
| *Ward: 6 | | | Total Assessm | nent: | | \$64.80 | |
| *Pending as of: 8/24/2021 | | | This Payment | | | \$0.00 | |
| | | | Current Year | _ | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amou | nt: | | \$64.80 | |
| | HARRISON AND HANDY'S ADDITION | Street Sweeping - Com | mercial/Art | | | | |
| 313 Greeley St S | TO THE CITY OF ST. PAUL EX SWLY 1 FT LOT 6 BLK 6 | Citywide Street Lightin | ıg | 0.58 | 39.00 | \$22.62 | _, _,,, |
| Stillwater MN 55082-7007 | FILUI OBLK O | | | | _ | \$63.18 | |
| *632 PARKWAY DR | | *** Owner and Taxpay | er *** | | | | |
| *Ward: 6 | | | Total Assessm | nent: | - | \$63.18 | |
| *Pending as of: 8/24/2021 | | | This Payment | | | \$0.00 | |
| | | | Current Year | Principal: | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amou | nt: | | \$63.18 | |
| Sherry L Crenshaw | HARRISON AND HANDY'S ADDITION | Street Sweeping - Com | mercial/Art | | | | 20-29-22-13-0049 |
| 624 Parkway Dr | TO THE CITY OF ST. PAUL PART OF | Street Sweeping - Resid | | 0.41 | 25.00 | \$10.25 | |
| St Paul MN 55106-1028 | LOT 8 ELY OF FOL DESC L COM AT A PT ON DR 12 FT NELY FROM MOST | Citywide Street Lightin | ıg | 0.58 | 43.00 | \$24.94 | |
| *624 PARKWAY DR *Ward: 6 | WLY COR OF LOT 8 TH SELY AT RA 50 FT TH SLY TO SW COR OF LOT 8 | *** Owner and Taxpay | *** Owner and Taxpayer *** | | _ | \$53.91 | |
| *Pending as of: 8/24/2021 | | | Total Assessm | nent: | - | \$53.91 | |
| | | | This Payment | : | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Current Year | Interest: | | \$0.00 | |
| | | | Payoff Amou | nt: | | \$53.91 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by I | PID (Fee to Asmt) Project: 2021SMSP A Ratification Date: Resolution #: | | Assmt: 210025 | Manager: LMR | Page 70 | |
|----------------------------------------------|---------------------------------------------------------------------|------------------------------------------------------------------------|------------------------|---------------|----------------------------------------|--------------------|------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Mofungo Llc | HARRISON AND HANDY'S ADDITION | Street Sweeping - Com | | 1.04 | 46.50 | \$48.36 | 20-29-22-13-0050 |
| C/O Twin Cities Home Rental | TO THE CITY OF ST. PAUL PART OF LOT 8 WLY OF FOL DESC L COM AT A | Street Sweeping - Resident Street Lighting Street Lighting | | 0.41 0.58 | 59.00 105.50 | \$24.19 \$61.19 | |
| 5200 34th Ave S Minneapolis MN 55417-2112 | PT ON DR 12 FT NELY FROM MOST WLY COR OF SD LOT 8 TH SELY AT | Citywide Street Lightii | ng | 0.36 | 103.30 | \$133.74 | |
| *620 PARKWAY DR | RA 50 FT TH SLY TO THE SW COR OF | *** Owner and Taxpay | yer *** | | | \$133.74 | |
| *Ward: 6 | | | Total Assessi | ment: | - | \$133.74 | |
| *Pending as of: 8/24/2021 | | | This Paymen | t: | | \$0.00 | |
| | | | Current Year | Principal: | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amou | ınt: | | \$133.74 | |
| Thavisouk Xiong | HARRISON AND HANDY'S ADDITION | Street Sweeping - Resid | dential Stree | | —————————————————————————————————————— | | |
| 698 Montana Ave E | TO THE CITY OF ST. PAUL LOT 1 BLK | Alley Sweeping | | 0.14 | 34.00 | \$4.76 | 20-29-22-13-0033 |
| St Paul MN 55106-1022 | 7 | Citywide Street Lightin | ng | 0.58 | 79.50 | \$46.11 | |
| *698 MONTANA AVE E | | | | | _ | \$83.47 | |
| *Ward: 6 | | *** Owner and Taxpay | yer *** | | | | |
| *Pending as of: 8/24/2021 | | | Total Assessi | ment: | - | \$83.47 | |
| | | | This Paymen | | | \$0.00 | |
| | | | Current Year | _ | | \$0.00 | |
| | | | Current Year | Interest: | | \$0.00 | |
| | | | Payoff Amou | ınt: | | \$83.47 | |
| | HARRISON AND HANDY'S ADDITION | Street Sweeping - Resid | dential Stree | | | <u>\$16.40</u> | <u> </u> |
| Felicia Williamson | TO THE CITY OF ST. PAUL LOT 3 BLK | Alley Sweeping | | 0.14 | 40.00 | \$5.60 | 20-27-22-13-0033 |
| 688 Montana Ave E | 7 | Citywide Street Lightin | ng | 0.58 | 40.00 | \$23.20 | |
| St Paul MN 55106-1022 | | | | | _ | \$45.20 | |
| *688 MONTANA AVE E | | *** Owner and Taxpay | yer *** | | | | |
| *Ward: 6 | | | Total Assessi | ment: | | \$45.20 | |
| *Pending as of: 8/24/2021 | | | This Payment: | | \$0.00 | | |
| | | | Current Year | | | \$0.00 \$0.00 | |
| | | | Current Year Interest: | | | | |
| | | | Payoff Amou | ınt: | | \$45.20 | |

| Public Improvement Assessment Roll by PID (Fee to Ass Ratification | | Project: 2021SMSP Resolution #: | | Assmt: 210025 | Manager: LMR | Page 71 |
|-------------------------------------------------------------------------|-------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------|--------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------|---------------------------------------------------|-----------------------------------------------------------------------------------------|------------------------------------------------------|------------------------------------|
| Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| HARRISON AND HANDY'S ADDITION TO THE CITY OF ST. PAUL LOT 5 BLK 7 | Alley Sweeping | | 0.41 0.14 0.58 | 40.00 40.00 40.00 | \$16.40 \$5.60 \$23.20 | 20-29-22-13-0057 |
| | *** Owner and Taxpay | /er *** | | _ | \$45.20 | |
| | | | | - | \$45.20 | |
| | | Current Year | r Principal: | | \$0.00 | |
| | | | | | \$45.20 | |
| HARRISON AND HANDY'S ADDITION TO THE CITY OF ST. PAUL LOT 7 BLK | Street Sweeping - Resid | dential Stree | 0.41 0.14 | 40.00 40.00 | \$16.40 \$5.60 | 20-29-22-13-0059 |
| 7 | Citywide Street Lightin | ng | 0.58 | 40.00 | \$23.20 \$45.20 | |
| | *** Owner and Taxpay | /er *** | | | φτ3.20 | |
| | | This Paymer Current Year Current Year | nt: r Principal: r Interest: | | \$45.20 \$0.00 \$0.00 \$0.00 \$45.20 | |
| HARRISON AND HANDY'S ADDITION TO THE CITY OF ST. PAUL LOT 8 BLK 7 | Alley Sweeping | | 0.41 0.14 0.58 | 40.00 40.00 40.00 = | \$16.40 \$5.60 \$23.20 \$45.20 | 20-29-22-13-0060 |
| | *** Owner and Taxpay | /er *** | | <u>.</u> | | |
| | | This Paymer Current Year Current Year | nt: r Principal: r Interest: | | \$45.20 \$0.00 \$0.00 \$0.00 | |
| | HARRISON AND HANDY'S ADDITION TO THE CITY OF ST. PAUL LOT 5 BLK 7 HARRISON AND HANDY'S ADDITION TO THE CITY OF ST. PAUL LOT 7 BLK 7 HARRISON AND HANDY'S ADDITION TO THE CITY OF ST. PAUL LOT 8 BLK | HARRISON AND HANDY'S ADDITION TO THE CITY OF ST. PAUL LOT 5 BLK TO THE CITY OF ST. PAUL LOT 5 BLK TO THE CITY OF ST. PAUL LOT 7 BLK TO THE CITY OF ST. PAUL LOT 7 BLK TO THE CITY OF ST. PAUL LOT 7 BLK TO THE CITY OF ST. PAUL LOT 7 BLK TO THE CITY OF ST. PAUL LOT 7 BLK TO THE CITY OF ST. PAUL LOT 8 BLK TO THE CITY OF ST. PAUL LOT 8 BLK TO THE CITY OF ST. PAUL LOT 8 BLK TO THE CITY OF ST. PAUL LOT 8 BLK TO THE CITY OF ST. PAUL LOT 8 BLK To THE CITY OF ST. PAUL LOT 8 BLK To THE CITY OF ST. PAUL LOT 8 BLK To THE CITY OF ST. PAUL LOT 8 BLK To THE CITY OF ST. PAUL LOT 8 BLK To THE CITY OF ST. PAUL LOT 8 BLK To THE CITY OF ST. PAUL LOT 8 BLK To THE CITY OF ST. PAUL LOT 8 BLK To THE CITY OF ST. PAUL LOT 8 BLK To THE CITY OF ST. PAUL LOT 8 BLK To THE CITY OF ST. PAUL LOT 8 BLK To THE CITY OF ST. PAUL LOT 8 BLK To THE CITY OF ST. PAUL LOT 8 BLK To THE CITY OF ST. PAUL LOT 8 BLK To THE CITY OF ST. PAUL LOT 8 BLK To THE CITY OF ST. PAUL LOT 8 BLK To THE CITY OF ST. PAUL LOT 8 BLK To THE CITY OF ST. PAUL LOT 8 BLK To THE CITY OF ST. PAUL LOT 8 BLK To THE CITY OF ST. PAUL LOT 8 BLK To THE CITY OF ST. PAUL LOT 8 BLK To THE CITY OF ST. PAUL LOT 8 BLK To THE CITY OF ST. PAUL LOT 8 BLK To THE CITY OF ST. PAUL LOT 8 BLK To THE CITY OF ST. PAUL LOT 8 BLK To THE CITY OF ST. PAUL LOT 8 BLK To THE CITY OF ST. PAUL LOT 8 BLK TO THE CITY OF ST. PAUL LOT 8 BLK TO THE CITY OF ST. PAUL LOT 8 BLK TO THE CITY OF ST. PAUL LOT 8 BLK TO THE CITY OF ST. PAUL LOT 8 BLK TO THE CITY OF ST. PAUL LOT 8 BLK TO THE CITY OF ST. PAUL LOT 8 BLK TO THE CITY OF ST. PAUL LOT 8 BLK TO THE CITY OF ST. PAUL LOT 8 BLK TO THE CITY OF ST. PAUL LOT 8 BLK TO THE CITY OF ST. PAUL LOT 8 BLK TO THE CITY OF ST. PAUL LOT 8 BLK TO THE CITY OF ST. PAUL LOT 8 BLK TO THE CITY OF ST. PAUL LOT 8 BLK TO THE CITY OF ST. PAUL LOT 8 BLK TO THE CITY OF ST. PAUL LOT 8 BLK TO THE CITY OF ST. PAUL LOT 8 BLK TO THE CITY OF ST. PAUL LOT 8 BLK TO THE CITY OF ST. PAUL LOT 8 BLK TO THE CITY OF ST. PAUL LOT 8 BLK TO THE CITY OF ST. PA | Ratification Date: Resolution Item Description | Ratification Date: Resolution #: Property Description Item Description Unit Rate | Ratification Date: Resolution #: Item Description | Ratification Date: Resolution #: |

\$45.20

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Ratification Date: | Project: 2021 Resolution #: | | Assmt: 210025 | Manager: LMR | Page 74 |
|-----------------------------------------------------------------|-----------------------------------------------------------------------------------------------------|------------------------------------------------------------------------|--------------------------------|----------------------|-------------------------|------------------------------|------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Patricia Cornish 695 Nebraska Ave E St Paul MN 55106-1725 | HARRISON AND HANDY'S ADDITION TO THE CITY OF ST. PAUL E 1/2 OF LOT 29 AND ALL OF LOT 30 BLK 7 | Street Sweeping - Reside Alley Sweeping Citywide Street Lighting | | 0.41 0.14 0.58 | 89.50 54.00 89.50 | \$36.70 \$7.56 \$51.91 | 20-29-22-13-0075 |
| *695 NEBRASKA AVE E *Ward: 6 | | *** Owner and Taxpaye | r *** | | \$96.17 | | |
| *Pending as of: 8/24/2021 | | | Total Assessm | ent: | - | \$96.17 | |
| | | | This Payment: | | | \$0.00 | |
| | | | Current Year P | | | \$0.00 | |
| | | | Current Year I | | | \$0.00 | |
| | | | Payoff Amour | nt: | | \$96.17 | |
| Victor Maas | HARRISON AND HANDY'S ADDITION | Street Sweeping - Reside | ential Stree | 0.41 | 89.50 | \$36.70 | 20-29-22-13-0076 |
| 696 Nebraska Ave E | Nebraska Ave E TO THE CITY OF ST. PAUL E 1/2 OF LOT 2 AND ALL OF LOT 1 BLK 12 | Alley Sweeping | | 0.14 | 54.00 | \$7.56 | |
| St Paul MN 55106-1726 | EGIZIND NEE OF EGI T BER 12 | Citywide Street Lighting | 7 | 0.58 | 89.50 | \$51.91 | |
| *696 NEBRASKA AVE E | | | | | | \$96.17 | |
| *Ward: 6 | | *** Owner and Taxpaye | er *** | | | | |
| *Pending as of: 8/24/2021 | | | Total Assessm | ent: | - | \$96.17 | |
| | | | This Payment: | | | \$0.00 | |
| | | | Current Year P | Principal: | | \$0.00 | |
| | | | Current Year I | nterest: | | \$0.00 | |
| | | | Payoff Amour | nt: | | \$96.17 | |
| | HARRISON AND HANDY'S ADDITION | Street Sweeping - Reside | ential Streε | | | | 20-29-22-13-0079 |
| 680 Nebraska Ave E | TO THE CITY OF ST. PAUL LOTS 5 | Alley Sweeping | | 0.14 | 80.00 | \$11.20 | |
| St Paul MN 55106-1726 | AND LOT 6 BLK 12 | Citywide Street Lighting | 5 | 0.58 | 80.00 | \$46.40 | |
| *680 NEBRASKA AVE E | | | | | - | \$90.40 | |
| *Ward: 6 | | *** Owner and Taxpaye | er *** | | | | |
| *Pending as of: 8/24/2021 | | | Total Assessm | ent: | - | \$90.40 | |
| | | | This Payment: | | | \$0.00 | |
| | | | Current Year P | Principal: | | \$0.00 | |
| | | | Current Year I | | | \$0.00 | |
| | | | Payoff Amour | ıt: | | \$90.40 | |

\$132.84

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by l | PID (Fee to Asmt) Ratification Date: | Project: 2021SMSP Resolution #: | | Assmt: 210025 | ğ | Page 78 | |
|------------------------------------------------------|--------------------------------------------------------------------------------------------------------------|-----------------------------------------------------------------------------|---------------------------------|----------------------|-------------------------|-------------------------------|------------------|--|
| Owner or Taxpayer | Property Description | Item Description | | <u>Unit Rate</u> | Quantity | Charge Amts | Property ID | |
| Gary L Hoyt Kimberly R Hoyt 605 Wheelock Pky E | HARRISON AND HANDY'S ADDITION TO THE CITY OF ST. PAUL EX PKWY E 1/2 VAC ALLEY ADJ AND LOT 25 BLK 11 | Street Sweeping - Com Street Sweeping - Resid Citywide Street Lightin | dential Stree | 1.04 0.41 0.58 | 26.50 25.00 51.50 | \$27.56 \$10.25 \$29.87 | 20-29-22-13-0100 | |
| St Paul MN 55130-3239 *605 WHEELOCK PKWY E | | *** Owner and Taxpay | *** Owner and Taxpayer *** | | | | | |
| *Ward: 6 *Pending as of: 8/24/2021 | | | Total Assessr | | - | \$67.68 | | |
| 1 chang as of. 6/24/2021 | | | This Payment | | | \$0.00 | | |
| | | | Current Year Current Year | | | \$0.00 \$0.00 | | |
| | | | Payoff Amou | | | \$67.68 | | |
| | | | | | | | | |
| Brianna Havelka | HARRISON AND HANDY'S ADDITION TO THE CITY OF ST. PAUL EX PKWY | Street Sweeping - Com | | 1.04 0.41 | 23.00 | \$23.92 \$8.20 | 20-29-22-13-0102 | |
| | 6 Nebraska Ave E LOT 23 BLK 11 | Street Sweeping - Residence Citywide Street Lightin | | 0.41 | 20.00 43.00 | \$8.20 \$24.94 | | |
| St Paul MN 55130-3206 *616 NEBRASKA AVE E | | City wide Street Eightin | 15 | 0.50 | = 15.00 | \$57.06 | | |
| *Ward: 6 | | *** Owner and Taxpay | /er *** | | \$37.00 | | | |
| *Pending as of: 8/24/2021 | | | Total Assessr | nent: | - | \$57.06 | | |
| | | | This Payment | t: | | \$0.00 | | |
| | | | Current Year | Principal: | | \$0.00 | | |
| | | | Current Year | | | \$0.00 | | |
| | | | Payoff Amou | ınt: | | \$57.06 | | |
| | HARRISON AND HANDY'S ADDITION | Street Sweeping - Resid | dential Stree | 0.41 | | | <u> </u> | |
| Lenore M Campbell | TO THE CITY OF ST. PAUL LOT 21 | Alley Sweeping | | 0.14 | 40.00 | \$5.60 | 20 25 22 16 0101 | |
| 624 Nebraska Ave E | BLK 11 | Citywide Street Lightin | ng | 0.58 | 40.00 | \$23.20 | | |
| St Paul MN 55130-3206 | | | | | - | \$45.20 | | |
| *624 NEBRASKA AVE E | | *** Owner and Taxpay | /er *** | | | | | |
| *Ward: 6 | | | Total Assessr | nent: | | \$45.20 | | |
| *Pending as of: 8/24/2021 | | | This Payment | t: | | \$0.00 | | |
| | | | Current Year | | | | | |
| | | | Current Year | | | \$0.00 | | |
| | | | Payoff Amou | ınt: | | \$45.20 | | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date: | | Project: 2021 Resolution # | | Assmt: 210025 | Manager: LMR | Page 79 |
|-----------------------------|-----------------------------------------------------------------------------|------------------------------------------------------|-------------------------------|--------------|-----------------|--------------------|------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Michael J Moore | HARRISON AND HANDY'S ADDITION | Street Sweeping - Reside | ential Stree | 0.41 | 40.00 | \$16.40 | 20-29-22-13-0105 |
| Mary N Moore | TO THE CITY OF ST. PAUL LOT 20 BLK 11 | Alley Sweeping | | 0.14 | 40.00 | \$5.60 | |
| 628 Nebraska Ave E | | Citywide Street Lighting | ţ | 0.58 | 40.00 | \$23.20 | |
| St Paul MN 55130-3206 | | *** Owner and Taxpayer | *** | | | \$45.20 | |
| *628 NEBRASKA AVE E | | Owner and Taxpayer | | | - | | |
| *Ward: 6 | | • | Total Assessm | ent: | | \$45.20 | |
| *Pending as of: 8/24/2021 | | | This Payment: | | | \$0.00 | |
| | | 1 | Current Year l | Principal: | | \$0.00 | |
| | | 1 | Current Year l | nterest: | | \$0.00 | |
| | | | Payoff Amou | nt: | | \$45.20 | |
| | | | | | | | |
| Cynthia M Valencia | HARRISON AND HANDY'S ADDITION | Street Sweeping - Comm | | 1.04 | 62.50 | \$65.00 | 20-29-22-13-0106 |
| 632 Nebraska Ave E | TO THE CITY OF ST. PAUL LOTS 18 AND LOT 19 BLK 11 | Street Sweeping - Reside | ential Stree | 0.41 | 40.00 | \$16.40 | |
| St Paul MN 55130-3206 | | Alley Sweeping | | 0.14 | 80.00 | \$11.20 | |
| *632 NEBRASKA AVE E | | Citywide Street Lighting | | 0.58 | 102.50 | \$59.45 | |
| *Ward: 6 | | *** Owner and Taxpayer | *** | | | \$152.05 | |
| *Pending as of: 8/24/2021 | | • Owner and Taxpayer | | | - | | |
| | | | Total Assessm | | | \$152.05 | |
| | | | This Payment: | | | \$0.00 | |
| | | 1 | Current Year l | Principal: | | \$0.00 | |
| | | 1 | Current Year l | nterest: | | \$0.00 | |
| | | | Payoff Amou | nt: | | \$152.05 | |
| | | | | | | | |
| Khu Moo | HARRISON AND HANDY'S ADDITION TO THE CITY OF ST. PAUL PART SLY | Street Sweeping - Comm | | 1.04 | 62.00 | \$64.48 | 20-29-22-13-0111 |
| 609 Nevada Ave E | PKWY OF LOTS 10 AND LOT 11 BLK | Street Sweeping - Reside Citywide Street Lighting | | 0.41 0.58 | 40.00 102.00 | \$16.40 \$59.16 | |
| St Paul MN 55130-3211 | 11 | City wide Street Lighting | , | 0.36 | 102.00 | <u> </u> | |
| *609 NEVADA AVE E *Ward: 6 | | *** Owner and Taxpayer | r *** | | | \$140.04 | |
| *Pending as of: 8/24/2021 | | • • | | | - | | |
| 1 Chailig as 01. 0/24/2021 | | | Total Assessm | | | \$140.04 | |
| | | | This Payment: | | | \$0.00 | |
| | | | Current Year I | | \$0.00 | | |
| | | | Current Year l | | | \$0.00 | |
| | | | Payoff Amou | nt: | | \$140.04 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Ratification Date: | Project: 20 Resolution | | Assmt: 210025 | Manager: LMR | Page 8 |
|----------------------------------|--------------------------------------------------------------------|--------------------------------------|---------------------------|------------------|-----------------|--------------|------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Robert D Kraker | HARRISON AND HANDY'S ADDITION | Street Sweeping - Cor | | 1.04 | 175.00 | \$182.00 | 20-29-22-13-0112 |
| 1739 St Clair Ave | TO THE CITY OF ST. PAUL EX PKWY N 2/3 OF LOTS 1 2 AND LOT 3 BLK 14 | Citywide Street Lighti | ing | 0.58 | 175.00 | \$101.50 | |
| St Paul MN 55105-1935 | | *** Owner and Taxpayer *** | | | | \$283.50 | |
| *395 WHEELOCK PKWY E *Ward: 6 | | Owner and Taxpa | | | | | |
| *Pending as of: 8/24/2021 | | | Total Assess | | | \$283.50 | |
| 7.0.00 mg as on 0.2.1.202. | | | This Paymer | | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$283.50 | |
| | HARRISON AND HANDY'S ADDITION | | — — — - nmercial/Art | | | | |
| 1459 Payne Ave | TO THE CITY OF ST. PAUL S 1/3 OF | Alley Sweeping | | 0.14 | 114.00 | \$15.96 | 20 27 22 10 0110 |
| St Paul MN 55130-3246 | LOTS 1 2 AND LOT 3 BLK 14 | Citywide Street Lighti | ing | 0.58 | 42.00 | \$24.36 | |
| *1459 PAYNE AVE | | | | | _ | \$84.00 | |
| *Ward: 6 | | *** Owner and Taxpa | yer *** | | | | |
| *Pending as of: 8/24/2021 | | | Total Assess | ment: | | \$84.00 | |
| | | This Payment: | | | | \$0.00 | |
| | | | Current Year | r Principal: | | \$0.00 | |
| | | Current Year Interest: | | | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$84.00 | |
| | HARRISON AND HANDY'S ADDITION | | idential Stree | | | | <u> </u> |
| 616 Nevada Ave E | TO THE CITY OF ST. PAUL LOT 6 BLK | Alley Sweeping | | 0.14 | 40.00 | \$5.60 | 20-27-22-13-0110 |
| St Paul MN 55101-3212 | 14 | Citywide Street Lighti | ing | 0.58 | 40.00 | \$23.20 | |
| *616 NEVADA AVE E | | | | | <u>—</u> | \$45.20 | |
| *Ward: 6 | | *** Owner and Taxpa | yer *** | | | | |
| *Pending as of: 8/24/2021 | | | Total Assess | ment: | - | \$45.20 | |
| | | | This Paymer | nt: | | \$0.00 | |
| | | | Current Year | r Principal: | | \$0.00 | |
| | | | Current Year | r Interest: | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$45.20 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date: | | Project: 2021SMSP Resolution #: | | Assmt: 210025 | Manager: LMR | Page 81 | |
|------------------------------------------------------------|----------------------------------------------------------------------------|------------------------------------------------------------------------|----------------------------------------|----------------------|-------------------------|------------------------------|--------------------|--|
| Owner or Taxpayer | Property Description | Item Description | <u>Ur</u> | nit Rate | Quantity | Charge Amts | Property ID | |
| Linsey M Owen 600 Nevada Ave E St Paul MN 55130-3212 | HARRISON AND HANDY'S ADDITION TO THE CITY OF ST. PAUL LOT 10 BLK 14 | Street Sweeping - Reside Alley Sweeping Citywide Street Lighting | | 0.41 0.14 0.58 | 40.00 40.00 40.00 | \$16.40 \$5.60 \$23.20 | 20-29-22-13-0120 | |
| *600 NEVADA AVE E *Ward: 6 | | *** Owner and Taxpayer | r *** | \$45.20 | | | | |
| *Pending as of: 8/24/2021 | | | Total Assessment | t: | - | \$45.20 | | |
| | | | This Payment: Current Year Prin | ncinal: | | \$0.00 \$0.00 | | |
| | | | Current Year Inte | - | | \$0.00 | | |
| | | | Payoff Amount: | | | \$45.20 | | |
| Shawn R Peper | HARRISON AND HANDY'S ADDITION | Street Sweeping - Reside | ential Stree | 0.41 | | | | |
| Amber L Ladany | aber L Ladany TO THE CITY OF ST. PAUL LOT 11 BLK 14 | Alley Sweeping | | 0.14 | 40.00 | \$5.60 | 20-27-22-13-0121 | |
| 596 Nevada Ave E | | Citywide Street Lighting | | 0.58 | 40.00 | \$23.20 | | |
| St Paul MN 55130-3212 | | | | | <u>=</u> | \$45.20 | | |
| *596 NEVADA AVE E | | *** Owner and Taxpayer | r *** | | _ | | | |
| *Ward: 6 | | | Total Assessment | t: | - | \$45.20 | | |
| *Pending as of: 8/24/2021 | | | This Payment: | | | \$0.00 | | |
| | | | Current Year Prin | - | | \$0.00 | | |
| | | | Current Year Inte | | | \$0.00 | | |
| | | | Payoff Amount: | | | \$45.20 | | |
| | HARRISON AND HANDY'S ADDITION | Street Sweeping - Comm | nercial/Art | 1.04 | 67.00 | \$69.68 | 20-29-22-13-0124 | |
| Ngam Touy | TO THE CITY OF ST. PAUL EX N 58 FT LOTS 13 14 AND LOT 15 BLK 14 | Alley Sweeping | | 0.14 | 111.00 | \$15.54 | | |
| 1460 Edgerton St | | Citywide Street Lighting | | 0.58 | 67.00 | \$38.86 | | |
| St Paul MN 55130-3244 | | *** 0 1 T | *** | | | \$124.08 | | |
| *1460 EDGERTON ST | | *** Owner and Taxpayer | r *** | | <u> </u> | | | |
| *Ward: 6 *Pending as of: 8/24/2021 | | | Total Assessment | t: | | \$124.08 | | |
| 1 chang as of. 0/27/2021 | | | This Payment: | 1 | | \$0.00 | | |
| | | | Current Year Prin Current Year Inte | • | | \$0.00 \$0.00 | | |
| | | | Payoff Amount: | | | \$0.00 \$124.08 | | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Ratification Date: | Project: 202 Resolution # | | Assmt: 210025 | Manager: LMR | Page 82 |
|---------------------------------------------------------------|-------------------------------------------------------------------------------------------------------------|----------------------------------------------------------------------|------------------------------|----------------------|--------------------------|-------------------------------|--------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Joseph R Salinas 1454 Edgerton St St Paul MN 55130-3244 | HARRISON AND HANDY'S ADDITION TO THE CITY OF ST. PAUL N 54 5/10 FT OF LOTS 16 17 AND LOT 18 BLK 14 | Street Sweeping - Comm Alley Sweeping Citywide Street Lighting | | 1.04 0.14 0.58 | 55.00 111.00 55.00 | \$57.20 \$15.54 \$31.90 | 20-29-22-13-0125 |
| *1454 EDGERTON ST *Ward: 6 | | *** Owner and Taxpaye | er *** | | | \$104.64 | |
| *Pending as of: 8/24/2021 | | • • | Total Assessn | nent: | | \$104.64 | |
| | | | This Payment | : | | \$0.00 | |
| | | | Current Year | Principal: | | \$0.00 | |
| | | | Current Year | Interest: | | \$0.00 | |
| | | | Payoff Amou | nt: | | \$104.64 | |
| | TANDERON AND HAVING ADDITION | Street Services Committee | | | | | |
| Vee Vang | HARRISON AND HANDY'S ADDITION TO THE CITY OF ST. PAUL EX N 54 | Street Sweeping - Comm Citywide Street Lighting | | 0.58 | 93.50 | \$97.24 \$54.23 | 20-29-22-13-0126 |
| 1602 Mary St N Maplewood MN 55119-7144 | 5/10 FT LOTS 16 17 AND LOT 18 BLK | City wide Street Eighting | 5 | 0.50 | = | | |
| *1444 EDGERTON ST | 14 | *** Owner and Taxpaye | ·r *** | | | \$151.47 | |
| *Ward: 6 | | 1 7 | | | | | |
| *Pending as of: 8/24/2021 | | | Total Assessn | | | \$151.47 | |
| 1 chang as of. 6/2 1/2021 | | | This Payment | | | \$0.00 | |
| | | | Current Year | _ | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amou | nt: | | \$151.47 | |
| Randall M Peterfeso | HARRISON AND HANDY'S ADDITION | Street Sweeping - Comm | nercial/Art | | | | 20-29-22-13-0127 |
| Wendy Peterfeso | TO THE CITY OF ST. PAUL W 1/2 OF | Alley Sweeping | | 0.14 | 60.00 | \$8.40 | 20 25 22 10 012, |
| 593 Arlington Ave E | LOT 20 AND ALL OF LOT 19 BLK 14 | Citywide Street Lighting | 3 | 0.58 | 60.00 | \$34.80 | |
| St Paul MN 55130-3242 | | | | | _ | \$105.60 | |
| *593 ARLINGTON AVE E | | *** Owner and Taxpaye | er *** | | | | |
| *Ward: 6 | | | Total Assessn | nent: | - | \$105.60 | |
| *Pending as of: 8/24/2021 | | | This Payment | : | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Current Year | Interest: | | \$0.00 | |
| | | | Payoff Amou | nt: | | \$105.60 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Ratification Date: | Project: 2021Si Resolution #: | MSP | Assmt: 210025 | Manager: LMR | Page 83 |
|-------------------------------|---------------------------------------------------------------------|---------------------------------------|----------------------------------|----------|-----------------|----------------|------------------|
| Owner or Taxpayer | Property Description | Item Description | <u>U</u> | nit Rate | Quantity | Charge Amts | Property ID |
| Grant A Moos | HARRISON AND HANDY'S ADDITION | Street Sweeping - Comm | nercial/Art | 1.04 | 60.00 | \$62.40 | 20-29-22-13-0128 |
| Susan L Moos | TO THE CITY OF ST. PAUL E 1/2 OF LOT 20 AND ALL OF LOT 21 BLK 14 | Alley Sweeping | | 0.14 | 60.00 | \$8.40 | |
| 599 Arlington Ave E | | Citywide Street Lighting | Ţ. | 0.58 | 60.00 | \$34.80 | |
| St Paul MN 55130-3242 | | *** 0 1 T | مات مات مات | | | \$105.60 | |
| *599 ARLINGTON AVE E | | *** Owner and Taxpayer | r *** | | | | |
| *Ward: 6 | | , | Total Assessmen | ıt: | | \$105.60 | |
| *Pending as of: 8/24/2021 | | | This Payment: | | | \$0.00 | |
| | | | Current Year Pri | - | | \$0.00 | |
| | | | Current Year Int | | | \$0.00 | |
| | | 1 | Payoff Amount: | 1 | | \$105.60 | |
| | HARRISON AND HANDY'S ADDITION | Street Sweeping - Comm | ercial/Art | 1.04 | | | |
| 613 Arlington Ave E | TO THE CITY OF ST. PAUL EX W 3 FT | Alley Sweeping | icicial/14it | 0.14 | 37.00 | \$5.18 | 20-29-22-13-0131 |
| St Paul MN 55130-3242 | LOT 24 BLK 14 | Citywide Street Lighting | | 0.58 | 37.00 | \$21.46 | |
| *613 ARLINGTON AVE E | | | | | _ | \$65.12 | |
| *Ward: 6 | | *** Owner and Taxpayer | r *** | | | ****** | |
| *Pending as of: 8/24/2021 | | , | Total Assessmen | ıt: | - | \$65.12 | |
| | | This Payment: | | | | | |
| | | | Current Year Pri | - | \$0.00 | | |
| | | | Current Year Int | | | \$0.00 | |
| | |] | Payoff Amount: | : | | \$65.12 | |
| Russell Dale Peterson Trustee | HARRISON AND HANDY'S ADDITION | Street Sweeping - Comm | nercial/Art | 1.04 | | <u>\$91.52</u> | 20-29-22-13-0135 |
| Steven D Peterson Trustee | TO THE CITY OF ST. PAUL S 1/2 OF | Citywide Street Lighting | | 0.58 | 88.00 | \$51.04 | 20-27-22-13-0133 |
| 15497 Afton Blvd S | LOTS 28 29 AND LOT 30 BLK 14 | | | | _ | \$142.56 | |
| Afton MN 55001-9389 | | *** Owner and Taxpayer | r *** | | | 42.2.00 | |
| *1445 PAYNE AVE | | - | Total Assessmen | ıt: | - | \$142.56 | |
| *Ward: 6 | | • | This Payment: | | | \$0.00 | |
| *Pending as of: 8/24/2021 | | | Current Year Pri | ncipal: | | \$0.00 | |
| | | (| Current Year Int | erest: | | \$0.00 | |
| | | | Payoff Amount: | : | | \$142.56 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Ratification Date: | Project: 202 Resolution | | Assmt: 210025 | Manager: LMR | Page 8 |
|-----------------------------|--------------------------------------------------------------------|--------------------------------------|-------------------------|------------|-----------------|--------------|--------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Matthew H Nuhfer | HARRISON AND HANDY'S ADDITION | Street Sweeping - Com | mercial/Art | 1.04 | 63.00 | \$65.52 | |
| 1453 Payne Ave | TO THE CITY OF ST. PAUL N 1/2 OF LOTS 28 29 AND LOT 30 BLK 14 | Alley Sweeping | | 0.14 | 114.00 | \$15.96 | |
| St Paul MN 55101-3246 | EOIS 20 27 AND EOI 30 BER 14 | Citywide Street Lightin | g | 0.58 | 63.00 | \$36.54 | |
| *1453 PAYNE AVE *Ward: 6 | | *** Owner and Taxpay | er *** | | | \$118.02 | |
| *Pending as of: 8/24/2021 | | | Total Assessr | nent: | | \$118.02 | |
| | | | This Paymen | t: | | \$0.00 | |
| | | | Current Year | Principal: | | \$0.00 | |
| | | | Current Year | Interest: | | \$0.00 | |
| | | | Payoff Amou | ınt: | | \$118.02 | |
| Riahl M Omalley | HARRISON AND HANDY'S ADDITION | Street Sweeping - Com | — — — – mercial/Art | | | | |
| Indira Y G Alfaro | TO THE CITY OF ST. PAUL EX PKWY | Alley Sweeping | | 0.14 | 70.00 | \$9.80 | 20-29-22-13-0139 |
| 678 Wheelock Pky | THE FOL W 1/2 OF LOT 5 ALL OF LOT 6 AND EX W 30 FT LOT 7 BLK 13 | Citywide Street Lightin | g | 0.58 | 70.00 | \$40.60 | |
| St Paul MN 55106-1719 | 0 AND EX W 30 FT LOT / BLK 13 | | | | _ | \$123.20 | |
| *678 WHEELOCK PKWY E | | *** Owner and Taxpay | er *** | | | Ų125.20 | |
| *Ward: 6 | | | Total Assessi | nent: | | \$123.20 | |
| *Pending as of: 8/24/2021 | | This Payment: | | | | \$0.00 | |
| | | | Current Year | Principal: | | \$0.00 | |
| | | | Current Year | Interest: | | \$0.00 | |
| | | | Payoff Amou | ınt: | | \$123.20 | |
| | HARRISON AND HANDY'S ADDITION | Street Sweeping - Com | mercial/Art | 1.04 | | | <u> </u> |
| 845 Laurel Ave | TO THE CITY OF ST. PAUL EX PKWY | Alley Sweeping | | 0.14 | 70.00 | \$9.80 | 20-27-22-13-0140 |
| St Paul MN 55104-7111 | W 30 FT OF LOT 7 AND ALL OF LOT 8 BLK 13 | Citywide Street Lightin | g | 0.58 | 70.00 | \$40.60 | |
| *668 WHEELOCK PKWY E | OBER 13 | | | | _ | \$123.20 | |
| *Ward: 6 | | *** Owner and Taxpay | er *** | | | • | |
| *Pending as of: 8/24/2021 | | | Total Assessi | | - | \$123.20 | |
| | | | This Paymen | | | \$0.00 | |
| | | | Current Year | _ | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amou | ınt: | | \$123.20 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by l | PID (Fee to Asmt) Ratification Date: | Project: 2021SMSP Resolution #: | | Assmt: 210025 | Manager: LMR | Page 85 | |
|--------------------------------------------------------|---------------------------------------------------------------------------------------------------------|----------------------------------------------------------------------|---------------------------------|----------------------|-------------------------|------------------------------|------------------|--|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID | |
| John M Scholtes Patricia K Scholtes 660 Wheelock Pky E | HARRISON AND HANDY'S ADDITION TO THE CITY OF ST. PAUL EX PKWY E 30 FT OF LOT 10 AND ALL OF LOT 9 BLK 13 | Street Sweeping - Comn Alley Sweeping Citywide Street Lighting | | 1.04 0.14 0.58 | 70.00 70.00 70.00 | \$72.80 \$9.80 \$40.60 | 20-29-22-13-0141 | |
| St Paul MN 55106-1719 *660 WHEELOCK PKWY E | *** Owner an | | er *** | | \$123.20 | | | |
| *Ward: 6 | | | Total Assessn | nent: | - | \$123.20 | | |
| *Pending as of: 8/24/2021 | | | This Payment | | | \$0.00 | | |
| | | | Current Year | Principal: | | \$0.00 | | |
| | | | Current Year | Interest: | | \$0.00 | | |
| | | | Payoff Amou | int: | | \$123.20 | | |
| | HARRISON AND HANDY'S ADDITION | Street Sweeping - Comn | mercial/Art | 1.04 | | | <u> </u> | |
| 1450 Payne Ave | TO THE CITY OF ST. PAUL N 39 | Alley Sweeping | | 0.14 | 6.00 | \$0.84 | 20 25 22 10 011. | |
| St Paul MN 55130-3245 | 68/100 FT OF S 84 68/100 FT OF LOTS 16 17 AND 18 ALSO E 6 FT OF N 40 FT | Citywide Street Lighting | g | 0.58 | 40.00 | \$23.20 | | |
| *1450 PAYNE AVE | OF LOT 18 BLK 13 | | | | _ | \$65.64 | | |
| *Ward: 6 | | *** Owner and Taxpaye | er *** | | | | | |
| *Pending as of: 8/24/2021 | | | Total Assessn | nent: | | \$65.64 | | |
| | | | This Payment | : | | \$0.00 | | |
| | | | Current Year | Principal: | | \$0.00 | | |
| | | | Current Year | Interest: | | \$0.00 | | |
| | | | Payoff Amou | int: | | \$65.64 | | |
| Katie Suzanne Dempsey | HARRISON AND HANDY'S ADDITION | Street Sweeping - Reside | ential Stree | | | <u>\$24.60</u> | <u> </u> | |
| 651 Arlington Ave E | TO THE CITY OF ST. PAUL W 1/2 OF | Alley Sweeping | | 0.14 | 60.00 | \$8.40 | 20 27 22 13 0117 | |
| St Paul MN 55106-1701 | LOT 2O AND ALL OF LOT 19 BLK 13 | Citywide Street Lighting | g | 0.58 | 60.00 | \$34.80 | | |
| *651 ARLINGTON AVE E | | | | | _ | \$67.80 | | |
| *Ward: 6 | | *** Owner and Taxpaye | er *** | | | | | |
| *Pending as of: 8/24/2021 | | | Total Assessn | nent: | | \$67.80 | | |
| | | | This Payment | : | | \$0.00 | | |
| | | | Current Year | Principal: | | \$0.00 | | |
| | | | Current Year | Interest: | | \$0.00 | | |
| | | | Payoff Amou | int: | | \$67.80 | | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by I | , , | Project: 2021SMSP Resolution #: | Assmt: 210025 | Manager: LMR | Page 86 |
|---------------------------------------------------------------|-------------------------------------------------------------------------------------------------------------|-------------------------------------------------------------------------|-----------------------------------------|-------------------|------------------------------|-------------------|
| Owner or Taxpayer | Property Description | Item Description | Unit Rate | <u>Quantity</u> | Charge Amts | Property ID |
| Anne C Hammer 669 Arlington Ave E St Paul MN 55106-1701 | HARRISON AND HANDY'S ADDITION TO THE CITY OF ST. PAUL E 1/2 OF LOT 22 AND W 30 FT OF LOT 23 BLK 13 | Street Sweeping - Residen Alley Sweeping Citywide Street Lighting | 0.41 0.14 0.58 | 50.00 | \$20.50 \$7.00 \$29.00 | 20-29-22-13-0152 |
| *669 ARLINGTON AVE E *Ward: 6 | | *** Owner and Taxpayer | *** | _ | \$56.50 | |
| *Pending as of: 8/24/2021 | | | otal Assessment: | \$56.50 | | |
| | | | his Payment: Current Year Principal: | | \$0.00 \$0.00 | |
| | | | Current Year Interest: Cayoff Amount: | | \$0.00 \$56.50 | |
| | | | | | | |
| Kyle Haralson | aura J Haralson TO THE CITY OF ST. PAUL EX W 30 FT LOT 23 AND ALL OF LOT 24 BLK 13 | Street Sweeping - Residen Alley Sweeping | tial Stree 0.41 0.14 | | \$20.50 \$7.00 | 20-29-22-13-0153 |
| Laura J Haraison 673 Arlington Ave E | | Citywide Street Lighting | 0.58 | | \$29.00 | |
| St Paul MN 55106-1701 *673 ARLINGTON AVE E | | *** Owner and Taxpayer | *** | \$56.50 | | |
| *Ward: 6 | | | | | 056.50 | |
| *Pending as of: 8/24/2021 | | | otal Assessment: This Payment: | \$56.50 \$0.00 | | |
| | | | Current Year Principal: | \$0.00 | | |
| | | | Current Year Interest: | | \$0.00 | |
| | | P | ayoff Amount: | | \$56.50 | |
| Gregg R Smith | HARRISON AND HANDY'S ADDITION | Street Sweeping - Residen | | 40.00 | | |
| Jessica S Smith | TO THE CITY OF ST. PAUL LOT 25 | Alley Sweeping | 0.14 | | \$5.60 | 20-27-22-13-013-4 |
| 675 Arlington Ave E | BLK 13 | Citywide Street Lighting | 0.58 | 40.00 | \$23.20 | |
| St Paul MN 55106-1701 | | | | - | \$45.20 | |
| *675 ARLINGTON AVE E | | *** Owner and Taxpayer | *** | _ | | |
| *Ward: 6 | | T | otal Assessment: | | \$45.20 | |
| *Pending as of: 8/24/2021 | | T | his Payment: | \$0.00 | | |
| | | | Current Year Principal: | | \$0.00 | |
| | | | Current Year Interest: | | \$0.00 | |
| | | P | ayoff Amount: | | \$45.20 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Ratification Date: | Project: 2021 Resolution # | | Assmt: 210025 | Manager: LMR | Page 87 |
|-------------------------------------------------|---------------------------------------------------------------------------|------------------------------------------------------------------------|-------------------------------|----------------------|-------------------------|------------------------------|--------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Gregg R Smith Kari Jo Smith 681 Arlington Ave E | HARRISON AND HANDY'S ADDITION TO THE CITY OF ST. PAUL LOT 26 BLK 13 | Street Sweeping - Reside Alley Sweeping Citywide Street Lighting | | 0.41 0.14 0.58 | 40.00 40.00 40.00 | \$16.40 \$5.60 \$23.20 | 20-29-22-13-0155 |
| St Paul MN 55106-1701 *681 ARLINGTON AVE E | | *** Owner and Taxpaye | r *** | | | \$45.20 | |
| *Ward: 6 | | | Total Assessm | nent: | | \$45.20 | |
| *Pending as of: 8/24/2021 | | | This Payment: | | | \$0.00 | |
| | | | Current Year I | | | \$0.00 | |
| | | | Current Year I | | | \$0.00 | |
| | | | Payoff Amoun | nt: | | \$45.20 | |
| Aaron E Anderson Petroske | HARRISON AND HANDY'S ADDITION | Street Sweeping - Reside | ential Stree | 0.41 | | \$32.81 | 20-29-22-13-0159 |
| Mary K Anderson Petroske | TO THE CITY OF ST. PAUL LOT 30 BLK 13 | Alley Sweeping | | 0.14 | 35.00 | \$4.90 | |
| 697 Arlington Ave E | DLK 13 | Citywide Street Lighting | 3 | 0.58 | 80.00 | \$46.40 | |
| St Paul MN 55106-1701 | | | | | _ | \$84.11 | |
| *697 ARLINGTON AVE E | | *** Owner and Taxpaye | er *** | | | | |
| *Ward: 6 | | | Total Assessm | nent: | | \$84.11 | |
| *Pending as of: 8/24/2021 | | | This Payment: | | | \$0.00 | |
| | | | Current Year I | _ | | \$0.00 | |
| | | | Current Year I | | | \$0.00 | |
| | | | Payoff Amoun | nt: | | \$84.11 | |
| | HARRISON AND HANDY'S ADDITION | Street Sweeping - Reside | ential Stree | | | | 20-29-22-13-0164 |
| Eh Moo | TO THE CITY OF ST. PAUL LOT 25 BLK 7 | Alley Sweeping | | 0.14 | 40.00 | \$5.60 | |
| 677 Nebraska Ave E | 1 | Citywide Street Lighting | 3 | 0.58 | 40.00 | \$23.20 | |
| St Paul MN 55106-1725 | | | | | | \$45.20 | |
| *677 NEBRASKA AVE E | | *** Owner and Taxpaye | r *** | | | | |
| *Ward: 6 | | | Total Assessm | nent: | | \$45.20 | |
| *Pending as of: 8/24/2021 | | | This Payment: | | | \$0.00 | |
| | | | Current Year I | Principal: | | \$0.00 | |
| | | | Current Year I | | | \$0.00 | |
| | | | Payoff Amoun | nt: | | \$45.20 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Ratification Date: | Project: 2021Si Resolution #: | MSP | Assmt: 210025 | Manager: LMR | Page 8 |
|-------------------------------|--------------------------------------------------------------------|---------------------------------------|----------------------------------|----------------------------------------|-----------------|--------------|--------------------|
| Owner or Taxpayer | Property Description | Item Description | <u>U</u> | nit Rate | Quantity | Charge Amts | Property ID |
| Gilberto B Ortega | HARRISON AND HANDY'S ADDITION | Street Sweeping - Comm | ercial/Art | 1.04 | 56.00 | \$58.24 | 20-29-22-13-0169 |
| 1480 Edgerton St | TO THE CITY OF ST. PAUL NWLY 1/2 OF VAC ALLEY ADJ AND LOT 7 BLK | Street Sweeping - Reside | | 0.41 | 73.00 | \$29.93 | |
| St Paul MN 55130-3214 | 11 | Citywide Street Lighting | | 0.58 | 129.00 | \$74.82 | |
| *1480 EDGERTON ST *Ward: 6 | | *** Owner and Taxpayer | r *** | | \$162.99 | | |
| *Pending as of: 8/24/2021 | | | Total Assessmen | nt: | | \$162.99 | |
| | | | This Payment: | | | \$0.00 | |
| | | 1 | Current Year Pri | ncipal: | | \$0.00 | |
| | | 1 | Current Year Int | erest: | | \$0.00 | |
| | | | Payoff Amount | : | | \$162.99 | |
| | HARRISON AND HANDY'S ADDITION | Street Sweeping - Comm | ercial/Art | —————————————————————————————————————— | | | |
| Tuuyen Dinh Tran | TO THE CITY OF ST. PAUL LOTS 26 & LOT 27 BLK 14 | Alley Sweeping | | 0.14 | 80.00 | \$11.20 | 20-29-22-13-01/3 |
| 4711 Laura Ln | | Citywide Street Lighting | | 0.58 | 80.00 | \$46.40 | |
| Shoreview MN 55126-6032 | | | | | _ | \$140.80 | |
| *621 ARLINGTON AVE E | | *** Owner and Taxpayer | r *** | | | Ψ1.0.00 | |
| *Ward: 6 | | , | Total Assessmen | nt: | - | \$140.80 | |
| *Pending as of: 8/24/2021 | | , | This Payment: | \$0.00 | | | |
| | | | Current Year Pri | ncipal: | | \$0.00 | |
| | | | Current Year Int | erest: | | \$0.00 | |
| | | | Payoff Amount | : | | \$140.80 | |
| | HARRISON AND HANDY'S ADDITION | Street Sweeping - Comm | ercial/Art | —————————————————————————————————————— | | | |
| 5155 E River Rd 401 | TO THE CITY OF ST. PAUL SUBJ TO | Street Sweeping - Reside | | 0.41 | 274.00 | \$112.34 | 20-29-22-13-01/4 |
| Fridley MN 55421 | PKWY N 1/2 OF VAC ALLEY | Citywide Street Lighting | | 0.58 | 411.00 | \$238.38 | |
| *1551 PAYNE AVE | ACCRUING & EX S 30 FT, LOTS 6 & 7 & ALL OF LOTS 1 THRU LOT 5 BLK 3 | | | | _ | \$493.20 | |
| *Ward: 6 | | *** Owner and Taxpayer | r *** | | | ψ1,75.20 | |
| *Pending as of: 8/24/2021 | | , | Total Assessmer | nt: | - | \$493.20 | |
| | | , | This Payment: | | | \$0.00 | |
| | | | Current Year Pri | ncipal: | | \$0.00 | |
| | | | Current Year Int | erest: | | \$0.00 | |
| | | | Payoff Amount | : | | \$493.20 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by I | PID (Fee to Asmt) Ratification Date: | Project: 2021SMSP Resolution #: | | ` ' | | Assmt: 210025 | Manager: LMR | Page 89 |
|---------------------------------------------------------------------------------------------------------------------------|----------------------------------------------------------------------------------------------------------|------------------------------------------------|---------------------------------------|------------|-----------------|-------------|------------------|--------------|---------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID | | |
| Lor Brothers Consulting Llc | HARRISON AND HANDY'S ADDITION TO THE CITY OF ST. PAUL S 1/2 OF | Street Sweeping - Com | | 1.04 | 130.00 | \$135.20 | 20-29-22-13-0177 | | |
| 19475 Forest Blvd N | VAC ALLEY ACCRUING & PART OF | Citywide Street Lightin | ng | 0.58 | 130.00 | \$75.40 | | | |
| Forest Lake MN 55025-9763 *1543 PAYNE AVE | LOT 28 LYING NELY OF A LINE RUN FROM PT ON WL SD LOT 57.7 FT S OF NW COR SD LOT TO PT ON SELY LINE | *** Owner and Taxpay | yer *** | | \$210.60 | | | | |
| *Ward: 6 | | | Total Assess | ment: | | \$210.60 | | | |
| *Pending as of: 8/24/2021 | | | This Payment: Current Year Principal: | | | \$0.00 | | | |
| | | | | | | \$0.00 | | | |
| | | | Current Year | | | \$0.00 | | | |
| | | | Payoff Amo | unt: | | \$210.60 | | | |
| | HARRISON AND HANDY'S ADDITION | Street Sweeping - Com | nmercial/Art | | | | 20-29-22-13-0178 | | |
| 2123 Fairmount Ave 2123 Fairmount Ave ALLEY ACCRUING & LOT 27 & PART St Paul MN 55105-1149 OF LOT 28 LYING SWLY OF A LINE | | Citywide Street Lightin | ng | 0.58 | 29.00 | \$16.82 | | | |
| | | | | | _ | \$46.98 | | | |
| *645 PARKWAY DR | RUN FROM A PT ON WL OF LOT 28 DIST 57.7 FT S OF NW COR OF SD LOT | *** Owner and Taxpay | yer *** | | | | | | |
| *Ward: 6 | | | Total Assess | ment: | | \$46.98 | | | |
| *Pending as of: 8/24/2021 | | | This Paymer | ıt: | | \$0.00 | | | |
| | | Current Year Principal: Current Year Interest: | | | | \$0.00 | | | |
| | | | | | | \$0.00 | | | |
| | | | Payoff Amo | unt: | | \$46.98 | | | |
| | HARRISON AND HANDY'S ADDITION | Street Sweeping - Com | nmercial/Art | | | | | | |
| 2123 Fairmount Ave | TO THE CITY OF ST. PAUL VAC ALLEY & ST ACCRUING & FOL; S 30 | Street Sweeping - Resi | | 0.41 | 40.00 | \$16.40 | | | |
| St Paul MN 55105-1149 | FT OF LOTS 6 AND LOT 7 & ALL OF | Citywide Street Lightin | ng | 0.58 | 156.00 | \$90.48 | | | |
| *643 PARKWAY DR *Ward: 6 | LOTS 8 & 23 THRU LOT 26 BLK 3 & EX SWLY 57.3 FT; LOT 10 BLK 5 | *** Owner and Taxpay | yer *** | | _ | \$227.52 | | | |
| *Pending as of: 8/24/2021 | | | Total Assess | ment: | - | \$227.52 | | | |
| | | | This Paymer | nt: | | \$0.00 | | | |
| | | | Current Year | Principal: | | \$0.00 | | | |
| | | | Current Year | Interest: | \$0.00 | | | | |
| | | | Payoff Amo | unt: | | \$227.52 | | | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Ratification Date: | • | | Assmt: 210025 | Manager: LMR | Page 90 | |
|----------------------------------------|-----------------------------------------------------------|--------------------------------------|------------------------------------------------|------------------|-----------------|---------------------|--------------------|--|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID | |
| Michael W Ahles | HARRISON AND HANDY'S ADDITION TO THE CITY OF ST. PAUL VAC | Street Sweeping - Com | | 1.04 | 101.00 39.00 | \$105.04 \$15.99 | 20-29-22-13-0180 | |
| Margaret S Ahles 604 Wheelock Pky E | ALLEY ADJ AND FOL SUBJ TO PKWY | Citywide Street Lightin | | 0.41 | 140.00 | \$81.20 | | |
| St Paul MN 55130-3240 | LOTS 4,5,6 & LOT 8 BLK 11 | , , | 8 | | _ | \$202.23 | | |
| *604 WHEELOCK PKWY E | | | yer *** | | Ψ202.23 | | | |
| *Ward: 6 | | | Total Assessr | nent: | - | \$202.23 | | |
| *Pending as of: 8/24/2021 | | | This Payment | :: | | \$0.00 | | |
| | | | Current Year | Principal: | \$0.00 | | | |
| | | | Current Year | | | \$0.00 | | |
| | | | Payoff Amou | int: | | \$202.23 | | |
| | HARRISON AND HANDY'S ADDITION | Street Sweeping - Resid | dential Stree | 0.41 | | | | |
| 688 Nebraska Ave E | 88 Nebraska Ave E TO THE CITY OF ST. PAUL THE W 1/2 | | | 0.14 | 58.00 | \$8.12 | 20 27 22 10 0101 | |
| St Paul MN 55106-1726 | OF LOT 2 & EX THE W 2 FT OF LOT 3 BLK 12 | Citywide Street Lightin | ng | 0.58 | 58.00 | \$33.64 | | |
| *688 NEBRASKA AVE E | | | | | | \$65.54 | | |
| *Ward: 6 | | *** Owner and Taxpay | yer *** | | | | | |
| *Pending as of: 8/24/2021 | | Total Assessment: This Payment: | | | | \$65.54 | | |
| | | | | | | \$0.00 | | |
| | | | Current Year Principal: Current Year Interest: | | | \$0.00 | | |
| | | | | | | \$0.00 | | |
| | | | Payoff Amou | int: | | \$65.54 | | |
| | HARRISON AND HANDY'S ADDITION | Street Sweeping - Resident | dential Stree | 0.41 | | | | |
| Michael Lerdahl | TO THE CITY OF ST. PAUL THE W 2 FT | Alley Sweeping | | 0.14 | 42.00 | \$5.88 | 20 27 22 10 0102 | |
| 684 Nebraska Ave E | OF LOT 3 & ALL OF LOT 4 BLK 12 | Citywide Street Lightin | ng | 0.58 | 42.00 | \$24.36 | | |
| St Paul MN 55106-1726 | | | | | | \$47.46 | | |
| *684 NEBRASKA AVE E | | *** Owner and Taxpay | yer *** | | _ | | | |
| *Ward: 6 | | | Total Assessr | nent: | | \$47.46 | | |
| *Pending as of: 8/24/2021 | | | This Payment | :: | | \$0.00 | | |
| | | | Current Year | | | \$0.00 | | |
| | | | Current Year | | | \$0.00 | | |
| | | | Payoff Amou | ınt: | | \$47.46 | | |

| 22:53:28 10/4/2021 | /4/2021 Public Improvement Assessment Roll by PID (Fee to Asmt) Project: 2021SMSP Ratification Date: Resolution #: | | Assmt: 210025 | Manager: LMR | Page 91 | | |
|-----------------------------------------------------------|--------------------------------------------------------------------------------------------------------------------|--------------------------------------------------------------------|---------------------------------------------------------------|----------------------|--------------------------|-------------------------------|------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| David G Staffa 1458 Payne Ave St Paul MN 55130-3245 | S ½ OF LOTS 13 THRU 15 BLK 13 | Street Sweeping - Com Alley Sweeping Citywide Street Lightin | | 1.04 0.14 0.58 | 62.00 114.00 62.00 | \$64.48 \$15.96 \$35.96 | 20-29-22-13-0186 |
| *1458 PAYNE AVE *Ward: 6 | | *** Owner and Taxpay | /er *** | | - | \$116.40 | |
| *Pending as of: 8/24/2021 | | | Total Assessi | | | \$116.40 | |
| | | This Payment: | | | | \$0.00 | |
| | | | Current Year Current Year | | | \$0.00 \$0.00 | |
| | | | Payoff Amou | | | \$116.40 | |
| Dennis Orfei | EKBERG'S SUBDIVISION EX W 28 FT | Street Sweeping - Resid | dential Stree | | | | |
| Rachiem Jones | LOT 2 AND ALL OF LOT 1 | Alley Sweeping | dential Stree | 0.14 | 62.00 | \$8.68 | 20-29-22-14-0001 |
| 736 Hoyt Ave E | | Citywide Street Lightin | ng | 0.58 | 93.50 | \$54.23 | |
| St Paul MN 55106-1008 | | | | | - | \$101.25 | |
| *736 HOYT AVE E | | *** Owner and Taxpay | /er *** | | | | |
| *Ward: 6 | | | Total Assessment: This Payment: | | | | |
| *Pending as of: 8/24/2021 | | | | | | | |
| | | | Current Year Principal: Current Year Interest: Payoff Amount: | | | \$0.00 | |
| | | | | | | \$0.00 | |
| | | | | | | \$101.25 | |
| Jeffrey D Launderville | EKBERG'S SUBDIVISION W 28 FT OF | Street Sweeping - Resid | dential Stree | 0.41 | 60.00 | \$24.60 | 20-29-22-14-0002 |
| 732 Hoyt Ave E | LOT 2 AND E 32 FT OF LOT 3 | Alley Sweeping | | 0.14 | 60.00 | \$8.40 | |
| St Paul MN 55106-1008 | | Citywide Street Lightin | ng | 0.58 | 60.00 | \$34.80 | |
| *732 HOYT AVE E | | | | | | \$67.80 | |
| *Ward: 6 | | *** Owner and Taxpay | /er *** | | | | |
| *Pending as of: 8/24/2021 | | | Total Assessi | ment: | | \$67.80 | |
| | | | This Paymen | | | \$0.00 | |
| | | | Current Year | _ | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amou | unt: | | \$67.80 | |

| | Page 92 | |
|--------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------|----------------------------|--|
| 724 Hoyt Ave E St Paul MN 55106-1008 *724 HOYT AVE E *Ward: 6 *Pending as of: 8/24/2021 *Pending as of: 8/24/2021 *Total Assessment: Current Year Principal: \$0.00 \$8.40 \$34.80 \$67.80 ***Owner and Taxpayer *** *Current Year Interest: \$0.00 Current Year Interest: \$0.00 | Property ID | |
| *Ward: 6 *Pending as of: 8/24/2021 *Total Assessment: \$67.80 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00 | 9-22-14-0003 | |
| This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00 | | |
| Current Year Principal: \$0.00 Current Year Interest: \$0.00 | | |
| | | |
| | | |
| Patric Driessen EKBERG'S SUBDIVISION W 28 FT OF Street Sweeping - Residential Stree 0.41 60.00 \$24.60 20-2 | 9-22-14-0005 | |
| Emily Orourke LOT 6 AND EX W 13 FT LOT 7 Alley Sweeping 0.14 60.00 \$8.40 | <i>y</i> 22 11 0000 | |
| 712 Hoyt Ave E Citywide Street Lighting 0.58 60.00 \$34.80 | | |
| \$67.80 \$67.80 \$67.80 \$12 HOYT AVE E | | |
| *Ward: 6 Total Assessment: \$67.80 | | |
| *Pending as of: 8/24/2021 This Payment: \$0.00 | | |
| Current Year Principal: \$0.00 Current Year Interest: \$0.00 | | |
| Payoff Amount: \$67.80 | | |
| Philip Middlemiss EKBERG'S SUBDIVISION W 13 FT OF Street Sweeping - Residential Stree 0.41 92.50 \$37.93 20-2 | | |
| Philip Middlemiss EKBERG'S SUBDIVISION W 13 FT OF Street Sweeping - Residential Street 0.41 92.50 \$37.93 20-2 Stephanie Jo Middlemiss LOT 7 AND ALL OF LOT 8 Alley Sweeping 0.14 60.00 \$8.40 | 9-22-14-0006 | |
| 704 Hoyt Ave E Citywide Street Lighting 0.58 92.50 \$53.65 | | |
| St Paul MN 55106-1008 \$99.98 | | |
| *704 HOYT AVE E | | |
| *Ward: 6 Total Assessment: \$99.98 | | |
| *Pending as of: 8/24/2021 This Payment: \$0.00 | | |
| Current Year Principal: \$0.00 Current Year Interest: \$0.00 | | |
| Current Year Interest: \$0.00 Payoff Amount: \$99.98 | | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Ratification Date: | · | | | | Assmt: 210025 | Manager: LMR | Page 93 |
|----------------------------------------------------------|-----------------------------------------------------------------|----------------------------------------------------------------------|---------------------------------------------------------|----------------------|-------------------------|------------------------------|------------------|--------------|---------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID | | |
| Tina Mae Johnson 715 Montana Ave E St Paul MN 55106-1023 | EKBERG'S SUBDIVISION E 22 FT OF LOT 11 AND W 33 FT OF LOT 12 | Street Sweeping - Resid Alley Sweeping Citywide Street Lightin | | 0.41 0.14 0.58 | 55.00 55.00 55.00 | \$22.55 \$7.70 \$31.90 | 20-29-22-14-0009 | | |
| *715 MONTANA AVE E *Ward: 6 | | *** Owner and Taxpay | er *** | | _ | \$62.15 | | | |
| *Pending as of: 8/24/2021 | | Total Assessment: | | | | \$62.15 | | | |
| | | | This Paymen Current Year | | | \$0.00 \$0.00 | | | |
| | | | Current Year | | | \$0.00 | | | |
| | | | Payoff Amo | unt: | | \$62.15 | | | |
| Ctw Group Incorporated | EKBERG'S SUBDIVISION E 12 FT OF | Street Sweeping - Resid | dential Stree | | | \$23.37 | | | |
| 4820 Minnetonka Blvd Floor 3 | LOT 12 AND ALL OF LOT 13 | Alley Sweeping | | 0.14 | 57.00 | \$7.98 | 20 27 22 11 0010 | | |
| St Louis Park MN 55416 | | Citywide Street Lightin | g | 0.58 | 57.00 | \$33.06 | | | |
| *721 MONTANA AVE E *Ward: 6 | | *** Owner and Taxpay | er *** | | | \$64.41 | | | |
| *Pending as of: 8/24/2021 | | | Total Assessment: This Payment: Current Year Principal: | | | \$64.41 | | | |
| | | | | | | \$0.00 | | | |
| | | | | | | \$0.00 | | | |
| | | Current Year Interest: Payoff Amount: | | | | \$0.00 \$64.41 | | | |
| | | | rayon Amo | unt: | | 504.41 | | | |
| Traci L Fagerlie | EKBERG'S SUBDIVISION LOT 14 | Street Sweeping - Resid | dential Stree | 0.41 | 45.00 | \$18.45 | 20-29-22-14-0011 | | |
| 725 Montana Ave E | | Alley Sweeping Citywide Street Lightin | ~ | 0.14 | 45.00 | \$6.30 \$26.10 | | | |
| St Paul MN 55106-1023 | | Citywide Street Lightin | ıg | 0.58 | 45.00 | \$26.10 | | | |
| *725 MONTANA AVE E *Ward: 6 | | *** Owner and Taxpay | er *** | | | \$50.85 | | | |
| *Pending as of: 8/24/2021 | | | Total Assessi | ment: | | \$50.85 | | | |
| | | | This Paymen | ıt: | | \$0.00 | | | |
| | | | Current Year | Principal: | | \$0.00 | | | |
| | | | Current Year | | | \$0.00 | | | |
| | | | Payoff Amo | unt: | | \$50.85 | | | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date: | | Project: 2021SMSP Resolution #: | | Assmt: 210025 | Manager: LMR | Page 94 |
|--------------------------------------------|----------------------------------------------------------------------------|-------------------------------------------|--------------------------------------------------------------|--------------|-----------------|-------------------|------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Anna E Knutson Toedter | EKBERG'S SUBDIVISION LOT 16 | Street Sweeping - Resid | lential Stree | 0.41 | 85.00 | \$34.86 | 20-29-22-14-0013 |
| Zachary E Toedter | | Alley Sweeping | | 0.14 | 45.00 | \$6.30 | |
| 735 Montana Ave E | | Citywide Street Lightin | g | 0.58 | 85.00 | \$49.30 | |
| St Paul MN 55106-1023 | | | | | _ | \$90.46 | |
| *735 MONTANA AVE E | | *** Owner and Taxpay | er *** | | | | |
| *Ward: 6 | | | Total Assess | sment: | - | \$90.46 | |
| *Pending as of: 8/24/2021 | | This Payment: Current Year Principal: | | | | \$0.00 | |
| | | | | | | \$0.00 | |
| | | | Current Year | r Interest: | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$90.46 | |
| Michele Fairbanks | INGLESTON'S SUB. LOT 2 | Street Sweeping - Resid | | | | | |
| 712 Montana Ave E | | Alley Sweeping | iciidai Sticc | 0.41 | 40.00 | \$5.60 | 20-29-22-14-0015 |
| St Paul MN 55106-1024 | | Citywide Street Lightin | g | 0.58 | 40.00 | \$23.20 | |
| *712 MONTANA AVE E | | , . | 0 | | _ | \$45.20 | |
| *Ward: 6 | | *** Owner and Taxpay | er *** | | | φ+3.20 | |
| *Pending as of: 8/24/2021 | | | Total Assess | ment: | | \$45.20 | |
| | | | This Payment: Current Year Principal: Current Year Interest: | | | \$0.00 | |
| | | | | | | \$0.00 | |
| | | | | | | \$0.00 | |
| | | Payoff Amount: | | | | \$45.20 | |
| | INCLECTORS CUR LOT 2 | | | | | | |
| Frederick J Blees | INGLESTON'S SUB. LOT 3 | Street Sweeping - Resid Alley Sweeping | lential Stree | 0.41 0.14 | 40.00 40.00 | \$16.40 \$5.60 | 20-29-22-14-0016 |
| Karen M Blees | | Citywide Street Lightin | œ. | 0.14 | 40.00 | \$3.00 | |
| 708 Montana Ave E St Paul MN 55106-1024 | | City wide Street Lightin | .5 | 0.56 | +0.00 | | |
| *708 MONTANA AVE E | | *** Owner and Taxpay | er *** | | | \$45.20 | |
| *Ward: 6 | | 1 2 | Total Assess | | . | \$45.20 | |
| *Pending as of: 8/24/2021 | | | This Paymer | | | \$45.20 \$0.00 | |
| - | | | Current Year | | | \$0.00 | |
| | | | Current Year | • | | \$0.00 | |
| | | | Payoff Amo | | | \$45.20 | |
| | | | , | | | 4 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date: | | Project: 2021SMSP Resolution #: | | Assmt: 210025 | Manager: LMR | Page 95 |
|-------------------------------------------------------------------------------------------------------------------|----------------------------------------------------------------------------|-----------------------------------------------------------------------------------------|------------------------------------|-------------------------------|----------------------------------|---------------------------------------------------------------------------------------------|------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Meredith S Campbell Richard B Campbell 703 Nebraska Ave E | INGLESTON'S SUB. LOT 5 | Street Sweeping - Resident Alley Sweeping Citywide Street Lightin | | 0.41 0.14 0.58 | 92.50 60.00 92.50 | \$37.93 \$8.40 \$53.65 | 20-29-22-14-0018 |
| St Paul MN 55106-1727 | | *** Owner and Taxpay | · *** | | _ | \$99.98 | |
| *703 NEBRASKA AVE E *Ward: 6 | | Owner and Taxpay | | | | | |
| *Pending as of: 8/24/2021 | | | Total Assessi | | | \$99.98 | |
| 1 Cliding as 01. 6/24/2021 | | This Payment: Current Year Principal: | | | | \$0.00 | |
| | | | | | | \$0.00 | |
| | | | Current Year Payoff Amou | | | \$0.00 \$99.98 | |
| Gloria D Matushak 711 Nebraska Ave E St Paul MN 55106-1727 *711 NEBRASKA AVE E *Ward: 6 *Pending as of: 8/24/2021 | INGLESTON'S SUB. LOT 7 | Street Sweeping - Resident Alley Sweeping Citywide Street Lightin *** Owner and Taxpay | ıg | t: Principal: Interest: | 41.00 41.00 41.00 — | \$16.81 \$5.74 \$23.78 \$46.33 \$46.33 \$0.00 \$0.00 \$0.00 \$46.33 | 20-29-22-14-0020 |
| James G Lockwood Heather M Lockwood 728 Montana Ave E St Paul MN 55106-1024 *728 MONTANA AVE E | NETZEL'S SUBDIVISION LOT 3 | Street Sweeping - Resident Alley Sweeping Citywide Street Lightin *** Owner and Taxpay | ıg | 0.41 0.14 0.58 | 42.00 42.00 42.00 42.00 | \$17.22 \$5.88 \$24.36 | 20-29-22-14-0024 |
| *Ward: 6 | | 1 3 | | | - | \$47.46 | |
| *Pending as of: 8/24/2021 | | | Total Assessi This Paymen | | | \$47.46 \$0.00 | |
| - | | | Current Year | | | \$0.00 | |
| | | | Current Year | _ | | \$0.00 | |
| | | | Payoff Amor | | | \$47.46 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date: | | Project: 2021SMSP Resolution #: | | Assmt: 210025 | Manager: LMR | Page 96 |
|------------------------------|----------------------------------------------------------------------------|------------------------------------------------|------------------------------------|--------------|-----------------|--------------------------|------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Bethany J Carlson | NETZEL'S SUBDIVISION LOT 4 | Street Sweeping - Resid | lential Stree | 0.41 | 42.00 | | 20-29-22-14-0025 |
| 724 Montana Ave E | | Alley Sweeping | | 0.14 | 42.00 | \$5.88 | |
| St Paul MN 55106-1024 | | Citywide Street Lightin | g | 0.58 | 42.00 | \$24.36 | |
| *724 MONTANA AVE E | | | | | _ | \$47.46 | |
| *Ward: 6 | | *** Owner and Taxpay | er *** | | | | |
| *Pending as of: 8/24/2021 | | | Total Assess | ment: | \$47.46 | | |
| | | | This Paymer | nt: | | \$0.00 | |
| | | Current Year Principal: | | | | \$0.00 | |
| | | Current Year Interest: | | | | | |
| | | | Payoff Amo | ount: | | \$47.46 | |
| | | | | | | | |
| Derek A Lamparty | B. SCHNITIZIUS ADDITION TO ST. PAUL, MINN. EX N 10 FT FOR ALLEY | Street Sweeping - Resid | iential Stree | 0.41 0.14 | 50.00 50.00 | \$20.50 \$7.00 | 20-29-22-14-0028 |
| Tracy N Lamparty | E 50 FT OF W 131 FT OF S 1/2 OF E 1/2 | Citywide Street Lightin | œ. | 0.14 | 50.00 | \$29.00 | |
| 729 Nebraska Ave E | OF BLK 4 | Citywide Succi Lightin | ·g | 0.56 | 30.00 | | |
| St Paul MN 55106-1727 | | *** Owner and Taxpay | ar *** | | | \$56.50 | |
| *729 NEBRASKA AVE E | | Owner and Taxpay | | | | | |
| *Ward: 6 | | Total Assessment: This Payment: | | | | \$56.50 | |
| *Pending as of: 8/24/2021 | | | | | | \$0.00 | |
| | | | Current Year | _ | | \$0.00 | |
| | | Current Year Interest: | | | | \$0.00 | |
| | | | Payoff Amo | ount: | | \$56.50 | |
| | D CCIDITIZIUS ADDITION TO CO | Street Cyres in D | | | | | |
| Matthew Waddell | B. SCHNITIZIUS ADDITION TO ST. PAUL, MINN. EX N 10 FT FOR ALLEY | Street Sweeping - Resid Alley Sweeping | ientiai Stree | 0.41 0.14 | 86.50 48.00 | \$35.47 \$6.72 | 20-29-22-14-0029 |
| 735 Nebraska Ave E | AND EX W 131 FT E 1/2 OF S 1/2 OF | Citywide Street Lightin | ď | 0.14 | 86.50 | \$50.17 | |
| St Paul MN 55106-1727 | BLK 4 | City wide Street Lightin | .5 | 0.56 | 80.50 | | |
| *735 NEBRASKA AVE E *Ward: 6 | | *** Owner and Taxpay | er *** | | | \$92.36 | |
| *Pending as of: 8/24/2021 | | owner and ranpay | | | | | |
| 1 chang as of. 0/2 1/2021 | | | Total Assess | | | \$92.36 | |
| | | | This Paymer | | | \$0.00 | |
| | | Current Year Principal: Current Year Interest: | | | | \$0.00 | |
| | | | | | | \$0.00 \$92.36 | |
| | | | Payoff Amo | uiit: | | 372.30 | |

\$56.50

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date: | | Project: 2021SMSP Resolution #: | | Assmt: 210025 | J | Page 98 | |
|----------------------------------------|----------------------------------------------------------------------------|--------------------------|--------------------------------------------------------------|-----------|-------------------|-------------------|--------------------|--|
| Owner or Taxpayer | Property Description | Item Description | <u>I</u> | Unit Rate | Quantity | Charge Amts | Property ID | |
| Lonzell Hines Jr 704 Nebraska Ave E | THOLEN SUBDIVISION LOT 7 | Street Sweeping - Reside | | 0.41 | 94.00 63.00 | \$38.55 \$8.82 | 20-29-22-14-0036 | |
| St Paul MN 55106-1728 | | Citywide Street Lighting | ; | 0.58 | 94.00 | \$54.52 | | |
| *704 NEBRASKA AVE E *Ward: 6 | | *** Owner and Taxpayer | r *** | | _ | \$101.89 | | |
| *Pending as of: 8/24/2021 | | Total Assessment: | | | | \$101.89 | | |
| | | | This Payment: | | | \$0.00 | | |
| | | | Current Year Pr | rincipal: | | \$0.00 | | |
| | | | Current Year In | terest: | | \$0.00 | | |
| | | | Payoff Amount | t: | | \$101.89 | | |
| | THOLEN SUBDIVISION LOT 13 | Street Sweeping - Reside | ential Stree | 0.41 | | | <u> </u> | |
| Mary J Schoen | | Alley Sweeping | | 0.14 | 50.00 | \$7.00 | 20 25 22 11 00 11 | |
| 729 Nevada Ave E | | Citywide Street Lighting | ţ | 0.58 | 50.00 | \$29.00 | | |
| St Paul MN 55106-1731 | | | | | _ | \$56.50 | | |
| *729 NEVADA AVE E | | *** Owner and Taxpayer | r *** | | | | | |
| *Ward: 6 | | | Total Assessme | nt: | | \$56.50 | | |
| *Pending as of: 8/24/2021 | | | This Payment: Current Year Principal: Current Year Interest: | | | \$0.00 | | |
| | | | | | | \$0.00 | | |
| | | | | | | \$0.00 | | |
| | | | Payoff Amount | t: | | \$56.50 | | |
| | THOLEN SUBDIVISION LOT 14 | Street Sweeping - Reside | ential Stree | 0.41 | — — — | | | |
| Sarah W Fehr | | Alley Sweeping | | 0.14 | 50.00 | \$7.00 | | |
| 735 Nevada Ave E | | Citywide Street Lighting | ; | 0.58 | 87.50 | \$50.75 | | |
| St Paul MN 55106-1731 | | | | | - | \$93.63 | | |
| *735 NEVADA AVE E | | *** Owner and Taxpayer | r *** | | | | | |
| *Ward: 6 | | | Total Assessme | nt: | | \$93.63 | | |
| *Pending as of: 8/24/2021 | | | This Payment: | | | \$0.00 | | |
| | | | Current Year Pr | rincipal: | | \$0.00 | | |
| | | | Current Year In | | | \$0.00 | | |
| | | | Payoff Amount | t: | | \$93.63 | | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Ratification Date: | Project: 2021SMSP Resolution #: | | Assmt: 210025 | Manager: LMR | Page 99 | |
|--------------------------------------------------|-----------------------------------------------------------------------|------------------------------------------------------|------------------------------------|------------------|-----------------|--------------------|--------------------|--|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID | |
| Ambasager T Abraham 1359 Maynard Dr W Apt 123 | B. SCHNITIZIUS ADDITION TO ST. PAUL, MINN. E 67 FT OF NW 1/4 OF BLK 2 | Street Sweeping - Reside Citywide Street Lighting | | 0.41 | 67.00 67.00 | \$27.47 \$38.86 | 20-29-22-14-0047 | |
| St Paul MN 55116-3906 * 756 HOYT AVE E | | *** Owner and Taxpaye | er *** | | | \$66.33 | | |
| *Ward: 6 *Pending as of: 8/24/2021 | | | Total Assessr | | \$66.33 | | | |
| 1 chaing as 01. 6/24/2021 | | | This Payment | \$0.00 \$0.00 | | | | |
| | | Current Year Principal: | | | | | | |
| | | | Current Year | | | \$0.00 | | |
| | | | Payoff Amou | ınt: | | \$66.33 | | |
| | B. SCHNITIZIUS ADDITION TO ST. | Street Sweeping - Reside | ential Stree | 0.41 | 85.00 | \$34.85 | | |
| Tong Vang | Tong Vang PAUL, MINN. EX E 115 FT THE N 110 FT OF E 1/2 OF BLK 2 | | 3 | 0.58 | 85.00 | \$49.30 | | |
| 764 Hoyt Ave E | TT OF E WE OF BERG E | | | | | \$84.15 | | |
| St Paul MN 55106-1010 | | *** Owner and Taxpaye | er *** | | | | | |
| *764 HOYT AVE E | | | Total Assessr | \$84.15 | | | | |
| *Ward: 6 | | | This Payment | \$0.00 | | | | |
| *Pending as of: 8/24/2021 | | | Current Year | \$0.00 | | | | |
| | | | Current Year | \$0.00 | | | | |
| | | | Payoff Amou | \$84.15 | | | | |
| Dational Compagn | B. SCHNITIZIUS ADDITION TO ST. | Street Sweeping - Reside | | | | | | |
| Patience Garyeazon Perpetual Garyeazon | PAUL, MINN. EX S 10 FT THE W 65 FT | Citywide Street Lighting | | 0.58 | 65.00 | \$37.70 | 20-29-22-14-0049 | |
| 770 E Hoyt Ave | OF E 115 FT OF N 1/2 OF BLK 2 | , , | , | | _ | \$64.35 | | |
| St Paul MN 55106-1010 | | *** Owner and Taxpaye | r *** | | | \$04.33 | | |
| *770 HOYT AVE E | | | Total Assessr | nent: | | \$64.35 | | |
| *Ward: 6 | | | This Payment | | | \$0.00 | | |
| *Pending as of: 8/24/2021 | | | Current Year | | | \$0.00 | | |
| | | | Current Year | Interest: | | \$0.00 | | |
| | | | Payoff Amou | ınt: | | \$64.35 | | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by PID (Fee to Asmt) Project: 2021SMSP Ratification Date: Resolution #: | | Assmt: 210025 | Manager: LMR | Page 100 | | |
|---------------------------------|------------------------------------------------------------------------------------------------------------|---------------------------------------|---------------|--------------|--------------------|-------------|------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Thomas J Ruter | B. SCHNITIZIUS ADDITION TO ST. | Street Sweeping - Resid | | 0.41 | 92.50 | \$37.93 | 20-29-22-14-0050 |
| 776 Hoyt Ave E | PAUL, MINN. E 50 FT OF N 1/2 OF BLK 2 | Citywide Street Lighting | g | 0.58 | 92.50 | \$53.65 | |
| St Paul MN 55106-1010 | - | | | | _ | \$91.58 | |
| *776 HOYT AVE E | | *** Owner and Taxpayo | er *** | | | | |
| *Ward: 6 | | | Total Assessi | ment: | | \$91.58 | |
| *Pending as of: 8/24/2021 | | | This Paymen | t: | | \$0.00 | |
| | | | Current Year | \$0.00 | | | |
| | | | Current Year | \$0.00 | | | |
| | | | Payoff Amou | ınt: | | \$91.58 | |
| | B. SCHNITIZIUS ADDITION TO ST. | Street Sweeping - Resid | lential Stree | | — — — — | | |
| Sharon Doebler | PAUL, MINN. E 40 FT OF S 1/2 OF BLK | Citywide Street Lighting | | 0.58 | 87.50 | \$50.75 | 20 27 22 11 0031 |
| 775 Montana Ave E | 2 | | | | _ | \$86.63 | |
| St Paul MN 55106-1025 | | *** Owner and Taxpaye | er *** | | | | |
| *775 MONTANA AVE E | | | Total Assessi | ment: | - | \$86.63 | |
| *Ward: 6 | | | This Paymen | | \$0.00 | | |
| *Pending as of: 8/24/2021 | | | Current Year | | \$0.00 | | |
| | | Current Year Interest: Payoff Amount: | | | | \$0.00 | |
| | | | | | | \$86.63 | |
| | B. SCHNITIZIUS ADDITION TO ST. | Street Sweeping - Resid | | | | | |
| Henry Seka 769 Montana Ave E | PAUL, MINN. W 75 FT OF E 115 FT OF S | Citywide Street Lighting | | 0.58 | 75.00 | \$43.50 | 20-29-22-14-0052 |
| St Paul MN 55106-1025 | 1/2 OF BLK 2 AND S 10 FT W 65 FT OF | y | | **** | _ | \$74.25 | |
| *769 MONTANA AVE E | E 115 FT OF N 1/2 OF BLK 2 | *** Owner and Taxpayo | er *** | | | \$74.23 | |
| *Ward: 6 | | | Total Assessi | ment: | | \$74.25 | |
| *Pending as of: 8/24/2021 | | | This Paymen | t: | | \$0.00 | |
| | | | Current Year | Principal: | | \$0.00 | |
| | | | Current Year | Interest: | | \$0.00 | |
| | | | Payoff Amou | ınt: | | \$74.25 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Ratification Date: | Project: 2021SMSP Resolution #: | | Assmt: 210025 | Manager: LMR | Page 101 | |
|-----------------------------------|-------------------------------------------------------------------------------------------|------------------------------------------------------|---------------------------------|--------------|-----------------|--------------------|------------------|--|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID | |
| John M Mulcahy Loubaba Mulcahy | B. SCHNITIZIUS ADDITION TO ST. PAUL, MINN. EX E 115 FT AND EX N 110 FT THE E 1/2 OF BLK 2 | Street Sweeping - Residence Citywide Street Lighting | | 0.41 0.58 | 85.00 85.00 | \$34.85 \$49.30 | 20-29-22-14-0053 | |
| 761 Montana Ave E | | *** 0 1 T | | | | \$84.15 | | |
| St Paul MN 55106-1025 | | *** Owner and Taxpaye | er *** | | | | | |
| *761 MONTANA AVE E | | Total Assessn | nent: | \$84.15 | | | | |
| *Ward: 6 | | | This Payment | : : | | \$0.00 | | |
| *Pending as of: 8/24/2021 | | Current Year Principal: Current Year Interest: | | | | \$0.00 | | |
| | | | | | | \$0.00 | | |
| | | | Payoff Amou | ınt: | | \$84.15 | | |
| Steven M Adams | B. SCHNITIZIUS ADDITION TO ST. | Street Sweeping - Resid | ential Stree | 0.41 | <u> </u> | | 20-29-22-14-0054 | |
| Katherine L Goffin | PAUL, MINN. E 62 FT OF S 1/2 OF W 1/2 OF BLK 2 | Citywide Street Lighting | 3 | 0.58 | 62.00 | \$35.96 | | |
| 755 Montana Ave | 1/2 Of BER 2 | | | | _ | \$61.38 | | |
| St Paul MN 55106-1025 | | *** Owner and Taxpaye | er *** | | | | | |
| *755 MONTANA AVE E | | | Total Assessn | nent: | - | \$61.38 | | |
| *Ward: 6 | | | This Payment | | \$0.00 | | | |
| *Pending as of: 8/24/2021 | | | Current Year | | \$0.00 | | | |
| | | Current Year Interest: Payoff Amount: | | | | \$0.00 | | |
| | | | | | | \$61.38 | | |
| Lawrence J Kalina | B. SCHNITIZIUS ADDITION TO ST. | Street Sweeping - Resid | ential Streε | | | | | |
| Marilyn E Nelson | PAUL, MINN. W 70 FT OF E 132 FT OF | Citywide Street Lighting | | 0.58 | 70.00 | \$40.60 | 20-29-22-14-0033 | |
| 749 Montana Ave E | S 1/2 OF W 1/2 OF BLK 2 | , , | | | _ | \$69.30 | | |
| St Paul MN 55106-1025 | | *** Owner and Taxpaye | er *** | | | φ02.50 | | |
| *749 MONTANA AVE E | | | Total Assessn | | | \$69.30 | | |
| *Ward: 6 | | | This Payment | | | \$0.00 | | |
| *Pending as of: 8/24/2021 | | | Current Year | | | \$0.00 | | |
| | | | Current Year | _ | | \$0.00 | | |
| | | | Payoff Amou | | | \$69.30 | | |

\$56.50

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll | by PID (Fee to Asmt) Ratification Date: | Project: 2021SMSP Resolution #: | | Assmt: 210025 | Manager: LMR | Page 104 |
|-------------------------------------------------------|------------------------------------|------------------------------------------------------------------------|--------------------------------------------------------------|----------------------|-------------------------|------------------------------|------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Pia Vang 747 Nebraska Ave St Paul MN 55106-1729 | SPINNER'S ADDITION LOT 10 | Street Sweeping - Reside Alley Sweeping Citywide Street Lighting | | 0.41 0.14 0.58 | 50.00 50.00 50.00 | \$20.50 \$7.00 \$29.00 | 20-29-22-14-0066 |
| *747 NEBRASKA AVE E *Ward: 6 | | *** Owner and Taxpaye | er *** | | _ | \$56.50 | |
| *Pending as of: 8/24/2021 | | | Total Assessment: | | | \$56.50 | |
| | | | This Payment: | | | \$0.00 | |
| | | | Current Year Principal: | | | | |
| | | | Current Year I | | | \$0.00 | |
| | | | Payoff Amoun | nt: | | \$56.50 | |
| Jose L M Centeno | SPINNER'S ADDITION LOT 12 | Street Sweeping - Reside | ential Stree | 0.41 | | \$20.50 | 20-29-22-14-0068 |
| Luis M Perez | | Alley Sweeping | | 0.14 | 50.00 | \$7.00 | |
| 757 Nebraska Ave | | Citywide Street Lighting | g | 0.58 | 50.00 | \$29.00 | |
| St Paul MN 55106-1729 | | | | | | \$56.50 | |
| *757 NEBRASKA AVE E | | *** Owner and Taxpaye | er *** | | | | |
| *Ward: 6 | | | Total Assessm | ent: | | \$56.50 | |
| *Pending as of: 8/24/2021 | | | This Payment: Current Year Principal: Current Year Interest: | | | | |
| | | | | | | | |
| | | | | | | | |
| | | | Payoff Amoun | nt: | | \$56.50 | |
| | SPINNER'S ADDITION LOT 13 | Street Sweeping - Reside | ential Stree | | | | |
| 761 Nebraska Ave E | | Alley Sweeping | | 0.14 | 50.00 | \$7.00 | |
| St Paul MN 55106-1729 | | Citywide Street Lighting | g | 0.58 | 50.00 | \$29.00 | |
| *761 NEBRASKA AVE E | | | | | - | \$56.50 | |
| *Ward: 6 | | *** Owner and Taxpaye | er *** | | | | |
| *Pending as of: 8/24/2021 | | | Total Assessment: | | | \$56.50 | |
| | | | This Payment: Current Year Principal: Current Year Interest: | | | \$0.00 | |
| | | | | | | \$0.00 | |
| | | | | | | \$0.00 | |
| | | | Payoff Amoun | nt: | | \$56.50 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | y PID (Fee to Asmt) Ratification Date: | Project: 2021SMSP Resolution #: | | Assmt: 210025 | Manager: LMR | Page 105 |
|--------------------------------------------------------------|---------------------------------------|------------------------------------------------------------------------|-----------------------------------------------------------------------------|----------------------|----------------------------------------|------------------------------|-------------------|
| Owner or Taxpayer | Property Description | Item Description | Item Description | Unit Rate | Quantity | Charge Amts | Property ID |
| Luke Bredeson Grace Bredeson | SPINNER'S ADDITION LOT 16 | Street Sweeping - Reside Alley Sweeping Citywide Street Lighting | | 0.41 0.14 0.58 | 87.50 50.00 87.50 | \$35.88 \$7.00 \$50.75 | 20-29-22-14-0072 |
| 775 Nebraska Ave E St Paul MN 55106-1729 *775 NEBRASKA AVE E | | *** Owner and Taxpaye | | 0.58 | e7.50 = | \$93.63 | |
| *Ward: 6 | | | Total Assessm | ent: | - | \$93.63 | |
| *Pending as of: 8/24/2021 | | | This Payment: | | | \$0.00 | |
| | | | Current Year P | Principal: | | \$0.00 | |
| | | | Current Year I | nterest: | | \$0.00 | |
| | | | Payoff Amour | nt: | | \$93.63 | |
| | EICHENLAUB ADDITION ST. PAUL, | Street Sweeping - Reside | ential Stree | 0.41 | —————————————————————————————————————— | | <u> </u> |
| 776 Nebraska Ave E | MINN. LOT 1 | Alley Sweeping | | 0.14 | 50.00 | \$7.00 | 20-27-22-14-0073 |
| St Paul MN 55106-1730 | | Citywide Street Lighting | ; | 0.58 | 87.50 | \$50.75 | |
| *776 NEBRASKA AVE E | | | | | _ | \$93.63 | |
| *Ward: 6 | | *** Owner and Taxpaye | r *** | | | | |
| *Pending as of: 8/24/2021 | | | Total Assessment: | | | | |
| | | This Payment: Current Year Principal: | | | | \$0.00 | |
| | | | | | | \$0.00 \$0.00 | |
| | | | Current Year Interest: | | | | |
| | | | Payoff Amour | nt: | | \$93.63 | |
| | EICHENLAUB ADDITION ST. PAUL, | Street Sweeping - Reside | ential Stree | | | | |
| 770 Nebraska Ave E | MINN. LOT 2 | Alley Sweeping | | 0.14 | 50.00 | \$7.00 | 20 23 22 11 007 1 |
| St Paul MN 55106-1730 | | Citywide Street Lighting | ; | 0.58 | 50.00 | \$29.00 | |
| *770 NEBRASKA AVE E | | | | | _ | \$56.50 | |
| *Ward: 6 | | *** Owner and Taxpaye | r *** | | | | |
| *Pending as of: 8/24/2021 | | | Total Assessment: | | | \$56.50 | |
| | | | This Payment: Current Year Principal: Current Year Interest: Payoff Amount: | | | \$0.00 | |
| | | | | | | \$0.00 | |
| | | | | | | \$0.00 | |
| | | | | | | \$56.50 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Ratification Date: | | | Assmt: 210025 | Manager: LMR | Page 106 |
|---------------------------------------------------------------------------|----------------------------------------------|------------------------------------------------------------------------|--------------------------------------------------------------|----------------------|-------------------------|------------------------------|------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Sheri Lynn Stevens Trustee 766 Nebraska Ave E St Paul MN 55106-1730 | EICHENLAUB ADDITION ST. PAUL, MINN. LOT 3 | Street Sweeping - Reside Alley Sweeping Citywide Street Lighting | | 0.41 0.14 0.58 | 50.00 50.00 50.00 | \$20.50 \$7.00 \$29.00 | 20-29-22-14-0075 |
| *766 NEBRASKA AVE E *Ward: 6 | | *** Owner and Taxpayer *** | | | _ | \$56.50 | |
| *Pending as of: 8/24/2021 | | | Total Assessm | nent: | - | \$56.50 | |
| | | | This Payment | | | \$0.00 | |
| | | | Current Year Principal: | | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amou | nt: | | \$56.50 | |
| | EICHENLAUB ADDITION ST. PAUL, | Street Sweeping - Reside | ential Stree | 0.41 | | \$20.50 | |
| 756 Nebraska Ave E | MINN. LOT 5 | Alley Sweeping | | 0.14 | 50.00 | \$7.00 | |
| St Paul MN 55106-1730 | | Citywide Street Lighting | g | 0.58 | 50.00 | \$29.00 | |
| *756 NEBRASKA AVE E | | | | | | \$56.50 | |
| *Ward: 6 | | *** Owner and Taxpaye | er *** | | | | |
| *Pending as of: 8/24/2021 | | Total Assessment: This Payment: | | | | \$56.50 | |
| | | | | | | \$0.00 | |
| | | | Current Year | Principal: | \$0.00 | | |
| | | Current Year Interest | | | | \$0.00 | |
| | | | Payoff Amount: | | | \$56.50 | |
| | EICHENLAUB ADDITION ST. PAUL, | Street Sweeping - Reside | ential Stree | 0.41 | | | <u> </u> |
| 752 Nebraska Ave E | MINN. LOT 6 | Alley Sweeping | | 0.14 | 50.00 | \$7.00 | |
| St Paul MN 55106-1730 | | Citywide Street Lighting | g | 0.58 | 50.00 | \$29.00 | |
| *752 NEBRASKA AVE E | | | | | | \$56.50 | |
| *Ward: 6 | | *** Owner and Taxpaye | er *** | | | | |
| *Pending as of: 8/24/2021 | | | Total Assessment: | | | \$56.50 | |
| | | | This Payment: Current Year Principal: Current Year Interest: | | | \$0.00 | |
| | | | | | | \$0.00 | |
| | | | | | | \$0.00 \$56.50 | |
| | | | Payoff Amount: | | | | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date: | | Project: 2021SMSP Resolution #: | | Assmt: 210025 | Manager: LMR | Page 107 |
|---------------------------|-----------------------------------------------------------------------------|--------------------------|------------------------------------|------------|-----------------|--------------|--------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Tom Mcgregor | EICHENLAUB ADDITION ST. PAUL, | Street Sweeping - Reside | ntial Stree | 0.41 | 50.00 | \$20.50 | 20-29-22-14-0079 |
| Jerri Jo Brandt | MINN. LOT 7 | Alley Sweeping | | 0.14 | 50.00 | \$7.00 | |
| 746 Nebraska Ave E | | Citywide Street Lighting | | 0.58 | 50.00 | \$29.00 | |
| St Paul MN 55106-1730 | | | | | _ | \$56.50 | |
| *746 NEBRASKA AVE E | | *** Owner and Taxpayer | r *** | | | | |
| *Ward: 6 | | 7 | Total Assessi | nent: | | \$56.50 | |
| *Pending as of: 8/24/2021 | | | This Paymen | t: | | \$0.00 | |
| | | (| Current Year | Principal: | | \$0.00 | |
| | | (| Current Year Interest: | | | \$0.00 | |
| | | 1 | Payoff Amou | ınt: | | \$56.50 | |
| | EICHENLAUB ADDITION ST. PAUL, | Street Sweeping - Reside | ntial Stree | | | \$20.50 | |
| Guy Frechette | MINN. LOT 13 | Alley Sweeping | illiai Stice | 0.41 | 50.00 | \$7.00 | 20-29-22-14-0084 |
| 761 Nevada Ave E | | Citywide Street Lighting | | 0.58 | 50.00 | \$29.00 | |
| St Paul MN 55106-1732 | | , 6 6 | | | = | \$56.50 | |
| *761 NEVADA AVE E | | | | | | \$50.50 | |
| *Ward: 6 | | Total Assessment: | | | | \$56.50 | |
| *Pending as of: 8/24/2021 | | • | This Paymen | \$0.00 | | | |
| | | • | Current Year Principal: | | | | |
| | | Current Year Interest: | | | | \$0.00 | |
| | | 1 | Payoff Amou | ınt: | | \$56.50 | |
| Christopher L Larkin | DAHLIN'S PARKWAY ADDITION LOT | Street Sweeping - Reside | ntial Stree | | 90.00 | | |
| 744 Nevada Ave | 5 | Citywide Street Lighting | | 0.58 | 90.00 | \$52.20 | 20-27-22-14-0072 |
| St Paul MN 55106-1733 | | | | | = | \$89.10 | |
| *744 NEVADA AVE E | | *** Owner and Taxpayer | *** | | | ψ03.10 | |
| *Ward: 6 | | . | Total Assessi | nent: | | \$89.10 | |
| *Pending as of: 8/24/2021 | | • | This Payment: | | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Current Year Interest: | | | \$0.00 | |
| | |] | Payoff Amou | ınt: | | \$89.10 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Project: Ratification Date: Resoluti | | | Assmt: 210025 | Manager: LMR | Page 108 |
|---------------------------|---------------------------------------|-----------------------------------------------------------|--------------------------|--------------|-----------------|--------------|--------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Paul Yang | DAHLIN'S PARKWAY ADDITION LOT | Street Sweeping - Com | | 1.04 | 55.00 | \$57.20 | 20-29-22-14-0097 |
| Louise Xiong | 10 | Citywide Street Lightin | ng | 0.58 | 55.00 | \$31.90 | |
| 771 Wheelock Pky E | | | | | _ | \$89.10 | |
| St Paul MN 55106-1720 | | *** Owner and Taxpay | er *** | | | | |
| *771 WHEELOCK PKWY E | | | Total Assess | \$89.10 | | | |
| *Ward: 6 | | | This Paymer | nt: | | \$0.00 | |
| *Pending as of: 8/24/2021 | | | Current Year | r Principal: | | \$0.00 | |
| | | | Current Year | r Interest: | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$89.10 | |
| | LAKE PHALEN ADDITION LOT 6 | Street Sweeping - Resid | dential Stree | | | | <u> </u> |
| Sharon L Larson | BLK 1 | Citywide Street Lightin | | 0.58 | 50.00 | \$29.00 | 20-27-22-14-0100 |
| 788 Hoyt Ave E | | | | | = | \$49.50 | |
| St Paul MN 55106-1043 | | *** Owner and Taxpay | ver *** | | | | |
| *788 HOYT AVE E | | | Total Assess | ment: | | \$49.50 | |
| *Ward: 6 | | | This Paymer | | | \$0.00 | |
| *Pending as of: 8/24/2021 | | | \$0.00 | | | | |
| | | Current Year Interest: | | | | | |
| | | | Payoff Amo | unt: | \$49.50 | | |
| | LAKE PHALEN ADDITION LOT 5 | | — — — - dential Stree | | | | |
| 796 Hoyt Ave E | BLK 1 | Citywide Street Lightin | | 0.58 | 50.00 | \$29.00 | 20-29-22-14-0101 |
| St Paul MN 55106-1043 | | , | | | = | \$49.50 | |
| *796 HOYT AVE E | | *** Owner and Taxpay | /er *** | | | ψ17.50 | |
| *Ward: 6 | Total Assessment: | | | | | \$49.50 | |
| *Pending as of: 8/24/2021 | | This Payment: | | | | \$0.00 | |
| | | Current Year Principal: Current Year Interest: | | | | \$0.00 | |
| | | | | | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$49.50 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | · · · · · · · · · · · · · · · · · · · | ect: 2021SMSP solution #: | Assmt: 210025 | Manager: LMR | Page 109 |
|---------------------------|---------------------------------------|---------------------------------------|------------------------------|-----------------|--------------|------------------|
| Owner or Taxpayer | Property Description | Item Description | Unit Rate | Quantity | Charge Amts | Property ID |
| James R Mcdonough | LAKE PHALEN ADDITION LOT 12 | Street Sweeping - Commercia | al/Art 1.04 | 67.50 | | 20-29-22-14-0105 |
| Carol M Mcdonough | BLK 1 | Street Sweeping - Residential | Stree 0.41 | 25.00 | \$10.25 | |
| 815 Montana Ave E | | Citywide Street Lighting | 0.58 | 92.50 | \$53.65 | |
| St Paul MN 55106-1045 | | | | _ | \$134.10 | |
| *815 MONTANA AVE E | | *** Owner and Taxpayer *** | • | | | |
| *Ward: 6 | | Tota | 1 Assessment: | - | \$134.10 | |
| *Pending as of: 8/24/2021 | | This | Payment: | | \$0.00 | |
| | | Curr | ent Year Principal: | | \$0.00 | |
| | | Curr | ent Year Interest: | | \$0.00 | |
| | | Payo | off Amount: | | \$134.10 | |
| | | | | | | |
| Marina M Povlitzki | LAKE PHALEN ADDITION LOT 10 | Street Sweeping - Residential | Streε 0.41 | 50.00 | \$20.50 | 20-29-22-14-0107 |
| 803 Montana Ave E | BLK 1 | Citywide Street Lighting | 0.58 | 50.00 | \$29.00 | |
| St Paul MN 55106-1045 | | | | _ | \$49.50 | |
| *803 MONTANA AVE E | | *** Owner and Taxpayer *** | • | | | |
| *Ward: 6 | | Tota | 1 Assessment: | _ | \$49.50 | |
| *Pending as of: 8/24/2021 | | This | Payment: | | \$0.00 | |
| | | Curr | ent Year Principal: | | \$0.00 | |
| | | Curr | ent Year Interest: | | \$0.00 | |
| | | Payo | off Amount: | | \$49.50 | |
| | | | | | | |
| Andrew W Vahey | LAKE PHALEN ADDITION LOT 9 | Street Sweeping - Residential | Stree 0.41 | 50.00 | \$20.50 | 20-29-22-14-0108 |
| Calie J Vahey | BLK 1 | Citywide Street Lighting | 0.58 | 50.00 | \$29.00 | |
| 797 Montana Ave E | | | | = | \$49.50 | |
| St Paul MN 55106-1045 | | *** Owner and Taxpayer *** | • | | | |
| *797 MONTANA AVE E | | Tota | 1 Assessment: | | \$49.50 | |
| *Ward: 6 | | This | Payment: | | \$0.00 | |
| *Pending as of: 8/24/2021 | | Curr | ent Year Principal: | | \$0.00 | |
| | | Curr | ent Year Interest: | | \$0.00 | |
| | | Payo | off Amount: | | \$49.50 | |

\$49.50

\$49.50

\$97.20

\$324.00

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll I | by PID (Fee to Asmt) Ratification Date: | Project: 202 Resolution | | Assmt: 210025 | Manager: LMR | Page 118 |
|-------------------------------|---------------------------------------------|-----------------------------------------|----------------------------|--------------|-----------------|--------------|------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Aimee Bryant | CONDOMINIUM NUMBER 159 | Street Sweeping - Resi | | 0.41 | 11.00 | \$4.51 | 20-29-22-21-0013 |
| 2510 S Basset St | LARPENTEUR GREEN CONDOMINIUM UNIT NO 106 | Citywide Street Lightin | ng | 0.58 | 11.00 | \$6.38 | |
| Detroit MI 48217-2306 | | | | | _ | \$10.89 | |
| *500 LARPENTEUR AVE E 106 | Ó | *** Owner and Taxpay | yer *** | | | | |
| *Ward: 5 | | | Total Assess | ment: | | \$10.89 | |
| *Pending as of: 8/24/2021 | | | This Paymer | nt: | | \$0.00 | |
| | | | Current Year | r Principal: | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$10.89 | |
| | CONDOMINIUM NUMBER 159 | | idential Stree | | | | |
| 488 Larpenteur Ave E Unit 109 | LARPENTEUR GREEN | Citywide Street Lightin | | 0.58 | 11.00 | \$6.38 | 20-29-22-21-0016 |
| St Paul MN 55117-2491 | CONDOMINIUM UNIT NO 109 | , 5 | 8 | | _ | \$10.89 | |
| *488 LARPENTEUR AVE E 109 |) | *** Owner and Taxpa | yer *** | | | \$10.89 | |
| *Ward: 5 | | | Total Assess | ment: | | \$10.89 | |
| *Pending as of: 8/24/2021 | | This Payment: | | | | \$0.00 | |
| | | | Current Year | - | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$10.89 | |
| | CONDOMINIUM NUMBER 159 | | idential Stree | | | | |
| 353 Sioux Lookout | LARPENTEUR GREEN | Citywide Street Lightin | | 0.58 | 11.00 | \$6.38 | 20-27-22-21-0017 |
| Lino Lakes MN 55014-2445 | CONDOMINIUM UNIT NO 112 | | | | _ | \$10.89 | |
| *488 LARPENTEUR AVE E 112 | 2 | *** Owner and Taxpay | yer *** | | | | |
| *Ward: 5 | | | Total Assess | ment: | | \$10.89 | |
| *Pending as of: 8/24/2021 | | | This Paymer | nt: | | \$0.00 | |
| | | | Current Year | r Principal: | \$0.00 | | |
| | | | Current Year | r Interest: | | \$0.00 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll | by PID (Fee to Asmt) Ratification Date: | Project: 202 | | Assmt: 210025 | Manager: LMR | Page 119 | | |
|-------------------------------|------------------------------------------|-----------------------------------------|------------------------|------------|-----------------|--------------|------------------|--|--|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID | | |
| Joseph B Sorman | CONDOMINIUM NUMBER 159 | Street Sweeping - Res | idential Stree | 0.41 | 11.00 | \$4.51 | 20-29-22-21-0020 | | |
| Michelle L Sorman | LARPENTEUR GREEN CONDOMINIUM UNIT NO 113 | Citywide Street Lighti | ng | 0.58 | 11.00 | \$6.38 | | | |
| 2758 Western Ave N | | | | | | \$10.89 | | | |
| Roseville MN 55113-2357 | | *** Owner and Taxpa | yer *** | | | | | | |
| *488 LARPENTEUR AVE E 113 | | | Total Assessi | ment: | - | \$10.89 | | | |
| *Ward: 5 | | | This Paymen | t: | | \$0.00 | | | |
| *Pending as of: 8/24/2021 | | | Current Year | Principal: | | \$0.00 | | | |
| | | | Current Year | Interest: | | \$0.00 | | | |
| | | | Payoff Amou | unt: | | \$10.89 | | | |
| Gary P Harsdorf | CONDOMINIUM NUMBER 159 | Street Sweeping - Res | idential Stree | | | | 20-29-22-21-0021 | | |
| 488 Larpenteur Ave E Unit 114 | LARPENTEUR GREEN CONDOMINIUM UNIT NO 114 | Citywide Street Lighti | ng | 0.58 | 11.00 | \$6.38 | | | |
| St Paul MN 55117-2465 | | | | | _ | \$10.89 | | | |
| *488 LARPENTEUR AVE E 114 | | *** Owner and Taxpa | yer *** | | | | | | |
| *Ward: 5 | | | Total Assessi | ment: | | \$10.89 | | | |
| *Pending as of: 8/24/2021 | | | This Paymen | t: | | \$0.00 | | | |
| | | Current Year Pr | | | | \$0.00 | | | |
| | | | Current Year Interest: | | | | | | |
| | | | Payoff Amou | unt: | | \$10.89 | | | |
| | CONDOMINIUM NUMBER 159 | | idential Stree | | | | <u> </u> | | |
| 488 Larpenteur Ave E #115 | LARPENTEUR GREEN | Citywide Street Lighti | | 0.58 | 11.00 | \$6.38 | 20 27 22 21 0022 | | |
| Maplewood MN 55117-2465 | CONDOMINIUM UNIT NO 115 | | | | = | \$10.89 | | | |
| *488 LARPENTEUR AVE E 115 | | *** Owner and Taxpa | yer *** | | | | | | |
| *Ward: 5 | | | Total Assessi | ment· | - | \$10.89 | | | |
| *Pending as of: 8/24/2021 | | | This Paymen | | | \$0.00 | | | |
| | | | Current Year | | | \$0.00 | | | |
| | | Current Year Interest: | | | | \$0.00 | | | |
| | | | Payoff Amou | unt: | | \$10.89 | | | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll | by PID (Fee to Asmt) Ratification Date: | Project: 20 Resolution | | Assmt: 210025 | Manager: LMR | Page 120 |
|----------------------------------|---------------------------------------------|-----------------------------------------|---------------------------|------------------|-----------------|-----------------|--------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Deirdre E Lynch | CONDOMINIUM NUMBER 159 | Street Sweeping - Res | | 0.41 | 11.00 | \$4.51 | 20-29-22-21-0025 |
| 480 Larpenteur Ave #118 | LARPENTEUR GREEN CONDOMINIUM UNIT NO 118 | Citywide Street Lighti | ng | 0.58 | 11.00 | \$6.38 | |
| St Paul MN 55117-2492 | | | | | _ | \$10.89 | |
| *480 LARPENTEUR AVE E 118 | 3 | *** Owner and Taxpa | yer *** | | | | |
| *Ward: 5 | | | Total Assess | sment: | | \$10.89 | |
| *Pending as of: 8/24/2021 | | | This Paymer | nt: | | \$0.00 | |
| | | | Current Yea | r Principal: | \$0.00 | | |
| | | | Current Yea | | | \$0.00 | |
| | | | Payoff Amount: | | | \$10.89 | |
| Nicholas A Ouellet | CONDOMINIUM NUMBER 159 | Street Sweeping - Res | idential Streε | | | | |
| Shannon F Ouellet | LARPENTEUR GREEN | Citywide Street Lighti | | 0.58 | 11.00 | \$6.38 | 20-23-22-21-0027 |
| 480 Larpenteur Ave E Unit 120 | CONDOMINIUM UNIT NO 120 | | | | = | \$10.89 | |
| St Paul MN 55117-2492 | | *** Owner and Taxpa | yer *** | | | \$10.0 5 | |
| *480 LARPENTEUR AVE E 120 |) | | Total Assess | sment: | | \$10.89 | |
| *Ward: 5 | | | This Paymer | nt: | | \$0.00 | |
| *Pending as of: 8/24/2021 | | | Current Yea | • | | \$0.00 | |
| | | | Current Yea | | | \$0.00 | |
| | | | Payoff Amo | ount: | | \$10.89 | |
| | CONDOMINIUM NUMBER 159 | Street Sweeping - Res | idential Stree | | | | <u> </u> |
| Rosemary E Schneiderhan Trustee | LARPENTEUR GREEN | Citywide Street Lighti | ng | 0.58 | 11.00 | \$6.38 | 20 27 22 21 0020 |
| 2060 Willow Hammock Cir Unit 101 | CONDOMINIUM UNIT NO 121 | | | | = | \$10.89 | |
| Punta Gorda FL 33983-6752 | | *** Owner and Taxpa | yer *** | | | | |
| *480 LARPENTEUR AVE E 121 | l | | Total Assess | sment: | | \$10.89 | |
| *Ward: 5 | | | This Paymer | | | \$0.00 | |
| *Pending as of: 8/24/2021 | | | Current Yea | | | \$0.00 | |
| | | | Current Yea | r Interest: | | \$0.00 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll b | y PID (Fee to Asmt) Ratification Date: | Project: 20 Resolution | | Assmt: 210025 | Manager: LMR | Page 121 |
|-------------------------------------------------|-----------------------------------------------------------------|--------------------------------------------------|---------------------------|--------------|--------------------------|------------------|------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Kathleen Krauter 480 Larpenteur Av E #122 | CONDOMINIUM NUMBER 159 LARPENTEUR GREEN CONDOMINIUM UNIT NO 122 | Street Sweeping - Resi Citywide Street Lighti | | 0.41 | 11.00 | \$4.51 \$6.38 | 20-29-22-21-0029 |
| St Paul MN 55117-2464 *480 LARPENTEUR AVE E 122 | 2 | *** Owner and Taxpa | yer *** | | | \$10.89 | |
| *Ward: 5 | | | Total Assess | ement. | | \$10.89 | |
| *Pending as of: 8/24/2021 | | | This Paymer | | | \$0.00 | |
| | | | Current Yea | | | \$0.00 | |
| | | | Current Yea | r Interest: | | \$0.00 | |
| | | | Payoff Amo | ount: | | \$10.89 | |
| | - | | | | | | |
| Gary W Kirsch | CONDOMINIUM NUMBER 159 LARPENTEUR GREEN | Street Sweeping - Resi | | 0.41 | 11.00 | \$4.51 | 20-29-22-21-0030 |
| 480 Larpenteur Ave E #123 | CONDOMINIUM UNIT NO 123 | Citywide Street Lighti | ng | 0.58 | 11.00 | \$6.38 | |
| St Paul MN 55117-2492 | | *** Owner and Taxpa | *** | | | \$10.89 | |
| *480 LARPENTEUR AVE E 123 *Ward: 5 | • | Owner and Taxpa | | | - | | |
| *Ward: 5 *Pending as of: 8/24/2021 | | | Total Assess | | | \$10.89 | |
| 1 chaing as 61. 6/24/2021 | | | This Paymer | | | \$0.00 | |
| | | | Current Yea | | | \$0.00 | |
| | | | Current Yea Payoff Amo | | \$0.00 \$10.89 | | |
| | | | rayon Amo | ount: | | \$10.89 | |
| | CONDOMINIUM NUMBER 159 | Street Sweeping - Resi | idential Stree | | | | |
| Teresa L Blydenburgh | LARPENTEUR GREEN CONDOMINIUM UNIT NO 124 | Citywide Street Lighti | ng | 0.58 | 11.00 | \$6.38 | |
| 480 Larpenteur Ave E Unit 124 | COMBONINION UNIT NO 124 | | | | | \$10.89 | |
| St Paul MN 55117-2492 | | *** Owner and Taxpa | yer *** | | | | |
| *480 LARPENTEUR AVE E 124 | 1 | | Total Assess | sment: | - | \$10.89 | |
| *Ward: 5 | | | This Paymer | nt: | | \$0.00 | |
| *Pending as of: 8/24/2021 | | | Current Yea | r Principal: | | \$0.00 | |
| | | | Current Yea | r Interest: | | \$0.00 | |

\$93.96

\$149.04

\$63.36

\$60.39

\$87.12

\$64.35

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Ratification Date: | Project: 202 Resolution | | Assmt: 210025 | Manager: LMR | Page 130 |
|-------------------------------------|---------------------------------------|-----------------------------------------------------|--------------------------|------------|--------------------|--------------------|--------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Pa Yia Thao | PHALEN PARK CITY VIEW LOT 13 BLK 1 | Street Sweeping - Residence Citywide Street Lightin | | 0.41 | 68.00 68.00 | \$27.88 \$39.44 | 20-29-22-21-0090 |
| Chong Hlee Thao 506 Idaho Ave S | | City wide Street Eightin | ig | 0.56 | = | \$67.32 | |
| St Paul MN 55130-3021 | | *** Owner and Taxpay | er *** | | | \$07.32 | |
| *506 IDAHO AVE E *Ward: 5 | | | Total Assess | | | \$67.32 | |
| *Ward: 5 *Pending as of: 8/24/2021 | | | This Paymer | \$0.00 | | | |
| Fending as 01. 8/24/2021 | | | Current Year | \$0.00 | | | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$67.32 | |
| Kevin N Fagerhaug | PHALEN PARK CITY VIEW LOT 15 | Street Sweeping - Resid | dential Stree | | — — — — | | |
| 494 Idaho Ave | BLK 1 | Citywide Street Lightin | ıg | 0.58 | 70.00 | \$40.60 | |
| St Paul MN 55130-4601 | | | | | _ | \$69.30 | |
| *494 IDAHO AVE E | | *** Owner and Taxpay | er *** | | | | |
| *Ward: 5 | | | Total Assess | \$69.30 | | | |
| *Pending as of: 8/24/2021 | | | This Paymer | \$0.00 | | | |
| | | | Current Year | \$0.00 | | | |
| | | | Current Year | | | \$0.00 | |
| | | Payoff Amount: | | | | \$69.30 | |
| | PHALEN PARK CITY VIEW LOT 17 | Street Sweeping - Resid | — — — - dential Streε | | | | |
| Youa Khang | BLK 1 | Citywide Street Lightin | | 0.58 | 70.00 | \$40.60 | 20 27 22 21 0071 |
| 482 Idaho Ave E | | | | | _ | \$69.30 | |
| St Paul MN 55130-4601 | | *** Owner and Taxpay | er *** | | | | |
| *482 IDAHO AVE E | | | Total Assess | ment: | \$69.30 | | |
| *Ward: 5 | | | This Paymer | \$0.00 | | | |
| *Pending as of: 8/24/2021 | | | Current Year | Principal: | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$69.30 | |

\$67.32

\$61.38

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Ratification Date: | Project: 20 Resolution | | Assmt: 210025 | Manager: LMR | Page 13 | |
|--------------------------------------------------|---------------------------------------|--------------------------------------|---------------------------|------------------|-----------------|--------------|------------------|--|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID | |
| William K Kokaisel | PHALEN PARK CITY VIEW LOT 41 | Street Sweeping - Co | mmercial/Art | 1.04 | 69.00 | \$71.76 | 20-29-22-21-0115 | |
| 577 Iowa Ave E | BLK 1 | Street Sweeping - Re | sidential Stree | 0.41 | 36.50 | \$14.97 | | |
| St Paul MN 55130-3024 | | Citywide Street Light | ting | 0.58 | 105.50 | \$61.19 | | |
| *577 IOWA AVE E | | | | | _ | \$147.92 | | |
| *Ward: 5 | | *** Owner and Taxp | ayer *** | | | | | |
| *Pending as of: 8/24/2021 | | | Total Asses | sment: | | \$147.92 | | |
| | | | This Payme | nt: | | \$0.00 | | |
| | | | Current Yea | ar Principal: | | \$0.00 | | |
| | | | Current Yea | ar Interest: | | \$0.00 | | |
| | | Payoff Amount: | | | | \$147.92 | | |
| | PHALEN PARK CITY VIEW LOT 2 | Street Sweeping - Re | sidential Stree | | | | | |
| Debra Ludemann | BLK 2 | Citywide Street Ligh | | 0.58 | 62.00 | \$35.96 | 20-27-22-21-0117 | |
| 570 Iowa Ave E | | | | | = | \$61.38 | | |
| St Paul MN 55130-3025 | | *** Owner and Taxp | ayer *** | | | ψ01.50 | | |
| *570 IOWA AVE E | | | Total Asses | sment: | - | \$61.38 | | |
| *Ward: 5 | | | This Payme | nt: | | \$0.00 | | |
| *Pending as of: 8/24/2021 | | | Current Yea | | | \$0.00 | | |
| | | | Current Year Interest: | | | | | |
| | | | Payoff Amo | ount: | | \$61.38 | | |
| | | | | | | | | |
| Cheng Leng Her | PHALEN PARK CITY VIEW LOT 3 BLK 2 | Street Sweeping - Re | | 0.41 | 62.00 | \$25.42 | 20-29-22-21-0118 | |
| 564 Iowa Ave E | 22.1. 2 | Citywide Street Ligh | ung | 0.58 | 62.00 | \$35.96 | | |
| St Paul MN 55130-3625 * 564 IOWA AVE E | | *** Owner and Taxp | aver *** | | | \$61.38 | | |
| *Ward: 5 | | | Total Asses | emant: | | \$61.38 | | |
| *Pending as of: 8/24/2021 | | | This Payme | | | \$0.00 | | |
| | | | Current Yea | | | \$0.00 | | |
| | | | Current Yea | - | | \$0.00 | | |
| | | | Payoff Amo | | | \$61.38 | | |

\$64.35

\$64.35

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Ratification Date: | Project: 20 Resolution | | Assmt: 210025 | Manager: LMR | Page 138 |
|---------------------------|---------------------------------------|-----------------------------------------------------------------------------|---------------------------|-----------|-----------------|--------------|--------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Delphine A Tsinnijinnie | PHALEN PARK CITY VIEW LOT 21 | Street Sweeping - Res | | 0.41 | 65.00 | \$26.65 | 20-29-22-21-0136 |
| 517 Hoyt Ave E | BLK 2 | Citywide Street Light | ing | 0.58 | 65.00 | \$37.70 | |
| St Paul MN 55130-3016 | | | | | _ | \$64.35 | |
| *517 HOYT AVE E | | *** Owner and Taxpa | ayer *** | | _ | | |
| *Ward: 5 | | Total Assessment: This Payment: Current Year Principal: | | | | \$64.35 | |
| *Pending as of: 8/24/2021 | | | | | | \$0.00 | |
| | | | | | | \$0.00 | |
| | | | Current Yea | | | \$0.00 | |
| | | | Payoff Amo | ount: | | \$64.35 | |
| | PHALEN PARK CITY VIEW LOT 22 | Street Sweeping - Res | sidential Streε | | | | |
| 523 Hoyt Ave E | BLK 2 | Citywide Street Light | ing | 0.58 | 65.00 | \$37.70 | |
| St Paul MN 55130-3016 | | | | | _ | \$64.35 | |
| *523 HOYT AVE E | | *** Owner and Taxpa | ayer *** | | | | |
| *Ward: 5 | | | Total Assess | sment: | - | \$64.35 | |
| *Pending as of: 8/24/2021 | | This Payment: Current Year Principal: Current Year Interest: Payoff Amount: | | | | \$0.00 | |
| | | | | | | \$0.00 | |
| | | | | | | \$0.00 | |
| | | | | | | \$64.35 | |
| | PHALEN PARK CITY VIEW LOT 23 | Street Sweeping - Res | sidential Stree | | | | |
| Carmen Alquicira | BLK 2 | Citywide Street Light | | 0.58 | 65.00 | \$37.70 | 20-27-22-21-0130 |
| 529 Hoyt Ave E | | | | | _ | \$64.35 | |
| St Paul MN 55130-3016 | | *** Owner and Taxpa | ayer *** | | | | |
| *529 HOYT AVE E | | | Total Assess | sment: | | \$64.35 | |
| *Ward: 5 | | | This Paymer | | | \$0.00 | |
| *Pending as of: 8/24/2021 | | | Current Yea | | | \$0.00 | |
| | | | Current Yea | • | | \$0.00 | |
| | | | Payoff Amo | ount: | | \$64.35 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Ratification Date: | Project: 202 Resolution | | Assmt: 210025 | Manager: LMR | Page 140 |
|-------------------------------------------------|---------------------------------------------------------------------------------------|-----------------------------------------------------|-----------------------------|--------------------------|-------------------|--------------------|--------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Jacquilan L Spiess Gerald K Spiess | PHALEN PARK CITY VIEW LOT 30 BLK 2 | Street Sweeping - Residence Citywide Street Lightin | | 0.41 | 62.00 62.00 | \$25.42 \$35.96 | 20-29-22-21-0145 |
| 571 Hoyt Ave E St Paul MN 55130-3016 | | *** Owner and Taxpay | er *** | | | \$61.38 | |
| *571 HOYT AVE E *Ward: 5 | | | Total Assess | ment: | - | \$61.38 | |
| *Pending as of: 8/24/2021 | | This Payment: Current Year Principal: | | | | | |
| 7 Chang as Oi. 0/2 1/2021 | | | | | | | |
| | | | Current Year Payoff Amo | \$0.00 \$61.38 | | | |
| | | | | | | | |
| May A Yang | PHALEN PARK CITY VIEW LOT 14 BLK 3 | Street Sweeping - Resid | | 0.41 0.58 | 85.00 | \$34.85 | 20-29-22-21-0147 |
| 1571 Wheelock Ridge Rd St Paul MN 55130-3029 | 52.1 3 | Citywide Street Lightin | ıg | 0.58 | 85.00 | \$49.30 | |
| *1571 WHEELOCK RIDGE RD | | *** Owner and Taxpay | er *** | | | \$84.15 | |
| *Ward: 5 | | | | | | 00415 | |
| *Pending as of: 8/24/2021 | | | Total Assess | | \$84.15 \$0.00 | | |
| | | | This Paymer Current Year | | \$0.00 | | |
| | | | Current Year | \$0.00 | | | |
| | | | Payoff Amo | unt: | \$84.15 | | |
| | V. C. A | Stuart Swaming David | | | | | |
| David Ratley Katherine Ratley | Vac St Accruing And Blk 5 Clarke's 2nd Addition And In Sd Gastons Subdivision | Street Sweeping - Resid Citywide Street Lightin | | 0.41 | 106.00 | \$61.48 | 20-29-22-21-0153 |
| 461 Idaho Ave E | No. 1 Subj To Sts; Vac St Accruing & Fol Part Sly Of Rr R/w Of Lot 1, The W 240 Ft | , ·· | -6 | | = | \$104.94 | |
| St Paul MN 55130-3081 | Of Lot 3, The E 120 Ft Of W 130 Ft Of Lot | *** Owner and Taxpay | er *** | | | \$104.94 | |
| *461 IDAHO AVE E | 4 & All Of Lot 2 Blk 2 | | Total Assess | ment: | | \$104.94 | |
| *Ward: 5 | | | This Paymer | nt: | | \$0.00 | |
| *Pending as of: 8/24/2021 | | Current Year Principal: | | | | \$0.00 | |
| | | | Current Year | | \$0.00 | | |
| | | | Payoff Amo | unt: | | \$104.94 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Ratification Date: | Project: 2021 Resolution #: | | Assmt: 210025 | Manager: LMR | Page 142 | |
|---------------------------------------------|---------------------------------------------------------------------|-----------------------------------------------------------------------------|--------------------------------|------------|-----------------|--------------|------------------|--|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID | |
| Briana Lawrence | CLARKE'S 2ND ADDITION TO THE | Street Sweeping - Reside | ential Stree | 0.41 | 65.00 | \$26.65 | 20-29-22-22-0004 | |
| Jessica Walsh | CITY OF ST. PAUL, RAMSEY CO., MINN. N 15 FT OF LOT 6 AND EX N 3O | Alley Sweeping | | 0.14 | 65.00 | \$9.10 | | |
| 1664 Westminster St | FT LOT 4 AND ALL OF LOT 5 BLK 1 | Citywide Street Lighting | 5 | 0.58 | 65.00 | \$37.70 | | |
| St Paul MN 55101-3039 | | | | | _ | \$73.45 | | |
| *1664 WESTMINSTER ST | | *** Owner and Taxpaye | er *** | | | | | |
| *Ward: 5 | | | Total Assessme | ent: | - | \$73.45 | | |
| *Pending as of: 8/24/2021 | | | This Payment: | | | \$0.00 | | |
| | | | Current Year P | Principal: | | \$0.00 | | |
| | | | Current Year I | nterest: | | \$0.00 | | |
| | | | Payoff Amour | nt: | | \$73.45 | | |
| | | | | | | | | |
| Mathew J Morelli | CLARKE'S 2ND ADDITION TO THE CITY OF ST. PAUL, RAMSEY CO., | Street Sweeping - Reside | ential Stree | 0.41 | 51.00 | \$20.91 | 20-29-22-22-0005 | |
| Ann D Morelli | MINN. EX N 15 FT LOT 6 AND THE N | Alley Sweeping | | 0.14 | 51.00 | \$7.14 | | |
| 1658 Westminster St | 26 FT OF LOT 7 BLK 1 | Citywide Street Lighting | 5 | 0.58 | 51.00 | \$29.58 | | |
| St Paul MN 55130-3039 | | *** 0 1 T | *** | | | \$57.63 | | |
| *1658 WESTMINSTER ST | | *** Owner and Taxpaye | | | | | | |
| *Ward: 5 | | | Total Assessm | ent: | | \$57.63 | | |
| *Pending as of: 8/24/2021 | | This Payment: Current Year Principal: Current Year Interest: Payoff Amount: | | | | \$0.00 | | |
| | | | | | | \$0.00 | | |
| | | | | | | \$0.00 | | |
| | | | | | | \$57.63 | | |
| | CLARKER AND ADDITION TO THE | Street Sweeping Comm | | 1.04 | | | | |
| Dao T Hang | CLARKE'S 2ND ADDITION TO THE CITY OF ST. PAUL, RAMSEY CO., | Street Sweeping - Comm Street Sweeping - Reside | | 0.41 | 33.00 | \$13.53 | 20-29-22-22-0006 | |
| 345 Wheelock Pky E St Paul MN 55130-3074 | MINN. SUBJ TO PKWY LOT 14 BLK 2 | Alley Sweeping | chilai Strec | 0.14 | 69.00 | \$9.66 | | |
| | DAWSONS 5TH ADD AND IN SD CLARKES 2ND ADD EX N 26 FT LOT 7 | Citywide Street Lighting | <u>.</u> | 0.58 | 95.50 | \$55.39 | | |
| *345 WHEELOCK PKWY E *Ward: 5 | AND ALL OF LOT 8 BLK 1 | | • | | _ | \$143.58 | | |
| *Pending as of: 8/24/2021 | | *** Owner and Taxpaye | er *** | | | Ψ1+3.36 | | |
| | | | Total Assessm | ent: | - | \$143.58 | | |
| | | | This Payment: | | | \$0.00 | | |
| | | Current Year Principal: | | | | \$0.00 | | |
| | | | Current Year I | | | \$0.00 | | |
| | | | Payoff Amour | nt: | | \$143.58 | | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Ratification Date: | Project: 20 Resolution | | Assmt: 210025 | Manager: LMR | Page 1 |
|------------------------------------------------|----------------------------------------------------------------------------------------------------|------------------------------------------------|----------------------------------------|--------------|-----------------|--------------------|--------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Geisler Properties Lle 380 Larpenteur Ave E | CLARKE'S 2ND ADDITION TO THE CITY OF ST. PAUL, RAMSEY CO., MINN. E 1/2 OF LOTS 1 2 AND LOT 3 | Street Sweeping - Cor Citywide Street Light | | 1.04 0.58 | 63.00 63.00 | \$65.52 \$36.54 | 20-29-22-22-0011 |
| St Paul MN 55117-2477 *380 LARPENTEUR AVE E | BLK 2 | *** Owner and Taxpa | *** Owner and Taxpayer *** | | | | |
| *Ward: 5 | | Total Assessment: | | | - | \$102.06 | |
| *Pending as of: 8/24/2021 | | | This Paymer | nt: | | \$0.00 | |
| | | | Current Yea | r Principal: | | \$0.00 | |
| | | | Current Yea | r Interest: | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$102.06 | |
| | CLARKE'S 2ND ADDITION TO THE | Street Sweeping - Co | mmercial/Art | | | | <u> </u> |
| Laurie Michele Holtz 3797 St Regis Dr | CITY OF ST. PAUL, RAMSEY CO., | Citywide Street Light | | 0.58 | 65.00 | \$37.70 | 20-27-22-22-0017 |
| | MINN. EX W 60 FT THE FOL LOTS 14 15 AND LOT 16 BLK 2 | | | | _ | \$105.30 | |
| St Paul MN 55110 | 10 111 10 201 10 3211 2 | *** Owner and Taxpa | *** Owner and Taxpayer *** | | | | |
| *396 LARPENTEUR AVE E *Ward: 5 | | | Total Assess | | - | \$105.30 | |
| *Pending as of: 8/24/2021 | | | This Paymer | | | \$0.00 | |
| 1 chang as 01. 6/24/2021 | | | Current Yea | - | | \$0.00 | |
| | | | Current Year Interest: Payoff Amount: | | | \$0.00 | |
| | | | | | | \$105.30 | |
| | PHALEN PARK CITY VIEW EX NWLY | Street Sweeping - Co | mmercial/Art | | | | |
| 1591 Wheelock Ridge Rd | 12 FT LOT 7 BLK 3 | Street Sweeping - Res | | 0.41 | 33.00 | \$13.53 | _, _, |
| St Paul MN 55130-3031 | | Citywide Street Light | ting | 0.58 | 67.00 | \$38.86 | |
| 1591 WHEELOCK RIDGE RD | | | | | _ | \$87.75 | |
| Ward: 5 | | *** Owner and Taxpa | ayer *** | | | | |
| Pending as of: 8/24/2021 | | | Total Assess | ment: | | \$87.75 | |
| | | | This Paymer | nt: | | \$0.00 | |
| | | | Current Yea | r Principal: | | \$0.00 | |
| | | | Current Yea | r Interest: | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$87.75 | |

\$74.25

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by I | PID (Fee to Asmt) Ratification Date: | Project: 202 Resolution | | Assmt: 210025 | Manager: LMR | Page |
|--------------------------|--------------------------------------------------------------------------------------------------------|--------------------------------------|-------------------------|------------------|------------------|--------------|--------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Loretta B Peterson | PHALEN PARK CITY VIEW LOT 22 | Street Sweeping - Reside | ential Stree | 0.41 | 80.00 | \$32.80 | 20-29-22-22-0038 |
| 1590 Wheelock Ridge Road | BLK 1 | Citywide Street Lighting | 5 | 0.58 | 80.00 | \$46.40 | |
| St Paul MN 55130-3032 | | | | | | \$79.20 | |
| 1590 WHEELOCK RIDGE RD | | *** Owner and Taxpaye | r *** | | | | |
| Ward: 5 | | | Total Assess | ment: | | \$79.20 | |
| Pending as of: 8/24/2021 | | | This Paymer | nt: | | \$0.00 | |
| | | | Current Year | r Principal: | | \$0.00 | |
| | | | Current Year | r Interest: | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$79.20 | |
| | R. C. WITT ADDITION PART OF LOT 9 | Street Sweeping - Reside | – — — - ential Stree | | — — — — 91.00 | | |
| 1581 Arkwright St | LYING S OF FOL DESC L, BEG ON NE | Citywide Street Lighting | | 0.58 | 91.00 | \$52.78 | 20-29-22-22-0040 |
| t Paul MN 55130-3076 | COR OF LOT 3 TH NW AT RA TO SE L OF LOT 3 TO WL OF LOT 9 & ALL OF | , , | • | | = | \$90.09 | |
| 1581 ARKWRIGHT ST | LOT 3 | *** Owner and Taxpaye | er *** | | | \$70.07 | |
| Ward: 5 | | | Total Assess | ment: | - | \$90.09 | |
| Pending as of: 8/24/2021 | | | This Paymer | nt: | | \$0.00 | |
| | | | Current Year | r Principal: | | \$0.00 | |
| | | | Current Year | r Interest: | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$90.09 | |
| | R. C. WITT ADDITION PART OF LOTS 9 | | – – – - ential Stree | | | | |
| 1915 Margaret St | & 4 BLK 1 DESC AS BEG AT NW COR | Citywide Street Lighting | | 0.58 | 47.00 | \$27.26 | 4U-4Y-44-44-UU4 / |
| t Paul MN 55106-3921 | LOT 4 TH NE ON NW L TO MOST NLY COR OF LOT 4 TH NW AT RA TO NW L | | | | _ | \$46.53 | |
| 1580 ARKWRIGHT ST | 10 FT TH NE AT RA 17 NW L 10 FT TH NE AT RA 17.32 FT TH SE ON L RUN TO EL OF LOT 9 & CL OF RD 20 | *** Owner and Taxpaye | r *** | | | ψτυ | |
| Ward: 5 | | | Total Assess | ment: | | \$46.53 | |
| Pending as of: 8/24/2021 | | | This Payment: | | | \$0.00 | |
| | | | Current Year | _ | | \$0.00 | |
| | | | Current Year | r Interest: | | \$0.00 | |

\$46.53

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by I | Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date: | | 021SMSP n#: | Assmt: 210025 | Manager: LMR | Page 146 |
|---------------------------|-------------------------------------------------------------------|----------------------------------------------------------------------------|-----------------|----------------|-----------------|--------------------|--------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Chong Yang | R. C. WITT ADDITION SUBJ TO ESMTS; | Street Sweeping - Re | sidential Stree | 0.41 | 70.00 | \$28.70 | 20-29-22-22-0048 |
| May Kia Moua | PART OF LOTS 4 & 9 LYING SELY & | Alley Sweeping | | 0.14 | 32.00 | \$4.48 | 20 23 22 22 00 10 |
| 1576 Arkwright St | SWLY OF FOL DESC LINE; COM AT NW COR LOT 5 TH E ON NL 58.43 FT | Citywide Street Light | ing | 0.58 | 70.00 | \$40.60 | |
| St Paul MN 55130-3033 | TO BEG TH NE 67.28 FT TO PT ON EL | | | | _ | \$73.78 | |
| *1576 ARKWRIGHT ST | OF LOT 4 38.74 FT N OF SE COR OF | *** Owner and Taxp | ayer *** | | | | |
| *Ward: 5 | | | Total Assess | sment: | - | \$73.78 | |
| *Pending as of: 8/24/2021 | | | This Payme | nt: | | \$0.00 | |
| | | | Current Yea | | | \$0.00 | |
| | | | Current Yea | ar Interest: | | \$0.00 | |
| | | | Payoff Amo | ount: | | \$73.78 | |
| | R. C. WITT ADDITION LOT 6 | | | | | | |
| William D Kamb | R. C. WITT ADDITION LOT 6 | Street Sweeping - Re | | 0.41 0.58 | 99.00 99.00 | \$40.60 \$57.42 | 20-29-22-22-0049 |
| 814 Rose Pl | | Citywide Street Light | ing | 0.38 | 99.00 | | |
| St Paul MN 55113-3417 | | delta o 177 | ata ata ata | | | \$98.02 | |
| *401 HOYT AVE E | | *** Owner and Taxp | ayer *** | | | | |
| *Ward: 5 | | | Total Assess | sment: | | \$98.02 | |
| *Pending as of: 8/24/2021 | | | This Payme | nt: | | \$0.00 | |
| | | Current Year Principal: | | | | \$0.00 | |
| | | | ar Interest: | | \$0.00 | | |
| | | | Payoff Amo | ount: | | \$98.02 | |
| | R. C. WITT ADDITION EX ELY 4 FT; | Street Sweeping - Re | | | | | |
| 409 Hoyt Ave E | LOT 7 | Citywide Street Light | | 0.58 | 56.00 | \$32.48 | 20-29-22-22-0050 |
| St Paul MN 55130-3034 | | eny was sures Eigh | 5 | 0.00 | = | \$55.44 | |
| *409 HOYT AVE E | | *** Owner and Taxp | ayer *** | | | \$33.44 | |
| *Ward: 5 | | | Total Assess | sment: | - | \$55.44 | |
| *Pending as of: 8/24/2021 | | | This Payme | nt: | | \$0.00 | |
| | | | Current Yea | ar Principal: | | \$0.00 | |
| | | | Current Yea | ar Interest: | | \$0.00 | |
| | | | Payoff Amo | ount: | | \$55.44 | |

\$45.20

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date: | | Project: 202 Resolution | | Assmt: 210025 | nt: 210025 Manager: LMR | Page 14 |
|-----------------------------------------|----------------------------------------------------------------------------|----------------------------------------------------|------------------------------------|--------------|-----------------|-------------------------|--------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Charlotta C Sherrier | SECTION 20 TOWN 29 RANGE 22 SUBJ | Street Sweeping - Com | | 1.04 | 48.00 | \$49.92 | 20-29-22-22-0061 |
| 445 Hoyt Ave E St Paul MN 55130-3034 | TO AVE AND PKWY THE FOL E 2 FT OF LOT 12 BLK 2 MORTONS 2ND ADD | Street Sweeping - Resid Citywide Street Lightin | | 0.41 0.58 | 56.50 104.50 | \$23.17 \$60.61 | |
| *445 HOYT AVE E | ALSO PART SWLY OF CL OF SD PKWY OF S 400 FT OF E 217 8/10 FT OF | , . | 8 | | = | \$133.70 | |
| *Ward: 5 | NW 1/4 OF NW 1/4 OF SEC 20 TN 29 | *** Owner and Taxpay | /er *** | | | | |
| *Pending as of: 8/24/2021 | | | Total Assess | ment: | - | \$133.70 | |
| | | | This Paymer | ıt: | | \$0.00 | |
| | | | Current Year | Principal: | | \$0.00 | |
| | | | Current Year | Interest: | \$0.00 | | |
| | | | Payoff Amo | unt: | | \$133.70 | |
| Wheelock Ridge Villas Co | DAWSON'S 5TH ADDITION TO THE | Street Sweeping - Com | mercial/Art | | | | |
| 26 Concord St | CITY OF ST. PAUL, RAMSEY CO., | Street Sweeping - Resid | | 0.41 | 973.00 | \$398.93 | 20-29-22-22-000/ |
| *380 WHEELOCK PKWY E *Ward: 5 | MINN. SUBJ TO ST; VAC STS & ALLEYS ACCRUING IN DOC | Citywide Street Lightin | | 0.58 | 1,809.00 | \$1,049.22 | |
| | NO.1846988 & 1853312 & C F 91- 1825 & FOL PART OF THE E 1/2 OF NW 1/4 | *** Owner and Taxpay | ver *** | | \$2,317.59 | | |
| *Pending as of: 8/24/2021 | | Total Assessment: | | | | \$2,317.59 | |
| | | | This Paymer | ıt: | | \$0.00 | |
| | | | Current Year | Principal: | | \$0.00 | |
| | | | Current Year | Interest: | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$2,317.59 | |
| | CLARKE'S 2ND ADDITION TO THE | Street Sweeping - Com | mercial/Art | | | | |
| 1659 Clark St | CITY OF ST. PAUL, RAMSEY CO., | Citywide Street Lightin | | 0.58 | 250.00 | \$145.00 | 20-27-22-22-00/1 |
| St Paul MN 55117-3078 | MINN. SUBJ TO ESMT; LOTS 1 THRU LOT 7 & LOTS 13 THRU LOT 20 BLK 3 | | | | _ | \$405.00 | |
| *1659 CLARK ST | | *** Owner and Taxpay | er *** | | | | |
| *Ward: 5 | | | Total Assess | ment: | | \$405.00 | |
| *Pending as of: 8/24/2021 | | This Payment: | | | | \$0.00 | |
| | | | Current Year Pr Current Year In | Principal: | al: | \$0.00 | |
| | | | | | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$405.00 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by I | PID (Fee to Asmt) Ratification Date: | Project: 20 Resolution | | Assmt: 210025 | Manager: LMR | Page 149 |
|---------------------------|------------------------------------------------------------------|-----------------------------------------|---------------------------|--------------|--------------------|--------------|--------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Daniel W Gilbert | PHALEN PARK CITY VIEW SUBJ TO | Street Sweeping - Res | | 0.41 | 63.00 | \$25.83 | 20-29-22-22-0074 |
| Mary J Gilbert | AVE THE W 10 FT OF LOT 4 BLK 2 OF GASTONS SUBD & IN SD PHALEN | Citywide Street Light | ing | 0.58 | 63.00 | \$36.54 | |
| 1621 Wheelock Ridge Rd | PARK CITY VIEW VAC SCOTT RD | | | | _ | \$62.37 | |
| St Paul MN 55130-3031 | ACCRUING & LOT 1 BLK 3 | *** Owner and Taxpa | ayer *** | | | | |
| *1621 WHEELOCK RIDGE RD | | | Total Assess | ment: | - | \$62.37 | |
| *Ward: 5 | | | This Paymer | nt: | | \$0.00 | |
| *Pending as of: 8/24/2021 | | | Current Year | r Principal: | | \$0.00 | |
| | | | Current Year | r Interest: | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$62.37 | |
| | PHALEN PARK CITY VIEW VAC | | — — — sidential Stree | | — — — — | | <u> </u> |
| 1615 Wheelock Ridge Rd | SCOTT RD ACCRUING & LOT 2 BLK 3 | Citywide Street Light | ting | 0.58 | 61.00 | \$35.38 | 20 27 22 22 00.0 |
| St Paul MN 55130-3031 | | | | | _ | \$60.39 | |
| *1615 WHEELOCK RIDGE RD | | *** Owner and Taxpa | ayer *** | | | | |
| *Ward: 5 | | | Total Assess | sment: | | \$60.39 | |
| *Pending as of: 8/24/2021 | | | This Paymer | | | \$0.00 | |
| | | | Current Year | r Principal: | | \$0.00 | |
| | | | Current Year | r Interest: | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$60.39 | |
| | R. C. WITT ADDITION VAC HOYT AVE | Street Sweeping - Res | sidential Stree | | | | |
| 1561 Arkwright St | ADJ & FOL; S 10 FT OF LOT 2& ALL OF | Citywide Street Light | | 0.58 | 100.00 | \$58.00 | 20-27-22-22-0001 |
| St Paul MN 55130-3076 | LOT 1 | | | | _ | \$99.00 | |
| *1561 ARKWRIGHT ST | | *** Owner and Taxpa | ayer *** | | | φ>>σ | |
| *Ward: 5 | | | Total Assess | ment: | | \$99.00 | |
| *Pending as of: 8/24/2021 | | | This Paymer | | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Current Year | • | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$99.00 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by l | PID (Fee to Asmt) Ratification Date: | Project: 20 Resolution | | Assmt: 210025 | Manager: LMR | Page 150 |
|--------------------------------------------------------------------------------------------|-----------------------------------------------------------------------------------------------------------------------------------------------------------------|--------------------------------------------------------------------------|-----------------------------------------------------------------------------------------------|-------------------------------------------------|--------------------------|----------------------------------------------------|------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Amy Her 360 Wheelock Pky E St Paul MN 55130-3010 | DAWSON'S 5TH ADDITION TO THE CITY OF ST. PAUL, RAMSEY CO., MINN. SUBJ TO PKWY & VAC IDAHO AVE ACCRUING EX WLY 49 7/10 FT LOTS 4 THRU LOT 7 BLK 2 | Street Sweeping - Cor Street Sweeping - Res Citywide Street Lighti | idential Stree | 1.04 0.41 0.58 | 37.50 80.00 117.50 | \$39.00 \$32.80 \$68.15 | 20-29-22-22-0084 |
| *360 WHEELOCK PKWY E *Ward: 5 | E0154 TIRO E01 / BER 2 | *** Owner and Taxpa | yer *** | | | \$139.95 | |
| *Pending as of: 8/24/2021 | | | Total Assess This Paymer Current Yea Current Yea Payoff Amo | nt: r Principal: r Interest: | | \$139.95 \$0.00 \$0.00 \$0.00 \$139.95 | |
| East Idaho Housing Ltd Ptnshp C/O Real Estate Equities 579 Selby Ave St Paul MN 55102-1730 | DAWSON'S 5TH ADDITION TO THE CITY OF ST. PAUL, RAMSEY CO., MINN. VAC ALLEY & IDAHO AVE ACCRUING & FOL; ALL OF LOTS 1 THRU LOT 4 & ALL OF LOTS 26 THRU | Street Sweeping - Res Citywide Street Lighti | ing | 0.41 0.58 | 350.00 350.00 | \$143.50 \$203.00 \$346.50 | 20-29-22-22-0086 |
| *1600 WESTMINSTER ST *Ward: 5 *Pending as of: 8/24/2021 | LOT 29 BLK 3 | Total Assessme This Payment: Current Year Pr | | urrent Year Principal: urrent Year Interest: | | \$346.50 \$0.00 \$0.00 \$0.00 \$346.50 | |
| Daniel P Vittori Heather J Vittori 379 Wheelock Pkwy St Paul MN 55130-3074 | CLARKE'S 2ND ADDITION TO THE CITY OF ST. PAUL, RAMSEY CO., MINN. E 62.32 FT OF THE FOL; LOTS 13 & 14 BLK 1 DAWSON'S 5TH ADD & IN SD CLARKE'S 2ND ADD LOTS 7 & 8 | Street Sweeping - Cor Citywide Street Lighti | ing | 1.04 | 63.00 | \$65.52 \$36.54 \$102.06 | 20-29-22-22-0088 |
| *379 WHEELOCK PKWY E *Ward: 5 *Pending as of: 8/24/2021 | BLK 2 | | Total Assessment: This Payment: Current Year Principal: Current Year Interest: Payoff Amount: | | | \$102.06 \$0.00 \$0.00 \$0.00 \$102.06 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by F | PID (Fee to Asmt) Ratification Date: | Project: 202 Resolution | | Assmt: 210025 | Manager: LMR | Page 151 |
|-----------------------------------------------------------------------------------|--------------------------------------------------------------------------------------------------------------|-------------------------------------------------------------------|------------------------------------------------|----------------------|----------------------------|--------------------------------|------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Salvador Enriquez Portillo Elias 366 Larpenteur Ave E St Paul MN 55117-2477 | CLARKE'S 2ND ADDITION TO THE CITY OF ST. PAUL, RAMSEY CO., MINN. VAC ST ADJ & LOTS 12 THRU 16 BLK 1 | Street Sweeping - Cor Alley Sweeping Citywide Street Lighti | | 1.04 0.14 0.58 | 155.00 155.00 155.00 | \$161.20 \$21.70 \$89.90 | 20-29-22-22-0090 |
| *366 LARPENTEUR AVE E | | *** Owner and Taxpa | *** | | - | \$272.80 | |
| *Ward: 5 | | Owner and Taxpa | | | | | |
| *Pending as of: 8/24/2021 | | | Total Assess | nt: | | \$272.80 \$0.00 | |
| | | | Current Year Current Year | Interest: | | \$0.00 \$0.00 | |
| | | | Payoff Amo | unt: | | \$272.80 | |
| | DAWSON'S 5TH ADDITION TO THE | Street Sweeping - Cor | | 1.04 | | | |
| Boh Meh | CITY OF ST. PAUL, RAMSEY CO., MINN. SUBJ TO PKWY THE W 95 FT OF | Street Sweeping - Res | | 0.41 | 40.00 | \$16.40 | |
| 344 Wheelock Pky E St Paul MN 55130-3010 | THE N 1/2 OF LOT 9 & THE W 95 FT OF LOTS 10 & 11 BLK 2 | Citywide Street Lighti | ing | 0.58 | 87.50 | \$50.75 \$116.55 | |
| *344 WHEELOCK PKWY E | | *** Owner and Taxpa | ıyer *** | | | | |
| *Ward: 5 | | | Total Assess | ment: | - | \$116.55 | |
| *Pending as of: 8/24/2021 | | | This Paymen | nt: | | \$0.00 | |
| | | | Current Year Principal: Current Year Interest: | | | \$0.00 | |
| | | | | | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$116.55 | |
| Renovations Inc | CLARKE'S 2ND ADDITION TO THE | Street Sweeping - Cor | | 1.04 | 50.00 | \$52.00 | |
| Po Box 836 | CITY OF ST. PAUL, RAMSEY CO., MINN. THAT PT OF THE E 1/2 OF VAC | Citywide Street Lighti | ing | 0.58 | 50.00 | \$29.00 | |
| Lake Elmo MN 55042-0436 *367 WHEELOCK PKWY E | EDGEMONT ST AS PLATTED IN CLARKE'S 2ND ADDN AND THAT PT | *** Owner and Taxpa | nyer *** | | | \$81.00 | |
| *Ward: 5 | OF THE E 1/2 OF VAC EDGEMONT ST | | Total Assessment: | | - | \$81.00 | |
| *Pending as of: 8/24/2021 | | | This Paymen | | | \$0.00 | |
| | | Current Year Principal: | | | \$0.00 | | |
| | | | Current Year Inte | | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$81.00 | |

\$88.27

\$63.28

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Ratification Date: | Project: 2021SMSP: Resolution #: | | Assmt: 210025 | 5 Manager: LMR | Page 154 | |
|---------------------------------------------------------------------|---------------------------------------|--------------------------------------|----------------------------------|------------------|-----------------|----------------|--------------------|--|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID | |
| St Paul Public Housing Agency | MORTON'S ADDITION TO THE CITY | Street Sweeping - Reside | ential Stree | 0.41 | 56.00 | \$22.96 | 20-29-22-23-0033 | |
| Attn: Comptroller | OF ST. PAUL EX W 24 FT LOT 8 AND | Alley Sweeping | | 0.14 | 56.00 | \$7.84 | | |
| 555 Wabasha St N Ste 400 | ALL OF LOT 9 BLK 2 | Citywide Street Lighting | ; | 0.58 | 56.00 | \$32.48 | | |
| St Paul MN 55102-1602 | | | | | | \$63.28 | | |
| *434 HOYT AVE E | | *** Owner and Taxpaye | r *** | | | | | |
| *Ward: 5 | | | Total Assessn | nent: | \$63.28 | | | |
| *Pending as of: 8/24/2021 | | | This Payment | : | | \$0.00 | | |
| | | | Current Year | Principal: | | \$0.00 | | |
| | | | Current Year Interest: | | | \$0.00 | | |
| | | | Payoff Amou | int: | | \$63.28 | | |
| Gedion E Adeda | MORTON'S ADDITION TO THE CITY | Street Sweeping - Reside | ential Stree | | | | | |
| 2546 Park St Little Canada MN 55117-1418 *440 HOYT AVE E *Ward: 5 | OF ST. PAUL W 20 FT OF LOT 11 AND | Alley Sweeping | ontial Stree | 0.14 | 60.00 | \$8.40 | 20-29-22-23-0034 | |
| | ALL OF LOT 10 BLK 2 | Citywide Street Lighting | 5 | 0.58 | 60.00 | \$34.80 | | |
| | | | | | _ | \$67.80 | | |
| | | *** Owner and Taxpaye | er *** | | \$67.60 | | | |
| *Pending as of: 8/24/2021 | | | Total Assessment: | | | \$67.80 | | |
| | | | This Payment | : | | \$0.00 | | |
| | | | Current Year | Principal: | | \$0.00 | | |
| | | | Current Year | Interest: | | \$0.00 | | |
| | | | Payoff Amou | int: | | \$67.80 | | |
| | MORTON'S ADDITION TO THE CITY | Street Sweeping - Reside | ential Stree | | | | | |
| 450 Hoyt Ave E | OF ST. PAUL W 20 FT OF LOT 14 AND | Alley Sweeping | ontial Stree | 0.14 | 60.00 | \$8.40 | 20-29-22-23-0030 | |
| St Paul MN 55130-3058 | ALL OF LOT 13 BLK 2 | Citywide Street Lighting | 5 | 0.58 | 60.00 | \$34.80 | | |
| *450 HOYT AVE E | | | | | _ | \$67.80 | | |
| *Ward: 5 | | *** Owner and Taxpaye | er *** | | | ψ07.00 | | |
| *Pending as of: 8/24/2021 | | | Total Assessn | nent: | | \$67.80 | | |
| | | | This Payment | : | | \$0.00 | | |
| | | Current Year Principal: | | | \$0.00 | | | |
| | | | Current Year | Interest: | | \$0.00 | | |
| | | | Payoff Amou | int: | | \$67.80 | | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Ratification Date: | Project: 202 Resolution | | Assmt: 210025 | Manager: LMR | Page 155 |
|-------------------------------------------------------|-------------------------------------------------------------------------------------|----------------------------------------------------------------------|----------------------------|----------------------|-------------------------|------------------------------|------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| James D Loehr 451 Montana Ave E St Paul MN 55130-3224 | MORTON'S ADDITION TO THE CITY OF ST. PAUL EX E 20 FT LOT 17 AND ALL OF LOT 18 BLK 2 | Street Sweeping - Resid Alley Sweeping Citywide Street Lightin | | 0.41 0.14 0.58 | 60.00 60.00 60.00 | \$24.60 \$8.40 \$34.80 | 20-29-22-23-0039 |
| *451 MONTANA AVE E *Ward: 5 | | *** Owner and Taxpay | er *** | | _ | \$67.80 | |
| *Pending as of: 8/24/2021 | | | Total Assess | | <u> </u> | \$67.80 | |
| | | | This Paymen | | | \$0.00 | |
| | | | Current Year Current Year | • | | \$0.00 \$0.00 | |
| | | | Payoff Amo | | | \$67.80 | |
| | MORTONIC A POSTION TO THE CITY | Street Syraphia David | | | | | |
| Khue Yang Dou Pha Yang | MORTON'S ADDITION TO THE CITY OF ST. PAUL EX E 22 85/100 FT LOT | Street Sweeping - Resid | ientiai Stret | 0.41 0.14 | 51.00 51.00 | \$20.91 \$7.14 | 20-29-22-23-0043 |
| 431 Montana Ave E | 22 AND EX W 5 72/100 FT LOT 23 BLK 2 | Citywide Street Lighting | g | 0.58 | 51.00 | \$29.58 | |
| St Paul MN 55130-3224 | BLK 2 | | | | _ | \$57.63 | |
| *431 MONTANA AVE E | | *** Owner and Taxpay | er *** | | | φε,σε | |
| *Ward: 5 | | | Total Assess | ment: | - | \$57.63 | |
| *Pending as of: 8/24/2021 | | | This Paymen | nt: | | \$0.00 | |
| | | | Current Year | - | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$57.63 | |
| James R Paredes | MORTON'S ADDITION TO THE CITY | Street Sweeping - Resid | lential Stree | | | | 20-29-22-23-0046 |
| Machelle R Paredes | OF ST. PAUL W 22 86/100 FT OF LOT 26 AND EX W 11 43/100 FT LOT 27 | Alley Sweeping | | 0.14 | 51.00 | \$7.14 | |
| 415 Montana Ave E | BLK 2 | Citywide Street Lighting | g | 0.58 | 51.00 | \$29.58 | |
| St Paul MN 55130-3224 | | | | | | \$57.63 | |
| *415 MONTANA AVE E | | *** Owner and Taxpay | er *** | | <u>.</u> | | |
| *Ward: 5 *Pending as of: 8/24/2021 | | | Total Assess | | | \$57.63 | |
| rending as of: 8/24/2021 | | | This Paymen | | | \$0.00 | |
| | | | Current Year | - | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$57.63 | |

| 22:53:28 10/4/2021 | 10/4/2021 Public Improvement Assessment Roll by PID (Fee to Asmt) Project: 2021SMSP Ratification Date: Resolution #: | | | Assmt: 210025 | Manager: LMR | Page 156 | |
|------------------------------------------------------------|----------------------------------------------------------------------------------------------------------------------|----------------------------------------------------------------------|-----------------------------|----------------------|-------------------------|------------------------------|------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Dah Poe Myaw 409 Montana Ave E St Paul MN 55130-3224 | MORTON'S ADDITION TO THE CITY OF ST. PAUL W 11 43/100 FT OF LOT 27 AND ALL OF LOT 28 BLK 2 | Street Sweeping - Resid Alley Sweeping Citywide Street Lightin | | 0.41 0.14 0.58 | 51.00 51.00 51.00 | \$20.91 \$7.14 \$29.58 | 20-29-22-23-0047 |
| *409 MONTANA AVE E *Ward: 5 | | *** Owner and Taxpay | /er *** | | _ | \$57.63 | |
| *Pending as of: 8/24/2021 | | 1 3 | Total Assess | ment: | | \$57.63 | |
| | | | This Paymer | nt: | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$57.63 | |
| | MORTON'S ADDITION TO THE CITY | Street Sweeping - Resid | dential Stree | | | | 20-29-22-23-0048 |
| Leng Moua | OF ST. PAUL LOT 29 BLK 2 | Alley Sweeping | | 0.14 | 40.00 | \$5.60 | |
| 405 Montana Ave E | | Citywide Street Lightin | ng | 0.58 | 40.00 | \$23.20 | |
| St Paul MN 55130-3224 * 405 MONTANA AVE E | | *** Owner and Taxpay | /er *** | | _ | \$45.20 | |
| *Ward: 5 | | - ··· ··· | | | - | | |
| *Pending as of: 8/24/2021 | | | Total Assess | | | \$45.20 | |
| | | | This Paymer Current Year | | | \$0.00 \$0.00 | |
| | | | Current Year | - | | \$0.00 | |
| | | | Payoff Amo | | | \$45.20 | |
| | | | | | | | |
| Nipa Chowwiwat | MORTON'S ADDITION TO THE CITY OF ST. PAUL E 26 FT OF LOT 2 AND W | Street Sweeping - Resid | dential Streε | 0.41 | 53.00 | \$21.73 | 20-29-22-23-0051 |
| Danai Chowwiwat | 27 FT OF LOT 3 BLK 3 | Alley Sweeping Citywide Street Lightin | 10 | 0.14 0.58 | 53.00 53.00 | \$7.42 \$30.74 | |
| 408 Montana Ave E | | Citywide Street Lightin | ig | 0.36 | 33.00 | | |
| St Paul MN 55130-3225 *408 MONTANA AVE E | | *** Owner and Taxpay | /er *** | | | \$59.89 | |
| *Ward: 5 | | | Total Assess | ment: | - | \$59.89 | |
| *Pending as of: 8/24/2021 | | | This Paymer | nt: | | \$0.00 | |
| | | | Current Year | r Principal: | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$59.89 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Ratification Date: | Project: 202 Resolution | | Assmt: 210025 | Manager: LMR | Page 157 |
|----------------------------------------------------|----------------------------------------------------------------|--------------------------------------|----------------------------|--------------|-----------------|-------------------|------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Zer Vang | MORTON'S ADDITION TO THE CITY OF ST. PAUL EX W 27 FT LOT 3 AND | Street Sweeping - Resid | dential Stree | 0.41 | 53.00 | \$21.73 \$7.42 | 20-29-22-23-0052 |
| 412 Montana Ave E St Paul MN 55130-3225 | ALL OF LOT 4 BLK 3 | Citywide Street Lightin | ng | 0.58 | 53.00 | \$30.74 | |
| *412 MONTANA AVE E | | | | | _ | \$59.89 | |
| *Ward: 5 | | *** Owner and Taxpay | /er *** | | | | |
| *Pending as of: 8/24/2021 | | | Total Assess | ment: | | \$59.89 | |
| | | | This Paymer | nt: | | \$0.00 | |
| | | | Current Year | r Principal: | | \$0.00 | |
| | | | Current Year | r Interest: | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$59.89 | |
| | MORTON'S ADDITION TO THE CITY | Street Sweeping - Resid | | | | \$3.28 | |
| Christian D Schweitzer Deborah J Howard Schweitzer | OF ST. PAUL E 8 2/10 FT OF LOT 10 | Alley Sweeping | dential Street | 0.41 | 8.00 | \$3.28 \$1.12 | 20-29-22-23-0057 |
| 440 Montana Ave E | BLK 3 | Citywide Street Lightin | ng | 0.58 | 8.00 | \$4.64 | |
| St Paul MN 55130-3225 | | | | | _ | \$9.04 | |
| *440 MONTANA AVE E | | *** Owner and Taxpay | er *** | | | ψ, | |
| *Ward: 5 | | | Total Assess | ment: | - | \$9.04 | |
| *Pending as of: 8/24/2021 | | | This Paymer | nt: | | \$0.00 | |
| | | | Current Year Principal: | | | | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$9.04 | |
| Christian D Schweitzer | MORTON'S ADDITION TO THE CITY | Street Sweeping - Resid | dential Stre | | | | <u> </u> |
| Deborah J Howard-Schweitzer | OF ST. PAUL W 2 4/10 FT OF LOT 12 | Alley Sweeping | | 0.14 | 42.00 | \$5.88 | 20-29-22-23-0030 |
| 440 Montana Ave E | AND ALL OF LOT 11 BLK 3 | Citywide Street Lightin | ng | 0.58 | 42.00 | \$24.36 | |
| St Paul MN 55130-3225 | | | | | = | \$47.46 | |
| *440 MONTANA AVE E | | *** Owner and Taxpay | ver *** | | | | |
| *Ward: 5 | | | Total Assess | ment: | | \$47.46 | |
| *Pending as of: 8/24/2021 | | | This Paymer | | | \$0.00 | |
| | | | Current Year | _ | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$47.46 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Ratification Date: | Project: 202 | | Assmt: 210025 | Manager: LMR | Page 158 |
|--------------------------------------|-----------------------------------------------------------------------------------------|----------------------------------------------------------------------|--------------------------|----------------------|-------------------------|------------------------------|------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Tony Vang Lisa Her 450 Montana Ave E | MORTON'S ADDITION TO THE CITY OF ST. PAUL EX W 13 FT LOT 13 AND W 30 FT OF LOT 14 BLK 3 | Street Sweeping - Resid Alley Sweeping Citywide Street Lightin | | 0.41 0.14 0.58 | 57.00 57.00 57.00 | \$23.37 \$7.98 \$33.06 | 20-29-22-23-0060 |
| St Paul MN 55130-3225 | | *** Owner and Taxpay | .or *** | | - | \$64.41 | |
| *450 MONTANA AVE E *Ward: 5 | | Owner and Taxpay | | | <u> </u> | | |
| *Ward: 5 *Pending as of: 8/24/2021 | | | Total Assess | | | \$64.41 | |
| Fending as 01: 8/24/2021 | | | This Paymen | | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$64.41 | |
| | MORTON'S ADDITION TO THE CITY | Street Sweeping - Resid | dential Stree | | 40.00 | | 20-29-22-23-0065 |
| Jourdan L Suos | OF ST. PAUL LOT 21 BLK 3 | Alley Sweeping | | 0.14 | 40.00 | \$5.60 | 20 23 22 26 0008 |
| 437 Nebraska Ave E | | Citywide Street Lightin | ng | 0.58 | 40.00 | \$23.20 | |
| St Paul MN 55130 | | | | | _ | \$45.20 | |
| *437 NEBRASKA AVE E | | *** Owner and Taxpay | /er *** | | | | |
| *Ward: 5 | | | Total Assess | ment: | | \$45.20 | |
| *Pending as of: 8/24/2021 | | | This Paymen | ıt: | | \$0.00 | |
| | | | Current Year | Principal: | | \$0.00 | |
| | | Current Year Inte | | | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$45.20 | |
| | MORTON'S ADDITION TO THE CITY | Street Sweeping - Resid | — — — - dential Streε | | | | |
| 417 Nebraska Ave E | OF ST. PAUL LOT 26 BLK 3 | Alley Sweeping | aciniai Sirec | 0.14 | 40.00 | \$5.60 | 20-29-22-23-0008 |
| St Paul MN 55130-3226 | | Citywide Street Lightin | ng | 0.58 | 40.00 | \$23.20 | |
| *417 NEBRASKA AVE E | | | | | _ | \$45.20 | |
| *Ward: 5 | | *** Owner and Taxpay | er *** | | | | |
| *Pending as of: 8/24/2021 | | | Total Assess | ment: | - | \$45.20 | |
| | | | This Paymen | | | \$0.00 | |
| | | | Current Year | _ | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$45.20 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Ratification Date: | Project: 2021S Resolution #: | MSP | Assmt: 210025 | Manager: LMR | Page 159 |
|----------------------------------------------------------------|----------------------------------------------------------------------|--------------------------------------|---------------------------------|----------------------------------------|-----------------|-------------------|--------------------|
| Owner or Taxpayer | Property Description | Item Description | <u>U</u> | nit Rate | Quantity | Charge Amts | Property ID |
| Nancy L Mayberry | MORTON'S ADDITION TO THE CITY | Citywide Street Lighti | ng — — — | 0.58 | 60.00 | \$34.80 | 20-29-22-23-0078 |
| 382 Montana Ave E St Paul MN 55130-3116 | OF ST. PAUL W 10 FT OF LOT 16 AND ALL OF LOTS 14 AND LOT 15 BLK 4 | *** Owner and Taxpa | yer *** | | \$34.80 | | |
| *382 MONTANA AVE E | | | Total Assessmer | nt: | | \$34.80 | |
| *Ward: 5 | | | This Payment: | | | \$0.00 | |
| *Pending as of: 8/24/2021 | | | Current Year Pri | incipal: | | \$0.00 | |
| | | | Current Year Int | terest: | | \$0.00 | |
| | | | Payoff Amount | : | | \$34.80 | |
| | MORTON'S ADDITION TO THE CITY | Street Sweeping - Res | idential Stree | —————————————————————————————————————— | | | |
| Nancy A Nordland 1521 Arkwright St St Paul MN 55130-3111 | OF ST. PAUL LOTS 18 AND LOT 19 | Citywide Street Lighti | | 0.58 | 127.00 | \$73.66 | 20-27-22-25-0000 |
| | BLK 4 | | | | _ | \$125.73 | |
| | | *** Owner and Taxpa | yer *** | | | Ψ1 2 01,73 | |
| *1521 ARKWRIGHT ST | | | Total Assessmer | nt: | \$125.73 | | |
| *Ward: 5 | | | This Payment: | | | \$0.00 | |
| *Pending as of: 8/24/2021 | | | Current Year Pri | incipal: | | \$0.00 | |
| | | | Current Year Int | terest: | | \$0.00 | |
| | | | Payoff Amount | : | | \$125.73 | |
| St Paul Public Housing Agency | MORTON'S ADDITION TO THE CITY | Street Sweeping - Res | idential Stree | —————————————————————————————————————— | | | |
| Attn: Comptroller | OF ST. PAUL LOTS 20 AND LOT 21 | Citywide Street Lighti | | 0.58 | 207.00 | \$120.06 | 20-27-22-25-0001 |
| 555 Wabasha St N Ste 400 | BLK 4 | - | | | _ | \$204.93 | |
| St Paul MN 55102-1602 | | *** Owner and Taxpa | yer *** | | | Ψ204.93 | |
| *1505 ARKWRIGHT ST | | | Total Assessmer | nt: | - | \$204.93 | |
| *Ward: 5 | | This Payment: | | | | \$0.00 | |
| *Pending as of: 8/24/2021 | | Current Year Principal: | | | \$0.00 | | |
| | | | Current Year Int | terest: | \$0.00 | | |
| | | | Payoff Amount | : | | \$204.93 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by I | PID (Fee to Asmt) Ratification Date: | Project: 202 Resolution | | Assmt: 210025 | Manager: LMR | Page 160 |
|---------------------------------------------------|--------------------------------------------------------------------------------------------------|---------------------------------------------------|-------------------------|------------|-----------------|--------------------|------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| St Paul Public Housing Agency Attn: Comptroller | MORTON'S ADDITION TO THE CITY OF ST. PAUL ALLEY ACCRUING AS VAC IN CF 260898 & EX S 15.32 FT LOT | Street Sweeping - Resi Citywide Street Lightin | | 0.41 | 60.00 | \$24.60 \$34.80 | 20-29-22-23-0089 |
| 555 Wabasha St N Ste 400 St Paul MN 55102-1602 | 6 & EX RY R/W ALL OF LOT 5 BLK 5 | *** Owner and Taxpa | yer *** | | | \$59.40 | |
| *1480 WESTMINSTER ST *Ward: 5 | | | Total Assess | | - | \$59.40 | |
| *Pending as of: 8/24/2021 | | | This Paymen | | | \$0.00 | |
| 1 chang as of. 6/24/2021 | | | Current Year | | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$59.40 | |
| Gloria M Arreola Dominguez | MORTON'S ADDITION TO THE CITY | Street Sweeping - Resi | | | 80.00 | | 20-29-22-23-0090 |
| Daniel Dominguez Dominguez | OF ST. PAUL STREET & ALLEY ACCRUING AS VAC IN CF 260898 & S | Citywide Street Lightin | ng | 0.58 | 80.00 | \$46.40 | |
| 1474 Westminster St | 15.32 FT OF LOT 6 & ALL OF LOT 7 | | | | | \$79.20 | |
| St Paul MN 55130-3105 | BLK 5 | *** Owner and Taxpa | yer *** | | | | |
| *1474 WESTMINSTER ST | | | Total Assessi | ment: | - | \$79.20 | |
| *Ward: 5 | | | This Paymen | | | \$0.00 | |
| *Pending as of: 8/24/2021 | | | Current Year | | | \$0.00 | |
| | | | Current Year | • | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$79.20 | |
| | MORTON'S ADDITION TO THE CITY | Street Sweeping - Resi | | | | | |
| 1495 Arkwright St | OF ST. PAUL N 1/2 OF LOTS 17 18 & | Citywide Street Lightin | | 0.58 | 92.00 | \$53.36 | 20-29-22-23-0100 |
| St Paul MN 55130-3109 | LOT 19 BLK 5 | , | | | = | \$91.08 | |
| *1497 ARKWRIGHT ST | | *** Owner and Taxpa | yer *** | | | \$91.08 | |
| *Ward: 5 | | | Total Assess | ment: | - | \$91.08 | |
| *Pending as of: 8/24/2021 | | | This Paymen | it: | | \$0.00 | |
| | | | Current Year | Principal: | | \$0.00 | |
| | | | Current Year | Interest: | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$91.08 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Ratification Date: | Project: 20 Resolution | | Assmt: 210025 | Manager: LMR | Page 161 |
|---------------------------------------------|-------------------------------------------------------------------------------|------------------------------------------------|---------------------------|--------------|-----------------|--------------------|--------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Mary H Mcshannock 1491 Arkwright St | MORTON'S ADDITION TO THE CITY OF ST. PAUL S 1/2 OF LOTS 17, 18 & LOT 19 BLK 5 | Street Sweeping - Res Citywide Street Light | | 0.41 | 64.00 64.00 | \$26.24 \$37.12 | 20-29-22-23-0101 |
| St Paul MN 55130-3109 *1491 ARKWRIGHT ST | | *** Owner and Taxpa | ıyer *** | | | \$63.36 | |
| *Ward: 5 | | • | Total Assess | sment: | | \$63.36 | |
| *Pending as of: 8/24/2021 | | | This Paymer | nt: | | \$0.00 | |
| | | | Current Year | r Principal: | | \$0.00 | |
| | | | Current Year | r Interest: | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$63.36 | |
| Karen Yvette Silas | NEVADA PLACE COMMON AREA | Street Sweeping - Res | idential Stree | | | | <u> </u> |
| 1477 Arkwright St Apt H | INTEREST IN LOT 1 BLK 1 ATTRIBUTABLE TO & LOT 8 BLK 7 & | Citywide Street Light | | 0.58 | 4.35 | \$2.52 | 20-27-22-23-0102 |
| St Paul MN 55130-3159 *1477 ARKWRIGHT ST | LOT 1 BLK 2 | *** Owner and Taxpa | ıyer *** | | | \$4.30 | |
| *Ward: 5 | | | Total Assess | ment: | | \$4.30 | |
| *Pending as of: 8/24/2021 | | | This Paymer | | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Current Year | • | | \$0.00 | |
| | | | Payoff Amo | ount: | | \$4.30 | |
| | NEVADA BLACE COMMON AREA | Street Sweeping - Res | | | | | |
| State Of Mn Trust Exempt | NEVADA PLACE COMMON AREA INTEREST IN LOT 1 BLK 1 | Citywide Street Light | | 0.41 | 4.35 | \$2.52 | 20-29-22-23-0110 |
| Ramsey Co Tax Forf Land Po Box 64097 | ATTRIBUTABLE TO & LOT 1 BLK 3 | City wide Street Eight | 6 | 0.50 | = | \$4.30 | ***EXEMPT*** |
| St Paul MN 55164-0097 | | *** Owner and Taxpa | ıyer *** | | | \$4.30 | |
| *0 ARKWRIGHT ST | | | Total Assess | ment: | - | \$4.30 | |
| *Ward: 5 | | | This Paymer | | | \$0.00 | |
| *Pending as of: 8/24/2021 | | | Current Year | | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$4.30 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Ratification Date: | Project: 202 Resolution # | | Assmt: 210025 | Manager: LMR | Page |
|-----------------------------|-------------------------------------------------------|--------------------------------------|------------------------------|------------|-----------------|--------------|--------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| State Of Mn Trust Exempt | NEVADA PLACE COMMON AREA | Street Sweeping - Resi | dential Stree | 0.41 | 4.35 | \$1.78 | 20-29-22-23-0111 |
| Ramsey Co Tax Forf Land | INTEREST IN LOT 1 BLK 1 ATTRIBUTABLE TO & LOT 2 BLK 3 | Citywide Street Lightin | ng | 0.58 | 4.35 | \$2.52 | ***EXEMPT*** |
| Po Box 64097 | | | | | | \$4.30 | |
| St Paul MN 55164-0097 | | *** Owner and Taxpay | yer *** | | | | |
| *0 ARKWRIGHT ST | | | Total Assessr | nent: | | \$4.30 | |
| Ward: 5 | | | This Payment | t: | | \$0.00 | |
| *Pending as of: 8/24/2021 | | | Current Year | Principal: | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amou | int: | | \$4.30 | |
| | NEVADA PLACE COMMON AREA | Street Sweeping - Resi | dential Streε | | | | |
| Ramsey Co Tax Forf Land | INTEREST IN LOT 1 BLK 1 ATTRIBUTABLE TO & LOT 3 BLK 3 | Citywide Street Lightin | ng | 0.58 | 4.35 | \$2.52 | ***EXEMPT*** |
| Po Box 64097 | ATTRIBUTABLE TO & LOT 3 BLK 3 | | | | _ | \$4.30 | |
| St Paul MN 55164-0097 | | *** Owner and Taxpay | yer *** | | | | |
| ⁴ 0 ARKWRIGHT ST | | | Total Assessr | nent: | - | \$4.30 | |
| *Ward: 5 | | | This Payment | t: | | \$0.00 | |
| Pending as of: 8/24/2021 | | | Current Year | | | \$0.00 | |
| | | | Current Year | Interest: | | \$0.00 | |
| | | | Payoff Amou | ınt: | | \$4.30 | |
| | NEVADA PLACE COMMON AREA | Street Sweeping - Resi | dential Stree | | | | |
| Ramsey Co Tax Forf Land | INTEREST IN LOT 1 BLK 1 | Citywide Street Lightin | | 0.58 | 4.35 | \$2.52 | ***EXEMPT*** |
| Po Box 64097 | ATTRIBUTABLE TO & LOT 4 BLK 3 | | | | _ | \$4.30 | EXEMI I |
| t Paul MN 55164-0097 | | *** Owner and Taxpay | yer *** | | | 4 | |
| *0 ARKWRIGHT ST | | | Total Assessr | ment: | - | \$4.30 | |
| Ward: 5 | | | This Payment | | | \$0.00 | |
| Pending as of: 8/24/2021 | | | Current Year | | | \$0.00 | |
| | | | Current Year | _ | | \$0.00 | |
| | | | Payoff Amou | | | \$4.30 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Ratification Date: | Project: 202 Resolution # | | Assmt: 210025 | Manager: LMR | Page 163 |
|--------------------------------------------------|--------------------------------------------------------------------------------------|---------------------------------------------------|------------------------------|------------------|-----------------|------------------|----------------------------------|
| Owner or Taxpayer | Property Description | Item Description | | <u>Unit Rate</u> | Quantity | Charge Amts | Property ID |
| State Of Mn Trust Exempt Ramsey Co Tax Forf Land | NEVADA PLACE COMMON AREA INTEREST IN LOT 1 BLK 1 ATTRIBUTABLE TO & LOT 5 BLK 3 | Street Sweeping - Resi Citywide Street Lightin | | 0.41 | 4.35 | \$1.78 \$2.52 | 20-29-22-23-0114 ***EXEMPT*** |
| Po Box 64097 St Paul MN 55164-0097 | | *** Owner and Taxpa | yer *** | | | \$4.30 | |
| *0 ARKWRIGHT ST *Ward: 5 | | | Total Assessm | | | \$4.30 | |
| *Pending as of: 8/24/2021 | | | This Payment Current Year | | | \$0.00 \$0.00 | |
| | | | Current Year | _ | | \$0.00 | |
| | | | Payoff Amou | ınt: | | \$4.30 | |
| State Of Mn Trust Exempt | NEVADA PLACE COMMON AREA | Street Sweeping - Resi | idential Stree | | | | |
| Ramsey Co Tax Forf Land Po Box 64097 | INTEREST IN LOT 1 BLK 1 ATTRIBUTABLE TO & LOT 6 BLK 3 | Citywide Street Lightin | | 0.58 | 4.35 | \$2.52 | ***EXEMPT*** |
| St Paul MN 55164-0097 | | *** Owner and Taxpa | yer *** | | | \$4.30 | |
| *0 ARKWRIGHT ST | | | Total Assessn | nent: | • | \$4.30 | |
| *Ward: 5 | | | This Payment | t: | | \$0.00 | |
| *Pending as of: 8/24/2021 | | | Current Year | - | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amou | int: | | \$4.30 | |
| State Of Mn Trust Exempt | NEVADA PLACE COMMON AREA | Street Sweeping - Resi | idential Stree | 0.41 | | \$1.78 | |
| Ramsey Co Tax Forf Land | INTEREST IN LOT 1 BLK 1 ATTRIBUTABLE TO & LOT 1 BLK 4 | Citywide Street Lightin | ng | 0.58 | 4.35 | \$2.52 | ***EXEMPT*** |
| Po Box 64097 | ATTABOTABLE TO CLOT TELK | | | | _ | \$4.30 | |
| St Paul MN 55164-0097 | | *** Owner and Taxpa | yer *** | | | | |
| *0 ARKWRIGHT ST | | | Total Assessm | ment: | | \$4.30 | |
| *Ward: 5 *Pending as of: 8/24/2021 | | | This Payment | | | \$0.00 | |
| 1 Chang as 01. 0/24/2021 | | | Current Year | • | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amou | ınt: | | \$4.30 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Ratification Date: | Project: 20 Resolution | | Assmt: 210025 | Manager: LMR | Page 164 |
|---------------------------|-------------------------------------------------------|--------------------------------------|---------------------------|------------------|----------------------------------------|--------------|--------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| State Of Mn Trust Exempt | NEVADA PLACE COMMON AREA | Street Sweeping - Res | idential Stree | 0.41 | 4.35 | \$1.78 | 20-29-22-23-0117 |
| Ramsey Co Tax Forf Land | INTEREST IN LOT 1 BLK 1 ATTRIBUTABLE TO & LOT 2 BLK 4 | Citywide Street Lighti | ing | 0.58 | 4.35 | \$2.52 | ***EXEMPT*** |
| Po Box 64097 | | | | | _ | \$4.30 | |
| St Paul MN 55164-0097 | | *** Owner and Taxpa | ıyer *** | | | | |
| *0 ARKWRIGHT ST | | | Total Assess | sment: | | \$4.30 | |
| *Ward: 5 | | | This Paymer | nt: | | \$0.00 | |
| *Pending as of: 8/24/2021 | | | Current Yea | r Principal: | | \$0.00 | |
| | | | Current Yea | | | \$0.00 | |
| | | | Payoff Amo | ount: | | \$4.30 | |
| State Of Mn Trust Exempt | NEVADA PLACE COMMON AREA | Street Sweeping - Res | idential Streε | | | | 20-29-22-23-0118 |
| Ramsey Co Tax Forf Land | INTEREST IN LOT 1 BLK 1 ATTRIBUTABLE TO & LOT 3 BLK 4 | Citywide Street Lighti | ing | 0.58 | 4.35 | \$2.52 | ***EXEMPT*** |
| Po Box 64097 | ATTRIBUTABLE TO & LOT 3 BER 4 | | | | _ | \$4.30 | |
| St Paul MN 55164-0097 | | *** Owner and Taxpa | ıyer *** | | | | |
| *0 ARKWRIGHT ST | | | Total Assess | sment: | - | \$4.30 | |
| *Ward: 5 | | | This Paymer | nt: | | \$0.00 | |
| *Pending as of: 8/24/2021 | | | Current Yea | r Principal: | | \$0.00 | |
| | | | Current Yea | r Interest: | | \$0.00 | |
| | | | Payoff Amo | ount: | | \$4.30 | |
| State Of Mn Trust Exempt | NEVADA PLACE COMMON AREA | Street Sweeping - Res | idential Stree | | —————————————————————————————————————— | | <u> </u> |
| Ramsey Co Tax Forf Land | INTEREST IN LOT 1 BLK 1 | Citywide Street Lighti | | 0.58 | 7.35 | \$4.26 | ***EXEMPT*** |
| Po Box 64097 | ATTRIBUTABLE TO & LOT 4 BLK 4 | | | | = | \$7.27 | |
| St Paul MN 55164-0097 | | *** Owner and Taxpa | ıyer *** | | | | |
| *0 ARKWRIGHT ST | | | Total Assess | sment: | | \$7.27 | |
| *Ward: 5 | | | This Paymer | | | \$0.00 | |
| *Pending as of: 8/24/2021 | | | Current Yea | | | \$0.00 | |
| | | | Current Yea | • | | \$0.00 | |
| | | | Payoff Amo | ount: | | \$7.27 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Ratification Date: | Project: 202 | | Assmt: 210025 | Manager: LMR | Page 165 |
|----------------------------------------------------------------------------------------------------------------------------------------|--------------------------------------------------------------------------------------|-----------------------------------------------------------------------|---------------------------|-------------------------------|-----------------|------------------------------------------------------------------------------|----------------------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| State Of Mn Trust Exempt Ramsey Co Tax Forf Land | NEVADA PLACE COMMON AREA INTEREST IN LOT 1 BLK 1 ATTRIBUTABLE TO & LOT 5 BLK 4 | Street Sweeping - Res Citywide Street Light | | 0.41 | 4.35 | \$1.78 \$2.52 | 20-29-22-23-0120 ***EXEMPT*** |
| Po Box 64097 St Paul MN 55164-0097 | | *** Owner and Taxpa | ıyer *** | | | \$4.30 | |
| *0 ARKWRIGHT ST *Ward: 5 | | | Total Assessi | | | \$4.30 | |
| *Pending as of: 8/24/2021 | | | This Paymen | | | \$0.00 | |
| 2 3 | | | Current Year | _ | | \$0.00 | |
| | | | Current Year Payoff Amou | | | \$0.00 \$4.30 | |
| State Of Mn Trust Exempt Ramsey Co Tax Forf Land Po Box 64097 St Paul MN 55164-0097 *0 ARKWRIGHT ST *Ward: 5 *Pending as of: 8/24/2021 | NEVADA PLACE COMMON AREA INTEREST IN LOT 1 BLK 1 ATTRIBUTABLE TO & LOT 6 BLK 4 | Street Sweeping - Res Citywide Street Light *** Owner and Taxpa | ing | t: Principal: Interest: | 4.35 | \$1.78 \$2.52 \$4.30 \$4.30 \$0.00 \$0.00 \$0.00 \$4.30 | 20-29-22-23-0121 ***EXEMPT*** |
| State Of Mn Trust Exempt Ramsey Co Tax Forf Land Po Box 64097 | NEVADA PLACE COMMON AREA INTEREST IN LOT 1 BLK 1 ATTRIBUTABLE TO & LOT 7 BLK 4 | Street Sweeping - Res | | 0.41 0.58 | 4.35 | \$1.78 \$2.52 | 20-29-22-23-0122 ***EXEMPT*** |
| St Paul MN 55164-0097 | | *** Owner and Taxpa | ıyer *** | | | \$4.30 | |
| *0 ARKWRIGHT ST | | | Total Assessi | ment: | = | \$4.30 | |
| *Ward: 5 | | | This Paymen | t: | | \$0.00 | |
| *Pending as of: 8/24/2021 | | | Current Year | Principal: | | \$0.00 | |
| | | | Current Year | Interest: | | \$0.00 | |
| | | | Payoff Amou | unt: | | \$4.30 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Ratification Date: | Project: 20 Resolution | | Assmt: 210025 | Manager: LMR | Page 166 |
|---------------------------|-------------------------------------------------------|--------------------------------------|---------------------------|------------------|-----------------|--------------|--------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| State Of Mn Trust Exempt | NEVADA PLACE COMMON AREA | Street Sweeping - Res | idential Stree | 0.41 | 4.35 | \$1.78 | 20-29-22-23-0123 |
| Ramsey Co Tax Forf Land | INTEREST IN LOT 1 BLK 1 ATTRIBUTABLE TO & LOT 8 BLK 4 | Citywide Street Lighti | ing | 0.58 | 4.35 | \$2.52 | ***EXEMPT*** |
| Po Box 64097 | | | | | _ | \$4.30 | |
| St Paul MN 55164-0097 | | *** Owner and Taxpa | ıyer *** | | | | |
| *0 ARKWRIGHT ST | | | Total Assess | sment: | | \$4.30 | |
| *Ward: 5 | | | This Paymer | nt: | | \$0.00 | |
| *Pending as of: 8/24/2021 | | | Current Yea | r Principal: | | \$0.00 | |
| | | | Current Yea | r Interest: | | \$0.00 | |
| | | | Payoff Amo | ount: | | \$4.30 | |
| State Of Mn Trust Exempt | NEVADA PLACE COMMON AREA | Street Sweeping - Res | idential Streε | | | | <u> </u> |
| Ramsey Co Tax Forf Land | INTEREST IN LOT 1 BLK 1 | Citywide Street Lighti | ing | 0.58 | 4.35 | \$2.52 | ***EXEMPT*** |
| Po Box 64097 | ATTRIBUTABLE TO & LOT 1 BLK 5 | | | | _ | \$4.30 | |
| St Paul MN 55164-0097 | | *** Owner and Taxpa | ıyer *** | | | | |
| *0 ARKWRIGHT ST | | | Total Assess | sment: | - | \$4.30 | |
| *Ward: 5 | | | This Paymer | nt: | | \$0.00 | |
| *Pending as of: 8/24/2021 | | | Current Yea | r Principal: | | \$0.00 | |
| | | | Current Yea | r Interest: | | \$0.00 | |
| | | | Payoff Amo | ount: | | \$4.30 | |
| State Of Mn Trust Exempt | NEVADA PLACE COMMON AREA | Street Sweeping - Res | idential Streε | | | | |
| Ramsey Co Tax Forf Land | INTEREST IN LOT 1 BLK 1 | Citywide Street Lighti | | 0.58 | 4.35 | \$2.52 | ***EXEMPT*** |
| Po Box 64097 | ATTRIBUTABLE TO & LOT 2 BLK 5 | | | | _ | \$4.30 | LALIM 1 |
| St Paul MN 55164-0097 | | *** Owner and Taxpa | ıyer *** | | | 4 | |
| *0 ARKWRIGHT ST | | | Total Assess | emant: | | \$4.30 | |
| *Ward: 5 | | | This Paymer | | | \$0.00 | |
| *Pending as of: 8/24/2021 | | | Current Yea | | | \$0.00 | |
| | | | Current Yea | • | | \$0.00 | |
| | | | Payoff Amo | ount: | | \$4.30 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Ratification Date: | Project: 2021 Resolution # | | Assmt: 210025 | Manager: LMR | Page 1 |
|-----------------------------------------------------------------------|-------------------------------------------------------|--------------------------------------|-------------------------------|------------|-----------------|--------------|--------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| State Of Mn Trust Exempt | NEVADA PLACE COMMON AREA | Street Sweeping - Resid | | 0.41 | 4.35 | \$1.78 | 20-29-22-23-0126 |
| Ramsey Co Tax Forf Land | INTEREST IN LOT 1 BLK 1 ATTRIBUTABLE TO & LOT 3 BLK 5 | Citywide Street Lightin | ng | 0.58 | 4.35 | \$2.52 | ***EXEMPT*** |
| Po Box 64097 | | *** 0 1 T | ske ske ske | | | \$4.30 | |
| St Paul MN 55164-0097 | | *** Owner and Taxpay | /er *** | | | | |
| *0 ARKWRIGHT ST *Ward: 5 | | | Total Assessm | nent: | | \$4.30 | |
| *Pending as of: 8/24/2021 | | | This Payment | | | \$0.00 | |
| 1 chang as of. 6/24/2021 | | | Current Year | _ | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amou | nt: | | \$4.30 | |
| | NEVADA PLACE COMMON AREA | Street Sweeping - Resid | dential Stree | 0.41 | | | |
| Ramsey Co Tax Forf Land INTEREST IN LOT 1 BLK 1 ATTRIBUTABLE TO & LOT | INTEREST IN LOT 1 BLK 1 ATTRIBUTABLE TO & LOT 4 BLK 5 | Citywide Street Lightin | ng | 0.58 | 4.35 | \$2.52 | ***EXEMPT*** |
| Po Box 64097 | | | | | _ | \$4.30 | |
| St Paul MN 55164-0097 | | *** Owner and Taxpay | /er *** | | | | |
| *0 ARKWRIGHT ST | | | Total Assessm | nent: | | \$4.30 | |
| *Ward: 5 | | | This Payment | : | | \$0.00 | |
| *Pending as of: 8/24/2021 | | | Current Year | Principal: | | \$0.00 | |
| | | | Current Year | Interest: | | \$0.00 | |
| | | | Payoff Amou | nt: | | \$4.30 | |
| | NEVADA PLACE COMMON AREA | Street Sweeping - Resid | — — — — dential Stree | | | | |
| Ramsey Co Tax Forf Land | INTEREST IN LOT 1 BLK 1 | Citywide Street Lightin | | 0.58 | 4.35 | \$2.52 | ***EXEMPT*** |
| Po Box 64097 | ATTRIBUTABLE TO & LOT 5 BLK 5 | | | | _ | \$4.30 | |
| St Paul MN 55164-0097 | | *** Owner and Taxpay | /er *** | | | | |
| *0 ARKWRIGHT ST | | | Total Assessm | nent: | | \$4.30 | |
| Ward: 5 | | | This Payment | | | \$0.00 | |
| Pending as of: 8/24/2021 | | | Current Year | | | \$0.00 | |
| | | | Current Year | _ | | \$0.00 | |
| | | | Payoff Amou | nt: | | \$4.30 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Ratification Date: | Project: 202 Resolution # | | Assmt: 210025 | Manager: LMR | Page 168 |
|--------------------------------------------------|--------------------------------------------------------------------------------------|-------------------------------------------------|------------------------------|------------|-----------------|------------------|----------------------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| State Of Mn Trust Exempt Ramsey Co Tax Forf Land | NEVADA PLACE COMMON AREA INTEREST IN LOT 1 BLK 1 ATTRIBUTABLE TO & LOT 6 BLK 5 | Street Sweeping - Res Citywide Street Lighti | | 0.41 | 4.35 | \$1.78 \$2.52 | 20-29-22-23-0129 ***EXEMPT*** |
| Po Box 64097 St Paul MN 55164-0097 | | *** Owner and Taxpa | yer *** | | | \$4.30 | |
| *0 ARKWRIGHT ST *Ward: 5 | | | Total Assessn | nent: | | \$4.30 | |
| *Pending as of: 8/24/2021 | | | This Payment | | | \$0.00 | |
| 1 Cliding as 01. 6/24/2021 | | | Current Year | - | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amou | nt: | | \$4.30 | |
| State Of Mn Trust Exempt | NEVADA PLACE COMMON AREA | Street Sweeping - Res | | 0.41 | 4.35 | \$1.78 | 20-29-22-23-0130 |
| Ramsey Co Tax Forf Land Po Box 64097 | INTEREST IN LOT 1 BLK 1 ATTRIBUTABLE TO & LOT 7 BLK 5 | Citywide Street Lighti | ing | 0.58 | 4.35 | \$2.52 \$4.30 | ***EXEMPT*** |
| St Paul MN 55164-0097 | | *** Owner and Taxpa | yer *** | | | \$4.30 | |
| *0 ARKWRIGHT ST | | | Total Assessn | nent: | - | \$4.30 | |
| *Ward: 5 | | | This Payment | : | | \$0.00 | |
| *Pending as of: 8/24/2021 | | | Current Year | Principal: | | \$0.00 | |
| | | | Current Year | Interest: | | \$0.00 | |
| | | | Payoff Amou | nt: | | \$4.30 | |
| State Of Mn Trust Exempt | NEVADA PLACE COMMON AREA | Street Sweeping - Res | | | | | |
| Ramsey Co Tax Forf Land | INTEREST IN LOT 1 BLK 1 | Citywide Street Lighti | | 0.58 | 4.35 | \$2.52 | 20-29-22-23-0131 ***EXEMPT*** |
| Po Box 64097 | ATTRIBUTABLE TO & LOT 8 BLK 5 | , , | 8 | | _ | \$4.30 | TTTEAEMPITTT |
| St Paul MN 55164-0097 | | *** Owner and Taxpa | yer *** | | | Ф4.50 | |
| *0 ARKWRIGHT ST | | | Total Assessn | nent: | - | \$4.30 | |
| *Ward: 5 | | | This Payment | | | \$0.00 | |
| *Pending as of: 8/24/2021 | | | Current Year | | | \$0.00 | |
| | | | Current Year | - | | \$0.00 | |
| | | | Payoff Amou | nt: | | \$4.30 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Ratification Date: | Project: 202 Resolution # | | Assmt: 210025 | Manager: LMR | Page 169 |
|--------------------------------------------------|--------------------------------------------------------------------------------------|--------------------------------------------------|------------------------------|------------------|-----------------|------------------|----------------------------------|
| Owner or Taxpayer | Property Description | Item Description | | <u>Unit Rate</u> | Quantity | Charge Amts | Property ID |
| State Of Mn Trust Exempt Ramsey Co Tax Forf Land | NEVADA PLACE COMMON AREA INTEREST IN LOT 1 BLK 1 ATTRIBUTABLE TO & LOT 1 BLK 6 | Street Sweeping - Resi Citywide Street Lighti | | 0.41 | 4.35 | \$1.78 \$2.52 | 20-29-22-23-0132 ***EXEMPT*** |
| Po Box 64097 St Paul MN 55164-0097 | | *** Owner and Taxpa | yer *** | | | \$4.30 | |
| *0 ARKWRIGHT ST *Ward: 5 | | | Total Assessn | | | \$4.30 | |
| *Pending as of: 8/24/2021 | | | This Payment | | | \$0.00 | |
| C | | | Current Year Current Year | _ | | \$0.00 \$0.00 | |
| | | | Payoff Amou | | | \$4.30 | |
| State Of Mn Trust Exempt | NEVADA PLACE COMMON AREA | Street Sweeping - Res | idential Stree | | | | |
| Ramsey Co Tax Forf Land Po Box 64097 | INTEREST IN LOT 1 BLK 1 ATTRIBUTABLE TO & LOT 2 BLK 6 | Citywide Street Lighti | | 0.58 | 4.35 | \$2.52 | ***EXEMPT*** |
| St Paul MN 55164-0097 | | *** Owner and Taxpa | yer *** | | | \$4.30 | |
| *0 ARKWRIGHT ST | | | Total Assessn | nent: | | \$4.30 | |
| *Ward: 5 | | | This Payment | t: | | \$0.00 | |
| *Pending as of: 8/24/2021 | | | Current Year | Principal: | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amou | ınt: | | \$4.30 | |
| State Of Mn Trust Exempt | NEVADA PLACE COMMON AREA | Street Sweeping - Res | idential Streε | | | | |
| Ramsey Co Tax Forf Land | INTEREST IN LOT 1 BLK 1 | Citywide Street Lighti | | 0.58 | 4.35 | \$2.52 | ***EXEMPT*** |
| Po Box 64097 | ATTRIBUTABLE TO & LOT 3 BLK 6 | | | | _ | \$4.30 | |
| St Paul MN 55164-0097 | | *** Owner and Taxpa | yer *** | | | | |
| *0 ARKWRIGHT ST | | | Total Assessn | nent: | - | \$4.30 | |
| *Ward: 5 | | | This Payment | t: | | \$0.00 | |
| *Pending as of: 8/24/2021 | | | Current Year | Principal: | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amou | ınt: | | \$4.30 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Ratification Date: | Project: 20 Resolution | | Assmt: 210025 | Manager: LMR | Page 170 |
|-----------------------------|-------------------------------------------------------------------|-----------------------------------------|---------------------------|--------------|-----------------|--------------|------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Dale E Hernandez | MORTON'S ADDITION TO THE CITY | Street Sweeping - Res | | 0.41 | 133.50 | \$54.74 | 20-29-22-23-0145 |
| 410 Nebraska Ave E | OF ST. PAUL W 1/2 OF LOT 4 AND ALL OF LOTS 1 2 AND LOT 3 BLK 6 | Citywide Street Light | ing | 0.58 | 133.50 | \$77.43 | |
| St Paul MN 55130-3227 | | | | | | \$132.17 | |
| *410 NEBRASKA AVE E | | *** Owner and Taxpa | ayer *** | | | | |
| *Ward: 5 | | | Total Assess | sment: | | \$132.17 | |
| *Pending as of: 8/24/2021 | | | This Payme | nt: | | \$0.00 | |
| | | | Current Yea | | | \$0.00 | |
| | | | Current Yea | | | \$0.00 | |
| | | | Payoff Amo | ount: | | \$132.17 | |
| | MORTON'S ADDITION TO THE CITY | Street Sweeping - Res | sidential Stree | | | | |
| 7944 Ewing Ave N | OF ST. PAUL E 1/2 OF LOT 4 AND ALL OF LOT 5 BLK 6 | Citywide Street Light | ing | 0.58 | 60.00 | \$34.80 | |
| Brooklyn Park MN 55443-2806 | OF EOT 3 BER 0 | | | | _ | \$59.40 | |
| *418 NEBRASKA AVE E | | *** Owner and Taxpa | ayer *** | | | | |
| *Ward: 5 | | | Total Assess | sment: | | \$59.40 | |
| *Pending as of: 8/24/2021 | | | This Payme | nt: | | \$0.00 | |
| | | | Current Yea | r Principal: | | \$0.00 | |
| | | | Current Yea | r Interest: | | \$0.00 | |
| | | | Payoff Amo | ount: | | \$59.40 | |
| | MORTON'S ADDITION TO THE CITY | Street Sweeping - Res | sidential Stree | | | | |
| Toua Thao | OF ST. PAUL W 1/2 OF LOT 7 AND | Citywide Street Light | | 0.58 | 60.00 | \$34.80 | 20-27-22-25-0147 |
| 424 Nebraska Ave E | ALL OF LOT 6 BLK 6 | | | | _ | \$59.40 | |
| St Paul MN 55130-3227 | | *** Owner and Taxpa | ayer *** | | | *** | |
| *424 NEBRASKA AVE E | | | Total Assess | sment: | | \$59.40 | |
| *Ward: 5 | | | This Paymen | | | \$0.00 | |
| *Pending as of: 8/24/2021 | | | Current Yea | | | \$0.00 | |
| | | | Current Yea | | | \$0.00 | |
| | | | Payoff Amo | ount: | | \$59.40 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Ratification Date: | Project: 20 Resolution | | Assmt: 210025 | Manager: LMR | Page 17 |
|---------------------------|---------------------------------------------------|-----------------------------------------|---------------------------|--------------|-----------------|--------------|--------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Chang Yang | MORTON'S ADDITION TO THE CITY | Street Sweeping - Res | | 0.41 | 60.00 | \$24.60 | 20-29-22-23-0148 |
| 430 Nebraska Ave E | OF ST. PAUL E 1/2 OF LOT 7 AND ALL OF LOT 8 BLK 6 | Citywide Street Light | ing | 0.58 | 60.00 | \$34.80 | |
| St Paul MN 55130-3227 | | | | | _ | \$59.40 | |
| *430 NEBRASKA AVE E | | *** Owner and Taxpa | ayer *** | | | | |
| *Ward: 5 | | | Total Assess | sment: | | \$59.40 | |
| *Pending as of: 8/24/2021 | | | This Paymer | nt: | | \$0.00 | |
| | | | Current Yea | | | \$0.00 | |
| | | | Current Yea | | | \$0.00 | |
| | | | Payoff Amo | ount: | | \$59.40 | |
| | MORTON'S ADDITION TO THE CITY | Street Sweeping - Res | sidential Stree | | | | 20-29-22-23-0150 |
| 438 Nebraska Ave E | OF ST. PAUL LOT 10 BLK 6 | Citywide Street Light | ing | 0.58 | 40.00 | \$23.20 | |
| St Paul MN 55130-3227 | | | | | _ | \$39.60 | |
| *438 NEBRASKA AVE E | | *** Owner and Taxpa | ayer *** | | | | |
| *Ward: 5 | | | Total Assess | sment: | | \$39.60 | |
| *Pending as of: 8/24/2021 | | | This Paymer | nt: | | \$0.00 | |
| | | | Current Yea | r Principal: | | \$0.00 | |
| | | | Current Yea | r Interest: | | \$0.00 | |
| | | | Payoff Amo | ount: | | \$39.60 | |
| | MORTON'S ADDITION TO THE CITY | Street Sweeping - Res | == == == sidential Stree | | | | |
| 440 Nebraska Ave E | OF ST. PAUL LOT 11 BLK 6 | Citywide Street Light | | 0.58 | 40.00 | \$23.20 | 20-2)-22-23-0131 |
| St Paul MN 55130-3227 | | | | | _ | \$39.60 | |
| *440 NEBRASKA AVE E | | *** Owner and Taxpa | ayer *** | | | | |
| *Ward: 5 | | | Total Assess | sment. | - | \$39.60 | |
| *Pending as of: 8/24/2021 | | | This Paymer | | | \$0.00 | |
| | | | Current Yea | | | \$0.00 | |
| | | | Current Yea | | | \$0.00 | |
| | | | Payoff Amo | ount: | | \$39.60 | |

\$49.50

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Ratification Date: | Project: 20 Resolution | | Assmt: 210025 | Manager: LMR | Page 174 |
|---------------------------|--------------------------------------------------------|------------------------------------------------|---------------------------|-----------|-----------------|--------------|--------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Roberta A Glynn | MORTON'S ADDITION TO THE CITY | Street Sweeping - Res | | 0.41 | 50.00 | \$20.50 | 20-29-22-23-0167 |
| 418 Nevada Ave E | OF ST. PAUL EX E 30 FT; LOT 6 & ALL OF LOT 5 BLK 7 | Citywide Street Light | ting | 0.58 | 50.00 | \$29.00 | |
| St Paul MN 55130-3230 | | | | | | \$49.50 | |
| *418 NEVADA AVE E | | *** Owner and Taxpa | ayer *** | | | | |
| *Ward: 5 | | | Total Assess | ment: | | \$49.50 | |
| *Pending as of: 8/24/2021 | | | This Paymer | nt: | | \$0.00 | |
| | | | Current Yea | - | | \$0.00 | |
| | | | Current Yea | | | \$0.00 | |
| | | | Payoff Amo | ount: | | \$49.50 | |
| Virgina M Jordan | MORTON'S ADDITION TO THE CITY | Street Sweeping - Res | sidential Stree | | | | |
| 422 Nevada Ave E | OF ST. PAUL EX E 20 FT; LOT 7 & E 30 FT OF LOT 6 BLK 7 | Citywide Street Light | ting | 0.58 | 50.00 | \$29.00 | |
| St Paul MN 55130-3230 | FI OF LOT OBLE / | | | | _ | \$49.50 | |
| *422 NEVADA AVE E | | *** Owner and Taxpa | ayer *** | | | | |
| *Ward: 5 | | | Total Assess | sment: | | \$49.50 | |
| *Pending as of: 8/24/2021 | | | This Paymer | \$0.00 | | | |
| | | | Current Yea | \$0.00 | | | |
| | | | Current Yea | \$0.00 | | | |
| | | | Payoff Amo | unt: | | \$49.50 | |
| S & R Consulting Llc | MORTON'S ADDITION TO THE CITY | Street Sweeping - Res | sidential Streε | | | | |
| 1465 Ames Ave | OF ST. PAUL E 10 FT OF LOT 8 & ALL | Citywide Street Light | | 0.58 | 50.00 | \$29.00 | 20-27-22-25-0170 |
| St Paul MN 55106-3528 | OF LOT 9 BLK 7 | | | | _ | \$49.50 | |
| *432 NEVADA AVE E | | *** Owner and Taxpa | ayer *** | | | | |
| *Ward: 5 | | | Total Assess | ment. | - | \$49.50 | |
| *Pending as of: 8/24/2021 | | | This Paymer | | | \$0.00 | |
| | | Current Year Principal: Current Year Interest: | | | | \$0.00 | |
| | | | | | | \$0.00 | |
| | | Payoff Amount: | | | \$49.50 | | |

\$103.95

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by PID (Fee to Asmt) Project: 2021SMSF Ratification Date: Resolution #: | | | Assmt: 210025 | Manager: LMR | Page 176 | |
|-----------------------------------------------|------------------------------------------------------------------------------------------------------------|--------------------------------------------------|---------------|---------------|-----------------|--------------------|------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Feedon Property Solutions Llc Po Box 28856 | MORTON'S ADDITION TO THE CITY OF ST. PAUL E 1/2 OF 19 AND ALL OF LOT 18 BLK 7 | Street Sweeping - Com Citywide Street Lightin | | 1.04 | 60.00 | \$62.40 \$34.80 | 20-29-22-23-0175 |
| Oakdale MN 55128-0856 | | *** 0 1 T | *** | | | \$97.20 | |
| *445 ARLINGTON AVE E | | *** Owner and Taxpay | er *** | | | | |
| *Ward: 5 | | | Total Assessn | nent: | | \$97.20 | |
| *Pending as of: 8/24/2021 | | | This Payment | | | \$0.00 | |
| | | | Current Year | Principal: | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amou | int: | | \$97.20 | |
| Enrique Robinson | MORTON'S ADDITION TO THE CITY | Street Sweeping - Com | | 1.04 | | \$62.40 | |
| 439 Arlington Ave E | OF ST. PAUL W 1/2 OF LOT 19 AND ALL OF LOT 20 BLK 7 | Citywide Street Lightin | ıg | 0.58 | 60.00 | \$34.80 | |
| St Paul MN 55130-3231 | ALL OF LOT 20 BEK / | | | | | \$97.20 | |
| *439 ARLINGTON AVE E | | *** Owner and Taxpay | er *** | | | | |
| *Ward: 5 | | | Total Assessn | nent: | | \$97.20 | |
| *Pending as of: 8/24/2021 | | | This Payment | : | | \$0.00 | |
| | | | Current Year | Principal: | | \$0.00 | |
| | | | Current Year | \$0.00 | | | |
| | | | Payoff Amou | int: | | \$97.20 | |
| | MORTON'S ADDITION TO THE CITY | Street Sweeping - Com | mercial/Art | | | <u> </u> | <u> </u> |
| Sheila Elliott | OF ST. PAUL E 10 FT OF LOT 22 & ALL | Citywide Street Lightin | | 0.58 | 50.00 | \$29.00 | 20-27-22-23-0177 |
| 437 Arlington Ave E | OF LOT 21 BLK 7 | | | | _ | \$81.00 | |
| St Paul MN 55130-3231 | | *** Owner and Taxpay | er *** | | | 40-200 | |
| *437 ARLINGTON AVE E | | | Total Assessn | nent: | - | \$81.00 | |
| *Ward: 5 | | | This Payment | | | \$0.00 | |
| *Pending as of: 8/24/2021 | | | Current Year | | | \$0.00 | |
| | | | Current Year | - | | \$0.00 | |
| | | | Payoff Amou | | | \$81.00 | |

\$68.31

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date | | Project: 2021SMSP Resolution #: | | Assmt: 210025 | Manager: LMR | Page 178 |
|---------------------------|------------------------------------------------------------------------------|-------------------------|------------------------------------|------------------|-----------------|--------------|------------------|
| Owner or Taxpayer | Property Description | Item Description | | <u>Unit Rate</u> | Quantity | Charge Amts | Property ID |
| Khue Thao | MORTON'S ADDITION TO THE CITY | Street Sweeping - Res | sidential Stree | 0.41 | 45.00 | \$18.45 | 20-29-22-23-0186 |
| 1464 Westminster St | OF ST. PAUL ALLEY ACCRUING AS VAC IN CF 260898 & N 9.62 FT OF LOT | Citywide Street Light | ing | 0.58 | 45.00 | \$26.10 | |
| St Paul MN 55130-3105 | 3 & EX N 4.62 FT LOT LOT 2 BLK 8 | | | | _ | \$44.55 | |
| *1464 WESTMINSTER ST | | *** Owner and Taxpa | ayer *** | | | | |
| *Ward: 5 | | | Total Assessr | nent: | | \$44.55 | |
| *Pending as of: 8/24/2021 | | | This Payment | t: | | \$0.00 | |
| | | | Current Year | Principal: | | \$0.00 | |
| | | | Current Year | Interest: | | \$0.00 | |
| | | | Payoff Amou | int: | | \$44.55 | |
| | MORTON'S ADDITION TO THE CITY | | | | | | |
| 1458 Westminster St | OF ST. PAUL ALLEY ACCRUING AS VAC IN CF 260898 & N 14.62 FT OF LOT | Citywide Street Light | ing | 0.58 | 45.00 | \$26.10 | _ |
| St Paul MN 55130-3105 | 4 & EX N 9.62 FT ALL OF LOT 3 BLK | | | | _ | \$44.55 | |
| *1458 WESTMINSTER ST | 8 | *** Owner and Taxpa | ayer *** | | | | |
| *Ward: 5 | | | Total Assessr | nent: | - | \$44.55 | |
| *Pending as of: 8/24/2021 | | | This Payment | t: | | \$0.00 | |
| | | | | \$0.00 | | | |
| | | Current Year Interest: | | | | | |
| | | | Payoff Amou | ınt: | | \$44.55 | |
| | MORTON'S ADDITION TO THE CITY | Street Sweeping - Res | | | | | |
| 1454 Westminster St | OF ST. PAUL WITH ALLEY | Citywide Street Light | | 0.58 | 45.00 | \$26.10 | 20-27-22-23-0100 |
| St Paul MN 55130-3105 | ACCRUING AS VAC IN 260893; EX N 14.62 FT LOT 4 & N 19.62 FT OF LOT 5 | | | | = | \$44.55 | |
| *1454 WESTMINSTER ST | BLK 8 | *** Owner and Taxpa | ayer *** | | | 4 | |
| *Ward: 5 | | | Total Assessr | nent: | - | \$44.55 | |
| *Pending as of: 8/24/2021 | | | This Payment | | | \$0.00 | |
| | | Current Year Principal: | | | | \$0.00 | |
| | | Current Year Interest: | | | | \$0.00 | |
| | | | Payoff Amou | ınt: | | \$44.55 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by P | ID (Fee to Asmt) Project: 2021SMSP Ratification Date: Resolution #: | | | Assmt: 210025 | Manager: LMR | Page 179 |
|------------------------------------------------------------------------------|---------------------------------------------------------------------------------------------------------------------|-----------------------------------------------------------------------------|-----------------------------------------------------------------------------------------------|------------------------------------|----------------------------|--------------------------------------------------------|------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Trautz Park Vista Llc 4949 France Ave S Suite 216 Minneapolis MN 55410 | MORTON'S ADDITION TO THE CITY OF ST. PAUL SUBJ TO ESMTS & VAC ST & ALLEYS ACCRUING THE FOL LOTS 8 THRU LOT 31 BLK 8 | Street Sweeping - Com Street Sweeping - Resid Citywide Street Lightin | dential Stree | 1.04 0.41 0.58 | 484.00 299.00 783.00 | \$503.36 \$122.59 \$454.14 | 20-29-22-23-0191 |
| *355 ARLINGTON AVE E *Ward: 5 | | *** Owner and Taxpay | /er *** | | _ | \$1,080.09 | |
| *Pending as of: 8/24/2021 | | | Total Assess This Paymer Current Year Current Year Payoff Amo | nt: r Principal: r Interest: | | \$1,080.09 \$0.00 \$0.00 \$0.00 \$1,080.09 | |
| Marc L Wade Tia Y Wade 1477 Arkwright St B St Paul MN 55130-3145 | NEVADA PLACE COMMON AREA INTEREST IN LOT 1 BLK 1 ATTRIBUTABLE TO LOT 2 BLK 7 & LOT 7 BLK 2 | Street Sweeping - Residence Citywide Street Lighting *** Owner and Taxpay | ng | 0.41 0.58 | 4.35 | \$1.78 \$2.52 \$4.30 | 20-29-22-23-0192 |
| *1477 ARKWRIGHT ST B *Ward: 5 *Pending as of: 8/24/2021 | | | Total Assessment: This Payment: Current Year Principal: Current Year Interest: Payoff Amount: | | | | |
| Chad Buechler 449 Nevada Ave E St Paul MN 55130-3229 *449 NEVADA AVE E | MORTON'S ADDITION TO THE CITY OF ST. PAUL LOT 18 BLK 6 | Street Sweeping - Residence Citywide Street Lighting | ng | 0.41 0.58 | 40.00 | \$16.40 \$23.20 \$39.60 | 20-29-22-23-0194 |
| *Ward: 5 *Pending as of: 8/24/2021 | | | Total Assessment: This Payment: Current Year Principal: Current Year Interest: Payoff Amount: | | | \$39.60 \$0.00 \$0.00 \$0.00 \$39.60 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by l | PID (Fee to Asmt) Ratification Date: | Project: 2021 Resolution # | | Assmt: 210025 | Manager: LMR | Page 180 |
|---------------------------|---------------------------------------------------------|--------------------------------------|-------------------------------|------------|-----------------|--------------|--------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Windell N Weathered | NEVADA PLACE COMMON AREA | Street Sweeping - Res | | 0.41 | 4.35 | \$1.78 | 20-29-22-23-0195 |
| 1477 Arkwright St Unit A | INTEREST IN LOT 1 BLK 1 ATTRIBUTABLE TO & LOT 1 BLK 7 & | Citywide Street Lighti | ing | 0.58 | 4.35 | \$2.52 | |
| St Paul MN 55130-3145 | LOT 8 BLK 2 | | | | _ | \$4.30 | |
| *1477 ARKWRIGHT ST A | | *** Owner and Taxpa | yer *** | | | | |
| *Ward: 5 | | | Total Assessm | ent: | | \$4.30 | |
| *Pending as of: 8/24/2021 | | | This Payment: | | | \$0.00 | |
| | | | Current Year I | - | | \$0.00 | |
| | | | Current Year I | | | \$0.00 | |
| | | | Payoff Amoun | nt: | | \$4.30 | |
| | NEVADA PLACE COMMON AREA | Street Sweeping - Res | idential Stree | 0.41 | | | 20-29-22-23-0198 |
| 1477 Arkwright St Unit C | INTEREST IN LOT 1 BLK 1 | Citywide Street Lighti | ing | 0.58 | 4.35 | \$2.52 | 20 23 22 20 0230 |
| St Paul MN 55130-3145 | ATTRIBUTABLE TO & LOT 6 BLK 2 & LOT 3 BLK 7 | | | | _ | \$4.30 | |
| *1477 ARKWRIGHT ST C | | *** Owner and Taxpa | yer *** | | | | |
| *Ward: 5 | | | Total Assessm | nent: | • | \$4.30 | |
| *Pending as of: 8/24/2021 | | | This Payment: | | | \$0.00 | |
| | | | Current Year I | Principal: | | \$0.00 | |
| | | | Current Year Interest: | | | \$0.00 | |
| | | | Payoff Amoun | nt: | | \$4.30 | |
| | MORTON'S ADDITION TO THE CITY | Street Sweeping - Res | idential Stree | | — — — — | | |
| Cheryl Dooley | OF ST. PAUL SUBJ TO ST; VAC ALLEY | Citywide Street Lighti | | 0.58 | 67.00 | \$38.86 | 20-27-22-23-0177 |
| 2808 89th Ln Ne | ACCRUING & N 59.98 FT OF LOTS 20 THRU LOT 22 BLK 1 | | | | _ | \$66.33 | |
| Blaine MN 55449-5651 | | *** Owner and Taxpa | yer *** | | | 400.00 | |
| *1541 ARKWRIGHT ST | | | Total Assessm | ent: | - | \$66.33 | |
| *Ward: 5 | | | This Payment: | | | \$0.00 | |
| *Pending as of: 8/24/2021 | | | Current Year I | | | \$0.00 | |
| | | | Current Year I | | | \$0.00 | |
| | | | Payoff Amoun | nt: | | \$66.33 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date: | | Project: 2021SMSP Resolution #: | | Assmt: 210025 | Manager: LMR | Page 181 |
|---------------------------|-----------------------------------------------------------------------------|--------------------------|------------------------------------|------------|-----------------|--------------|------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Nancy Hang Yang | MORTON'S ADDITION TO THE CITY | Street Sweeping - Resid | lential Stree | 0.41 | 68.00 | \$27.88 | 20-29-22-23-0200 |
| Thomas Sydang Yang | OF ST. PAUL SUBJ TO ST; & EX N 59.98 FT THE FOL; LOTS 20 THRU LOT 22 | Citywide Street Lighting | g | 0.58 | 68.00 | \$39.44 | |
| 1535 Arkwright St | BLK 1 | | | | _ | \$67.32 | |
| St Paul MN 55130-3140 | | *** Owner and Taxpaye | er *** | | | | |
| *1535 ARKWRIGHT ST | | | Total Assessm | nent: | | \$67.32 | |
| *Ward: 5 | | | This Payment | : | | \$0.00 | |
| *Pending as of: 8/24/2021 | | | Current Year | Principal: | | \$0.00 | |
| | | | Current Year | Interest: | | \$0.00 | |
| | | | Payoff Amou | nt: | | \$67.32 | |
| Deatrice Deshun Williams | MORTON'S ADDITION TO THE CITY | Street Sweeping - Resid | lential Streε | | | | <u> </u> |
| 383 Nebraska Ave E | OF ST. PAUL LOT 23 BLK 4 | Citywide Street Lighting | g | 0.58 | 40.00 | \$23.20 | |
| St Paul MN 55130-3117 | | | | | _ | \$39.60 | |
| *383 NEBRASKA AVE E | | *** Owner and Taxpaye | er *** | | | | |
| *Ward: 5 | | | Total Assessm | nent: | - | \$39.60 | |
| *Pending as of: 8/24/2021 | | This Payment: | | | | \$0.00 | |
| | | | Current Year | Principal: | | \$0.00 | |
| | | | Current Year | Interest: | | \$0.00 | |
| | | | Payoff Amou | nt: | | \$39.60 | |
| | NEVADA PLACE COMMON INTEREST | | lential Stree | | | | <u> </u> |
| 1536 Alameda St | IN LOT 1 BLK 1 ATTRIBUTABLE TO & | Citywide Street Lighting | | 0.58 | 4.35 | \$2.52 | 20-27-22-23-0203 |
| St Paul MN 55117-3432 | LOT 4 BLK 2 & LOT 5 BLK 7 | | | | = | \$4.30 | |
| *1477 ARKWRIGHT ST | | *** Owner and Taxpaye | er *** | | | | |
| *Ward: 5 | | | Total Assessm | nent: | | \$4.30 | |
| *Pending as of: 8/24/2021 | | | This Payment: | | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Current Year | _ | | \$0.00 | |
| | | | Payoff Amou | nt: | | \$4.30 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Ratification Date: | Project: 202 | | Assmt: 210025 | Manager: LMR | Page 182 |
|------------------------------------|-----------------------------------------------------------------------|--------------------------------------|---------------|------------|-----------------|--------------|------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| 387 East Arlington Llc | MORTON'S ADDITION TO THE CITY | Street Sweeping - Resi | | 0.41 | 30.00 | \$12.30 | 20-29-22-23-0208 |
| Co Thomas P Hurley | OF ST. PAUL N 1/2 OF VAC NEVADA AVE LYING BET EXT EL OF BLK 5 & | Citywide Street Lightin | ng | 0.58 | 30.00 | \$17.40 | |
| 844 Grand Ave Suite 4 | EXT CL OF N S ALLEY IN SD BLK 5 | | | | | \$29.70 | |
| St Paul MN 55105-3376 | | *** Owner and Taxpa | yer *** | | | | |
| *1471 ARKWRIGHT ST | | | Total Assess | ment: | | \$29.70 | |
| *Ward: 5 *Pending as of: 8/24/2021 | | | This Paymen | | | \$0.00 | |
| Fending as 01: 8/24/2021 | | | Current Year | _ | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$29.70 | |
| | MORTON'S ADDITION TO THE CITY | Street Sweeping - Com | mercial/Art | 1.04 | 60.00 | \$62.40 | |
| 2152 Suburban Ave | OF ST. PAUL VAC DESOTO ST WLY OF FOL DESC LINE;COM AT NE COR OF | Citywide Street Lightin | ng | 0.58 | 60.00 | \$34.80 | |
| St Paul MN 55119-4612 | LOT 26 BLK 3 FARRARS ADD TH W | | | | | \$97.20 | |
| *457 ARLINGTON AVE E | ON NL OF LOTS 25 & 26 & WLY EXT 59.38 FT TO PT OF BEG TH SLY TO PT | *** Owner and Taxpa | yer *** | | | | |
| DUPLEX | | | Total Assess | ment: | | \$97.20 | |
| *Ward: 5 | | | This Paymen | t: | | \$0.00 | |
| *Pending as of: 8/24/2021 | | | Current Year | Principal: | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$97.20 | |
| Cher Zang Yang | MORTON'S ADDITION TO THE CITY | Street Sweeping - Resi | dential Stree | | | | |
| Lee Christina Xiong | OF ST. PAUL THE E 10 FT OF LOT 28 & ALL OF LOT 27 BLK 3 | Alley Sweeping | | 0.14 | 50.00 | \$7.00 | |
| 411 Nebraska Ave E | ALL OF LOT 27 BLK 3 | Citywide Street Lightin | ng | 0.58 | 50.00 | \$29.00 | |
| St Paul MN 55130-3226 | | | | | | \$56.50 | |
| *411 NEBRASKA AVE E | | *** Owner and Taxpa | yer *** | | _ | | |
| *Ward: 5 | | | Total Assess | ment: | | \$56.50 | |
| *Pending as of: 8/24/2021 | | | This Paymen | | | \$0.00 | |
| | | | Current Year | _ | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$56.50 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by I | PID (Fee to Asmt) Ratification Date: | Project: 202 Resolution | | Assmt: 210025 | Manager: LMR | Page 183 |
|---------------------------|-------------------------------------------------------------------|-----------------------------------------|----------------------------|--------------|-----------------|--------------|------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| William Mcdermott | MORTON'S ADDITION TO THE CITY | Street Sweeping - Res | idential Stree | 0.41 | 118.50 | \$48.59 | 20-29-22-23-0213 |
| Kathleen Mcdermott | OF ST. PAUL EX E 10 FT; LOT 28 & ALL OF LOTS 29 & LOT 30 BLK 3 | Alley Sweeping | | 0.14 | 110.00 | \$15.40 | |
| 405 Nebraska Ave E | ALL OF LOTS 29 & LOT 30 BLK 3 | Citywide Street Light | ing | 0.58 | 118.50 | \$68.73 | |
| St Paul MN 55130-3226 | | | | | | \$132.72 | |
| *405 NEBRASKA AVE E | | *** Owner and Taxpa | yer *** | | | | |
| *Ward: 5 | | | Total Assess | ment: | - | \$132.72 | |
| *Pending as of: 8/24/2021 | | | This Paymer | nt: | | \$0.00 | |
| | | | Current Year | r Principal: | | \$0.00 | |
| | | | Current Year | r Interest: | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$132.72 | |
| Windell N Weathered | NEVADA PLACE COMMON AREA | Street Sweeping - Res | idential Stree | | | | |
| Susan A Paul | INTEREST IN LOT 1 BLK 1 | Citywide Street Light | | 0.58 | 4.35 | \$2.52 | 20-29-22-23-0215 |
| 1477 Arkwright St Unit A | ATTRIBUTABLE TO & LOTS 4,5 & LOT 6 BLK 6 | , 5 | 8 | | _ | \$4.30 | |
| St Paul MN 55130-3145 | 0 BLK 0 | *** Owner and Taxpa | yer *** | | | ψτ.30 | |
| *0 ARKWRIGHT ST | | | Total Assess | ment: | - | \$4.30 | |
| *Ward: 5 | | | This Paymer | nt: | | \$0.00 | |
| *Pending as of: 8/24/2021 | | | Current Year | r Principal: | | \$0.00 | |
| | | | Current Year | r Interest: | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$4.30 | |
| Roxanne Williams | WESTMINSTER COTTAGES LOT 1 BLK | Street Sweeping - Res | idential Stree | | 94.50 | | |
| 1558 Westminster St | 1 | Citywide Street Light | | 0.58 | 94.50 | \$54.81 | 20-29-22-23-0229 |
| St Paul MN 55130-3108 | | , 5 | 8 | | _ | \$93.56 | |
| *1558 WESTMINSTER ST | | *** Owner and Taxpa | yer *** | | | \$93.30 | |
| *Ward: 5 | | | Total Assess | ment: | | \$93.56 | |
| *Pending as of: 8/24/2021 | | | This Paymer | nt: | | \$0.00 | |
| | | | Current Year | r Principal: | | \$0.00 | |
| | | | Current Year | r Interest: | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$93.56 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by I | PID (Fee to Asmt) Ratification Date: | Project: 20 Resolution | | Assmt: 210025 | Manager: LMR | Page 184 |
|----------------------------------|-----------------------------------------|-----------------------------------------|---------------------------|-------------|----------------------------------------|--------------|--------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Joseph Card | WESTMINSTER COTTAGES LOT 2 BLK | Street Sweeping - Res | | 0.41 | 49.00 | \$20.09 | 20-29-22-23-0230 |
| 644 Brookside Ln | 1 | Citywide Street Light | ing | 0.58 | 49.00 | \$28.42 | |
| Mendota Heights MN 55118-2817 | | *** O 1 T | *** | | | \$48.51 | |
| *1552 WESTMINSTER ST *Ward: 5 | | *** Owner and Taxpa | | | - | | |
| *Pending as of: 8/24/2021 | | | Total Assess | | | \$48.51 | |
| Feliding as 01. 8/24/2021 | | | This Paymer | | | \$0.00 | |
| | | | Current Yea | - | | \$0.00 | |
| | | | Current Yea | | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$48.51 | |
| | WESTMINSTER COTTAGES LOT 5 BLK | Street Sweeping - Res | idential Stree | | —————————————————————————————————————— | \$20.09 | |
| Danny Vo | 1 | Citywide Street Light | ing | 0.58 | 49.00 | \$28.42 | |
| 7675 Nature Path | | | | | | \$48.51 | |
| Woodbury MN 55125-7722 | | *** Owner and Taxpa | ayer *** | | | | |
| *1536 WESTMINSTER ST | | | Total Assess | ment: | | \$48.51 | |
| *Ward: 5 | | This Payment: Current Year Principal: | | | | \$0.00 | |
| *Pending as of: 8/24/2021 | | | | | | \$0.00 | |
| | | | Current Yea | r Interest: | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$48.51 | |
| Larkin Street Homes Llc | WESTMINSTER COTTAGES LOT 6 BLK | | sidential Stree | | | | |
| 300 Montgomery St Suite 1200 | 1 | Citywide Street Light | | 0.58 | 49.00 | \$28.42 | 20-2)-22-23-023- |
| San Francisco CA 94104-1914 | | | | | _ | \$48.51 | |
| *1532 WESTMINSTER ST | | *** Owner and Taxpa | ayer *** | | | | |
| *Ward: 5 | | | Total Assess | ment: | | \$48.51 | |
| *Pending as of: 8/24/2021 | | | This Paymer | | | \$0.00 | |
| | | | Current Yea | | | \$0.00 | |
| | | | Current Yea | - | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$48.51 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by I | PID (Fee to Asmt) Ratification Date: | Project: 202 | | Assmt: 210025 | Manager: LMR | Page 185 |
|---------------------------------------------|--------------------------------------------------------------------------------------|------------------------------------------------|-----------------------------|--------------|-----------------|----------------------------|------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Gloria Penaloza Paula Ruiz Depenaloza | MORTON'S ADDITION TO THE CITY OF ST. PAUL EX E 20 FT OF LOT 14 & ALL OF LOT 13 BLK 5 | Street Sweeping - Res Citywide Street Light | | 0.41 | 60.00 | \$24.60 \$34.80 | 20-29-22-23-0237 |
| 374 Nebraska Ave E St Paul MN 55130-3118 | | *** Owner and Taxpa | nyer *** | | | \$59.40 | |
| *374 NEBRASKA AVE E *Ward: 5 | | 1 | Total Assessi | | | \$59.40 | |
| *Pending as of: 8/24/2021 | | | This Paymen Current Year | Principal: | | \$0.00 \$0.00 | |
| | | | Current Year Payoff Amou | | | \$0.00 \$59.40 | |
| Sergio Aranda Cherie Aranda | MORTON'S ADDITION TO THE CITY OF ST. PAUL E 20 FT OF LOT 14 & EX | Street Sweeping - Res | | 0.41 0.58 | 50.00 50.00 | \$20.50 \$29.00 | |
| 378 Nebraska Ave E St Paul MN 55130-3118 | EAST 10 FT; LOT 15 BLK 5 | *** Owner and Taxpa | nyer *** | | _ | \$49.50 | |
| *378 NEBRASKA AVE E *Ward: 5 | | Total Assessment: This Payment: | | | | \$49.50 \$0.00 | |
| *Pending as of: 8/24/2021 | | | Current Year | Principal: | | \$0.00 \$0.00 \$0.00 | |
| | | | Payoff Amou | | | \$49.50 | |
| | MORTON'S ADDITION TO THE CITY | Street Sweeping - Res | | | | | 20-29-22-23-0239 |
| 384 Nebraska Ave E St Paul MN 55130-3118 | OF ST. PAUL THE E 10 FT OF LOT 15 & ALL OF LOT 16 BLK 5 | Citywide Street Light | | 0.58 | 50.00 | \$29.00 | 20-27-22-23-0237 |
| *384 NEBRASKA AVE E | | *** Owner and Taxpa | nyer *** | | | \$49.50 | |
| *Ward: 5 *Pending as of: 8/24/2021 | | | Total Assessi | | | \$49.50 | |
| 1 Cliding as 01. 8/24/2021 | | | This Paymen | | | \$0.00 | |
| | | | Current Year Current Year | • | | \$0.00 \$0.00 | |
| | | | Payoff Amou | | | \$49.50 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Ratification Date: | Project: 202 Resolution # | | Assmt: 210025 | Manager: LMR | Page 186 |
|---------------------------|---------------------------------------------------------------|--------------------------------------|---------------------------|------------------|----------------------|--------------|-------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Abu K Ahmed | MORTON'S ADDITION TO THE CITY | Street Sweeping - Resid | dential Stree | 0.41 | 41.00 | \$16.81 | 20-29-22-23-0241 |
| Hamzia K Nebi | OF ST. PAUL LOT 24 AND THE E 1.25 FT OF LOT 25 BLK 4 | Citywide Street Lightin | ng | 0.58 | 41.00 | \$23.78 | |
| 379 Nebraska Ave E | | | | | | \$40.59 | |
| St Paul MN 55130-3117 | | *** Owner and Taxpay | /er *** | | | | |
| *379 NEBRASKA AVE E | | | Total Assessr | ment: | | \$40.59 | |
| *Ward: 5 | | | This Payment | t: | | \$0.00 | |
| *Pending as of: 8/24/2021 | | | Current Year | Principal: | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amou | ınt: | | \$40.59 | |
| | MORTON'S ADDITION TO THE CITY | Street Sweeping - Resid | — — — — dential Stree | | | | |
| Mai Chia Her | OF ST. PAUL LOT 26 BLK 4 | Citywide Street Lightin | | 0.58 | 40.00 | \$23.20 | 20 27 22 20 02 10 |
| 371 Nebraska Ave E | | | | | _ | \$39.60 | |
| St Paul MN 55130-3117 | | *** Owner and Taxpay | /er *** | | | | |
| *371 NEBRASKA AVE E | | | Total Assessr | nent: | | \$39.60 | |
| *Ward: 5 | | | This Payment | t: | | \$0.00 | |
| *Pending as of: 8/24/2021 | | | Current Year | Principal: | | \$0.00 | |
| | | | Current Year | Interest: | | \$0.00 | |
| | | | Payoff Amou | ınt: | | \$39.60 | |
| Ayarie A Songyoung | MORTON'S ADDITION TO THE CITY | Street Sweeping - Resid | — — — – dential Stree | | — — 70.00 | | |
| 421 Nebraska Ave E | OF ST. PAUL EX THE E 10 FT OF LOT 24 & ALL OF LOT 25 BLK 3 | Alley Sweeping | | 0.14 | 70.00 | \$9.80 | |
| St Paul MN 55130-3226 | 24 & ALL OF LOT 25 BLK 3 | Citywide Street Lightin | ng | 0.58 | 70.00 | \$40.60 | |
| *421 NEBRASKA AVE E | | | | | _ | \$79.10 | |
| *Ward: 5 | | *** Owner and Taxpay | er *** | | | | |
| *Pending as of: 8/24/2021 | | | Total Assessr | ment: | | \$79.10 | |
| | | | This Payment | t: | | \$0.00 | |
| | | | Current Year | Principal: | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amou | ınt: | | \$79.10 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date: | | Project: 202 Resolution # | | Assmt: 210025 | Manager: LMR | Page 187 |
|---------------------------------------------|----------------------------------------------------------------------------|--------------------------|------------------------------|-----------|-----------------|-------------------|------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Hieu Vo Cuong Nguyen | MORTON'S ADDITION TO THE CITY OF ST. PAUL THE E 10 FT OF LOT 24 & | Street Sweeping - Resid | | 0.41 | 50.00 | \$20.50 \$7.00 | 20-29-22-23-0245 |
| 2479 Hamline Ave N | ALL OF LOT 23 BLK 3 | Citywide Street Lighting | g | 0.58 | 50.00 | \$29.00 | |
| Roseville MN 55113-3104 *427 NEBRASKA AVE E | | *** Owner and Taxpaye | er *** | | | \$56.50 | |
| *Ward: 5 | | | Total Assessr | ment: | | \$56.50 | |
| *Pending as of: 8/24/2021 | | | This Payment | | | \$0.00 | |
| | | | Current Year | _ | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amou | int: | | \$56.50 | |
| | NEVADA PLACE COMMON AREA | Street Sweeping - Resid | | | | | |
| 1477 Arkwright St Unit D | INTEREST IN LOT 1 BLK 1 ATTRIBUTABLE TO & LOT 5 BLK 2 | Citywide Street Lighting | g | 0.58 | 4.35 | \$2.52 | |
| St Paul MN 55130-2010 | AND LOT 4 BLK 7 | | | | _ | \$4.30 | |
| *1477 ARKWRIGHT ST | | *** Owner and Taxpaye | er *** | | | | |
| *Ward: 5 | | | Total Assessr | nent: | | \$4.30 | |
| *Pending as of: 8/24/2021 | | This Payment: | | | | \$0.00 | |
| | | | Current Year Principal: | | • | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amou | int: | | \$4.30 | |
| | MORTON'S ADDITION TO THE CITY | Street Sweeping - Resid | | 0.41 | | | 20-29-22-23-0247 |
| Junxia Li | OF ST. PAUL VAC ALLEY ACCRUING | Citywide Street Lighting | g | 0.58 | 28.00 | \$16.24 | 20 27 22 20 0217 |
| 11536 Dunkirk Ct Ne | & FOL; EX S 3 FT LYING E OF W 16.5 FT OF LOT 16; VAC HOYT AVE ADJ TO | | | | _ | \$27.72 | |
| Blaine MN 55449-6788 | LOTS 15 THRU LOT 19 & EX RR R/W; | *** Owner and Taxpaye | er *** | | | | |
| *1559 ARKWRIGHT ST | LOTS 13 THRU LOT 15 & W 16.5 FT OF | | Total Assessr | nent: | - | \$27.72 | |
| *Ward: 5 | | | This Payment | t: | | \$0.00 | |
| *Pending as of: 8/24/2021 | | | Current Year Principal: | | | | |
| | | | Current Year | Interest: | | \$0.00 | |
| | | | Payoff Amou | ınt: | | \$27.72 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by l | PID (Fee to Asmt) Ratification Date: | Project: 202 Resolution | | Assmt: 210025 | Manager: LMR | Page 188 |
|-----------------------------------------------|------------------------------------------------------------------------------------------------------------------------------------------------|------------------------------------------------------|----------------------------|--------------|-----------------|--------------------|--------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| World Mission Prayer League Co Jeff Dahl | MORTON'S ADDITION TO THE CITY OF ST. PAUL S 3 FT LYING E OF W 16.5 | Street Sweeping - Residence Citywide Street Lighting | | 0.41 | 70.00 70.00 | \$28.70 \$40.60 | 20-29-22-23-0248 |
| 232 Clifton Ave Minneapolis MN 55403-3466 | FT OF LOT 16 OF VAC HOYT AVE ADJ TO LOTS 16 THRU LOT 19 & EX W 16.5 FT;N 67.49 FT OF LOT 16 & EX E 10 FT; N 67.49 FT OF LOT 19 & N 67.49 FT OF | *** Owner and Taxpaye | er *** | | _ | \$69.30 | |
| *1555 ARKWRIGHT ST | Non-11 of Bot 17 a Non-17 of | | Total Assess | ment: | - | \$69.30 | |
| *Ward: 5 | | | This Paymer | nt: | | \$0.00 | |
| *Pending as of: 8/24/2021 | | | Current Year | r Principal: | | \$0.00 | |
| | | | Current Year | r Interest: | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$69.30 | |
| | | | | | | | |
| Xue Vang | MORTON'S ADDITION TO THE CITY OF ST. PAUL LOT 19 BLK 3 | Street Sweeping - Resident Alley Sweeping | ential Stree | 0.41 0.14 | 40.00 40.00 | \$16.40 \$5.60 | 20-29-22-23-0249 |
| Mo Vue | | Citywide Street Lighting | or | 0.14 | 40.00 | \$23.20 | |
| 445 Nebraska Ave E St Paul MN 55130-3226 | | City wide buleet Eighting | > | 0.50 | = | \$45.20 | |
| *445 NEBRASKA AVE E | | *** Owner and Taxpaye | er *** | | | \$45.20 | |
| *Ward: 5 | | | Total Assess | ment: | - | \$45.20 | |
| *Pending as of: 8/24/2021 | | | This Paymer | nt: | | \$0.00 | |
| | | | Current Year | r Principal: | | \$0.00 | |
| | | | Current Year Interest: | | \$0.00 | | |
| | | | Payoff Amo | unt: | | \$45.20 | |
| | | | | | | | |
| International Home And Office Llc | GOTHIER'S ADDITION NO. 2 SUBJ TO ESMT LOT 4 BLK 2 | Street Sweeping - Residence Citywide Street Lighting | | 0.41 0.58 | 80.00 80.00 | \$32.80 \$46.40 | 20-29-22-24-0003 |
| 1861 South Ln | | Citywide Street Lighting | 3 | 0.36 | 80.00 | | |
| Mendota Heights MN 55118-4346 *504 HOYT AVE E | | *** Owner and Taxpaye | er *** | | | \$79.20 | |
| *Ward: 5 | | | Total Assess | ment: | | \$79.20 | |
| *Pending as of: 8/24/2021 | | | This Paymer | | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Current Year | r Interest: | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$79.20 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Ratification Date: | Project: 20 Resolution | | Assmt: 210025 | Manager: LMR | Page 189 |
|-----------------------------------------------|---------------------------------------------------------------------------|--------------------------------------|---------------------------|--------------|--------------------------|---------------------------|------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Emily J Merhar | GOTHIER'S ADDITION NO. 2 LOT 7 | Street Sweeping - Con | | 1.04 | 92.00 | \$95.68 | 20-29-22-24-0004 |
| Zachary Bramel | BLK 2 | Citywide Street Lighti | ng | 0.58 | 92.00 | \$53.36 | |
| 491 Wheelock Pky E | | *** 0 1.5 | | | | \$149.04 | |
| St Paul MN 55130-3220 | | *** Owner and Taxpa | yer *** | | _ | | |
| *491 WHEELOCK PKWY E *Ward: 5 | | | Total Assess | sment: | | \$149.04 | |
| *Pending as of: 8/24/2021 | | | This Paymer | | | \$0.00 | |
| 1 chang as 01. 6/24/2021 | | | Current Yea | • | | \$0.00 | |
| | | | Current Yea | | | \$0.00 \$149.04 | |
| | | | Payoff Amo | ount. | | \$142.04 | |
| — — — — — — — — Emerald Holdings Llc | GOTHIER'S ADDITION NO. 2 SUBJ TO | Street Sweeping - Con | mercial/Art | | — — — — 87.00 | | |
| 9500 Wedgewood Dr | ESMTS LOTS 3 AND LOT 8 BLK 2 | Street Sweeping - Res | idential Stree | 0.41 | 75.00 | \$30.75 | 20 27 22 21 0000 |
| Woodbury MN 55125-9306 | | Citywide Street Lighti | ng | 0.58 | 162.00 | \$93.96 | |
| *510 HOYT AVE E | | | | | _ | \$215.19 | |
| *Ward: 5 | | *** Owner and Taxpa | yer *** | | | | |
| *Pending as of: 8/24/2021 | | | Total Assess | sment: | | \$215.19 | |
| | | | This Paymer | nt: | | \$0.00 | |
| | | | Current Yea | | | \$0.00 | |
| | | | Current Yea | | | \$0.00 | |
| | | | Payoff Amo | ount: | | \$215.19 | |
| | SECTION 20 TOWN 29 RANGE 22 | Street Sweeping - Con | nmercial/Art | 1.04 | — — | | 20-29-22-24-0007 |
| Po Box 50830 | MOST SLY PART OF LOT 2 BLK 2 GOTHIERS ADD NO 2 MEASURING | Citywide Street Lighti | ng | 0.58 | 77.00 | \$44.66 | |
| Mendota MN 55150-0830 *505 WHEELOCK PKWY E | 117 2/10 FT ON W L 122 7/10 FT ON E L AND 10 67/100 FT ON PKWY ALSO EX | *** Owner and Taxpa | yer *** | | _ | \$124.74 | |
| *Ward: 5 | N 71 FT PART OF SE 1/4 OF NW 1/4 | | Total Assess | sment: | - | \$124.74 | |
| *Pending as of: 8/24/2021 | | | This Paymer | nt: | | \$0.00 | |
| | | | Current Yea | r Principal: | pal: | \$0.00 | |
| | | | Current Yea | | | \$0.00 | |
| | | | Payoff Amo | ount: | | \$124.74 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Ratification Date: | Project: 20 Resolution | | Assmt: 210025 | Manager: LMR | Page 19 |
|---------------------------|-----------------------------------------------------------------------------|-----------------------------------------|---------------------------|------------------|-----------------|--------------|--------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Mark J Guertin | SECTION 20 TOWN 29 RANGE 22 COM | Street Sweeping - Co | mmercial/Art | 1.04 | 54.00 | \$56.16 | 20-29-22-24-0012 |
| 525 Wheelock Pky E | AT SE COR OF W 827.2 FT OF N 790.24 FT OF SE1/4 OF NW1/4 TH N727 FT TH | Citywide Street Light | ting | 0.58 | 54.00 | \$31.32 | |
| St Paul MN 55130-3222 | N 52 DEG 45 MIN W 36 FT TH S 35 DEG | | | | _ | \$87.48 | |
| *525 WHEELOCK PKWY E | 45 MIN W 203.34 FT FOR PT OF BEG TH W 41.55 FT HT S 8 DEG 40 MIN W 122.7 | *** Owner and Taxp | ayer *** | | | | |
| *Ward: 5 | | | Total Assess | sment: | | \$87.48 | |
| *Pending as of: 8/24/2021 | | | This Paymer | nt: | | \$0.00 | |
| | | | Current Year | r Principal: | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$87.48 | |
| | SECTION 20 TOWN 29 RANGE 22 SUBJ | | mmercial/Art | | | | |
| 1531 Edgerton St | TO ST AND RD AND EX N 240 FT | Citywide Street Light | ting | 0.58 | 60.00 | \$34.80 | 20 22 22 21 0010 |
| St Paul MN 55130-3202 | PART OF E 183 FT OF SE 1/4 OF NW 1/4 NELY OF CL OF SD ROAD IN SEC 20 | | | | _ | \$97.20 | |
| *1531 EDGERTON ST | TN 29 RN 22 | *** Owner and Taxp | ayer *** | | | | |
| *Ward: 5 | | | Total Assess | ment: | - | \$97.20 | |
| *Pending as of: 8/24/2021 | | | This Paymer | nt: | | \$0.00 | |
| | | | Current Year | r Principal: | | \$0.00 | |
| | | | Current Year | r Interest: | | \$0.00 | |
| | | | Payoff Amo | ount: | | \$97.20 | |
| | SECTION 20 TOWN 29 RANGE 22 S 25 | Street Sweeping - Co | mmercial/Art | | | | |
| 1551 Edgerton St | FT OF N 105 FT OF E 155 FT OF SE 1/4 | Citywide Street Light | | 0.58 | 60.00 | \$34.80 | 20-27-22-24-0010 |
| St Paul MN 55130-3202 | OF NW 1/4 AND S 35 FT OF N 140 FT OF E 158 FT OF SD 1/4 1/4 (SUBJ TO ST) | | | | = | \$97.20 | |
| *1551 EDGERTON ST | IN SEC 20 TN 29 RN 22 | *** Owner and Taxp | ayer *** | | | | |
| *Ward: 5 | | | Total Assess | ment: | | \$97.20 | |
| *Pending as of: 8/24/2021 | | | This Paymer | | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Current Year | r Interest: | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$97.20 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Ratification Date: | Project: 202 Resolution | | Assmt: 210025 | Manager: LMR | Page 191 |
|-----------------------------------------------|-----------------------------------------------------------------------------|--------------------------------------|-------------------------|------------------|-----------------|--------------|------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Andra L Samuels | SECTION 20 TOWN 29 RANGE 22 SUBJ | Street Sweeping - Com | mercial/Art | 1.04 | 40.00 | \$41.60 | 20-29-22-24-0020 |
| Tydon R Samuels | TO ST, THE S 40 FT OF N 240 FT OF E 205 FT OF SE 1/4 OF NW 1/4 OF SEC 20 | Citywide Street Lighting | g | 0.58 | 40.00 | \$23.20 | |
| 1535 Edgerton St | TN 29 RN 22 | | | | _ | \$64.80 | |
| St Paul MN 55130-3202 | | *** Owner and Taxpay | er *** | | | | |
| *1535 EDGERTON ST | | | Total Assessi | ment: | | \$64.80 | |
| *Ward: 5 | | | This Paymen | t: | | \$0.00 | |
| *Pending as of: 8/24/2021 | | | Current Year | Principal: | | \$0.00 | |
| | | | Current Year | Interest: | | \$0.00 | |
| | | | Payoff Amou | ınt: | | \$64.80 | |
| | E. P. GIBLIN'S CITY VIEW ESTATES | Street Sweeping - Com | mercial/Art | | | | |
| 496 Wheelock Pky E | LOT 6 BLK 1 | Citywide Street Lightin | | 0.58 | 45.00 | \$26.10 | 20-27-22-24-0020 |
| St Paul MN 55130-3221 | | | | | _ | \$72.90 | |
| *496 WHEELOCK PKWY E | | *** Owner and Taxpay | er *** | | _ | | |
| *Ward: 5 | | | Total Assessi | ment: | | \$72.90 | |
| *Pending as of: 8/24/2021 | | | This Paymen | t: | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amou | ınt: | | \$72.90 | |
| | E. P. GIBLIN'S CITY VIEW ESTATES | Street Sweeping - Com | mercial/Art | | | | |
| Pa Shen Xiong | LOT 7 BLK 1 | Alley Sweeping | | 0.14 | 216.00 | \$30.24 | |
| 498 Wheelock Pky E | | Citywide Street Lighting | g | 0.58 | 82.00 | \$47.56 | |
| St Paul MN 55130-3221 *498 WHEELOCK PKWY E | | *** Owner and Taxpay | er *** | | _ | \$163.08 | |
| *Ward: 5 | | 1.7 | Total Assessi | ment: | | \$163.08 | |
| *Pending as of: 8/24/2021 | | | This Paymen | | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Current Year | _ | | \$0.00 | |
| | | | Payoff Amou | ınt: | | \$163.08 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | y PID (Fee to Asmt) Ratification Date: | Project: 20 Resolution | | Assmt: 210025 | Manager: LMR | Page 19 |
|--------------------------------------------|-------------------------------------------------|----------------------------------------|--------------------------------|------------------------------------------------|-----------------|--------------------|--------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Ching Thor | E. P. GIBLIN'S CITY VIEW ESTATES LOT 8 BLK 1 | Street Sweeping - Com | nmercial/Art | 1.04 | 70.00 | \$72.80 | 20-29-22-24-0028 |
| Khua Ly | LOI 8 BLK I | Alley Sweeping | | 0.14 | 108.00 | \$15.12 | |
| 502 Wheelock Pkwy | | Citywide Street Lightin | ng | 0.58 | 70.00 | \$40.60 | |
| St Paul MN 55130-3223 | | *** | | | | \$128.52 | |
| *502 WHEELOCK PKWY E | | *** Owner *** | | | | | |
| *Ward: 5 | | | Total Asses | sment: | | \$128.52 | |
| *Pending as of: 8/24/2021 | | | This Payme | nt: | | \$0.00 | |
| | | | Current Yea | r Principal: | | \$0.00 | |
| | | | Current Yea | r Interest: | | \$0.00 | |
| | | | Payoff Amo | ount: | | \$128.52 | |
| Lee Thor | E. P. GIBLIN'S CITY VIEW ESTATES LOT 8 BLK 1 | *** Taxpayer and 3rd | *** Taxpayer and 3rd Party *** | | | | 20-29-22-24-0028 |
| 502 Wheelock Pkwy St Paul MN 55130-3223 | LOI OBER I | | Total Asses | sment: | | \$128.52 | |
| | | | This Payme | nt: | | \$0.00 | |
| *502 WHEELOCK PKWY E | | | Current Yea | r Principal: | | \$0.00 | |
| *Ward: 5 | | | Current Yea | r Interest: | | \$0.00 | |
| *Pending as of: 8/24/2021 | | | Payoff Amount: | | | \$128.52 | |
| | | | | | | | |
| Mariso Palma | E. P. GIBLIN'S CITY VIEW ESTATES LOT 9 BLK 1 | Street Sweeping - Resi | idential Stree | 0.41 0.14 | 45.00 132.00 | \$18.45 \$18.48 | 20-29-22-24-0029 |
| Alberto R Estrada 1518 Desoto St | | Alley Sweeping Citywide Street Lightin | nσ | 0.14 | 45.00 | \$26.10 | |
| St Paul MN 55130-3253 | | City wide bareet Eightin | ···b | 0.50 | = | | |
| *1518 DESOTO ST | | *** Owner and Taxpay | ver *** | | | \$63.03 | |
| *Ward: 5 | | 1 . | | | = | 0.62.02 | |
| *Pending as of: 8/24/2021 | | | Total Asses | | | \$63.03 | |
| | | | This Payme | | | \$0.00 \$0.00 | |
| | | | | Current Year Principal: Current Year Interest: | | \$0.00 \$0.00 | |
| | | | Payoff Ame | | \$63.03 | | |

\$76.84

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by I | PID (Fee to Asmt) Ratification Date: | Project: 20 Resolution | | Assmt: 210025 | Manager: LMR | Page 194 |
|--------------------------------------------------------------------|---------------------------------------------------------------------|-----------------------------------------------------------------------------------------------|-------------------------------------------------------------|------------------------------------|---------------------------------------------------------|--------------------------------------------------|------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Chang P Yang 475 Nebraska Ave E St Paul MN 55130-3228 | H. H. THOMPSON'S ADDITION LOT 15 BLK 1 | Street Sweeping - Resi Alley Sweeping Citywide Street Lighti | | 0.41 0.14 0.58 | 40.00 40.00 40.00 | \$16.40 \$5.60 \$23.20 | 20-29-22-24-0036 |
| *475 NEBRASKA AVE E *Ward: 5 | | *** Owner and Taxpa | axpayer *** | | _ | \$45.20 | |
| *Pending as of: 8/24/2021 | | | Total Assess | | | \$45.20 \$0.00 | |
| | | | Current Yea Current Yea | r Principal: | | \$0.00 \$0.00 | |
| | | | Payoff Amo | ount: | | \$45.20 | |
| Neng Moua Zoua Yang | H. H. THOMPSON'S ADDITION W 10 FT OF LOT 18 AND ALL OF LOT 17 BLK 1 | Street Sweeping - Resi Alley Sweeping Citywide Street Lighti | | 0.41 0.14 0.58 | 50.00 50.00 50.00 | \$20.50 \$7.00 \$29.00 | 20-29-22-24-0038 |
| 483 Nebraska Ave E St Paul MN 55130-3228 *483 NEBRASKA AVE E | | *** Owner and Taxpayer *** | | | \$56.50 | | |
| *Ward: 5 *Pending as of: 8/24/2021 | | Total Assessment: This Payment: Current Year Principal: Current Year Interest: Payoff Amount: | | | \$56.50 \$0.00 \$0.00 \$0.00 \$56.50 | | |
| Sasha Mathis-Hurley Oather Darrough 499 Nebraska Ave E | H. H. THOMPSON'S ADDITION LOT 22 BLK 1 | Street Sweeping - Resi Alley Sweeping Citywide Street Lighti | | 0.41 0.14 0.58 | 48.00 48.00 48.00 | \$19.68 \$6.72 \$27.84 | 20-29-22-24-0042 |
| St Paul MN 55130-3228 *499 NEBRASKA AVE E | | *** Owner and Taxpa | | | = | \$54.24 | |
| *Ward: 5 *Pending as of: 8/24/2021 | | 1 | Total Assess This Paymer Current Yea Current Yea Payoff Amo | nt: r Principal: r Interest: | | \$54.24 \$0.00 \$0.00 \$0.00 \$54.24 | |

\$64.35

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by F | PID (Fee to Asmt) Ratification Date: | Project: 202 Resolution | | Assmt: 210025 | Manager: LMR | Page 198 |
|---------------------------------------------------------------------------------------------------|-----------------------------------------------------------------------------------------------------------------------------------------|--------------------------------------------------------------------------------|-----------------------------------------------------------------------------|-------------------------------|-------------------------|----------------------------------------------------|------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Sean D Olivier Esther E Shold Olivier 1473 Edgerton St N | FARRAR'S ADDITION TO THE CITY OF ST. PAUL, RAMSEY COUNTY, MINNESOTA LOTS 5 6 AND LOT 7 BLK 1 | Street Sweeping - Comn Street Sweeping - Reside Citywide Street Lighting | ential Stree | 1.04 0.41 0.58 | 35.50 59.00 94.50 | \$36.92 \$24.19 \$54.81 | 20-29-22-24-0066 |
| St Paul MN 55130-3243 *1473 EDGERTON ST | | *** Owner and Taxpaye | er *** | | | \$115.92 | |
| *Ward: 5 *Pending as of: 8/24/2021 | | | Total Assessi This Paymen Current Year Current Year Payoff Amou | t: Principal: Interest: | | \$115.92 \$0.00 \$0.00 \$0.00 \$115.92 | |
| Christopher Lee Lane Sunni Gayle Ganje 557 Nevada Ave E St Paul MN 55130-3209 | FARRAR'S ADDITION TO THE CITY OF ST. PAUL, RAMSEY COUNTY, MINNESOTA EX E 10 FT LOT 9 AND ALL OF LOTS 10 11 AND LOT 12 BLK 1 | Street Sweeping - Reside Citywide Street Lighting | 0.58 90.00 | | | \$36.90 \$52.20 \$89.10 | 20-29-22-24-0068 |
| *S57 NEVADA AVE E *Ward: 5 *Pending as of: 8/24/2021 | | | | | | \$89.10 \$0.00 \$0.00 \$0.00 \$89.10 | |
| Ih2 Property Illinois Lp C/O Invitation Homes Tax Dept 1717 Main St Ste 2000 Dallas TX 75201-4657 | FARRAR'S ADDITION TO THE CITY OF ST. PAUL, RAMSEY COUNTY, MINNESOTA LOTS 13 AND LOT 14 BLK 1 | Street Sweeping - Residence Citywide Street Lighting *** Owner and Taxpaye | 9 | | 50.00 | \$20.50 \$29.00 \$49.50 | 20-29-22-24-0069 |
| *549 NEVADA AVE E *Ward: 5 *Pending as of: 8/24/2021 | | . , | Total Assessi This Paymen Current Year Current Year Payoff Amou | t: Principal: Interest: | | \$49.50 \$0.00 \$0.00 \$0.00 \$49.50 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by l | | Project: 2021SM Resolution #: | ISP | Assmt: 210025 | Manager: LMR | Page 199 |
|---------------------------|------------------------------------------------------------------|---------------------------|----------------------------------|---------|-----------------|----------------------|------------------|
| Owner or Taxpayer | Property Description | Item Description | <u>Un</u> | it Rate | Quantity | Charge Amts | Property ID |
| Michele Leigh Maruska | FARRAR'S ADDITION TO THE CITY OF | Street Sweeping - Resider | ntial Stree | 0.41 | 63.00 | \$25.83 | 20-29-22-24-0072 |
| 525 Nevada Ave E | ST. PAUL, RAMSEY COUNTY, MINNESOTA E 1/2 OF LOT 23 AND | Citywide Street Lighting | | 0.58 | 63.00 | \$36.54 | |
| St Paul MN 55130-3209 | ALL OF LOTS 21 AND LOT 22 BLK 1 | | | | _ | \$62.37 | |
| *525 NEVADA AVE E | | *** Owner and Taxpayer | *** | | | | |
| *Ward: 5 | | _ _ | Γotal Assessment: | | | \$62.37 | |
| *Pending as of: 8/24/2021 | | 7 | Γhis Payment: | | | \$0.00 | |
| | | (| Current Year Prince | cipal: | | \$0.00 | |
| | | (| Current Year Inter | rest: | | \$0.00 | |
| | | 1 | Payoff Amount: | | | \$62.37 | |
| Bernice A Stroeing | FARRAR'S ADDITION TO THE CITY OF | Street Sweeping - Resider | | 0.41 | | | <u> </u> |
| 521 Nevada Ave E | ST. PAUL, RAMSEY COUNTY, | Citywide Street Lighting | | 0.58 | 104.50 | \$60.61 | 20 27 22 21 0070 |
| St Paul MN 55130-3209 | MINNESOTA W 1/2 OF LOT 23 AND ALL OF LOTS 24 AND LOT 25 BLK 1 | | | | - | \$103.46 | |
| *521 NEVADA AVE E | | *** Owner and Taxpayer | *** | | | | |
| *Ward: 5 | | - 1 | Γotal Assessment: | | - | \$103.46 | |
| *Pending as of: 8/24/2021 | | 7 | Γhis Payment: | | | \$0.00 | |
| | | | Current Year Prince | cipal: | | \$0.00 | |
| | | (| Current Year Inter | rest: | | \$0.00 | |
| | | I | Payoff Amount: | | | \$103.46 | |
| | FARRAR'S ADDITION TO THE CITY OF | Street Sweeping - Resider | | 0.41 | | | 20 20 22 24 0074 |
| 515 Nevada Ave E | ST. PAUL, RAMSEY COUNTY, | Citywide Street Lighting | iliai Sti cc | 0.58 | 85.50 | \$49.59 | 20-29-22-24-0074 |
| St Paul MN 55130-3207 | MINNESOTA LOT 1 BLK 2 | , , , | | | _ | \$84.65 | |
| *515 NEVADA AVE E | | *** Owner and Taxpayer | *** | | | \$6 4 .03 | |
| *Ward: 5 | | - 1 | Γotal Assessment: | | - | \$84.65 | |
| *Pending as of: 8/24/2021 | | 1 | This Payment: | | | \$0.00 | |
| | | (| Current Year Princ | cipal: | | \$0.00 | |
| | | (| Current Year Inter | rest: | | \$0.00 | |
| | | I | Payoff Amount: | | | \$84.65 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by l | | roject: 2021SMSP Resolution #: | Assmt: 210025 | Manager: LMR | Page 200 |
|-------------------------------------------|-----------------------------------------------------------------------------------------------|--------------------------------------------------------|-----------------------------------|-----------------|--------------------|------------------|
| Owner or Taxpayer | Property Description | Item Description | Unit Rate | Quantity | Charge Amts | Property ID |
| Blaine Barnes 507 Nevada Ave E | FARRAR'S ADDITION TO THE CITY OF ST. PAUL, RAMSEY COUNTY, MINNESOTA LOT 2 3 4 AND LOT 5 | Street Sweeping - Resident Citywide Street Lighting | tial Streε 0.41 0.58 | 100.00 | \$41.00 \$58.00 | 20-29-22-24-0075 |
| St Paul MN 55130-3207 | BLK 2 | | | _ | \$99.00 | |
| *507 NEVADA AVE E | | *** Owner and Taxpayer * | *** | | | |
| *Ward: 5 | | T | otal Assessment: | | \$99.00 | |
| *Pending as of: 8/24/2021 | | T | his Payment: | | \$0.00 | |
| | | C | urrent Year Principal: | | \$0.00 | |
| | | | urrent Year Interest: | | \$0.00 | |
| | | P | ayoff Amount: | | \$99.00 | |
| Gilo Ubaldo Mejivar | FARRAR'S ADDITION TO THE CITY OF | Street Sweeping - Resident | | 50.00 | | |
| 501 Nevada Ave E | ST. PAUL, RAMSEY COUNTY, MINNESOTA LOTS 6 AND LOT 7 BLK | Citywide Street Lighting | 0.58 | 50.00 | \$29.00 | |
| St Paul MN 55130-3207 | 2 | | | _ | \$49.50 | |
| *501 NEVADA AVE E | | *** Owner and Taxpayer * | *** | | | |
| *Ward: 5 | | T | otal Assessment: | | \$49.50 | |
| *Pending as of: 8/24/2021 | | T | his Payment: | | \$0.00 | |
| | | C | urrent Year Principal: | | \$0.00 | |
| | | C | urrent Year Interest: | | \$0.00 | |
| | | P | ayoff Amount: | | \$49.50 | |
| | FARRAR'S ADDITION TO THE CITY OF | Street Sweeping - Resident | | 41.00 | | |
| Grace R Johnson | ST. PAUL, RAMSEY COUNTY, | Citywide Street Lighting | 0.58 | 41.00 | \$23.78 | 20 27 22 21 0077 |
| 485 Nevada Ave E St Paul MN 55130-3207 | MINNESOTA W 8 04/100 FT OF LOT 12 ALL OF LOT 13 AND E 8 04/100 FT OF LOT 14 BLK 2 | *** Owner and Taxpayer * | *** | <u>=</u> | \$40.59 | |
| *485 NEVADA AVE E | | | otal Assessment: | | \$40.59 | |
| *Ward: 5 | | | his Payment: | | \$0.00 | |
| *Pending as of: 8/24/2021 | | | urrent Year Principal: | | \$0.00 | |
| | | | urrent Year Interest: | | \$0.00 | |
| | | | ayoff Amount: | | \$40.59 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by I | PID (Fee to Asmt) Ratification Date: | Project: 20 Resolution | | Assmt: 210025 | Manager: LMR | Page 20 |
|-------------------------------|-------------------------------------------------------------|--------------------------------------|---------------------------|--------------|-----------------|--------------|--------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Anthony R Escobedo | FARRAR'S ADDITION TO THE CITY OF | Street Sweeping - Res | | 0.41 | 50.00 | \$20.50 | 20-29-22-24-0081 |
| Heather J Escobedo | ST. PAUL, RAMSEY COUNTY, MINNESOTA LOTS 16 AND LOT 17 | Citywide Street Light | ting | 0.58 | 50.00 | \$29.00 | |
| 479 Nevada Ave E | BLK 2 | *** 0 1 T | *** | | | \$49.50 | |
| St Paul MN 55130-3207 | | *** Owner and Taxpa | ayer *** | | _ | | |
| *479 NEVADA AVE E *Ward: 5 | | | Total Assess | sment: | | \$49.50 | |
| *Pending as of: 8/24/2021 | | | This Paymer | | | \$0.00 | |
| 1 Chang as 01. 8/24/2021 | | | Current Yea | - | | \$0.00 | |
| | | | Current Yea | | | \$0.00 | |
| | | | Payoff Amo | ount: | | \$49.50 | |
| | FARRAR'S ADDITION TO THE CITY OF | Street Sweeping - Res | sidential Streε | | 75.00 | \$30.75 | |
| 471 Nevada Ave E | ST. PAUL, RAMSEY COUNTY, MINNESOTA LOTS 18 19 AND LOT 20 | Citywide Street Light | ting | 0.58 | 75.00 | \$43.50 | |
| St Paul MN 55130-3207 | BLK 2 | | | | _ | \$74.25 | |
| *471 NEVADA AVE E | | *** Owner and Taxpa | ayer *** | | | | |
| *Ward: 5 | | | Total Assess | ment: | - | \$74.25 | |
| *Pending as of: 8/24/2021 | | | This Paymer | nt: | | \$0.00 | |
| | | | Current Yea | r Principal: | | \$0.00 | |
| | | | Current Yea | r Interest: | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$74.25 | |
| Erick Forbes | FARRAR'S ADDITION TO THE CITY OF | Street Sweeping - Res | sidential Streε | | | | |
| 463 Nevada Ave E | ST. PAUL, RAMSEY COUNTY, | Citywide Street Light | | 0.58 | 50.00 | \$29.00 | 20-27-22-24-0003 |
| St Paul MN 55130-3207 | MINNESOTA LOTS 21 AND LOT 22 BLK 2 | | | | _ | \$49.50 | |
| *463 NEVADA AVE E | 22.1. 2 | *** Owner and Taxpa | ayer *** | | | φ.ν.σο | |
| *Ward: 5 | | | Total Assess | ment: | - | \$49.50 | |
| *Pending as of: 8/24/2021 | | | This Paymer | | | \$0.00 | |
| | | | Current Yea | | | \$0.00 | |
| | | | Current Yea | • | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$49.50 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by I | PID (Fee to Asmt) Ratification Date: | Project: 2021 Resolution # | | Assmt: 210025 | Manager: LMR | Page 2 |
|----------------------------------------------------|------------------------------------------------------------------------------------------------|--------------------------------------|------------------------------------------|------------|-----------------|--------------------|--------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Matthew Mcmillan 508 Nevada Ave E | FARRAR'S ADDITION TO THE CITY OF ST. PAUL, RAMSEY COUNTY, MINNESOTA LOTS 3 AND LOT 4 BLK | Street Sweeping - Resid | | 0.41 | 50.00 | \$20.50 \$29.00 | 20-29-22-24-0086 |
| St Paul MN 55130-3208 * 508 NEVADA AVE E | 3 | *** Owner and Taxpayo | er *** | | = | \$49.50 | |
| *Ward: 5 | | o wher who rumpuy | Total Assessm | 4 . | | \$49.50 | |
| *Pending as of: 8/24/2021 | | | | | | \$49.30 \$0.00 | |
| | | | This Payment: Current Year Principal: | | | \$0.00 \$0.00 | |
| | | | Current Year I | - | | \$0.00 \$0.00 | |
| | | | Payoff Amoun | | | \$49.50 | |
| | | | | | | | |
| Doh Htoo | FARRAR'S ADDITION TO THE CITY OF ST. PAUL, RAMSEY COUNTY, | Street Sweeping - Resid | | 0.41 | 100.00 | \$41.00 | 20-29-22-24-0087 |
| 502 Nevada Ave E | MINNESOTA LOTS 5 6 7 AND LOT 8 | Citywide Street Lighting | g | 0.58 | 100.00 | \$58.00 | |
| St Paul MN 55130-3208 | BLK 3 | | | | | \$99.00 | |
| *502 NEVADA AVE E | | *** Owner and Taxpaye | er *** | | | | |
| *Ward: 5 | | | Total Assessm | ent: | | \$99.00 | |
| *Pending as of: 8/24/2021 | | | This Payment: | | | \$0.00 | |
| | | | Current Year I | | | \$0.00 | |
| | | | Current Year I | nterest: | | \$0.00 | |
| | | | Payoff Amoun | nt: | | \$99.00 | |
| | FARRAR'S ADDITION TO THE CITY OF | | | | | | |
| Long Kong | ST. PAUL, RAMSEY COUNTY, | Citywide Street Lighting | | 0.41 | 50.00 | \$29.00 | 20-29-22-24-0088 |
| 492 Nevada Ave E St Paul MN 55130-3208 | MINNESOTA LOTS 9 AND LOT 10 | City wide Sirect Lighting | B | 0.56 | J0.00 | | |
| *492 NEVADA AVE E | BLK 3 | *** Owner and Taxpaye | er *** | | | \$49.50 | |
| *Ward: 5 | | | Total Assessm | nent: | | \$49.50 | |
| *Pending as of: 8/24/2021 | | | This Payment: | | | \$0.00 | |
| | | | Current Year I | Principal: | | \$0.00 | |
| | | | Current Year I | Interest: | | \$0.00 | |
| | | | Payoff Amoun | nt: | | \$49.50 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by l | PID (Fee to Asmt) Ratification Date: | Project: 2021 Resolution #: | | Assmt: 210025 | Manager: LMR | Page 20 |
|-------------------------------------------|----------------------------------------------------------------------------------------------|-----------------------------------------------------|--------------------------------|-----------|-----------------|--------------------------|--------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Daniel Joseph Carr Calista Mae Carr | FARRAR'S ADDITION TO THE CITY OF ST. PAUL, RAMSEY COUNTY, MINNESOTA LOTS 17 AND LOT 18 | Street Sweeping - Resid Citywide Street Lighting | | 0.41 | 50.00 | \$20.50 \$29.00 | 20-29-22-24-0091 |
| 476 Nevada Ave E St Paul MN 55130-3208 | BLK 3 | *** Owner and Taxpaye | Owner and Taxpayer *** | | | \$49.50 | |
| *476 NEVADA AVE E *Ward: 5 | | | Total Assessm | nent: | | \$49.50 | |
| *Pending as of: 8/24/2021 | | | This Payment: | | | \$0.00 | |
| 1 cliding as 01. 6/24/2021 | | | Current Year F | - | | \$0.00 | |
| | | | Current Year I Payoff Amoun | | | \$0.00 \$49.50 | |
| | | | | | | | |
| Melissa Maier | FARRAR'S ADDITION TO THE CITY OF ST. PAUL, RAMSEY COUNTY, | Street Sweeping - Comr | | 1.04 | 50.00 | \$52.00 | 20-29-22-24-0096 |
| 467 Arlington Ave E | MINNESOTA LOTS 27 AND LOT 28 | Citywide Street Lighting | ıg | 0.58 | 50.00 | \$29.00 | |
| St Paul MN 55130-3233 | BLK 3 | *** 0 1 T | *** | | | \$81.00 | |
| *467 ARLINGTON AVE E | | *** Owner and Taxpaye | er **** | | - | | |
| *Ward: 5 *Pending as of: 8/24/2021 | | | Total Assessm | | | \$81.00 | |
| Fending as 01. 8/24/2021 | | | This Payment: | | | \$0.00 | |
| | | | Current Year F | - | | \$0.00 | |
| | | | Current Year I | | | \$0.00 | |
| | | | Payoff Amour | nt: | | \$81.00 | |
| | FARRAR'S ADDITION TO THE CITY OF | Street Sweeping - Comr | mercial/Art | 1.04 | | | |
| 479 Arlington Ave E | ST. PAUL, RAMSEY COUNTY, MINNESOTA LOTS 31 AND LOT 32 | Citywide Street Lighting | g | 0.58 | 50.00 | \$29.00 | 20 27 22 21 0070 |
| St Paul MN 55130-3233 | BLK 3 | | | | | \$81.00 | |
| *479 ARLINGTON AVE E | | *** Owner and Taxpaye | er *** | | | | |
| *Ward: 5 | | | Total Assessm | nent: | - | \$81.00 | |
| *Pending as of: 8/24/2021 | | | This Payment: | | | \$0.00 | |
| | | | Current Year F | | | \$0.00 | |
| | | | Current Year I | nterest: | | \$0.00 | |
| | | | Payoff Amour | nt: | | \$81.00 | |

\$81.00

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Ratification Date: | Project: 2021 Resolution #: | | Assmt: 210025 | Manager: LMR | Page 20 |
|----------------------------------------------|--------------------------------------------------------------|--------------------------------------|--------------------------------|------------------|-----------------|--------------------|--------------------|
| Owner or Taxpayer | Property Description | Item Description | | <u>Unit Rate</u> | Quantity | Charge Amts | Property ID |
| Leng Lee | FARRAR'S ADDITION TO THE CITY OF ST. PAUL, RAMSEY COUNTY, | Street Sweeping - Comr | | 1.04 | 50.00 | \$52.00 \$30.00 | 20-29-22-24-0103 |
| 499 Arlington Ave E St Paul MN 55130-3233 | MINNESOTA LOTS 41 AND LOT 42 | Citywide Street Lighting | g | 0.58 | 30.00 | \$29.00 | |
| *499 ARLINGTON AVE E | BLK 3 | *** Owner and Taxpaye | er *** | | | \$81.00 | |
| *Ward: 5 | | | Total Assessme | ent: | - | \$81.00 | |
| *Pending as of: 8/24/2021 | | | This Payment: | | | \$0.00 | |
| | | | Current Year P | rincipal: | | \$0.00 | |
| | | | Current Year In | nterest: | | \$0.00 | |
| | | | Payoff Amoun | nt: | | \$81.00 | |
| | FARRAR'S ADDITION TO THE CITY OF | Street Sweeping - Comr | mercial/Art | 1.04 | | | |
| 503 Arlington Ave E | ST. PAUL, RAMSEY COUNTY, MINNESOTA LOTS 43 AND LOT 44 | Citywide Street Lighting | | 0.58 | 50.00 | \$29.00 | 20-27-22-24-0104 |
| St Paul MN 55130-3233 | BLK 3 | | | | | \$81.00 | |
| *503 ARLINGTON AVE E | | *** Owner and Taxpaye | er *** | | | | |
| *Ward: 5 | | | Total Assessme | ent: | | \$81.00 | |
| *Pending as of: 8/24/2021 | | | This Payment: | | | \$0.00 | |
| | | Current Year Principal: | | | | \$0.00 | |
| | | | Current Year In | | | \$0.00 | |
| | | | Payoff Amoun | nt: | | \$81.00 | |
| | FARRAR'S ADDITION TO THE CITY OF | Street Sweeping - Comr | mercial/Art | 1.04 | | | |
| Ellen C Morgan | ST. PAUL, RAMSEY COUNTY, | Alley Sweeping | | 0.14 | 50.00 | \$7.00 | 20-27-22-24-0107 |
| 1457 Edgerton St | MINNESOTA LOTS 5 AND LOT 6 BLK 4 | Citywide Street Lighting | g | 0.58 | 50.00 | \$29.00 | |
| St Paul MN 55130-3257 | | | | | _ | \$88.00 | |
| *1457 EDGERTON ST | | *** Owner and Taxpaye | er *** | | | | |
| *Ward: 5 | | | Total Assessme | ent: | | \$88.00 | |
| *Pending as of: 8/24/2021 | | | This Payment: | | | \$0.00 | |
| | | | Current Year P | rincipal: | | \$0.00 | |
| | | | Current Year In | nterest: | | \$0.00 | |

\$88.00

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Ratification Date: | Project: 20 Resolution | | Assmt: 210025 | Manager: LMR | Page 206 |
|---------------------------|----------------------------------------------------------|--------------------------------------|---------------------------|------------------|-----------------|--------------|--------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Larry P Kiteck | FARRAR'S ADDITION TO THE CITY OF | Street Sweeping - Con | | 1.04 | 50.00 | \$52.00 | 20-29-22-24-0113 |
| 553 Arlington Ave E | ST. PAUL, RAMSEY COUNTY, MINNESOTA LOTS 16 AND LOT 17 | Citywide Street Light | ing | 0.58 | 50.00 | \$29.00 | |
| St Paul MN 55130-3237 | BLK 4 | | | | | \$81.00 | |
| *553 ARLINGTON AVE E | | *** Owner and Taxpa | ayer *** | | | | |
| *Ward: 5 | | | Total Assess | sment: | | \$81.00 | |
| *Pending as of: 8/24/2021 | | | This Paymer | nt: | | \$0.00 | |
| | | | Current Yea | | | \$0.00 | |
| | | | Current Yea | | | \$0.00 | |
| | | | Payoff Amo | ount: | | \$81.00 | |
| Larry P Kiteck | FARRAR'S ADDITION TO THE CITY OF | Street Sweeping - Con | mmercial/Art | | | \$26.00 | |
| 553 Arlington Ave E | ST. PAUL, RAMSEY COUNTY, MINNESOTA LOT 18 BLK 4 | Citywide Street Light | ing | 0.58 | 25.00 | \$14.50 | |
| St Paul MN 55130-3237 | MINISOTA LOT TO BEK 4 | | | | _ | \$40.50 | |
| *549 ARLINGTON AVE E | | *** Owner and Taxpa | ayer *** | | | | |
| *Ward: 5 | | | Total Assess | sment: | - | \$40.50 | |
| *Pending as of: 8/24/2021 | | | This Paymer | nt: | | \$0.00 | |
| | | | Current Yea | r Principal: | | \$0.00 | |
| | | | Current Yea | r Interest: | | \$0.00 | |
| | | | Payoff Amo | ount: | | \$40.50 | |
| | FARRAR'S ADDITION TO THE CITY OF | Street Sweeping - Cor | mmercial/Art | | | | |
| 553 Arlington Ave E | ST. PAUL, RAMSEY COUNTY, | Citywide Street Light | | 0.58 | 25.00 | \$14.50 | 20-27-22-24-0113 |
| St Paul MN 55130-3237 | MINNESOTA LOT 19 BLK 4 | | | | _ | \$40.50 | |
| *547 ARLINGTON AVE E | | *** Owner and Taxpa | ayer *** | | | | |
| *Ward: 5 | | | Total Assess | ement: | - | \$40.50 | |
| *Pending as of: 8/24/2021 | | | This Paymer | | | \$0.00 | |
| | | | Current Yea | | | \$0.00 | |
| | | | Current Yea | • | | \$0.00 | |
| | | | Payoff Amo | ount: | | \$40.50 | |

\$81.00

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by l | PID (Fee to Asmt) Ratification Date: | Project: 20 Resolution | | Assmt: 210025 | Manager: LMR | Page 208 |
|-------------------------------|------------------------------------------------------------------|--------------------------------------|---------------------------|--------------|-----------------|--------------|------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Kao Lee | FARRAR'S ADDITION TO THE CITY OF | Street Sweeping - Com | | 1.04 | 50.00 | \$52.00 | 20-29-22-24-0119 |
| Lia Vang | ST. PAUL, RAMSEY COUNTY, MINNESOTA LOTS 24 & LOT 25 BLK | Citywide Street Lightin | ıg | 0.58 | 50.00 | \$29.00 | |
| 535 Arlington Ave E | 4 | *** 0 17 *** | | | | \$81.00 | |
| St Paul MN 55130-3237 | | *** Owner and Taxpay | er *** | | _ | | |
| *535 ARLINGTON AVE E *Ward: 5 | | | Total Assess | sment: | | \$81.00 | |
| *Pending as of: 8/24/2021 | | | This Paymer | | | \$0.00 | |
| 1 Cliding as 01. 8/24/2021 | | | Current Year | • | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amo | ount: | | \$81.00 | |
| Sam A Nelson | FARRAR'S ADDITION TO THE CITY OF | Street Sweeping - Resid | dential Streε | | | | |
| 1398 Taylor Ave | ST. PAUL, RAMSEY COUNTY, MINNESOTA LOT 32 BLK 4 | Alley Sweeping | | 0.14 | 25.00 | \$3.50 | |
| St Paul MN 55104-1329 | WIINNESOTA LOT 32 BLK 4 | Citywide Street Lightin | ıg | 0.58 | 25.00 | \$14.50 | |
| *526 NEVADA AVE E | | | | | _ | \$28.25 | |
| *Ward: 5 | | *** Owner and Taxpay | er *** | | | | |
| *Pending as of: 8/24/2021 | | | Total Assess | sment: | - | \$28.25 | |
| | | | This Paymer | nt: | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amo | ount: | | \$28.25 | |
| | FARRAR'S ADDITION TO THE CITY OF | Street Sweeping - Resid | dential Stree | | | | <u> </u> |
| 528 Nevada Ave E | ST. PAUL, RAMSEY COUNTY, | Citywide Street Lightin | | 0.58 | 63.00 | \$36.54 | 20-27-22-24-0125 |
| St Paul MN 55130-3210 | MINNESOTA W 1/2 OF LOT 35 AND ALL OF LOTS 33 AND LOT 34 BLK 4 | | | | _ | \$62.37 | |
| *528 NEVADA AVE E | | *** Owner and Taxpay | er *** | | | | |
| *Ward: 5 | | | Total Assess | sment: | • | \$62.37 | |
| *Pending as of: 8/24/2021 | | | This Paymer | nt: | | \$0.00 | |
| | | | Current Year | r Principal: | | \$0.00 | |
| | | | Current Year | r Interest: | | \$0.00 | |
| | | | Payoff Amo | ount: | | \$62.37 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by I | PID (Fee to Asmt) Ratification Date: | Project: 20 Resolution | | Assmt: 210025 | Manager: LMR | Page 209 |
|-------------------------------------------|--------------------------------------------------------------|-----------------------------------------|---------------------------|-------------|-----------------|--------------------------|--------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Carlyn E Halek | FARRAR'S ADDITION TO THE CITY OF ST. PAUL, RAMSEY COUNTY, | Street Sweeping - Res | | 0.41 | 63.00 | \$25.83 | 20-29-22-24-0124 |
| Matthew T Mcgrath | MINNESOTA E 1/2 OF LOT 35 AND | Citywide Street Light | ing | 0.58 | 63.00 | \$36.54 | |
| 536 Nevada Ave E St Paul MN 55130-3210 | ALL OF LOTS 36 AND LOT 37 BLK 4 | *** Owner and Taxpa | orrow *** | | | \$62.37 | |
| *536 NEVADA AVE E | | Owner and Taxpa | | | | | |
| *Ward: 5 | | | Total Assess | | | \$62.37 | |
| *Pending as of: 8/24/2021 | | | This Paymer | | | \$0.00 | |
| 1 chang as of. 6/2 1/2021 | | | Current Yea | | | \$0.00 | |
| | | | Current Yea | | | \$0.00 \$62.37 | |
| | | | Payoff Amo | ount. | | 902.37 | |
| | FARRAR'S ADDITION TO THE CITY OF | Street Sweeping - Res | sidential Streε | 0.41 | | | |
| 544 Nevada Ave E | ST. PAUL, RAMSEY COUNTY, MINNESOTA LOTS 40 AND LOT 41 | Citywide Street Light | ing | 0.58 | 50.00 | \$29.00 | 20 29 22 21 0120 |
| St Paul MN 55130-3210 | BLK 4 | | | | _ | \$49.50 | |
| *544 NEVADA AVE E | | *** Owner and Taxpa | ayer *** | | | | |
| *Ward: 5 | | | Total Assess | sment: | - | \$49.50 | |
| *Pending as of: 8/24/2021 | | | This Paymer | nt: | | \$0.00 | |
| | | Current Year Principal: | | | | \$0.00 | |
| | | | Current Yea | r Interest: | | \$0.00 | |
| | | | Payoff Amo | ount: | | \$49.50 | |
| Oscar O M Vasquez | FARRAR'S ADDITION TO THE CITY OF | Street Sweeping - Res | sidential Stree | | | | |
| Leslie A M M Vasquez | ST. PAUL, RAMSEY COUNTY, | Citywide Street Light | | 0.58 | 50.00 | \$29.00 | 20-27-22-24-0127 |
| 552 Nevada Ave E | MINNESOTA LOTS 42 AND LOT 43 BLK 4 | | | | _ | \$49.50 | |
| St Paul MN 55130-3210 | | *** Owner and Taxpa | ayer *** | | | | |
| *552 NEVADA AVE E | | | Total Assess | sment: | | \$49.50 | |
| *Ward: 5 | | | This Paymer | | | \$0.00 | |
| *Pending as of: 8/24/2021 | | | Current Yea | | | \$0.00 | |
| | | | Current Yea | r Interest: | | \$0.00 | |
| | | | Payoff Amo | ount: | | \$49.50 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Ratification Date: | Project: 20 Resolution | | Assmt: 210025 | Manager: LMR | Page 210 |
|------------------------------------|-------------------------------------------------------------------------------|--------------------------------------|---------------------------|--------------|-----------------|--------------|------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Cheng X Xiong | FARRAR'S ADDITION TO THE CITY OF | Street Sweeping - Res | | 0.41 | 50.00 | \$20.50 | 20-29-22-24-0128 |
| Anne M Vang | ST. PAUL, RAMSEY COUNTY, MINNESOTA LOTS 44 AND LOT 45 | Citywide Street Lighti | ing | 0.58 | 50.00 | \$29.00 | |
| 556 Nevada Ave E | BLK 4 | | | | | \$49.50 | |
| St Paul MN 55130-3210 | | *** Owner and Taxpa | ıyer *** | | | | |
| *556 NEVADA AVE E | | | Total Assess | | \$49.50 | | |
| *Ward: 5 | | This Payment: | | | | | |
| *Pending as of: 8/24/2021 | | | Current Yea | r Principal: | | \$0.00 | |
| | | | Current Yea | | | \$0.00 | |
| | | | Payoff Amo | ount: | | \$49.50 | |
| | SECTION 20 TOWN 29 RANGE 22 EX E | Street Sweeping - Res | idential Stree | | | | <u> </u> |
| 564 Hoyt Ave E | 148 FT OF N 80 FT AND EX E 155 FT OF | Citywide Street Lighti | ing | 0.58 | 57.00 | \$33.06 | 20 27 22 21 0100 |
| St Paul MN 55130-3017 | S 25 FT OF N 105 FT AND EX E 158 FT S OF N 105 FT THE E 205 FT OF N 140 FT | | | | = | \$56.43 | |
| *564 HOYT AVE E | OF SE 1/4 OF NW 1/4 (SUBJ TO RD AND ESMTS) IN SEC 20 TN 29 RN 22 | *** Owner and Taxpa | nyer *** | | _ | | |
| *Ward: 5 *Pending as of: 8/24/2021 | | | Total Assess | sment: | | \$56.43 | |
| Fending as 01: 8/24/2021 | | | This Paymer | | | \$0.00 | |
| | | | Current Yea | - | | \$0.00 | |
| | | | Current Yea | | | \$0.00 | |
| | | | Payoff Amo | ount: | | \$56.43 | |
| Home Sfr Borrower Llc | FARRAR'S ADDITION TO THE CITY OF | Street Sweeping - Con | mmercial/Art | | | | |
| C/O Havenbrook Homes | ST. PAUL, RAMSEY COUNTY, | Alley Sweeping | | 0.14 | 0.00 | \$0.00 | |
| 3505 Koger Blvd Ste 400 | MINNESOTA LOT 14 & LOT 15 BLK 4 | Citywide Street Lighti | ing | 0.58 | 50.00 | \$29.00 | |
| Duluth GA 30096-7672 | | | | | _ | \$81.00 | |
| *559 ARLINGTON AVE E | | *** Owner and Taxpa | ıyer *** | | | | |
| *Ward: 5 | | | Total Assess | sment: | | \$81.00 | |
| *Pending as of: 8/24/2021 | | | This Paymer | nt: | | \$0.00 | |
| | | | Current Yea | r Principal: | | \$0.00 | |
| | | | Current Yea | r Interest: | | \$0.00 | |
| | | | | | | | |

\$81.00

\$93.96

\$252.28

\$91.52

\$77.22

\$111.78

\$56.50

\$43.56

\$66.33

\$69.30

\$59.40

\$39.60

\$59.40

\$57.42

\$39.60

\$76.73

\$96.53

\$41.58

\$45.54

\$59.40

\$50.49

\$43.56

\$48.51

\$49.50

\$64.80

\$77.76

\$39.60

\$59.40

\$238.86

\$271.35

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | | roject: 2021SMSP desolution #: | Assmt: 210025 | Manager: LMR | Page 248 | |
|---------------------------------|------------------------------------------------------------------------------------------------------|--------------------------------------------------------|-----------------------------------|----------------------|--------------------|------------------|--|
| Owner or Taxpayer | Property Description | Item Description | Unit Rate | Quantity | Charge Amts | Property ID | |
| Henry Bui 16573 Klamath Terr | MORTON'S SUBDIVISION OF LOTS 4, 5, 6, AND 7 OF J. M. WARNER'S ACRE LOTS LOTS 1 AND LOT 2 BLK 2 | Street Sweeping - Resident Citywide Street Lighting | 0.41 0.58 | 57.00 57.00 | \$23.37 \$33.06 | 20-29-22-32-0022 | |
| Lakeville MN 55044-8425 | | *** 0 1 T * | ** | | \$56.43 | | |
| *1377 ARKWRIGHT ST | | *** Owner and Taxpayer *** | | | | | |
| *Ward: 5 | | To | \$56.43 | | | | |
| *Pending as of: 8/24/2021 | | | nis Payment: | | \$0.00 | | |
| | | | ırrent Year Principal: | | \$0.00 | | |
| | | | irrent Year Interest: | | \$0.00 | | |
| | | Pa | yoff Amount: | | \$56.43 | | |
| John D Garscia | CONDOMINIUM NUMBER 197 | Street Sweeping - Resident | ial Stree 0.41 | — — 7.0 0 | | | |
| 1284 Hague Ave | EDGEROW CONDOMINIUMS UNIT NO 1 | Citywide Street Lighting | 0.58 | 7.00 | \$4.06 | 20 27 22 02 0001 | |
| St Paul MN 55104-6417 | No I | | | = | \$6.93 | | |
| *1365 ARKWRIGHT ST 1 | /RIGHT ST 1 *** Owner and Taxpayer *** | | | | | | |
| *Ward: 5 | | Total Assessment: | | | | | |
| *Pending as of: 8/24/2021 | | Th | nis Payment: | \$0.00 | | | |
| | | Cu | \$0.00 | | | | |
| | | Current Year Interest: | | | | | |
| | | Pa | \$6.93 | | | | |
| | CONDOMINIUM NUMBER 197 | Street Sweeping - Resident | | — — 7.00 | | <u> </u> | |
| Tan Tri Nguyen | EDGEROW CONDOMINIUMS UNIT | Citywide Street Lighting | 0.58 | 7.00 | \$4.06 | 20 27 22 02 0002 | |
| 1365 Arkwright Unit 103 | NO 2 | | | = | \$6.93 | | |
| St Paul MN 55130-3355 | | *** Owner and Taxpayer *** | | | | | |
| *1365 ARKWRIGHT ST 103 | | To | otal Assessment: | \$6.93 | | | |
| *Ward: 5 | | This Payment: | | | | | |
| *Pending as of: 8/24/2021 | | Cu | irrent Year Principal: | \$0.00 | | | |
| | | Cu | irrent Year Interest: | \$0.00 | | | |
| | | Payoff Amount: | | | | | |

\$6.93

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | y PID (Fee to Asmt) Ratification Date: | Project: 202 Resolution | | Assmt: 210025 | Manager: LMR | Page 250 |
|------------------------------------|---------------------------------------|------------------------------------------------|---------------------------------------|------------------|-----------------|--------------|--------------------|
| Owner or Taxpayer | Property Description | Item Description | | <u>Unit Rate</u> | Quantity | Charge Amts | Property ID |
| Annalisa Anderson | CONDOMINIUM NUMBER 197 | Street Sweeping - Resid | lential Stree | 0.41 | 7.00 | \$2.87 | 20-29-22-32-0037 |
| 1365 Arkwright St Unit 105 | EDGEROW CONDOMINIUMS UNIT NO 7 | Citywide Street Lighting | g | 0.58 | 7.00 | \$4.06 | |
| St Paul MN 55130-3355 | 10 / | | | | = | \$6.93 | |
| *1365 ARKWRIGHT ST 105 | | *** Owner and Taxpayer *** | | | | | |
| *Ward: 5 *Pending as of: 8/24/2021 | | Total Assessment: | | | | \$6.93 | |
| | | | This Payment: Current Year Principal: | | | \$0.00 | |
| | | | | | | \$0.00 | |
| | | | Current Year Interest: | | | | |
| | | Payoff Amount: | | | | \$6.93 | |
| Olufunmilade Akinmusire | CONDOMINIUM NUMBER 197 | Street Sweeping - Resid | lential Streε | | | | 20-29-22-32-0039 |
| 26 Sycamore St W | EDGEROW CONDOMINIUMS UNIT NO 9 | Citywide Street Lighting | g | 0.58 | 7.00 | \$4.06 | 20 27 22 02 0007 |
| St Paul MN 55117-5547 | NO | | | | _ | \$6.93 | |
| *1365 ARKWRIGHT ST 205 | | *** Owner and Taxpayer *** | | | | | |
| *Ward: 5 | | Total Assessment: | | | | \$6.93 | |
| *Pending as of: 8/24/2021 | | This Payment: | | | | | |
| | | Current Year Principal: | | | | | |
| | Current Year Interest: | | | | | \$0.00 | |
| | | Payoff Amount: | | | | \$6.93 | |
| | CONDOMINIUM NUMBER 197 | | | | | | <u> </u> |
| 180 Mounds Blvd | EDGEROW CONDOMINIUMS UNIT | Citywide Street Lighting | | 0.58 | 7.00 | \$4.06 | 20-27-22-32-0040 |
| St Paul MN 55106-6231 | NO 10 | | | | _ | \$6.93 | |
| *1365 ARKWRIGHT ST 204 | | *** Owner and Taxpayer *** | | | 4444 | | |
| *Ward: 5 | | Total Assessment: | | | | \$6.93 | |
| *Pending as of: 8/24/2021 | | This Payment: | | | \$0.00 | | |
| | | Current Year Principal: Current Year Interest: | | | | \$0.00 | |
| | | | | | | \$0.00 | |
| | Payoff Amount: | | | | | \$6.93 | |

\$6.93

\$54.45

\$44.55

\$37.62

\$5.46

\$44.07

\$44.07

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by I | PID (Fee to Asmt) Ratification Date: | Project: 2021SMSP Resolution #: | | Assmt: 210025 | Manager: LMR | Page 260 |
|---------------------------|--------------------------------------------------------|-----------------------------------------|------------------------------------|--------------|-----------------|--------------|--------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Mark Mccrea | J. W. BASS' ACRE LOTS N 55 FT OF S 60 | Street Sweeping - Res | | 0.41 | 55.00 | \$22.55 | 20-29-22-33-0038 |
| 1262 Arkwright St | FT OF W 150 FT OF LOT 16 | Citywide Street Light | ting | 0.58 | 55.00 | \$31.90 | |
| St Paul MN 55130-3504 | | | | | _ | \$54.45 | |
| *1262 ARKWRIGHT ST | | *** Owner and Taxpayer *** | | | | | |
| *Ward: 5 | | Total Assessment: | | | | \$54.45 | |
| *Pending as of: 8/24/2021 | | This Paymer | nt: | | \$0.00 | | |
| | | \$0.00 \$0.00 | | | | | |
| | | | Current Year Interest: | | | | |
| | | unt: | | \$54.45 | | | |
| Judith E Solmonson | JAGGARD'S ADDITION TO THE CITY | Street Sweeping - Res | sidential Streε | | | | 20-29-22-33-0040 |
| 1252 Arkwright St | OF ST. PAUL S 1/2 OF LOT 21 AND ALL OF LOT 20 BLK 2 | Citywide Street Light | ting | 0.58 | 56.00 | \$32.48 | |
| St Paul MN 55130-3504 | ALE OF EOT 20 BER 2 | | | | _ | \$55.44 | |
| *1252 ARKWRIGHT ST | | *** Owner and Taxpa | ayer *** | | | | |
| *Ward: 5 | | Total Assessment: | | | | \$55.44 | |
| *Pending as of: 8/24/2021 | | | This Paymer | nt: | \$0.00 | | |
| | | | Current Yea | r Principal: | | \$0.00 | |
| | | | Current Yea | r Interest: | | \$0.00 | |
| | | | \$55.44 | | | | |
| | JAGGARD'S ADDITION TO THE CITY | Street Sweeping - Res | sidential Stree | | | | |
| Laura Lee Kelly | OF ST. PAUL N 1/2 OF LOT 18 AND | Citywide Street Light | | 0.58 | 56.00 | \$32.48 | 20-27-22-33-0041 |
| 1248 Arkwright St | ALL OF LOT 19 BLK 2 | | | | = | \$55.44 | |
| St Paul MN 55130-8509 | | *** Owner and Taxpa | ayer *** | | | | |
| *1248 ARKWRIGHT ST | Total Assessment: | | | | | \$55.44 | |
| *Ward: 5 | | | | \$0.00 | | | |
| *Pending as of: 8/24/2021 | | | This Paymer Current Yea | | \$0.00 | | |
| | | | Current Yea | r Interest: | \$0.00 | | |
| | | | Payoff Amo | \$55.44 | | | |

\$100.40

\$71.28

\$51.48

\$39.60

\$88.65

\$45.63

\$106.92

\$44.55

\$47.52

\$75.24

\$34.65

\$28.71

\$115.92

\$87.48

\$66.20

\$76.82

\$77.19

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Ratification Date: | Project: 2021SMSP Resolution #: | | Assmt: 210025 | Manager: LMR | Page 280 | |
|----------------------------------------------------------------------------------------------------------|-------------------------------------------------------------------------------------------------|-------------------------------------------------------------------------------------------------|------------------------------------------------|----------------------|----------------------------------|-----------------------------------------|--------------------|--|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID | |
| — — — — — — — — Mai T Yang | STONE & MORTON'S 2ND ADDITION | Street Sweeping - Reside | ential Streε | | | \$16.40 | 20-29-22-34-0006 | |
| Nao Thai Yang | TO THE CITY OF ST. PAUL, RAMSEY | Alley Sweeping | | 0.14 | 40.00 | \$5.60 | | |
| 940 Kelly St | CO., MINNESOTA LOT 28 BLK 3 | Citywide Street Lighting | g | 0.58 | 40.00 | \$23.20 | | |
| Lino Lakes MN 55014-2479 | | | | | _ | \$45.20 | | |
| *1286 DESOTO ST | | *** Owner and Taxpayer *** | | | | | | |
| *Ward: 5 | | | Total Assessment: | | | \$45.20 | | |
| *Pending as of: 8/24/2021 | | | This Paymen | \$0.00 | | | | |
| | | | Current Year | \$0.00 | | | | |
| | | | Current Year | \$0.00 | | | | |
| | | Payoff Amount: | | | | | | |
| Jenniffer M Farr 1284 Desoto St St Paul MN 55130-3516 *1284 DESOTO ST *Ward: 5 *Pending as of: 8/24/2021 | STONE & MORTON'S 2ND ADDITION TO THE CITY OF ST. PAUL, RAMSEY CO., MINNESOTA LOT 27 BLK 3 | Street Sweeping - Reside Alley Sweeping Citywide Street Lighting *** Owner and Taxpaye | 5 | 0.41 0.14 0.58 | 40.00 40.00 40.00 40.00 | \$16.40 \$5.60 \$23.20 \$45.20 | 20-29-22-34-0007 | |
| | | This Payment: | | | | \$0.00 | | |
| | | Current Year Principal: Current Year Interest: | | | | | | |
| | | | | | | | | |
| | | | Payoff Amo | \$45.20 | | | | |
| | | | | | | | | |
| Soua Lomoua | STONE & MORTON'S 2ND ADDITION | Street Sweeping - Comn | nercial/Art | 1.04 | 24.00 | \$24.96 | 20-29-22-34-0013 | |
| Mai Her Vang | TO THE CITY OF ST. PAUL, RAMSEY | Street Sweeping - Reside | ential Stree | 0.41 | 60.00 | \$24.60 | 20 23 22 01 0010 | |
| 461 Brainerd Ave | CO., MINNESOTA LOT 20 BLK 3 | Alley Sweeping | | 0.14 | 48.00 | \$6.72 | | |
| St Paul MN 55130-3511 | | Citywide Street Lighting | 3 | 0.58 | 84.00 | \$48.72 | | |
| *461 BRAINERD AVE | | | | | | \$105.00 | | |
| *Ward: 5 | | | | | | | | |
| *Pending as of: 8/24/2021 | | Total Assessment: \$10 | | | | | | |
| | | | This Paymen | ıt: | \$0.00 | | | |
| | | | Current Year Principal: Current Year Interest: | | | | | |
| | | | | | | | | |
| | | | Payoff Amo | unt: | | \$105.00 | | |

\$45.20

\$103.68

\$48.51

\$59.94

\$71.28

\$74.52

\$140.94

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | ` ' | Project: 2021 Resolution # | | Assmt: 210025 | Manager: LMR | Page 291 |
|---------------------------|---------------------------------------|---------------------------|-------------------------------|------------|-----------------|--------------|--------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Maija Kittleson Wilker | CLARKE AND WILGUS ADDITION | Street Sweeping - Residen | ntial Stree | 0.41 | 40.00 | \$16.40 | 20-29-22-34-0079 |
| 1240 Burr St N | LOT 2 BLK 2 | Citywide Street Lighting | | 0.58 | 40.00 | \$23.20 | |
| St Paul MN 55130-3545 | | | | | | \$39.60 | |
| *1240 BURR ST | | *** Owner and Taxpayer | . *** | | | | |
| *Ward: 5 | | T | Total Assessm | nent: | | \$39.60 | |
| *Pending as of: 8/24/2021 | | Т | This Payment | : | | \$0.00 | |
| | | (| Current Year | Principal: | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | F | Payoff Amou | nt: | | \$39.60 | |
| Fyr Sfr Borrower Llc | CLARKE AND WILGUS ADDITION | Street Sweeping - Residen | ntial Stree | | | | |
| Co Havenbrook Homes | LOT 7 BLK 2 | Citywide Street Lighting | | 0.58 | 40.00 | \$23.20 | 20-27-22-34-0002 |
| 3505 Koger Blvd Ste 400 | | | | | _ | \$39.60 | |
| Duluth GA 30096-7672 | | *** Owner and Taxpayer | *** | | | ψ32.00 | |
| *1220 BURR ST | | T | Total Assessm | nent: | | \$39.60 | |
| *Ward: 5 | | Т | This Payment | : | | \$0.00 | |
| *Pending as of: 8/24/2021 | | (| Current Year | Principal: | | \$0.00 | |
| | | (| Current Year | Interest: | | \$0.00 | |
| | | F | Payoff Amou | nt: | | \$39.60 | |
| | CLARKE AND WILGUS ADDITION W | Street Sweeping - Comme | ercial/Art | | | | |
| 495 Maryland Ave E | 40 FT OF E 80 FT OF LOTS 9 10 AND | Citywide Street Lighting | | 0.58 | 40.00 | \$23.20 | 20-29-22-34-0085 |
| St Paul MN 55130-3613 | LOT 11 BLK 2 | | | | _ | \$64.80 | |
| *495 MARYLAND AVE E | | *** Owner and Taxpayer | *** | | | ψο 1.00 | |
| *Ward: 5 | | | Total Assessm | aant: | | \$64.80 | |
| *Pending as of: 8/24/2021 | | | Total Assessn This Payment | | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Current Year 1 | - | | \$0.00 | |
| | | | | | | | |

\$64.80

\$39.60

\$39.60

\$59.18

\$121.94

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Ratification Date: | Project: 2021 Resolution #: | | Assmt: 210025 | Manager: LMR | Page 300 |
|---------------------------------------------------------------|------------------------------------------------|------------------------------------------------------------------------|---------------------------------|----------------------|-------------------------|------------------------------|------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Cassandra Jerrett 1232 Bradley St St Paul MN 55130-3506 | CLARKE AND WILGUS ADDITION LOT 13 BLK 3 | Street Sweeping - Reside Alley Sweeping Citywide Street Lighting | | 0.41 0.14 0.58 | 40.00 40.00 40.00 | \$16.40 \$5.60 \$23.20 | 20-29-22-34-0115 |
| *1232 BRADLEY ST *Ward: 5 | | *** Owner and Taxpaye | er *** | | _ | \$45.20 | |
| *Pending as of: 8/24/2021 | | | Total Assessm | | | \$45.20 | |
| | | | This Payment: Current Year F | | | \$0.00 \$0.00 | |
| | | | Current Year I | | | \$0.00 | |
| | | | Payoff Amoun | | | \$45.20 | |
| Kbd Investments Llc | CLARKE AND WILGUS ADDITION | Street Sweeping - Reside | – — — — ential Stree | | | | <u> </u> |
| 877 White Bear Ave N #2 | LOT 14 BLK 3 | Alley Sweeping | | 0.14 | 40.00 | \$5.60 | 20-27-22-34-0110 |
| St Paul MN 55106-4303 | | Citywide Street Lighting | 3 | 0.58 | 40.00 | \$23.20 | |
| *1228 BRADLEY ST | | | | | _ | \$45.20 | |
| *Ward: 5 | | *** Owner and Taxpaye | er *** | | | | |
| *Pending as of: 8/24/2021 | | | Total Assessm | ent: | | \$45.20 | |
| | | | This Payment: | | | \$0.00 | |
| | | | Current Year F | - | | \$0.00 | |
| | | | Current Year I | | | \$0.00 | |
| | | | Payoff Amour | nt: | | \$45.20 | |
| Keith P Horrigan | CLARKE AND WILGUS ADDITION N | Street Sweeping - Reside | ential Stree | 0.41 | 50.00 | \$20.50 | 20-29-22-34-0118 |
| Nicole A Horrigan | 20 FT OF LOT 17 AND S 30 FT OF LOT 16 BLK 3 | Alley Sweeping | | 0.14 | 50.00 | \$7.00 | |
| 1220 Bradley St | 10221 | Citywide Street Lighting | 3 | 0.58 | 50.00 | \$29.00 | |
| St Paul MN 55130-3506 | | *** O 1 T | ata ata ata | | | \$56.50 | |
| *1220 BRADLEY ST | | *** Owner and Taxpaye | er *** | | | | |
| *Ward: 5 | | | Total Assessm | | | \$56.50 | |
| *Pending as of: 8/24/2021 | | | This Payment: | | | \$0.00 | |
| | | | Current Year F | • | | \$0.00 | |
| | | | Current Year I | | | \$0.00 | |
| | | | Payoff Amoun | nt: | | \$56.50 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Ratification Date: | Project: 2021Si Resolution #: | MSP | Assmt: 210025 | Manager: LMR | Page 301 |
|-------------------------------------------|------------------------------------------------|---------------------------------------|----------------------------------|----------|-----------------|--------------|------------------|
| Owner or Taxpayer | Property Description | Item Description | <u>U</u> | nit Rate | Quantity | Charge Amts | Property ID |
| Aranya Thor | CLARKE AND WILGUS ADDITION N | Street Sweeping - Residen | ntial Stree | 0.41 | 50.00 | \$20.50 | 20-29-22-34-0119 |
| Boua Vahn Thor | 30 FT OF LOT 18 AND S 20 FT OF LOT 17 BLK 3 | Alley Sweeping | | 0.14 | 50.00 | \$7.00 | |
| 1218 Bradley St | | Citywide Street Lighting | | 0.58 | 50.00 | \$29.00 | |
| St Paul MN 55130-3506 *1218 BRADLEY ST | | *** Owner and Taxpayer | . *** | | | \$56.50 | |
| *Ward: 5 | | - | | | - | | |
| *Pending as of: 8/24/2021 | | | Total Assessmen | ıt: | | \$56.50 | |
| 1 Chaing as 01. 6/24/2021 | | | This Payment: | | | \$0.00 | |
| | | | Current Year Pri | _ | | \$0.00 | |
| | | | Current Year Into | | | \$0.00 | |
| | | 1 | Payoff Amount: | : | | \$56.50 | |
| | CLARKE AND WILGUS ADDITION EX | Street Sweeping - Commo | ercial/Art | 1.04 | | | <u> </u> |
| Ruby N Nguyen | N 30 FT OF LOT 18 & ALL OF LOTS 19, | Street Sweeping - Resider | | 0.41 | 62.50 | \$25.63 | 20-27-22-34-0120 |
| 1119 East River Rd | 20 & LOT 21 BLK 3 | Alley Sweeping | | 0.14 | 5.00 | \$0.70 | |
| Minneapolis MN 55414-3106 | | Citywide Street Lighting | | 0.58 | 121.00 | \$70.18 | |
| *525 MARYLAND AVE E | | | | | - | \$157.35 | |
| *Ward: 5 | | *** Owner and Taxpayer | *** | | | | |
| *Pending as of: 8/24/2021 | | - | Total Assessmen | ıt: | - | \$157.35 | |
| | | This Payment: | | | | \$0.00 | |
| | | | Current Year Principal: | | | \$0.00 | |
| | | | Current Year Into | | | \$0.00 | |
| | | 1 | Payoff Amount: | 1 | | \$157.35 | |
| Fyr Sfr Borrower Llc | SCHMIT'S ADDITION LOTS 22 AND | Street Sweeping - Commo | ercial/Art | — | | | |
| Co Havenbrook Homes | LOT 23 | Alley Sweeping | | 0.14 | 68.00 | \$9.52 | 20-27-22-34-0121 |
| 3505 Koger Blvd Ste 400 | | Citywide Street Lighting | | 0.58 | 73.00 | \$42.34 | |
| Duluth GA 30096-7672 | | | | | _ | \$127.78 | |
| *535 MARYLAND AVE E | | *** Owner and Taxpayer | *** | | | | |
| *Ward: 5 | | - - | Total Assessmen | nt: | <u>-</u> | \$127.78 | |
| *Pending as of: 8/24/2021 | | | This Payment: | | | \$0.00 | |
| | | (| Current Year Pri | ncipal: | | \$0.00 | |
| | | (| Current Year Into | erest: | | \$0.00 | |
| | | 1 | Payoff Amount: | : | | \$127.78 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll b | oy PID (Fee to Asmt) Ratification Date: | Project: 202 | | Assmt: 210025 | Manager: LMR | Page 304 |
|------------------------------------------------------------|--------------------------------------|-------------------------------------------------------------------|-------------------|----------------------|-------------------------|------------------------------|-------------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Sarah E Huffman 1243 Jessie St St Paul MN 55130-3546 | SCHMIT'S ADDITION LOT 13 | Street Sweeping - Resident Alley Sweeping Citywide Street Lightin | | 0.41 0.14 0.58 | 40.00 40.00 40.00 | \$16.40 \$5.60 \$23.20 | 20-29-22-34-0131 |
| *1243 JESSIE ST | | | | | _ | \$45.20 | |
| *Ward: 5 | | *** Owner and Taxpay | /er *** | | | | |
| *Pending as of: 8/24/2021 | | | Total Assessi | ment: | | \$45.20 | |
| | | | This Paymen | t: | | \$0.00 | |
| | | | Current Year | - | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amou | unt: | | \$45.20 | |
| | SCHMIT'S ADDITION LOT 11 | Street Sweeping - Resid | dential Streε | | | | |
| Melody Gardner | | Alley Sweeping | | 0.14 | 40.00 | \$5.60 | 20 25 22 01 0100 |
| 1249 Jessie St | | Citywide Street Lightin | ng | 0.58 | 40.00 | \$23.20 | |
| St Paul MN 55130-3546 | | | | | - | \$45.20 | |
| *1249 JESSIE ST | | *** Owner and Taxpay | /er *** | | | | |
| *Ward: 5 | | | Total Assessi | ment: | | \$45.20 | |
| *Pending as of: 8/24/2021 | | | This Paymen | t: | | \$0.00 | |
| | | | Current Year | Principal: | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amou | unt: | | \$45.20 | |
| | SCHMIT'S ADDITION LOT 9 | Street Sweeping - Resid | dential Streε | | | | <u>20-29-22-34-0135</u> |
| Trent Homard | | Alley Sweeping | | 0.14 | 40.00 | \$5.60 | 20 29 22 01 0100 |
| 1259 Jessie St | | Citywide Street Lightin | ng | 0.58 | 40.00 | \$23.20 | |
| St Paul MN 55130-3546 | | | | | - | \$45.20 | |
| *1259 JESSIE ST | | *** Owner and Taxpay | /er *** | | | | |
| *Ward: 5 | | | Total Assessi | ment: | | \$45.20 | |
| *Pending as of: 8/24/2021 | | | This Paymen | t: | | \$0.00 | |
| | | | Current Year | Principal: | | \$0.00 | |
| | | | Current Year | Interest: | | \$0.00 | |
| | | | Payoff Amou | unt: | | \$45.20 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by I | PID (Fee to Asmt) Ratification Date: | Project: 202 Resolution | | Assmt: 210025 | Manager: LMR | Page 305 |
|---------------------------|---------------------------------------------------------------------|-----------------------------------------|-------------------------|--------------|-----------------|--------------|--------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Fyr Sfr Borrower Llc | SCHMIT'S ADDITION LOT 8 | Street Sweeping - Resid | ential Stree | 0.41 | 40.00 | \$16.40 | 20-29-22-34-0136 |
| Co Havenbrook Homes | | Alley Sweeping | | 0.14 | 40.00 | \$5.60 | |
| 3505 Koger Blvd Ste 400 | | Citywide Street Lighting | g | 0.58 | 40.00 | \$23.20 | |
| Duluth GA 30096-7672 | | | | | | \$45.20 | |
| *1261 JESSIE ST | | *** Owner and Taxpaye | er *** | | | | |
| *Ward: 5 | | | Total Assess | ment: | - | \$45.20 | |
| *Pending as of: 8/24/2021 | | | This Paymer | nt: | | \$0.00 | |
| | | | Current Year | r Principal: | | \$0.00 | |
| | | | Current Year | r Interest: | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$45.20 | |
| | | | | | | | |
| | SCHMIT'S ADDITION LOT 5 | Street Sweeping - Resid | ential Stree | 0.41 | | \$16.40 | 20-29-22-34-0139 |
| Dah Po | | Alley Sweeping | | 0.14 | 83.00 | \$11.62 | 20-27-22-34-0137 |
| 1271 Jessie St | | Citywide Street Lighting | g | 0.58 | 40.00 | \$23.20 | |
| St Paul MN 55130-3546 | | | | | _ | \$51.22 | |
| *1271 JESSIE ST | | *** Owner and Taxpaye | er *** | | | | |
| *Ward: 5 | | | Total Assess | ment: | <u>-</u> | \$51.22 | |
| *Pending as of: 8/24/2021 | | | This Paymer | nt: | | \$0.00 | |
| | | | Current Year | r Principal: | | \$0.00 | |
| | | | Current Year | r Interest: | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$51.22 | |
| | | | | | | | |
| Mari A Sagmo | DITTMANN'S SUBDIVISION ETC. PART | Street Sweeping - Comm | nercial/Art | 1.04 | 107.00 | \$111.28 | 20-29-22-34-0142 |
| 567 Brainerd Ave | OF LOTS 1 AND 2 WLY OF A L BEG AT PT ON N L OF AND 20 FT FROM NE | Citywide Street Lighting | g | 0.58 | 107.00 | \$62.06 | |
| St Paul MN 55101-3567 | COR OF SD LOT 2 TH S PAR WITH E L | | | | _ | \$173.34 | |
| *567 BRAINERD AVE | OF LOT 2 46 7/10 FT TH SELY TO PT ON ELY L OF AND 18 FT FROM SE | *** Owner and Taxpaye | er *** | | | | |
| *Ward: 5 | | | Total Assess | ment: | | \$173.34 | |
| *Pending as of: 8/24/2021 | | | This Paymer | nt: | | \$0.00 | |
| | | | Current Year | _ | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$173.34 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by I | PID (Fee to Asmt) Ratification Date: | Project: 20 Resolution | | Assmt: 210025 | Manager: LMR | Page 300 |
|--------------------------------------------|-----------------------------------------------------------------------|--------------------------------------|---------------------------|--------------|----------------------|--------------|--------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Stanley James Anselowitz | DITTMANN'S SUBDIVISION ETC. EX N | Street Sweeping - Co | | 1.04 | 96.00 | \$99.84 | 20-29-22-34-0143 |
| Kirsten Ann Anselowitz | 65 FT LOT 3 | Citywide Street Light | ting | 0.58 | 96.00 | \$55.68 | |
| 563 Brainerd Ave | | | | | _ | \$155.52 | |
| St Paul MN 55130-3567 | | *** Owner and Taxp | ayer *** | | | | |
| *563 BRAINERD AVE | | | Total Assess | sment: | | \$155.52 | |
| *Ward: 5 | | | This Payme | nt: | | \$0.00 | |
| *Pending as of: 8/24/2021 | | | Current Yea | r Principal: | | \$0.00 | |
| | | | Current Yea | r Interest: | | \$0.00 | |
| | | | Payoff Amo | ount: | | \$155.52 | |
| Clark Daniel Baty | DITTMANN'S SUBDIVISION ETC. EX | Street Sweeping - Co | mmercial/Art | | — — 93.00 | | |
| 1311 Edgerton St | THE S 88 FT LOT 5 | Citywide Street Light | ting | 0.58 | 93.00 | \$53.94 | 20 27 22 01 0111 |
| St Paul MN 55130-3557 | | | | | _ | \$150.66 | |
| *1311 EDGERTON ST | | *** Owner and Taxp | ayer *** | | | | |
| *Ward: 5 | | | Total Assess | sment: | | \$50.66 | |
| *Pending as of: 8/24/2021 | | | This Payme | nt: | | \$0.00 | |
| | | | Current Yea | r Principal: | | \$0.00 | |
| | | | Current Yea | ır Interest: | | \$0.00 | |
| | | | Payoff Amo | ount: | | \$50.66 | |
| | | | | | | | ***ESCROW*** |
| Kenia Teresa Guevara | DITTMANN'S SUBDIVISION ETC. PART | Street Sweeping - Co | mmercial/Art | 1.04 | | \$43.68 | |
| 1307 Edgerton St | E OF L RUN N AT ANGLE OF 91 DEG 01 MIN TO R FROM PT ON N L OF THE | Citywide Street Light | ting | 0.58 | 42.00 | \$24.36 | |
| St Paul MN 55130-3557 *1307 EDGERTON ST | S 46 FT OF SD LOT AND 147 68/100 FT W THEREON FROM E L OF LOT 5 OF | *** Owner and Taxp | ayer *** | | _ | \$68.04 | |
| *Ward: 5 | FOL N 42 FT OF S 88 FT OF LOT 5 | | Total Assess | sment: | | \$68.04 | |
| *Pending as of: 8/24/2021 | | | This Payme | | | \$0.00 | |
| | | | Current Yea | | | \$0.00 | |
| | | | Current Yea | r Interest: | | \$0.00 | |
| | | | Payoff Amo | ount: | | \$68.04 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by l | PID (Fee to Asmt) Ratification Date: | Project: 20 Resolution | | Assmt: 210025 | Manager: LMR | Page 30 |
|----------------------------------------------------|------------------------------------------------------------------------------------------------|--------------------------------------|---------------------------|--------------|-----------------|--------------|--------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Kao Nyia Vue | DITTMANN'S SUBDIVISION ETC. EX E | Street Sweeping - Com | mercial/Art | 1.04 | 83.50 | \$86.84 | 20-29-22-34-0146 |
| 560 Brainerd Ave | 130 FT THE FOL BEG AT SE COR OF LOT 5 TH N 46 FT TH W 147 68/100 FT | Citywide Street Lightin | ng | 0.58 | 83.50 | \$48.43 | |
| St Paul MN 55130-3553 * 560 BRAINERD AVE | TH RUN N AT ANGLE OF 91 DEG 01 MIN TO R TO NW L OF SD LOT TH TO W COR OF SD LOT TH E TO BEG IN | *** Owner and Taxpay | /er *** | | _ | \$135.27 | |
| *Ward: 5 | w COR OF 3D EOT THE TO BEGIN | | Total Assess | ment: | | \$135.27 | |
| *Pending as of: 8/24/2021 | | | This Paymer | nt: | | \$0.00 | |
| | | | Current Year | r Principal: | | \$0.00 | |
| | | | Current Year | r Interest: | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$135.27 | |
| | DITTMANN'S SUBDIVISION ETC. E 130 | | mercial/Art | | | | |
| 10395 Waterfront Dr | FT OF S 46 FT OF LOT 5 | Citywide Street Lightin | | 0.58 | 46.00 | \$26.68 | 20 27 22 01 0117 |
| Woodbury MN 55129-8534 | | | | | _ | \$74.52 | |
| *1303 EDGERTON ST | | *** Owner and Taxpay | /er *** | | | | |
| *Ward: 5 | | | Total Assess | ment: | | \$74.52 | |
| *Pending as of: 8/24/2021 | | | This Paymer | nt: | | \$0.00 | |
| | | | Current Year | r Principal: | | \$0.00 | |
| | | | Current Year | r Interest: | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$74.52 | |
| | DITTMANN'S SUBDIVISION ETC. NW | Street Sweeping - Resid | dential Streε | | | | |
| C/O Havenbrook Homes | 1/4 OF LOT 6 | Citywide Street Lightin | | 0.58 | 42.00 | \$24.36 | 20-27-22-34-0147 |
| 3505 Koger Blvd Ste 400 | | | | | _ | \$41.58 | |
| Duluth GA 30096-7672 | | *** Owner and Taxpay | /er *** | | | • • • | |
| *1292 JESSIE ST | | | Total Assess | ment· | - | \$41.58 | |
| *Ward: 5 | | | This Paymer | | | \$0.00 | |
| *Pending as of: 8/24/2021 | | | Current Year | | | \$0.00 | |
| | | | Current Year | _ | | \$0.00 | |
| | | | Payoff Amo | | | \$41.58 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by F | PID (Fee to Asmt) Ratification Date: | Project: 20 Resolution | | Assmt: 210025 | Manager: LMR | Page 308 |
|---------------------------|-----------------------------------------|--------------------------------------|---------------------------|--------------|-----------------|--------------|--------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Lang Lang Properties Llc | DITTMANN'S SUBDIVISION ETC. SW | Street Sweeping - Res | sidential Stree | 0.41 | 42.00 | \$17.22 | 20-29-22-34-0150 |
| 733 Aurora Ave | 1/4 OF LOT 6 | Citywide Street Light | ting | 0.58 | 42.00 | \$24.36 | |
| St Paul MN 55104-4986 | | | | | _ | \$41.58 | |
| *1288 JESSIE ST | | *** Owner and Taxpa | ayer *** | | | | |
| *Ward: 5 | | | Total Assess | sment: | | \$41.58 | |
| *Pending as of: 8/24/2021 | | | This Payme | nt: | | \$0.00 | |
| | | | Current Yea | r Principal: | | \$0.00 | |
| | | | Current Yea | r Interest: | | \$0.00 | |
| | | | Payoff Amo | ount: | | \$41.58 | |
| Kathryn S Smith | DITTMANN'S SUBDIVISION ETC. E 1/2 | Street Sweeping - Co | mmercial/Art | | | | 20-29-22-34-0152 |
| 1287 Edgerton St | OF LOT 7 | Citywide Street Light | ting | 0.58 | 64.00 | \$37.12 | 20 29 22 01 0102 |
| St Paul MN 55130-3528 | | | | | _ | \$103.68 | |
| *1287 EDGERTON ST | | *** Owner and Taxpa | ayer *** | | | | |
| *Ward: 5 | | | Total Assess | sment: | | \$103.68 | |
| *Pending as of: 8/24/2021 | | | This Payme | nt: | | \$0.00 | |
| | | | Current Yea | r Principal: | | \$0.00 | |
| | | | Current Yea | r Interest: | | \$0.00 | |
| | | | Payoff Amo | ount: | | \$103.68 | |
| | DITTMANN'S SUBDIVISION ETC. S 4 FT | | sidential Stree | | | | |
| 1278 Jessie St | OF W 1/2 OF LOT 7 & EX S 4FT W 1/2 | Citywide Street Light | | 0.58 | 64.00 | \$37.12 | 20-2)-22-34-0134 |
| St Paul MN 55130-3547 | OF LOT 8 | | | | _ | \$63.36 | |
| *1278 JESSIE ST | | *** Owner and Taxpa | ayer *** | | | | |
| *Ward: 5 | | | Total Assess | sment: | | \$63.36 | |
| *Pending as of: 8/24/2021 | | | This Paymen | | | \$0.00 | |
| | | | Current Yea | | | \$0.00 | |
| | | | Current Yea | • | | \$0.00 | |
| | | | Payoff Amo | ount: | | \$63.36 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Ratification Date: | Project: 20 Resolution | | Assmt: 210025 | Manager: LMR | Page 309 |
|--------------------------------------------|-----------------------------------------------|------------------------------------------------|---------------------------|--------------|-----------------|--------------------|------------------------------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Alexander Anderson-Frake 1277 Edgerton St | DITTMANN'S SUBDIVISION ETC. E 1/2 OF LOT 9 | Street Sweeping - Cor Citywide Street Light | | 1.04 | 64.00 64.00 | \$66.56 \$37.12 | 20-29-22-34-0156 |
| St Paul MN 55130-3528 *1277 EDGERTON ST | | *** Owner and Taxpa | ayer *** | | _ | \$103.68 | |
| *Ward: 5 | | | Total Assess | sment: | - | \$103.68 | |
| *Pending as of: 8/24/2021 | | | This Paymer | nt: | | \$0.00 | |
| | | | Current Yea | r Principal: | | \$0.00 | |
| | | | Current Yea | r Interest: | | \$0.00 | |
| | | | Payoff Amo | ount: | | \$103.68 | |
| | DITTMANN'S SUBDIVISION ETC. W | | sidential Stree | | | | 20-29-22-34-0158 |
| Hli L Yang | 111 FT OF LOT 10 | Citywide Street Light | ing | 0.58 | 64.00 | \$37.12 | _, _, _, _, _, ,, ,, ,, ,, ,, ,, ,, ,, , |
| 1268 Jessie St | | | | | _ | \$63.36 | |
| St Paul MN 55130-3547 | | *** Owner and Taxpa | ayer *** | | | | |
| *1268 JESSIE ST | | | Total Assess | sment: | | \$63.36 | |
| *Ward: 5 | | | This Paymer | nt: | | \$0.00 | |
| *Pending as of: 8/24/2021 | | | Current Yea | r Principal: | | \$0.00 | |
| | | | Current Yea | r Interest: | | \$0.00 | |
| | | | Payoff Amo | ount: | | \$63.36 | |
| Anna M Smith | DITTMANN'S SUBDIVISION ETC. EX W | Street Sweeping - Con | mmercial/Art | | | | |
| 4096 States Ave | 111 FT LOT 10 | Citywide Street Light | | 0.58 | 64.00 | \$37.12 | 20-27-22-34-0137 |
| Eagan MN 55123-1592 | | | | | = | \$103.68 | |
| *1271 EDGERTON ST | | *** Owner and Taxpa | ayer *** | | | | |
| *Ward: 5 | | | Total Assess | sment: | - | \$103.68 | |
| *Pending as of: 8/24/2021 | | | This Payme | nt: | | \$0.00 | |
| | | | Current Yea | r Principal: | | \$0.00 | |
| | | | Current Yea | r Interest: | | \$0.00 | |
| | | | Payoff Amo | ount: | | \$103.68 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by I | PID (Fee to Asmt) Ratification Date: | Project: 20 Resolution | | Assmt: 210025 | Manager: LMR | Page 310 |
|---------------------------|-----------------------------------------|--------------------------------------|---------------------------|--------------|---------------|--------------|--------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Chad B Moua | DITTMANN'S SUBDIVISION ETC. EX W | Street Sweeping - Co | | 1.04 | 64.00 | \$66.56 | 20-29-22-34-0160 |
| 1263 Edgerton St | 121 78/100 FT LOT 11 | Citywide Street Light | ting | 0.58 | 64.00 | \$37.12 | |
| St Paul MN 55130-3528 | | | | | _ | \$103.68 | |
| *1263 EDGERTON ST | | *** Owner and Taxpa | ayer *** | | | | |
| *Ward: 5 | | | Total Assess | ment: | | \$103.68 | |
| *Pending as of: 8/24/2021 | | | This Paymer | nt: | | \$0.00 | |
| | | | Current Year | r Principal: | | \$0.00 | |
| | | | Current Year | r Interest: | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$103.68 | |
| | DITTMANN'S SUBDIVISION ETC. W | | sidential Stree | | | | |
| 1264 Jessie St | 121 78/100 FT OF LOT 11 | Citywide Street Light | ting | 0.58 | 64.00 | \$37.12 | 20 27 22 01 0101 |
| St Paul MN 55130-3547 | | | | | _ | \$63.36 | |
| *1264 JESSIE ST | | *** Owner and Taxpa | ayer *** | | | | |
| *Ward: 5 | | | Total Assess | ment: | • | \$63.36 | |
| *Pending as of: 8/24/2021 | | | This Paymer | | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Current Year | r Interest: | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$63.36 | |
| | DITTMANN'S SUBDIVISION ETC. W | Street Sweeping - Res | sidential Streε | | | | |
| Carol A Conelly | 120 FT OF LOT 12 | Citywide Street Light | | 0.58 | 64.00 | \$37.12 | 20-27-22-34-0102 |
| 1256 Jessie St | | | | | _ | \$63.36 | |
| St Paul MN 55130-3547 | | *** Owner and Taxpa | ayer *** | | | Ψ03.50 | |
| *1256 JESSIE ST | | | Total Assess | ment: | | \$63.36 | |
| *Ward: 5 | | | This Paymer | | | \$0.00 | |
| *Pending as of: 8/24/2021 | | | Current Year | | | \$0.00 | |
| | | | Current Year | • | | \$0.00 | |
| | | | Payoff Amo | | | \$63.36 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by I | PID (Fee to Asmt) Ratification Date: | Project: 20 Resolution | | Assmt: 210025 | Manager: LMR | Page 311 |
|----------------------------|-----------------------------------------|-----------------------------------------|---------------------------|-------------|-----------------|-----------------|--------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Jaime A Diaz | DITTMANN'S SUBDIVISION ETC. W | Street Sweeping - Res | | 0.41 | 64.00 | \$26.24 | 20-29-22-34-0165 |
| Jessica M Diaz | 120 FT OF LOT 13 | Citywide Street Light | ting | 0.58 | 64.00 | \$37.12 | |
| 1250 Jessie St | | | | | | \$63.36 | |
| St Paul MN 55130-3547 | | *** Owner and Taxpa | ayer *** | | | | |
| *1250 JESSIE ST | | | Total Assess | sment: | | \$63.36 | |
| *Ward: 5 | | | This Paymer | nt: | | \$0.00 | |
| *Pending as of: 8/24/2021 | | | Current Yea | - | | \$0.00 | |
| | | | Current Yea | | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$63.36 | |
| | DITTMANN'S SUBDIVISION ETC. W 1/2 | Street Sweeping - Res | sidential Streε | | | | 20-29-22-34-0166 |
| Char Zick Sokatch | OF LOT 14 | Citywide Street Light | ting | 0.58 | 64.00 | \$37.12 | 20 29 22 01 0100 |
| 1242 Jessie St | | | | | _ | \$63.36 | |
| St Paul MN 55130-3547 | | *** Owner and Taxpa | ayer *** | | | | |
| *1242 JESSIE ST | | | Total Assess | ment: | - | \$63.36 | |
| *Ward: 5 | | | This Paymer | | | \$0.00 | |
| *Pending as of: 8/24/2021 | | | Current Yea | | | \$0.00 | |
| | | | Current Yea | r Interest: | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$63.36 | |
| Del Co Limited Partnership | DITTMANN'S SUBDIVISION ETC. E 1/2 | Street Sweeping - Co | mmercial/Art | | | | |
| Po Box 17122 | OF LOT 14 | Citywide Street Light | | 0.58 | 64.00 | \$37.12 | 20-29-22-34-010/ |
| St Paul MN 55117-0122 | | | | | _ | \$103.68 | |
| *1247 EDGERTON ST | | *** Owner and Taxpa | ayer *** | | | \$105.00 | |
| *Ward: 5 | | | Total Assess | ment: | | \$103.68 | |
| *Pending as of: 8/24/2021 | | | This Paymer | | | \$0.00 | |
| | | | Current Yea | | | \$0.00 | |
| | | | Current Yea | - | | \$0.00 | |
| | | | Payoff Amo | ount: | | \$103.68 | |

\$103.68

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Ratification Date: | Project: 20 Resolution | | Assmt: 210025 | Manager: LMR | Page 3 |
|------------------------------|---------------------------------------|---------------------------------------|---------------------------|--------------|-----------------|--------------|--------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Michael F Gade | DITTMANN'S SUBDIVISION ETC. E 1/2 | Street Sweeping - Com | mercial/Art | 1.04 | 64.00 | \$66.56 | 20-29-22-34-0175 |
| Constance Gade | OF LOT 18 | Citywide Street Lightin | ng | 0.58 | 64.00 | \$37.12 | |
| 1225 Edgerton St | | | | | _ | \$103.68 | |
| St Paul MN 55130-3524 | | *** Owner and Taxpay | yer *** | | | | |
| *1225 EDGERTON ST | | | Total Assess | sment: | - | \$103.68 | |
| *Ward: 5 | | | This Payme | nt: | | \$0.00 | |
| *Pending as of: 8/24/2021 | | | Current Yea | r Principal: | | \$0.00 | |
| | | | Current Yea | r Interest: | | \$0.00 | |
| | | | Payoff Amo | ount: | | \$103.68 | |
| | DITTMANN'S SUBDIVISION ETC. N 1/2 | Street Sweeping - Com | mercial/Art | | | | <u> </u> |
| 1217 Edgerton St | OF E 1/2 OF LOT 19 | Citywide Street Lightin | ng | 0.58 | 32.00 | \$18.56 | 20 27 22 01 0170 |
| St Paul MN 55130-3524 | | | | | _ | \$51.84 | |
| *1217 EDGERTON ST | | *** Owner and Taxpay | yer *** | | | | |
| *Ward: 5 | | | Total Assess | sment: | = | \$51.84 | |
| *Pending as of: 8/24/2021 | | This Payment: | | | | \$0.00 | |
| | | | Current Yea | r Principal: | | \$0.00 | |
| | | | Current Yea | | | \$0.00 | |
| | | | Payoff Amo | ount: | | \$51.84 | |
| | DITTMANN'S SUBDIVISION ETC. S 1/2 | Street Sweeping - Com | mercial/Art | | | | <u> </u> |
| 7100 Northland Cir N Ste 410 | OF E 1/2 OF LOT 19 | Citywide Street Lightin | | 0.58 | 32.00 | \$18.56 | 20 27 22 01 01// |
| Brooklyn Park MN 55428-1500 | | | | | _ | \$51.84 | |
| *1215 EDGERTON ST | | *** Owner and Taxpay | yer *** | | | | |
| *Ward: 5 | | | Total Assess | sment: | - | \$51.84 | |
| *Pending as of: 8/24/2021 | | | This Payme | | | \$0.00 | |
| | | | Current Yea | | | \$0.00 | |
| | | | Current Yea | _ | | \$0.00 | |
| | | | Payoff Amo | ount: | | \$51.84 | |

\$53.46

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Ratification Date: | Project: 2021SMSP Resolution #: | | Assmt: 210025 | Manager: LMR | Page 315 |
|---------------------------------------------------------------------------------|---------------------------------------------------------------------------------|---------------------------------------------------------------|------------------------------------|------------------|-----------------|--------------------|--------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Juan Jose Escobar 561 Maryland Ave E | DITTMANN'S SUBDIVISION ETC. E 33 89/100 FT OF W 1/2 OF LOTS 20 AND LOT 21 | Street Sweeping - Comn Citywide Street Lighting | | 1.04 | 34.00 34.00 | \$35.36 \$19.72 | 20-29-22-34-0182 |
| St Paul MN 55130-3638 *561 MARYLAND AVE E *Ward: 5 *Pending as of: 8/24/2021 | | *** Owner and Taxpayer *** | | | | \$55.08 | |
| | | | Total Assessment: | | | \$55.08 | |
| | | This Payment: | | | | \$0.00 | |
| | | | Current Year | Principal: | | \$0.00 | |
| | | | Current Year | Interest: | | \$0.00 | |
| | | Payoff Amount: | | | | \$55.08 | |
| Yangbrothers Llc | DITTMANN'S SUBDIVISION ETC. S 42 | Street Sweeping - Comn | nercial/Art | | | | |
| 5150 Farnham Dr N | FT OF E 1/2 OF LOT 21 | Citywide Street Lighting | | 0.58 | 173.00 | \$100.34 | 20 27 22 01 0100 |
| Hugo MN 55038-9150 | | | | | | \$280.26 | |
| *1201 EDGERTON ST | | *** Owner and Taxpaye | er *** | | | | |
| *Ward: 5 *Pending as of: 8/24/2021 | | Total Assessment: | | | | \$280.26 | |
| | | This Payment: | | | | \$0.00 | |
| | | Current Year Principal: Current Year Interest: Payoff Amount: | | | | \$0.00 | |
| | | | | | | \$0.00 | |
| | | | | | | \$280.26 | |
| | DITTMANN'S SUBDIVISION ETC. S 20 | Street Sweeping - Comn | nercial/Art | | | | |
| 1577 Marion St | FT OF E 1/2 OF LOT 20 AND N 22 FT | Citywide Street Lighting | | 0.58 | 42.00 | \$24.36 | 4U-47-44-34-U104 |
| St Paul MN 55117-3637 | OF E 1/2 OF LOT 21 | , | | | = | \$68.04 | |
| *1205 EDGERTON ST | | *** Owner and Taxpayer *** | | | | φοσ.01 | |
| *Ward: 5 | | Total Assessment: | | | | \$68.04 | |
| *Pending as of: 8/24/2021 | | This Payment: Current Year Principal: | | | | \$0.00 | |
| | | | | | | \$0.00 | |
| | | | Current Year Interest: | | | \$0.00 | |
| | | | Payoff Amou | ınt: | | \$68.04 | |

\$47.46

\$118.31

\$47.46

\$51.48

\$96.80

Current Year Principal:

Current Year Interest:

Payoff Amount:

\$0.00

\$0.00

\$79.20

\$50.85

\$105.60

Total Assessment: This Payment:

Current Year Principal:

Current Year Interest:

Payoff Amount:

*Pending as of: 8/24/2021

\$70.40

\$0.00

\$0.00

\$0.00

\$84.48

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Ratification Date: | Project: 2021SMSP Resolution #: | | Assmt: 210025 | Manager: LMR | Page 358 |
|---------------------------------------------------------------------------------------|-----------------------------------------------------------------------------------|-----------------------------------------------------------------------------|------------------------------------|----------------------|------------------------------------------------|----------------|-------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Jason E Selness Hannah M Selness 1335 Searle St St Paul MN 55130-3425 *1335 SEARLE ST | SEARLE'S ADDITION TO THE CITY OF ST. PAUL, RAMSEY COUNTY, MINN. LOT 9 BLK 2 | Street Sweeping - Reside Alley Sweeping Citywide Street Lighting | | 0.41 0.14 0.58 | 40.00 \$16.40 40.00 \$5.60 40.00 \$23.20 | | 20-29-22-42-0103 |
| | | *** Owner and Taxpayer *** | | = | \$45.20 | | |
| *Ward: 6 *Pending as of: 8/24/2021 | | Total Assessment: | | | | \$45.20 | |
| | | This Payment: | | | \$0.00 | | |
| | | | Current Year Principal: | | | \$0.00 | |
| | | | Current Year I | nterest: | | \$0.00 | |
| | | | nt: | | \$45.20 | | |
| | SEARLE'S ADDITION TO THE CITY OF | Street Sweeping - Reside | ential Stree | 0.41 | | <u>\$16.40</u> | <u> </u> |
| Jessica Lee Casper | ST. PAUL, RAMSEY COUNTY, MINN. | Alley Sweeping | | 0.14 | 40.00 | \$5.60 | 20-27-22-42-010-4 |
| 1339 Searle St | LOT 8 BLK 2 | Citywide Street Lighting | 5 | 0.58 | 40.00 | \$23.20 | |
| St Paul MN 55130-3425 | | | | | _ | \$45.20 | |
| *1339 SEARLE ST | | *** Owner and Taxpayer *** | | | | | |
| *Ward: 6 *Pending as of: 8/24/2021 | | Total Assessment: | | | | \$45.20 | |
| | | This Payment: Current Year Principal: Current Year Interest: Payoff Amount: | | | \$0.00 | | |
| | | | | | | \$0.00 | |
| | | | | | | \$0.00 | |
| | | | | | | \$45.20 | |
| | SEARLE'S ADDITION TO THE CITY OF | Street Sweeping - Reside | ential Stree | 0.41 | | | <u> </u> |
| 1343 Searle St | ST. PAUL, RAMSEY COUNTY, MINN. | Alley Sweeping | | 0.14 | 40.00 | \$5.60 | 20 27 22 12 0103 |
| St Paul MN 55130-3425 | LOT 7 BLK 2 | Citywide Street Lighting | g | 0.58 | 40.00 | \$23.20 | |
| *1343 SEARLE ST | | | | | _ | \$45.20 | |
| *Ward: 6 | | *** Owner and Taxpayer *** | | | | | 0 |
| *Pending as of: 8/24/2021 | | Total Assessment: This Payment: Current Year Principal: | | | | \$45.20 | |
| | | | | | | \$0.00 | |
| | | | | | | \$0.00 | |
| | | | Current Year Interest: | | | | |
| | | | Payoff Amount: | | | | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Ratification Date: | Project: 2021SMSP Resolution #: | | Assmt: 210025 | Manager: LMR | Page 360 |
|-------------------------------------------------------------|-----------------------------------------------------------------------------------|------------------------------------------------------------------------|------------------------------------|----------------------|-------------------------|------------------------------|-------------------------|
| Owner or Taxpayer | Property Description | Item Description | <u>I</u> | <u>Unit Rate</u> | Quantity | Charge Amts | Property ID |
| Arlene E Sobiech 1370 Searle St St Paul MN 55130-3426 | SEARLE'S ADDITION TO THE CITY OF ST. PAUL, RAMSEY COUNTY, MINN. LOT 1 BLK 1 | Street Sweeping - Reside Alley Sweeping Citywide Street Lighting | | 0.41 0.14 0.58 | 45.00 45.00 45.00 | \$18.45 \$6.30 \$26.10 | 20-29-22-42-0111 |
| *1370 SEARLE ST *Ward: 6 *Pending as of: 8/24/2021 | | *** Owner and Taxpayer *** | | _ | \$50.85 | • | |
| | | Total Assessment: This Payment: | | | - | | \$50.85 |
| | | | | | | | \$0.00 |
| | | | Current Year Principal: | | | \$0.00 | |
| | | | Current Year In | | | \$0.00 | |
| | | Payoff Amount: | | | | \$50.85 | |
| Kimberly A Greene-Delanghe | SEARLE'S ADDITION TO THE CITY OF | Street Sweeping - Reside | ential Stree | 0.41 | 40.00 | \$16.40 | |
| Matthew Greene-Delanghe | ST. PAUL, RAMSEY COUNTY, MINN. LOT 3 BLK 1 | Alley Sweeping | | 0.14 | 40.00 | \$5.60 | |
| 43 Tilden Rd | LOT J BER 1 | Citywide Street Lighting | | 0.58 | 40.00 | \$23.20 | |
| New Lebanon NY 12125-3022 | | | | | | \$45.20 | |
| *1362 SEARLE ST | | *** Owner and Taxpayer *** | | | | | |
| *Ward: 6 | | Total Assessment: | | | | \$45.20 | |
| *Pending as of: 8/24/2021 | | | This Payment: | | | \$0.00 | |
| | | Current Year Principal: Current Year Interest: Payoff Amount: | | | \$0.00 | | |
| | | | | | | \$0.00 | |
| | | | | | | \$45.20 | |
| | SEARLE'S ADDITION TO THE CITY OF | Street Sweeping - Reside | ential Stree | 0.41 | | | <u>20-29-22-42-0114</u> |
| 1356 Searle St | ST. PAUL, RAMSEY COUNTY, MINN. | Alley Sweeping | | 0.14 | 40.00 | \$5.60 | 20 25 22 12 0111 |
| St Paul MN 55130-3426 | LOT 4 BLK 1 | Citywide Street Lighting | | 0.58 | 40.00 | \$23.20 | |
| *1356 SEARLE ST | | | | | _ | \$45.20 | |
| *Ward: 6 | | *** Owner and Taxpayer *** | | | | | |
| *Pending as of: 8/24/2021 | | Total Assessment: | | | | \$45.20 | |
| | | | This Payment: | | | \$0.00 | |
| | | Current Year Principal: Current Year Interest: Payoff Amount: | | | | \$0.00 | |
| | | | | | | \$0.00 | |
| | | | | | | \$45.20 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Ratification Date: | Project: 20218 Resolution #: | SMSP | Assmt: 210025 | Manager: LMR | Page 361 |
|-------------------------------------------------------------|-----------------------------------------------------------------------------------|------------------------------------------------------------------------|---------------------------------|----------------------------------------|-------------------------|------------------------------|--------------------------|
| Owner or Taxpayer | Property Description | Item Description | <u>I</u> | <u> Init Rate</u> | Quantity | Charge Amts | Property ID |
| Todd Stroschein 1348 Searle Ave St Paul MN 55130-3426 | SEARLE'S ADDITION TO THE CITY OF ST. PAUL, RAMSEY COUNTY, MINN. LOT 6 BLK 1 | Street Sweeping - Reside Alley Sweeping Citywide Street Lighting | | 0.41 0.14 0.58 | 40.00 40.00 40.00 | \$16.40 \$5.60 \$23.20 | 20-29-22-42-0116 |
| *1348 SEARLE ST *Ward: 6 | | *** Owner and Taxpaye | r *** | | _ | \$45.20 | |
| *Pending as of: 8/24/2021 | | | Total Assessme | nt: | - | \$45.20 | |
| | | | This Payment: | | | \$0.00 | |
| | | | Current Year Pr | incipal: | | \$0.00 | |
| | | | Current Year In | terest: | | \$0.00 | |
| | | | Payoff Amount | t: | | \$45.20 | |
| | SEARLE'S ADDITION TO THE CITY OF | | ential Stree | | | | <u> 20-29-22-42-0117</u> |
| Hu Hla Dah Wah | ST. PAUL, RAMSEY COUNTY, MINN. | Alley Sweeping | | 0.14 | 40.00 | \$5.60 | 20 23 22 12 0117 |
| 1344 Searle St | LOT 7 BLK 1 | Citywide Street Lighting | 5 | 0.58 | 40.00 | \$23.20 | |
| St Paul MN 55130-3426 | | | | | _ | \$45.20 | |
| *1344 SEARLE ST | | *** Owner and Taxpaye | r *** | | | | |
| *Ward: 6 | | | Total Assessme | nt: | | \$45.20 | |
| *Pending as of: 8/24/2021 | | | This Payment: | | | \$0.00 | |
| | | | Current Year Pr | rincipal: | | \$0.00 | |
| | | | Current Year In | | | \$0.00 | |
| | | | Payoff Amount | t: | | \$45.20 | |
| Scott Evans Wergin | SEARLE'S ADDITION TO THE CITY OF | Street Sweeping - Reside | ential Stree | —————————————————————————————————————— | | | <u> </u> |
| 1340 Searle St | ST. PAUL, RAMSEY COUNTY, MINN. | Alley Sweeping | | 0.14 | 40.00 | \$5.60 | 20 22 22 12 0110 |
| St Paul MN 55130-3426 | LOT 8 BLK 1 | Citywide Street Lighting | 5 | 0.58 | 40.00 | \$23.20 | |
| *1340 SEARLE ST | | | | | _ | \$45.20 | |
| *Ward: 6 | | *** Owner and Taxpaye | r *** | | | | |
| *Pending as of: 8/24/2021 | | | Total Assessme | nt: | | \$45.20 | |
| | | | This Payment: | | | \$0.00 | |
| | | | Current Year Pr | rincipal: | | \$0.00 | |
| | | | Current Year In | | \$0.00 | | |
| | | | Payoff Amount | t: | | \$45.20 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Ratification Date: | Project: 202 | | Assmt: 210025 | Manager: LMR | Page 362 |
|--------------------------------------------------------------------------------------------------------------------|------------------------------------------------------------------------------------------------------------------|----------------------------------------------------------------------------------------------|--------------------------|----------------------|-------------------------|--------------------------------------------------------------|------------------|
| Owner or Taxpayer | Property Description | Item Description | | <u>Unit Rate</u> | Quantity | Charge Amts | Property ID |
| Jennifer K Mason 1334 Searle St St Paul MN 55130-2574 | SEARLE'S ADDITION TO THE CITY OF ST. PAUL, RAMSEY COUNTY, MINN. LOT 9 BLK 1 | Street Sweeping - Resid Alley Sweeping Citywide Street Lightin | | 0.41 0.14 0.58 | 40.00 40.00 40.00 | \$16.40 \$5.60 \$23.20 | 20-29-22-42-0119 |
| *1334 SEARLE ST | | *** Owner and Taxpay | or *** | | _ | \$45.20 | |
| *Ward: 6 *Pending as of: 8/24/2021 | | Owner and Taxpay | | | <u> </u> | | |
| Fending as of. 8/24/2021 | | | Total Assess | | | \$45.20 | |
| | | | This Paymen | | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Current Year Payoff Amor | | | \$0.00 \$45.20 | |
| Bryce Berry Alyssa Clement 1324 Searle St St Paul MN 55130-3426 *1324 SEARLE ST *Ward: 6 *Pending as of: 8/24/2021 | SEARLE'S ADDITION TO THE CITY OF ST. PAUL, RAMSEY COUNTY, MINN. S 1/2 OF LOT 11 AND ALL OF LOT 12 BLK 1 | Street Sweeping - Resid Alley Sweeping Citywide Street Lightin *** Owner and Taxpay | ıg | | 87.50 60.00 87.50 | \$35.88 \$8.40 \$50.75 \$95.03 \$95.03 \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Current Year | _ | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$95.03 | |
| | - – – – – – – – – | | | | | | |
| Barnwirth Llc | DENNY HILL ADDITION TO THE CITY OF SAINT PAUL S 1/2 OF LOT 7 AND | Street Sweeping - Com | mercial/Art | 1.04 | 40.00 | \$41.60 | 20-29-22-42-0123 |
| 32 Mounds Blvd | ALL OF LOT 8 BLK 4 | Alley Sweeping | | 0.14 | 40.00 | \$5.60 | |
| St Paul MN 55106-6337 | | Citywide Street Lightin | ıg | 0.58 | 40.00 | \$23.20 | |
| *1323 PAYNE AVE | | *** Owner and Taxpay | ··· *** | | | \$70.40 | |
| *Ward: 6 | | Owner and Taxpay | er | | | | |
| *Pending as of: 8/24/2021 | | | Total Assess | ment: | | \$70.40 | |
| | | | This Paymen | | | \$0.00 | |
| | | | Current Year | _ | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$70.40 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Ratification Date: | Project: 202 | | Assmt: 210025 | Manager: LMR | Page 364 |
|----------------------------------------------------|----------------------------------------------------------------------------------------------------|--------------------------------------------------------------------|--------------|----------------------|-------------------------|------------------------------|------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Ter Mae 1347 Payne Ave St Paul MN 55130-3433 | DENNY HILL ADDITION TO THE CITY OF SAINT PAUL EX S 7 5/10 FT CLEAR AVE AS VAC BET BLKS 5 AND BLK 4 | Street Sweeping - Com Alley Sweeping Citywide Street Lightin | | 1.04 0.14 0.58 | 53.00 53.00 53.00 | \$55.12 \$7.42 \$30.74 | 20-29-22-42-0128 |
| *1347 PAYNE AVE | | *** Owner and Taxpay | /Ar *** | | | \$93.28 | |
| *Ward: 6 *Pending as of: 8/24/2021 | | Owner and Taxpay | | | | | |
| rending as of. 8/24/2021 | | | Total Assess | | | \$93.28 | |
| | | | This Paymen | | | \$0.00 | |
| | | | Current Year | • | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amo | unt. | | \$93.28 | |
| Steven D Mark Trustee | DENNY HILL ADDITION TO THE CITY | Street Sweeping - Com | mercial/Art | 1.04 | 57.00 | \$59.28 | 20-29-22-42-0129 |
| 2205 Ash St | OF SAINT PAUL LOTS 6 AND LOT 7 | Alley Sweeping | | 0.14 | 57.00 | \$7.98 | 10 25 11 0115 |
| White Bear Lake MN 55110-1052 | BLK 5 | Citywide Street Lightin | ng | 0.58 | 57.00 | \$33.06 | |
| *1353 PAYNE AVE | | | | | _ | \$100.32 | |
| *Ward: 6 | | *** Owner and Taxpay | /er *** | | | | |
| *Pending as of: 8/24/2021 | | | Total Assess | ment: | - | \$100.32 | |
| | | | This Paymen | nt: | | \$0.00 | |
| | | | Current Year | Principal: | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$100.32 | |
| Quality Residences Llc | DENNY HILL ADDITION TO THE CITY | Street Sweeping - Com | mercial/Art | | | \$26.00 | <u> </u> |
| 9617 Oak Ridge Tr | OF SAINT PAUL LOT 5 BLK 5 | Alley Sweeping | | 0.14 | 25.00 | \$3.50 | 20-27-22-42-0130 |
| Hopkins MN 55305-4642 | | Citywide Street Lightin | ng | 0.58 | 25.00 | \$14.50 | |
| *1355 PAYNE AVE | | | | | - | \$44.00 | |
| *Ward: 6 | | *** Owner and Taxpay | er *** | | | | |
| *Pending as of: 8/24/2021 | | | Total Assess | ment: | | \$44.00 | |
| | | | This Paymen | nt: | | \$0.00 | |
| | | | Current Year | Principal: | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$44.00 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Ratification Date: | Project: 20215 Resolution #: | | Assmt: 210025 | Manager: LMR | Page 365 |
|-----------------------------|-------------------------------------------------------------------|------------------------------------------|------------------------------|--------------|-----------------|--------------------|------------------|
| Owner or Taxpayer | Property Description | Item Description | 1 | Unit Rate | Quantity | Charge Amts | Property ID |
| David J Pate Sr | DENNY HILL ADDITION TO THE CITY | Street Sweeping - Comm | ercial/Art | 1.04 | 50.00 | \$52.00 | 20-29-22-42-0131 |
| Laurie A Pate | OF SAINT PAUL LOTS 3 AND LOT 4 BLK 5 | Alley Sweeping | | 0.14 | 50.00 | \$7.00 | |
| 1361 Payne Ave | DER 3 | Citywide Street Lighting | | 0.58 | 50.00 | \$29.00 | |
| St Paul MN 55130-6585 | | | | | | \$88.00 | |
| *1361 PAYNE AVE | | *** Owner and Taxpaye | r *** | | | | |
| *Ward: 6 | | | Total Assessme | ent: | - | \$88.00 | |
| *Pending as of: 8/24/2021 | | | This Payment: | | | \$0.00 | |
| | | | Current Year P | rincipal: | | \$0.00 | |
| | | | Current Year Ir | nterest: | | \$0.00 | |
| | | | Payoff Amoun | ıt: | | \$88.00 | |
| | | | | | | | |
| Jer Yang | DENNY HILL ADDITION TO THE CITY OF SAINT PAUL LOTS 1 AND LOT 2 | Street Sweeping - Comm Alley Sweeping | iercial/Art | 1.04 0.14 | 50.00 50.00 | \$52.00 \$7.00 | 20-29-22-42-0132 |
| 1367 Payne Ave | BLK 5 | Citywide Street Lighting | | 0.14 | 50.00 | \$29.00 | |
| St Paul MN 55130-3433 | | City wide Street Lighting | | 0.56 | 30.00 | | |
| *1367 PAYNE AVE *Ward: 6 | | *** Owner and Taxpaye | r *** | | | \$88.00 | |
| *Pending as of: 8/24/2021 | | | Total Assessme | ent: | | \$88.00 | |
| | | | This Payment: | | | \$0.00 | |
| | | | Current Year P | rincipal: | | \$0.00 | |
| | | | Current Year Ir | nterest: | | \$0.00 | |
| | | | Payoff Amount: | | | \$88.00 | |
| | | | | - — — | | | |
| Denton R Peterson | DENNY HILL ADDITION TO THE CITY OF SAINT PAUL N 10 FT OF LOT 3 | Street Sweeping - Comm | | 1.04 | 67.00 | \$69.68 | 20-29-22-42-0133 |
| Maureen A Messer | AND ALL OF LOTS 1 AND LOT 2 BLK | Street Sweeping - Reside | ential Stree | 0.41 | 110.00 | \$45.10 | |
| 1555 Lincoln Ave | 1 | Alley Sweeping Citywide Street Lighting | | 0.14 0.58 | 67.00 177.00 | \$9.38 \$102.66 | |
| St Paul MN 55105-2238 | | City wide Street Lighting | | 0.56 | = | • | |
| *644 SHERWOOD AVE | | *** Owner and Taxpaye | r *** | | | \$226.82 | |
| *Ward: 6 | | • • | | | - | | |
| *Pending as of: 8/24/2021 | | | Total Assessme | ent: | | \$226.82 | |
| | | | This Payment: | | | \$0.00 | |
| | | | Current Year P | _ | \$0.00 | | |
| | | | Current Year Ir | | | \$0.00 | |
| | | | Payoff Amoun | it: | | \$226.82 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Ratification Date: | Project: 2021 Resolution #: | | Assmt: 210025 | Manager: LMR | Page 30 |
|---------------------------|-------------------------------------------------------------------|---------------------------------------|--------------------------------|------------|-----------------|--------------|------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| | DENNY HILL ADDITION TO THE CITY | Street Sweeping - Comm | nercial/Art | 1.04 | 65.00 | \$67.60 | 20-29-22-42-0134 |
| Chue Nou Lee | OF SAINT PAUL EX N 10 FT LOT 3 AND ALL OF LOTS 4 AND LOT 5 BLK | Alley Sweeping | | 0.14 | 65.00 | \$9.10 | |
| 1394 Payne Av | 1 | Citywide Street Lighting | | 0.58 | 65.00 | \$37.70 | |
| St Paul MN 55130-3442 | | | | | | \$114.40 | |
| *1394 PAYNE AVE | | *** Owner and Taxpayer | r *** | | | | |
| *Ward: 6 | | ; | Total Assessm | ent: | - | \$114.40 | |
| *Pending as of: 8/24/2021 | | , | This Payment: | | | \$0.00 | |
| | | | Current Year P | Principal: | | \$0.00 | |
| | | (| Current Year I | nterest: | | \$0.00 | |
| | |] | Payoff Amour | nt: | | \$114.40 | |
| | DENNY HILL ADDITION TO THE CITY | Street Sweeping - Comm | ercial/Art | | | | |
| 1193 Payne Ave Unit 1 | OF SAINT PAUL LOT 8 BLK 1 | Street Sweeping - Reside | | 0.41 | 110.00 | \$45.10 | 20-27-22-42-0130 |
| St Paul MN 55130-3642 | | Alley Sweeping | | 0.14 | 32.00 | \$4.48 | |
| *1382 PAYNE AVE | | Citywide Street Lighting | | 0.58 | 142.00 | \$82.36 | |
| *Ward: 6 | | | | | = | \$165.22 | |
| *Pending as of: 8/24/2021 | | *** Owner and Taxpayer | r *** | | | 4.44. | |
| | | Total Assessment: | | | | \$165.22 | |
| | | , | This Payment: | | \$0.00 | | |
| | | | Current Year Principal: | | | \$0.00 | |
| | | (| Current Year I | nterest: | | \$0.00 | |
| | | 1 | Payoff Amour | nt: | | \$165.22 | |
| Efe Mike Puegeren | DENNY HILL ADDITION TO THE CITY | Street Sweeping - Reside | ential Stree | 0.41 | | | <u> </u> |
| Bridget O Puegeren | OF SAINT PAUL LOT 9 BLK 1 | Alley Sweeping | | 0.14 | 70.50 | \$9.87 | 4U-47-44-U13/ |
| 653 Cottage Ave E | | Citywide Street Lighting | | 0.58 | 39.00 | \$22.62 | |
| St Paul MN 55106-1706 | | | | | _ | \$48.48 | |
| *653 COTTAGE AVE E | | *** Owner and Taxpayer | r *** | | | φ10.10 | |
| *Ward: 6 | | ; | Total Assessm | ent: | - | \$48.48 | |
| *Pending as of: 8/24/2021 | | , | This Payment: | | | \$0.00 | |
| | | | Current Year F | | | \$0.00 | |
| | | (| Current Year I | nterest: | | \$0.00 | |
| | |] | Payoff Amour | ıt: | | \$48.48 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Ratification Date: | Project: 2021 Resolution # | | Assmt: 210025 | Manager: LMR | Page 368 |
|--------------------------------------------------------------------------|---------------------------------------------------------------|------------------------------------------------------------------------|-------------------------------|----------------------|-------------------------|------------------------------|--------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Home Sfr Borrower Llc C/O Havenbrook Homes 3505 Koger Blvd Ste 400 | DENNY HILL ADDITION TO THE CITY OF SAINT PAUL LOT 16 BLK 1 | Street Sweeping - Reside Alley Sweeping Citywide Street Lighting | | 0.41 0.14 0.58 | 39.00 39.00 39.00 | \$15.99 \$5.46 \$22.62 | 20-29-22-42-0144 |
| Duluth GA 30096-7672 *679 COTTAGE AVE E | | *** Owner and Taxpayer | r *** | | | \$44.07 | |
| *Ward: 6 | | , | Total Assessm | nent: | - | \$44.07 | |
| *Pending as of: 8/24/2021 | | , | This Payment: | | | \$0.00 | |
| | | 1 | Current Year I | Principal: | | \$0.00 | |
| | | | Current Year I | | | \$0.00 | |
| | | | Payoff Amoun | nt: | | \$44.07 | |
| Olaniyi Odeku | DENNY HILL ADDITION TO THE CITY | Street Sweeping - Reside | ential Stree | 0.41 | 39.00 | <u>\$15.99</u> | <u> </u> |
| Dorcas Odeku | OF SAINT PAUL LOT 19 BLK 1 | Alley Sweeping | | 0.14 | 39.00 | \$5.46 | |
| 691 Cottage Ave E | | Citywide Street Lighting | : | 0.58 | 39.00 | \$22.62 | |
| St Paul MN 55106-1706 | | | | | _ | \$44.07 | |
| *691 COTTAGE AVE E | | *** Owner and Taxpayer | r *** | | | | |
| *Ward: 6 | | | Total Assessm | nent: | - | \$44.07 | |
| *Pending as of: 8/24/2021 | | | This Payment: | | | \$0.00 | |
| | | 1 | Current Year I | Principal: | | \$0.00 | |
| | | 1 | Current Year I | nterest: | | \$0.00 | |
| | | | Payoff Amoun | nt: | | \$44.07 | |
| Matthew K Swanholm | DENNY HILL ADDITION TO THE CITY | Street Sweeping - Reside | ential Stree | 0.41 | — — | | <u> </u> |
| 698 Sherwood Ave | OF SAINT PAUL LOT 21 BLK 1 | Alley Sweeping | | 0.14 | 39.00 | \$5.46 | |
| St Paul MN 55106-1713 | | Citywide Street Lighting | | 0.58 | 70.50 | \$40.89 | |
| *698 SHERWOOD AVE | | | | | - | \$75.26 | |
| *Ward: 6 | | *** Owner and Taxpayer | r *** | | | | |
| *Pending as of: 8/24/2021 | | · | Total Assessm | nent: | | \$75.26 | |
| | | | This Payment: | | | \$0.00 | |
| | | | Current Year I | _ | | \$0.00 | |
| | | | Current Year I | | | \$0.00 | |
| | | | Payoff Amoun | nt: | | \$75.26 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Ratification Date: | Project: 202 Resolution | | Assmt: 210025 | Manager: LMR | Page 369 |
|-----------------------------------------------------|------------------------------------------------------------|----------------------------------------------------------------------|-------------------------|----------------------|-------------------------|------------------------------|------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Ceil Mcdonald Christopher Mcdonald 692 Sherwood Ave | DENNY HILL ADDITION TO THE CITY OF SAINT PAUL LOT 22 BLK 1 | Street Sweeping - Resid Alley Sweeping Citywide Street Lightin | | 0.41 0.14 0.58 | 39.00 39.00 39.00 | \$15.99 \$5.46 \$22.62 | 20-29-22-42-0150 |
| St Paul MN 55106-1713 * 692 SHERWOOD AVE | | *** Owner and Taxpay | /er *** | | _ | \$44.07 | |
| *Ward: 6 | | - ··· | Total Assess | mant: | - | \$44.07 | |
| *Pending as of: 8/24/2021 | | | This Paymen | | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$44.07 | |
| | DENDA HILL ADDITION TO THE CITY | Street Sweeping Desir | | | | | |
| Athena V Hollins David Hollins | DENNY HILL ADDITION TO THE CITY OF SAINT PAUL LOT 27 BLK 1 | Street Sweeping - Resid | dential Stree | 0.41 0.14 | 39.00 | \$13.99 \$5.46 | 20-29-22-42-0155 |
| 672 Sherwood Ave | | Citywide Street Lightin | ıg | 0.58 | 39.00 | \$22.62 | |
| St Paul MN 55106-1713 | | | | | _ | \$44.07 | |
| *672 SHERWOOD AVE | | *** Owner and Taxpay | er *** | | | | |
| *Ward: 6 | | | Total Assess | ment: | - | \$44.07 | |
| *Pending as of: 8/24/2021 | | | This Paymen | | | \$0.00 | |
| | | | Current Year | _ | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$44.07 | |
| James L Delgreco Jr | DENNY HILL ADDITION TO THE CITY | Street Sweeping - Resid | | | | | |
| 664 Sherwood Ave | OF SAINT PAUL LOT 29 BLK 1 | Alley Sweeping | | 0.14 | 39.00 | \$5.46 | 20 27 22 12 0107 |
| St Paul MN 55106-1713 | | Citywide Street Lightin | ıg | 0.58 | 39.00 | \$22.62 | |
| *664 SHERWOOD AVE | | | | | | \$44.07 | |
| *Ward: 6 | | *** Owner and Taxpay | er *** | | | | |
| *Pending as of: 8/24/2021 | | | Total Assess | ment: | | \$44.07 | |
| | | | This Paymen | | | \$0.00 | |
| | | | Current Year | _ | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$44.07 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by I | PID (Fee to Asmt) Ratification Date: | Project: 202 Resolution | | Assmt: 210025 | Manager: LMR | Page 370 |
|--------------------------------------------------------------|---------------------------------------------------------------|--------------------------------------------------------------------|-------------------------|----------------------|-------------------------|------------------------------|------------------|
| Owner or Taxpayer | Property Description | Item Description | | <u>Unit Rate</u> | Quantity | Charge Amts | Property ID |
| Lorenzo A Lopez 662 Sherwood Ave St Paul MN 55106-1713 | DENNY HILL ADDITION TO THE CITY OF SAINT PAUL LOT 30 BLK 1 | Street Sweeping - Resident Alley Sweeping Citywide Street Lighting | | 0.41 0.14 0.58 | 39.00 39.00 39.00 | \$15.99 \$5.46 \$22.62 | 20-29-22-42-0158 |
| *662 SHERWOOD AVE *Ward: 6 | | *** Owner and Taxpaye | er *** | | _ | \$44.07 | |
| *Pending as of: 8/24/2021 | | | Total Assessi | | - | \$44.07 | |
| | | | This Paymen | | | \$0.00 | |
| | | | Current Year | • | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amou | unt. | | \$44.07 | |
| Adam Cloues | DENNY HILL ADDITION TO THE CITY | Street Sweeping - Resid | ential Stree | 0.41 | 39.00 | \$15.99 | 20-29-22-42-0160 |
| 654 Sherwood Ave | OF SAINT PAUL LOT 32 BLK 1 | Alley Sweeping | | 0.14 | 70.50 | \$9.87 | |
| St Paul MN 55106-1813 | | Citywide Street Lighting | g | 0.58 | 39.00 | \$22.62 | |
| *654 SHERWOOD AVE | | | | | _ | \$48.48 | |
| *Ward: 6 | | *** Owner and Taxpaye | er *** | | | | |
| *Pending as of: 8/24/2021 | | | Total Assessi | ment: | - | \$48.48 | |
| | | | This Paymen | ıt: | | \$0.00 | |
| | | | Current Year | Principal: | | \$0.00 | |
| | | | Current Year | Interest: | | \$0.00 | |
| | | | Payoff Amou | unt: | | \$48.48 | |
| Lauren E Hall | DENNY HILL ADDITION TO THE CITY | Street Sweeping - Comm | mercial/Art | 1.04 | | \$26.00 | 20-29-22-42-0163 |
| 1370 Payne Ave | OF SAINT PAUL LOT 4 BLK 2 | Alley Sweeping | | 0.14 | 25.00 | \$3.50 | |
| St Paul MN 55130-3441 | | Citywide Street Lighting | g | 0.58 | 25.00 | \$14.50 | |
| *1370 PAYNE AVE | | | | | | \$44.00 | |
| *Ward: 6 | | *** Owner and Taxpaye | er *** | | | | |
| *Pending as of: 8/24/2021 | | | Total Assessi | ment: | | \$44.00 | |
| | | | This Paymen | | | \$0.00 | |
| | | | Current Year | _ | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amou | unt: | | \$44.00 | |

\$44.07

\$91.60

\$110.46

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by l | PID (Fee to Asmt) Ratification Date: | Project: 202 Resolution # | | Assmt: 210025 | Manager: LMR | Page 380 |
|-------------------------------------------------------|------------------------------------------------------------------------------------------------|---------------------------------------------------------------|------------------------------|----------------------|-------------------------|------------------------------|--------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Anthony E Williams Connie A Williams 1366 Edgerton St | SEARLE'S ADDITION TO THE CITY OF ST. PAUL, RAMSEY COUNTY, MINN. SUBJ TO ST; LOT 23 BLK 2 | Street Sweeping - Commalley Sweeping Citywide Street Lighting | | 1.04 0.14 0.58 | 40.00 40.00 40.00 | \$41.60 \$5.60 \$23.20 | 20-29-22-42-0217 |
| St Paul MN 55130-3430 | | *** Owner and Taxpayo | ar *** | | _ | \$70.40 | |
| *1366 EDGERTON ST *Ward: 6 | | Owner and Taxpayo | | | - | | |
| *Pending as of: 8/24/2021 | | | Total Assessr | | | \$70.40 | |
| 1 chang as cit 6,2 1,2021 | | | This Payment | | | \$0.00 \$0.00 | |
| | | | Current Year Current Year | _ | | \$0.00 | |
| | | | Payoff Amou | | | \$70.40 | |
| | | | | | | | |
| Sogdiana Investments Llc | DENNY HILL ADDITION TO THE CITY | Street Sweeping - Resid | | 0.41 | 55.00 | \$22.55 | 20-29-22-42-0218 |
| 7204 W 27th St | OF SAINT PAUL ALLEY VACATED IN DOC NO.2770456 ACCRUING & FOL | Citywide Street Lighting | g | 0.58 | 55.00 | \$31.90 | |
| St Louis Park MN 55426-3157 | EX W 60 FT; LOTS 6,7,8 & LOT 9 BLK 3 | | | | | \$54.45 | |
| *651 IVY AVE E | | *** Owner and Taxpayo | er *** | | | | |
| *Ward: 6 | | | Total Assessr | nent: | | \$54.45 | |
| *Pending as of: 8/24/2021 | | | This Payment | | | \$0.00 | |
| | | | Current Year | Principal: | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amou | int: | | \$54.45 | |
| | DENNY HILL ADDITION TO THE CITY | Street Sweeping - Resid | | | | | |
| Kyle Cottingham Kassidi Cottingham | OF SAINT PAUL ALLEY VACATED IN | Alley Sweeping - Resid | ientiai Stret | 0.41 | 44.00 | \$6.16 | 20-29-22-42-0219 |
| 653 Ivy Ave E | DOC NO.2770456 ACCRUING & LOT 10 BLK 3 | Citywide Street Lighting | g | 0.58 | 44.00 | \$25.52 | |
| St Paul MN 55106-1922 | 10 BLK 5 | | | | _ | \$49.72 | |
| *653 IVY AVE E | | *** Owner and Taxpaye | er *** | | | | |
| *Ward: 6 | | | Total Assessr | nent: | - | \$49.72 | |
| *Pending as of: 8/24/2021 | | | This Payment | t: | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Current Year | Interest: | | \$0.00 | |
| | | | Payoff Amou | ınt: | | \$49.72 | |

\$39.60

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Ratification Date: | Project: 202 Resolution | | Assmt: 210025 | Manager: LMR | Page 386 |
|-------------------------------------------------------|---------------------------------------------------------------------------------------|-----------------------------------------------------------------------|-------------------------|----------------------|--------------------------|-------------------------------|------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Song S Vang 598 Ivy Ave E St Paul MN 55130-3421 | JOSEPH R. WEIDE'S 2ND ADDITION TO THE CITY OF ST. PAUL LOTS 20 AND LOT 21 BLK 4 | Street Sweeping - Resid Alley Sweeping Citywide Street Lighting | | 0.41 0.14 0.58 | 60.00 123.00 60.00 | \$24.60 \$17.22 \$34.80 | 20-29-22-43-0026 |
| *598 IVY AVE E *Ward: 6 | | *** Owner and Taxpayo | er *** | | - | \$76.62 | |
| *Pending as of: 8/24/2021 | | | Total Assessr | nent: | | \$76.62 | |
| | | | This Paymen | t: | | \$0.00 | |
| | | | Current Year | _ | | \$0.00 | |
| | | | Current Year | Interest: | | \$0.00 | |
| | | | Payoff Amou | ınt: | | \$76.62 | |
| | JOSEPH R. WEIDE'S 2ND ADDITION | Street Sweeping - Comr | mercial/Art | | | | <u> </u> |
| 1159 Case Ave | TO THE CITY OF ST. PAUL LOTS 22 & | Street Sweeping - Resid | | 0.41 | 55.00 | \$22.55 | 20-27-22-43-0027 |
| St Paul MN 55106-3911 | LOT 23 BLK 3 | Citywide Street Lighting | g | 0.58 | 80.00 | \$46.40 | |
| *1288 EDGERTON ST | | | | | = | \$94.95 | |
| *Ward: 6 | | *** Owner and Taxpaye | er *** | | | | |
| *Pending as of: 8/24/2021 | | | Total Assessi | \$94.95 | | | |
| | | | This Paymen | | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amou | int: | | \$94.95 | |
| Panda Home Improvement Group Llc | JOSEPH R. WEIDE'S 2ND ADDITION | Street Sweeping - Comr | | 1.04 | | \$38.48 | 20-29-22-43-0028 |
| 3007 Valento Ln | TO THE CITY OF ST. PAUL N 12 FT OF LOT 25 AND ALL OF LOT 24 BLK 3 | Citywide Street Lighting | g | 0.58 | 37.00 | \$21.46 | |
| Little Canada MN 55117-1273 | | *** Over on and Townsey | a *** | | | \$59.94 | |
| *1282 EDGERTON ST *Ward: 6 | | *** Owner and Taxpaye | | | | | |
| *Pending as of: 8/24/2021 | | | Total Assessi | | | \$59.94 | |
| 1 Chaing as 01. 0/24/2021 | | | This Paymen | | | \$0.00 | |
| | | | Current Year | _ | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amou | ınt: | | \$59.94 | |

\$49.50

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Ratification Date: | Project: 20218 Resolution #: | SMSP | Assmt: 210025 | Manager: LMR | Page 388 |
|--------------------------------------------|---------------------------------------------------------------------|---------------------------------------|----------------------------------|-----------|-----------------|------------------|--------------------|
| Owner or Taxpayer | Property Description | Item Description | <u>I</u> | Unit Rate | Quantity | Charge Amts | Property ID |
| Meng Xiong | JOSEPH R. WEIDE'S 2ND ADDITION | Street Sweeping - Resid | ential Stree | 0.41 | 66.00 | \$27.06 | 20-29-22-43-0036 |
| Alicia Thor | TO THE CITY OF ST. PAUL EX W 24 FT LOT 36 AND ALL OF LOTS 37 AND | Citywide Street Lighting | g | 0.58 | 66.00 | \$38.28 | |
| 609 Orange Ave E | LOT 38 BLK 3 | | | | | \$65.34 | |
| St Paul MN 55130-3536 | | *** Owner and Taxpaye | er *** | | | | |
| *609 ORANGE AVE E | | | Total Assessme | ent: | | \$65.34 | |
| *Ward: 6 *Pending as of: 8/24/2021 | | | This Payment: | | | \$0.00 | |
| Feliding as 01. 6/24/2021 | | | Current Year Pr | _ | | \$0.00 | |
| | | | Current Year In | | | \$0.00 | |
| | | | Payoff Amount | t: | | \$65.34 | |
| | JOSEPH R. WEIDE'S 2ND ADDITION | Street Sweeping - Resident | ential Stree | 0.41 | | | 20-29-22-43-0037 |
| 1890 Mechanic Ave | TO THE CITY OF ST. PAUL LOTS 39 AND LOT 40 BLK 3 | Citywide Street Lighting | g | 0.58 | 60.00 | \$34.80 | |
| St Paul MN 55119-4821 | 11.0 201 10 22.1 | | | | _ | \$59.40 | |
| *615 ORANGE AVE E | | *** Owner and Taxpaye | er *** | | | | |
| *Ward: 6 | | | Total Assessme | nt: | | \$59.40 | |
| *Pending as of: 8/24/2021 | | | This Payment: | | | \$0.00 | |
| | | | Current Year Pr | rincipal: | | \$0.00 | |
| | | | Current Year In | | | \$0.00 | |
| | | | Payoff Amount | t: | | \$59.40 | |
| | JOSEPH R. WEIDE'S 2ND ADDITION | Street Sweeping - Reside | ential Stree | 0.41 | | | |
| Xia Yang | TO THE CITY OF ST. PAUL LOTS 41 AND LOT 42 BLK 3 | Alley Sweeping | | 0.14 | 121.00 | \$16.94 | |
| 623 Orange Ave E | | Citywide Street Lighting | 5 | 0.58 | 60.00 | \$34.80 | |
| St Paul MN 55130-3536 *623 ORANGE AVE E | | *** Owner and Taxpaye | -r *** | | | \$76.34 | |
| *Ward: 6 | | owner and raxpaye | | | | | |
| *Pending as of: 8/24/2021 | | | Total Assessme | ent: | | \$76.34 | |
| | | | This Payment: Current Year Pr | rincinal: | | \$0.00 \$0.00 | |
| | | | Current Year In | _ | | \$0.00 | |
| | | | Payoff Amount | | | \$76.34 | |

\$88.00

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date: | | Project: 2021SMSP Resolution #: | | Assmt: 210025 | Manager: LMR | Page 390 |
|-----------------------------------------|----------------------------------------------------------------------------|-------------------------------------------------|------------------------------------------------|--------------|----------------|---------------------------|--------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Zakaria Mohamed | JOSEPH R. WEIDE'S 2ND ADDITION | Street Sweeping - Con | nmercial/Art | 1.04 | 50.00 | \$52.00 | 20-29-22-43-0042 |
| 2626 Portland Ave S | TO THE CITY OF ST. PAUL LOTS 5 AND LOT 6 BLK 3 | Alley Sweeping | | 0.14 | 50.00 | \$7.00 | |
| Minneapolis MN 55407-1011 | AND LOT OBER 3 | Citywide Street Lightin | ng | 0.58 | 50.00 | \$29.00 | |
| *1275 PAYNE AVE | | | | | _ | \$88.00 | |
| *Ward: 6 | | *** Owner and Taxpa | yer *** | | | | |
| *Pending as of: 8/24/2021 | | | Total Assess | sment: | | \$88.00 | |
| | | | This Paymer | nt: | | \$0.00 | |
| | | | Current Yea | r Principal: | \$0.00 | | |
| | | | Current Yea | r Interest: | | \$0.00 | |
| | | | Payoff Amo | ount: | | \$88.00 | |
| | JOSEPH R. WEIDE'S 2ND ADDITION | Street Sweeping - Com | | 1.04 | | <u>\$52.00</u> | |
| Roger J Hallman | TO THE CITY OF ST. PAUL LOTS 7 & | Alley Sweeping | iiiiciciai/Ait | 0.14 | 50.00 | \$7.00 | 20-29-22-43-0043 |
| 1281 Payne Ave St Paul MN 55130-3540 | LOT 8 BLK 3 | Citywide Street Lightin | nσ | 0.14 | 50.00 | \$29.00 | |
| | | eny wide suree Eight. | 5 | 0.00 | = | \$88.00 | |
| *1281 PAYNE AVE *Ward: 6 | | *** Owner and Taxpa | yer *** | | | \$88.00 | |
| *Pending as of: 8/24/2021 | | | Total Assess | sment: | \$88.00 | | |
| | | This Payment: Current Year Principal: | | | | \$0.00 | |
| | | | | | | \$0.00 | |
| | | | Current Yea | r Interest: | | \$0.00 | |
| | | | Payoff Amo | ount: | \$88.00 | | |
| | | | | | | | |
| William I Santamaria Salguero | JOSEPH R. WEIDE'S 2ND ADDITION TO THE CITY OF ST. PAUL LOTS 9 | Street Sweeping - Con Street Sweeping - Resi | | 1.04 0.41 | 25.00 55.00 | \$26.00 \$22.55 | 20-29-22-43-0044 |
| Vincenta A Fuentes Reyes | AND LOT 10 BLK 3 | Alley Sweeping - Resi | idential Stree | 0.41 | 50.00 | \$22.33 \$7.00 | |
| 630 Hyacinth Ave E | | Citywide Street Lightin | nσ | 0.14 | 80.00 | \$46.40 | |
| St Paul MN 55130-3535 | | City wide Succe Eights | ···b | 0.50 | = | <u> </u> | |
| *630 HYACINTH AVE E *Ward: 6 | | *** Owner and Taxpa | yer *** | | | \$101.95 | |
| *Pending as of: 8/24/2021 | | | Total Assess | ement: | | \$101.95 | |
| | | | This Paymer | | | \$0.00 | |
| | | | • | | | \$0.00 | |
| | | | Current Year Principal: Current Year Interest: | | | | |
| | | | Payoff Amo | ount: | | \$0.00 \$101.95 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Ratification Date: | Project: 2021SMSP Resolution #: | | Assmt: 210025 | Manager: LMR | Page 391 |
|-----------------------------------------------------------------------------------------------------------|------------------------------------------------------------------------------------|-----------------------------------------------------------------------------------|------------------------------------|--------------|------------------|--------------------|--------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Xiong Associate Llc C/O Jua Xiong | JOSEPH R. WEIDE'S 2ND ADDITION TO THE CITY OF ST. PAUL LOTS 13 14 AND LOT 15 BLK 3 | Street Sweeping - Res Citywide Street Light | | 0.41 | 90.00 | \$36.90 \$52.20 | 20-29-22-43-0046 |
| 2515 White Bear Ave Ste A8 Maplewood MN 55109-5155 *614 HYACINTH AVE E *Ward: 6 *Pending as of: 8/24/2021 | | *** Owner and Taxpayer *** | | | \$89.10 | | |
| | | Total Assessment: This Payment: Current Year Principal: | | | | \$89.10 | |
| | | | | | \$0.00 \$0.00 | | |
| | Current Year Interest: Payoff Amount: | | | | \$0.00 | | |
| | | | | | | \$89.10 | |
| Dadders Estates Llc | JOSEPH R. WEIDE'S 2ND ADDITION | Street Sweeping - Res | — — — - sidential Stree | | | | 20-29-22-43-0047 |
| 351 Kellogg Blvd E | TO THE CITY OF ST. PAUL LOT 16 BLK 3 | Citywide Street Light | | 0.58 | 30.00 | \$17.40 | 20-27-22-43-0047 |
| St Paul MN 55101-1411 | 52.10 | | | | _ | \$29.70 | |
| *608 HYACINTH AVE E | | *** Owner and Taxpa | ayer *** | | | | |
| *Ward: 6 *Pending as of: 8/24/2021 | | Total Assessment: This Payment: Current Year Principal: Current Year Interest: | | | | \$29.70 | |
| | | | | | | \$0.00 | |
| | | | | | | \$0.00 \$0.00 | |
| | Payoff Amount: | | | | | \$29.70 | |
| | TOSENIA WEIDES AND ADDITION | Ctreat Creation Dec | | | | | |
| Aung Jaw Aye 604 Hyacinth Ave E | JOSEPH R. WEIDE'S 2ND ADDITION TO THE CITY OF ST. PAUL E 8 FT OF | Street Sweeping - Res Citywide Street Light | | 0.41 0.58 | 38.00 38.00 | \$15.58 \$22.04 | 20-29-22-43-0048 |
| St Paul MN 55130-3535 | LOT 18 AND ALL OF LOT 17 BLK 3 | , . | | | = | \$37.62 | |
| *604 HYACINTH AVE E | | *** Owner and Taxpayer *** | | | | | |
| *Ward: 6 | Total Assessment: | | | | | \$37.62 | |
| *Pending as of: 8/24/2021 | | This Payment: Current Year Principal: Current Year Interest: Payoff Amount: | | | | \$0.00 | |
| | | | | | | \$0.00 | |
| | | | | | | \$0.00 | |
| | | | | | | \$37.62 | |

\$78.20

\$40.27

\$56.50

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Ratification Date: | | | Assmt: 210025 | Manager: LMR | Ç . |
|---------------------------------------|---------------------------------------------------------------------|--------------------------------------|-------------------|------------|-----------------|--------------|------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Irma J Thomas | JOSEPH R. WEIDE'S THIRD ADDITION | Street Sweeping - Comr | mercial/Art | 1.04 | 86.50 | \$89.96 | 20-29-22-43-0081 |
| Kenneth P Thomas | TO ST. PAUL, MINN. LOTS 1 AND LOT 2 | Alley Sweeping | | 0.14 | 63.00 | \$8.82 | |
| 1204 Edgerton St | 2 | Citywide Street Lighting | g | 0.58 | 86.50 | \$50.17 | |
| St Paul MN 55130-3525 | | | | | _ | \$148.95 | |
| *1204 EDGERTON ST | | *** Owner and Taxpayo | er *** | | | | |
| *Ward: 6 | | | Total Assess | ment: | | \$148.95 | |
| *Pending as of: 8/24/2021 | | | This Paymer | ıt: | | \$0.00 | |
| | | | Current Year | Principal: | \$0.00 | | |
| | | | Current Year | Interest: | \$0.00 | | |
| | | | Payoff Amo | unt: | | \$148.95 | |
| | JOSEPH R. WEIDE'S THIRD ADDITION | Street Sweeping - Com | mercial/Art | | | | |
| • | Maryland Ave E TO ST. PAUL, MINN. W 1/2 OF LOT 17 AND ALL OF LOT 16 | Alley Sweeping | | 0.14 | 83.00 | \$11.62 | 20-27-22-43-0002 |
| St Paul MN 55101-3640 | | Citywide Street Lighting | g | 0.58 | 45.00 | \$26.10 | |
| *591 MARYLAND AVE E | | | | | _ | \$84.52 | |
| *Ward: 6 | | *** Owner and Taxpaye | er *** | | ***** | | |
| *Pending as of: 8/24/2021 | | | Total Assessment: | | | \$84.52 | |
| | | | This Payment: | | | \$0.00 | |
| | | | Current Year | Principal: | | \$0.00 | |
| | | | Current Year | Interest: | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$84.52 | |
| Cordell W Edmunds | JOSEPH R. WEIDE'S THIRD ADDITION | Street Sweeping - Com | mercial/Art | | | | |
| | TO ST. PAUL, MINN. E 1/2 OF LOT 17 | Alley Sweeping - Colli | iliciciai/Ait | 0.14 | 45.00 | \$6.30 | 20-29-22-43-0083 |
| Anne C Edmunds 4893 Hillvale Ave N | AND ALL OF LOT 18 | Citywide Street Lighting | g | 0.58 | 45.00 | \$26.10 | |
| Oakdale MN 55128-2240 | | , | | | _ | \$79.20 | |
| *599 MARYLAND AVE E | | *** Owner and Taxpayo | er *** | | | \$79.20 | |
| *Ward: 6 | | | Total Assess | ment: | <u>-</u> | \$79.20 | |
| *Pending as of: 8/24/2021 | | | This Paymer | | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$79.20 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Ratification Date: | • | | Assmt: 210025 | o . | Page 399 |
|-------------------------------------------------------------|----------------------------------------------------------------------------------------------|---------------------------------------------------------------|-----------------|----------------------|-------------------------|------------------------------|------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | <u>Quantity</u> | Charge Amts | Property ID |
| Kyi Kyi Lwin 603 Maryland Ave E St Paul MN 55130-3640 | JOSEPH R. WEIDE'S THIRD ADDITION TO ST. PAUL, MINN. W 7 FT OF LOT 20 AND ALL OF LOT 19 | Street Sweeping - Commalley Sweeping Citywide Street Lighting | | 1.04 0.14 0.58 | 37.00 37.00 37.00 | \$38.48 \$5.18 \$21.46 | 20-29-22-43-0084 |
| *603 MARYLAND AVE E *Ward: 6 | | *** Owner and Taxpaye | er *** | | _ | \$65.12 | |
| *Pending as of: 8/24/2021 | | | Total Assessr | nent: | - | \$3.00 | |
| | | | This Payment | t: | | \$0.00 | |
| | | | Current Year | Principal: | | \$0.00 | |
| | | | Current Year | Interest: | | \$0.00 | |
| | | | Payoff Amou | ınt: | | \$3.00 | |
| | JOSEPH R. WEIDE'S 2ND ADDITION | Street Sweeping - Comm | mercial/Art | | | | <u> </u> |
| 609 Maryland Ave E St Paul MN 55130-3640 | TO THE CITY OF ST. PAUL E 23 | Alley Sweeping | | 0.14 | 24.00 | \$3.36 | 20-27-22-43-0000 |
| | 75/100 FT OF LOT 19 BLK 1 | Citywide Street Lighting | g | 0.58 | 24.00 | \$13.92 | |
| *609 MARYLAND AVE E | | | | | _ | \$42.24 | |
| *Ward: 6 | | *** Owner and Taxpaye | er *** | | | | |
| *Pending as of: 8/24/2021 | | | Total Assessr | nent: | | \$42.24 | |
| | | | This Payment | t: | \$0.00 | | |
| | | | Current Year | Principal: | | \$0.00 | |
| | | | Interest: | | \$0.00 | | |
| | | Payoff Amount: | | | | \$42.24 | |
| | JOSEPH R. WEIDE'S 2ND ADDITION | Street Sweeping - Comm | mercial/Art | | | | <u> </u> |
| 140 Locust St N | TO THE CITY OF ST. PAUL LOT 20 | Alley Sweeping | | 0.14 | 30.00 | \$4.20 | 20-27-22-43-0007 |
| Prescott WI 54021-1739 | BLK 1 | Citywide Street Lighting | g | 0.58 | 30.00 | \$17.40 | |
| *611 MARYLAND AVE E | | | | | <u>-</u> | \$52.80 | |
| *Ward: 6 | | *** Owner and Taxpaye | er *** | | | | |
| *Pending as of: 8/24/2021 | | | Total Assessr | nent: | - | \$52.80 | |
| | | | This Payment | t: | | \$0.00 | |
| | | | Current Year | Principal: | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amou | ınt: | | \$52.80 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Ratification Date: | | | Assmt: 210025 | Manager: LMR | Page 40 |
|---------------------------------|-----------------------------------------|--------------------------------------|----------------------|------------------|-----------------|--------------|-------------------------------|
| Owner or Taxpayer | Property Description | Item Description | <u>Unit</u> | Rate | Quantity | Charge Amts | Property ID |
| Dominique Cotton | JOSEPH R. WEIDE'S 2ND ADDITION | Street Sweeping - Comn | mercial/Art | 1.04 | 30.00 | \$31.20 | 20-29-22-43-0088 |
| 615 Maryland Ave E | TO THE CITY OF ST. PAUL LOT 21 BLK 1 | Alley Sweeping | | 0.14 | 30.00 | \$4.20 | |
| St Paul MN 55130-3640 | DLK 1 | Citywide Street Lighting | 3 | 0.58 | 30.00 | \$17.40 | |
| *615 MARYLAND AVE E *Ward: 6 | | *** Owner and Taxpaye | er *** | | _ | \$52.80 | |
| *Pending as of: 8/24/2021 | | | Total Assessment: | | | \$52.80 | |
| | | | This Payment: | | | \$0.00 | |
| | | | Current Year Princip | pal: | | \$0.00 | |
| | | | Current Year Interes | st: | | \$0.00 | |
| | | | Payoff Amount: | | | \$52.80 | |
| Cullen Homes Inc | JOSEPH R. WEIDE'S 2ND ADDITION | Street Sweeping - Comn | | 1.04 | | | |
| 1826 Portland Ave | TO THE CITY OF ST. PAUL LOT 22 | Alley Sweeping | | 0.14 | 30.00 | \$4.20 | 20-29-22-43-0089 |
| linneapolis MN 55404-1811 | Citywide Street Lighting | | 0.58 | 30.00 | \$17.40 | | |
| *617 MARYLAND AVE E | | | | | _ | \$52.80 | |
| *Ward: 6 | | *** Owner and Taxpaye | er *** | \$6 2. 66 | | | |
| *Pending as of: 8/24/2021 | | | Total Assessment: | | | | |
| | | | This Payment: | | \$0.00 | | |
| | | | Current Year Princip | pal: | | \$0.00 | |
| | | | Current Year Interes | st: | | \$0.00 | |
| | | | Payoff Amount: | | | \$52.80 | |
| Bk Homes Llc | JOSEPH R. WEIDE'S 2ND ADDITION | Street Sweeping - Comn | mercial/Art | 1.04 | 30.00 | | |
| 1815 Ellie Ct | TO THE CITY OF ST. PAUL LOT 23 | Alley Sweeping | | 0.14 | 30.00 | \$4.20 | 20-27-22- 4 3-0070 |
| St Paul MN 55122-2589 | BLK 1 | Citywide Street Lighting | 3 | 0.58 | 30.00 | \$17.40 | |
| *619 MARYLAND AVE E | | | | | _ | \$52.80 | |
| *Ward: 6 | | *** Owner and Taxpaye | er *** | | | | |
| *Pending as of: 8/24/2021 | | | Total Assessment: | | - | \$52.80 | |
| | | | This Payment: | | | \$0.00 | |
| | | | Current Year Princip | | | \$0.00 | |
| | | | Current Year Interes | st: | | \$0.00 | |
| | | | Payoff Amount: | | | \$52.80 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Project: 2021SM Ratification Date: Resolution #: | | | Assmt: 210025 | Manager: LMR | Page 40 |
|-------------------------------------|---------------------------------------|-----------------------------------------------------------------------|------------------------------|------------------|-------------------|------------------|------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| | JOSEPH R. WEIDE'S 2ND ADDITION | Street Sweeping - Comm | mercial/Art | 1.04 | 37.00 | \$38.48 | 20-29-22-43-0091 |
| C/O Starmax Property Management Llc | TO THE CITY OF ST. PAUL LOT 24 | Alley Sweeping | | 0.14 | 79.00 | \$11.06 | |
| Po Box 24444 | BLK 1 | Citywide Street Lighting | g | 0.58 | 37.00 | \$21.46 | |
| Minneapolis MN 55424-0444 | | | | | = | \$71.00 | |
| *623 MARYLAND AVE E | | *** Owner and Taxpaye | er *** | | | | |
| *Ward: 6 | | | Total Assessn | nent: | | \$71.00 | |
| *Pending as of: 8/24/2021 | | | This Payment | t: | | \$0.00 | |
| | | | Current Year | Principal: | | \$0.00 | |
| | | | Current Year | Interest: | | \$0.00 | |
| | | | Payoff Amou | ınt: | | \$71.00 | |
| | JOSEPH R. WEIDE'S 2ND ADDITION | Street Sweeping - Resid | lential Stree | | | | |
| Xia Yang | TO THE CITY OF ST. PAUL LOTS 11 & | Alley Sweeping | ichilai Siicc | 0.41 | 93.00 | \$13.02 | 20-29-22-43-0094 |
| Ata Yang 622 Hawthorne Ave E | LOT 12 BLK 1 | Citywide Street Lighting | σ | 0.58 | 65.00 | \$37.70 | |
| St Paul MN 55130-3531 | | eny was succe nghang | ь | 0.50 | = | \$77.37 | |
| *622 HAWTHORNE AVE E | | *** Owner and Taxpaye | er *** | | | \$//.3/ | |
| *Ward: 6 | | 1 7 | T . 1 A | | | | |
| *Pending as of: 8/24/2021 | | | Total Assessm | | \$77.37 \$0.00 | | |
| | | | This Payment Current Year | | | \$0.00 \$0.00 | |
| | | | Current Year | _ | | \$0.00 | |
| | | | Payoff Amou | | | \$77.37 | |
| | | | 1 ayon Amou | int. | | <i>\$77.31</i> | |
| Adam Richards | JOSEPH R. WEIDE'S 2ND ADDITION | Street Sweeping - Resident | lential Streε | 0.41 | | \$12.30 | |
| 616 Hawthorne Ave E | TO THE CITY OF ST. PAUL LOT 14 | Alley Sweeping | | 0.14 | 30.00 | \$4.20 | |
| St Paul MN 55130-3531 | BLK 1 | Citywide Street Lighting | g | 0.58 | 30.00 | \$17.40 | |
| *616 HAWTHORNE AVE E | | | | | _ | \$33.90 | |
| *Ward: 6 | | *** Owner and Taxpaye | er *** | | | | |
| *Pending as of: 8/24/2021 | | | Total Assessm | nent: | | \$33.90 | |
| | | | This Payment | t: | | \$0.00 | |
| | | | Current Year | Principal: | | \$0.00 | |
| | | | Current Year | Interest: | | \$0.00 | |
| | | | Payoff Amou | ınt: | | \$33.90 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Ratification Date: | Project: 2021SMSP Resolution #: | | Assmt: 210025 | Manager: LMR | Page 402 | |
|-----------------------------------------------|----------------------------------------------------------------------|--------------------------------------|------------------------------------|------------------|-----------------|-------------------|------------------|--|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID | |
| Jose Hernandez | JOSEPH R. WEIDE'S 2ND ADDITION | Street Sweeping - Reside | idential Stree 0.41 | | 34.00 | \$13.94 | 20-29-22-43-0098 | |
| Debra Pavlicek | TO THE CITY OF ST. PAUL W 16 FT OF LOT 16 AND ALL OF LOT 17 BLK 1 | Alley Sweeping | | 0.14 | 34.00 | \$4.76 | | |
| 606 Hawthorne Ave E | LOT TO AND ALE OF EOT 17 BER 1 | Citywide Street Lighting | 7 | 0.58 | 34.00 | \$19.72 | | |
| St Paul MN 55130-3531 *606 HAWTHORNE AVE E | | *** Owner and Taxpaye | r *** | | _ | \$38.42 | | |
| *Ward: 6 | | 1 7 | Total Assessm | . aut. | <u>-</u> | \$38.42 | | |
| *Pending as of: 8/24/2021 | | | | | | \$38.42 \$0.00 | | |
| C | | | This Payment: Current Year I | | | \$0.00 | | |
| | | | Current Year I | | | \$0.00 | | |
| | | | Payoff Amou | | | \$38.42 | | |
| | | | | | | | | |
| Dadders Estates Llc | JOSEPH R. WEIDE'S THIRD ADDITION | Street Sweeping - Reside | ential Stree | 0.41 | 42.00 | <u>\$17.22</u> | 20-29-22-43-0099 | |
| 351 Kellogg Blvd E St Paul MN 55101-1411 | TO ST. PAUL, MINN. LOTS 14 AND LOT 15 | Alley Sweeping | | 0.14 | 42.00 | \$5.88 | | |
| | LO1 13 | Citywide Street Lighting | 3 | 0.58 | 42.00 | \$24.36 | | |
| *604 HAWTHORNE AVE E | | | | | | \$47.46 | | |
| *Ward: 6 | | *** Owner and Taxpaye | er *** | | | | | |
| *Pending as of: 8/24/2021 | | | Total Assessm | nent: | \$47.46 | | | |
| | | | This Payment: | : | \$0.00 | | | |
| | | | Current Year l | Principal: | | \$0.00 | | |
| | | | Current Year l | | | \$0.00 | | |
| | | Payoff Amount: | | | | \$47.46 | | |
| | | | | - | | | | |
| Michael E Lee | JOSEPH R. WEIDE'S THIRD ADDITION TO ST. PAUL, MINN. LOT 11 | Street Sweeping - Reside | ential Stree | 0.41 | 30.00 | \$12.30 | 20-29-22-43-0102 | |
| 594 Hawthorne Ave E | TOST. TAGE, WINN. LOT TI | Alley Sweeping | | 0.14 0.58 | 75.50 30.00 | \$10.57 | | |
| St Paul MN 55130-3531 | | Citywide Street Lighting | 3 | 0.38 | 30.00 | \$17.40 | | |
| *594 HAWTHORNE AVE E | | *** Owner and Taxpaye | skakak | | | \$40.27 | | |
| *Ward: 6 | | Owner and Taxpaye | | | - | | | |
| *Pending as of: 8/24/2021 | | | Total Assessm | | | \$40.27 | | |
| | | | This Payment: | : | | \$0.00 | | |
| | | | Current Year I | | \$0.00 | | | |
| | | | Current Year l | | | \$0.00 | | |
| | | | Payoff Amou | nt: | | \$40.27 | | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date: | | Project: 2021SMSP Resolution #: | | Assmt: 210025 | Manager: LMR | Page 40 |
|------------------------------------------------------------------------------|----------------------------------------------------------------------------|-------------------------------------------------------------------------|------------------------------------|----------------------|---------------------------|------------------------------|--------------------|
| Owner or Taxpayer | Property Description | Item Description | <u>U</u> | nit Rate | Quantity | Charge Amts | Property ID |
| St Paul Public Housing Agency Attn: Comptroller 555 Wabasha St N Ste 400 | STONE & MORTON'S ADDITION TO THE CITY OF ST. PAUL LOT 1 BLK 1 | Street Sweeping - Resider Alley Sweeping Citywide Street Lighting | | 0.41 0.14 0.58 | 163.00 40.00 163.00 | \$66.83 \$5.60 \$94.54 | 20-29-22-43-0103 |
| St Paul MN 55102-1602 * 698 IVY AVE E | | *** Owner and Taxpayer | · *** | | _ | \$166.97 | |
| *Ward: 6 | | - | Total Assessmen | nt: | - | \$166.97 | |
| *Pending as of: 8/24/2021 | | | This Payment: | | | \$0.00 | |
| | | (| Current Year Pri | incipal: | | \$0.00 | |
| | | (| Current Year Int | terest: | | \$0.00 | |
| | | 1 | Payoff Amount | : | | \$166.97 | |
| | STONE & MORTON'S ADDITION TO | Street Sweeping - Reside | ential Stree | | 40.00 | | <u> </u> |
| 24 Ivy Ave E THE CITY OF ST. PAUL LOT 2 BLK Paul MN 55106-1923 694 IVY AVE E | THE CITY OF ST. PAUL LOT 2 BLK 1 | Alley Sweeping | | 0.14 | 40.00 | \$5.60 | 20 27 22 10 0101 |
| | | Citywide Street Lighting | | 0.58 | 40.00 | \$23.20 | |
| | | | | | = | \$45.20 | |
| *Ward: 6 | | *** Owner and Taxpayer | *** | | | | |
| *Pending as of: 8/24/2021 | | , | Total Assessment: | | | \$45.20 | |
| | | | This Payment: | | | \$0.00 | |
| | | (| Current Year Pri | incipal: | | \$0.00 | |
| | | | Current Year Int | | | \$0.00 | |
| | | 1 | Payoff Amount: | : | | \$45.20 | |
| | STONE & MORTON'S ADDITION TO | Street Sweeping - Reside | ential Stree | | | | <u> </u> |
| 6537 Upper 22nd St N | THE CITY OF ST. PAUL LOT 5 BLK 1 | Alley Sweeping | | 0.14 | 40.00 | \$5.60 | 20 22 22 10 0107 |
| Oakdale MN 55128-4323 | | Citywide Street Lighting | | 0.58 | 40.00 | \$23.20 | |
| *682 IVY AVE E | | | | | _ | \$45.20 | |
| *Ward: 6 | | *** Owner and Taxpayer | r *** | | | | |
| *Pending as of: 8/24/2021 | | - | Total Assessmer | nt: | | \$45.20 | |
| | | • | This Payment: | | | \$0.00 | |
| | | (| Current Year Pri | incipal: | | \$0.00 | |
| | | (| Current Year Int | terest: | | \$0.00 | |
| | |] | Payoff Amount: | : | | \$45.20 | |

| Public Improvement Assessment Roll by I | PID (Fee to Asmt) Ratification Date: | = | | Assmt: 210025 | Manager: LMR | Page 404 | |
|----------------------------------------------------------------|-----------------------------------------------------------------------------------------------------------------------------------------------------------------------------------|--------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------|--------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------|------------------------------------------------------|----------------------------------------------------------|------------------------------------------------------------------------------|--|
| Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID | |
| STONE & MORTON'S ADDITION TO THE CITY OF ST. PAUL LOT 6 BLK 1 | Alley Sweeping | | 0.41 0.14 0.58 | 40.00 40.00 40.00 | \$16.40 \$5.60 \$23.20 | 20-29-22-43-0108 | |
| | *** Owner and Taxpay | /er *** | | _ | \$45.20 | | |
| | | | | - | \$45.20 | | |
| | | Current Year | r Principal: | | \$0.00 | | |
| | | | | | \$45.20 | | |
| STONE & MORTON'S ADDITION TO THE CITY OF ST. PAUL LOT 11 BLK 1 | Alley Sweeping | | 0.41 0.14 0.58 | 40.00 40.00 40.00 | \$16.40 \$5.60 \$23.20 | 20-29-22-43-0113 | |
| | | | 0.30 | = | \$45.20 | | |
| | | Total Assessment: This Payment: Current Year Principal: Current Year Interest: Payoff Amount: | | | \$45.20 \$0.00 \$0.00 \$0.00 \$45.20 | | |
| STONE & MORTON'S ADDITION TO THE CITY OF ST. PAUL LOT 12 BLK 1 | Alley Sweeping | | 0.41 0.14 0.58 | | \$12.30 \$10.71 \$17.40 | | |
| | *** Owner and Taxpay | = | | _ | \$40.41 | | |
| | | Total Assessment: This Payment: Current Year Principal: Current Year Interest: | | | \$40.41 \$0.00 \$0.00 \$0.00 | | |
| | Property Description STONE & MORTON'S ADDITION TO THE CITY OF ST. PAUL LOT 6 BLK 1 STONE & MORTON'S ADDITION TO THE CITY OF ST. PAUL LOT 11 BLK 1 STONE & MORTON'S ADDITION TO | STONE & MORTON'S ADDITION TO THE CITY OF ST. PAUL LOT 11 BLK 1 STONE & MORTON'S ADDITION TO THE CITY OF ST. PAUL LOT 11 BLK 1 STONE & MORTON'S ADDITION TO THE CITY OF ST. PAUL LOT 11 BLK 1 STONE & MORTON'S ADDITION TO THE CITY OF ST. PAUL LOT 12 BLK 1 STONE & MORTON'S ADDITION TO THE CITY OF ST. PAUL LOT 12 BLK 1 STONE & MORTON'S ADDITION TO THE CITY OF ST. PAUL LOT 12 BLK 1 STONE & MORTON'S ADDITION TO THE CITY OF ST. PAUL LOT 12 BLK 1 STONE & MORTON'S ADDITION TO THE CITY OF ST. PAUL LOT 12 BLK 1 STONE & MORTON'S ADDITION TO THE CITY OF ST. PAUL LOT 12 BLK 1 Citywide Street Sweeping - Resi Alley Sweeping - Resi Alley Sweeping Citywide Street Lighting C | Ratification Date: Resolution Item Description STONE & MORTON'S ADDITION TO THE CITY OF ST. PAUL LOT 6 BLK 1 STONE & MORTON'S ADDITION TO THE CITY OF ST. PAUL LOT 11 BLK 1 STONE & MORTON'S ADDITION TO THE CITY OF ST. PAUL LOT 11 BLK 1 STONE & MORTON'S ADDITION TO THE CITY OF ST. PAUL LOT 11 BLK 1 STONE & MORTON'S ADDITION TO THE CITY OF ST. PAUL LOT 12 BLK 1 STONE & MORTON'S ADDITION TO THE CITY OF ST. PAUL LOT 12 BLK 1 STONE & MORTON'S ADDITION TO THE CITY OF ST. PAUL LOT 12 BLK 1 STONE & MORTON'S ADDITION TO THE CITY OF ST. PAUL LOT 12 BLK 1 STONE & MORTON'S ADDITION TO THE CITY OF ST. PAUL LOT 12 BLK 1 STONE & MORTON'S ADDITION TO THE CITY OF ST. PAUL LOT 12 BLK 1 STONE & MORTON'S ADDITION TO THE CITY OF ST. PAUL LOT 12 BLK 1 STONE & MORTON'S ADDITION TO THE CITY OF ST. PAUL LOT 12 BLK 1 STONE & MORTON'S ADDITION TO THE CITY OF ST. PAUL LOT 12 BLK 1 Total Assess This Paymer Current Yea Citywide Street Lighting *** Owner and Taxpayer *** Total Assess This Paymer Current Yea Curren | Ratification Date: Resolution #: Item Description | Ratification Date: Resolution #: Property Description | Property Description Item Description Unit Rate Quantity Charge Amts | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date: | | Project: 2021SMSP Resolution #: | | Assmt: 210025 | J | Page 405 |
|-----------------------------------------------------------|-----------------------------------------------------------------------------|--------------------------------------------------------------------|------------------------------------|----------------------|-------------------------|------------------------------|--------------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Daniel Hammons 1312 Payne Ave St Paul MN 55130-3543 | STONE & MORTON'S ADDITION TO THE CITY OF ST. PAUL LOT 15 BLK 1 | Street Sweeping - Com Alley Sweeping Citywide Street Lightin | | 1.04 0.14 0.58 | 25.00 25.00 25.00 | \$26.00 \$3.50 \$14.50 | 20-29-22-43-0117 |
| *1312 PAYNE AVE *Ward: 6 | | *** Owner and Taxpay | /er *** | | _ | \$44.00 | |
| *Pending as of: 8/24/2021 | | 1 3 | Total Assessi | ment: | | \$44.00 | |
| | | | This Paymen | it: | | \$0.00 | |
| | | | Current Year | • | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amou | unt: | | \$44.00 | |
| Patricia L Devallier | STONE & MORTON'S ADDITION TO | Street Sweeping - Com | — — — – mercial/Art | | | | 20-29-22-43-0119 |
| Mark R Devallier | THE CITY OF ST. PAUL LOT 18 BLK 1 | Alley Sweeping | | 0.14 | 25.00 | \$3.50 | 20 25 22 10 0115 |
| 1306 Payne Ave | | Citywide Street Lightin | ng | 0.58 | 25.00 | \$14.50 | |
| St Paul MN 55130-3543 | | | | | - | \$44.00 | |
| *1306 PAYNE AVE | | *** Owner and Taxpay | er *** | | | | |
| *Ward: 6 | | Total Assessment: This Payment: Current Year Principal: | | | | \$44.00 | |
| *Pending as of: 8/24/2021 | | | | | | \$0.00 | |
| | | | | | | \$0.00 \$0.00 | |
| | | | Current Year Interest: | | | | |
| | | | Payoff Amou | unt: | | \$44.00 | |
| | STONE & MORTON'S ADDITION TO | | — — — – mercial/Art | | — — | | <u> 20-29-22-43-0120</u> |
| 1300 Payne Ave | THE CITY OF ST. PAUL LOTS 19 THRU | Alley Sweeping | | 0.14 | 75.00 | \$10.50 | 20 25 22 10 0120 |
| St Paul MN 55130-3543 | LOT 21 BLK 1 | Citywide Street Lightin | ng | 0.58 | 75.00 | \$43.50 | |
| *1300 PAYNE AVE | | | | | _ | \$132.00 | |
| *Ward: 6 | | *** Owner and Taxpay | /er *** | | | | |
| *Pending as of: 8/24/2021 | | | Total Assessi | ment: | | \$132.00 | |
| | | | This Paymen | | | \$0.00 | |
| | | | Current Year | _ | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amou | unt: | | \$132.00 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date: | | roject: 2021SMSP Resolution #: | Assmt: 210025 | smt: 210025 Manager: LMR | Page 406 |
|-------------------------------------------|-----------------------------------------------------------------------------|----------------------------|-----------------------------------|-----------------|--------------------------|------------------|
| Owner or Taxpayer | Property Description | Item Description | <u>Unit Rate</u> | Quantity | Charge Amts | Property ID |
| Steven M Sundberg | STONE & MORTON'S ADDITION TO | Street Sweeping - Commer | cial/Art 1.04 | 16.50 | | |
| 5845 135th St N | THE CITY OF ST. PAUL LOT 22 BLK 1 | Street Sweeping - Resident | ial Stree 0.41 | 57.00 | \$23.37 | |
| Hugo MN 55038-9235 | | Alley Sweeping | 0.14 | 33.00 | \$4.62 | |
| *647 HYACINTH AVE E | | Citywide Street Lighting | 0.58 | 73.50 | \$42.63 | |
| *Ward: 6 | | | | _ | \$87.78 | |
| *Pending as of: 8/24/2021 | | *** Owner and Taxpayer * | ** | _ | | |
| | | To | otal Assessment: | | \$87.78 | |
| | | Th | nis Payment: | | \$0.00 | |
| | | Cu | urrent Year Principal: | | \$0.00 | |
| | | Cu | urrent Year Interest: | | \$0.00 | |
| | | Pa | nyoff Amount: | | \$87.78 | |
| Randall J Martens | STONE & MORTON'S ADDITION TO | Street Sweeping - Resident | ial Stree 0.41 | 60.00 | | <u> </u> |
| 661 Hyacinth Ave St Paul MN 55106-1910 | THE CITY OF ST. PAUL W 1/2 OF LOT | Alley Sweeping | 0.14 | | \$8.40 | 20-29-22-43-0124 |
| | 26 AND ALL OF LOT 25 BLK 1 | Citywide Street Lighting | 0.58 | | \$34.80 | |
| *661 HYACINTH AVE E | | | | = | \$67.80 | |
| *Ward: 6 | | *** Owner and Taxpayer * | ** | | | |
| *Pending as of: 8/24/2021 | | To | otal Assessment: | \$67.80 | | |
| | | Th | nis Payment: | | \$0.00 | |
| | | Cu | urrent Year Principal: | \$0.00 | | |
| | | Cu | urrent Year Interest: | | \$0.00 | |
| | | Pa | ayoff Amount: | | \$67.80 | |
| | STONE & MORTON'S ADDITION TO | Street Sweeping - Resident | ial Stree 0.41 | 60.00 | | <u> </u> |
| 669 Hyacinth Ave E | THE CITY OF ST. PAUL E 1/2 OF LOT | Alley Sweeping | 0.14 | 60.00 | \$8.40 | 20-27-22-43-0123 |
| St Paul MN 55106-1910 | 26 AND ALL OF LOT 27 BLK 1 | Citywide Street Lighting | 0.58 | 60.00 | \$34.80 | |
| *669 HYACINTH AVE E | | | | _ | \$67.80 | |
| *Ward: 6 | | *** Owner and Taxpayer * | ** | | | |
| *Pending as of: 8/24/2021 | | To | otal Assessment: | | \$67.80 | |
| | | Th | nis Payment: | | \$0.00 | |
| | | Cu | urrent Year Principal: | | \$0.00 | |
| | | | urrent Year Interest: | | \$0.00 | |
| | | Pa | ayoff Amount: | | \$67.80 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date: | | Project: 2021SMSP Resolution #: | | Assmt: 210025 | Manager: LMR | Page 407 |
|---------------------------------------------------------------------|----------------------------------------------------------------------------|-------------------------------------------------------------------------|------------------------------------|----------------------|-------------------------|------------------------------|--------------------|
| Owner or Taxpayer | Property Description | Item Description | <u>U</u> | Init Rate | Quantity | Charge Amts | Property ID |
| Marcella Hartman 5496 Oakley St Unit 309 Duluth MN 55804-1323 | STONE & MORTON'S ADDITION TO THE CITY OF ST. PAUL LOT 29 BLK 1 | Street Sweeping - Resider Alley Sweeping Citywide Street Lighting | | 0.41 0.14 0.58 | 40.00 40.00 40.00 | \$16.40 \$5.60 \$23.20 | 20-29-22-43-0127 |
| *677 HYACINTH AVE E *Ward: 6 | | *** Owner and Taxpayer | *** | | _ | \$45.20 | |
| *Pending as of: 8/24/2021 | | - | Total Assessmer | nt: | | \$45.20 | |
| | | | This Payment: | | | \$0.00 | |
| | | | Current Year Pri | | | \$0.00 | |
| | | | Current Year Int | | | \$0.00 | |
| | | 1 | Payoff Amount | : | | \$45.20 | |
| | STONE & MORTON'S ADDITION TO | Street Sweeping - Reside | ntial Stree | 0.41 | | \$16.40 | 20-29-22-43-0129 |
| Mai Chue Vang | THE CITY OF ST. PAUL LOT 31 BLK 1 | Alley Sweeping | | 0.14 | 40.00 | \$5.60 | |
| 685 Hyacinth Ave E | | Citywide Street Lighting | | 0.58 | 40.00 | \$23.20 | |
| St Paul MN 55106-1910 | | | | | | \$45.20 | |
| *685 HYACINTH AVE E | | *** Owner and Taxpayer | . *** | | | | |
| *Ward: 6 | | Total Assessment: | | | | \$45.20 | |
| *Pending as of: 8/24/2021 | | • | This Payment: | | | \$0.00 | |
| | | (| incipal: | | \$0.00 | | |
| | | | Current Year Int | | | \$0.00 | |
| | |] | Payoff Amount | : | | \$45.20 | |
| | STONE & MORTON'S ADDITION TO | Street Sweeping - Reside | ntial Stree | | 40.00 | | <u> </u> |
| Ismael A Cabrera Cardona | THE CITY OF ST. PAUL LOT 33 BLK 1 | Alley Sweeping | | 0.14 | 40.00 | \$5.60 | 20 27 22 10 0101 |
| 691 Hyacinth Ave E | | Citywide Street Lighting | | 0.58 | 40.00 | \$23.20 | |
| St Paul MN 55106-1910 | | | | | = | \$45.20 | |
| *691 HYACINTH AVE E | | *** Owner and Taxpayer | *** | | | | |
| *Ward: 6 | | - | Total Assessmer | nt: | | \$45.20 | |
| *Pending as of: 8/24/2021 | | • | This Payment: | | | \$0.00 | |
| | | (| Current Year Pri | incipal: | | \$0.00 | |
| | | (| Current Year Int | terest: | | \$0.00 | |
| | | 1 | Payoff Amount | : | | \$45.20 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Ratification Date: | ` ' | | Assmt: 210025 | Manager: LMR | Page 408 |
|---------------------------|---------------------------------------|--------------------------------------|---------------------|------------|-----------------|----------------|--------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Gordon R Whiting | STONE & MORTON'S ADDITION TO | Street Sweeping - Resid | idential Stree 0.41 | | 40.00 | \$16.40 | 20-29-22-43-0135 |
| 690 Hyacinth Ave E | THE CITY OF ST. PAUL LOT 3 BLK 2 | Alley Sweeping | | 0.14 | 40.00 | \$5.60 | |
| St Paul MN 55106-1911 | | Citywide Street Lighting | g | 0.58 | 40.00 | \$23.20 | |
| *690 HYACINTH AVE E | | | | | _ | \$45.20 | |
| *Ward: 6 | | *** Owner and Taxpaye | er *** | | | | |
| *Pending as of: 8/24/2021 | | | Total Assessn | nent: | | \$45.20 | |
| | | | This Payment | : | | \$0.00 | |
| | | | Current Year | Principal: | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amou | int: | | \$45.20 | |
| | STONE & MORTON'S ADDITION TO | Street Sweeping - Resid | ential Stree | 0.41 | | <u>\$16.40</u> | <u> </u> |
| Oscar Suastegui Ortega | THE CITY OF ST DALII LOT ADIV 2 | | | 0.14 | 40.00 | \$5.60 | 20 27 22 10 0100 |
| 686 Hyacinth Ave E | | Citywide Street Lighting | g | 0.58 | 40.00 | \$23.20 | |
| St Paul MN 55106-1911 | | | | | _ | \$45.20 | |
| *686 HYACINTH AVE E | | *** Owner and Taxpaye | er *** | | | | |
| *Ward: 6 | | Total Assessment: This Payment: | | | | \$45.20 | |
| *Pending as of: 8/24/2021 | | | | | | \$0.00 | |
| | | | Current Year | Principal: | | \$0.00 | |
| | | | Current Year | Interest: | | \$0.00 | |
| | | | Payoff Amount: | | | \$45.20 | |
| | STONE & MORTON'S ADDITION TO | Street Sweeping - Resident | ential Stree | 0.41 | | | <u> </u> |
| Berri K B Reiser | THE CITY OF ST. PAUL E 30 FT OF | Alley Sweeping | | 0.14 | 60.00 | \$8.40 | 20-27-22-45-0150 |
| 674 Hyacinth Ave E | LOT 7 AND W 30 FT OF LOT 6 BLK 2 | Citywide Street Lighting | g | 0.58 | 60.00 | \$34.80 | |
| St Paul MN 55106-1911 | | | | | _ | \$67.80 | |
| *674 HYACINTH AVE E | | *** Owner and Taxpaye | er *** | | | | |
| *Ward: 6 | | | Total Assessn | nent: | - | \$67.80 | |
| *Pending as of: 8/24/2021 | | | This Payment | : | | \$0.00 | |
| | | | Current Year | Principal: | | \$0.00 | |
| | | | Current Year | Interest: | | \$0.00 | |
| | | | Payoff Amou | int: | | \$67.80 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by I | PID (Fee to Asmt) Ratification Date: | Project: 20 Resolution | | Assmt: 210025 | Manager: LMR | Page 409 |
|----------------------------------------------------------------------------------|-------------------------------------------------------------------------------------------------|-----------------------------------------------------------------------------------------------|--------------------------------------------------------------------------------|----------------------|-------------------------|--------------------------------------------------|------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Pamela A Feske Charles O Feske 668 Hyacinth Ave E | STONE & MORTON'S ADDITION TO THE CITY OF ST. PAUL W 10 FT OF LOT 7 AND ALL OF LOT 8 BLK 2 | FT OF Alley Sweeping | | 0.41 0.14 0.58 | 50.00 50.00 50.00 | \$20.50 \$7.00 \$29.00 | 20-29-22-43-0139 |
| St Paul MN 55106-1911 *668 HYACINTH AVE E | | *** Owner and Taxpay | /er *** | | _ | \$56.50 | |
| *Ward: 6 *Pending as of: 8/24/2021 | | | Total Assess | | | \$56.50 \$0.00 | |
| | | | Current Year | r Principal: | | \$0.00 \$0.00 \$0.00 | |
| | | | Payoff Amo | | | \$56.50 | |
| Jeffery C Linnell Lynne M Linnell | STONE & MORTON'S ADDITION TO THE CITY OF ST. PAUL LOT 9 BLK 2 | Street Sweeping - Resi Alley Sweeping Citywide Street Lightin | | 0.41 0.14 0.58 | 40.00 40.00 40.00 | \$16.40 \$5.60 \$23.20 | 20-29-22-43-0140 |
| 664 Hyacinth Ave E St Paul MN 55106-1911 *664 HYACINTH AVE E | | *** Owner and Taxpay | | 0.36 | 40.00 | \$45.20 | |
| *Ward: 6 *Pending as of: 8/24/2021 | | Total Assessment: This Payment: Current Year Principal: Current Year Interest: Payoff Amount: | | | | \$45.20 \$0.00 \$0.00 \$0.00 \$45.20 | |
| Candyce C Anderson 3661 34th Ave S Minneapolis MN 55406-2734 *658 HYACINTH AVE E | STONE & MORTON'S ADDITION TO THE CITY OF ST. PAUL LOT 11 BLK 2 | Street Sweeping - Resi Alley Sweeping Citywide Street Lightin | | 0.41 0.14 0.58 | 40.00 40.00 40.00 | \$16.40 \$5.60 \$23.20 \$45.20 | |
| *Ward: 6 | | *** Owner and Taxpay | /er *** | | | ψτ3.20 | |
| *Pending as of: 8/24/2021 | | | Total Assessment: This Payment: Current Year Principal: Current Year Interest: | | | \$45.20 \$0.00 \$0.00 \$0.00 | |
| | | | Payoff Amo | unt: | | \$45.20 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Project: 2021SMSP A Ratification Date: Resolution #: | | Assmt: 210025 | Manager: LMR | Page 410 | |
|-----------------------------------------------------------------------------|------------------------------------------------------------------------------------|---------------------------------------------------------------------------|-----------------|----------------------|-------------------------|-------------------------------|------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Richard & Rachel Price Price 898 Winterberry Ct St Paul MN 55125-4831 | STONE & MORTON'S ADDITION TO THE CITY OF ST. PAUL LOTS 14, 15 & LOT 16 BLK 2 | Street Sweeping - Comm Alley Sweeping Citywide Street Lighting | | 1.04 0.14 0.58 | 75.00 75.00 75.00 | \$78.00 \$10.50 \$43.50 | 20-29-22-43-0145 |
| *1280 PAYNE AVE *Ward: 6 | | *** Owner and Taxpaye | er *** | | _ | \$132.00 | |
| *Pending as of: 8/24/2021 | | | Total Assessm | nent: | - | \$132.00 | |
| | | | This Payment | :: | | \$0.00 | |
| | | | Current Year | Principal: | | \$0.00 | |
| | | | Current Year | Interest: | | \$0.00 | |
| | | | Payoff Amou | int: | | \$132.00 | |
| | STONE & MORTON'S ADDITION TO | Street Sweeping - Comm | mercial/Art | | | | |
| 9244 Neal Ave N | THE CITY OF ST. PAUL LOT 17 BLK 2 | Alley Sweeping | | 0.14 | 25.00 | \$3.50 | 20-29-22-43-0140 |
| Stillwater MN 55082-9496 | | Citywide Street Lighting | g | 0.58 | 25.00 | \$14.50 | |
| *1274 PAYNE AVE | | | _ | | = | \$44.00 | |
| *Ward: 6 | | *** Owner and Taxpaye | er *** | | | φ11.00 | |
| *Pending as of: 8/24/2021 | | | Total Assessm | nent: | | \$44.00 | |
| | | | This Payment | : | | \$0.00 | |
| | | | Current Year | Principal: | | \$0.00 | |
| | | | Current Year | Interest: | | \$0.00 | |
| | | | Payoff Amou | int: | | \$44.00 | |
| | STONE & MORTON'S ADDITION TO | Street Sweeping - Comm | mercial/Art | 1.04 | | | <u> </u> |
| Gloria L Avila | THE CITY OF ST. PAUL LOTS 18 AND | Alley Sweeping | | 0.14 | 50.00 | \$7.00 | 20-29-22-43-0147 |
| 1270 Payne Ave Apt 1 | LOT 19 BLK 2 | Citywide Street Lighting | g | 0.58 | 50.00 | \$29.00 | |
| St Paul MN 55130-3541 | | | | | _ | \$88.00 | |
| *1270 PAYNE AVE | | *** Owner and Taxpaye | er *** | | | \$ | |
| *Ward: 6 | | | Total Assessn | ment: | - | \$88.00 | |
| *Pending as of: 8/24/2021 | | | This Payment | :: | | \$0.00 | |
| | | | Current Year | Principal: | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amou | ınt: | | \$88.00 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by I | PID (Fee to Asmt) Ratification Date: | Project: 202 Resolution | | Assmt: 210025 | Manager: LMR | Page 4 |
|-------------------------------|-------------------------------------------------------------------|-------------------------------------------|----------------------------|--------------|-----------------|-------------------|--------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Ideal Investments 2 Llc | STONE & MORTON'S ADDITION TO | Street Sweeping - Com | mercial/Art | 1.04 | 50.00 | \$52.00 | 20-29-22-43-0148 |
| 4140 Yosemite Ave S | THE CITY OF ST. PAUL LOTS 20 AND | Alley Sweeping | | 0.14 | 50.00 | \$7.00 | |
| Minneapolis MN 55416-3123 | LOT 21 BLK 2 | Citywide Street Lightin | ıg | 0.58 | 50.00 | \$29.00 | |
| *1268 PAYNE AVE | | | | | _ | \$88.00 | |
| *Ward: 6 | | *** Owner and Taxpay | er *** | | | | |
| *Pending as of: 8/24/2021 | | | Total Assess | ment: | | \$88.00 | |
| | | | This Paymer | nt: | | \$0.00 | |
| | | | Current Year | r Principal: | | \$0.00 | |
| | | | Current Year | r Interest: | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$88.00 | |
| | | | | | | | |
| Fyr Sfr Borrower Llc | STONE & MORTON'S ADDITION TO THE CITY OF ST. PAUL LOT 22 BLK 2 | Street Sweeping - Com | | 1.04 | 15.50 | \$16.12 | 20-29-22-43-0149 |
| Co Havenbrook Homes | THE CITT OF ST. TAGE EGT 22 BEK 2 | Street Sweeping - Resid | dential Stree | 0.41 | 55.00 | \$22.55 | |
| 3505 Koger Blvd Ste 400 | | Alley Sweeping | _ | 0.14 | 31.00 | \$4.34 | |
| Duluth GA 30096-7672 | | Citywide Street Lightin | ıg | 0.58 | 70.50 | \$40.89 | |
| *1264 PAYNE AVE | | *** 0 1 T | *** | | | \$83.90 | |
| *Ward: 6 | | *** Owner and Taxpay | er | | | | |
| *Pending as of: 8/24/2021 | | | Total Assess | ment: | | \$83.90 | |
| | | This Payment: | | | | \$0.00 | |
| | | | Current Year | r Principal: | \$0.00 | | |
| | | | Current Year | r Interest: | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$83.90 | |
| | STONE & MODELNIS A PRINTING TO | Character Committee Design | | | | | |
| Telly Wilcox | STONE & MORTON'S ADDITION TO THE CITY OF ST. PAUL LOT 25 BLK 2 | Street Sweeping - Resid Alley Sweeping | icilliai Stree | 0.41 0.14 | 40.00 40.00 | \$16.40 \$5.60 | 20-29-22-43-0152 |
| 75 Wentworth Av W | | Citywide Street Lightin | | 0.14 | 40.00 | \$3.00 | |
| West St Paul MN 55118-3828 | | City wide Sueet Lightin | 5 | 0.38 | +0.00 | | |
| *661 ORANGE AVE E *Ward: 6 | | *** Owner and Taxpay | er *** | | | \$45.20 | |
| *Pending as of: 8/24/2021 | | | Total Assess | ment: | - | \$45.20 | |
| | | | This Paymer | | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Current Year | _ | | \$0.00 | |
| | | | Payoff Amo | | | \$0.00 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Ratification Date: | Project: 2021S Resolution #: | SMSP | Assmt: 210025 | Manager: LMR | Page 414 |
|------------------------------------------------------------|------------------------------------------------------------------|------------------------------------------------------------------------|------------------------------------|----------------------|-------------------------|------------------------------|--------------------|
| Owner or Taxpayer | Property Description | Item Description | <u>I</u> | Jnit Rate | Quantity | Charge Amts | Property ID |
| Dennis Schoch 694 Orange Ave E St Paul MN 55106-1917 | STONE & MORTON'S ADDITION TO THE CITY OF ST. PAUL LOT 2 BLK 3 | Street Sweeping - Reside Alley Sweeping Citywide Street Lighting | | 0.41 0.14 0.58 | 40.00 40.00 40.00 | \$16.40 \$5.60 \$23.20 | 20-29-22-43-0163 |
| *694 ORANGE AVE E *Ward: 6 | | *** Owner and Taxpayer | Owner and Taxpayer *** | | | | |
| *Pending as of: 8/24/2021 | | | Total Assessmen | nt: | - | \$45.20 | |
| | | | This Payment: | | | \$0.00 | |
| | | | Current Year Pr Current Year In | _ | | \$0.00 \$0.00 | |
| | | | Payoff Amount | | | \$45.20 | |
| | STONE & MORTON'S ADDITION TO | Street Sweeping - Reside | | | | | |
| Douglas Nelson 684 Orange Ave E | THE CITY OF ST. PAUL LOT 3 BLK 3 | Alley Sweeping - Reside | muai Succ | 0.41 | 40.00 | \$5.60 | 20-29-22-43-0164 |
| St Paul MN 55106-5917 | | Citywide Street Lighting | | 0.58 | 40.00 | \$23.20 | |
| *688 ORANGE AVE E | | | | | _ | \$45.20 | |
| *Ward: 6 | | *** Owner and Taxpayer | r *** | | | | |
| *Pending as of: 8/24/2021 | | | Total Assessmen | nt: | - | \$45.20 | |
| | | | This Payment: | | | \$0.00 | |
| | | | Current Year Pr | _ | | \$0.00 | |
| | | | Current Year In | | | \$0.00 | |
| | | | Payoff Amount | : : | | \$45.20 | |
| | STONE & MORTON'S ADDITION TO | Street Sweeping - Reside | ential Stree | 0.41 | | | 20-29-22-43-0165 |
| 684 Orange Ave E | THE CITY OF ST. PAUL LOT 4 BLK 3 | Alley Sweeping | | 0.14 | 40.00 | \$5.60 | |
| St Paul MN 55106-5917 | | Citywide Street Lighting | | 0.58 | 40.00 | \$23.20 | |
| *684 ORANGE AVE E | | | | | | \$45.20 | |
| *Ward: 6 | | *** Owner and Taxpayer | r *** | | _ | | |
| *Pending as of: 8/24/2021 | | | Total Assessmen | nt: | | \$45.20 | |
| | | | This Payment: | | | \$0.00 | |
| | | | Current Year Pr | 1 | | \$0.00 | |
| | | | Current Year In | | | \$0.00 | |
| | | | Payoff Amount | : | | \$45.20 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Ratification Date: | Project: 202 Resolution | | Assmt: 210025 | Manager: LMR | Page 415 |
|-------------------------------------------------------------------|------------------------------------------------------------------|----------------------------------------------------------------------|-------------------------|----------------------|-------------------------|------------------------------|------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Randy N Yajcherthao 6260 Alden Way Ne Fridley MN 55432-4823 | STONE & MORTON'S ADDITION TO THE CITY OF ST. PAUL LOT 5 BLK 3 | Street Sweeping - Resid Alley Sweeping Citywide Street Lightin | | 0.41 0.14 0.58 | 40.00 40.00 40.00 | \$16.40 \$5.60 \$23.20 | 20-29-22-43-0166 |
| *682 ORANGE AVE E *Ward: 6 | | *** Owner and Taxpay | er *** | | | \$45.20 | |
| *Pending as of: 8/24/2021 | | 1 3 | Total Assessi | ment: | - | \$45.20 | |
| | | | This Paymen | ıt: | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Current Year | Interest: | | \$0.00 | |
| | | | Payoff Amou | unt: | | \$45.20 | |
| | | | | | | | |
| Richard G Finch Jr | STONE & MORTON'S ADDITION TO | Street Sweeping - Resid | lential Stree | 0.41 | 40.00 | \$16.40 | 20-29-22-43-0167 |
| 678 Orange Ave E | THE CITY OF ST. PAUL LOT 6 BLK 3 | Alley Sweeping | | 0.14 | 40.00 | \$5.60 | |
| St Paul MN 55106-1917 | | Citywide Street Lightin | g | 0.58 | 40.00 | \$23.20 | |
| *678 ORANGE AVE E | | | | | | \$45.20 | |
| *Ward: 6 | | *** Owner and Taxpay | er *** | | | | |
| *Pending as of: 8/24/2021 | | | Total Assessi | ment: | | \$45.20 | |
| | | | This Paymen | ıt: | | \$0.00 | |
| | | | Current Year | Principal: | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amou | unt: | | \$45.20 | |
| | | | | | | | |
| Dylan K Howell | STONE & MORTON'S ADDITION TO THE CITY OF ST. PAUL LOT 7 BLK 3 | Street Sweeping - Resid | lential Stree | 0.41 | 40.00 | \$16.40 | 20-29-22-43-0168 |
| 674 Orange Ave E | THE CITY OF ST. TAGE EGT. 7 BER. 5 | Alley Sweeping Citywide Street Lightin | ~ | 0.14 0.58 | 40.00 40.00 | \$5.60 \$23.20 | |
| St Paul MN 55106-1917 | | Citywide Street Lightin | g | 0.36 | 40.00 | | |
| *674 ORANGE AVE E | | *** Owner and Taxpay | *** | | | \$45.20 | |
| *Ward: 6 | | Owner and Taxpay | er **** | | | | |
| *Pending as of: 8/24/2021 | | | Total Assessi | ment: | | \$45.20 | |
| | | | This Paymen | | | \$0.00 | |
| | | | Current Year | _ | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amou | unt: | | \$45.20 | |

\$107.36

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Ratification Date: | Project: 202 Resolution | | Assmt: 210025 | Manager: LMR | Page 419 |
|---------------------------------------------------------------------|--------------------------------------------------------------------------------------------------|----------------------------------------------------------------------|-------------------------|----------------------|-------------------------|-------------------------------|------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Betty Jean Gruber Richard Michael Gruber 671 Hawthorne Ave E Unit A | STONE & MORTON'S ADDITION TO THE CITY OF ST. PAUL EX W 5 FT LOT 27 AND ALL OF LOT 28 BLK 3 | Street Sweeping - Resid Alley Sweeping Citywide Street Lightin | | 0.41 0.14 0.58 | 75.00 75.00 75.00 | \$30.75 \$10.50 \$43.50 | 20-29-22-43-0181 |
| St Paul MN 55106-1904 *671 HAWTHORNE AVE E | | *** Owner and Taxpay | er *** | | | \$84.75 | |
| *Ward: 6 | | 1 3 | Total Assess | ment: | | \$84.75 | |
| *Pending as of: 8/24/2021 | | | This Paymen | ıt: | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Current Year | Interest: | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$84.75 | |
| | - — — — — — — — — | | | | | | |
| Paul A Englund | STONE & MORTON'S ADDITION TO | Street Sweeping - Resid | dential Stree | 0.41 | 40.00 | \$16.40 | 20-29-22-43-0182 |
| 675 Hawthorne Ave E | THE CITY OF ST. PAUL LOT 29 BLK 3 | Alley Sweeping | | 0.14 | 40.00 | \$5.60 | |
| St Paul MN 55106-1904 | | Citywide Street Lightin | ıg | 0.58 | 40.00 | \$23.20 | |
| *675 HAWTHORNE AVE E | | | | | | \$45.20 | |
| *Ward: 6 | | *** Owner and Taxpay | er *** | | | | |
| *Pending as of: 8/24/2021 | | | Total Assess | ment: | - | \$45.20 | |
| | | | This Paymen | nt: | | \$0.00 | |
| | | | Current Year | Principal: | | \$0.00 | |
| | | | Current Year | Interest: | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$45.20 | |
| | | | | | | | |
| Amber Ruth | STONE & MORTON'S ADDITION TO THE CITY OF ST. PAUL LOT 31 BLK 3 | Street Sweeping - Resid | dential Stree | 0.41 | 40.00 | \$16.40 | 20-29-22-43-0184 |
| Jason Pluff | THE CITY OF ST. TAGE LOT ST BER. S | Alley Sweeping Citywide Street Lightin | .~ | 0.14 0.58 | 40.00 40.00 | \$5.60 \$23.20 | |
| 683 Hawthorne Ave | | Citywide Street Lightin | ıg | 0.36 | 40.00 | | |
| St Paul MN 55106-1904 | | *** Owner and Taxpay | · · · *** | | | \$45.20 | |
| *683 HAWTHORNE AVE E | | Owner and Taxpay | er · · · | | | | |
| *Ward: 6 | | | Total Assess | ment: | | \$45.20 | |
| *Pending as of: 8/24/2021 | | | This Paymen | | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$45.20 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by l | PID (Fee to Asmt) Ratification Date: | Project: 2021 Resolution # | | Assmt: 210025 | Manager: LMR | Page 420 |
|-------------------------------------------------------------------------------------------|--------------------------------------------------------------------------|---------------------------------------------------------------------------------------|-----------------------------------------------------------------------------------------------|------------------------------|--------------------------------------------------|----------------------------------------------------|------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Najwa Duncan 693 Hawthorne Ave E St Paul MN 55106-1904 *693 HAWTHORNE AVE E | STONE & MORTON'S ADDITION TO THE CITY OF ST. PAUL LOT 33 BLK 3 | Street Sweeping - Resid Alley Sweeping Citywide Street Lighting | g | 0.41 0.14 0.58 | 40.00 40.00 40.00 | \$16.40 \$5.60 \$23.20 \$45.20 | 20-29-22-43-0186 |
| *Ward: 6 | | *** Owner and Taxpaye | er *** | | | | |
| *Pending as of: 8/24/2021 | | | Total Assessm This Payment: Current Year I Current Year I Payoff Amount | : Principal: Interest: | | \$45.20 \$0.00 \$0.00 \$0.00 \$45.20 | |
| Tyler Lee Joua Xiong 697 Hawthorne Ave E | STONE & MORTON'S ADDITION TO THE CITY OF ST. PAUL LOT 34 BLK 3 | Street Sweeping - Resid Alley Sweeping Citywide Street Lighting | | 0.41 0.14 0.58 | 81.50 40.00 81.50 | \$33.42 \$5.60 \$47.27 | 20-29-22-43-0187 |
| St Paul MN 55106-1904 *697 HAWTHORNE AVE E | | *** Owner and Taxpaye | er *** | | | \$86.29 | |
| *Ward: 6 *Pending as of: 8/24/2021 | | | Total Assessment: This Payment: Current Year Principal: Current Year Interest: Payoff Amount: | | \$86.29 \$0.00 \$0.00 \$0.00 \$86.29 | | |
| Bb Housing Associates Llc 755 Selby Ave Unit A St Paul MN 55104-7643 *696 HAWTHORNE AVE E | STONE & MORTON'S ADDITION TO THE CITY OF ST. PAUL LOTS I AND LOT 2 BLK 4 | Street Sweeping - Resid Alley Sweeping Citywide Street Lighting *** Owner and Taxpaye | g | 0.41 0.14 0.58 | 100.50 80.00 100.50 | \$41.21 \$11.20 \$58.29 | 20-29-22-43-0188 |
| *Ward: 6 *Pending as of: 8/24/2021 | | ··· Owner and Taxpaye | Total Assessm This Payment: Current Year l Current Year l | : Principal: Interest: | | \$110.70 \$0.00 \$0.00 \$0.00 \$110.70 | |

\$45.20

\$70.40

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Ratification Date: | Project: 20 Resolution | | Assmt: 210025 | Manager: LMR | Page 424 |
|-------------------------------------------------------------------------------------------------------------------------------|-------------------------------------------------------------------------------------------|---------------------------------------------------------------------------------------------------------------------------|-----------------------------------------------------------------------------------------------|--------------------------------------|-------------------------|----------------------------------------------------|------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Bhavin Padhiar 759 Newport Cir Redwood City CA 94065-1912 | STONE & MORTON'S ADDITION TO THE CITY OF ST. PAUL LOT 28 BLK 4 | Street Sweeping - Com Alley Sweeping Citywide Street Lightin | | 1.04 0.14 0.58 | 40.00 40.00 40.00 | \$41.60 \$5.60 \$23.20 | 20-29-22-43-0207 |
| *673 MARYLAND AVE E *Ward: 6 | | *** Taxpayer and 3rd | Party *** | | _ | \$70.40 | |
| *Pending as of: 8/24/2021 | | | Total Asses This Payme Current Yea Current Yea Payoff Amo | nt: nr Principal: nr Interest: | | \$70.40 \$0.00 \$0.00 \$0.00 \$70.40 | |
| Midwest Gir Group Llc 500 Central Park Blvd New Brighton MN 55112-2109 *673 MARYLAND AVE E *Ward: 6 *Pending as of: 8/24/2021 | STONE & MORTON'S ADDITION TO THE CITY OF ST. PAUL LOT 28 BLK 4 | *** Owner *** | Total Assessment: This Payment: Current Year Principal: Current Year Interest: Payoff Amount: | | | \$70.40 \$0.00 \$0.00 \$0.00 \$70.40 | 20-29-22-43-0207 |
| Alberto Reynoso Arellano 679 Maryland Ave E St Paul MN 55106-2524 *679 MARYLAND AVE E | STONE & MORTON'S ADDITION TO THE CITY OF ST. PAUL W 1/2 OF LOT 31 AND ALL OF LOT 30 BLK 4 | Street Sweeping - Com Alley Sweeping Citywide Street Lightin | ng | 1.04 0.14 0.58 | 60.00 60.00 60.00 | \$62.40 \$8.40 \$34.80 \$105.60 | 20-29-22-43-0209 |
| *Ward: 6 *Pending as of: 8/24/2021 | | *** Owner and Taxpayer *** Total Assessment: This Payment: Current Year Principal: Current Year Interest: Payoff Amount: | | | | \$105.60 \$0.00 \$0.00 \$0.00 \$105.60 | |

\$334.51

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by I | PID (Fee to Asmt) Ratification Date: | Project: 20 Resolution | | Assmt: 210025 | Manager: LMR | Page 420 |
|-------------------------------------------------|--------------------------------------------------------------------------|----------------------------------------------------|---------------------------|--------------|-----------------|--------------|-------------------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Scarvey Mccargo | JOSEPH R. WEIDE'S 2ND ADDITION | Street Sweeping - Reside | ential Stree | 0.41 | 41.00 | \$16.81 | 20-29-22-43-0219 |
| 1265 Margaret St | TO THE CITY OF ST. PAUL E 10 FT OF LOT 13 & W 0.50 FT OF LOT 11 & ALL | Alley Sweeping | | 0.14 | 41.00 | \$5.74 | |
| St Paul MN 55106-4716 | OF LOT 12 BLK 2 | Citywide Street Lighting | 5 | 0.58 | 41.00 | \$23.78 | |
| *622 ORANGE AVE E | | data o tra | ale ale ale | | | \$46.33 | |
| *Ward: 6 | | *** Owner and Taxpaye | er *** | | | | |
| *Pending as of: 8/24/2021 | | | Total Assess | ment: | | \$46.33 | |
| | | | This Paymer | nt: | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$46.33 | |
| | JOSEPH R. WEIDE'S 2ND ADDITION | Street Sweeping - Reside | ential Streε | | | | <u> </u> |
| 628 Orange Ave | TO THE CITY OF ST. PAUL EX W 0.50 | Alley Sweeping | | 0.14 | 77.50 | \$10.85 | 20-27-22- 4 3-0220 |
| St Paul MN 55130-3537 | FT; LOT 11 BLK 2 | Citywide Street Lighting | , | 0.58 | 34.00 | \$19.72 | |
| *628 ORANGE AVE E | | | | | = | \$44.51 | |
| *Ward: 6 | | *** Owner and Taxpaye | er *** | | | | |
| *Pending as of: 8/24/2021 | | | Total Assess | ment: | | \$44.51 | |
| | | | This Paymer | nt: | | \$0.00 | |
| | | | Current Year | r Principal: | | \$0.00 | |
| | | | Current Year | r Interest: | | \$0.00 | |
| | | | Payoff Amount: | | | | |
| | JOSEPH R. WEIDE'S 2ND ADDITION | Street Sweening Comp | | | | | |
| Design Lab Properties Llc 2552 Hillwood Dr E | TO THE CITY OF ST. PAUL EX THE S 14 | Street Sweeping - Comn Street Sweeping - Reside | | 0.41 | 110.00 | \$45.10 | 20-29-22-43-0221 |
| Maplewood MN 55119-6788 | FT; LOT 7 ALL OF LOTS 8,9 AND LOT | Alley Sweeping | ondar Street | 0.14 | 86.00 | \$12.04 | |
| *1229 PAYNE AVE | 10 BLK 1 | Citywide Street Lighting | ; | 0.58 | 196.00 | \$113.68 | |
| *Ward: 6 | | Payne/Whitall to Orange | ASL | 0.00 | 86.00 | \$0.00 | |
| *Pending as of: 8/24/2021 | | | | | _ | \$260.26 | |
| 1 onding as 617 0/2 1/2021 | | *** Owner and Taxpaye | er *** | | = | | |
| | | | Total Assess | ment: | | \$260.26 | |
| | | | This Paymer | nt: | | \$0.00 | |
| | | | Current Year | - | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$260.26 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Ratification Date: | Project: 20 Resolution | | Assmt: 210025 | Manager: LMR | Page 428 |
|-----------------------------------------------------------------------|-----------------------------------------------------------|----------------------------------------------------------------------|-----------------------------------------------------------------------------------------------|------------------------------------|--------------------------------------------------|--------------------------------------------------|------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Afaf A Saleh 741 Hyacinth Ave E St Paul MN 55106-1914 | OAK VILLE PARK LOT 11 BLK 2 | Street Sweeping - Resi Alley Sweeping Citywide Street Lightin | | 0.41 0.14 0.58 | 80.50 40.00 80.50 | \$33.01 \$5.60 \$46.69 | 20-29-22-44-0008 |
| * 741 HYACINTH AVE E *Ward: 6 | | *** Owner and Taxpay | yer *** | | _ | \$85.30 | |
| *Pending as of: 8/24/2021 | | | Total Assess This Paymer Current Yea Current Yea Payoff Amo | nt: r Principal: r Interest: | | \$85.30 \$0.00 \$0.00 \$0.00 \$85.30 | |
| Victoria L Marz Edward F Marz 743 Hyacinth Av E St Paul MN 55106-1914 | OAK VILLE PARK W 1/2 OF LOT 13 AND ALL OF LOT 12 BLK 2 | Street Sweeping - Resi Citywide Street Lightin | ng | 0.41 0.58 | 60.00 | \$24.60 \$34.80 \$59.40 | 20-29-22-44-0009 |
| * 743 HYACINTH AVE E *Ward: 6 *Pending as of: 8/24/2021 | | | Total Assessment: This Payment: Current Year Principal: Current Year Interest: Payoff Amount: | | \$59.40 \$0.00 \$0.00 \$0.00 \$59.40 | | |
| Chris Yang Tria Vue 773 Hyacinth Ave E St Paul MN 55106-1914 | OAK VILLE PARK LOT 19 BLK 2 | Street Sweeping - Resi Citywide Street Lightin *** Owner and Taxpav | ng | 0.41 0.58 | 40.00 40.00 | \$16.40 \$23.20 \$39.60 | |
| *773 HYACINTH AVE E *Ward: 6 *Pending as of: 8/24/2021 | | o mer and raxpa | Total Assess This Paymer Current Yea Current Yea | nt: r Principal: r Interest: | | \$39.60 \$0.00 \$0.00 \$0.00 \$39.60 | |

\$67.80

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | y PID (Fee to Asmt) Ratification Date: | Project: 202 | | Assmt: 210025 | Manager: LMR | Page 430 |
|-----------------------------------------------------------------|-----------------------------------------------------------|----------------------------------------------------------------------|-----------------------------|----------------------|-------------------------|------------------------------|------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Sandra V Plaster 706 Hyacinth Ave E St Paul MN 55106-1913 | OAK VILLE PARK LOT 8 BLK 4 | Street Sweeping - Resid Alley Sweeping Citywide Street Lightin | | 0.41 0.14 0.58 | 40.00 40.00 40.00 | \$16.40 \$5.60 \$23.20 | 20-29-22-44-0027 |
| *706 HYACINTH AVE E *Ward: 6 | | *** Owner and Taxpay | /er *** | | | \$45.20 | |
| *Pending as of: 8/24/2021 | | owner and ranpay | | | | 0.45.20 | |
| 1 onang as on 0,2 ,,2021 | | | Total Assessi | | | \$45.20 \$0.00 | |
| | | | This Paymen Current Year | | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amo | | | \$45.20 | |
| | | | | | | | |
| Dua N Her | OAK VILLE PARK W 1/2 OF LOT 11 AND ALL OF LOT 10 BLK 4 | Street Sweeping - Resid | dential Stree | 0.41 | 89.50 | \$36.70 | 20-29-22-44-0029 |
| Elaine Thao | AND ALL OF EOT TO BEK 4 | Alley Sweeping Citywide Street Lightin | .~ | 0.14 0.58 | 58.00 89.50 | \$8.12 \$51.91 | |
| 703 Orange Ave E | | Citywide Street Lightin | ig | 0.36 | 89.30 | | |
| St Paul MN 55106-1918 * 703 ORANGE AVE E | | *** Owner and Taxpay | er *** | | | \$96.73 | |
| *Ward: 6 | | | Total Assess | ment: | | \$96.73 | |
| *Pending as of: 8/24/2021 | | | This Paymen | nt: | | \$0.00 | |
| | | | Current Year | Principal: | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$96.73 | |
| Andrea Nicole Richardson | OAK VILLE PARK E 1/2 OF LOT 11 | Street Sweeping - Resid | dential Stree | | | | <u> </u> |
| 707 Orange Ave E | AND ALL OF LOT 12 BLK 4 | Alley Sweeping | | 0.14 | 60.00 | \$8.40 | 20-29-22-44-0030 |
| St Paul MN 55106-1918 | | Citywide Street Lightin | ıg | 0.58 | 60.00 | \$34.80 | |
| *707 ORANGE AVE E | | | | | _ | \$67.80 | |
| *Ward: 6 | | *** Owner and Taxpay | er *** | | | | |
| *Pending as of: 8/24/2021 | | | Total Assess | ment: | - | \$67.80 | |
| | | | This Paymen | | | \$0.00 | |
| | | | Current Year | _ | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$67.80 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Ratification Date: | Project: 2021 Resolution # | | Assmt: 210025 | Manager: LMR | Page 431 |
|-----------------------------------------------------------------|---------------------------------------------------------|------------------------------------------------------------------------|-------------------------------|----------------------|-------------------------|------------------------------|--------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Calvin C Coleman Jr Shellene A Coleman 770 Hyacinth Ave E | OAK VILLE PARK W 1/2 OF LOT 2 AND ALL OF LOT 3 BLK 5 | Street Sweeping - Reside Alley Sweeping Citywide Street Lighting | | 0.41 0.14 0.58 | 60.00 60.00 60.00 | \$24.60 \$8.40 \$34.80 | 20-29-22-44-0038 |
| St Paul MN 55106-1915 *770 HYACINTH AVE E | | *** Owner and Taxpaye | ner and Taxpayer *** | | | \$67.80 | |
| *Ward: 6 | | | Total Assessm | nent: | - | \$67.80 | |
| *Pending as of: 8/24/2021 | | | This Payment | : | | \$0.00 | |
| | | | Current Year | Principal: | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amou | nt: | | \$67.80 | |
| | OAK VILLE PARK SUBJ TO ESMTS | Street Sweeping - Reside | ential Stree | 0.41 | | \$20.50 | |
| Xong Yang | THE E 1/2 OF LOT 8 AND EX E 10 FT LOT 7 BLK 5 | Alley Sweeping | | 0.14 | 50.00 | \$7.00 | |
| 750 Hyacinth Ave E | LOI / BLK 5 | Citywide Street Lighting | 3 | 0.58 | 50.00 | \$29.00 | |
| St Paul MN 55106-1915 | | *** 0 1 T | *** | | = | \$56.50 | |
| *750 HYACINTH AVE E | | *** Owner and Taxpaye | | | | | |
| *Ward: 6 | | | Total Assessm | nent: | | \$56.50 | |
| *Pending as of: 8/24/2021 | | | This Payment | | | \$0.00 | |
| | | | Current Year | _ | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amou | nt: | | \$56.50 | |
| Erika Ramirez | OAK VILLE PARK W 1/2 OF LOT 8 | Street Sweeping - Reside | ential Stree | 0.41 | 50.00 | \$20.50 | 20-29-22-44-0042 |
| Jeannette Rios | AND EX W 10 FT LOT 9 BLK 5 | Alley Sweeping | | 0.14 | 50.00 | \$7.00 | |
| 746 Hyacinth Ave E | | Citywide Street Lighting | g | 0.58 | 50.00 | \$29.00 | |
| St Paul MN 55106-1915 | | | | | | \$56.50 | |
| *746 HYACINTH AVE E | | *** Owner and Taxpaye | er *** | | _ | | |
| *Ward: 6 | | | Total Assessm | nent: | | \$56.50 | |
| *Pending as of: 8/24/2021 | | | This Payment | : | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amou | nt: | | \$56.50 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Ratification Date: | Project: 20 Resolution | | Assmt: 210025 | Manager: LMR | Page 43. |
|---------------------------|----------------------------------------------------------|--------------------------------------|---------------------------|------------------|-----------------|--------------|--------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Marvin O Ramos | OAK VILLE PARK W 5 FT OF LOT 12 | Street Sweeping - Resi | dential Stree | 0.41 | 83.00 | \$34.04 | 20-29-22-44-0044 |
| 741 Orange Ave E | AND ALL OF LOT 11 BLK 5 | Alley Sweeping | | 0.14 | 45.00 | \$6.30 | |
| St Paul MN 55106-1920 | | Citywide Street Lightin | ng | 0.58 | 83.00 | \$48.14 | |
| *741 ORANGE AVE E | | | | | | \$88.48 | |
| *Ward: 6 | | *** Owner *** | | | | | |
| *Pending as of: 8/24/2021 | | | Total Asses | sment: | | \$88.48 | |
| | | | This Payme | nt: | | \$0.00 | |
| | | | Current Yea | r Principal: | | \$0.00 | |
| | | | Current Yea | ar Interest: | | \$0.00 | |
| | | | Payoff Am | ount: | | \$88.48 | |
| Zcw Properties Llc | OAK VILLE PARK W 5 FT OF LOT 12 AND ALL OF LOT 11 BLK 5 | *** Taxpayer and 3rd | Party *** | | | | 20-29-22-44-0044 |
| Po Box 1249 | AND ALL OF LOT IT BLK 5 | | Total Asses | sment: | - | \$88.48 | |
| Alexandria MN 56308-3249 | | | This Payme | nt: | | \$0.00 | |
| *741 ORANGE AVE E | | | Current Yea | ar Principal: | | \$0.00 | |
| *Ward: 6 | | | Current Yea | ar Interest: | | \$0.00 | |
| *Pending as of: 8/24/2021 | | | Payoff Amo | ount: | | \$88.48 | |
| | | | | | | | |
| Lue Vang De Xiong | OAK VILLE PARK W 7 5/10 FT OF LOT | Street Sweeping - Resi | dential Stree | 0.41 | 43.00 | \$17.63 | 20-29-22-44-0045 |
| Thai Thao | 13 AND EX W 5 FT LOT 12 BLK 5 | Alley Sweeping | | 0.14 | 43.00 | \$6.02 | |
| 745 Orange Ave E | | Citywide Street Lightin | ng | 0.58 | 43.00 | \$24.94 | |
| St Paul MN 55106-1920 | | | | | | \$48.59 | |
| *745 ORANGE AVE E | | *** Owner and Taxpay | yer *** | | | | |
| *Ward: 6 | | | Total Asses | sment: | | \$48.59 | |
| *Pending as of: 8/24/2021 | | | This Payme | nt: | | \$0.00 | |
| | | | Current Yea | ar Principal: | | \$0.00 | |
| | | | Current Yea | | | \$0.00 | |
| | | | Payoff Am | ount: | | \$48.59 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Ratification Date: | Project: 20 Resolution | | Assmt: 210025 | Manager: LMR | Page 434 |
|----------------------------------------------------------------------|------------------------------------------|----------------------------------------------------------------------|----------------------------|----------------------|-------------------------|-------------------------------|-------------------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Trevon Robert Castile 806 Hyacinth Ave E St Paul MN 55106-1928 | OAK VILLE PARK LOTS 4 AND LOT 5 BLK 6 | Street Sweeping - Resid Alley Sweeping Citywide Street Lightin | | 0.41 0.14 0.58 | 80.00 80.00 80.00 | \$32.80 \$11.20 \$46.40 | 20-29-22-44-0056 |
| *806 HYACINTH AVE E *Ward: 6 | | *** Owner and Taxpay | er *** | | _ | \$90.40 | |
| *Pending as of: 8/24/2021 | | | Total Assess | | - | \$90.40 | |
| | | | This Paymer | r Principal: | | \$0.00 \$0.00 | |
| | | | Current Yea Payoff Amo | | | \$0.00 \$90.40 | |
| | OAK VILLE PARK LOT 6 BLK 6 | Street Sweeping - Resid | dential Stree | | | \$16.40 | |
| Cully Simon | | Alley Sweeping Citywide Street Lightin | 10 | 0.14 0.58 | 40.00 40.00 | \$5.60 \$23.20 | |
| 794 Hyacinth Ave E St Paul MN 55106-1928 | | *** Owner and Taxpay | | 0.00 | _ | \$45.20 | |
| * 794 HYACINTH AVE E *Ward: 6 | | · · · Owner and Taxpay | | | | | |
| *Pending as of: 8/24/2021 | | | Total Assess | | | \$45.20 | |
| | | | This Paymer Current Yea | | | \$0.00 \$0.00 | |
| | | | Current Yea | - | | \$0.00 | |
| | | | Payoff Amo | | | \$45.20 | |
| Thai Xiong | OAK VILLE PARK LOT 9 BLK 6 | Street Sweeping - Resid | — — — - dential Stres | | | | |
| 782 Hyacinth Ave E | | Alley Sweeping | | 0.14 | 40.00 | \$5.60 | 20-27-22 -44 -0000 |
| St Paul MN 55106-1928 | | Citywide Street Lightin | ıg | 0.58 | 80.50 | \$46.69 | |
| *782 HYACINTH AVE E | | | | | _ | \$85.30 | |
| *Ward: 6 | | *** Owner and Taxpay | er *** | | | | |
| *Pending as of: 8/24/2021 | | | Total Assess | ment: | - | \$85.30 | |
| | | | This Paymer | nt: | | \$0.00 | |
| | | | Current Yea | | | \$0.00 | |
| | | | Current Yea | | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$85.30 | |

\$45.20

\$253.13

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | y PID (Fee to Asmt) Ratification Date: | | | Assmt: 210025 | Manager: LMR | Page 438 |
|------------------------------------------------------|---------------------------------------|-----------------------------------------------------------------------|---------------------------------------------------|----------------------|-------------------------|------------------------------|------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Tamar Land 699 Hawthorne Ave E St Paul MN 55106-1904 | OAK VILLE PARK LOT 10 BLK 9 | Street Sweeping - Resid Alley Sweeping Citywide Street Lighting | | 0.41 0.14 0.58 | 80.00 39.00 80.00 | \$32.81 \$5.46 \$46.40 | 20-29-22-44-0075 |
| *699 HAWTHORNE AVE E *Ward: 6 | | *** Owner and Taxpay | ayer *** | | \$84.67 | | |
| *Pending as of: 8/24/2021 | | | Total Assessment: | | | \$84.67 | |
| | | | This Payment: Current Year I | | | \$0.00 \$0.00 | |
| | | | Current Year I | _ | | \$0.00 | |
| | | | Payoff Amou | | | \$84.67 | |
| Thomas N Warfield | OAK VILLE PARK LOT 14 BLK 9 | Street Sweeping - Resid | lential Stree | | | | <u> </u> |
| 717 Hawthorne Ave E | | Alley Sweeping | ioniai suot | 0.14 | 40.00 | \$5.60 | 20-29-22-44-0079 |
| St Paul MN 55106-1906 | | Citywide Street Lightin | g | 0.58 | 40.00 | \$23.20 | |
| *717 HAWTHORNE AVE E | | | | | | \$45.20 | |
| *Ward: 6 | | *** Owner and Taxpay | er *** | | | | |
| *Pending as of: 8/24/2021 | | | Total Assessm | nent: | - | \$45.20 | |
| | | | This Payment: | | | \$0.00 | |
| | | | Current Year Principal: Current Year Interest: | | | \$0.00 | |
| | | | | | \$0.00 | | |
| | | | Payoff Amou | nt: | | \$45.20 | |
| Kyrie R Stephenson | OAK VILLE PARK LOT 16 BLK 9 | Street Sweeping - Resid | lential Stree | 0.41 | | \$16.40 | |
| 725 Hawthorne Ave E | | Alley Sweeping | | 0.14 | 40.00 | \$5.60 | |
| St Paul MN 55106-1906 | | Citywide Street Lighting | g | 0.58 | 40.00 | \$23.20 | |
| *725 HAWTHORNE AVE E | | | | | | \$45.20 | |
| *Ward: 6 | | *** Owner and Taxpay | er *** | | | | |
| *Pending as of: 8/24/2021 | | | Total Assessm | nent: | | \$45.20 | |
| | | | This Payment: | | | \$0.00 | |
| | | | Current Year I | | | \$0.00 | |
| | | | Current Year I | | | \$0.00 | |
| | | | Payoff Amou | nt: | | \$45.20 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date: | | Project: 2021SMSP Resolution #: | | Assmt: 210025 | Manager: LMR | Page 439 | |
|--------------------------------------------------------|----------------------------------------------------------------------------|-------------------------------------------------------------------------|---------------------------------------|----------------------|-------------------------|------------------------------|------------------|--|
| Owner or Taxpayer | Property Description | Item Description | <u>U</u> | nit Rate | Quantity | Charge Amts | Property ID | |
| Shoua Her 776 Orange Ave E St Paul MN 55106-1921 | OAK VILLE PARK E 10 FT OF LOT 2 AND ALL OF LOT 1 BLK 8 | Street Sweeping - Resider Alley Sweeping Citywide Street Lighting | | 0.41 0.14 0.58 | 85.50 50.00 85.50 | \$35.06 \$7.00 \$49.59 | 20-29-22-44-0084 | |
| *776 ORANGE AVE E *Ward: 6 | | *** Owner and Taxpayer | xpayer *** | | _ | \$91.65 | | |
| *Pending as of: 8/24/2021 | | - - | Total Assessmen | nt: | - | \$91.65 | | |
| | | | This Payment: | | | \$0.00 | | |
| | | (| Current Year Pri | ncipal: | | \$0.00 | | |
| | | | Current Year Into | | | \$0.00 | | |
| | | 1 | Payoff Amount: | : | | \$91.65 | | |
| Andrea Kleinschmidt | OAK VILLE PARK LOT 4 BLK 8 | Street Sweeping - Resider | ntial Stree | | | | <u> </u> | |
| 764 Orange Ave E | | Alley Sweeping | | 0.14 | 40.00 | \$5.60 | | |
| St Paul MN 55106-5921 | | Citywide Street Lighting | | 0.58 | 40.00 | \$23.20 | | |
| *764 ORANGE AVE E | | | | | _ | \$45.20 | | |
| *Ward: 6 | | *** Owner and Taxpayer | *** | | | | | |
| *Pending as of: 8/24/2021 | | Total Assessment: | | | | \$45.20 | | |
| | | | This Payment: Current Year Principal: | | | \$0.00 | | |
| | | (| | | | \$0.00 | | |
| | | | Current Year Interest: Payoff Amount: | | | \$0.00 | | |
| | | 1 | | | | \$45.20 | | |
| | OAK VILLE PARK W 18 FT OF LOT 6 | Street Sweeping - Resider | ntial Stree | | | | <u> </u> | |
| 708 2nd St Ne | AND ALL OF LOT 7 BLK 8 | Alley Sweeping | | 0.14 | 58.00 | \$8.12 | 20 25 22 11 0000 | |
| Little Falls MN 56345-2408 | | Citywide Street Lighting | | 0.58 | 58.00 | \$33.64 | | |
| *752 ORANGE AVE E | | | | | _ | \$65.54 | | |
| *Ward: 6 | | *** Owner and Taxpayer | *** | | | | | |
| *Pending as of: 8/24/2021 | | - | Total Assessmen | ıt: | | \$65.54 | | |
| | | - | This Payment: | | | \$0.00 | | |
| | | (| Current Year Pri | ncipal: | | \$0.00 | | |
| | | | Current Year Inte | | | \$0.00 | | |
| | | 1 | Payoff Amount: | : | | \$65.54 | | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Ratification Date: | | | Assmt: 210025 | Manager: LMR | Page 440 |
|------------------------------------|---------------------------------------|--------------------------------------|----------------|------------------|--------------------|--------------|--------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| | OAK VILLE PARK EX W 30 FT LOT 9 | Street Sweeping - Reside | ential Stree | 0.41 | 50.00 | \$20.50 | 20-29-22-44-0089 |
| 748 Orange Ave E | AND ALL OF LOT 8 BLK 8 | Alley Sweeping | | 0.14 | 50.00 | \$7.00 | |
| St Paul MN 55106-1921 | | Citywide Street Lighting | 3 | 0.58 | 50.00 | \$29.00 | |
| *748 ORANGE AVE E | | *** Owner and Taxpaye | » *** | | | \$56.50 | |
| *Ward: 6 *Panding or of: 8/24/2021 | | 1 7 | | | | | |
| *Pending as of: 8/24/2021 | | | Total Assessm | | \$56.50 | | |
| | | | This Payment | | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amou | nt: | | \$56.50 | |
| | OAK VILLE PARK W 30 FT OF LOT 9 | Street Sweeping - Reside | ential Stree | 0.41 | — — — — | | |
| Heather D Massie | AND ALL OF LOT 10 BLK 8 | Alley Sweeping | | 0.14 | 70.00 | \$9.80 | 20 27 22 11 0070 |
| 740 Orange Ave | | Citywide Street Lighting | 7 | 0.58 | 95.50 | \$55.39 | |
| St Paul MN 55106-1921 | | | | | _ | \$104.35 | |
| *740 ORANGE AVE E | | *** Owner and Taxpaye | er *** | | | | |
| *Ward: 6 | | Total Assessment: | | | | \$104.35 | |
| *Pending as of: 8/24/2021 | | This Payment: | | | \$0.00 | | |
| | | | Current Year | Principal: | | \$0.00 | |
| | | Current Year Interest: | | | \$0.00 | | |
| | | | Payoff Amount: | | | \$104.35 | |
| Angela Hasert | OAK VILLE PARK LOT 11 BLK 8 | Street Sweeping - Reside | | | | \$33.01 | |
| 741 Hawthorne Ave E | | Alley Sweeping | ciitiai Sticc | 0.14 | 40.00 | \$5.60 | 20-29-22-44-0091 |
| St Paul MN 55106-1908 | | Citywide Street Lighting | Ţ | 0.58 | 80.50 | \$46.69 | |
| *741 HAWTHORNE AVE E | | | | | = | \$85.30 | |
| *Ward: 6 | | *** Owner and Taxpaye | r *** | | | φ63.30 | |
| *Pending as of: 8/24/2021 | | | Total Assessm | nent: | | \$85.30 | |
| | | | This Payment | | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Current Year | Interest: | | \$0.00 | |
| | | | Payoff Amou | nt: | | \$85.30 | |

\$60.39

\$45.20

\$97.90

\$45.20

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Da | | Project: 2021SMSP Resolution #: | | Assmt: 210025 | 25 Manager: LMR | Page 448 |
|-------------------------------------------------------------------------------------------------------------------------------------|-------------------------------------------------------------------------|---------------------------------------------------------------------------------------------|------------------------------------|------------------------------|------------------------------|---------------------------------------------------------------------------------------------|--------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| James M Sauve 754 Hawthorne Ave E St Paul MN 55106-1909 | OAK VILLE PARK LOT 7 BLK 11 | Street Sweeping - Resi Alley Sweeping Citywide Street Lightin | | 0.41 0.14 0.58 | 40.00 40.00 40.00 | \$16.40 \$5.60 \$23.20 | 20-29-22-44-0135 |
| *754 HAWTHORNE AVE E *Ward: 6 | | *** Owner and Taxpay | yer *** | | \$45.20 | | |
| *Pending as of: 8/24/2021 | | | Total Assessn | nent: | - | \$45.20 | |
| | | | This Payment | | | \$0.00 | |
| | | | Current Year | - | | \$0.00 | |
| | | | Current Year Payoff Amou | | | \$0.00 \$45.20 | |
| Michael R Gabriel Monica A Garcia 746 Hawthorne Ave E St Paul MN 55106-1909 *746 HAWTHORNE AVE E *Ward: 6 *Pending as of: 8/24/2021 | OAK VILLE PARK LOT 9 BLK 11 | Street Sweeping - Resi Alley Sweeping Citywide Street Lightin *** Owner and Taxpay | ng | : Principal: Interest: | 40.00 40.00 40.00 — | \$16.40 \$5.60 \$23.20 \$45.20 \$45.20 \$0.00 \$0.00 \$0.00 \$45.20 | 20-29-22-44-0137 |
| Georgette M Susla 743 Maryland Ave E St Paul MN 55106-2527 *743 MARYLAND AVE E *Ward: 6 | OAK VILLE PARK LOT 12 BLK 11 | Street Sweeping - Com Alley Sweeping Citywide Street Lightin | ng | 1.04 0.14 0.58 | 40.00 40.00 40.00 | \$41.60 \$5.60 \$23.20 \$70.40 | 20-29-22-44-0140 |
| *Pending as of: 8/24/2021 | | <i></i> | | | | 070.40 | |
| S | | | Total Assessn This Payment | | | \$70.40 \$0.00 | |
| | | | Current Year | | | \$0.00 \$0.00 | |
| | | | Current Year | • | | \$0.00 | |
| | | | Payoff Amou | | | \$70.40 | |

\$70.40

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Ratification Date: | Project: 2021SMSP Resolution #: | | Assmt: 210025 | 0025 Manager: LMR | Page 450 |
|-----------------------------------------------------------------------|------------------------------------------------------------------------------------------------------------------------------------|-----------------------------------------------------------------------------|---------------------------------|------------|--------------------------|-------------------------------|------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Koobmoo Funeral Chapel Inc 1235 Arcade St St Paul MN 55106-2022 | OAK VILLE PARK PART OF LOTS I AND 2 LYING N OF A LINE RUN FROM POINT ON E LINE OF AND 71 17/100 FT S FROM NE COR OF LOT I | Street Sweeping - Com Street Sweeping - Resid Citywide Street Lightin | esidential Stree 0.41 | | 71.00 82.00 153.00 | \$73.84 \$33.62 \$88.74 | 20-29-22-44-0149 |
| *1225 ARCADE ST *Ward: 6 | TO POINT ON W LINE OF AND 70 98/100 FT S FROM NW COR OF SD LOT | *** Owner and Taxpayer *** | | | | \$196.20 | |
| *Pending as of: 8/24/2021 | | | Total Assessr | | | \$196.20 | |
| | | | This Payment | | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amou | int: | | \$196.20 | |
| Jason E Doll | OAK VILLE PARK LOT 3 BLK 12 | Street Sweeping - Resid | lential Streε | 0.41 | | \$16.40 | 20-29-22-44-0151 |
| 11015 Mayfield Ave N | | Alley Sweeping | | 0.14 | 40.00 | \$5.60 | |
| Stillwater MN 55082-9487 | | Citywide Street Lighting | g | 0.58 | 40.00 | \$23.20 | |
| *806 HAWTHORNE AVE E | | *** Owner and Taxpay | or *** | | | \$45.20 | |
| *Ward: 6 *Pending as of: 8/24/2021 | | Owner and Taxpay | | | | | |
| Fending as 01. 6/24/2021 | | | Total Assessr | | | \$45.20 \$0.00 | |
| | | | This Payment: | | | | |
| | | | Current Year | _ | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amou | int: | | \$45.20 | |
| | OAK VILLE PARK LOT 4 BLK 12 | Street Sweeping - Resid | lential Stree | 0.41 | | | |
| Co Havenbrook Homes | | Alley Sweeping | | 0.14 | 40.00 | \$5.60 | |
| 3505 Koger Blvd Ste 400 | | Citywide Street Lighting | g | 0.58 | 40.00 | \$23.20 | |
| Duluth GA 30096-7672 | | | | | | \$45.20 | |
| *804 HAWTHORNE AVE E | | *** Owner and Taxpay | er *** | | | | |
| *Ward: 6 | | | Total Assessr | ment: | - | \$45.20 | |
| *Pending as of: 8/24/2021 | | | This Payment | t: | | \$0.00 | |
| | | | Current Year | Principal: | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amou | ınt: | | \$45.20 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date: | | Project: 2021SMSP Resolution #: | | Assmt: 210025 | Manager: LMR | Page 451 | |
|----------------------------------------------------------------|----------------------------------------------------------------------------|----------------------------------------------------------------------|------------------------------------|----------------------|-------------------------|------------------------------|------------------|--|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID | |
| Donald A Pelto 800 Hawthorne Ave E St Paul MN 55106-1926 | OAK VILLE PARK SUBJ TO ESMTS; LOT 5 BLK 12 | Street Sweeping - Resid Alley Sweeping Citywide Street Lightin | | 0.41 0.14 0.58 | 40.00 40.00 40.00 | \$16.40 \$5.60 \$23.20 | 20-29-22-44-0153 | |
| *800 HAWTHORNE AVE E *Ward: 6 | | *** Owner and Taxpay | er *** | | | \$45.20 | | |
| *Pending as of: 8/24/2021 | | | Total Assessn | | - | \$45.20 | | |
| | | | This Payment | | | \$0.00 | | |
| | | | Current Year Current Year | _ | | \$0.00 \$0.00 | | |
| | | | Payoff Amou | | | \$45.20 | | |
| Kyia Weeks | OAK VILLE PARK SUBJ TO ESMTS; | Street Sweeping - Resid | | | | | | |
| 796 Hawthorne Ave E | LOT 6 BLK 12 | Alley Sweeping | dential Stree | 0.14 | 40.00 | \$5.60 | 20-29-22-44-0154 | |
| St Paul MN 55106-1926 | | Citywide Street Lightin | ıg | 0.58 | 40.00 | \$23.20 | | |
| *796 HAWTHORNE AVE E | | | | | - | \$45.20 | | |
| *Ward: 6 | | *** Owner and Taxpay | er *** | | | | | |
| *Pending as of: 8/24/2021 | | | Total Assessn | nent: | | \$45.20 | | |
| | | | This Payment: | | | \$0.00 | | |
| | | | Current Year | _ | \$0.00 | | | |
| | | | Current Year Interest: | | | \$0.00 | | |
| | | | Payoff Amou | nt: | | \$45.20 | | |
| Beverly Farfan | OAK VILLE PARK LOT 7 BLK 12 | Street Sweeping - Resid | dential Stree | 0.41 | | \$16.40 | 20-29-22-44-0155 | |
| Ali Farfan | | Alley Sweeping | | 0.14 | 40.00 | \$5.60 | | |
| 790 Hawthorne Ave E | | Citywide Street Lightin | ıg | 0.58 | 40.00 | \$23.20 | | |
| St Paul MN 55106-1926 | | | | | | \$45.20 | | |
| *790 HAWTHORNE AVE E | | *** Owner and Taxpay | er *** | | | | | |
| *Ward: 6 | | | Total Assessn | | | \$45.20 | | |
| *Pending as of: 8/24/2021 | | | This Payment | | | \$0.00 | | |
| | | | Current Year | | | \$0.00 | | |
| | | | Current Year | | | \$0.00 | | |
| | | | Payoff Amou | nt: | | \$45.20 | | |

\$70.40

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Ratification Date: | Project: 2021SMSP A Resolution #: | | Assmt: 210025 | Manager: LMR | Page 454 |
|----------------------------|---------------------------------------|--------------------------------------|-----------------------------------|------------|-----------------|--------------|------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Ks Fortune Investments Llc | OAK VILLE PARK LOT 16 BLK 12 | Street Sweeping - Comn | nercial/Art | 1.04 | 40.00 | \$41.60 | 20-29-22-44-0163 |
| 636 Montana Ave E | | Alley Sweeping | | 0.14 | 40.00 | \$5.60 | |
| St Paul MN 55130-3204 | | Citywide Street Lighting | g | 0.58 | 40.00 | \$23.20 | |
| *807 MARYLAND AVE E | | | | | <u>=</u> | \$70.40 | |
| *Ward: 6 | | *** Owner and Taxpaye | er *** | | | | |
| *Pending as of: 8/24/2021 | | | Total Assessi | ment: | - | \$70.40 | |
| | | | This Paymen | t: | | \$0.00 | |
| | | | Current Year | Principal: | | \$0.00 | |
| | | | Current Year | Interest: | | \$0.00 | |
| | | | Payoff Amou | ınt: | | \$70.40 | |
| | | | | | | | |
| Ks Fortune Investments Llc | OAK VILLE PARK LOTS 17 & LOT 18 | Street Sweeping - Comn | nercial/Art | 1.04 | 203.00 | \$211.12 | 20-29-22-44-0164 |
| 636 Montana Ave E | BLK 12 | Alley Sweeping | | 0.14 | 82.00 | \$11.48 | |
| St Paul MN 55130-3204 | | Citywide Street Lighting | g | 0.58 | 203.00 | \$117.74 | |
| *1205 ARCADE ST | | | | | _ | \$340.34 | |
| *Ward: 6 | | *** Owner and Taxpaye | er *** | | | | |
| *Pending as of: 8/24/2021 | | | Total Assessi | ment: | - | \$340.34 | |
| | | | This Paymen | t: | | \$0.00 | |
| | | Current Year Principal: | | | | \$0.00 | |
| | | | Current Year | Interest: | | \$0.00 | |
| | | | Payoff Amou | ınt: | | \$340.34 | |
| | | - — — — — — | | | | | |
| Michael E Kiteck Jr | OAK VILLE PARK ALL OF LOT 12 | Street Sweeping - Reside | | 0.41 | 50.00 | \$20.50 | 20-29-22-44-0165 |
| 709 E Hyacinth Ave | AND THE W 10 FT OF LOT 13 BLK 3 | Citywide Street Lighting | g | 0.58 | 50.00 | \$29.00 | |
| St Paul MN 55106-1912 | | | | | _ | \$49.50 | |
| *709 HYACINTH AVE E | | *** Owner and Taxpaye | er *** | | | | |
| *Ward: 6 | | | Total Assessi | ment: | | \$49.50 | |
| *Pending as of: 8/24/2021 | | | This Paymen | t: | | \$0.00 | |
| | | | Current Year | Principal: | | \$0.00 | |
| | | | Current Year | Interest: | | \$0.00 | |
| | | | Payoff Amou | ınt: | | \$49.50 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date: | | Project: 2021SMSP Resolution #: | | Assmt: 210025 | Manager: LMR | Page 455 |
|-------------------------------------|-----------------------------------------------------------------------------|---------------------------------------------------|------------------------------------|--------------|------------------|---------------------|------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Wendy Palma 721 Hyacinth Ave E | OAK VILLE PARK LOT 14 EXCEPT THE W 20 FT THEREOF AND ALL OF LOT 15 BLK 3 | Street Sweeping - Resi Citywide Street Lightin | | 0.41 | 60.00 | \$24.60 \$34.80 | 20-29-22-44-0167 |
| St Paul MN 55106-1912 | BOT IS BEKS | | | | | \$59.40 | |
| *721 HYACINTH AVE E | | *** Owner and Taxpay | /er *** | | | | |
| *Ward: 6 | | | Total Assessm | nent: | | \$59.40 | |
| *Pending as of: 8/24/2021 | | | This Payment | | | \$0.00 | |
| | | | Current Year | Principal: | | \$0.00 | |
| | | | Current Year | Interest: | | \$0.00 | |
| | | | Payoff Amou | nt: | | \$59.40 | |
| | | - — — — — - | | | | | |
| Koobmoo Funeral Chapel Inc | OAK VILLE PARK S 1/3 OF LOTS 1 | Street Sweeping - Com | | 1.04 | 161.00 | \$167.44 | 20-29-22-44-0168 |
| 1235 Arcade St | THRU 3 BLK 7 AND ALL OF LOTS 14 THRU 18 BLK 7 | Street Sweeping - Resi | dential Stree | 0.41 | 202.00 | \$82.82 | |
| St Paul MN 55106-2022 | | Alley Sweeping Citywide Street Lightin | . ~ | 0.14 0.58 | 324.00 363.00 | \$45.36 \$210.54 | |
| *1235 ARCADE ST | | Citywide Street Lightii | ıg | 0.36 | 303.00 | <u> </u> | |
| *Ward: 6 | | *** Owner and Taxpa | ··· *** | | | \$506.16 | |
| *Pending as of: 8/24/2021 | | Owner and Taxpay | | | | | |
| | | | Total Assessm | nent: | | \$506.16 | |
| | | | This Payment: | | | \$0.00 | |
| | | | Current Year | _ | | \$0.00 | |
| | | | Current Year Interest: | | \$0.00 | | |
| | | | Payoff Amou | nt: | | \$506.16 | |
| | ST ANTHONY PARK NORTH LOTS 1 | Street Sweeping - Resi | dontial Stree | 0.41 | | | |
| Allan L Torstenson Frances R Homans | AND LOT 2 BLK 7 | Alley Sweeping - Kesi | dential Stree | 0.41 | 100.00 | \$14.00 | 20-29-23-13-0001 |
| 1555 Branston St | | Citywide Street Lightin | 19 | 0.58 | 112.50 | \$65.25 | |
| St Paul MN 55108-1437 | | , . | 8 | | _ | \$125.38 | |
| *1555 BRANSTON ST | | *** Owner and Taxpay | /er *** | | | \$123.36 | |
| *Ward: 4 | | | Total Assessm | nent: | - | \$125.38 | |
| *Pending as of: 8/24/2021 | | | This Payment | : | | \$0.00 | |
| | | | Current Year | Principal: | | \$0.00 | |
| | | Current Year Interest: | | | | \$0.00 | |
| | | | Payoff Amou | nt: | | \$125.38 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date | | Project: 2021SMSP Resolution #: | | Assmt: 210025 | Manager: LMR | Page 456 |
|----------------------------------|---------------------------------------------------------------------------|-------------------------------------------|------------------------------------|--------------|----------------|-------------------|--------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Warner T Anderson | ST ANTHONY PARK NORTH LOT 7 | Street Sweeping - Resid | lential Stree | 0.41 | 50.00 | \$20.50 | 20-29-23-13-0006 |
| 1531 Branston St | BLK 7 | Alley Sweeping | | 0.14 | 50.00 | \$7.00 | |
| St Paul MN 55108 | | Citywide Street Lighting | g | 0.58 | 50.00 | \$29.00 | |
| *1531 BRANSTON ST | | | | | _ | \$56.50 | |
| *Ward: 4 | | *** Owner and Taxpaye | er *** | | | | |
| *Pending as of: 8/24/2021 | | | Total Assessr | nent: | \$56.50 | | |
| | | | This Payment | t: | | \$0.00 | |
| | | | Current Year | Principal: | | \$0.00 | |
| | | | Current Year | Interest: | | \$0.00 | |
| | | | Payoff Amou | ınt: | | \$56.50 | |
| Allen K Johnson | ST ANTHONY PARK NORTH EX S 3 FT | Street Sweeping - Resid | | | | | |
| Janice E Nicodemus | LOT 11 BLK 7 | Alley Sweeping | onnar Stree | 0.14 | 47.00 | \$6.58 | 20-29-23-13-0010 |
| 1509 Branston St | | Citywide Street Lighting | g | 0.58 | 53.00 | \$30.74 | |
| St Paul MN 55108-1437 | | | | | _ | \$59.05 | |
| *1509 BRANSTON ST | | *** Owner and Taxpaye | er *** | | | \$65.00 | |
| *Ward: 4 | | | Total Assessment: This Payment: | | | \$59.05 | |
| *Pending as of: 8/24/2021 | | | | | | \$0.00 | |
| | | | Current Year | Principal: | | \$0.00 | |
| | | | Current Year | Interest: | | \$0.00 | |
| | | Payoff Amount: | | | | \$59.05 | |
| | CT ANTHONY PURE VORTH LOT 17 | Street System on Decide | | | | | |
| Arthur J Payne | ST ANTHONY PARK NORTH LOT 17 BLK 7 | Street Sweeping - Resid Alley Sweeping | ential Stree | 0.41 0.14 | 50.00 50.00 | \$20.30 \$7.00 | 20-29-23-13-0016 |
| Judith A Payne 1524 Fulham St | | Citywide Street Lighting | σ | 0.14 | 50.00 | \$29.00 | |
| St Paul MN 55108-1441 | | eny was sueer zigning | ь | 0.00 | = | \$56.50 | |
| *1524 FULHAM ST | | *** Owner and Taxpaye | er *** | | | \$30.30 | |
| *Ward: 4 | | | Total Assessr | ment: | - | \$56.50 | |
| *Pending as of: 8/24/2021 | | | This Payment | | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amou | ınt: | | \$56.50 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Project: 2021SMSP Ratification Date: Resolution #: | | Assmt: 210025 | Manager: LMR | Page 457 | |
|--------------------------------------------------------------------------------|-------------------------------------------------------------------------------------------------------------------------------------------------------|----------------------------------------------------------------------|-------------------------------|----------------------|-------------------------|------------------------------|------------------|
| Owner or Taxpayer | Property Description | Item Description | <u> 1</u> | <u>Unit Rate</u> | Quantity | Charge Amts | Property ID |
| Specialty Management Corporati 523 Lexington Pky N St Paul MN 55104-2511 | ST ANTHONY PARK NORTH SUBJ TO & WITH DRIVE ESMT; THE FOL;EX N 40 FT; LOT 20 & ALL OF LOT 19 BLK 7 Street Sweeping - Alley Sweeping Citywide Street L | | | 0.41 0.14 0.58 | 60.00 60.00 60.00 | \$24.60 \$8.40 \$34.80 | 20-29-23-13-0018 |
| *1536 FULHAM ST *Ward: 4 | | *** Owner and Taxpayer | r *** | | | \$67.80 | |
| *Pending as of: 8/24/2021 | | | Total Assessme | ent: | | \$67.80 | |
| | | | This Payment: | | | \$0.00 | |
| | | | Current Year Pr | | | \$0.00 | |
| | | | Current Year In Payoff Amount | | | \$0.00 \$67.80 | |
| | | | | | | | |
| Abigail A Evans | ST ANTHONY PARK NORTH LOT 22 | Street Sweeping - Reside | ential Stree | 0.41 | 50.00 | \$20.50 | 20-29-23-13-0021 |
| Justin J Fincher | BLK 7 | Alley Sweeping | | 0.14 | 50.00 | \$7.00 | |
| 1550 Fullham St | | Citywide Street Lighting | ; | 0.58 | 50.00 | \$29.00 | |
| St Paul MN 55108-1441 | | | | | | \$56.50 | |
| *1550 FULHAM ST | | *** Owner and Taxpayer | r *** | | | | |
| *Ward: 4 | | | Total Assessme | ent: | | \$56.50 | |
| *Pending as of: 8/24/2021 | | | This Payment: | | | \$0.00 | |
| | | | Current Year Pr | rincipal: | | \$0.00 | |
| | | | Current Year In | | | \$0.00 | |
| | | | Payoff Amount | t: | | \$56.50 | |
| | ST ANTHONY PARK NORTH LOT 24 | Street Sweeping - Reside | ential Stree | 0.41 | 95.00 | | <u> </u> |
| David Melvin | BLK 7 | Alley Sweeping | | 0.14 | 50.00 | \$7.00 | 20-29-23-13-0023 |
| 1558 Fulham St | | Citywide Street Lighting | , | 0.58 | 95.00 | \$55.10 | |
| St Paul MN 55108-1441 | | | | | _ | \$101.05 | |
| *1558 FULHAM ST | | *** Owner and Taxpayer | r *** | | | | |
| *Ward: 4 | | | Total Assessme | ent: | | \$101.05 | |
| *Pending as of: 8/24/2021 | | | This Payment: | | | \$0.00 | |
| | | | Current Year Pr | | | \$0.00 | |
| | | | Current Year In | | | \$0.00 | |
| | | | Payoff Amount | t: | | \$101.05 | |

| 22:53:28 10/4/2021 | 10/4/2021 Public Improvement Assessment Roll by PID (Fee to Asmt) Project: 2021SMSP Ratification Date: Resolution #: | | Assmt: 210025 | Manager: LMR | Page 458 | | |
|--------------------------------------------|----------------------------------------------------------------------------------------------------------------------|--------------------------|---------------------------------------|--------------|-----------------------|----------------------|----------------------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| City Of St Paul 25 4th St W Rm 1000 | ST ANTHONY PARK NORTH BLK A | Street Sweeping - Resid | | 0.41 | 324.00 324.00 | \$132.84 \$187.92 | 20-29-23-13-0024 ***EXEMPT*** |
| St Paul MN 55102-1692 *1560 BRANSTON ST | | *** Owner and Taxpayo | er *** | | _ | \$320.76 | |
| *Ward: 4 | | | Total Assess | ment: | | \$320.76 | |
| *Pending as of: 8/24/2021 | | | This Payment: Current Year Principal: | | | \$0.00 | |
| | | | | | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$320.76 | |
| | LOVELL'S REARRANGEMENT S 1/2 | Street Sweeping - Resid | | | — — 74. 00 | \$30.34 | 20-29-23-13-0028 |
| Loretto G Lippert | OF LOT 4 AND ALL OF LOT 5 | Alley Sweeping | | 0.14 | 76.00 | \$10.64 | |
| 1533 Grantham St | | Citywide Street Lighting | g | 0.58 | 74.00 | \$42.92 | |
| St Paul MN 55108-1449 | | | | | _ | \$83.90 | |
| *1533 GRANTHAM ST | | *** Owner and Taxpayo | er *** | | | | |
| *Ward: 4 | | Total Assessment: | | | \$83.90 | | |
| *Pending as of: 8/24/2021 | | | This Paymer | nt: | | \$0.00 | |
| | | | Current Year Principal: | | | \$0.00 | |
| | | Current Year Interest: | | | \$0.00 | | |
| | | | Payoff Amo | unt: | | \$83.90 | |
| | LOVELL'S REARRANGEMENT S 10 FT | Street Sweeping - Resid | lential Streε | | | | 20-29-23-13-0030 |
| 1519 Grantham St | OF LOT 7 AND ALL OF LOT 8 | Alley Sweeping | | 0.14 | 60.00 | \$8.40 | 20 25 20 10 0000 |
| St Paul MN 55108-1449 | | Citywide Street Lighting | g | 0.58 | 60.00 | \$34.80 | |
| *1519 GRANTHAM ST | | | | | _ | \$67.80 | |
| *Ward: 4 | | *** Owner and Taxpayo | er *** | | | | |
| *Pending as of: 8/24/2021 | | | Total Assess | ment: | - | \$67.80 | |
| | | | This Paymer | nt: | | \$0.00 | |
| | | | Current Year | r Principal: | | \$0.00 | |
| | | | Current Year | r Interest: | | \$0.00 | |
| | | | | | | | |

\$67.80

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Ratification Date: | ` ' | | Assmt: 210025 | Manager: LMR | Page 459 |
|--------------------------------|---------------------------------------|--------------------------------------|-------------------------|------------|-----------------|-----------------|--------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Carol J Cardona | LOVELL'S REARRANGEMENT N 5 FT | Street Sweeping - Resid | lential Stree | 0.41 | 54.00 | \$22.14 | 20-29-23-13-0032 |
| Zheng S Xing | FRONT AND REAR OF LOT 11 AND | Alley Sweeping | | 0.14 | 54.00 | \$7.56 | |
| 1505 Grantham St | ALL OF LOT 10 | Citywide Street Lighting | g | 0.58 | 54.00 | \$31.32 | |
| St Paul MN 55108-1449 | | | | | | \$61.02 | |
| *1505 GRANTHAM ST | | *** Owner and Taxpayo | er *** | | | | |
| *Ward: 4 | | | Total Assessr | nent: | | \$61.02 | |
| *Pending as of: 8/24/2021 | | | This Payment | :: | | \$0.00 | |
| | | | Current Year Principal: | | | \$0.00 | |
| | | | Current Year | Interest: | \$0.00 | | |
| | | | Payoff Amou | int: | | \$61.02 | |
| Philip Jon Anderson | LOVELL'S REARRANGEMENT N 10 | Street Sweeping - Resid | | | | | |
| Elizabeth Marie Luger Anderson | FT FRONT AND REAR OF LOT 12 AND | Alley Sweeping Resid | ontial Street | 0.14 | 54.00 | \$7.56 | 20-29-23-13-0033 |
| 1499 Grantham St | EX N 3 F1 FRONT AND REAR LOT 11 | Citywide Street Lighting | g | 0.58 | 54.00 | \$31.32 | |
| St Paul MN 55108-1449 | | | - | | _ | \$61.02 | |
| *1499 GRANTHAM ST | | *** Owner and Taxpayo | er *** | | | \$01.0 <u>2</u> | |
| *Ward: 4 | | | Total Assessr | nent: | = | \$61.02 | |
| *Pending as of: 8/24/2021 | | | This Payment | :: | | \$0.00 | |
| | | | Current Year | Principal: | \$0.00 | | |
| | | | Current Year Interest: | | | | \$0.00 |
| | | | Payoff Amount: | | | \$61.02 | |
| Sandralee S Henry Trustee | LOVELL'S REARRANGEMENT S 10 FT | Street Sweeping - Resid | | | | | 20 20 22 12 0025 |
| Donald E Henry Trustee | OF LOT 19 AND ALL OF LOT 18 | Alley Sweeping | ichtiai Strec | 0.41 | 60.00 | \$8.40 | 20-29-23-13-0035 |
| 1528 Branston St | | Citywide Street Lighting | g | 0.58 | 60.00 | \$34.80 | |
| St Paul MN 55108-1436 | | , , , | | | = | \$67.80 | |
| *1528 BRANSTON ST | | *** Owner and Taxpay | er *** | | | φ07.00 | |
| *Ward: 4 | | | Total Assessr | nent: | | \$67.80 | |
| *Pending as of: 8/24/2021 | | | This Payment | i: | | \$0.00 | |
| | | | Current Year Principal: | | | | |
| | | | Current Year | Interest: | | \$0.00 | |
| | | | Payoff Amou | ınt: | | \$67.80 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by PID (Fee to Asm Ratification D | | Project: 2021SMSP Resolution #: | | Assmt: 210025 | Manager: LMR | Page 46 |
|------------------------------------------|-------------------------------------------------------------------------|--------------------------|------------------------------------|------------|-----------------|--------------------|------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Kathryn R Fixen Leif E Fixen | ST ANTHONY PARK NORTH N 110 FT OF LOT 2 BLK 5 | Street Sweeping - Resid | | 0.41 | 58.00 58.00 | \$23.78 \$33.64 | 20-29-23-13-0042 |
| 2180 Hoyt Ave W St Paul MN 55108-1315 | | *** Owner and Taxpaye | er *** | | _ | \$57.42 | |
| *2180 HOYT AVE W | | | Total Assessr | nent: | | \$57.42 | |
| *Ward: 4 | | | This Payment | t: | | \$0.00 | |
| *Pending as of: 8/24/2021 | | | Current Year | Principal: | | \$0.00 | |
| | | | Current Year Interest: | | | \$0.00 | |
| | | | Payoff Amou | ınt: | | \$57.42 | |
| Cecil H Chally Trustee | ST ANTHONY PARK NORTH LOT 6 | Street Sweeping - Resid | ential Stree | | | | <u> </u> |
| Margaret Chally Trustee | BLK 5 | Alley Sweeping | | 0.14 | 50.00 | \$7.00 | 20-27-25-15-0040 |
| 2218 Hoyt Ave W | | Citywide Street Lighting | g | 0.58 | 101.50 | \$58.87 | |
| St Paul MN 55108-1341 | | | | | _ | \$107.49 | |
| *2218 HOYT AVE W | | *** Owner and Taxpaye | er *** | | | | |
| *Ward: 4 | | | Total Assessr | nent: | | \$107.49 | |
| *Pending as of: 8/24/2021 | | | This Payment | t: | | \$0.00 | |
| | | Current Year Principal: | | | | \$0.00 | |
| | | Current Year Inte | | | | \$0.00 | |
| | | | Payoff Amou | ınt: | | \$107.49 | |
| | ST ANTHONY PARK NORTH LOT 8 | Street Sweeping - Resid | ential Stree | | | | <u> </u> |
| Judy J Schumacher | BLK 5 | Alley Sweeping | | 0.14 | 50.00 | \$7.00 | 20-27-25-15-0040 |
| 1542 Grantham St | | Citywide Street Lighting | g | 0.58 | 50.00 | \$29.00 | |
| St Paul MN 55108-1448 | | | | | _ | \$56.50 | |
| *1542 GRANTHAM ST | | *** Owner and Taxpaye | er *** | | | | |
| *Ward: 4 | | | Total Assessr | nent: | - | \$56.50 | |
| *Pending as of: 8/24/2021 | | | This Payment | t: | | \$0.00 | |
| | | | Current Year | Principal: | | \$0.00 | |
| | | | Current Year | Interest: | | \$0.00 | |
| | | | D 66 4 | | | 05650 | |

\$56.50

| 22:53:28 10/4/2021 | - | | Public Improvement Assessment Roll by PID (Fee to Asmt) Project: 2021SMS Ratification Date: Resolution #: | | · | | Assmt: 210025 | smt: 210025 Manager: LMR | Page 461 |
|---------------------------|----------------------------------|-------------------------|------------------------------------------------------------------------------------------------------------|------------|-----------------|------------------|--------------------|--------------------------|----------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID | | |
| James Alfred Cooper | ST ANTHONY PARK NORTH LOT 13 | Street Sweeping - Resid | | 0.41 | 58.00 | \$23.78 | 20-29-23-13-0053 | | |
| 2195 Dudley Ave | BLK 5 | Citywide Street Lightin | g | 0.58 | 58.00 | \$33.64 | | | |
| St Paul MN 55108-1461 | | | | | | \$57.42 | | | |
| *2195 DUDLEY AVE | | *** Owner and Taxpay | er *** | | | | | | |
| *Ward: 4 | | | Total Assessi | ment: | | \$57.42 | | | |
| *Pending as of: 8/24/2021 | | | This Paymen | | | \$0.00 | | | |
| | | | Current Year | Principal: | | \$0.00 | | | |
| | | | Current Year | | | \$0.00 | | | |
| | | | Payoff Amou | ınt: | | \$57.42 | | | |
| | ST ANTHONY PARK NORTH EX N 110 | Street Sweeping - Resid | — — — — lential Stree | | | | 20 20 22 12 0054 | | |
| 2189 Dudley Ave | FT LOT 2 AND ALL OF LOT 14 BLK 5 | Citywide Street Lightin | | 0.58 | 58.00 | \$33.64 | 20-29-23-13-0054 | | |
| St Paul MN 55108-1461 | | , . | C | | = | \$57.42 | | | |
| *2189 DUDLEY AVE | | *** Owner and Taxpay | | | | ψ57.42 | | | |
| *Ward: 4 | | | Total Assessi | ment: | | \$57.42 | | | |
| *Pending as of: 8/24/2021 | | | This Paymen | t: | | \$0.00 | | | |
| | | | Current Year Interest: | | | | | | |
| | | | | | | | | | |
| | | | Payoff Amou | ınt: | | \$57.42 | | | |
| | ST ANTHONY PARK NORTH LOT 21 | Street Sweeping - Resid | | | 96.50 | | | | |
| Kristin A Sweet Kennedy | BLK 4 | Alley Sweeping | ichilai Silec | 0.41 | 50.00 | \$7.00 | 20-29-23-13-0064 | | |
| 1520 Grantham St | | Citywide Street Lightin | g | 0.58 | 96.50 | \$55.97 | | | |
| St Paul MN 55108-1464 | | | | | _ | \$102.54 | | | |
| *1520 GRANTHAM ST | | *** Owner and Taxpay | er *** | | | ψ10 2 .51 | | | |
| *Ward: 4 | | | Total Assessi | ment: | | \$102.54 | | | |
| *Pending as of: 8/24/2021 | | | This Payment: | | | \$0.00 | | | |
| | | | Current Year | Principal: | | \$0.00 | | | |
| | | | Current Year | Interest: | | \$0.00 | | | |
| | | | Payoff Amou | ınt: | | \$102.54 | | | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | | roject: 2021SMSP Resolution #: | Assmt: 210025 | Manager: LMR | Page 462 |
|------------------------------------------|---------------------------------------|----------------------------|-----------------------------------|-----------------|-------------------|--------------------|
| Owner or Taxpayer | Property Description | Item Description | Unit Rate | Quantity | Charge Amts | Property ID |
| Sandra Lee Johnson Trust | ST ANTHONY PARK NORTH LOT 22 | Street Sweeping - Resident | tial Stree 0.41 | 51.00 | \$20.91 | 20-29-23-13-0065 |
| 2206 Dudley Ave | BLK 4 | Alley Sweeping | 0.14 | 229.00 | \$32.06 | |
| St Paul MN 55108-1416 | | Citywide Street Lighting | 0.58 | 51.00 | \$29.58 | |
| *2206 DUDLEY AVE | | | | _ | \$82.55 | |
| *Ward: 4 | | *** Owner and Taxpayer * | *** | | | |
| *Pending as of: 8/24/2021 | | To | otal Assessment: | - | \$82.55 | |
| | | T | his Payment: | | \$0.00 | |
| | | C | urrent Year Principal: | | \$0.00 | |
| | | C | urrent Year Interest: | | \$0.00 | |
| | | P | ayoff Amount: | | \$82.55 | |
| | | | | | | |
| Franklin J Steen | ST ANTHONY PARK NORTH LOT 23 BLK 4 | Street Sweeping - Resident | | 50.00 | \$20.50 | 20-29-23-13-0066 |
| Lisa J Habeck | DLK 4 | Citywide Street Lighting | 0.58 | 50.00 | \$29.00 | |
| 2200 Dudley Ave | | | | | \$49.50 | |
| St Paul MN 55108-1416 | | *** Owner and Taxpayer * | *** | _ | | |
| *2200 DUDLEY AVE | | Te | otal Assessment: | | \$49.50 | |
| *Ward: 4 | | T | his Payment: | | \$0.00 | |
| *Pending as of: 8/24/2021 | | C | urrent Year Principal: | | \$0.00 | |
| | | C | urrent Year Interest: | | \$0.00 | |
| | | P | ayoff Amount: | | \$49.50 | |
| | | | | | | |
| Jennifer L Buckley | ST ANTHONY PARK NORTH LOT 24 BLK 4 | Street Sweeping - Resident | | 50.00 | \$20.50 | 20-29-23-13-0067 |
| Barry K Buckley | DEK 1 | Citywide Street Lighting | 0.58 | 50.00 | \$29.00 | |
| 2194 Dudley Ave St Paul MN 55108-1416 | | *** Owner and Taxpayer * | *** | | \$49.50 | |
| *2194 DUDLEY AVE | | | otal Assessment: | | \$49.50 | |
| *Ward: 4 | | | otat Assessment: his Payment: | | \$49.50 \$0.00 | |
| *Pending as of: 8/24/2021 | | | urrent Year Principal: | | \$0.00 | |
| | | | urrent Year Interest: | | \$0.00 | |
| | | | ayoff Amount: | | \$49.50 | |
| | | I. | ayon Amount. | | 942.3U | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date: | | Project: 202 Resolution | | Assmt: 210025 | Manager: LMR | Page 463 |
|--------------------------------------------------|-----------------------------------------------------------------------------|-----------------------------------------------------------------------------------------------|----------------------------------------------|----------------------|--------------------------|----------------------------------------------------|----------------------------------|
| Owner or Taxpayer | Property Description | Item Description | | <u>Unit Rate</u> | Quantity | Charge Amts | Property ID |
| Jennifer C Heaton Sigrid J Ellis 2182 Dudley Ave | ST ANTHONY PARK NORTH EX S 115 65/100 FT LOT 26 BLK 4 | Street Sweeping - Resid Alley Sweeping Citywide Street Lightin | | 0.41 0.14 0.58 | 50.00 116.00 50.00 | \$20.50 \$16.24 \$29.00 | 20-29-23-13-0069 |
| St Paul MN 55108-1416 *2182 DUDLEY AVE | | *** Owner and Taxpay | er *** | | _ | \$65.74 | |
| *Ward: 4 *Pending as of: 8/24/2021 | | | Total Assessi | | - | \$65.74 | |
| g | | | This Payment Current Year Current Year | Principal: | | \$0.00 \$0.00 \$0.00 | |
| | | | Payoff Amou | | | \$65.74 | |
| City Of St Paul 25 4th St W Rm 1000 | ST ANTHONY PARK NORTH BLK B | Street Sweeping - Resid | | 0.41 0.58 | 477.00 477.00 | \$195.57 \$276.66 | 20-29-23-13-0081 ***EXEMPT*** |
| St Paul MN 55102-1692 *1486 BRANSTON ST | | *** Owner and Taxpay | er *** | | | \$472.23 | |
| *Ward: 4 *Pending as of: 8/24/2021 | | Total Assessment: This Payment: Current Year Principal: Current Year Interest: Payoff Amount: | | | | \$472.23 \$0.00 \$0.00 \$0.00 \$472.23 | |
| Dennis Keane Sandee Keane 1477 Grantham St | ST ANTHONY PARK NORTH LOT 2 BLK 12 | Street Sweeping - Resid Alley Sweeping Citywide Street Lightin | | 0.41 0.14 0.58 | 50.00 50.00 50.00 | \$20.50 \$7.00 \$29.00 | 20-29-23-13-0083 |
| St Paul MN 55108-1446 *1477 GRANTHAM ST | | *** Owner and Taxpay | er *** | | _ | \$56.50 | |
| *Ward: 4 *Pending as of: 8/24/2021 | | | Total Assessi | | | \$56.50 | |
| g ab o o. . | | | This Payment Current Year | Principal: | | \$0.00 \$0.00 | |
| | | | Current Year Payoff Amou | | | \$0.00 \$56.50 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | nent Assessment Roll by PID (Fee to Asmt) Project: 2021SMSP Ratification Date: Resolution #: | | Assmt: 210025 | Manager: LMR | Page 464 |
|---------------------------|---------------------------------------|----------------------------------------------------------------------------------------------|------------------------|-----------------|--------------|------------------|
| Owner or Taxpayer | Property Description | Item Description | Unit Rate | Quantity | Charge Amts | Property ID |
| Robert W Quast | ST ANTHONY PARK NORTH LOT 4 | Street Sweeping - Resident | ial Stree 0.41 | 50.00 | \$20.50 | 20-29-23-13-0085 |
| Mary Lou Mossberg | BLK 12 | Alley Sweeping | 0.14 | 50.00 | \$7.00 | |
| 1469 Grantham St | | Citywide Street Lighting | 0.58 | 50.00 | \$29.00 | |
| St Paul MN 55108-1446 | | | | _ | \$56.50 | |
| *1469 GRANTHAM ST | | *** Owner and Taxpayer * | ** | | | |
| *Ward: 4 | | To | otal Assessment: | - | \$56.50 | |
| *Pending as of: 8/24/2021 | | Th | nis Payment: | | \$0.00 | |
| | | Cı | ırrent Year Principal: | | \$0.00 | |
| | | Cu | arrent Year Interest: | | \$0.00 | |
| | | Pa | yoff Amount: | | \$56.50 | |
| | | | | | | |
| Mollie Hoben | ST ANTHONY PARK NORTH LOT 9 | Street Sweeping - Resident | ial Stree 0.41 | 50.00 | \$20.50 | 20-29-23-13-0089 |
| 1443 Grantham St | BLK 12 | Citywide Street Lighting | 0.58 | 50.00 | \$29.00 | |
| St Paul MN 55108-1446 | | | | _ | \$49.50 | |
| *1443 GRANTHAM ST | | *** Owner and Taxpayer * | ** | | | |
| *Ward: 4 | | To | otal Assessment: | | \$49.50 | |
| *Pending as of: 8/24/2021 | | Th | nis Payment: | \$0.00 | | |
| | | Cu | ırrent Year Principal: | \$0.00 | | |
| | | Cu | arrent Year Interest: | \$0.00 | | |
| | | Pa | nyoff Amount: | | \$49.50 | |
| | | | | | | |
| Andrea Blain | ST ANTHONY PARK NORTH LOT 11 | Street Sweeping - Resident | ial Stree 0.41 | 50.00 | \$20.50 | 20-29-23-13-0091 |
| Terence Blain | BLK 12 | Citywide Street Lighting | 0.58 | 50.00 | \$29.00 | |
| 1435 Grantham St | | | | _ | \$49.50 | |
| St Paul MN 55108-1446 | | *** Owner and Taxpayer * | ** | | | |
| *1435 GRANTHAM ST | | To | otal Assessment: | | \$49.50 | |
| *Ward: 4 | | Th | nis Payment: | | \$0.00 | |
| *Pending as of: 8/24/2021 | | Cu | arrent Year Principal: | | \$0.00 | |
| | | Cu | arrent Year Interest: | | \$0.00 | |
| | | Pa | yoff Amount: | | \$49.50 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date: | | Ratification Date: Resolution #: | • | | Assmt: 210025 | Manager: LMR | Page 4 |
|------------------------------------------|----------------------------------------------------------------------------|-----------------------------------------------------|----------------------------------|--------------|-----------------|--------------------|--------------------|--------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID | |
| Donald V Hauge Trustee | ST ANTHONY PARK NORTH LOT 21 | Street Sweeping - Resid | lential Stree | 0.41 | 50.00 | \$20.50 | 20-29-23-13-0096 | |
| Meri E Hauge Trustee | BLK 12 | Alley Sweeping | | 0.14 | 50.00 | \$7.00 | | |
| 1478 Branston St | | Citywide Street Lighting | g | 0.58 | 50.00 | \$29.00 | | |
| St Paul MN 55108-1434 | | | | | = | \$56.50 | | |
| *1478 BRANSTON ST | | *** Owner and Taxpayo | er *** | | | | | |
| *Ward: 4 | | | Total Assessi | nent: | | \$56.50 | | |
| *Pending as of: 8/24/2021 | | | This Paymen | t: | | \$0.00 | | |
| | | | Current Year | Principal: | | \$0.00 | | |
| | | | Current Year | Interest: | | \$0.00 | | |
| | | | Payoff Amou | ınt: | | \$56.50 | | |
| | | | | | | | | |
| Jayna M Paquin | ST ANTHONY PARK NORTH LOT 22 | Street Sweeping - Resid | lential Stree | 0.41 | 50.00 | \$20.50 | 20-29-23-13-0097 | |
| Roger L Paquin | BLK 12 | Alley Sweeping | | 0.14 | 50.00 | \$7.00 | | |
| 1484 Branston St | | Citywide Street Lighting | g | 0.58 | 50.00 | \$29.00 | | |
| St Paul MN 55108-1434 | | | | | | \$56.50 | | |
| *1484 BRANSTON ST | | *** Owner and Taxpayo | er *** | | | | | |
| *Ward: 4 | | | Total Assessi | nent: | - | \$56.50 | | |
| *Pending as of: 8/24/2021 | | | This Paymen | t: | | \$0.00 | | |
| | | | Current Year Principal: | | | \$0.00 | | |
| | | | Current Year | Interest: | | \$0.00 | | |
| | | | Payoff Amou | ınt: | | \$56.50 | | |
| | OT ANTHONY PARK YORK YORK | Street Constraint B : 1 | | | | | | |
| Thomas P Ruud | ST ANTHONY PARK NORTH LOT 11 BLK 13 | Street Sweeping - Resid Citywide Street Lighting | | 0.41 0.58 | 50.00 50.00 | \$20.50 \$29.00 | 20-29-23-13-0106 | |
| Silvia C Ruud | | Citywide Street Lighting | g | 0.38 | 30.00 | | | |
| 2211 Buford Ave St Paul MN 55108-1403 | | *** Owner and Taxpayo | er *** | | | \$49.50 | | |
| *2211 BUFORD AVE | | - | Total Assessi | ment: | - | \$49.50 | | |
| *Ward: 4 | | | This Paymen | | | \$0.00 | | |
| *Pending as of: 8/24/2021 | | | Current Year | | | \$0.00 | | |
| | | | Current Year | _ | | \$0.00 | | |
| | | | Current i cal | microst. | | φυ.υυ | | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date: | | - | Project: 2021SMSP Resolution #: | | Manager: LMR | Page 466 |
|---------------------------------------------------|-----------------------------------------------------------------------------|------------------------------------------------|-------------------------|------------------------------------|-----------------|--------------------------|--------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| John M Sperbeck Trustee Judith E Sperbeck Trustee | ST ANTHONY PARK NORTH LOT 12 BLK 13 | Street Sweeping - Res Citywide Street Light | | 0.41 | 86.00 86.00 | \$35.26 \$49.88 | 20-29-23-13-0107 |
| 1466 Grantham St | | | | | _ | \$85.14 | |
| St Paul MN 55108-1450 | | *** Owner and Taxpa | ayer *** | | | | |
| *1466 GRANTHAM ST | | | Total Assess | sment: | - | \$85.14 | |
| *Ward: 4 | | | This Paymer | nt: | | \$0.00 | |
| *Pending as of: 8/24/2021 | | | Current Yea | r Principal: | | \$0.00 | |
| | | | Current Yea | r Interest: | | \$0.00 | |
| | | | Payoff Amo | ount: | | \$85.14 | |
| | ST ANTHONY PARK NORTH LOT 15 | Street Sweeping - Res | sidential Stree | | | | <u> </u> |
| 1639 Huron St | BLK 13 | Citywide Street Light | ting | 0.58 | 50.00 | \$29.00 | 20 29 20 10 0110 |
| St Paul MN 55108-2231 | | | | | _ | \$49.50 | |
| *2208 HENDON AVE | | *** Owner and Taxpa | ayer *** | | | | |
| *Ward: 4 | | | Total Assess | ment: | - | \$49.50 | |
| *Pending as of: 8/24/2021 | | | This Paymer | nt: | | \$0.00 | |
| | | | Current Yea | - | | \$0.00 | |
| | | Current Year Interest: | | | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$49.50 | |
| Randi L Gertjejansen Trustee | ST ANTHONY PARK NORTH LOT 18 | Street Sweeping - Res | sidential Streε | | | | |
| 2194 Hendon Ave | BLK 13 | Citywide Street Light | ting | 0.58 | 50.00 | \$29.00 | |
| St Paul MN 55108-1421 *2194 HENDON AVE | | *** Owner and Taxpa | 91/Ar *** | | = | \$49.50 | |
| *Ward: 4 | | Owner and Taxpo | | | - | <u> </u> | |
| *Pending as of: 8/24/2021 | | | Total Assess | | | \$49.50 | |
| | | | This Paymer | | | \$0.00 | |
| | | | Current Yea Current Yea | - | | \$0.00 | |
| | | | Payoff Amo | | | \$0.00 \$49.50 | |
| | | | rayon Amo | unt: | | \$49.50 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by PID (Fee to Asm Ratification D | | Project: 2021SMSP Resolution #: | | Assmt: 210025 | Manager: LMR | Page 468 |
|-----------------------------------------------------------------|-------------------------------------------------------------------------|-------------------------------------------------------------------------|------------------------------------|----------------------|----------------------------|-------------------------------|------------------|
| Owner or Taxpayer | Property Description | Item Description |] | Unit Rate | Quantity | Charge Amts | Property ID |
| Ross M Walkowiak Tr 2247 Hendon Ave St Paul MN 55108-1451 | LOVELL'S REARRANGEMENT LOTS 13,14 & LOT 15 | Street Sweeping - Resider Alley Sweeping Citywide Street Lighting | | 0.41 0.14 0.58 | 169.50 159.00 169.50 | \$69.50 \$22.26 \$98.31 | 20-29-23-13-0119 |
| *2247 HENDON AVE *Ward: 4 | | *** Owner and Taxpayer | *** | | _ | \$190.07 | |
| *Pending as of: 8/24/2021 | | | Total Assessme | ent: | - | \$190.07 | |
| | | | This Payment: | | | \$0.00 | |
| | | | Current Year P Current Year Ir | - | | \$0.00 \$0.00 | |
| | | | Payoff Amoun | | | \$190.07 | |
| Mark A Throntveit | LOVELL'S REARRANGEMENT LOT 16 | Street Sweeping - Reside | ntial Stree | 0.41 | | | |
| Carol A Throntveit | | Alley Sweeping | ilital Stree | 0.14 | 50.00 | \$7.00 | 20-29-23-13-0120 |
| 1520 Branston St | | Citywide Street Lighting | | 0.58 | 50.00 | \$29.00 | |
| St Paul MN 55108-1436 | | | | | _ | \$56.50 | |
| *1520 BRANSTON ST | | *** Owner and Taxpayer | r *** | | | | |
| *Ward: 4 | | - | Total Assessme | ent: | | \$56.50 | |
| *Pending as of: 8/24/2021 | | • | This Payment: | | | \$0.00 | |
| | | Current Year Principal: Current Year Interest: | | | \$0.00 | | |
| | | | | | | \$0.00 | |
| | | 1 | Payoff Amoun | ıt: | | \$56.50 | |
| University Of Minnesota | Ex N 30 Ft Lot 1 | Street Sweeping - Commo | ercial/Art | 1.04 | | \$20.80 | 20-29-23-14-0001 |
| 319 15th Ave Se Unit 424 | | Street Sweeping - Residen | | 0.41 | 129.00 | \$52.89 | |
| Minneapolis MN 55455-0118 | | Citywide Street Lighting | | 0.58 | 149.00 | \$86.42 | |
| *1559 CLEVELAND AVE N | | | | | | \$160.11 | |
| *Ward: 4 | | *** Owner and Taxpayer | r *** | | | | |
| *Pending as of: 8/24/2021 | | | Total Assessme | ent: | | \$160.11 | |
| | | | This Payment: | | | \$0.00 | |
| | | | Current Year P | • | | \$0.00 | |
| | | | Current Year In | | | \$0.00 | |
| | | ļ | Payoff Amoun | it: | | \$160.11 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Ratification Date: | Project: 20 Resolution | | Assmt: 210025 | Manager: LMR | Page 469 |
|---------------------------|---------------------------------------------------------------------|--------------------------------------|---------------------------|--------------|-----------------|--------------|--------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| University Of Minnesota | AUDITOR'S SUBDIVISION NO. 63 ST. | Street Sweeping - Cor | | 1.04 | 50.00 | \$52.00 | 20-29-23-14-0002 |
| Real Estate Office | PAUL, MINN. LOT 2 | Citywide Street Lighti | ing | 0.58 | 50.00 | \$29.00 | |
| 319 15th Ave Ste 424 | | | | | | \$81.00 | |
| Minneapolis MN 55455-0199 | | *** Owner and Taxpa | ıyer *** | | | | |
| *1555 CLEVELAND AVE N | | | Total Assess | ment: | | \$81.00 | |
| *Ward: 4 | | | This Paymer | nt: | | \$0.00 | |
| *Pending as of: 8/24/2021 | | | Current Yea | r Principal: | | \$0.00 | |
| | | | Current Yea | r Interest: | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$81.00 | |
| Henry A Patterson | AUDITOR'S SUBDIVISION NO. 63 ST. | Street Sweeping - Res | — — — idential Stree | | | | |
| 2101 Dudley Ave | PAUL, MINN. THAT PART LYING S OF | Citywide Street Lighti | | 0.58 | 64.00 | \$37.12 | 20-29-25-14-0005 |
| St Paul MN 55108-1415 | A LINE BEG ON W LINE OF LOT 9 & 126.5 FT S OF NW COR; TH E AT RA | , , | Ü | | = | \$63.36 | |
| *2101 DUDLEY AVE | 18.75 FT, TH S AT RA 6 FT, TH E AT RA TO E LINE OF LOT 9 | *** Owner and Taxpa | yer *** | | | \$03.30 | |
| *Ward: 4 | | | Total Assess | ment: | | \$63.36 | |
| *Pending as of: 8/24/2021 | | | This Paymer | nt: | | \$0.00 | |
| | | | Current Yea | r Principal: | | \$0.00 | |
| | | | Current Yea | r Interest: | | \$0.00 | |
| | | | Payoff Amo | ount: | | \$63.36 | |
| | AUDITOR'S SUBDIVISION NO. 63 ST. | Street Sweeping - Res | idential Streε | | | | |
| 2121 Dudley Ave | PAUL, MINN. S 142 FT OF LOT 14 | Citywide Street Lighti | | 0.58 | 40.00 | \$23.20 | 20-29-23-14-0009 |
| St Paul MN 55108-1415 | | | | | = | \$39.60 | |
| *2121 DUDLEY AVE | | *** Owner and Taxpa | ıyer *** | | | ψ37.00 | |
| *Ward: 4 | | • | Total Assess | | <u> </u> | \$39.60 | |
| *Pending as of: 8/24/2021 | | | This Paymer | | | \$39.60 | |
| | | | Current Yea | | | \$0.00 | |
| | | | Current Yea | _ | | \$0.00 | |
| | | | Current 1 Ca | i interest. | | φυ.υυ | |

\$39.60

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by I | PID (Fee to Asmt) Ratification Date: | Project: 20218 Resolution #: | SMSP | Assmt: 210025 | Manager: LMR | Page 470 |
|------------------------------------------|---------------------------------------------------------------------------------|--------------------------------------|---------------------------------|-----------|-----------------|--------------------|-------------------------|
| Owner or Taxpayer | Property Description | Item Description | <u> 1</u> | Unit Rate | Quantity | Charge Amts | Property ID |
| David A Blank Colene Hartman Blank | AUDITOR'S SUBDIVISION NO. 63 ST. PAUL, MINN. SUBJ TO AVE AND EX S 153 FT LOT 16 | Street Sweeping - Resid | | 0.41 | 64.00 64.00 | \$26.24 \$37.12 | 20-29-23-14-0012 |
| 2130 Hoyt Ave W St Paul MN 55108-1315 | | *** Owner and Taxpayo | er *** | | \$63.36 | | |
| *2130 HOYT AVE W | | | Total Assessme | ent: | | \$63.36 | |
| *Ward: 4 | | | This Payment: | | | \$0.00 | |
| *Pending as of: 8/24/2021 | | | Current Year Pr | rincipal: | | \$0.00 | |
| | | | Current Year In | iterest: | | \$0.00 | |
| | | | Payoff Amount | t: | | \$63.36 | |
| | AUDITOR'S SUBDIVISION NO. 63 ST. | Street Sweeping - Resid | lential Streε | 0.41 | | | <u>20-29-23-14-0019</u> |
| Molly M Leifeld | PAUL, MINN. EX N 30 FT FOR ST, PART | Citywide Street Lighting | | 0.58 | 64.00 | \$37.12 | 20-27-23-14-0017 |
| 2100 Hoyt Ave W | N OF A LINE BEG ON W LINE OF LOT 9 & 126.5 FT S OF NW COR, TH E AT RA | | | | _ | \$63.36 | |
| St Paul MN 55108-1315 | 18.75 FT, TH S AT RA 6 FT, TH E AT RA TO THE E LINE OF LOT 9 | *** Owner and Taxpayo | er *** | | | | |
| *2100 HOYT AVE W | | | Total Assessme | ent: | | \$63.36 | |
| *Ward: 4 | | | This Payment: | | \$0.00 | | |
| *Pending as of: 8/24/2021 | | | Current Year Pr | rincipal: | \$0.00 | | |
| | | | Current Year In | iterest: | \$0.00 | | |
| | | | Payoff Amount | t: | | \$63.36 | |
| Thomas J Reynolds | AUDITOR'S SUBDIVISION NO. 63 ST. | | lential Streε | 0.41 | | | <u>20-29-23-14-0025</u> |
| Talia R Nadir | PAUL, MINN. EX N 130 FT THE E 68 | Citywide Street Lighting | | 0.58 | 68.00 | \$39.44 | 20-27-25-14-0025 |
| 2167 Dudley Ave | 455/1000 FT OF LOT 21 | | | | _ | \$67.32 | |
| St Paul MN 55108-1461 | | *** Owner and Taxpayo | er *** | | | 447.0- | |
| *2167 DUDLEY AVE | | | Total Assessme | ent: | | \$67.32 | |
| *Ward: 4 | | | This Payment: | .=== | | \$0.00 | |
| *Pending as of: 8/24/2021 | | | Current Year Pr | rincipal: | | \$0.00 | |
| | | | Current Year In | - | | \$0.00 | |
| | | | Payoff Amount | t: | | \$67.32 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date: | | Project: 2021SMSP Resolution #: | | Assmt: 210025 | Manager: LMR | Page 471 |
|----------------------------|----------------------------------------------------------------------------|-------------------------|------------------------------------|--------------|-----------------|--------------|------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Erskine M Caperton Jr | AUDITOR'S SUBDIVISION NO. 63 ST. | Street Sweeping - Res | | 0.41 | 4.00 | \$1.64 | 20-29-23-14-0028 |
| Eva P Caperton | PAUL, MINN. EX N 127 FT THE W 4 23/100 FT OF LOT 21 | Citywide Street Lighti | ng | 0.58 | 4.00 | \$2.32 | |
| 2181 Dudley Ave | | *** 0 1 T | *** | | | \$3.96 | |
| St Paul MN 55108-1461 | | *** Owner and Taxpa | yer *** | | | | |
| *0 DUDLEY AVE *Ward: 4 | | | Total Assess | sment: | | \$3.96 | |
| *Pending as of: 8/24/2021 | | | This Paymer | | | \$0.00 | |
| 1 cliding as 61. 6/24/2021 | | | Current Yea | | | \$0.00 | |
| | | | Current Yea | | | \$0.00 | |
| | | | Payoff Amo | ount: | | \$3.96 | |
| Maria Catherine Wolff | ST ANTHONY PARK NORTH LOT 1 | Street Sweeping - Res | idential Stree | | 99.00 | | 20-29-23-14-0029 |
| Eric Thomas Kloos | BLK 4 | Alley Sweeping | | 0.14 | 50.00 | \$7.00 | |
| 1521 Chelmsford St | | Citywide Street Lighti | ng | 0.58 | 99.00 | \$57.42 | |
| St Paul MN 55108-1408 | | | | | _ | \$105.01 | |
| *1521 CHELMSFORD ST | | *** Owner and Taxpa | yer *** | | _ | | |
| *Ward: 4 | | | Total Assess | sment: | | \$105.01 | |
| *Pending as of: 8/24/2021 | | | This Paymer | nt: | | \$0.00 | |
| | | | Current Yea | r Principal: | | \$0.00 | |
| | | | Current Yea | | | \$0.00 | |
| | | | Payoff Amo | ount: | | \$105.01 | |
| | ST ANTHONY PARK NORTH LOT 3 | Street Sweeping - Res | idential Stree | | | | |
| 1511 Chelmsford St | BLK 4 | Alley Sweeping | | 0.14 | 50.00 | \$7.00 | 20 23 20 11 0001 |
| St Paul MN 55108-1408 | | Citywide Street Lighti | ng | 0.58 | 50.00 | \$29.00 | |
| *1511 CHELMSFORD ST | | | | | - | \$56.50 | |
| *Ward: 4 | | *** Owner and Taxpa | yer *** | | | | |
| *Pending as of: 8/24/2021 | | | Total Assess | sment: | | \$56.50 | |
| | | | This Paymer | nt: | | \$0.00 | |
| | | | Current Year Principal: | | | | |
| | | | Current Yea | | | \$0.00 | |
| | | | Payoff Amo | ount: | | \$56.50 | |

\$56.50

\$106.00

\$56.50

\$56.50

| 22:53:28 10/4/2021 | 2:53:28 10/4/2021 Public Improvement Assessment Roll by PID (Fee to Asmt) Project: 2021SMSP Ratification Date: Resolution #: | | | Assmt: 210025 | Manager: LMR | Page 479 | |
|---------------------------------------------|------------------------------------------------------------------------------------------------------------------------------|----------------------------|------------------------------------------------|---------------|-----------------|---------------------------|--------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Anna E Shepard | ST ANTHONY PARK NORTH LOT 15 | Street Sweeping - Res | sidential Stree | 0.41 | 50.00 | \$20.50 | 20-29-23-14-0080 |
| Mika'Ele C Toia | BLK 1 | Alley Sweeping | | 0.14 | 50.00 | \$7.00 | |
| 1516 Raymond Ave | | Citywide Street Light | ing | 0.58 | 50.00 | \$29.00 | |
| St Paul MN 55108-1433 | | | | | _ | \$56.50 | |
| *1516 RAYMOND AVE | | *** Owner and Taxpa | ayer *** | | | | |
| *Ward: 4 | | | Total Assess | sment: | | \$56.50 | |
| *Pending as of: 8/24/2021 | | | This Paymer | nt: | | \$0.00 | |
| | | | Current Yea | r Principal: | | \$0.00 | |
| | | | Current Yea | r Interest: | | \$0.00 | |
| | | | Payoff Amo | ount: | | \$56.50 | |
| | | | | | | | |
| Michael D Grossman | ST ANTHONY PARK NORTH THAT PART OF LOT 2 NLY OF A L RUN | Street Sweeping - Res | | 0.41 | 104.00 | \$42.64 | 20-29-23-14-0082 |
| Paula E Grossman | FROM NE COR OF SD LOT TO A PT ON | Citywide Street Light | ing | 0.58 | 104.00 | \$60.32 | |
| 1477 Chelmsford St St Paul MN 55108-1407 | W L 25 FT FROM SW COR AND ALL OF LOT 1 BLK 13 | *** Owner and Taxpayer *** | | | | \$102.96 | |
| *1477 CHELMSFORD ST | | Owner and Tampe | · | | | | |
| *Ward: 4 | | | Total Assess | | \$102.96 | | |
| *Pending as of: 8/24/2021 | | | This Paymer | | | \$0.00 | |
| 5 | | | Current Year Principal: Current Year Interest: | | | \$0.00 | |
| | | | | | | \$0.00 \$102.96 | |
| | | | Payoff Amo | ount: | | \$102.90 | |
| Paul R Granovsky | ST ANTHONY PARK NORTH PART | Street Sweeping - Res | sidential Stree | | | | 20-29-23-14-0083 |
| 1473 Chelmsford St | SLY OF A L RUN FROM NE COR TO A PT ON W L 25 FT FROM SW COR OF | Citywide Street Light | ing | 0.58 | 50.00 | \$29.00 | 20 29 20 11 0000 |
| St Paul MN 55108-1407 | LOT 2 BLK 13 | | | | _ | \$49.50 | |
| *1473 CHELMSFORD ST | | *** Owner and Taxpa | ayer *** | | | | |
| *Ward: 4 | | | Total Assess | sment: | - | \$49.50 | |
| *Pending as of: 8/24/2021 | | | This Paymer | nt: | | \$0.00 | |
| | | | Current Yea | r Principal: | | \$0.00 | |
| | | | Current Yea | r Interest: | | \$0.00 | |
| | | | | | | | |

\$49.50

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date: | | Project: 2021SMSP Resolution #: | | Assmt: 210025 | Manager: LMR | Page 480 | |
|----------------------------------------------------------|-----------------------------------------------------------------------------|----------------------------------------------------------------------|------------------------------------------------|----------------------|-------------------------|------------------------------|--------------------|--|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID | |
| James Ashworth 1459 Hythe St St Paul MN 55108-1424 | ST ANTHONY PARK NORTH LOT 5 BLK 14 | Street Sweeping - Resid Alley Sweeping Citywide Street Lightin | | 0.41 0.14 0.58 | 50.00 50.00 50.00 | \$20.50 \$7.00 \$29.00 | 20-29-23-14-0092 | |
| *1459 HYTHE ST *Ward: 4 | | *** Owner and Taxpay | *** Owner and Taxpayer *** | | | | | |
| *Pending as of: 8/24/2021 | | | Total Assessn | nent: | - | \$56.50 | | |
| | | | This Payment | | | \$0.00 | | |
| | | | Current Year | Principal: | | \$0.00 | | |
| | | | Current Year | | | \$0.00 | | |
| | | | Payoff Amou | ınt: | | \$56.50 | | |
| S Ernest Miller Tr | ST ANTHONY PARK NORTH LOT 6 | Street Sweeping - Resid | lential Stree | 0.41 | 50.00 | \$20.50 | 20-29-23-14-0093 | |
| Marilyn J Miller Tr | BLK 14 | Alley Sweeping | | 0.14 | 50.00 | \$7.00 | | |
| 1453 Hythe St | | Citywide Street Lighting | g | 0.58 | 50.00 | \$29.00 | | |
| St Paul MN 55108-1424 *1453 HYTHE ST | | *** Owner and Taxpay | er *** | | | \$56.50 | | |
| *Ward: 4 | | 1 7 | | | | 0.5 (50 | | |
| *Pending as of: 8/24/2021 | | | Total Assessn | | | \$56.50 | | |
| 5 | | | This Payment | | | \$0.00 \$0.00 | | |
| | | | Current Year Principal: Current Year Interest: | | | \$0.00 | | |
| | | | Payoff Amou | | | \$56.50 | | |
| | | | 1 ayon Amou | mt. | | \$30.30 | | |
| James E Larson | ST ANTHONY PARK NORTH EX S 10 | Street Sweeping - Resid | lential Stree | 0.41 | | \$24.60 | | |
| Rachel A Larson | FT LOT 10 AND S 20 FT OF LOT 11 BLK 14 | Alley Sweeping | | 0.14 | 60.00 | \$8.40 | | |
| 1464 Chelmsford St | DLN 14 | Citywide Street Lighting | g | 0.58 | 60.00 | \$34.80 | | |
| St Paul MN 55108-1406 | | | | | | \$67.80 | | |
| *1464 CHELMSFORD ST | | *** Owner and Taxpay | er *** | | | | | |
| *Ward: 4 | | | Total Assessn | | | \$67.80 | | |
| *Pending as of: 8/24/2021 | | | This Payment | | | \$0.00 | | |
| | | | Current Year | - | | \$0.00 | | |
| | | | Current Year | | | \$0.00 | | |
| | | | Payoff Amou | ınt: | | \$67.80 | | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Ratification Date: | Project: 20 Resolution | | Assmt: 210025 | Manager: LMR | Page 481 |
|----------------------------------------------------|-------------------------------------------------------------|---------------------------------------------------------------------|---------------------------|----------------------|--------------------------|-------------------------------|------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Anne Ryan Bryan Meyer 2106 Hendon Ave | ST ANTHONY PARK NORTH EX E 75 FT LOTS 1 AND LOT 2 BLK 15 | Street Sweeping - Resi Alley Sweeping Citywide Street Lightin | | 0.41 0.14 0.58 | 75.00 100.00 75.00 | \$30.75 \$14.00 \$43.50 | 20-29-23-14-0101 |
| St Paul MN 55108-1419 *2106 HENDON AVE | | *** Owner and Taxpay | yer *** | | | \$88.25 | |
| *Ward: 4 | | | Total Assess | sment: | | \$88.25 | |
| *Pending as of: 8/24/2021 | | | This Paymer | | | \$0.00 | |
| | | | Current Year | • | | \$0.00 | |
| | | | Current Year Payoff Amo | | | \$0.00 \$88.25 | |
| | | | | | | | |
| Saliture Properties Llc | ST ANTHONY PARK NORTH LOT 3 | Street Sweeping - Resi | dential Stree | 0.41 | 50.00 | \$20.50 | 20-29-23-14-0103 |
| Attn Santo And Doris Saliture | BLK 15 | Alley Sweeping | | 0.14 | 50.00 | \$7.00 | |
| 982 Cromwell Ave | | Citywide Street Lightin | ng | 0.58 | 50.00 | \$29.00 | |
| St Paul MN 55114-1137 * 1471 RAYMOND AVE | | *** Owner and Taxpay | yer *** | | | \$56.50 | |
| *Ward: 4 | | | Total Assess | ment: | | \$56.50 | |
| *Pending as of: 8/24/2021 | | | This Paymer | | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Current Year Interest: | | | | |
| | | | Payoff Amo | ount: | | \$56.50 | |
| | ST ANTHONY PARK NORTH LOT 4 | Street Syvening Besi | | | | | |
| Daniel Tersteeg | BLK 15 | Street Sweeping - Resi Alley Sweeping | dential Street | 0.41 | 50.00 | \$20.30 \$7.00 | 20-29-23-14-0104 |
| Phanarat Ninwiset Tersteeg 1465 Raymond Ave | | Citywide Street Lightin | ng | 0.58 | 50.00 | \$29.00 | |
| St Paul MN 55108-1430 | | , , | 6 | | _ | \$56.50 | |
| *1465 RAYMOND AVE | | *** Owner and Taxpay | yer *** | | | φ50.50 | |
| *Ward: 4 | | | Total Assess | sment: | | \$56.50 | |
| *Pending as of: 8/24/2021 | | | This Paymer | nt: | | \$0.00 | |
| | | | Current Year | r Principal: | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$56.50 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date: | | Project: 2021SMSP Resolution #: | | Assmt: 210025 | Manager: LMR | Page 482 |
|------------------------------------------------|-----------------------------------------------------------------------------|------------------------------------------------------------------------|------------------------------------|----------------------|-------------------------|------------------------------|--------------------|
| Owner or Taxpayer | Property Description | Item Description | <u> 1</u> | <u>Unit Rate</u> | Quantity | Charge Amts | Property ID |
| Marcus J Culver Jenifer C Culver 1460 Hythe St | ST ANTHONY PARK NORTH LOT 10 BLK 15 | Street Sweeping - Reside Alley Sweeping Citywide Street Lighting | | 0.41 0.14 0.58 | 50.00 50.00 50.00 | \$20.50 \$7.00 \$29.00 | 20-29-23-14-0109 |
| St Paul MN 55108-1425 *1460 HYTHE ST | | *** Owner and Taxpaye | r *** | | = | \$56.50 | |
| *Ward: 4 | | | Total Assessme | ent: | | \$56.50 | |
| *Pending as of: 8/24/2021 | | | This Payment: | | | \$0.00 | |
| | | | Current Year Pr | rincipal: | | \$0.00 | |
| | | | Current Year In | nterest: | | \$0.00 | |
| | | | Payoff Amoun | t: | | \$56.50 | |
| | ST ANTHONY PARK NORTH LOT 11 | Street Sweeping - Reside | ential Stree | 0.41 | | | 20-29-23-14-0110 |
| Juliette Cherbuliez | BLK 15 | Alley Sweeping | | 0.14 | 50.00 | \$7.00 | 20 27 20 11 0110 |
| 1466 Hythe St | | Citywide Street Lighting | 5 | 0.58 | 50.00 | \$29.00 | |
| St Paul MN 55108-1425 | | | | | _ | \$56.50 | |
| *1466 HYTHE ST | | *** Owner and Taxpaye | r *** | | | | |
| *Ward: 4 | | | Total Assessme | ent: | | \$56.50 | |
| *Pending as of: 8/24/2021 | | | This Payment: | | | \$0.00 | |
| | | | Current Year P | rincipal: | | \$0.00 | |
| | | | Current Year Interest: | | | \$0.00 | |
| | | | Payoff Amoun | t: | | \$56.50 | |
| | ST ANTHONY PARK NORTH E 50 FT | Street Sweeping - Reside | ential Stree | 0.41 | | <u>\$20.50</u> | <u> </u> |
| James R Otieno | OF LOT 8 BLK 16 | Alley Sweeping | | 0.14 | 50.00 | \$7.00 | 20 27 20 11 0110 |
| 323 Lester Ct | | Citywide Street Lighting | ; | 0.58 | 50.00 | \$29.00 | |
| Santa Clara CA 95051-6543 | | | | | _ | \$56.50 | |
| *2081 BUFORD AVE | | *** Owner and Taxpayer | r *** | | | | |
| *Ward: 4 | | | Total Assessme | ent: | | \$56.50 | |
| *Pending as of: 8/24/2021 | | | This Payment: | | | \$0.00 | |
| | | | Current Year Pr | rincipal: | | \$0.00 | |
| | | | Current Year In | | | \$0.00 | |
| | | | Payoff Amoun | t: | | \$56.50 | |

\$126.93

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Ratification Date: | Project: 20 Resolution | | Assmt: 210025 | Manager: LMR | Page 484 |
|-------------------------------------------------------------------------------------------|----------------------------------------------------|---------------------------------------------------------------------------------------|-----------------------------------------------------------------------------------------------|------------------------------------|---------------------------|----------------------------------------------------|------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Rachel S Tranberry 1439 Hyth St St Paul MN 55108-1422 | ST ANTHONY PARK NORTH LOT 1 BLK 19 | Street Sweeping - Resi Alley Sweeping Citywide Street Lightin | | 0.41 0.14 0.58 | 100.00 55.00 100.00 | \$41.00 \$7.70 \$58.00 | 20-29-23-14-0129 |
| *1439 HYTHE ST *Ward: 4 | | *** Owner and Taxpay | /er *** | | _ | \$106.70 | |
| *Pending as of: 8/24/2021 | | | Total Assess This Paymer Current Yea Current Yea Payoff Amo | nt: r Principal: r Interest: | | \$106.70 \$0.00 \$0.00 \$0.00 \$106.70 | |
| University Of Minnesota Real Estate Office 319 15th Ave Ste 424 Minneapolis MN 55455-0199 | AUDITOR'S SUBDIVISION NO. 63 ST. PAUL, MINN. LOT 3 | Street Sweeping - Commercial/Art Citywide Street Lighting *** Owner and Taxpayer *** | | 1.04 | 50.00 | \$52.00 \$29.00 \$81.00 | 20-29-23-14-0133 |
| *1547 CLEVELAND AVE N *Ward: 4 *Pending as of: 8/24/2021 | | | Total Assessment: This Payment: Current Year Principal: Current Year Interest: Payoff Amount: | | | \$81.00 \$0.00 \$0.00 \$0.00 \$81.00 | |
| University Of Minnesota Real Estate Office 319 15th Ave Ste 424 Minneapolis MN 55455-0199 | AUDITOR'S SUBDIVISION NO. 63 ST. PAUL, MINN. LOT 4 | Street Sweeping - Com Citywide Street Lightin *** Owner and Taxpay | ng | 1.04 0.58 | 50.00 | \$52.00 \$29.00 \$81.00 | 20-29-23-14-0134 |
| *1541 CLEVELAND AVE N *Ward: 4 *Pending as of: 8/24/2021 | | o mer and ruspa | Total Assess This Paymer Current Yea Current Yea Payoff Amo | nt: r Principal: r Interest: | | \$81.00 \$0.00 \$0.00 \$0.00 \$81.00 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Ratification Date: | Project: 202 Resolution | | Assmt: 210025 | Manager: LMR | Page 485 |
|---------------------------------------------------|--------------------------------------------------------------------|-----------------------------------------------------|---------------------------|--------------|------------------|---------------------|------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| University Of Minnesota 319 15th Ave Ste 424 | AUDITOR'S SUBDIVISION NO. 63 ST. PAUL, MINN. LOT 5 | Street Sweeping - Comr Citywide Street Lighting | | 1.04 | 50.00 | \$52.00 \$29.00 | 20-29-23-14-0135 |
| Minneapolis MN 55455-0199 *1535 CLEVELAND AVE N | | *** Owner and Taxpaye | er *** | | _ | \$81.00 | |
| *Ward: 4 *Pending as of: 8/24/2021 | | | Total Assessi | | | \$81.00 \$0.00 | |
| | | | Current Year Current Year | Interest: | \$0.00 \$0.00 | | |
| | | | Payoff Amou | unt: | | \$81.00 | |
| University Of Minnesota | AUDITOR'S SUBDIVISION NO. 63 ST. | Street Sweeping - Comr | | 1.04 | | \$52.00 | 20-29-23-14-0136 |
| Real Estate Office | PAUL, MINN. LOT 6 | Street Sweeping - Resid Citywide Street Lighting | | 0.41 0.58 | 129.00 179.00 | \$52.89 \$103.82 | |
| 319 15th Ave Ste 424 Minneapolis MN 55455-0199 | | City wide Street Eighting | 5 | 0.50 | = | \$208.71 | |
| *1533 CLEVELAND AVE N | | *** Owner and Taxpaye | er *** | | | \$206.71 | |
| *Ward: 4 | | | Total Assessment: | | | \$208.71 | |
| *Pending as of: 8/24/2021 | | | This Paymen | | | \$0.00 | |
| | | | Current Year Principal: | | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amou | unt: | | \$208.71 | |
| Nina M Archabal Trustee | AUDITOR'S SUBDIVISION NO. 63 ST. | Street Sweeping - Resid | | 0.41 | 64.00 | \$26.24 | 20-29-23-14-0140 |
| 2082 Hoyt Ave | PAUL, MINN. EX N 30 FT FOR ST; THE W 64 FT OF N 155 FT OF LOT 7 | Citywide Street Lighting | g | 0.58 | 64.00 | \$37.12 | |
| St Paul MN 55108-1338 *2082 HOYT AVE W | | *** Owner and Taxpayo | er *** | | | \$63.36 | |
| *Ward: 4 | | | Total Assessi | ment: | - | \$63.36 | |
| *Pending as of: 8/24/2021 | | This Payment: | | | | \$0.00 | |
| | | | Current Year | _ | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amou | unt: | | \$63.36 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by PID (Fee to Asmt) Project: 2021SMSP Ratification Date: Resolution #: | | | Assmt: 210025 | Manager: LMR | Page 486 | |
|---------------------------------------|------------------------------------------------------------------------------------------------------------|------------------------------------------------------|----------------|---------------|-----------------|--------------------|------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Nina M Archabal Trustee 2082 Hoyt Ave | AUDITOR'S SUBDIVISION NO. 63 ST. PAUL, MINN. EX N 30 FT FOR ST & EX W 64 FT; THE N 155 FT OF LOT 7 | Street Sweeping - Reside Citywide Street Lighting | | 0.41 | 65.00 65.00 | \$26.65 \$37.70 | 20-29-23-14-0141 |
| St Paul MN 55108-1338 | ., 0.1.1, 1.12.1.135.1.1 61 261 / | | | | | \$64.35 | |
| *2082 HOYT AVE W | | *** Owner and Taxpaye | er *** | | | | |
| *Ward: 4 | | | Total Assessm | ent: | | \$64.35 | |
| *Pending as of: 8/24/2021 | | | This Payment: | | | \$0.00 | |
| | | | Current Year P | rincipal: | | \$0.00 | |
| | | | Current Year I | | | \$0.00 | |
| | | | Payoff Amour | nt: | | \$64.35 | |
| David Charles Watkins | AUDITOR'S SUBDIVISION NO. 63 ST. | Street Sweeping - Reside | | 0.41 | 64.00 | \$26.24 | 20-29-23-14-0146 |
| 2153 Dudley Ave | PAUL, MINN. S 149 FT OF E 1/2 OF LOT 20 | Citywide Street Lighting | 3 | 0.58 | 64.00 | \$37.12 | |
| St Paul MN 55108-1461 | | | | | | \$63.36 | |
| *2153 DUDLEY AVE | | *** Owner and Taxpaye | er *** | | | | |
| *Ward: 4 | | | Total Assessm | ent: | | \$63.36 | |
| *Pending as of: 8/24/2021 | | | This Payment: | | | \$0.00 | |
| | | | Current Year P | rincipal: | | \$0.00 | |
| | | | Current Year I | | | \$0.00 | |
| | | | Payoff Amour | nt: | | \$63.36 | |
| | AUDITOR'S SUBDIVISION NO. 63 ST. | Street Sweeping - Reside | ential Stree | 0.41 | | | |
| Mary C Daly | PAUL, MINN. EX N 30 FT & EX S 149 | Citywide Street Lighting | | 0.58 | 64.00 | \$37.12 | 20 27 20 11 0117 |
| 2152 Hoyt Ave W | FT; THE E 1/2 OF LOT 20 | | | | _ | \$63.36 | |
| St Paul MN 55108-0258 | | *** Owner and Taxpaye | er *** | | | | |
| *2152 HOYT AVE W | | | Total Assessm | ent: | | \$63.36 | |
| *Ward: 4 | | | This Payment: | | | \$0.00 | |
| *Pending as of: 8/24/2021 | | | Current Year F | | | \$0.00 | |
| | | | Current Year I | - | | \$0.00 | |
| | | | Payoff Amour | nt: | | \$63.36 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date: | | 21SMSP #: | Assmt: 210025 | Manager: LMR | Page 487 |
|----------------------------|-------------------------------------------------------------|-----------------------------------------------------------------------------|----------------|--------------|-----------------|--------------|--------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Mary J Fallon | AUDITOR'S SUBDIVISION NO. 63 ST. | Street Sweeping - Resi | idential Stree | 0.41 | 129.00 | \$52.89 | 20-29-23-14-0148 |
| William H Skarstad | PAUL, MINN. SUBJ TO ESMTS & EX S 135 FT; LOTS 18 & 19 | Citywide Street Lightin | ng | 0.58 | 129.00 | \$74.82 | |
| 2140 Hoyt Ave W | 133 F1, LO13 10 & 17 | | | | _ | \$127.71 | |
| St Paul MN 55108-1315 | | *** Owner and Taxpa | yer *** | | | | |
| *2140 HOYT AVE W | | | Total Assess | ment: | - | \$127.71 | |
| *Ward: 4 | | | This Paymer | nt: | | \$0.00 | |
| *Pending as of: 8/24/2021 | | | Current Yea | r Principal: | | \$0.00 | |
| | | | Current Yea | r Interest: | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$127.71 | |
| Pinar Karaca Mandic Tr | AUDITOR'S SUBDIVISION NO. 63 ST. | Street Sweeping - Resi | idential Stree | | | | |
| 2141 Dudley Ave | PAUL, MINN. THE S 133.15 FT OF LOT | Citywide Street Lightin | ng | 0.58 | 64.00 | \$37.12 | 20 27 20 11 0130 |
| St Paul MN 55108-1461 | 17 | | | | = | \$63.36 | |
| *2141 DUDLEY AVE | | *** Owner and Taxpa | yer *** | | | | |
| *Ward: 4 | | | Total Assess | ment: | - | \$63.36 | |
| *Pending as of: 8/24/2021 | | | This Paymer | nt: | | \$0.00 | |
| | | | Current Yea | r Principal: | | \$0.00 | |
| | | | Current Yea | r Interest: | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$63.36 | |
| | AUDITOR'S SUBDIVISION NO. 63 ST. | Street Sweeping - Resi | idential Stree | | | | |
| 2082 Hoyt Ave | PAUL, MINN. EX THE N 30 FT TAKEN | Citywide Street Lightin | | 0.58 | 53.00 | \$30.74 | 20-27-23-14-0134 |
| St Paul MN 55108-1338 | FOR HOYT AVE THE, NORTH 143 FT OF THE E 53.3 FT OF LOT 8 | | | | _ | \$52.47 | |
| *2082 HOYT AVE W | | *** Owner and Taxpa | yer *** | | | | |
| *Ward: 4 | | | Total Assess | ment. | - | \$52.47 | |
| *Pending as of: 8/24/2021 | | | This Paymer | | | \$0.00 | |
| | | | Current Yea | | | \$0.00 | |
| | | | Current Yea | _ | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$52.47 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by I | PID (Fee to Asmt) Ratification Date: | Project: 202 Resolution # | | Assmt: 210025 | Manager: LMR | Page 488 |
|---------------------------------------------|-----------------------------------------------------------------------------------------------------|--------------------------------------|---------------------------|--------------|-----------------|--------------------|------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Cheryl D May Trust John Cullen May Ii Trust | AUDITOR'S SUBDIVISION NO. 63 ST. PAUL, MINN. THE E 60 FT OF THE S 106.5 FT & THE E 53.3 FT OF THE N | Street Sweeping - Resid | | 0.41 0.58 | 60.00 | \$24.60 \$34.80 | 20-29-23-14-0155 |
| 5122 230th St N Port Byron IL 61275-9430 | 192.3 FT, EX THE N 143 FT OF SD 53.3 FT OF LOT 8 | *** Owner and Taxpay | er *** | | _ | \$59.40 | |
| *2091 DUDLEY AVE | | | Total Assessr | ment: | - | \$59.40 | |
| *Ward: 4 | | | This Payment | t: | | \$0.00 | |
| *Pending as of: 8/24/2021 | | | Current Year | Principal: | | \$0.00 | |
| | | | Current Year | Interest: | | \$0.00 | |
| | | | Payoff Amou | unt: | | \$59.40 | |
| | AUDITOR'S SUBDIVISION NO. 63 ST. | Street Sweeping - Resid | lential Stree | | | | 20-29-23-14-0156 |
| Maryse Fan | PAUL, MINN. EX N 30 FT & EX S 130 FT; LOT 11 AND EX THE N 30 FT & EX | Citywide Street Lightin | g | 0.58 | 65.00 | \$37.70 | |
| 2112 Hoyt Ave W | THE S 167 FT; THE E 7 FT OF LOT 12 | | | | = | \$64.35 | |
| St Paul MN 55108-1315 | | *** Owner and Taxpay | er *** | | | | |
| *2112 HOYT AVE W | | | Total Assessr | ment: | - | \$64.35 | |
| *Ward: 4 | | | This Payment | t: | | \$0.00 | |
| *Pending as of: 8/24/2021 | | | Current Year | Principal: | | \$0.00 | |
| | | | Current Year | Interest: | | \$0.00 | |
| | | | Payoff Amou | ınt: | | \$64.35 | |
| | AUDITOR'S SUBDIVISION NO. 63 ST. | Street Sweeping - Resid | lential Streε | | | | |
| Maryse Fan | PAUL, MINN. EX N 30 FT & EX S 167 FT | Citywide Street Lightin | | 0.58 | 63.00 | \$36.54 | 20-27-25-14-0137 |
| 2112 Hoyt Ave W | & EX THE E 7 FT; LOT 12 | | | | _ | \$62.37 | |
| St Paul MN 55108-1315 | | *** Owner and Taxpay | er *** | | | | |
| *2116 HOYT AVE W | | | Total Assessr | ment: | | \$62.37 | |
| *Ward: 4 | | | This Payment | | | \$0.00 | |
| *Pending as of: 8/24/2021 | | | Current Year | | | \$0.00 | |
| | | | Current Year | _ | | \$0.00 | |
| | | | Payoff Amou | ınt: | | \$62.37 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Ratification Date: | Project: 202 Resolution | | Assmt: 210025 | Manager: LMR | Page 489 |
|--------------------------------------------------------------------|-------------------------------------------------------------------------------------------------------|-----------------------------------------------------------------------------------------------|---------------------------|-------------------------|-----------------------------------------------|----------------------------------------------------|--------------------|
| Owner or Taxpayer | Property Description | Item Description | | <u>Unit Rate</u> | Quantity | Charge Amts | Property ID |
| Arec 26 Llc Attn Tax Dept | SECTION 20 TOWN 29 RANGE 23 SUBJ TO POWER ESMT AND EX S 291 42/100 FT MOL PART OF SW 1/4 OF | Street Sweeping - Com Citywide Street Lightin | | 1.04 0.58 | 1,239.00 1,239.00 | \$1,288.56 \$718.62 | 20-29-23-23-0005 |
| Po Box 29046 Phoenix AZ 85038-9046 | NW 1/4 ELY OF MINN TRANSFER RY CO R/W AND SLY OF COMO AVE AND WLY OF STH 280 IN SEC 20 TN 29 RN | *** Owner and Taxpa | yer *** | | | \$2,007.18 | |
| *2520 COMO AVE *Ward: 4 *Pending as of: 8/24/2021 | | Total Assessment: This Payment: Current Year Principa Current Year Interest: Payoff Amount: | | | yment: ·Year Principal: ·Year Interest: | | |
| Jason Ricco Margaret Ricco 2464 Como Ave | ST ANTHONY PARK NORTH SUBJ TO COMO AVE THE SELY 25 FT OF LOT 2 AND ALL OF LOT 3 BLK 9 | Street Sweeping - Com Alley Sweeping Citywide Street Lightin | | 1.04 0.14 0.58 | 75.00 75.00 75.00 | \$78.00 \$10.50 \$43.50 | 20-29-23-24-0009 |
| St Paul MN 55108-1458 *2464 COMO AVE | | *** Owner and Taxpa | yer *** | | | \$132.00 | |
| *Ward: 4 *Pending as of: 8/24/2021 | | Total Assessment: This Payment: Current Year Principal: Current Year Interest: Payoff Amount: | | | | \$132.00 \$0.00 \$0.00 \$0.00 \$132.00 | |
| Patricia J Lull 2458 Como Ave St Paul MN 55108-1458 *2458 COMO AVE | ST ANTHONY PARK NORTH EX NELY 7 FT FOR AVE LOT 4 BLK 9 | Street Sweeping - Com Alley Sweeping Citywide Street Lightin *** Owner and Taxpa | ng | 1.04 0.14 0.58 | 50.00 50.00 50.00 | \$52.00 \$7.00 \$29.00 \$88.00 | 20-29-23-24-0010 |
| *Ward: 4 *Pending as of: 8/24/2021 | | Owner and Taxpa | Total Assessi | | | \$88.00 \$0.00 | |
| | | | Current Year Current Year | Principal: Interest: | | \$0.00 \$0.00 | |
| | | | Payoff Amou | unt: | | \$88.00 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by F | PID (Fee to Asmt) Ratification Date: | Project: 202 Resolution | | Assmt: 210025 | Manager: LMR | Page 49 |
|----------------------------|----------------------------------------------------------------------|---------------------------------------|----------------------------|------------------|-----------------|----------------|--------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| David L Gilbertson | ST ANTHONY PARK NORTH PART OF | Street Sweeping - Com | mercial/Art | 1.04 | 79.00 | \$82.16 | 20-29-23-24-0014 |
| Kathryn R Gilbertson | LOT 29 E OF A L RUN N AT RA FROM S L THEREOF AND FROM PT THEREON | Alley Sweeping | | 0.14 | 61.50 | \$8.61 | |
| 2434 Como Ave | 35 FT FROM MOST ELY COR OF SD | Citywide Street Lightin | ıg | 0.58 | 79.00 | \$45.82 | |
| St Paul MN 55108-1458 | LOT AND SUBJ TO COMO AVE AND EX NWLY 20 FT LOT 8 AND ALL OF | *** Owner and Taxpay | ··· *** | | | \$136.59 | |
| *2434 COMO AVE *Ward: 4 | | Owner and Taxpay | | | | | |
| *Pending as of: 8/24/2021 | | | Total Assess | | | \$136.59 | |
| Fending as 61: 8/24/2021 | | | This Paymen | | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$136.59 | |
| David L Gilbertson | ST ANTHONY PARK NORTH EX NELY | Street Sweeping - Com | mercial/Art | | | \$52.00 | |
| Kathryn R Gilbertson | 7 FT FOR AVE LOT 10 BLK 9 | Alley Sweeping | | 0.14 | 50.00 | \$7.00 | |
| 2434 Como Ave | | Citywide Street Lightin | ıg | 0.58 | 50.00 | \$29.00 | |
| St Paul MN 55108-1458 | | | | | - | \$88.00 | |
| *2434 COMO AVE | | *** Owner and Taxpay | er *** | | | | |
| *Ward: 4 | | | Total Assess | ment: | - | \$88.00 | |
| *Pending as of: 8/24/2021 | | This Payment: Current Year Principal: | | | | \$0.00 | |
| | | | | | | \$0.00 | |
| | | | Current Year | r Interest: | | \$0.00 | |
| | | Payoff Ar | | unt: | | \$88.00 | |
| | ST ANTHONY PARK NORTH SUBJ TO | Street Sweeping - Com | mercial/Art | | | <u>\$52.00</u> | |
| Cassandra Siekman | COMO AVE PART NWLY OF A L BEG | Alley Sweeping | | 0.14 | 55.00 | \$7.70 | 20-27-25-24-0017 |
| 2420 Como Ave | AT E COR OF LOT 12 TH SWLY TO PT ON S L OF AND 60 FT E FROM W COR | Citywide Street Lightin | ıg | 0.58 | 50.00 | \$29.00 | |
| St Paul MN 55108-1458 | OF LOT 12 OF SD LOT 12 BLK 9 | | | | _ | \$88.70 | |
| *2420 COMO AVE | | *** Owner and Taxpay | er *** | | | | |
| *Ward: 4 | | | Total Assess | ment: | = | \$88.70 | |
| *Pending as of: 8/24/2021 | | | This Paymen | nt: | | \$0.00 | |
| | | | Current Year | r Principal: | | \$0.00 | |
| | | | Current Year | r Interest: | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$88.70 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Ratification Date: | Project: 2021 Resolution #: | | Assmt: 210025 | Manager: LMR | Page 49 |
|-----------------------------------------|---------------------------------------------------------------------|--------------------------------------|--------------------------------|------------|-----------------|--------------|--------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Janet Ann Crosby | ST ANTHONY PARK NORTH SUBJ TO | Street Sweeping - Comr | mercial/Art | 1.04 | 102.00 | \$106.08 | 20-29-23-24-0018 |
| Lawrence H Crosby | COMO AVE THE FOL PART SELY OF A L BEG AT E COR OF LOT 12 TH SWLY | Alley Sweeping | | 0.14 | 137.00 | \$19.18 | |
| 2416 Como Ave | TO PT ON S L OF AND 60 FT E FROM | Citywide Street Lighting | g | 0.58 | 102.00 | \$59.16 | |
| St Paul MN 55108-1458 *2416 COMO AVE | W COR OF SD LOT OF LOT 12 AND ALL OF LOT 13 BLK 9 | *** Owner and Taxpayo | *** Owner and Taxpayer *** | | | \$184.42 | |
| *Ward: 4 | | | Total Assessm | ent: | - | \$184.42 | |
| *Pending as of: 8/24/2021 | | | This Payment: | | | \$0.00 | |
| | | | Current Year F | Principal: | | \$0.00 | |
| | | | Current Year I | nterest: | | \$0.00 | |
| | | | Payoff Amour | nt: | | \$184.42 | |
| Charles W Avoles | ST ANTHONY PARK NORTH EX NELY | Street Sweeping - Com | mercial/Art | 1.04 | 96.00 | | |
| Marjorie A Avoles | 7 FT FOR AVE LOTS 14 AND LOT 15 | Street Sweeping - Resid | | 0.41 | 65.50 | \$26.86 | 20-23-23-24-0013 |
| 2325 Buford Ave | BLK 9 | Citywide Street Lighting | | 0.58 | 161.50 | \$93.67 | |
| St Paul MN 55108-1642 | | | | | _ | \$220.37 | |
| *2325 BUFORD AVE | | *** Owner and Taxpayo | er *** | | | , | |
| *Ward: 4 | | | Total Assessm | ent: | - | \$220.37 | |
| *Pending as of: 8/24/2021 | | | This Payment: | | | \$0.00 | |
| | | | Current Year P | Principal: | | \$0.00 | |
| | | | Current Year I | nterest: | | \$0.00 | |
| | | | Payoff Amour | nt: | | \$220.37 | |
| | ST ANTHONY PARK NORTH LOT 16 | Street Sweeping - Resid | lential Stree | 0.41 | | \$20.50 | <u> </u> |
| 2331 Buford Ave | BLK 9 | Alley Sweeping | | 0.14 | 50.00 | \$7.00 | 20-27-23-24-0020 |
| St Paul MN 55108-1642 | | Citywide Street Lighting | g | 0.58 | 50.00 | \$29.00 | |
| *2331 BUFORD AVE | | | | | _ | \$56.50 | |
| *Ward: 4 | | *** Owner and Taxpayo | er *** | | | | |
| *Pending as of: 8/24/2021 | | | Total Assessm | ent: | - | \$56.50 | |
| | | | This Payment: | | | \$0.00 | |
| | | | Current Year F | Principal: | | \$0.00 | |
| | | | Current Year I | nterest: | | \$0.00 | |
| | | | Payoff Amour | nt: | | \$56.50 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Ratification Date: | Project: 202 | | Assmt: 210025 | Manager: LMR | Page 493 |
|---------------------------------------------------|---------------------------------------|----------------------------------------------------------------------|----------------|----------------------|-------------------------|------------------------------|------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Nicholas G Hasslen Anne C Hasslen 2375 Buford Ave | ST ANTHONY PARK NORTH LOT 25 BLK 9 | Street Sweeping - Resid Alley Sweeping Citywide Street Lightin | | 0.41 0.14 0.58 | 50.00 50.00 50.00 | \$20.50 \$7.00 \$29.00 | 20-29-23-24-0029 |
| St Paul MN 55108-1642 *2375 BUFORD AVE | | *** Owner and Taxpay | er *** | | - | \$56.50 | |
| *Ward: 4 | | | Total Assessi | ment: | | \$56.50 | |
| *Pending as of: 8/24/2021 | | | This Paymen | t: | | \$0.00 | |
| | | | Current Year | • | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amou | unt: | | \$56.50 | |
| John David Wilson Trustee | ST ANTHONY PARK NORTH LOT 26 | Street Sweeping - Resid | dential Stree | 0.41 | | \$20.50 | 20-29-23-24-0030 |
| 2364 Buford Ave | BLK 9 | Alley Sweeping | | 0.14 | 50.00 | \$7.00 | |
| St Paul MN 55108-1659 | | Citywide Street Lightin | ıg | 0.58 | 50.00 | \$29.00 | |
| *2381 BUFORD AVE *Ward: 4 | | *** Owner and Taxpay | er *** | | | \$56.50 | |
| *Pending as of: 8/24/2021 | | | Total Assessi | ment: | = | \$56.50 | |
| | | | This Paymen | | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Current Year | _ | | \$0.00 | |
| | | | Payoff Amou | unt: | | \$56.50 | |
| William William | ST ANTHONY PARK NORTH LOT 27 | Street Sweeping - Resid | | | | | |
| William Winget | BLK 9 | Alley Sweeping - Resid | dential Street | 0.41 | 50.00 | \$38.93 \$7.00 | 20-29-23-24-0031 |
| Audrey T Ohlig 2385 Buford Ave | | Citywide Street Lightin | ıg | 0.58 | 95.00 | \$55.10 | |
| St Paul MN 55108-1642 | | ,, | -6 | | _ | \$101.05 | |
| *2385 BUFORD AVE | | *** Owner and Taxpay | er *** | | | \$101.03 | |
| *Ward: 4 | | | Total Assessi | ment: | - | \$101.05 | |
| *Pending as of: 8/24/2021 | | | This Paymen | | | \$0.00 | |
| | | | Current Year | Principal: | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amou | unt: | | \$101.05 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by l | PID (Fee to Asmt) Ratification Date: | Project: 20 Resolution | | Assmt: 210025 | Manager: LMR | Page 494 |
|-------------------------------------------|---------------------------------------------------|--------------------------------------|---------------------------|--------------|-----------------|--------------------|------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Kevin Johnson Allison Rykken | ST ANTHONY PARK NORTH W 145 FT OF LOT 29 BLK 9 | Street Sweeping - Resid | | 0.41 | 50.00 | \$20.50 \$29.00 | 20-29-23-24-0034 |
| 1466 Brompton St St Paul MN 55108-1623 | | *** Owner and Taxpaye | er *** | | _ | \$49.50 | |
| *1466 BROMPTON ST | | | Total Assess | ment: | | \$49.50 | |
| *Ward: 4 | | | This Paymer | nt: | | \$0.00 | |
| *Pending as of: 8/24/2021 | | | Current Yea | r Principal: | | \$0.00 | |
| | | | Current Yea | | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$49.50 | |
| | ST ANTHONY PARK NORTH LOT 30 | Street Sweeping - Resid | ential Stree | | | | <u> </u> |
| 49389 323rd Ave | BLK 9 | Alley Sweeping | | 0.14 | 84.00 | \$11.76 | 20-27-23-24-0033 |
| Cass Lake MN 56633-3299 | | Citywide Street Lighting | g | 0.58 | 50.00 | \$29.00 | |
| *1470 BROMPTON ST | | | | | _ | \$61.26 | |
| *Ward: 4 | | *** Owner and Taxpaye | er *** | | | | |
| *Pending as of: 8/24/2021 | | | Total Assess | sment: | | \$61.26 | |
| | | | This Paymer | nt: | | \$0.00 | |
| | | | Current Yea | r Principal: | | \$0.00 | |
| | | | Current Yea | | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$61.26 | |
| | ST ANTHONY PARK NORTH SUBJ TO | Street Sweeping - Resid | ential Stree | | | | 20-29-23-24-0039 |
| Carol R Stinar | ESMT THE S 10 FT OF LOT 2 AND ALL | Alley Sweeping | | 0.14 | 60.00 | \$8.40 | 20-27-23-24-0037 |
| 2445 Como Ave | OF LOT 3 BLK 10 | Citywide Street Lighting | g | 0.58 | 60.00 | \$34.80 | |
| St Paul MN 55108-1459 | | | | | _ | \$67.80 | |
| *1487 FULHAM ST | | *** Owner and Taxpaye | er *** | | | | |
| *Ward: 4 | | | Total Assess | ment: | | \$67.80 | |
| *Pending as of: 8/24/2021 | | | This Paymer | nt: | | \$0.00 | |
| | | | Current Yea | r Principal: | | \$0.00 | |
| | | | Current Yea | r Interest: | | \$0.00 | |

\$67.80

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Ratification Date: | Project: 2021 Resolution # | | Assmt: 210025 | Manager: LMR | Page 495 |
|-----------------------------------------------|-------------------------------------------------------------------|------------------------------------------------------------------------|---------------------------------|----------------------|-------------------------|------------------------------|------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Josepth T Stinar Carol R Stinar 2445 Como Ave | ST ANTHONY PARK NORTH EX S 5 FT LOT 4 BLK 10 | Street Sweeping - Reside Alley Sweeping Citywide Street Lighting | | 0.41 0.14 0.58 | 45.00 45.00 45.00 | \$18.45 \$6.30 \$26.10 | 20-29-23-24-0040 |
| St Paul MN 55108-1459 *1481 FULHAM ST | | *** Owner and Taxpaye | er *** | | _ | \$50.85 | |
| *Ward: 4 *Pending as of: 8/24/2021 | | | Total Assessm | | | \$50.85 | |
| | | | This Payment: Current Year I | | | \$0.00 \$0.00 | |
| | | | Current Year I | | | \$0.00 | |
| | | | Payoff Amou | nt: | | \$50.85 | |
| | ST ANTHONY PARK NORTH EX SWLY | Street Sweeping - Comn | mercial/Art | | | | |
| 657 Fairview Ave S | 7 FT FOR AVE LOTS 7 AND LOT 8 | Alley Sweeping | | 0.14 | 23.00 | \$3.22 | 20-27-23-24-0043 |
| St Paul MN 55116-5297 | BLK 10 | Citywide Street Lighting | 3 | 0.58 | 105.00 | \$60.90 | |
| *1455 FULHAM ST *Ward: 4 | | *** Owner and Taxpaye | er *** | | _ | \$173.32 | |
| *Pending as of: 8/24/2021 | | | Total Assessm | nent: | | \$173.32 | |
| | | | This Payment: | : | | \$0.00 | |
| | | | Current Year I | Principal: | | \$0.00 | |
| | | | Current Year I | | | \$0.00 | |
| | | | Payoff Amou | nt: | | \$173.32 | |
| Kristin M Anderson | ST ANTHONY PARK NORTH SUBJ TO | Street Sweeping - Comn | mercial/Art | 1.04 | | | |
| 1377 Grantham St | ESMTS; PART, SELY OF THE FOL LINE; BEG AT INTERSECTION OF | Alley Sweeping | | 0.14 | 80.00 | \$11.20 | |
| St Paul MN 55108-1418 | SELY LINE OF LOT 11 & AVE AS | Citywide Street Lighting | g | 0.58 | 80.00 | \$46.40 | |
| *2417 COMO AVE | WIDENED; TH NW ALONG SD AVE 30.16 FT; TH NE TO A POINT ON NELY | | | | | \$140.80 | |
| *Ward: 4 | 50.1011, III NE TO AT ORVI ON NEET | *** Owner and Taxpaye | er *** | | | | |
| *Pending as of: 8/24/2021 | | | Total Assessm | | | \$140.80 | |
| | | | This Payment: | | | \$0.00 | |
| | | | Current Year I | | | \$0.00 | |
| | | | Current Year I | | | \$0.00 \$140.80 | |
| | | | Payoff Amoun | nt. | | \$140.00 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by l | PID (Fee to Asmt) Ratification Date: | Project: 202 Resolution # | | Assmt: 210025 | Manager: LMR | Page 49 |
|------------------------------|----------------------------------------------------------------|--------------------------------------|------------------------------|------------|-----------------|--------------|--------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Catherine G Anderson Trustee | ST ANTHONY PARK NORTH SUBJ TO | Street Sweeping - Com | mercial/Art | 1.04 | 70.00 | \$72.80 | 20-29-23-24-0048 |
| 1377 Grantham St | ESMTS, THAT PART OF LOT 11 NWLY OF THE FOL LINE; BEG AT THE | Alley Sweeping | | 0.14 | 79.00 | \$11.06 | |
| St Paul MN 55108-1418 | INTER- SECTION OF SELY LINE OF SD | Citywide Street Lightin | ıg | 0.58 | 70.00 | \$40.60 | |
| *2423 COMO AVE *Ward: 4 | LOT & AVE AS WIDENED TH NW ALONG SD AVE 30.16 FT TH NE TO A | *** Owner and Taxpay | er *** | | | \$124.46 | |
| *Pending as of: 8/24/2021 | | | Total Assessn | nent: | - | \$124.46 | |
| | | | This Payment | :: | | \$0.00 | |
| | | | Current Year | Principal: | | \$0.00 | |
| | | | Current Year | Interest: | | \$0.00 | |
| | | | Payoff Amou | int: | | \$124.46 | |
| | ST ANTHONY PARK NORTH EX SWLY | Street Sweeping - Com | — — — — mercial/Art | 1.04 | <u> 49.00</u> | | <u> </u> |
| Lynn M Kopel | 7 FT FOR AVE LOT 13 BLK 10 | Alley Sweeping | | 0.14 | 53.00 | \$7.42 | 20 27 28 21 0017 |
| 2431 Como Ave | | Citywide Street Lightin | g | 0.58 | 49.00 | \$28.42 | |
| St Paul MN 55108-1459 | | | | | _ | \$86.80 | |
| *2431 COMO AVE | | *** Owner and Taxpay | er *** | | | | |
| *Ward: 4 | | | Total Assessm | nent: | - | \$86.80 | |
| *Pending as of: 8/24/2021 | | This Payment: | | | | \$0.00 | |
| | | | Current Year Principal: | | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amou | int: | | \$86.80 | |
| | ST ANTHONY PARK NORTH EX SWLY | Street Sweeping - Com | mercial/Art | | | | 20-29-23-24-0052 |
| Lisa C Griffin | 7 FT FOR AVE LOT 16 BLK 10 | Alley Sweeping | | 0.14 | 54.00 | \$7.56 | 20 27 20 21 0002 |
| 2443 Como Ave | | Citywide Street Lightin | g | 0.58 | 50.00 | \$29.00 | |
| St Paul MN 55108-1459 | | | | | - | \$88.56 | |
| *2443 COMO AVE | | *** Owner and Taxpay | er *** | | | | |
| *Ward: 4 | | | Total Assessn | nent: | | \$88.56 | |
| *Pending as of: 8/24/2021 | | | This Payment | :: | | \$0.00 | |
| | | | Current Year | Principal: | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amou | ınt: | | \$88.56 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | | roject: 2021SMSP Resolution #: | Assmt: 210025 | Manager: LMR | Page 498 |
|----------------------------------------------------------------|------------------------------------------------------------------|-------------------------------------------------------------------------|-----------------------------------|-----------------|------------------------------|--------------------|
| Owner or Taxpayer | Property Description | Item Description | <u>Unit Rate</u> | Quantity | Charge Amts | Property ID |
| Katherine L Hawley 2326 Hendon Ave St Paul MN 55108-1453 | ST ANTHONY PARK NORTH LOT 24 BLK 10 | Street Sweeping - Residen Alley Sweeping Citywide Street Lighting | 0.41 0.14 0.58 | | \$20.50 \$8.96 \$29.00 | 20-29-23-24-0059 |
| *2326 HENDON AVE *Ward: 4 | | *** Owner and Taxpayer ' | *** | _ | \$58.46 | |
| *Pending as of: 8/24/2021 | | T | otal Assessment: | | \$58.46 | |
| | | T | his Payment: | | \$0.00 | |
| | | C | urrent Year Principal: | | \$0.00 | |
| | | C | Current Year Interest: | | \$0.00 | |
| | | P | ayoff Amount: | | \$58.46 | |
| Christian A Jacobsen | ST ANTHONY PARK NORTH SUBJ TO | Street Sweeping - Comme | | | | <u> </u> |
| Allison M Jacobsen | COMO AVE THE NWLY 20 FT OF LOT | Alley Sweeping | 0.14 | | \$26.11 | 20-23-23-24-0001 |
| 2438 Como Ave | 8 AND EX NWLY 15 LOT 7 & EX 35 FT MEASURED AT RA FROM S L AND | Citywide Street Lighting | 0.58 | | \$31.90 | |
| St Paul MN 55108-1458 | ERX W 145 FT LOT 29 AND EX W 145 | | | _ | \$115.21 | |
| *2438 COMO AVE | FT LOT 28 BLK 9 | *** Owner and Taxpayer ' | *** | | ψ113.21 | |
| *Ward: 4 | | T | otal Assessment: | - | \$115.21 | |
| *Pending as of: 8/24/2021 | | T | his Payment: | | \$0.00 | |
| | | C | urrent Year Principal: | | \$0.00 | |
| | | C | urrent Year Interest: | | \$0.00 | |
| | | P | ayoff Amount: | | \$115.21 | |
| State Of Mn Trust Exempt | ST ANTHONY PARK NORTH VAC | Street Sweeping - Residen | | | | |
| Ramsey Co Tax Forf Land | BUFORD AVE ADJ AND ALL OF VAC | Citywide Street Lighting | 0.58 | | \$1,229.60 | ***EXEMPT*** |
| Po Box 64097 | ALLEYSADJ AND LOTS 3 THRU LOT 22 BLK 8 AND ALL OF BLK 24 | , , | | | \$2,098.80 | EXEMITION |
| St Paul MN 55164-0097 | 22 BEK 6 AND ALL OF BEK 24 | *** Owner and Taxpayer ' | *** | | Ψ2,070.00 | |
| *1499 BROMPTON ST | | T | otal Assessment: | - | \$2,098.80 | |
| *Ward: 4 | | T | his Payment: | | \$0.00 | |
| *Pending as of: 8/24/2021 | | C | urrent Year Principal: | | \$0.00 | |
| | | C | urrent Year Interest: | | \$0.00 | |
| | | P | ayoff Amount: | | \$2,098.80 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Ratification Date: | Project: 202 | | Assmt: 210025 | Manager: LMR | Page 499 |
|---------------------------------------------------------------------|---------------------------------------|----------------------------------------------------------------------|---------------|----------------------|-------------------------|------------------------------|------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Mary Mills Wilson Trustee John David Wilson Trustee 2364 Buford Ave | ST ANTHONY PARK NORTH LOT 2 BLK 23 | Street Sweeping - Resid Alley Sweeping Citywide Street Lightin | | 0.41 0.14 0.58 | 50.00 50.00 50.00 | \$20.50 \$7.00 \$29.00 | 20-29-23-31-0003 |
| St Paul MN 55108-1659 *2364 BUFORD AVE | | *** Owner and Taxpay | ver *** | | _ | \$56.50 | |
| *Ward: 4 | | 1 3 | Total Assessi | ment: | | \$56.50 | |
| *Pending as of: 8/24/2021 | | | This Paymen | t: | | \$0.00 | |
| | | | Current Year | • | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amou | unt: | | \$56.50 | |
| | ST ANTHONY PARK NORTH LOT 4 | Street Sweeping - Resid | dential Stree | | | <u> </u> | 20-29-23-31-0005 |
| 2374 Buford Ave | BLK 23 | Alley Sweeping | | 0.14 | 50.00 | \$7.00 | 20-27-23-31-0003 |
| St Paul MN 55108-1659 | | Citywide Street Lightin | ıg | 0.58 | 50.00 | \$29.00 | |
| *2374 BUFORD AVE | | | | | _ | \$56.50 | |
| *Ward: 4 | | *** Owner and Taxpay | er *** | | _ | | |
| *Pending as of: 8/24/2021 | | | Total Assessi | ment: | | \$56.50 | |
| | | | This Paymen | t: | | \$0.00 | |
| | | | Current Year | Principal: | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amou | unt: | | \$56.50 | |
| | ST ANTHONY PARK NORTH LOT 5 | Street Sweeping - Resid | dential Stree | | | | <u> </u> |
| 2651 Zinnia Dr | BLK 23 | Alley Sweeping | | 0.14 | 50.00 | \$7.00 | 20-27-23-31-0000 |
| Reno NV 89512-1633 | | Citywide Street Lightin | ıg | 0.58 | 50.00 | \$29.00 | |
| *2380 BUFORD AVE | | | | | | \$56.50 | |
| *Ward: 4 | | *** Owner and Taxpay | er *** | | | · | |
| *Pending as of: 8/24/2021 | | | Total Assessi | ment: | | \$56.50 | |
| | | | This Paymen | t: | | \$0.00 | |
| | | | Current Year | Principal: | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amou | unt: | | \$56.50 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by l | PID (Fee to Asmt) Ratification Date: | Project: 20 Resolution | | Assmt: 210025 | Manager: LMR | Page 500 |
|---------------------------------------------|-----------------------------------------|--------------------------------------|---------------------------|--------------|-----------------|--------------|------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Vanina Orezzoli | ST ANTHONY PARK NORTH LOT 6 | Street Sweeping - Resi | dential Stree | 0.41 | 100.00 | \$41.00 | 20-29-23-31-0007 |
| 2386 Buford Ave | BLK 23 | Alley Sweeping | | 0.14 | 50.00 | \$7.00 | |
| St Paul MN 55108-5200 | | Citywide Street Lightin | ng | 0.58 | 100.00 | \$58.00 | |
| *2386 BUFORD AVE | | | | | _ | \$106.00 | |
| *Ward: 4 | | *** Owner and Taxpa | yer *** | | | | |
| *Pending as of: 8/24/2021 | | | Total Assess | ment: | | \$106.00 | |
| | | | This Paymer | nt: | | \$0.00 | |
| | | | Current Yea | r Principal: | | \$0.00 | |
| | | | Current Yea | r Interest: | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$106.00 | |
| | ST ANTHONY PARK NORTH LOT 9 | Street Sweeping - Resi | idential Street | | | | |
| Christine Anne Jones | BLK 23 | Alley Sweeping - Kesi | dential Silet | 0.41 | 50.00 | \$7.00 | 20-29-23-31-0010 |
| 2373 Valentine Ave St Paul MN 55108-1648 | | Citywide Street Lightin | ng | 0.58 | 50.00 | \$29.00 | |
| *2373 VALENTINE AVE | | enj wat salve zigini | 6 | 0.00 | = | \$56.50 | |
| *Ward: 4 | | *** Owner and Taxpa | yer *** | | | \$30.30 | |
| *Pending as of: 8/24/2021 | | | Total Assess | sment: | | \$56.50 | |
| | | | This Paymer | nt: | | \$0.00 | |
| | | | Current Yea | | | \$0.00 | |
| | | | Current Yea | r Interest: | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$56.50 | |
| | ST ANTHONY PARK NORTH EX ELY 7 | Street Sweeping - Com | | 1.04 | | | <u> </u> |
| Lisa Hackwith | FT FOR AVE LOT 2 BLK 22 | Citywide Street Lightin | | 0.58 | 50.00 | \$29.00 | 20-29-23-31-0013 |
| 2382 Como Ave | | | C | | _ | \$81.00 | |
| St Paul MN 55108-1457 | | *** Owner and Taxpa | yer *** | | | \$61.00 | |
| *2382 COMO AVE | | | Total Assess | sment: | - | \$81.00 | |
| *Ward: 4 | | | This Paymer | nt: | | \$0.00 | |
| *Pending as of: 8/24/2021 | | | Current Yea | r Principal: | | \$0.00 | |
| | | | Current Yea | r Interest: | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$81.00 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Ratification Date: | Project: 202 Resolution # | | Assmt: 210025 | Manager: LMR | Page 501 |
|----------------------------|---------------------------------------|--------------------------------------|------------------------------|------------|-----------------|----------------|------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Natalie Ruotsinoja Durk | ST ANTHONY PARK NORTH SUBJ TO | Street Sweeping - Comm | mercial/Art | 1.04 | 50.00 | \$52.00 | 20-29-23-31-0018 |
| 2366 Como Ave | AVE LOT 5 BLK 22 | Alley Sweeping | | 0.14 | 50.00 | \$7.00 | |
| St Paul MN 55108-1457 | | Citywide Street Lighting | g | 0.58 | 50.00 | \$29.00 | |
| *2366 COMO AVE *Ward: 4 | | *** Owner and Taxpaye | er *** | | | \$88.00 | |
| *Pending as of: 8/24/2021 | | | Total Assessr | ment: | | \$88.00 | |
| | | | This Payment | t: | | \$0.00 | |
| | | | Current Year | Principal: | | \$0.00 | |
| | | | Current Year | Interest: | | \$0.00 | |
| | | | Payoff Amou | ınt: | | \$88.00 | |
| Christopher V Johnson | ST ANTHONY PARK NORTH LOT 15 | Street Sweeping - Resid | – – – – ential Stree | | | | |
| 2355 Valentine Ave | BLK 22 | Alley Sweeping | onium Survi | 0.14 | 50.00 | \$7.00 | 20-29-23-31-0023 |
| St Paul MN 55108-1646 | | Citywide Street Lighting | g | 0.58 | 100.00 | \$58.00 | |
| *2355 VALENTINE AVE | | | | | _ | \$106.00 | |
| *Ward: 4 | | *** Owner and Taxpaye | er *** | | | | |
| *Pending as of: 8/24/2021 | | | Total Assessr | ment: | | \$106.00 | |
| | | | This Payment | t: | | \$0.00 | |
| | | | Current Year | Principal: | | \$0.00 | |
| | | | Current Year | Interest: | | \$0.00 | |
| | | | Payoff Amou | ınt: | | \$106.00 | |
| Richard C Nelson | ST ANTHONY PARK NORTH LOT 17 | Street Sweeping - Resid | ential Stree | | | <u>\$20.50</u> | <u> </u> |
| 2348 Buford Av | BLK 22 | Alley Sweeping | | 0.14 | 50.00 | \$7.00 | 20-29-23-31-0027 |
| St Paul MN 55108-1643 | | Citywide Street Lighting | g | 0.58 | 50.00 | \$29.00 | |
| *2348 BUFORD AVE | | | | | _ | \$56.50 | |
| *Ward: 4 | | *** Owner and Taxpaye | er *** | | | | |
| *Pending as of: 8/24/2021 | | | Total Assessr | ment: | - | \$56.50 | |
| | | | This Payment | t: | | \$0.00 | |
| | | | Current Year | Principal: | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amou | ınt: | | \$56.50 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date: | | Project: 2021SMSP Resolution #: | | Assmt: 210025 | Manager: LMR | Page 50 |
|----------------------------------------------|----------------------------------------------------------------------------|------------------------------------------------------|------------------------------------|--------------|-----------------|--------------------|--------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Barbara S Sibley | ST ANTHONY PARK NORTH LOT 19 | Street Sweeping - Reside | ential Stree | 0.41 | 50.00 | \$20.50 | 20-29-23-31-0029 |
| 2340 Buford Ave | BLK 22 | Alley Sweeping | | 0.14 | 50.00 | \$7.00 | |
| St Paul MN 55108-1643 | | Citywide Street Lighting | g | 0.58 | 50.00 | \$29.00 | |
| *2340 BUFORD AVE | | | | | - | \$56.50 | |
| *Ward: 4 | | *** Owner and Taxpaye | er *** | | | | |
| *Pending as of: 8/24/2021 | | | Total Assessme | ent: | | \$56.50 | |
| | | | This Payment: | | | \$0.00 | |
| | | | Current Year P | Principal: | | \$0.00 | |
| | | | Current Year I | nterest: | | \$0.00 | |
| | | | Payoff Amour | ıt: | | \$56.50 | |
| | | | | | | | |
| Nicholas T Goodier | ST ANTHONY PARK NORTH E 50 FT OF LOTS 5 AND LOT 6 BLK 25 | Street Sweeping - Reside | | 0.41 0.58 | 80.00 80.00 | \$32.80 \$46.40 | 20-29-23-31-0036 |
| Molly C Goodier | or golden and gold of golden go | Citywide Street Lighting | 3 | 0.58 | 80.00 | | |
| 2391 Chilcombe Ave | | | | | | \$79.20 | |
| St Paul MN 55108-1629 | | *** Owner and Taxpaye | er *** | | | | |
| *2391 CHILCOMBE AVE | | | Total Assessm | ent: | | \$79.20 | |
| *Ward: 4 | | | This Payment: | | | \$0.00 | |
| *Pending as of: 8/24/2021 | | | Current Year P | Principal: | | \$0.00 | |
| | | | Current Year I | nterest: | | \$0.00 | |
| | | | Payoff Amour | nt: | | \$79.20 | |
| | | | - | | | | |
| Traci Leigh Warnberg Lemm | ST ANTHONY PARK NORTH W 50 FT OF LOTS 5 AND LOT 6 BLK 25 | Street Sweeping - Reside Citywide Street Lighting | | 0.41 0.58 | 50.00 | \$20.50 | 20-29-23-31-0038 |
| 2401 Chilcombe Ave | | Citywide Street Lighting | 3 | 0.58 | 50.00 | \$29.00 | |
| St Paul MN 55108-1629 *2401 CHILCOMBE AVE | | *** Owner and Taxpaye | er *** | | | \$49.50 | |
| *Ward: 4 | | | Total Assessm | ent: | <u>.</u> | \$49.50 | |
| *Pending as of: 8/24/2021 | | | This Payment: | | | \$0.00 | |
| | | | Current Year P | | | \$0.00 | |
| | | | Current Year I | _ | | \$0.00 | |
| | | | Payoff Amour | ıt• | | \$49.50 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Ratification Date: | Project: 202 Resolution | | Assmt: 210025 | Manager: LMR | Page 503 |
|---------------------------------------------|---------------------------------------------------------------|--------------------------------------|-------------------------|------------------|-----------------|--------------------|------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Kenton M Baur Elizabeth R Baur | ST ANTHONY PARK NORTH E 50 FT OF LOTS 7 8 AND LOT 9 BLK 25 | Street Sweeping - Resid | | 0.41 0.58 | 50.00 | \$20.50 \$29.00 | 20-29-23-31-0039 |
| 2407 Chilcombe Ave St Paul MN 55108-1629 | | *** Owner and Taxpayer *** | | | | \$49.50 | |
| *2407 CHILCOMBE AVE *Ward: 4 | | Total Assessment: | | | | \$49.50 | |
| | | This Payment: | | | | | |
| *Pending as of: 8/24/2021 | | | Current Year | Principal: | | \$0.00 | |
| | | | Current Year | \$0.00 | | | |
| | | | Payoff Amou | \$49.50 | | | |
| | ST ANTHONY PARK NORTH W 50 FT | Street Sweeping - Resid | lential Stree | | | | |
| Summer Martins | OF LOTS 7 8 AND LOT 9 BLK 25 | Citywide Street Lighting | | 0.58 | 105.00 | \$60.90 | 20-27-23-31-0041 |
| 2417 Chilcombe Ave | | | | | | \$103.95 | |
| St Paul MN 55108-1629 | | *** Owner and Taxpayer *** | | | | | |
| *2417 CHILCOMBE AVE | | | Total Assessi | ment: | - | \$103.95 | |
| *Ward: 4 *Pending as of: 8/24/2021 | | This Payment: | | | | | |
| | | | Current Year | | \$0.00 | | |
| | | | Current Year | - | | \$0.00 | |
| | | | Payoff Amou | unt: | | \$103.95 | |
| | ST ANTHONY PARK NORTH S 40 FT | Street Sweeping - Resid | | | | | |
| Barry W Riesch | OF LOTS 1 AND LOT 2 BLK 26 | Citywide Street Lighting | | 0.41 | 48.00 | \$27.84 | 20-29-23-31-0043 |
| 2251 Knapp St St Paul MN 55108-1908 | | City wide Succe Lighting | · b | 0.50 | = | | |
| *1389 KESTON ST | | *** Owner and Taxpayer *** | | | | \$47.52 | |
| *Ward: 4 | | | | \$47.52 | | | |
| *Pending as of: 8/24/2021 | | This Payment: | | | | | \$0.00 |
| | | | Principal: | | \$0.00 | | |
| | | Current Year Interest: | | | | \$0.00 | |
| | | Payoff Amount: | | | | \$47.52 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date: | | Project: 2021SMSP Resolution #: | | Assmt: 210025 | Manager: LMR | Page 504 |
|------------------------------------------------------------------|----------------------------------------------------------------------------------------------------------------------------------------------------------------------------------|-----------------------------------------------------------------------------------------------|--------------------------------------------------------------------------------|------------------|-----------------|---------------------------------------------------------|------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Elizabeth Flinsch 2374 Valentine Ave St Paul MN 55108-1647 | ST ANTHONY PARK NORTH LOT 6 BLK 26 | Street Sweeping - Res Citywide Street Lighti | | 0.41 0.58 | 50.00 | \$20.50 \$29.00 \$49.50 | 20-29-23-31-0048 |
| *2374 VALENTINE AVE | | *** Owner and Taxpayer *** | | | | \$49.30 | |
| *Ward: 4 *Pending as of: 8/24/2021 | | | Total Assessment: This Payment: Current Year Principal: | | | \$49.50 \$0.00 \$0.00 | |
| | | | Current Yea Payoff Amo | | | \$0.00 \$49.50 | |
| Zachary Johnston Cassie Johnston | ST ANTHONY PARK NORTH SUBJ TO ESMTS; LOT 10 BLK 26 | Street Sweeping - Res Citywide Street Lighti | | 0.41 0.58 | 50.00 | \$20.50 \$29.00 | 20-29-23-31-0052 |
| 2379 Chilcombe Ave St Paul MN 55108-1627 | | *** Owner and Taxpayer *** | | | | \$49.50 | |
| *Ward: 4 *Pending as of: 8/24/2021 | | Total Assessment: This Payment: Current Year Principal: Current Year Interest: Payoff Amount: | | | | \$49.50 \$0.00 \$0.00 \$0.00 \$49.50 | |
| Nicole A Treptau Bastian Treptau 2333 Chilcombe Ave | ST ANTHONY PARK NORTH PART OF LOTS 17 AND 18 WLY OF A L RUN FROM A PT ON S L OF AND 10 FT FROM SW COR OF LOT 18 TO A PT ON N L OF AND 28 6/10 FT FROM NW COR OF SD LOT 17 BLK 26 | Street Sweeping - Res Citywide Street Lighti | ing | 0.41 0.58 | 60.00 | \$24.60 \$34.80 \$59.40 | 20-29-23-31-0059 |
| St Paul MN 55108-1627 *2333 CHILCOMBE AVE | | *** Owner and Taxpa | Total Assessment: This Payment: Current Year Principal: Current Year Interest: | | | \$59.40 | |
| *Ward: 4 *Pending as of: 8/24/2021 | | | | | | \$0.00 \$0.00 \$0.00 | |
| | | Current year Interest: | | | | \$0.00 | |

\$59.40

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Ratification Date: | Project: 202 | | Assmt: 210025 | Manager: LMR | Page 50 |
|-------------------------------------------|----------------------------------------------------------------|------------------------------------------------------|------------------------------|------------------|-----------------|--------------------|--------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Dean A Current Kimberly M Current | ST ANTHONY PARK NORTH ELY 10 FT OF LOT 13 AND ALL OF LOT 12 | Street Sweeping - Residence Citywide Street Lighting | | 0.41 | 60.00 | \$24.60 \$34.80 | 20-29-23-31-0061 |
| 2295 Doswell Ave St Paul MN 55108-1637 | BLK 27 | *** Owner and Taxpay | /er *** | | = | \$59.40 | |
| *2295 DOSWELL AVE | | Owner and Taxpay | | | | 050.40 | |
| *Ward: 4 | | | Total Assessi This Paymen | | | \$59.40 \$0.00 | |
| *Pending as of: 8/24/2021 | | | Current Year | | | \$0.00 | |
| | | | Current Year | - | | \$0.00 | |
| | | | Payoff Amou | | | \$59.40 | |
| | ST ANTHONY PARK NORTH PART OF | Street Sweeping - Resid | | | | | |
| Jamin Omalley Damara Omalley | CHILCOMBE AVE VAC ELY OF WLY L | Citywide Street Lightin | | 0.41 | 70.00 | \$40.60 | 20-29-23-31-0062 |
| 2303 Doswell Ave | OF LOT 14 PRODUCED TO DOSWELL | enj wae su eet Lightin | -6 | 0.00 | | \$69.30 | |
| St Paul MN 55108-1637 | AVE AND FOL EX ELY 10 FT LOT 13 AND ALL OF LOT 14 BLK 27 | *** Owner and Taxpay | /er *** | | | \$09.30 | |
| *2303 DOSWELL AVE | | 1 7 | | | | | |
| *Ward: 4 | | | Total Assessi | | | \$69.30 | |
| *Pending as of: 8/24/2021 | | | This Paymen | | | \$0.00 \$0.00 | |
| _ | | | Current Year | - | | \$0.00 \$0.00 | |
| | | | Payoff Amou | | | \$69.30 | |
| | | | | | | | |
| Roger Alan Christensen Jr | ST ANTHONY PARK NORTH LOT 16 | Street Sweeping - Resid | | 0.41 | 50.00 | \$20.50 | 20-29-23-31-0068 |
| Sharon Ann Christensen | BLK 27 | Citywide Street Lightin | ng | 0.58 | 50.00 | \$29.00 | |
| 1374 Keston St | | | | | | \$49.50 | |
| St Paul MN 55108-1634 | | *** Owner and Taxpay | /er *** | | | | |
| *1374 KESTON ST | | | Total Assessi | ment: | | \$49.50 | |
| *Ward: 4 | | | This Paymen | t: | | \$0.00 | |
| *Pending as of: 8/24/2021 | | | Current Year | Principal: | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amou | unt: | | \$49.50 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Ratification Date: | Project: 2021SMSP Resolution #: | | Assmt: 210025 | 25 Manager: LMR | Page 500 |
|---------------------------|--------------------------------------------------------------------|---------------------------------------|------------------------------------|------------------|-----------------|-----------------|------------------|
| Owner or Taxpayer | Property Description | Item Description | <u>]</u> | <u>Unit Rate</u> | Quantity | Charge Amts | Property ID |
| Amy J Lundell Tr | ST ANTHONY PARK NORTH PART OF | Street Sweeping - Reside | ential Stree | 0.41 | 50.00 | \$20.50 | 20-29-23-31-0071 |
| 1388 Keston St | LOT 19 SLY OF A L RUN FROM A PT ON ELY L OF AND 17 FT FROM NELY | Alley Sweeping | | 0.14 | 50.00 | \$7.00 | |
| St Paul MN 55108-1634 | COR THEREOF TO NWLY COR OF SD | Citywide Street Lighting | | 0.58 | 50.00 | \$29.00 | |
| *1388 KESTON ST | LOT 19 BLK 27 | *** Owner and Taxpayer | . *** | | | \$56.50 | |
| *Ward: 4 | | • | | | | | |
| *Pending as of: 8/24/2021 | | | Total Assessme | ent: | | \$56.50 | |
| | | | This Payment: | | | \$0.00 | |
| | | • | Current Year P | rincipal: | | \$0.00 | |
| | | | Current Year Ir | | | \$0.00 | |
| | | 1 | Payoff Amoun | ıt: | | \$56.50 | |
| | ST ANTHONY PARK NORTH LOT 22 | Street Sweeping - Reside | ential Stree | 0.41 | | \$22.96 | <u> </u> |
| Nanci A Yermakoff | BLK 27 | Alley Sweeping | | 0.14 | 144.25 | \$20.20 | 20-23-23-31-00/4 |
| 2330 Valentine Ave | | Citywide Street Lighting | i | 0.58 | 56.00 | \$32.48 | |
| St Paul MN 55108-1645 | | | | | | \$75.64 | |
| *2330 VALENTINE AVE | | *** Owner and Taxpayer | r *** | | | | |
| *Ward: 4 | | ; | Total Assessme | ent: | - | \$75.64 | |
| *Pending as of: 8/24/2021 | | • | This Payment: | | | \$0.00 | |
| | | • | Current Year P | rincipal: | | \$0.00 | |
| | | | Current Year Ir | nterest: | | \$0.00 | |
| | |] | Payoff Amoun | ıt: | | \$75.64 | |
| | ST ANTHONY PARK NORTH LOT 23 | Street Sweeping - Reside | ential Stree | 0.41 | | | |
| Amy K Zaske | BLK 27 | Citywide Street Lighting | | 0.58 | 56.00 | \$32.48 | 20-29-23-31-00/3 |
| 2324 Valentine Ave | | , | | | _ | \$55.44 | |
| St Paul MN 55108-1645 | | *** Owner and Taxpayer | r *** | | | | |
| *2324 VALENTINE AVE | | ; | Total Assessme | ent: | | \$55.44 | |
| *Ward: 4 | | • | This Payment: | | | \$0.00 | |
| *Pending as of: 8/24/2021 | | • | Current Year P | rincipal: | | \$0.00 | |
| | | • | Current Year Ir | nterest: | | \$0.00 | |
| | |] | Payoff Amoun | ıt: | | \$55.44 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Ratification Date: | Project: 20 Resolution | | Assmt: 210025 | Manager: LMR | Page 508 |
|---------------------------|---------------------------------------|--------------------------------------|---------------------------|--------------|-----------------|--------------|--------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Ronald G Taylor | ST ANTHONY PARK NORTH LOT 4 | Street Sweeping - Resid | lential Stree | 0.41 | 50.00 | \$20.50 | 20-29-23-31-0081 |
| Joan R Taylor | BLK 28 | Alley Sweeping | | 0.14 | 50.00 | \$7.00 | |
| 1353 Brompton St | | Citywide Street Lighting | g | 0.58 | 50.00 | \$29.00 | |
| St Paul MN 55108-1621 | | | | | _ | \$56.50 | |
| *1353 BROMPTON ST | | *** Owner and Taxpay | er *** | | | | |
| *Ward: 4 | | | Total Assess | sment: | | \$56.50 | |
| *Pending as of: 8/24/2021 | | | This Paymer | nt: | | \$0.00 | |
| | | | Current Yea | r Principal: | | \$0.00 | |
| | | | Current Yea | r Interest: | | \$0.00 | |
| | | | Payoff Amo | ount: | | \$56.50 | |
| Takeshi Onizuka | ST ANTHONY PARK NORTH E 1/2 OF | Street Sweeping - Resid | lential Stree | | | | |
| Naoko Onizuka | LOTS 5 6 AND LOT 7 BLK 28 | Citywide Street Lighting | | 0.58 | 108.50 | \$62.93 | 20-27-23-31-0002 |
| 1341 Brompton St | | | | | _ | \$107.42 | |
| St Paul MN 55108-1660 | | *** Owner and Taxpay | er *** | | | Ψ10,2 | |
| *1341 BROMPTON ST | | | Total Assess | sment: | - | \$107.42 | |
| *Ward: 4 | | | This Paymer | nt: | | \$0.00 | |
| *Pending as of: 8/24/2021 | | | Current Yea | r Principal: | | \$0.00 | |
| | | | Current Yea | r Interest: | | \$0.00 | |
| | | | Payoff Amo | ount: | | \$107.42 | |
| Robert J Maresh | ST ANTHONY PARK NORTH LOT 2 | Street Sweeping - Resid | | | | | |
| 2328 Chilcombe Ave | BLK 29 | Alley Sweeping | iciiiai Siicc | 0.41 | 50.00 | \$7.00 | 20-29-23-31-0092 |
| St Paul MN 55108-1626 | | Citywide Street Lighting | g | 0.58 | 50.00 | \$29.00 | |
| *2328 CHILCOMBE AVE | | | C | | _ | \$56.50 | |
| *Ward: 4 | | *** Owner and Taxpay | er *** | | | \$30.30 | |
| *Pending as of: 8/24/2021 | | | Total Assess | sment: | - | \$56.50 | |
| | | | This Paymer | | | \$0.00 | |
| | | | Current Yea | | | \$0.00 | |
| | | | Current Yea | _ | | \$0.00 | |
| | | | Payoff Amo | ount: | | \$56.50 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date: | | Project: 2021SMSP Resolution #: | | Assmt: 210025 | 5 Manager: LMR | Page 509 |
|-----------------------------------------------------------|----------------------------------------------------------------------------|------------------------------------------------------------------------|------------------------------------------------|----------------------|-------------------------|------------------------------|--------------------|
| Owner or Taxpayer | Property Description | Item Description | <u>1</u> | Unit Rate | Quantity | Charge Amts | Property ID |
| Michael S Brasel Hilary R Brasel 2334 Chilcombe Ave | ST ANTHONY PARK NORTH LOT 3 BLK 29 | Street Sweeping - Reside Alley Sweeping Citywide Street Lighting | | 0.41 0.14 0.58 | 50.00 50.00 50.00 | \$20.50 \$7.00 \$29.00 | 20-29-23-31-0093 |
| St Paul MN 55108-1626 *2334 CHILCOMBE AVE | | *** Owner and Taxpayer | r *** | | _ | \$56.50 | |
| *Ward: 4 *Pending as of: 8/24/2021 | | | Total Assessme | ent: | | \$56.50 | |
| Pending as 01: 8/24/2021 | | | This Payment: | | | \$0.00 | |
| | | | Current Year P | _ | | \$0.00 | |
| | | | Current Year In Payoff Amoun | | | \$0.00 \$56.50 | |
| | OT ANYHONY PURY YORTH OT 7 | Cturat Commission Deside | | | | | |
| Scott William Barrick | ST ANTHONY PARK NORTH LOT 7 BLK 29 | Street Sweeping - Reside Alley Sweeping | ential Stree | 0.41 0.14 | 50.00 50.00 | \$20.50 \$7.00 | 20-29-23-31-0097 |
| 2360 Chilcombe Ave St Paul MN 55108-1626 | | Citywide Street Lighting | | 0.58 | 50.00 | \$29.00 | |
| *2360 CHILCOMBE AVE | | , , | | | = | \$56.50 | |
| *Ward: 4 | | *** Owner and Taxpayer | r *** | | | φ50.50 | |
| *Pending as of: 8/24/2021 | | • | Total Assessme | ent: | - | \$56.50 | |
| | | | This Payment: | | | \$0.00 | |
| | | | Current Year Principal: Current Year Interest: | | | \$0.00 | |
| | | | | | | \$0.00 | |
| | | | Payoff Amoun | it: | | \$56.50 | |
| | ST ANTHONY PARK NORTH LOT 11 | Street Sweeping - Reside | ential Stree | 0.41 | | | <u> </u> |
| 2386 Chilcombe Ave | BLK 29 | Alley Sweeping | | 0.14 | 50.00 | \$7.00 | 20-27-25-51-0101 |
| St Paul MN 55108-1626 | | Citywide Street Lighting | | 0.58 | 100.00 | \$58.00 | |
| *2386 CHILCOMBE AVE | | | | | - | \$106.00 | |
| *Ward: 4 | | *** Owner and Taxpayer | r *** | | | | |
| *Pending as of: 8/24/2021 | | | Total Assessme | ent: | - | \$106.00 | |
| | | | This Payment: | | | \$0.00 | |
| | | | Current Year Pr | | | | |
| | | | Current Year Ir | | \$0.00 | | |
| | | | Payoff Amoun | it: | | \$106.00 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Ratification Date: | Project: 202 | | Assmt: 210025 | Manager: LMR | Page 510 |
|-----------------------------------------------------------------------------------------------------------------|----------------------------------------------------|------------------------------------------------------------------------------------------|-----------------------------|--------------------------|----------------------------|-------------------------------------------------------------------------------------|-------------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Nicholas C Thomey Katherine R Thomey 2383 Doswell Ave | ST ANTHONY PARK NORTH LOT 12 BLK 29 | Street Sweeping - Res Alley Sweeping Citywide Street Light | | 0.41 0.14 0.58 | 110.00 50.00 110.00 | \$45.10 \$7.00 \$63.80 | 20-29-23-31-0102 |
| St Paul MN 55108-1630 | | *** Owner and Taxpay | ···· *** | | _ | \$115.90 | |
| *2383 DOSWELL AVE | | Owner and Taxpay | | | | | |
| *Ward: 4 *Pending as of: 8/24/2021 | | | Total Assess | | | \$115.90 | |
| reliding as of. 6/24/2021 | | | This Paymen | | | \$0.00 | |
| | | | Current Year | • | | \$0.00 | |
| | | | Current Year Payoff Amor | | | \$0.00 \$115.90 | |
| Richard L Hotchkiss 2375 Doswell Ave St Paul MN 55108-1630 *2375 DOSWELL AVE *Ward: 4 *Pending as of: 8/24/2021 | ST ANTHONY PARK NORTH LOTS 13 AND LOT 14 BLK 29 | Street Sweeping - Resident Alley Sweeping Citywide Street Lighting *** Owner and Taxpay | ng | nt: Principal: Interest: | 101.00 100.00 101.00 | \$41.41 \$14.00 \$58.58 \$113.99 \$0.00 \$0.00 \$0.00 \$113.99 | 20-29-23-31-0103 |
| James G Kolb 2365 Doswell Ave St Paul MN 55108-1630 *2365 DOSWELL AVE *Ward: 4 | ST ANTHONY PARK NORTH LOT 16 BLK 29 | Street Sweeping - Resident Alley Sweeping Citywide Street Lighting *** Owner and Taxpay | ng | 0.41 0.14 0.58 | 50.00 50.00 50.00 | \$20.50 \$7.00 \$29.00 \$56.50 | <u>20-29-23-31-0105</u> |
| *Ward: 4 *Pending as of: 8/24/2021 | | Owner and Taxpay | | | - | | |
| 1 chaing as of. 0/27/2021 | | | Total Assess | | | \$56.50 | |
| | | | This Paymen Current Year | | | \$0.00 | |
| | | | Current Year Current Year | _ | | \$0.00 \$0.00 | |
| | | | Payoff Amor | | | \$56.50 | |
| | | | rayon Amo | | | ψ50.50 | |

\$39.60

\$54.52

\$53.46

\$194.04

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Ratification Date: | Project: 202 Resolution | | Assmt: 210025 | Manager: LMR | Page 518 |
|------------------------------------------------------|---------------------------------------------------------------------------------------------------------------|-------------------------------------------------|----------------------------|--------------|------------------|----------------------|--------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| 280 Business Center Llc 415 Royalston Ave Suite B | ST. ANTHONY PARK WEST SUBJ TO ESMT & VAC ST AND ALLEY ACCRUING & FOL; EX N 98.5 FT; E | Street Sweeping - Cor Citywide Street Lighti | | 1.04 0.58 | 818.00 818.00 | \$850.72 \$474.44 | 20-29-23-32-0033 |
| Minneapolis MN 55405-1508 *2475 DOSWELL AVE | 31.6 FT OF LOT 14 BLK 5 & EX N 98.5 FT; LOTS 15 THRU 22 BLK 5 & E 31.6 FT OF LOTS 13 AND LOT 14 BLK 8 & | *** Owner and Taxpa | yer *** | | | \$1,325.16 | |
| *Ward: 4 | | | Total Assess | ment: | | \$1,325.16 | |
| *Pending as of: 8/24/2021 | | | This Paymer | nt: | | \$0.00 | |
| | | | Current Year | r Principal: | | \$0.00 | |
| | | | Current Year | r Interest: | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$1,325.16 | |
| Northern Pacific Ry Co | SECTION 20 TOWN 29 RANGE 23 A | Street Sweeping - Con | mmercial/Art | | | | |
| C/O Bnsf Ry Co Prop Tax Dept | TRIANGULAR TRACT IN NE COR OF | Street Sweeping - Res | | 0.41 | 290.00 | \$118.90 | 20-27-23-33-0004 |
| Po Box 961089 | W 1/2 OF NW 1/4 OF SEC 29 AND A 200 FT R/W ACROSS S 1/2 OF SW 1/4 | Citywide Street Lighti | | 0.58 | 505.00 | \$292.90 | |
| Fort Worth TX 76161-0089 *2501 KASOTA AVE | OF SEC 2O SUBJ TO KASOTA AVE AND HWY 28O ALL IN SEC 20 TN 29 | *** Owner and Taxpa | yer *** | | = | \$635.40 | |
| *Ward: 4 | | | Total Assess | ment: | - | \$635.40 | |
| *Pending as of: 8/24/2021 | | | This Paymer | nt: | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Current Year | r Interest: | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$635.40 | |
| Pcs For People | SUBJ TO HWY 280 LOT 7 AND ALL OF | Street Sweeping - Con | — — — - nmercial/Art | | | | |
| 1481 Marshall Ave | LOTS 8 THRU LOT 12 BLK 11 ST | Citywide Street Lighti | | 0.58 | 339.00 | \$196.62 | 20-29-23-33-0018 |
| St Paul MN 55104-6316 | ANTHONY WEST AND IN SD ROBINS ADDITION LOT 1 BLK 1 | | | | = | \$549.18 | |
| *2492 DOSWELL AVE | ADDITION EOT I BEKT | *** Owner and Taxpa | yer *** | | | ψ547.10 | |
| *Ward: 4 | | | Total Assess | ment: | | \$549.18 | |
| *Pending as of: 8/24/2021 | | | This Paymer | nt: | | \$0.00 | |
| | | | Current Year | r Principal: | | \$0.00 | |
| | | | Current Year | r Interest: | | \$0.00 | |

\$549.18

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Ratification Date: | Project: 20 Resolution | | Assmt: 210025 | Manager: LMR | Page 520 |
|-------------------------------------|---------------------------------------|------------------------------------------------|---------------------------|--------------|-----------------|--------------------|--------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Jill M Berg Driscoll | ST ANTHONY PARK NORTH LOT 17 BLK 30 | Street Sweeping - Res | | 0.41 | 50.00 | \$20.50 \$29.00 | 20-29-23-34-0008 |
| Joseph C Driscoll 2383 Bourne Av | | Citywide Street Light | ung | 0.38 | 50.00 | • | |
| St Paul MN 55108-1618 | | *** Owner and Taxpa | ayer *** | | | \$49.50 | |
| *2383 BOURNE AVE | | | Total Assess | sment: | - | \$49.50 | |
| *Ward: 4 | | | This Payme | | | \$0.00 | |
| *Pending as of: 8/24/2021 | | | Current Yea | | | \$0.00 | |
| | | | Current Yea | - | | \$0.00 | |
| | | | Payoff Amo | ount: | | \$49.50 | |
| Christopher Winter | ST ANTHONY PARK NORTH LOT 15 | Street Sweeping - Res | sidential Stree | | | | |
| Deena Winter | BLK 30 | Citywide Street Light | | 0.58 | 50.00 | \$29.00 | 20-27-23-34-0010 |
| 2375 Bourne Ave | | | | | = | \$49.50 | |
| St Paul MN 55108-1618 | | *** Owner and Taxpa | ayer *** | | | | |
| *2375 BOURNE AVE | | | Total Assess | sment: | - | \$49.50 | |
| *Ward: 4 | | | This Payme | | | \$0.00 | |
| *Pending as of: 8/24/2021 | | Current Year Principal: Current Year Interest: | | | | \$0.00 | |
| | | | | | | \$0.00 | |
| | | | Payoff Amo | ount: | | \$49.50 | |
| | ST ANTHONY PARK NORTH LOT 14 | Street Sweeping - Res | sidential Stree | | | | |
| 2369 Bourne Ave | BLK 30 | Citywide Street Light | | 0.58 | 50.00 | \$29.00 | 20-27-23-34-0011 |
| St Paul MN 55108-1636 | | | | | _ | \$49.50 | |
| *2369 BOURNE AVE | | *** Owner and Taxpa | ayer *** | | | | |
| *Ward: 4 | | | Total Assess | sment: | - | \$49.50 | |
| *Pending as of: 8/24/2021 | | | This Payme | nt: | | \$0.00 | |
| | | | Current Yea | r Principal: | | \$0.00 | |
| | | | Current Yea | r Interest: | | \$0.00 | |
| | | | Payoff Amo | ount: | | \$49.50 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by I | PID (Fee to Asmt) Ratification Date: | Project: 20 Resolution | | Assmt: 210025 | Manager: LMR | Page 52 |
|--------------------------------------------------------------|-------------------------------------------------------------------------------------------------------------------------------------|-----------------------------------------|---------------------------|--------------|-----------------|--------------|--------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Christina A Brophy | ST ANTHONY PARK NORTH BEG ON | Street Sweeping - Res | | 0.41 | 50.00 | \$20.50 | 20-29-23-34-0013 |
| 2361 Bourne Ave | S L OF LOT 11 AND 2 FT FROM SW COR THEREOF TH TO A PT ON N L OF | Citywide Street Light | ting | 0.58 | 50.00 | \$29.00 | |
| St Paul MN 55108-1618 *2361 BOURNE AVE | LOT 12 AND 4 49/100 FT FROM NE COR THEREOF TH W TO A PT ON N L OF LOT 13 AND 4 49/100 FT FROM NE | *** Owner and Taxpa | ayer *** | | _ | \$49.50 | |
| *Ward: 4 | OF LOT 13 AND 4 49/100 F1 FROM NE | | Total Assess | ment: | - | \$49.50 | |
| *Pending as of: 8/24/2021 | | | This Paymer | nt: | | \$0.00 | |
| | | | Current Yea | r Principal: | | \$0.00 | |
| | | | Current Yea | r Interest: | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$49.50 | |
| Star Flowers Strane | ST ANTHONY PARK NORTH PART OF | Street Sweeping - Res | sidential Stree | | | | |
| 2355 Bourne Ave St Paul MN 55108-1618 *2355 BOURNE AVE | LOTS 11 AND 12 ELY OF A L RUN | Citywide Street Light | | 0.58 | 48.00 | \$27.84 | 20 27 20 01 0011 |
| | FROM A PT ON N L OF SD LOT 12 AND 4 49/100 FT FROM NE COR THEREOF TO A PT ON S L OF SD LOT 11 AND 2 FT FROM SW COR OF SD LOT 11 BLK | *** Owner and Taxpa | ayer *** | | _ | \$47.52 | |
| *Ward: 4 | TTTROMOW COR OF SD EOT TI BER | | Total Assess | ment: | | \$47.52 | |
| *Pending as of: 8/24/2021 | | | This Paymer | nt: | | \$0.00 | |
| | | | Current Year Principal: | | | \$0.00 | |
| | | | Current Yea | r Interest: | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$47.52 | |
| | ST ANTHONY PARK NORTH LOT 10 | Street Sweeping - Res | sidential Stree | | | | |
| 2351 Bourne Ave | BLK 30 | Citywide Street Light | | 0.58 | 50.00 | \$29.00 | 20-27-23-34-0013 |
| St Paul MN 55108-1618 *2351 BOURNE AVE | | *** Owner and Taxpa | aver *** | | _ | \$49.50 | |
| *Ward: 4 | | o wher and ramp | | | - | | |
| *Pending as of: 8/24/2021 | | | Total Assess | | | \$49.50 | |
| | | | This Paymer | | | \$0.00 | |
| | | | Current Yea | | | \$0.00 | |
| | | | Current Yea | | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$49.50 | |

\$56.50

\$55.94

| Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date: | | Project: 2021SMSP Resolution #: | | Assmt: 210025 | ş | Page 52 |
|----------------------------------------------------------------------------|--------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------|------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------|---------------------------------------------------------|------------------------------------------------------|----------------------------------------------------------|----------------------|
| Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| ST ANTHONY PARK NORTH LOT 14 BLK 39 | Alley Sweeping | | 0.41 0.14 0.58 | 51.00 41.00 51.00 | \$20.91 \$5.74 \$29.58 | 20-29-23-34-0068 |
| | *** Owner and Taxpay | er *** | | | \$56.23 | |
| | | | | | \$56.23 | |
| | | • | | | \$0.00 \$0.00 | |
| | | | | | \$0.00 \$56.23 | |
| ST ANTHONY PARK NORTH LOT 17 | | lential Stree | 0.41 | 102.00 | <u>\$41.82</u> | |
| BLK 39 | | g | 0.14 0.58 | 80.00 102.00 | \$11.20 \$59.16 | |
| | *** Owner and Taxpay | er *** | | _ | \$112.18 | |
| | | | | | \$112.18 | |
| | | - | | | \$0.00 \$0.00 | |
| | | | | | \$0.00 \$112.18 | |
| | | 1 ayon 7 moo | | | \$112.10 | |
| ST ANTHONY PARK NORTH NWLY OUADRANGULAR PART | | | 0.41 | 73.00 | \$29.93 | 20-29-23-34-0074 |
| MEASURING 69 3/10 FT ON NELY L | Citywide Street Lightin | g | 0.58 | 73.00 | | |
| AND LOT 2 BLK 41 | *** Owner and Taxpay | er *** | | | 4 , - . - , | |
| | | | | - | \$72.27 | |
| | | | | | \$0.00 | |
| | | | _ | | | |
| | | Current Year | interest: | | \$0.00 | |
| | ST ANTHONY PARK NORTH LOT 17 BLK 39 ST ANTHONY PARK NORTH LOT 17 BLK 39 ST ANTHONY PARK NORTH NWLY QUADRANGULAR PART MEASURING 69 3/10 FT ON NELY L AND 114 FT ON SWLY L OF LOTS 1 | Ratification Date: Item Description ST ANTHONY PARK NORTH LOT 14 BLK 39 ST ANTHONY PARK NORTH LOT 17 BLK 39 ST ANTHONY PARK NORTH LOT 17 BLK 39 ST ANTHONY PARK NORTH LOT 17 BLK 39 ST ANTHONY PARK NORTH NWLY QUADRANGULAR PART MEASURING 69 3/10 FT ON NELY L AND 114 FT ON SWLY L OF LOTS 1 | Ratification Date: Resolution # Property Description | Ratification Date: Resolution #: Item Description | Ratification Date: Resolution #: Property Description | Property Description |

\$29.70

\$75.74

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by l | PID (Fee to Asmt) Ratification Date: | Project: 20 Resolution | | Assmt: 210025 | Manager: LMR | Page 53 |
|-------------------------------------------|------------------------------------------------------------------------------------------------------|--------------------------------------|---------------------------|--------------|-----------------|-------------------|--------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Matthew D Engelhardt | ST ANTHONY PARK NORTH EX WLY | Street Sweeping - Resid | | 0.41 | 50.00 | \$20.50 | 20-29-23-34-0101 |
| Allyce K Fisk | QUADRANGULAR PART MEASURING 50 FT ON N L AND 26 FT | Citywide Street Lightin | ng | 0.58 | 50.00 | \$29.00 | |
| 2362 Carter Ave | ON S L LOT 29 BLK 41 | | | | _ | \$49.50 | |
| St Paul MN 55108-1624 | | *** Owner and Taxpay | /er *** | | | | |
| *2362 CARTER AVE | | | Total Assess | sment: | | \$49.50 | |
| *Ward: 4 | | | This Paymer | nt: | | \$0.00 | |
| *Pending as of: 8/24/2021 | | | Current Year | - | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amo | ount: | | \$49.50 | |
| — — — — — — — Naima Oujjilal | ST ANTHONY PARK NORTH S 1/2 VAC | Street Sweeping - Resid | dential Streε | | | | |
| Aicam Laacouri | ALLEY ADJ AND LOT 11 BLK 42 | Citywide Street Lightin | ng | 0.58 | 58.00 | \$33.64 | |
| 2327 Hillside Ave | | | | | _ | \$57.42 | |
| St Paul MN 55108-1613 | | *** Owner and Taxpay | er *** | | | | |
| *2327 HILLSIDE AVE | | | Total Assess | ment: | - | \$57.42 | |
| *Ward: 4 | | | This Paymer | nt: | | \$0.00 | |
| *Pending as of: 8/24/2021 | | | Current Year | r Principal: | | \$0.00 | |
| | | | Current Year | r Interest: | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$57.42 | |
| Monte J Husnik Trustee | ST ANTHONY PARK NORTH EX W 10 | | dential Streε | | | | <u> </u> |
| 19900 English Ave | FT PART SLY OF A L BEG ON NELY L | Citywide Street Lightin | | 0.58 | 95.00 | \$55.10 | 20 27 20 01 0111 |
| Farmington MN 55024-8427 *2304 GORDON AVE | OF AND 85 FT NWLY FROM E COR OF LOT 14 TH SWLY TO PT ON SWLY L OF AND 90 FT NWLY FROM S COR OF | *** Owner and Taxpay | /er *** | | _ | \$94.06 | |
| *Ward: 4 | LOT 13 OF SD LOTS 13 AND LOT 14 | 1 3 | | | | 004.06 | |
| *Pending as of: 8/24/2021 | | | Total Assess This Paymer | | | \$94.06 \$0.00 | |
| - | | | Current Year | | | \$0.00 \$0.00 | |
| | | | Current Year | - | | \$0.00 | |
| | | | Payoff Amo | | | \$94.06 | |

\$94.55

\$184.14

\$103.95

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by I | PID (Fee to Asmt) Ratification Date: | Project: 20 Resolution | | Assmt: 210025 | Manager: LMR | Page 536 |
|--------------------------------------------|------------------------------------------------------------------------------------------------------------------------------|-----------------------------------------------------|---------------------------|--------------|-----------------|--------------------|------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Jeffrey D Babineau Julie M Babineau | That Part Lying Ely Of A Line Desc As Fol Comm At The Nw Cor Of Lot 28 Thence Sely Along A Curve Being The N | Street Sweeping - Residence Citywide Street Lightin | | 0.41 | 50.00 | \$20.50 \$29.00 | 20-29-23-34-0149 |
| 1896 St Clair Ave St Paul MN 55105-1645 | Line Of Sd Lot 28 A Dist Of 50.06 Ft To The Pob Thence S 00 Deg 09 Min 01 Sec E 47.61 Ft Thence S 09 Deg 06 Min 35 Sec | *** Owner and Taxpay | ver *** | | | \$49.50 | |
| *2370 CARTER AVE *Ward: 4 | Ç | | Total Assess | sment: | | \$49.50 | |
| *Pending as of: 8/24/2021 | | | This Paymer | | | \$0.00 | |
| 1 cliding as 01. 6/24/2021 | | | Current Year | • | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amo | ount: | | \$49.50 | |
| Dorothy Post Graff | THOSE PARTS OF LOT 4 AND LOT 5 | Street Sweeping - Resid | | | | | 20-29-23-34-0151 |
| 2381 Commonwealth Ave | BLK 41 LYING NELY OF A L DESC AS COMM AT THE SW COR OF SD LOT 5 | Citywide Street Lightin | ıg | 0.58 | 50.00 | \$29.00 | |
| St Paul MN 55108-1605 | TH NELY ALONG SLY L OF SD LOT 4 | | | | _ | \$49.50 | |
| *2381 COMMONWEALTH | AND LOT 5 50 FT TO POB TH NWLY DEFLECTING TO THE LEFT 97 DEG 57 | *** Owner and Taxpay | er *** | | | | |
| AVE | BEFEETING TO THE EER LYT BEG ST | | Total Assess | sment: | | \$49.50 | |
| *Ward: 4 | | | This Paymer | nt: | | \$0.00 | |
| *Pending as of: 8/24/2021 | | | Current Year | r Principal: | | \$0.00 | |
| | | | Current Year | r Interest: | | \$0.00 | |
| | | | Payoff Amo | ount: | | \$49.50 | |
| F Jeffrey Blodgett | GREAVES RE-AR. N I/2 OF VAC | Street Sweeping - Resid | dential Streε | | | | |
| Emily C Blodgett | ALLEY ADJ AND LOT 3 | Citywide Street Lightin | ıg | 0.58 | 60.00 | \$34.80 | |
| 1437 Chelmsford St | | | | | _ | \$59.40 | |
| St Paul MN 55108-1404 | | *** Owner and Taxpay | er *** | | | | |
| *1437 CHELMSFORD ST | | | Total Assess | sment: | - | \$59.40 | |
| *Ward: 4 | | | This Paymer | | | \$0.00 | |
| *Pending as of: 8/24/2021 | | | Current Year | | | \$0.00 | |
| | | | Current Year | r Interest: | | \$0.00 | |

\$59.40

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by l | PID (Fee to Asmt) Ratification Date: | Project: 20 Resolution | | Assmt: 210025 | Manager: LMR | Page 538 |
|---------------------------|--------------------------------------------------------------------------------------------------------|--------------------------------------|---------------------------|------------------|-----------------|--------------|------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Tory L Christensen | ST ANTHONY PARK NORTH ELY 1/2 | Street Sweeping - Res | | 0.41 | 50.00 | \$20.50 | 20-29-23-41-0008 |
| Carrie A Christensen | OF VAC ALLEY ADJ AND LOT 25 BLK 20 | Citywide Street Lighti | ing | 0.58 | 50.00 | \$29.00 | |
| 1397 Chelmsford St | | | | | | \$49.50 | |
| St Paul MN 55108-1404 | | *** Owner and Taxpa | ıyer *** | | _ | | |
| *1397 CHELMSFORD ST | | | Total Assess | sment: | | \$49.50 | |
| *Ward: 4 | | | This Paymer | nt: | | \$0.00 | |
| *Pending as of: 8/24/2021 | | | Current Yea | r Principal: | | \$0.00 | |
| | | | Current Yea | r Interest: | | \$0.00 | |
| | | | Payoff Amo | ount: | | \$49.50 | |
| Michael E Fortier | ST ANTHONY PARK NORTH PART S | Street Sweeping - Res | idential Stree | | | | |
| Julie M H Fortier | AND E OF L RUN 42 37/100 FT W PAR | Citywide Street Lighti | | 0.58 | 88.00 | \$51.04 | 20-29-23-41-0011 |
| 1383 Chelmsford St | WITH AND 12 FT S OF N L OF LOT 23 | , | 8 | | _ | \$87.12 | |
| St Paul MN 55108-1404 | TH SWLY TO PT 27 FT S OF SD N L ON EXTENDED W L OF E 55 FT OF LOT 21 TH S THEREON TO S L OF LOT 21 BLK | *** Owner and Taxpa | nyer *** | | | \$67.12 | |
| *1383 CHELMSFORD ST | | | Total Assess | sment: | <u>-</u> | \$87.12 | |
| *Ward: 4 | | | This Paymer | nt: | | \$0.00 | |
| *Pending as of: 8/24/2021 | | | Current Yea | r Principal: | | \$0.00 | |
| | | | Current Yea | r Interest: | | \$0.00 | |
| | | | Payoff Amo | ount: | | \$87.12 | |
| Antonio M Rosell | ST ANTHONY PARK NORTH N 45 FT | Street Sweeping - Res | sidential Streε | | | | |
| 1410 Chelmsford St | FRONT TO 46 FT REAR MOL OF S 100 | Citywide Street Lighti | | 0.58 | 45.00 | \$26.10 | 20-29-23-41-0019 |
| St Paul MN 55108-1405 | FT FRONT TO 77 16/100 FT RE MOL OF WLY 100 FT MOL AS IN DOC 365 | | | | _ | \$44.55 | |
| *1410 CHELMSFORD ST | TS 167 OF LOT 12 BLK 19 | *** Owner and Taxpa | nyer *** | | | ψ11.33 | |
| *Ward: 4 | | | Total Assess | sment: | | \$44.55 | |
| *Pending as of: 8/24/2021 | | | This Paymer | nt: | | \$0.00 | |
| | | | Current Yea | r Principal: | | \$0.00 | |
| | | | Current Yea | r Interest: | | \$0.00 | |

\$44.55

\$51.48

\$56.50

\$79.10

\$113.00

\$174.47

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Ratification Date: | Project: 20 Resolution | | Assmt: 210025 | Manager: LMR | Page 548 |
|-------------------------------------------------|------------------------------------------------------------------------|----------------------------------------------------------------------|---------------------------------------|----------------------|-------------------------|------------------------------|------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Robert H Craven Deborah A Cran 1336 Raymond Ave | ST ANTHONY PARK NORTH S 15 FT OF LOT 12 AND ALL OF LOT 11 BLK 35 | Street Sweeping - Resid Alley Sweeping Citywide Street Lightin | | 0.41 0.14 0.58 | 65.00 65.00 65.00 | \$26.65 \$9.10 \$37.70 | 20-29-23-41-0092 |
| St Paul MN 55108-1725 *1336 RAYMOND AVE | | *** Owner and Taxpay | /er *** | | _ | \$73.45 | |
| *Ward: 4 *Pending as of: 8/24/2021 | | | Total Assess | | | \$73.45 | |
| Teliding us of: 0/24/2021 | | | This Paymer Current Year | | | \$0.00 \$0.00 | |
| | | | Current Year Payoff Amo | | | \$0.00 \$73.45 | |
| Charles E Christopher | ST ANTHONY PARK NORTH N 45 FT | Street Sweeping - Resid | — — — dential Stree | | | | |
| Tara K Sweeney | OF LOT 13 BLK 35 | Alley Sweeping | | 0.14 | 45.00 | \$6.30 | 20-27-23-41-0074 |
| 1346 Raymond Ave St Paul MN 55108-1725 | | Citywide Street Lightin | ıg | 0.58 | 45.00 | \$26.10 \$50.85 | |
| *1346 RAYMOND AVE | | *** Owner and Taxpay | /er *** | | | <u>.</u> | |
| *Ward: 4 *Pending as of: 8/24/2021 | | | Total Assess | | | \$50.85 | |
| Ü | | | This Paymer Current Year | | | \$0.00 \$0.00 | |
| | | | Current Year Interest: Payoff Amount: | | | \$0.00 \$50.85 | |
| | CT ANTHONY DADY NODTH OT | Street Syraming Dagi | dantial Street | | | | |
| Jared J Standish Cara M Santelli | ST ANTHONY PARK NORTH LOT 1 BLK 36 | Street Sweeping - Resid Alley Sweeping | dential Stree | 0.41 0.14 | 50.00 | \$41.00 \$7.00 | 20-29-23-41-0096 |
| 1357 Raymond Ave | | Citywide Street Lightin | ng | 0.58 | 100.00 | \$58.00 | |
| St Paul MN 55108-1726 *1357 RAYMOND AVE | | *** Owner and Taxpay | /er *** | | | \$106.00 | |
| *Ward: 4 | | - ······- ······- ····· | Total Assess | ment· | <u> </u> | \$106.00 | |
| *Pending as of: 8/24/2021 | | | This Paymer | | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Current Year | r Interest: | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$106.00 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date: | | Project: 202 Resolution | | Assmt: 210025 | Manager: LMR | Page 550 |
|---------------------------|----------------------------------------------------------------------------|--------------------------|-------------------------|------------------|-----------------|--------------|-------------------------|
| Owner or Taxpayer | Property Description | Item Description | | <u>Unit Rate</u> | Quantity | Charge Amts | Property ID |
| Gregory Rathmann | ST ANTHONY PARK NORTH LOT 16 | Street Sweeping - Resid | lential Stree | 0.41 | 50.00 | \$20.50 | 20-29-23-41-0109 |
| Kimberly K Rathmann | BLK 36 | Alley Sweeping | | 0.14 | 50.00 | \$7.00 | |
| 2107 Commonwealth Ave | | Citywide Street Lighting | g | 0.58 | 50.00 | \$29.00 | |
| St Paul MN 55108-1715 | | | | | | \$56.50 | |
| *2107 COMMONWEALTH | | *** Owner and Taxpayo | er *** | | | | |
| AVE | | | Total Assessi | ment: | | \$56.50 | |
| *Ward: 4 | | | This Paymen | t: | | \$0.00 | |
| *Pending as of: 8/24/2021 | | | Current Year | _ | | \$0.00 | |
| | | | Current Year | Interest: | | \$0.00 | |
| | | | Payoff Amou | ınt: | | \$56.50 | |
| | ST ANTHONY PARK NORTH EX ELY | Street Sweeping - Resid | lential Stree | | | <u> </u> | <u> </u> |
| Joseph Sundeen | 83 FT LOTS 1 2 AND LOT 3 BLK 37 | Alley Sweeping | | 0.14 | 152.00 | \$21.28 | 20-27-23-41-0112 |
| 2211 Selby Ave | | Citywide Street Lighting | g | 0.58 | 67.00 | \$38.86 | |
| St Paul MN 55104-5718 | | | | | _ | \$87.61 | |
| *2160 CARTER AVE | | *** Owner and Taxpayo | er *** | | | | |
| *Ward: 4 | | | Total Assessi | ment: | | \$87.61 | |
| *Pending as of: 8/24/2021 | | | This Paymen | t: | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amou | ınt: | | \$87.61 | |
| Thomas M Fafinski | ST ANTHONY PARK NORTH ELY 83 | Street Sweeping - Resid | | | | | <u>20-29-23-41-0113</u> |
| 1287 200th St W | FT OF LOTS 12 AND LOT 3 BLK 37 | Citywide Street Lighting | g | 0.58 | 116.50 | \$67.57 | |
| Farmington MN 55024-9712 | | | | | _ | \$115.34 | |
| *2148 CARTER AVE | | *** Owner and Taxpaye | er *** | | | | |
| *Ward: 4 | | | Total Assessi | ment: | - | \$115.34 | |
| *Pending as of: 8/24/2021 | | | This Paymen | t: | | \$0.00 | |
| | | | Current Year | Principal: | | \$0.00 | |
| | | | Current Year | Interest: | | \$0.00 | |
| | | | Payoff Amou | ınt: | | \$115.34 | |

\$56.50

\$66.33

\$56.43

\$51.48

\$84.26

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Ratification Date: | Project: 2021SMSP A Resolution #: | | Assmt: 210025 | Manager: LMR | Page 556 |
|--------------------------------------------|---------------------------------------|-----------------------------------------|-----------------------------------|------------|-----------------|--------------|------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Deborah M Paulsrud Trustee | ST ANTHONY PARK NORTH SUBJ TO | Street Sweeping - Comm | nercial/Art | 1.04 | 50.00 | \$52.00 | 20-29-23-42-0034 |
| 2334 Como Ave | AVE PART OF ALLEY VAC ADJ AND | Alley Sweeping | | 0.14 | 50.00 | \$7.00 | |
| St Paul MN 55108-1724 | LOT 4 BLK 27 | Citywide Street Lighting | 3 | 0.58 | 50.00 | \$29.00 | |
| *2334 COMO AVE | | | | | _ | \$88.00 | |
| *Ward: 4 | | *** Owner and Taxpaye | er *** | | | | |
| *Pending as of: 8/24/2021 | | | Total Assessi | ment: | | \$88.00 | |
| | | | This Paymen | t: | | \$0.00 | |
| | | | Current Year | Principal: | | \$0.00 | |
| | | | Current Year | Interest: | | \$0.00 | |
| | | | Payoff Amou | unt: | | \$88.00 | |
| | | | | | | | |
| Sarah H Hopkins | ST ANTHONY PARK NORTH PART OF | Street Sweeping - Reside | ential Stree | 0.41 | 54.00 | \$22.14 | 20-29-23-42-0039 |
| Christopher W Hopkins | ALLEY VAC ADJ AND LOT 9 BLK 27 | Alley Sweeping | | 0.14 | 204.00 | \$28.56 | |
| 2281 Doswell Ave | | Citywide Street Lighting | 7 | 0.58 | 54.00 | \$31.32 | |
| St Paul MN 55108-1637 *2281 DOSWELL AVE | | *** Owner and Taxpaye | »r *** | | | \$82.02 | |
| *Ward: 4 | | Owner and Taxpaye | | | | | |
| *Pending as of: 8/24/2021 | | | Total Assessi | | | \$82.02 | |
| Fending as 01. 6/24/2021 | | | This Paymen | | | \$0.00 | |
| | | | Current Year | - | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amou | unt: | | \$82.02 | |
| Lucia A Garino Trustee | ST ANTHONY PARK NORTH LOT 11 | Street Sweeping - Reside | – — — – ential Stree | | | | 20 20 22 42 0041 |
| 2291 Doswell Ave | BLK 27 | Citywide Street Lighting | | 0.58 | 50.00 | \$29.00 | 20-29-23-42-0041 |
| St Paul MN 55108-1637 | | en, was sales Eighning | , | 0.50 | = | | |
| *2291 DOSWELL AVE | | *** Owner and Taxpaye | er *** | | | \$49.50 | |
| *Ward: 4 | | | Total Assessi | ment: | | \$49.50 | |
| *Pending as of: 8/24/2021 | | | This Paymen | t: | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Current Year | Interest: | | \$0.00 | |
| | | | Payoff Amou | unt: | | \$49.50 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date: | | Project: 2021SMSP Resolution #: | | Assmt: 210025 | 5 Manager: LMR | Page 560 |
|--------------------------------------------------------------------|-----------------------------------------------------------------------------|-----------------------------------------------------------------------|------------------------------------|----------------------|----------------------------|-------------------------------|------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Kurt D Bergquist 2601 Knollwood Ct N Maplewood MN 55109-4446 | ST ANTHONY PARK NORTH SWLY 10 FT OF LOT 16 AND ALL OF LOT 17 BLK 31 | Street Sweeping - Resid Alley Sweeping Citywide Street Lighting | | 0.41 0.14 0.58 | 110.00 207.00 110.00 | \$45.10 \$28.98 \$63.80 | 20-29-23-42-0056 |
| *2277 CARTER AVE *Ward: 4 | | *** Owner and Taxpay | er *** | | | \$137.88 | |
| *Pending as of: 8/24/2021 | | | Total Assessr | ment: | - | \$137.88 | |
| | | | This Payment | t: | | \$0.00 | |
| | | | Current Year | Principal: | | \$0.00 | |
| | | | Current Year | Interest: | | \$0.00 | |
| | | | Payoff Amou | int: | | \$137.88 | |
| | EVENSON'S RE-ARRANGEMENT SUBJ | Street Sweeping - Resid | | | | | <u> </u> |
| Karen E Duke | TO ESMTS AND EX ELY 65 FT LOT 2 AND ELY 35 FT OF LOT 3 AND PART | Citywide Street Lighting | | 0.58 | 45.00 | \$26.10 | 20-29-23-42-0037 |
| 2298 Doswell Ave | OF LOT 4 BET ELY AND WLY LINES | | | | _ | \$44.55 | |
| St Paul MN 55108-1636 | OF SD PART OF LOTS 2 AND 3 EXTENDED TO SLY L OF SD LOT 4 | *** Owner and Taxpay | er *** | | | | |
| *2298 DOSWELL AVE | | | Total Assessr | nent: | | \$44.55 | |
| *Ward: 4 | | | This Payment | t: | \$0.00 | | |
| *Pending as of: 8/24/2021 | | | Current Year | Principal: | \$0.00 | | |
| | | | Current Year | Interest: | | \$0.00 | |
| | | | Payoff Amou | int: | | \$44.55 | |
| | | | | | | | |
| Timothy H Kelly | ST ANTHONY PARK NORTH LOT 6 BLK 32 | Street Sweeping - Resid Alley Sweeping | lential Stree | 0.41 0.14 | 50.00 50.00 | \$20.50 \$7.00 | 20-29-23-42-0065 |
| Ayako U Kelly | 521. 32 | Citywide Street Lighting | Œ | 0.14 | 50.00 | \$7.00 \$29.00 | |
| 67 Okuma Nakagusuku | | City wide Street Lighting | B | 0.56 | J0.00 — | | |
| *2196 DOSWELL AVE *Ward: 4 | | *** Owner and Taxpay | er *** | | | \$56.50 | |
| *Pending as of: 8/24/2021 | | | Total Assessr | nent: | | \$56.50 | |
| | | | This Payment | t: | | \$0.00 | |
| | | | Current Year Principal: | | | \$0.00 | |
| | | | Current Year Interest: | | \$0.00 | | |
| | | | Payoff Amou | ınt: | | \$56.50 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Ratification Date: | Project: 202 | | Assmt: 210025 | Manager: LMR | Page 561 |
|---------------------------------------------------|-----------------------------------------------------------------------|----------------------------------------------------------------------|-------------------|----------------------|-------------------------|------------------------------|------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Dwayne E Albrecht Joy E Albrecht 2200 Doswell Ave | ST ANTHONY PARK NORTH LOT 7 BLK 32 | Street Sweeping - Resid Alley Sweeping Citywide Street Lightin | | 0.41 0.14 0.58 | 50.00 50.00 50.00 | \$20.50 \$7.00 \$29.00 | 20-29-23-42-0066 |
| St Paul MN 55108-1703 *2200 DOSWELL AVE | | *** Owner and Taxpay | xpayer *** | | | \$56.50 | |
| *Ward: 4 | | | Total Assess | sment: | - | \$56.50 | |
| *Pending as of: 8/24/2021 | | | This Paymer | nt: | | \$0.00 | |
| | | | Current Year | r Principal: | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$56.50 | |
| | ST ANTHONY PARK NORTH SUBJ TO | Street Sweeping - Resid | lential Streε | | | | <u> </u> |
| Mary Becker | ESMTS; ELY 6 FT OF NLY 64 FT & ELY | Alley Sweeping | | 0.14 | 56.00 | \$7.84 | |
| 2201 Carter Ave | 16 FT OF PART LYING SLY OF NLY 64 FT OF LOT 21 & ALL OF LOT 22 BLK | Citywide Street Lightin | g | 0.58 | 66.00 | \$38.28 | |
| St Paul MN 55108-1710 | 32 | | | | _ | \$73.18 | |
| *2201 CARTER AVE | | *** Owner and Taxpay | er *** | | | | |
| *Ward: 4 | | | Total Assess | ment: | | \$73.18 | |
| *Pending as of: 8/24/2021 | | | This Paymer | nt: | | \$0.00 | |
| | | | Current Year | r Principal: | | \$0.00 | |
| | | | Current Year | r Interest: | | \$0.00 | |
| | | | Payoff Amo | ount: | | \$73.18 | |
| | ST ANTHONY PARK NORTH LOT 24 | Street Sweeping - Resid | lential Streε | | | | <u> </u> |
| 2191 Carter Ave | BLK 32 | Alley Sweeping | | 0.14 | 50.00 | \$7.00 | 20 25 20 12 0075 |
| St Paul MN 55108-1710 | | Citywide Street Lightin | g | 0.58 | 50.00 | \$29.00 | |
| *2191 CARTER AVE | | | | | _ | \$56.50 | |
| *Ward: 4 | | *** Owner and Taxpay | er *** | | | | |
| *Pending as of: 8/24/2021 | | | Total Assess | ment: | - | \$56.50 | |
| | | | This Paymer | nt: | | \$0.00 | |
| | | | Current Year | r Principal: | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$56.50 | |

\$332.10

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date: | | Project: 202 Resolution | | Assmt: 210025 | Manager: LMR | Page 563 |
|-------------------------------------------|-----------------------------------------------------------------------------|-------------------------------------------|-------------------------|--------------|-----------------|-------------------|--------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Ibrahim Isler | ST ANTHONY PARK NORTH LOT 28 | Street Sweeping - Resid | lential Stree | 0.41 | 50.00 | \$20.50 | 20-29-23-42-0091 |
| Hilal Isler | BLK 37 | Alley Sweeping | | 0.14 | 50.00 | \$7.00 | |
| 2184 Carter Ave | | Citywide Street Lighting | g | 0.58 | 50.00 | \$29.00 | |
| St Paul MN 55108-1709 | | | | | | \$56.50 | |
| *2184 CARTER AVE | | *** Owner and Taxpayo | er *** | | | | |
| *Ward: 4 | | | Total Assess | ment: | - | \$56.50 | |
| *Pending as of: 8/24/2021 | | | This Paymer | nt: | | \$0.00 | |
| | | | Current Year | r Principal: | | \$0.00 | |
| | | | Current Year | r Interest: | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$56.50 | |
| | | | | | | | |
| Changquan C Sun | ST ANTHONY PARK NORTH WLY 57 FT OF LOT 3 BLK 32 | Street Sweeping - Resid Alley Sweeping | ientiai Stree | 0.41 0.14 | 60.00 57.00 | \$24.60 \$7.98 | 20-29-23-42-0098 |
| Amy Huei Lin Chen Sun | | Citywide Street Lighting | οr | 0.14 | 60.00 | \$34.80 | |
| 2182 Doswell Ave St Paul MN 55108-1703 | | City wide Street Lighting | В | 0.36 | = | | |
| | | *** Owner and Taxpayo | ar *** | | | \$67.38 | |
| *2182 DOSWELL AVE *Ward: 4 | | Owner and Taxpay | | | - | | |
| *Pending as of: 8/24/2021 | | | Total Assess | | | \$67.38 | |
| rending as of. 8/24/2021 | | | This Paymer | | | \$0.00 | |
| | | | Current Year | - | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$67.38 | |
| | ST ANTHONY PARK NORTH LOT 4 | Street Sweeping - Resid | lential Streε | | | | 20-29-23-42-0099 |
| Ann H Fate | BLK 32 | Alley Sweeping | | 0.14 | 48.00 | \$6.72 | 20 25 28 12 0055 |
| 2186 Doswell Ave | | Citywide Street Lighting | g | 0.58 | 57.00 | \$33.06 | |
| St Paul MN 55108-1703 | | | | | _ | \$63.15 | |
| *2186 DOSWELL AVE | | *** Owner and Taxpayo | er *** | | | | |
| *Ward: 4 | | | Total Assess | ment: | | \$63.15 | |
| *Pending as of: 8/24/2021 | | | This Paymer | nt: | | \$0.00 | |
| | | | Current Year | r Principal: | | \$0.00 | |
| | | | Current Year | r Interest: | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$63.15 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Ratification Date: | Project: 20 Resolution | | Assmt: 210025 | Manager: LMR | Page 564 |
|----------------------------|------------------------------------------------------------|-----------------------------------------|---------------------------|-------------|-----------------|----------------|--------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Stephen K Batalden Trustee | CONDOMINIUM NUMBER 240 | Street Sweeping - Res | sidential Stree | 0.41 | 13.00 | \$5.33 | 20-29-23-42-0100 |
| Sandra L Batalden Trustee | LUTHER PLACE CONDOMINIUM NO 240, LUTHER PLACE CONDOMINIUM. | Citywide Street Light | ing | 0.58 | 13.00 | \$7.54 | |
| 1015 E Laguna Dr | UNIT NO 101 | | | | _ | \$12.87 | |
| Tempe AZ 85282-5549 | | *** Owner and Taxpa | ayer *** | | | | |
| *2250 LUTHER PL 101 | | | Total Assess | sment: | | \$12.87 | |
| *Ward: 4 | | | This Paymer | nt: | | \$0.00 | |
| *Pending as of: 8/24/2021 | | | Current Year Principal: | | | | |
| | | | Current Yea | r Interest: | | \$0.00 | |
| | | | Payoff Amo | ount: | | \$12.87 | |
| | CONDOMINIUM NUMBER 240 | Street Sweeping - Res | idential Stree | | | | <u> </u> |
| Laurie S Hayes | LUTHER PLACE CONDOMINIUM NO | Citywide Street Light | ing | 0.58 | 13.00 | \$7.54 | 20 27 20 12 0101 |
| 172 Law Rd | 240, LUTHER PLACE CONDOMINIUM. UNIT NO 102 | | | | = | \$12.87 | |
| *2250 LUTHER PL 102 | | *** Owner and Taxpa | ayer *** | | | | |
| *Ward: 4 | | | Total Assess | ment: | | \$12.87 | |
| *Pending as of: 8/24/2021 | | | This Paymer | | | \$0.00 | |
| | | | Current Yea | | \$0.00 | | |
| | | Current Year Interest: | | | | \$0.00 | |
| | | | Payoff Amo | ount: | | \$12.87 | |
| Judith S Swanson Trustee | CONDOMINIUM NUMBER 240 | Street Sweeping - Res | — — — | | | | |
| 2250 Luther Pl # 103 | LUTHER PLACE CONDOMINIUM NO | Citywide Street Light | | 0.58 | 13.00 | \$7.54 | 20-29-23-42-0102 |
| St Paul MN 55108-1466 | 240, LUTHER PLACE CONDOMINIUM. UNIT NO 103 | | | | = | \$12.87 | |
| *2250 LUTHER PL 103 | CM1 No 103 | *** Owner and Taxpa | ayer *** | | | ψ12.0 <i>/</i> | |
| *Ward: 4 | | | Total Assess | sment: | - | \$12.87 | |
| *Pending as of: 8/24/2021 | | | This Paymer | | | \$0.00 | |
| | | | Current Yea | | | \$0.00 | |
| | | | Current Yea | • | | \$0.00 | |
| | | | Payoff Amo | ount: | | \$12.87 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Ratification Date: | Project: 202 Resolution # | | Assmt: 210025 | Manager: LMR | Page 50 |
|----------------------------|------------------------------------------------------------|--------------------------------------|----------------------------|------------|-----------------|-------------------|------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Winston P Cavert | CONDOMINIUM NUMBER 240 | Street Sweeping - Resid | dential Stree | 0.41 | 13.00 | \$5.33 | 20-29-23-42-0105 |
| Carol L Witte | LUTHER PLACE CONDOMINIUM NO 240, LUTHER PLACE CONDOMINIUM. | Citywide Street Lightin | g | 0.58 | 13.00 | \$7.54 | |
| 2250 Luther Place Unit 106 | UNIT NO 106 | | | | _ | \$12.87 | |
| St Paul MN 55108-1466 | | *** Owner and Taxpay | er *** | | _ | | |
| *2250 LUTHER PL 106 | | | Total Assessn | nent: | | \$12.87 | |
| *Ward: 4 | | | This Payment | :: | | \$0.00 | |
| *Pending as of: 8/24/2021 | | | Current Year | Principal: | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amou | int: | | \$12.87 | |
| | CONDOMINIUM NUMBER 240 | Street Sweeping - Resid | — — — — lential Stree | | | | |
| Katherine A Eklund | LUTHER PLACE CONDOMINIUM NO | Citywide Street Lightin | | 0.58 | 13.00 | \$7.54 | 20 27 20 12 0100 |
| 2250 Luther Pl Unit 107 | 240, LUTHER PLACE CONDOMINIUM. UNIT NO 107 | | | | _ | \$12.87 | |
| St Paul MN 55108-1466 | | *** Owner and Taxpay | er *** | | | | |
| *2250 LUTHER PL 107 | | | Total Assessn | nent: | - | \$12.87 | |
| *Ward: 4 | | | This Payment | | | \$0.00 | |
| *Pending as of: 8/24/2021 | | | Principal: | | \$0.00 | | |
| | | | Current Year | Interest: | | \$0.00 | |
| | | | Payoff Amou | int: | | \$12.87 | |
| Charles C Tracy | CONDOMINIUM NUMBER 240 | Street Sweeping - Resid | — — — — lential Stree | | | | |
| Anna Sokolofski Tracy | LUTHER PLACE CONDOMINIUM NO | Citywide Street Lightin | | 0.58 | 13.00 | \$7.54 | 20-29-23-42-0108 |
| 2250 Luther Place Unit 109 | 240, LUTHER PLACE CONDOMINIUM. UNIT NO 109 | | | | = | \$12.87 | |
| St Paul MN 55108-1466 | CIVIT INO 107 | *** Owner and Taxpay | er *** | | | ψ12.07 | |
| *2250 LUTHER PL 109 | | 1. | Total Assessn | n amt. | | \$12.87 | |
| *Ward: 4 | | | Total Assessn This Payment | | | \$12.87 \$0.00 | |
| *Pending as of: 8/24/2021 | | | Current Year | | | \$0.00 | |
| | | | Current Year | _ | | \$0.00 | |
| | | | Payoff Amou | | | \$12.87 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Ratification Date: | Project: 202 Resolution | | Assmt: 210025 | Manager: LMR | Page 566 |
|----------------------------|------------------------------------------------------------|--------------------------------------|-------------------------|------------------|-----------------|--------------|--------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Sharon Satre | CONDOMINIUM NUMBER 240 | Street Sweeping - Resid | | 0.41 | 13.00 | \$5.33 | 20-29-23-42-0111 |
| Joy Albrecht | LUTHER PLACE CONDOMINIUM NO 240, LUTHER PLACE CONDOMINIUM. | Citywide Street Lighting | g | 0.58 | 13.00 | \$7.54 | |
| 2250 Luther Place Unit 203 | UNIT NO 203 | | | | | \$12.87 | |
| St Paul MN 55108-1495 | | *** Owner and Taxpaye | er *** | | | | |
| *2250 LUTHER PL 203 | | | Total Assessi | ment: | | \$12.87 | |
| *Ward: 4 | | | \$0.00 | | | | |
| *Pending as of: 8/24/2021 | | | Current Year | Principal: | | \$0.00 | |
| | | | Current Year | Interest: | | \$0.00 | |
| | | | Payoff Amou | unt: | | \$12.87 | |
| | CONDOMINIUM NUMBER 240 | Street Sweeping - Resid | | | | | <u> </u> |
| Kathleen Mcintosh Tr | LUTHER PLACE CONDOMINIUM NO | Citywide Street Lighting | | 0.58 | 13.00 | \$7.54 | 20 27 20 12 0110 |
| 2250 Luther Place Unit 205 | 240, LUTHER PLACE CONDOMINIUM. UNIT NO 205 | | | | = | \$12.87 | |
| St Paul MN 55108-1466 | | *** Owner and Taxpaye | er *** | | | | |
| *2250 LUTHER PL 205 | | | Total Assessi | ment· | - | \$12.87 | |
| *Ward: 4 | | | This Paymen | | | \$0.00 | |
| *Pending as of: 8/24/2021 | | | Current Year | \$0.00 | | | |
| | | | Current Year | • | | \$0.00 | |
| | | | Payoff Amou | unt: | | \$12.87 | |
| Anna Martinson | CONDOMINIUM NUMBER 240 | Street Sweeping - Resid | | | | | |
| 2250 Luther Place Unit 240 | LUTHER PLACE CONDOMINIUM NO | Citywide Street Lighting | | 0.58 | 13.00 | \$7.54 | 20-29-23-42-0114 |
| St Paul MN 55108-1470 | 240, LUTHER PLACE CONDOMINIUM. UNIT NO 206 | , . | C | | _ | \$12.87 | |
| *2250 LUTHER PL 206 | CIVIT INO 200 | *** Owner and Taxpayo | er *** | | | \$12.07 | |
| *Ward: 4 | | | Total Assessi | ment: | | \$12.87 | |
| *Pending as of: 8/24/2021 | | | This Paymen | t: | | \$0.00 | |
| | | | Current Year | Principal: | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amou | unt: | | \$12.87 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Ratification Date: | Project: 202 Resolution # | | Assmt: 210025 | Manager: LMR | Page 567 |
|-----------------------------------|------------------------------------------------------------|--------------------------------------|------------------------------|------------|-----------------|--------------|------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Mavis M Straughn Trustee | CONDOMINIUM NUMBER 240 | Street Sweeping - Reside | | 0.41 | 13.00 | \$5.33 | 20-29-23-42-0115 |
| Robert O Straughn Trustee | LUTHER PLACE CONDOMINIUM NO 240, LUTHER PLACE CONDOMINIUM. | Citywide Street Lighting | 3 | 0.58 | 13.00 | \$7.54 | |
| 2250 Luther Place Unit 207 | UNIT NO 207 | | | | | \$12.87 | |
| St Paul MN 55108-1466 | | *** Owner and Taxpaye | er *** | | - | | |
| *2250 LUTHER PL 207 | | | Total Assessn | nent: | | \$12.87 | |
| *Ward: 4 | | | This Payment | : | | \$0.00 | |
| *Pending as of: 8/24/2021 | | | Current Year | Principal: | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amou | nt: | | \$12.87 | |
| — — — — — — — — Harlan G Copeland | CONDOMINIUM NUMBER 240 | Street Sweeping - Reside | – — — – ential Stree | | | | |
| 2250 Luther Pl Unit 209 | LUTHER PLACE CONDOMINIUM NO | Citywide Street Lighting | 3 | 0.58 | 13.00 | \$7.54 | 20 27 20 12 0117 |
| St Paul MN 55108-1466 | 240, LUTHER PLACE CONDOMINIUM. UNIT NO 209 | | | | _ | \$12.87 | |
| *2250 LUTHER PL 209 | | *** Owner and Taxpaye | er *** | | | | |
| *Ward: 4 | | | Total Assessn | nent: | | \$12.87 | |
| *Pending as of: 8/24/2021 | | | This Payment | | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Current Year | Interest: | | \$0.00 | |
| | | | Payoff Amou | nt: | | \$12.87 | |
| | CONDOMINIUM NUMBER 240 | Street Sweeping - Reside | | 0.41 | | | |
| 2250 Luther Place Unit 210 | LUTHER PLACE CONDOMINIUM NO | Citywide Street Lighting | | 0.58 | 13.00 | \$7.54 | 20-29-23-42-0118 |
| St Paul MN 55108-1466 | 240, LUTHER PLACE CONDOMINIUM. UNIT NO 210 | , , | | | _ | \$12.87 | |
| *2250 LUTHER PL 210 | UNII NO 210 | *** Owner and Taxpaye | er *** | | | \$12.67 | |
| *Ward: 4 | | | Total Assessn | nent: | | \$12.87 | |
| *Pending as of: 8/24/2021 | | | This Payment | | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Current Year | - | | \$0.00 | |
| | | | Payoff Amou | nt: | | \$12.87 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by l | PID (Fee to Asmt) Ratification Date: | Project: 20 Resolution | | Assmt: 210025 | Manager: LMR | Page 56 |
|--------------------------------------------|---------------------------------------------------------------------------------------------------|------------------------------------------------|---------------------------|--------------|------------------|--------------------|--------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Ellen A Healy Trustee 2228 Doswell Ave | SUBJ TO RD & VAC ALLEY ACCRUING; PART OF LOT 12 LYING WLY OF A L RUN FROM A PT ON NLY | Street Sweeping - Res Citywide Street Light | | 0.41 0.58 | 100.50 100.50 | \$41.21 \$58.29 | 20-29-23-42-0129 |
| St Paul MN 55108-1755 *2228 DOSWELL AVE | L OF & 115.55 FT FROM NW COR THEREOF TO A PT ON WLY L OF & 124.1 FT FROM SD NW COR BEING IN | *** Owner and Taxpa | ayer *** | | | \$99.50 | |
| *Ward: 4 | | | Total Assess | sment: | | \$99.50 | |
| *Pending as of: 8/24/2021 | | | This Payme | nt: | | \$0.00 | |
| | | | Current Yea | r Principal: | | \$0.00 | |
| | | | Current Yea | | | \$0.00 | |
| | | | Payoff Amo | ount: | | \$99.50 | |
| Park 24 Llc | SUBJ TO AVE & VAC ALLEY | Street Sweeping - Co. | | | 374.00 | | |
| 2277 Como Ave | ACCRUING; LOT 13 AND THE NWLY 28 FT OF LOT 14 BLK 32 | Citywide Street Light | ting | 0.58 | 374.00 | \$216.92 | |
| St Paul MN 55108-1721 | 2011 01 20111 BER 32 | | | | = | \$605.88 | |
| *2295 COMO AVE | | *** Owner and Taxpa | ayer *** | | | | |
| *Ward: 4 | | | Total Assess | sment: | | \$605.88 | |
| *Pending as of: 8/24/2021 | | | This Payme | | | \$0.00 | |
| | | | Current Yea | _ | | \$0.00 | |
| | | | Current Yea | | | \$0.00 | |
| | | | Payoff Amo | ount: | | \$605.88 | |
| Neds Park Service Llc | SUBJ TO AVE VAC ALLEY ACCRUING | Street Sweeping - Co | mmercial/Art | | | | |
| 2277 Como Ave | AND ESMT; PTS OF LOTS 16 THRU LOT 18 LYING WLY OF GROVE PL | Street Sweeping - Res | | 0.41 | 172.00 | \$70.52 | |
| St Paul MN 55108-1721 | AND EX THE NWLY 28 FT; LOT 14 ND | Citywide Street Light | ting | 0.58 | 361.00 | \$209.38 | |
| *2277 COMO AVE *Ward: 4 | ALL OF LOT 15 BLK 32 | *** Owner and Taxpa | ayer *** | | | \$476.46 | |
| *Pending as of: 8/24/2021 | | | Total Assess | sment: | | \$476.46 | |
| | | | This Payme | nt: | | \$0.00 | |
| | | | Current Yea | | | \$0.00 | |
| | | | Current Yea | r Interest: | | \$0.00 | |
| | | | Payoff Amo | ount: | | \$476.46 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | y PID (Fee to Asmt) Ratification Date: | Project: 20 Resolution | | Assmt: 210025 | Manager: LMR | Page 569 |
|--------------------------------------|---------------------------------------|-------------------------------------------|---------------------------|--------------|-----------------|--------------|------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Zvago Cooperative At St Anthony Park | Lot 101 of CIC NO 826 ZVAGO | Street Sweeping - Resid | | 0.41 | 6.90 | \$2.83 | 20-29-23-42-0132 |
| 3530 Lexington Ave N | COOPERATIVE AT ST ANTHONY PARK | Citywide Street Lightin | ng | 0.58 | 6.90 | \$4.00 | |
| Shoreview MN 55126-8166 | UNIT NO 101 | | | | _ | \$6.83 | |
| *2265 LUTHER PL 101 | | *** Owner and Taxpay | er *** | | | | |
| *Ward: 4 | | | Total Assess | ment: | | \$6.83 | |
| *Pending as of: 8/24/2021 | | | This Paymer | nt: | | \$0.00 | |
| | | | Current Year | r Principal: | | \$0.00 | |
| | | | Current Year | r Interest: | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$6.83 | |
| Zvago Cooperative At St Anthony Park | Lot 102 of CIC NO 826 ZVAGO | Street Sweeping - Resid | dential Streε | | | | <u> </u> |
| 3530 Lexington Ave N | COOPERATIVE AT ST ANTHONY | Citywide Street Lightin | | 0.58 | 6.90 | \$4.00 | 20-27-23-42-0133 |
| Shoreview MN 55126-8166 | PARK UNIT NO 102 | | | | _ | \$6.83 | |
| *2265 LUTHER PL 102 | | *** Owner and Taxpay | /er *** | | | | |
| *Ward: 4 | | | Total Assess | ment: | - | \$6.83 | |
| *Pending as of: 8/24/2021 | | | This Paymer | nt: | | \$0.00 | |
| | | | Current Year | r Principal: | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$6.83 | |
| Zvago Cooperative At St Anthony Park | | Street Sweeping - Resid | dential Streε | | | | <u> </u> |
| 3530 Lexington Ave N | COOPERATIVE AT ST ANTHONY | Citywide Street Lightin | | 0.58 | 6.90 | \$4.00 | 20-27-23-42-0134 |
| Shoreview MN 55126-8166 | PARK UNIT NO 103 | | | | _ | \$6.83 | |
| *2265 LUTHER PL 103 | | *** Owner and Taxpay | ver *** | | | 4 | |
| *Ward: 4 | | | Total Assess | ment: | = | \$6.83 | |
| *Pending as of: 8/24/2021 | | | This Paymer | | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Current Year | _ | | \$0.00 | |
| | | | | | | | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | y PID (Fee to Asmt) Ratification Date: | Project: 2021SMSP Resolution #: | | Assmt: 210025 | Manager: LMR | Page 570 |
|--------------------------------------|---------------------------------------|----------------------------------------|---------------------------------------|--------------|-----------------|--------------|------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Zvago Cooperative At St Anthony Park | Lot 104 of CIC NO 826 ZVAGO | Street Sweeping - Resi | idential Stree | 0.41 | 6.90 | \$2.83 | 20-29-23-42-0135 |
| 3530 Lexington Ave N | COOPERATIVE AT ST ANTHONY PARK | Citywide Street Lighti | ng | 0.58 | 6.90 | \$4.00 | |
| Shoreview MN 55126-8166 | UNIT NO 104 | | | | _ | \$6.83 | |
| *2265 LUTHER PL 104 | | *** Owner and Taxpa | yer *** | | | | |
| *Ward: 4 *Pending as of: 8/24/2021 | | Total Assessment: | | | | \$6.83 | |
| | | | This Paymer | nt: | | \$0.00 | |
| | | | Current Yea | r Principal: | | \$0.00 | |
| | | | Current Year Interest: Payoff Amount: | | | | |
| | | | | | | | |
| Zvago Cooperative At St Anthony Park | Lot 107 of CIC NO 826 ZVAGO | | idential Stree | | <u> </u> | | |
| 3530 Lexington Ave N | COOPERATIVE AT ST ANTHONY | Citywide Street Lighti | | 0.58 | 6.90 | \$4.00 | 20-27-23-42-0130 |
| Shoreview MN 55126-8166 | PARK UNIT NO 107 | | | | _ | \$6.83 | |
| *2265 LUTHER PL 107 | | *** Owner and Taxpayer *** | | | | 40.00 | |
| *Ward: 4 *Pending as of: 8/24/2021 | | Total Assessment: | | | | \$6.83 | |
| | | | This Paymer | nt: | | \$0.00 | |
| | | | Current Yea | r Principal: | \$0.00 | | |
| | | | Current Yea | | \$0.00 | | |
| | | Payoff Amount: | | | | \$6.83 | |
| Zvago Cooperative At St Anthony Park | | Street Sweeping - Resi | idential Stree | | | | |
| 3530 Lexington Ave N | COOPERATIVE AT ST ANTHONY | Citywide Street Lighti | | 0.58 | 6.90 | \$4.00 | 20-2)-23-42-0137 |
| Shoreview MN 55126-8166 | PARK UNIT NO 108 | | | | _ | \$6.83 | |
| *2265 LUTHER PL 108 | | *** Owner and Taxpayer *** | | | | | |
| *Ward: 4 *Pending as of: 8/24/2021 | | | Total Assess | sment: | - | \$6.83 | |
| | | This Payment: | | | | \$0.00 | |
| | | | Current Yea | r Principal: | | \$0.00 | |
| | | Current Year Interest: | | | | \$0.00 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | y PID (Fee to Asmt) Ratification Date: | Project: 2021SMSP Resolution #: | | Assmt: 210025 | Manager: LMR | Page 571 |
|--------------------------------------------------------------------------------|------------------------------------------------------------------|-----------------------------------------------------------------------------|------------------------------------|--------------|-----------------|------------------|------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Zvago Cooperative At St Anthony Park 3530 Lexington Ave N | Lot 112 of CIC NO 826 ZVAGO COOPERATIVE AT ST ANTHONY PARK | Street Sweeping - Resid | | 0.41 0.58 | 6.90 6.90 | \$2.83 \$4.00 | 20-29-23-42-0138 |
| Shoreview MN 55126-8166 *2265 LUTHER PL 112 *Ward: 4 *Pending as of: 8/24/2021 | UNIT NO 112 | *** Owner and Taxpayer *** | | | _ | \$6.83 | |
| | | Total Assessment: This Payment: Current Year Principal: | | | | \$6.83 | |
| | | | | | | \$0.00 | |
| | | | | | | \$0.00 | |
| | | | Current Year Interest: | | | | |
| | | Payoff Amount: | | | | \$6.83 | |
| Zvago Cooperative At St Anthony Park 3530 Lexington Ave N | Lot 113 of CIC NO 826 ZVAGO COOPERATIVE AT ST ANTHONY PARK | Street Sweeping - Resid | lential Streε | | — — | \$2.83 | 20-29-23-42-0139 |
| | | Citywide Street Light | ting | 0.58 | 6.90 | \$4.00 | |
| Shoreview MN 55126-8166 | UNIT NO 113 | | | | <u>=</u> | \$6.83 | |
| * 2265 LUTHER PL 113 *Ward: 4 *Pending as of: 8/24/2021 | | *** Owner and Taxpayer *** | | | | | |
| | | Total Assessment: | | | | \$6.83 | |
| | | This Payment: Current Year Principal: Current Year Interest: Payoff Amount: | | | | \$0.00 | |
| | | | | | | \$0.00 | |
| | | | | | | \$0.00 | |
| | | | | | | \$6.83 | |
| Zvago Cooperative At St Anthony Park | Lot 114 of CIC NO 826 ZVAGO | Street Sweeping - Resid | lential Streε | | <u> </u> | \$2.83 | |
| 3530 Lexington Ave N | COOPERATIVE AT ST ANTHONY PARK | Citywide Street Lighting | g | 0.58 | 6.90 | \$4.00 | |
| Shoreview MN 55126-8166 | UNIT NO 114 | | | | | \$6.83 | |
| *2265 LUTHER PL 114 | | *** Owner and Taxpayer *** | | | | | |
| *Ward: 4 *Pending as of: 8/24/2021 | | | Total Assessment: | | | \$6.83 | |
| | | | This Paymer | nt: | | \$0.00 | |
| | | | Current Year | r Principal: | | \$0.00 | |
| | | | r Interest: | | \$0.00 | | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | y PID (Fee to Asmt) Ratification Date: | Project: 20 Resolution | | Assmt: 210025 | Manager: LMR | Page 578 |
|--------------------------------------|---------------------------------------|-----------------------------------------|---------------------------|--------------|-----------------|--------------|------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Zvago Cooperative At St Anthony Park | Lot 216 of CIC NO 826 ZVAGO | Street Sweeping - Resi | | 0.41 | 6.90 | \$2.83 | 20-29-23-42-0159 |
| 3530 Lexington Ave N | COOPERATIVE AT ST ANTHONY PARK | Citywide Street Lightin | ng | 0.58 | 6.90 | \$4.00 | |
| Shoreview MN 55126-8166 | UNIT NO 216 | | | | _ | \$6.83 | |
| *2265 LUTHER PL 216 | | *** Owner and Taxpay | yer *** | | | | |
| *Ward: 4 | | | Total Assess | sment: | | \$6.83 | |
| *Pending as of: 8/24/2021 | | | This Paymer | nt: | | \$0.00 | |
| | | | Current Yea | r Principal: | | \$0.00 | |
| | | | Current Yea | | | \$0.00 | |
| | | | Payoff Amo | ount: | | \$6.83 | |
| | Lot 217 of CIC NO 826 ZVAGO | Street Sweeping - Resi | idential Stree | | | | <u> </u> |
| 3530 Lexington Ave N | COOPERATIVE AT ST ANTHONY | Citywide Street Lightin | | 0.58 | 6.90 | \$4.00 | 20-27-23-42-0100 |
| Shoreview MN 55126-8166 | PARK UNIT NO 217 | | | | _ | \$6.83 | |
| *2265 LUTHER PL 217 | | *** Owner and Taxpay | yer *** | | | | |
| *Ward: 4 | | | Total Assess | sment: | | \$6.83 | |
| *Pending as of: 8/24/2021 | | | This Paymer | nt: | | \$0.00 | |
| | | | Current Yea | r Principal: | | \$0.00 | |
| | | | Current Yea | | | \$0.00 | |
| | | | Payoff Amo | ount: | | \$6.83 | |
| Zvago Cooperative At St Anthony Park | | Street Sweeping - Resi | idential Streε | | | | |
| 3530 Lexington Ave N | COOPERATIVE AT ST ANTHONY | Citywide Street Lightin | | 0.58 | 6.90 | \$4.00 | 20 27 20 12 0101 |
| Shoreview MN 55126-8166 | PARK UNIT NO 218 | | | | _ | \$6.83 | |
| *2265 LUTHER PL 218 | | *** Owner and Taxpay | yer *** | | | | |
| *Ward: 4 | | | Total Assess | sment: | | \$6.83 | |
| *Pending as of: 8/24/2021 | | | This Paymer | nt: | | \$0.00 | |
| | | | Current Yea | r Principal: | | \$0.00 | |
| | | | Current Yea | r Interest: | | \$0.00 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | y PID (Fee to Asmt) Ratification Date: | Project: 202 Resolution | | Assmt: 210025 | Manager: LMR | Page 580 | |
|--------------------------------------|---------------------------------------|-------------------------------------------|----------------------------|------------|-----------------|--------------|------------------|--|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID | |
| Zvago Cooperative At St Anthony Park | Lot 303 of CIC NO 826 ZVAGO | Street Sweeping - Resid | | 0.41 | 6.90 | \$2.83 | 20-29-23-42-0165 | |
| 3530 Lexington Ave N | COOPERATIVE AT ST ANTHONY PARK | Citywide Street Lightin | ng | 0.58 | 6.90 | \$4.00 | | |
| Shoreview MN 55126-8166 | UNIT NO 303 | | | | | \$6.83 | | |
| *2265 LUTHER PL 303 | | *** Owner and Taxpay | /er *** | | | | | |
| *Ward: 4 | | | Total Assess | ment: | | \$6.83 | | |
| *Pending as of: 8/24/2021 | | | This Paymer | ıt: | | \$0.00 | | |
| | | | Current Year | Principal: | | \$0.00 | | |
| | | | Current Year | | | \$0.00 | | |
| | | | Payoff Amo | unt: | | \$6.83 | | |
| Zvago Cooperative At St Anthony Park | Lot 304 of CIC NO 826 ZVAGO | Street Sweeping - Resid | — — — - dential Stree | | | | <u> </u> | |
| 3530 Lexington Ave N | COOPERATIVE AT ST ANTHONY | Citywide Street Lightin | ng | 0.58 | 6.90 | \$4.00 | 20 23 20 12 0100 | |
| Shoreview MN 55126-8166 | PARK UNIT NO 304 | | | | _ | \$6.83 | | |
| *2265 LUTHER PL 304 | | *** Owner and Taxpay | /er *** | | | | | |
| *Ward: 4 | | | Total Assess | ment· | | \$6.83 | | |
| *Pending as of: 8/24/2021 | | | This Paymer | | | \$0.00 | | |
| | | | Current Year | | | \$0.00 | | |
| | | | Current Year | - | | \$0.00 | | |
| | | | Payoff Amo | unt: | | \$6.83 | | |
| Zvago Cooperative At St Anthony Park | Lot 305 of CIC NO 826 ZVAGO | | — — — - dential Stree | | — — | | | |
| 3530 Lexington Ave N | COOPERATIVE AT ST ANTHONY | Citywide Street Lightin | | 0.58 | 6.90 | \$4.00 | 20-29-23-42-0167 | |
| Shoreview MN 55126-8166 | PARK UNIT NO 305 | , . | C | | _ | \$6.83 | | |
| *2265 LUTHER PL 305 | UNII NO 303 | *** Owner and Taxpay | /er *** | | | φ0.83 | | |
| *Ward: 4 | | | Total Assess | ment: | - | \$6.83 | | |
| *Pending as of: 8/24/2021 | | | This Paymer | nt: | | \$0.00 | | |
| | | | Current Year | Principal: | | \$0.00 | | |
| | | | Current Year | | | \$0.00 | | |
| | | | Payoff Amo | unt: | | \$6.83 | | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | y PID (Fee to Asmt) Ratification Date: | Project: 20 Resolution | | Assmt: 210025 | Manager: LMR | Page 581 |
|--------------------------------------|---------------------------------------|-------------------------------------------|---------------------------|------------------|-----------------|--------------|--------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Zvago Cooperative At St Anthony Park | Lot 306 of CIC NO 826 ZVAGO | Street Sweeping - Resid | dential Stree | 0.41 | 6.90 | \$2.83 | 20-29-23-42-0168 |
| 3530 Lexington Ave N | COOPERATIVE AT ST ANTHONY PARK | Citywide Street Lightin | ng | 0.58 | 6.90 | \$4.00 | |
| Shoreview MN 55126-8166 | UNIT NO 306 | | | | _ | \$6.83 | |
| *2265 LUTHER PL 306 | | *** Owner and Taxpay | yer *** | | | | |
| *Ward: 4 | | | Total Assess | sment: | - | \$6.83 | |
| *Pending as of: 8/24/2021 | | | This Paymer | nt: | | \$0.00 | |
| | | | Current Yea | r Principal: | | \$0.00 | |
| | | | Current Yea | r Interest: | | \$0.00 | |
| | | | Payoff Amo | ount: | | \$6.83 | |
| Zvago Cooperative At St Anthony Park | Lot 307 of CIC NO 826 ZV AGO | Street Sweeping - Resid | — — — dential Stree | | — — | | |
| 3530 Lexington Ave N | COOPERATIVE AT ST ANTHONY | Citywide Street Lightin | | 0.58 | 6.90 | \$4.00 | 20-29-25-42-0109 |
| Shoreview MN 55126-8166 | PARK UNIT NO 307 | | | | _ | \$6.83 | |
| *2265 LUTHER PL 307 | S.M. No so, | *** Owner and Taxpay | yer *** | | | ψο. | |
| *Ward: 4 | | | Total Assess | sment: | | \$6.83 | |
| *Pending as of: 8/24/2021 | | | This Paymer | nt: | | \$0.00 | |
| | | | Current Yea | - | | \$0.00 | |
| | | | Current Yea | | | \$0.00 | |
| | | | Payoff Amo | ount: | | \$6.83 | |
| Zvago Cooperative At St Anthony Park | | Street Sweeping - Resi | — — — dential Stree | | | | <u> </u> |
| 3530 Lexington Ave N | COOPERATIVE AT ST ANTHONY | Citywide Street Lightir | | 0.58 | 6.90 | \$4.00 | 20-27-25-42-0170 |
| Shoreview MN 55126-8166 | PARK UNIT NO 308 | | | | _ | \$6.83 | |
| *2265 LUTHER PL 308 | | *** Owner and Taxpay | yer *** | | | | |
| *Ward: 4 | | | Total Assess | ement: | = | \$6.83 | |
| *Pending as of: 8/24/2021 | | | This Paymer | | | \$0.00 | |
| | | | Current Yea | | | \$0.00 | |
| | | | Current Yea | _ | | \$0.00 | |
| | | | | | | | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll b | y PID (Fee to Asmt) Ratification Date: | Project: 202 Resolution | | Assmt: 210025 | Manager: LMR | Page 5 |
|--------------------------------------|--------------------------------------|-----------------------------------------|-------------------------|------------------|-----------------|--------------|------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Zvago Cooperative At St Anthony Park | Lot 309 of CIC NO 826 ZVAGO | Street Sweeping - Reside | | 0.41 | 6.90 | \$2.83 | |
| 3530 Lexington Ave N | COOPERATIVE AT ST ANTHONY PARK | Citywide Street Lighting | 5 | 0.58 | 6.90 | \$4.00 | |
| Shoreview MN 55126-8166 | UNIT NO 309 | | | | _ | \$6.83 | |
| *2265 LUTHER PL 309 | | *** Owner and Taxpayer | r *** | | | | |
| *Ward: 4 | | • | Total Assess | ment: | | \$6.83 | |
| *Pending as of: 8/24/2021 | | | This Paymen | t: | | \$0.00 | |
| | | | Current Year | Principal: | | \$0.00 | |
| | | | Current Year | Interest: | | \$0.00 | |
| | | | Payoff Amor | unt: | | \$6.83 | |
| | Lot 311 of CIC NO 826 ZVAGO | Street Sweeping - Reside | ential Stree | | | | |
| 3530 Lexington Ave N | COOPERATIVE AT ST ANTHONY | Citywide Street Lighting | | 0.58 | 6.90 | \$4.00 | 20-27-23-42-0172 |
| Shoreview MN 55126-8166 | PARK UNIT NO 311 | | | | _ | \$6.83 | |
| *2265 LUTHER PL 311 | | *** Owner and Taxpayer | r *** | | | 4000 | |
| *Ward: 4 | | • | Total Assess | ment: | | \$6.83 | |
| *Pending as of: 8/24/2021 | | | This Paymen | t: | | \$0.00 | |
| | | | Current Year | Principal: | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$6.83 | |
| Zvago Cooperative At St Anthony Park | Lot 312 of CIC NO 826 ZVAGO | | – — — – ential Stree | | | | |
| 3530 Lexington Ave N | COOPERATIVE AT ST ANTHONY | Citywide Street Lighting | | 0.58 | 6.90 | \$4.00 | 20 27 20 12 0170 |
| Shoreview MN 55126-8166 | PARK UNIT NO 312 | | | | _ | \$6.83 | |
| *2265 LUTHER PL 312 | | *** Owner and Taxpayer | r *** | | | | |
| *Ward: 4 | | • | Total Assess | ment: | - | \$6.83 | |
| *Pending as of: 8/24/2021 | | | This Paymen | t: | | \$0.00 | |
| | | | Current Year | Principal: | | \$0.00 | |
| | | | Current Year | Interest: | | \$0.00 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll b | y PID (Fee to Asmt) Ratification Date: | Project: 202 Resolution | | Assmt: 210025 | Manager: LMR | Page 5 |
|--------------------------------------|--------------------------------------|-------------------------------------------|----------------------------|------------------|-----------------|--------------|--------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Zvago Cooperative At St Anthony Park | Lot 313 of CIC NO 826 ZVAGO | Street Sweeping - Reside | ential Stree | 0.41 | 6.90 | \$2.83 | 20-29-23-42-0174 |
| 3530 Lexington Ave N | COOPERATIVE AT ST ANTHONY PARK | Citywide Street Lighting | 5 | 0.58 | 6.90 | \$4.00 | |
| Shoreview MN 55126-8166 | UNIT NO 313 | | | | | \$6.83 | |
| 2265 LUTHER PL 313 | | *** Owner and Taxpaye | r *** | | | | |
| Ward: 4 | | | Total Assess | ment: | | \$6.83 | |
| Pending as of: 8/24/2021 | | | This Paymen | ıt: | | \$0.00 | |
| | | | Current Year | Principal: | | \$0.00 | |
| | | | Current Year | Interest: | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$6.83 | |
| | Lot 314 of CIC NO 826 ZVAGO | Street Sweeping - Reside | ential Stree | | | | |
| 3530 Lexington Ave N | COOPERATIVE AT ST ANTHONY | Citywide Street Lighting | | 0.58 | 6.90 | \$4.00 | 20-27-23-42-0173 |
| Shoreview MN 55126-8166 | PARK UNIT NO 314 | | | | _ | \$6.83 | |
| *2265 LUTHER PL 314 | | *** Owner and Taxpaye | r *** | | | 4000 | |
| *Ward: 4 | | | Total Assess | ment: | - | \$6.83 | |
| *Pending as of: 8/24/2021 | | | This Paymen | ıt: | | \$0.00 | |
| | | | Current Year | Principal: | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$6.83 | |
| Zvago Cooperative At St Anthony Park | | Street Sweeping - Reside | – — — – ential Stree | | <u> </u> | | |
| 3530 Lexington Ave N | COOPERATIVE AT ST ANTHONY PARK | Citywide Street Lighting | 5 | 0.58 | 6.90 | \$4.00 | |
| Shoreview MN 55126-8166 | UNIT NO 315 | | | | | \$6.83 | |
| *2265 LUTHER PL 315 | | *** Owner and Taxpaye | r *** | | | | |
| *Ward: 4 | | | Total Assess | ment: | | \$6.83 | |
| Pending as of: 8/24/2021 | | | This Paymen | ıt: | | \$0.00 | |
| | | | Current Year | Principal: | | \$0.00 | |
| | | | Current Year | Interest: | | \$0.00 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date: | | Project: 20 Resolution | | Assmt: 210025 | Manager: LMR | Page 584 |
|--------------------------------------|----------------------------------------------------------------------------|-------------------------|---------------------------|------------------|-----------------|--------------|--------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Zvago Cooperative At St Anthony Park | Lot 316 of CIC NO 826 ZVAGO | Street Sweeping - Resid | dential Stree | 0.41 | 6.90 | \$2.83 | 20-29-23-42-0177 |
| 3530 Lexington Ave N | COOPERATIVE AT ST ANTHONY PARK | Citywide Street Lightin | ng | 0.58 | 6.90 | \$4.00 | |
| Shoreview MN 55126-8166 | UNIT NO 316 | | | | _ | \$6.83 | |
| *2265 LUTHER PL 316 | | *** Owner and Taxpay | /er *** | | | | |
| *Ward: 4 | | | Total Assess | ment: | | \$6.83 | |
| *Pending as of: 8/24/2021 | | | This Paymer | nt: | | \$0.00 | |
| | | | Current Year | r Principal: | | \$0.00 | |
| | | | Current Year | r Interest: | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$6.83 | |
| Zvago Cooperative At St Anthony Park | Lot 317 of CIC NO 826 ZVAGO | Street Sweeping - Resid | dential Stree | | | | |
| 3530 Lexington Ave N | COOPERATIVE AT ST ANTHONY | Citywide Street Lightin | | 0.58 | 6.90 | \$4.00 | 20 27 20 12 0170 |
| Shoreview MN 55126-8166 | PARK UNIT NO 317 | | | | _ | \$6.83 | |
| *2265 LUTHER PL 317 | | *** Owner and Taxpay | /er *** | | | | |
| *Ward: 4 | | | Total Assess | sment: | - | \$6.83 | |
| *Pending as of: 8/24/2021 | | | This Paymer | | | \$0.00 | |
| | | | Current Year | • | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amo | ount: | | \$6.83 | |
| Zvago Cooperative At St Anthony Park | Lot 318 of CIC NO 826 ZVAGO | Street Sweeping - Resid | dential Streε | | — — | | |
| 3530 Lexington Ave N | COOPERATIVE AT ST ANTHONY PARK | Citywide Street Lightin | ng | 0.58 | 6.90 | \$4.00 | |
| Shoreview MN 55126-8166 | UNIT NO 318 | | | | _ | \$6.83 | |
| *2265 LUTHER PL 318 | | *** Owner and Taxpay | /er *** | | | | |
| *Ward: 4 | | | Total Assess | ment: | - | \$6.83 | |
| *Pending as of: 8/24/2021 | | | This Paymer | nt: | | \$0.00 | |
| | | | Current Year | r Principal: | | \$0.00 | |
| | | | Current Year | r Interest: | | \$0.00 | |

\$49.50

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date: | | Project: 202 Resolution # | | Assmt: 210025 | Manager: LMR | Page 586 |
|---------------------------------------------|----------------------------------------------------------------------------|-------------------------------------------------------|------------------------------------------------|------------|-----------------|--------------------|--------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Joshua M Becerra Sonia Ellis | ST ANTHONY PARK NORTH LOT 29 BLK 38 | Street Sweeping - Resider Citywide Street Lighting | | 0.41 | 50.00 | \$20.50 \$29.00 | 20-29-23-43-0004 |
| 2274 Carter Ave St Paul MN 55108-1639 | | *** Owner and Taxpayer | *** | | \$49.50 | \$49.50 | |
| *2274 CARTER AVE *Ward: 4 | | | Total Assessment: | | | \$49.50 | |
| *Pending as of: 8/24/2021 | | | This Payment | | | \$0.00 \$0.00 | |
| - | | | Current Year Principal: Current Year Interest: | | | \$0.00 \$0.00 | |
| | | | Payoff Amou | | | \$49.50 | |
| | ST ANTHONY PARK NORTH NELY 20 | Street Sweeping - Reside | ntial Stree | | | | <u> </u> |
| Patricia Lopez Baden | FT OF LOT 25 AND SWLY 15 FT OF LOT 26 BLK 38 | Citywide Street Lighting | | 0.58 | 35.00 | \$20.30 | 20-29-23-43-0008 |
| 2288 Carter Ave St Paul MN 55108-1639 | | *** Owner and Taxpayer | | \$34.65 | | | |
| *2288 CARTER AVE | | - | | | | | |
| *Ward: 4 | | | Total Assessr | | | \$34.65 | |
| *Pending as of: 8/24/2021 | | | This Payment Current Year | \$0.00 | | | |
| S | | | \$0.00 \$0.00 | | | | |
| | | | Current Year Payoff Amo u | \$34.65 | | | |
| | | | | | | | |
| Mary Mcdiarmid | ST ANTHONY PARK NORTH NELY 5 | Street Sweeping - Reside | | 0.41 | 55.00 | \$22.55 | 20-29-23-43-0014 |
| 2283 Commonwealth Ave | FT OF FRONT 97 FT OF LOT 18 AND ALL OF LOT 17 BLK 38 | Citywide Street Lighting | | 0.58 | 55.00 | \$31.90 | |
| St Paul MN 55108-1602 *2283 COMMONWEALTH | | *** Owner and Taxpayer | *** | | | \$54.45 | |
| AVE | | - | Total Assessr | nent: | - | \$54.45 | |
| *Ward: 4 | | • | This Payment | t: | | \$0.00 | |
| *Pending as of: 8/24/2021 | | • | Current Year | Principal: | | \$0.00 | |
| | | (| Current Year | Interest: | | \$0.00 | |
| | | 1 | Payoff Amou | ınt: | | \$54.45 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date: | | Project: 2021SMSP Resolution #: | | Assmt: 210025 | Manager: LMR | Page 587 |
|-------------------------------------------------|-----------------------------------------------------------------------------|-------------------------|------------------------------------|----------------------------------------|-----------------|--------------------|--------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Ramesh Mani | ST ANTHONY PARK NORTH LOT 16 | Street Sweeping - Res | | 0.41 | 50.00 | \$20.50 | 20-29-23-43-0015 |
| Barbara Becker | BLK 38 | Citywide Street Lighti | ing | 0.58 | 50.00 | \$29.00 | |
| 2279 Commonwealth Ave | | | | | _ | \$49.50 | |
| St Paul MN 55108-1602 | | *** Owner and Taxpa | ıyer *** | | | | |
| *2279 COMMONWEALTH | | | Total Assess | ment: | - | \$49.50 | |
| AVE | | | This Paymer | nt: | | \$0.00 | |
| *Ward: 4 | | | Current Yea | r Principal: | | \$0.00 | |
| *Pending as of: 8/24/2021 | | | Current Yea | r Interest: | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$49.50 | |
| | ST ANTHONY PARK NORTH SWLY 3 | Street Sweeping - Res | idential Streε | | | | <u> </u> |
| Kevin B Willis Trustee 2267 Commonwealth Ave | 9/10 FT OF LOT 12 AND ALL OF LOT | Citywide Street Lighti | ing | 0.58 | 54.00 | \$31.32 | 20 27 20 10 0010 |
| | 13 BLK 38 | | | | = | \$53.46 | |
| St Paul MN 55108-1602 | | *** Owner and Taxpa | ıyer *** | | | | |
| *2267 COMMONWEALTH | | | Total Assess | ment. | - | \$53.46 | |
| AVE | | | This Paymer | | | \$0.00 | |
| *Ward: 4 | | | Current Year Principal: | | | \$0.00 | |
| *Pending as of: 8/24/2021 | | | Current Yea | - | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$53.46 | |
| | ST ANTHONY PARK NORTH BLK D | Street Sweeping - Res | idential Streε | | | | |
| 25 4th St W Rm 1000 | | Citywide Street Lighti | | 0.58 | 888.00 | \$515.04 | ***EXEMPT*** |
| St Paul MN 55102-1692 | | | • | | _ | \$879.12 | LALIVII I |
| *0 COMMONWEALTH AVE | | *** Owner and Taxpa | ıyer *** | | | ψ0//.12 | |
| *Ward: 4 | | • | | ······································ | | \$879.12 | |
| *Pending as of: 8/24/2021 | | | Total Assess This Paymer | | | \$879.12 \$0.00 | |
| - | | | Current Yea | | | \$0.00 \$0.00 | |
| | | | Current Yea | _ | | \$0.00 | |
| | | | Payoff Amo | | | \$879.12 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Ratification Date: | Project: 202 Resolution # | | Assmt: 210025 | Manager: LMR | Page 588 |
|-------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------|----------------------------------------------------------------------------------------------------------------------------------------------|--------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------|-----------------------------------------------------------------------------------------------|-------------------------------|--------------------------------------|----------------------------------------------------|--------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Centennial United Methodist Church 2200 Hillside Ave St Paul MN 55108-1609 *0 COMO AVE | ST ANTHONY PARK NORTH LOTS I THRU LOT 4 BLK 43 | Street Sweeping - Com Street Sweeping - Resid Alley Sweeping Citywide Street Lightin | dential Stree | 1.04 0.41 0.14 0.58 | 190.00 346.00 272.00 536.00 | \$197.60 \$141.86 \$38.08 \$310.88 | 20-29-23-43-0029 |
| *Ward: 4 *Pending as of: 8/24/2021 | | *** Owner and Taxpay | /er *** | | | \$688.42 | |
| | | | Total Assessr This Payment Current Year Current Year Payoff Amou | t: Principal: Interest: | | \$688.42 \$0.00 \$0.00 \$0.00 \$688.42 | |
| Kermit B Pattison Maja K Beckstrom 2225 Hillside Ave St Paul MN 55108-1610 | ST ANTHONY PARK NORTH PART OF LOT 5 WLY OF A L RUN FROM SWLY COR OF SD LOT TO A PT ON NWLY L 20 FT FROM MOST WLY COR AND ALL OF LOT 6 BLK 43 | Street Sweeping - Resident Street Lighting - Resident Lighting - Resident - R | ng | 0.41 | 52.00 | \$21.32 \$30.16 \$51.48 | 20-29-23-43-0031 |
| *2225 HILLSIDE AVE *Ward: 4 *Pending as of: 8/24/2021 | | 1 7 | Total Assessment: This Payment: Current Year Principal: Current Year Interest: Payoff Amount: | | | \$51.48 \$0.00 \$0.00 \$0.00 \$51.48 | |
| Neda Shahghasemi Trevre Roys Andrews 2257 Hillside Ave St Paul MN 55108-1610 | ST ANTHONY PARK NORTH SWLY 1/2 OF LOT 14 AND ALL OF LOT 15 BLK 43 | Street Sweeping - Resic Citywide Street Lightin | ng | 0.41 0.58 | 75.00 75.00 | \$30.75 \$43.50 \$74.25 | 20-29-23-43-0037 |
| *** Owne ** Owne *** | | | Total Assessment: This Payment: Current Year Principal: Current Year Interest: | | | \$74.25 \$0.00 \$0.00 \$0.00 | |

\$74.25

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by PID (Fee to Asmt) Project: 2021SMSP Ratification Date: Resolution #: | | Assmt: 210025 | Manager: LMR | Page 590 | | |
|---------------------------------------|------------------------------------------------------------------------------------------------------------|-----------------------------------------------------|-------------------|--------------|-----------------|--------------------|-------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Alden Rice Tetlie Rebecca Rice Tetlie | ST ANTHONY PARK NORTH EX NELY 35 FT LOT 45 AND ALL OF LOT 44 BLK 43 | Street Sweeping - Resid Citywide Street Lighting | | 0.41 | 65.00 65.00 | \$26.65 \$37.70 | 20-29-23-43-0052 |
| 2284 Commonwealth Ave | | **** 0 17 | also also also | | | \$64.35 | |
| St Paul MN 55108-1601 | | *** Owner and Taxpaye | er *** | | | | |
| *2284 COMMONWEALTH | | | Total Assessn | nent: | | \$64.35 | |
| AVE *Ward: 4 | | | This Payment | | | \$0.00 | |
| | | | Current Year | _ | | \$0.00 | |
| *Pending as of: 8/24/2021 | | | Current Year | | | \$0.00 | |
| | | | Payoff Amou | int: | | \$64.35 | |
| | ST ANTHONY PARK NORTH NELY 35 | Street Sweeping - Resid | | 0.41 | | \$20.50 | |
| Catherine R Reed | FT OF LOT 45 AND SWLY 15 FT OF LOT 46 BLK 43 | Citywide Street Lighting | g | 0.58 | 50.00 | \$29.00 | |
| 2282 Commonwealth Ave | 201 10221 13 | | | | | \$49.50 | |
| St Paul MN 55108-1601 | | *** Owner and Taxpaye | er *** | | | | |
| *2282 COMMONWEALTH | | | Total Assessn | nent: | | \$49.50 | |
| AVE | | | This Payment | t: | | \$0.00 | |
| *Ward: 4 | | | Current Year | Principal: | | \$0.00 | |
| *Pending as of: 8/24/2021 | | | Current Year | Interest: | | \$0.00 | |
| | | | Payoff Amou | int: | | \$49.50 | |
| | ST ANTHONY PARK NORTH EX SWLY | Street Sweeping - Resid | lential Streε | | | | <u> </u> |
| Norman G Bailey | 15 FT LOT 46 AND SWLY 40 FT OF | Citywide Street Lighting | g | 0.58 | 85.00 | \$49.30 | 20 20 20 00 000 1 |
| 2268 Commonwealth Ave | LOT 47 BLK 43 | | | | _ | \$84.15 | |
| St Paul MN 55108-1601 | | *** Owner and Taxpaye | er *** | | | | |
| *2266 COMMONWEALTH | | | Total Assessn | nent: | | \$84.15 | |
| AVE | | | This Payment | | | \$0.00 | |
| *Ward: 4 | | | Current Year | | | \$0.00 | |
| *Pending as of: 8/24/2021 | | | Current Year | _ | | \$0.00 | |
| | | | Payoff Amou | ınt: | | \$84.15 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Ratification Date: | Project: 202 Resolution # | | Assmt: 210025 | Manager: LMR | Page 591 |
|------------------------------------------------|-----------------------------------------------------------------|------------------------------------------|--------------------------------------------------------------------------------|------------------|-----------------|--------------------|------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Lane W Rapson Samantha R Tousey | ST ANTHONY PARK NORTH NELY 30 FT OF LOT 47 AND SWLY 20 FT OF | Street Sweeping - Reside | | 0.41 | 50.00 | \$20.50 \$29.00 | 20-29-23-43-0055 |
| 2264 Commonwealth Ave St Paul MN 55108-1601 | LOT 48 BLK 43 | *** Owner and Taxpaye | r *** | | \$49.50 | | |
| *2264 COMMONWEALTH | | | Total Assessn | nent: | - | \$49.50 | |
| AVE | | | This Payment | : | | \$0.00 | |
| *Ward: 4 | | | Current Year | Principal: | | \$0.00 | |
| *Pending as of: 8/24/2021 | | | Current Year | Interest: | | \$0.00 | |
| | | | Payoff Amou | int: | | \$49.50 | |
| Richard Cofer Landon | ST ANTHONY PARK NORTH LOT 54 | Street Sweeping - Reside | ential Streε | | 92.00 | | |
| Paige Nelson | BLK 43 | Alley Sweeping | | 0.14 | 92.00 | \$12.88 | 20-29-23-43-0000 |
| 2230 Commonwealth Ave | | Citywide Street Lighting | 5 | 0.58 | 92.00 | \$53.36 | |
| St Paul MN 55108-1600 | | | | | _ | \$103.96 | |
| *2230 COMMONWEALTH | | *** Owner and Taxpaye | r *** | | | ψ105.50 | |
| AVE | | | Total Assessn | nent: | - | \$103.96 | |
| *Ward: 4 | | | This Payment | : | | \$0.00 | |
| *Pending as of: 8/24/2021 | | | Current Year | Principal: | | \$0.00 | |
| | | | Current Year | Interest: | | \$0.00 | |
| | | | Payoff Amou | int: | | \$103.96 | |
| | CT ANTHONY DARK NORTH EV | Street Syspenia Comm | | | 95.00 | | |
| Clearwater Bh Llc 708 5th St Se | ST ANTHONY PARK NORTH EX COMO AVE AND EX SELY 25 FT LOT | Street Sweeping - Comm Alley Sweeping | ierciai/Art | 1.04 0.14 | 23.00 | \$3.22 | 20-29-23-43-0062 |
| Minneapolis MN 55414-2176 | 15 AND EX COMO AVE PART OF LOTS | Citywide Street Lighting | | 0.58 | 95.00 | \$55.10 | |
| *2215 COMO AVE | 16 AND 17 SELY OF L RUN FROM PT 30 FT SELY FROM COMMONWEALTH | , , | , | | _ | \$157.12 | |
| *Ward: 4 | AVE ON NELY L OF LOT 16 TO PT 18 | *** Owner and Taxpaye | r *** | | | \$137.12 | |
| *Pending as of: 8/24/2021 | | | Total Assessment: This Payment: Current Year Principal: Current Year Interest: | | | \$157.12 | |
| | | | | | | \$0.00 | |
| | | | | | | \$0.00 | |
| | | | | | | \$0.00 | |
| | | | Payoff Amou | int: | | \$157.12 | |

\$181.09

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Ratification Date: | Project: 202 Resolution # | | Assmt: 210025 | Manager: LMR | Page 596 |
|-----------------------------------------|----------------------------------------------------------------|-----------------------------------------|------------------------------|--------------|----------------|--------------------|--------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Thomas H Holman Jr | ST. ANTHONY PARK, MINNESOTA EX NELY 2 FT LOT 10 AND ALL OF LOT | Street Sweeping - Resid | ential Stree | 0.41 | 98.00 | \$40.18 | 20-29-23-43-0092 |
| Kim D L Holman | 11 BLK 38 | Alley Sweeping Citywide Street Lighting | n | 0.14 0.58 | 98.00 98.00 | \$13.72 \$56.84 | |
| 85 Langford Pk St Paul MN 55108-1913 | | City wide Street Lighting | 5 | 0.36 | — | \$110.74 | |
| *85 LANGFORD PARK | | *** Owner and Taxpaye | Taxpayer *** | | | \$110.74 | |
| *Ward: 4 | | | Total Assessr | ment: | \$110.74 | | |
| *Pending as of: 8/24/2021 | | | This Payment | t: | \$0.00 | | |
| | | | Current Year | • | \$0.00 | | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amou | int: | | \$110.74 | |
| | ST. ANTHONY PARK, MINNESOTA | Street Sweeping - Resid | ential Stree | | | | 20-29-23-43-0093 |
| Suzanne Burr | LOT 12 BLK 38 | Alley Sweeping | | 0.14 | 0.00 | \$0.00 | 20 27 20 10 0070 |
| 77 Langford Park | | Citywide Street Lighting | g | 0.58 | 50.00 | \$29.00 | |
| St Paul MN 55108-1913 | | | | | _ | \$49.50 | |
| *77 LANGFORD PARK | | *** Owner and Taxpaye | er *** | | | | |
| *Ward: 4 | | | Total Assessr | nent: | | \$49.50 | |
| *Pending as of: 8/24/2021 | | | This Payment: | | | \$0.00 | |
| | | | Current Year Principal: | | \$0.00 | | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amou | ınt: | | \$49.50 | |
| William S Midness | ST. ANTHONY PARK, MINNESOTA | Street Sweeping - Resid | ential Stree | | | | 20-29-23-43-0094 |
| Lydia T Midness | LOT 13 BLK 38 | Alley Sweeping | | 0.14 | 50.00 | \$7.00 | 20 27 20 10 0071 |
| 73 Langford Park | | Citywide Street Lighting | g | 0.58 | 50.00 | \$29.00 | |
| St Paul MN 55108-1913 | | | | | _ | \$56.50 | |
| *73 LANGFORD PARK | | *** Owner and Taxpaye | er *** | | | | |
| *Ward: 4 | | | Total Assessr | nent: | | \$56.50 | |
| *Pending as of: 8/24/2021 | | | This Payment | t: | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amou | ınt: | | \$56.50 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by l | PID (Fee to Asmt) Ratification Date: | Project: 2021 Resolution # | | Assmt: 210025 | Manager: LMR | Page 598 |
|----------------------------|------------------------------------------------------------------------|--------------------------------------|-------------------------------|------------|-----------------------|--------------|--------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Mary E Ryan | ST ANTHONY PARK NORTH EX SELY | Street Sweeping - Resid | lential Stree | 0.41 | 50.00 | \$20.50 | 20-29-23-43-0108 |
| Martin L Wolf | 5.98 FT OF NELY 41.3 FT OF SWLY 63.8 FT LOT 20 BLK 38 | Citywide Street Lightin | g | 0.58 | 50.00 | \$29.00 | |
| 1280 Keston St | | | | | _ | \$49.50 | |
| St Paul MN 55108-1615 | | *** Owner and Taxpay | er *** | | _ | | |
| *1280 KESTON ST | | | Total Assessm | nent: | | \$49.50 | |
| *Ward: 4 | | | This Payment | : | | \$0.00 | |
| *Pending as of: 8/24/2021 | | | Current Year | - | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amou | nt: | | \$49.50 | |
| | ST ANTHONY PARK NORTH SELY | Street Sweeping - Resid | lential Streε | | | | 20-29-23-43-0109 |
| Penny R Mills | 5.98 FT OF NELY 41.3 FT OF SWLY 63.8 FT OF LOT 20 AND ALL OF LOT 19 | Citywide Street Lightin | g | 0.58 | 110.50 | \$64.09 | 20 29 20 10 0109 |
| 1276 Keston St | BLK 38 | | | | _ | \$109.40 | |
| St Anthony MN 55108-1615 | | *** Owner and Taxpay | er *** | | | | |
| *1276 KESTON ST | | | Total Assessm | nent: | | \$109.40 | |
| *Ward: 4 | | | This Payment | : | | \$0.00 | |
| *Pending as of: 8/24/2021 | | | Current Year | Principal: | | \$0.00 | |
| | | | Current Year | Interest: | | \$0.00 | |
| | | | Payoff Amou | nt: | | \$109.40 | |
| | ST ANTHONY PARK NORTH SUBJ TO | | — — — — mercial/Art | | — — 75. 00 | | |
| 2203 Como Ave | AVE; SELY 25 FT OF LOT 15 & ALL OF | Alley Sweeping | | 0.14 | 75.00 | \$10.50 | 20 29 20 10 0111 |
| St Paul MN 55108-1812 | LOT 14 BLK 44 | Citywide Street Lightin | g | 0.58 | 75.00 | \$43.50 | |
| *2203 COMO AVE *Ward: 4 | | *** Owner and Taxpay | er *** | | _ | \$132.00 | |
| *Pending as of: 8/24/2021 | | | Total Assessm | nont: | | \$132.00 | |
| - | | | This Payment | | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Current Year | - | | \$0.00 | |
| | | | Payoff Amou | nt: | | \$132.00 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | | ject: 2021SMSP solution #: | Assmt: 210025 | Manager: LMR | Page 599 |
|---------------------------------------------------------|------------------------------------------------------------------------------------------------|----------------------------------------------------------|-------------------------------|------------------|----------------------|------------------|
| Owner or Taxpayer | Property Description | Item Description | Unit Rate | Quantity | Charge Amts | Property ID |
| Centennial United Methodist Church 2200 Hillside Ave | ST. ANTHONY PARK, MINNESOTA ALL THAT PT OF LOTS 9,10 & 11 BLK 37 LYING N OF THE S 115 FT | Street Sweeping - Residentia Citywide Street Lighting | 0.41 0.58 | 315.00 315.00 | \$129.15 \$182.70 | 20-29-23-43-0113 |
| St Paul MN 55108-1609 | THEREOF | | | _ | \$311.85 | |
| *2200 HILLSIDE AVE | | *** Owner and Taxpayer *** | k | _ | | |
| *Ward: 4 | | Tota | al Assessment: | | \$311.85 | |
| *Pending as of: 8/24/2021 | | This | Payment: | | \$0.00 | |
| | | | rent Year Principal: | | \$0.00 | |
| | | | rent Year Interest: | | \$0.00 | |
| | | Pay | off Amount: | | \$311.85 | |
| Carolyn Taylor Burr | Unit No.1 | Street Sweeping - Residentia | 1 Stree 0.41 | | | 20-29-23-43-0116 |
| 97 Langford Park Unit 1 | | Citywide Street Lighting | 0.58 | 21.42 | \$12.42 | |
| St Paul MN 55108-1929 | | | | _ | \$21.21 | |
| *97 LANGFORD PARK 1 | | *** Owner and Taxpayer *** | k | | | |
| *Ward: 4 | | Tota | ıl Assessment: | - | \$21.21 | |
| *Pending as of: 8/24/2021 | | This | Payment: | | \$0.00 | |
| | | Cur | rent Year Principal: | | \$0.00 | |
| | | Cur | rent Year Interest: | | \$0.00 | |
| | | Pay | off Amount: | | \$21.21 | |
| | CIC NO 628 LANGFORD PK CONDO | Street Sweeping - Residentia | | | | <u> </u> |
| Sara Hotchkiss | UNIT NO.2 | Citywide Street Lighting | 0.58 | 21.42 | \$12.42 | 20-27-25-45-0117 |
| 2517 Balden St | | | | = | \$21.21 | |
| Madison WI 53713-1017 | | *** Owner and Taxpayer *** | k | | | |
| *97 LANGFORD PARK 2 | | Tota | al Assessment: | - | \$21.21 | |
| *Ward: 4 | | | Payment: | | \$0.00 | |
| *Pending as of: 8/24/2021 | | | rent Year Principal: | | \$0.00 | |
| | | | rent Year Interest: | | \$0.00 | |
| | | Pay | off Amount: | | \$21.21 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by PID (Fee to Asm Ratification D | | Project: 202 Resolution | | Assmt: 210025 | Manager: LMR | Page 600 |
|-------------------------------|-------------------------------------------------------------------------|-------------------------|-------------------------|------------|-----------------|--------------|------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| James Marshall | CIC NO 628 LANGFORD PK CONDO | Street Sweeping - Resid | | 0.41 | 21.42 | \$8.79 | 20-29-23-43-0119 |
| Laura Marshall | UNIT NO.4 | Citywide Street Lightin | ng | 0.58 | 21.42 | \$12.42 | |
| 97 Langford Park | | *** 0 1.77 | ale ale | | | \$21.21 | |
| St Paul MN 55108-1929 | | *** Owner and Taxpay | er *** | | | | |
| *97 LANGFORD PARK 4 *Ward: 4 | | | Total Assess | ment: | | \$21.21 | |
| *Pending as of: 8/24/2021 | | | This Paymen | | | \$0.00 | |
| 1 chang as 61. 6/24/2021 | | | Current Year | _ | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$21.21 | |
| — — — — — — — — Harry C Boyte | CIC NO 628 LANGFORD PK CONDO | Street Sweeping - Resid | dential Stree | 0.41 | | | 20-29-23-43-0120 |
| Marie Louise Strom | UNIT NO.5 | Citywide Street Lightin | ng | 0.58 | 21.42 | \$12.42 | |
| 97 Langford Park W Unit 5 | | | | | | \$21.21 | |
| St Paul MN 55108-1929 | | *** Owner and Taxpay | /er *** | | | | |
| *97 LANGFORD PARK 5 | | | Total Assess | ment: | \$21.21 | | |
| *Ward: 4 | | | This Paymen | nt: | | \$0.00 | |
| *Pending as of: 8/24/2021 | | | Current Year | Principal: | \$0.00 | | |
| | | | Current Year | | \$0.00 | | |
| | | | Payoff Amo | unt: | | \$21.21 | |
| | ST ANTHONY PARK NORTH EX WLY | | mercial/Art | | | | <u> </u> |
| Cambray Provo Crozier | 7 FT FOR AVE; PART SLY OF LINE | Street Sweeping - Resid | dential Stree | 0.41 | 71.50 | \$29.32 | 20 29 20 10 0120 |
| 2229 Como Ave | DESC AS COM AT THE SW COR OF LOT 16 BLK 37 THENCE N 73 DEG 01 | Alley Sweeping | | 0.14 | 75.00 | \$10.50 | |
| St Paul MN 55108-1719 | MIN 39 SEC E 33.53 FT TO THE MOST | Citywide Street Lightin | ng | 0.58 | 104.50 | \$60.61 | |
| *2229 COMO AVE | ELY COR OF SD LOT 16 THENCE N 16 | | | | | \$134.75 | |
| *Ward: 4 | | *** Owner and Taxpay | /er *** | | | | |
| *Pending as of: 8/24/2021 | | | Total Assess | ment: | | \$134.75 | |
| | | | This Paymen | | | \$0.00 | |
| | | | Current Year Principal: | | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$134.75 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date: | | Project: 2021SMSP Resolution #: | | Assmt: 210025 | Manager: LMR | Page 601 | |
|--------------------------------------------------------|-----------------------------------------------------------------------------|------------------------------------------------------------------------|------------------------------------|--------------|-------------------------|-------------------------------|--------------------|--|
| Owner or Taxpayer | Property Description | Item Description | <u>I</u> | Unit Rate | Quantity | Charge Amts | <u>Property ID</u> | |
| Thomas H Ressler Alice H Ressler 2165 Commonwealth Ave | ST ANTHONY PARK NORTH ELY 1/2 OF LOT 12 AND ALL OF LOT 11 BLK 37 | Street Sweeping - Reside Alley Sweeping Citywide Street Lighting | 0.14 | | 75.00 75.00 75.00 | \$30.75 \$10.50 \$43.50 | 20-29-23-44-0004 | |
| St Paul MN 55108-1730 *2165 COMMONWEALTH | | *** Owner and Taxpaye | er *** | | | \$84.75 | | |
| AVE | | | Total Assessme | ent: | | \$84.75 | | |
| *Ward: 4 | | | This Payment: | | | \$0.00 | | |
| *Pending as of: 8/24/2021 | | | Current Year Pr | - | | \$0.00 | | |
| | | | Current Year In Payoff Amount | | | \$0.00 \$84.75 | | |
| | | | | | | | | |
| Christopher John Gaertner | ST ANTHONY PARK NORTH WLY 1/2 | Street Sweeping - Reside | ential Stree | 0.41 | 30.00 | \$12.30 | 20-29-23-44-0005 | |
| Wendy Mitby Gaertner | OF LOT 12 AND E 5 FT OF LOT 13 BLK 37 | Alley Sweeping | | 0.14 | 30.00 | \$4.20 | | |
| 2173 Commonwealth Ave | | Citywide Street Lighting | 3 | 0.58 | 30.00 | \$17.40 | | |
| St Paul MN 55108-1730 *2173 COMMONWEALTH | | *** Owner and Taxpaye | er *** | | | \$33.90 | | |
| AVE | | • • | Total Assessme | ent: | | \$33.90 | | |
| *Ward: 4 | | | This Payment: | 111. | | \$0.00 | | |
| *Pending as of: 8/24/2021 | | | Current Year Pr | rincipal: | | \$0.00 | | |
| | | | Current Year In | - | | \$0.00 | | |
| | | | Payoff Amoun | t: | | \$33.90 | | |
| | | | | | | | | |
| Donna M Teeter Tr | ST ANTHONY PARK NORTH LOTS 1 AND LOT 2 BLK 44 | Street Sweeping - Reside | ential Stree | 0.41 | 142.50 | \$58.43 | 20-29-23-44-0007 | |
| Kirsten L Bromaghim Tr | AND BOT Z BER TT | Alley Sweeping Citywide Street Lighting | * | 0.14 0.58 | 75.00 142.50 | \$10.50 \$82.65 | | |
| 1307 Chelmsford St St Paul MN 55108-1809 | | City wide Street Lighting | 3 | 0.56 | 142.50 | \$151.58 | | |
| *1307 CHELMSFORD ST | | *** Owner and Taxpaye | er *** | | | \$151.58 | | |
| *Ward: 4 | | | Total Assessme | ent: | | \$151.58 | | |
| *Pending as of: 8/24/2021 | | | This Payment: | | | \$0.00 | | |
| | | | Current Year Pr | rincipal: | | \$0.00 | | |
| | | | Current Year In | iterest: | | \$0.00 | | |
| | | | Payoff Amount | t: | | \$151.58 | | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Ratification Date: | - | | Assmt: 210025 | Manager: LMR | Page 602 |
|-----------------------------------------------------------------------------|---------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------|----------------------------------------------------------------------|-------------------------|----------------------|---------------------------|------------------------------------------|------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Peter Frosch Anne Frosch 2135 Knapp St St Paul MN 55108-1815 *2135 KNAPP ST | ST ANTHONY PARK NORTH PART OF LOTS 5 & 6 ELY OF A LINE BEG AT NWLY COR OF LOT 5, TH SLY TO A POINT ON SLY LINE OF LOT 6 & 34.23 FT E OF SW COR THEREOF & ALL OF LOT 4 BLK 44 | Street Sweeping - Resid Alley Sweeping Citywide Street Lightin | g | 0.41 0.14 0.58 | 138.00 50.00 138.00 | \$56.58 \$7.00 \$80.04 \$143.62 | 20-29-23-44-0009 |
| *Ward: 4 | | | Total Assessn | nent: | | \$143.62 | |
| *Pending as of: 8/24/2021 | | | This Payment | | | \$0.00 | |
| | | | Current Year Principal: | | | \$0.00 | |
| | | | Current Year | • | | \$0.00 | |
| | | | Payoff Amou | int: | | \$143.62 | |
| | ST ANTHONY PARK NORTH PART OF | Street Sweeping - Resid | | | | | |
| Gordon L Myers Christy L Myers | LOT 7 LYING WLY OF A LINE RUN | Alley Sweeping | ichtiai Stree | 0.41 | 60.00 | \$8.40 | 20-29-23-44-0011 |
| 2145 Knapp St | NW AT RA FROM SLY LINE OF SD LOT 7 & FROM A POINT THEREON | Citywide Street Lighting | g | 0.58 | 40.00 | \$23.20 | |
| St Paul MN 55108-1815 | 10.85 FT W FROM SE COR OF SD LOT | | | | = | \$48.00 | |
| *2145 KNAPP ST | 7 BLK 44 | *** Owner and Taxpay | er *** | | | φ-10.00 | |
| *Ward: 4 | | | Total Assessn | nent: | - | \$48.00 | |
| *Pending as of: 8/24/2021 | | | This Payment | : | | \$0.00 | |
| | | | Current Year | Principal: | | \$0.00 | |
| | | | Current Year | Interest: | | \$0.00 | |
| | | | Payoff Amou | int: | | \$48.00 | |
| Courtney Catherine Hoard | ST ANTHONY PARK NORTH LOT 8 | Street Sweeping - Resid | lential Stree | 0.41 | | | <u> </u> |
| 2149 Knapp St | BLK 44 | Alley Sweeping | | 0.14 | 142.50 | \$19.95 | 20-27-23-44-0012 |
| St Paul MN 55108-1815 | | Citywide Street Lighting | g | 0.58 | 42.00 | \$24.36 | |
| *2149 KNAPP ST | | | | | _ | \$61.53 | |
| *Ward: 4 | | *** Owner and Taxpay | er *** | | | | |
| *Pending as of: 8/24/2021 | | | Total Assessn | nent: | | \$61.53 | |
| | | | This Payment | : | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amou | int: | | \$61.53 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date: | | Project: 2021SMSP Resolution #: | | Assmt: 210025 | 5 Manager: LMR | Page 603 |
|---------------------------------------------------------------------------|----------------------------------------------------------------------------|-------------------------------------------------------------------------|------------------------------------|----------------------|---------------------------|-------------------------------|--------------------|
| Owner or Taxpayer | Property Description | Item Description |] | Unit Rate | Quantity | Charge Amts | Property ID |
| Kristine Pauline Krafts 2180 Communwealth Ave St Paul MN 55108-1717 | ST ANTHONY PARK NORTH LOT 18 BLK 44 | Street Sweeping - Resider Alley Sweeping Citywide Street Lighting | | 0.41 0.14 0.58 | 116.00 97.50 116.00 | \$47.56 \$13.65 \$67.28 | 20-29-23-44-0016 |
| *2180 COMMONWEALTH AVE | | *** Owner and Taxpayer | *** | | _ | \$128.49 | |
| *Ward: 4 | | - | Total Assessme | ent: | | \$128.49 | |
| *Pending as of: 8/24/2021 | | | This Payment: | | | \$0.00 | |
| | | (| Current Year P | rincipal: | | \$0.00 | |
| | | (| Current Year Ir | nterest: | | \$0.00 | |
| | | 1 | Payoff Amoun | ıt: | | \$128.49 | |
| Catherine A Furry Trustee | ST ANTHONY PARK NORTH LOT 20 | Street Sweeping - Resider | ntial Stree | 0.41 | | | 20-29-23-44-0018 |
| John S Seltz Trustee | BLK 44 | Alley Sweeping | | 0.14 | 50.00 | \$7.00 | 20 29 20 11 0010 |
| 2170 Commonwealth Ave | | Citywide Street Lighting | | 0.58 | 50.00 | \$29.00 | |
| St Paul MN 55108-1717 | | | | | _ | \$56.50 | |
| *2170 COMMONWEALTH | | *** Owner and Taxpayer | *** | | | | |
| AVE | | - | Total Assessme | ent: | | \$56.50 | |
| *Ward: 4 | | | This Payment: | | | \$0.00 | |
| *Pending as of: 8/24/2021 | | (| Current Year P | rincipal: | | \$0.00 | |
| | | (| Current Year In | nterest: | | \$0.00 | |
| | | 1 | Payoff Amoun | ıt: | | \$56.50 | |
| | ST ANTHONY PARK NORTH LOT 21 | Street Sweeping - Resider | ntial Stree | 0.41 | | | <u> </u> |
| 2164 Commonwealth Ave | BLK 44 | Alley Sweeping | | 0.14 | 50.00 | \$7.00 | 20 25 26 11 0015 |
| St Paul MN 55108-1717 | | Citywide Street Lighting | | 0.58 | 50.00 | \$29.00 | |
| *2164 COMMONWEALTH | | | | | _ | \$56.50 | |
| AVE | | *** Owner and Taxpayer | *** | | | | |
| *Ward: 4 | | - | Total Assessme | ent: | | \$56.50 | |
| *Pending as of: 8/24/2021 | | - | This Payment: | | | \$0.00 | |
| | | (| Current Year P | rincipal: | | \$0.00 | |
| | | | Current Year In | | | \$0.00 | |
| | |] | Payoff Amoun | ıt: | | \$56.50 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Ratification Date: | Project: 202 Resolution # | | Assmt: 210025 | Manager: LMR | Page 604 |
|---------------------------|-------------------------------------------------------------------|--------------------------------------|------------------------------|------------|-----------------|--------------|------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Peter W Sorensen | ST ANTHONY PARK NORTH S 57 5/10 FT OF N 111 25/100 FT OF LOTS 1 2 | Street Sweeping - Resid | | 0.41 | 58.00 | \$23.78 | 20-29-23-44-0023 |
| Gail D Sorensen | AND 3 AND W 10 FT OF S 53 75/100 | Citywide Street Lightin | ng | 0.58 | 58.00 | \$33.64 | |
| 1309 Raymond Ave | FT OF LOT 3 AND S 40 FT OF E 15 FT | *** | de de de | | | \$57.42 | |
| St Paul MN 55108-1821 | OF LOT 4 BLK 45 | *** Owner and Taxpay | /er *** | | | | |
| *1309 RAYMOND AVE | | | Total Assessr | nent: | | \$57.42 | |
| *Ward: 4 | | | This Payment | t: | | \$0.00 | |
| *Pending as of: 8/24/2021 | | | Current Year | Principal: | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amou | int: | | \$57.42 | |
| Bruno J Bornzstein | ST ANTHONY PARK NORTH EX W 10 | Street Sweeping - Resid | dential Stree | 0.41 | 54.00 | \$22.14 | |
| Alicia M Lacy | FT S 53 75/100 FT OF LOTS 1 2 AND LOT 3 BLK 45 | Citywide Street Lightin | ng | 0.58 | 54.00 | \$31.32 | |
| 1305 Raymond Ave | EOT 3 BER 43 | | | | _ | \$53.46 | |
| St Paul MN 55108-1821 | | *** Owner and Taxpay | er *** | | | | |
| *1305 RAYMOND AVE | | | Total Assessr | nent: | - | \$53.46 | |
| *Ward: 4 | | | This Payment | t: | | \$0.00 | |
| *Pending as of: 8/24/2021 | | | Current Year | | | \$0.00 | |
| | | | Current Year | Interest: | | \$0.00 | |
| | | | Payoff Amou | ınt: | | \$53.46 | |
| | ST ANTHONY PARK NORTH EX S 40 | Street Sweeping - Resid | dential Stree | 0.41 | | | |
| Timothy S Wriedt | FT OF E 15 FT LOT 4 BLK 45 | Citywide Street Lightin | | 0.58 | 50.00 | \$29.00 | 20-27-23-44-0023 |
| 2106 Commonwealth Ave | | | | | _ | \$49.50 | |
| St Paul MN 55108-1716 | | *** Owner and Taxpay | /er *** | | | | |
| *2110 COMMONWEALTH | | | Total Assessr | nant: | - | \$49.50 | |
| AVE | | | This Payment | | | \$0.00 | |
| *Ward: 4 | | | Current Year | | | \$0.00 | |
| *Pending as of: 8/24/2021 | | | Current Year | _ | | \$0.00 | |
| | | | Payoff Amou | | | \$49.50 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Ratification Date: | Project: 202 Resolution | | Assmt: 210025 | Manager: LMR | Page 605 |
|----------------------------|---------------------------------------|--------------------------------------|-------------------------|------------|-----------------|--------------------------|------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Vincent J Digiorno | ST ANTHONY PARK NORTH LOT 6 | Street Sweeping - Reside | | 0.41 | 50.00 | \$20.50 | 20-29-23-44-0027 |
| Kathleen Erickson Digiorno | BLK 45 | Citywide Street Lighting | 5 | 0.58 | 50.00 | \$29.00 | |
| 2126 Commonwealth Ave | | *** 0 1 T | *** | | | \$49.50 | |
| St Paul MN 55108-1716 | | *** Owner and Taxpaye | er *** | | _ | | |
| *2120 COMMONWEALTH | | | Total Assessi | ment: | | \$49.50 | |
| AVE *Ward: 4 | | | This Paymen | | | \$0.00 | |
| *Pending as of: 8/24/2021 | | | Current Year | _ | | \$0.00 | |
| 1 chaing as 01. 6/24/2021 | | | Current Year | | | \$0.00 \$49.50 | |
| | | | Payoff Amou | int. | | φ τ 2.30 | |
| Vincent J Digiorno | ST ANTHONY PARK NORTH LOT 7 | Street Sweeping - Reside | | 0.41 | 100.00 | \$41.00 | 20-29-23-44-0028 |
| Kathleen Erickson | BLK 45 | Citywide Street Lighting | 3 | 0.58 | 100.00 | \$58.00 | |
| 2126 Commonwealth Ave | | | | | | \$99.00 | |
| St Paul MN 55108-1716 | | *** Owner and Taxpaye | er *** | | | | |
| *2126 COMMONWEALTH | | | Total Assessi | nent: | | \$99.00 | |
| AVE | | | This Paymen | t: | | \$0.00 | |
| *Ward: 4 | | | Current Year | _ | | \$0.00 | |
| *Pending as of: 8/24/2021 | | | Current Year | | | \$0.00 | |
| | | | Payoff Amou | ınt: | | \$99.00 | |
| Gary Leatherman | ST ANTHONY PARK NORTH SUBJ TO | Street Sweeping - Reside | ential Stree | 0.41 | | \$20.50 | |
| Maria Hidalgo | ESMTS; LOT 10 BLK 45 | Citywide Street Lighting | 3 | 0.58 | 50.00 | \$29.00 | |
| 2265 Carter Ave | | | | | | \$49.50 | |
| St Paul MN 55108-1638 | | *** Owner and Taxpaye | r *** | | | | |
| *2117 KNAPP ST | | | Total Assessi | nent: | | \$49.50 | |
| *Ward: 4 | | | This Paymen | t: | | \$0.00 | |
| *Pending as of: 8/24/2021 | | | Current Year | Principal: | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amou | ınt: | | \$49.50 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Ratification Date: | Project: 20 Resolution | | Assmt: 210025 | Manager: LMR | Page 606 |
|------------------------------------------------|------------------------------------------------------------------|--------------------------------------|-----------------------------|-----------|-----------------------|------------------|------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Thomas J Lindholm | ST ANTHONY PARK NORTH E 10 FT | Street Sweeping - Resid | | 0.41 | 50.00 | \$20.50 | 20-29-23-44-0034 |
| Margaret C Blessing | OF N 5O FT OF LOT 12 AND N 5O FT OF LOTS 13 AND LOT 14 BLK 45 | Citywide Street Lighting | g | 0.58 | 50.00 | \$29.00 | |
| 1295 Raymond Ave | | 444 O 177 | de de de | | | \$49.50 | |
| St Paul MN 55108-1821 | | *** Owner and Taxpayo | er *** | | | | |
| *1295 RAYMOND AVE *Ward: 4 | | | Total Assess | ment: | | \$49.50 | |
| *Ward: 4 *Pending as of: 8/24/2021 | | | This Paymer | | | \$0.00 | |
| 1 cliding as 01. 8/24/2021 | | | Current Year | - | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$49.50 | |
| Leon L Neve | ST ANTHONY PARK NORTH S 115 FT | Street Sweeping - Resid | lential Streε | | — — 82.5 0 | | 20-29-23-44-0035 |
| Alice R Neve | OF LOT 14 BLK 45 | Citywide Street Lighting | g | 0.58 | 82.50 | \$47.85 | |
| 1289 Raymond Ave | | | | | _ | \$81.68 | |
| St Paul MN 55108-1821 | | *** Owner and Taxpayo | er *** | | | | |
| *1289 RAYMOND AVE | | | Total Assess | ment: | | \$81.68 | |
| *Ward: 4 | | | This Paymer | nt: | | \$0.00 | |
| *Pending as of: 8/24/2021 | | | Current Year | 1 | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$81.68 | |
| Timothy J Fuller | ST ANTHONY PARK NORTH LOT 3 | Street Sweeping - Comm | — — — - mercial/Art | | | | 20-29-23-44-0038 |
| Rita A Goodrich | BLK 46 | Alley Sweeping | | 0.14 | 50.00 | \$7.00 | |
| 1305 Cleveland Ave N | | Citywide Street Lighting | g | 0.58 | 50.00 | \$29.00 | |
| St Paul MN 55108-1828 *1305 CLEVELAND AVE N | | *** Owner and Taxpayo | er *** | | | \$88.00 | |
| *Ward: 4 | | owner and ranpay | | | | | |
| *Pending as of: 8/24/2021 | | | Total Assess | | | \$88.00 | |
| | | | This Paymer Current Year | | | \$0.00 \$0.00 | |
| | | | Current Year | _ | | \$0.00 | |
| | | | Payoff Amo | | | \$88.00 | |
| | | | , | | | ***** | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date: | | Project: 2021SMSP Resolution #: | | Assmt: 210025 | 0025 Manager: LMR | Page 60° |
|----------------------------------------------------------------------------------------------------------------------------------------------|----------------------------------------------------------------------------|-----------------------------------------|------------------------------------------------|--------------|-------------------------|----------------------------------------------------------------------------------|------------------|
| Owner or Taxpayer | Property Description | Item Description | <u>Unit R</u> | Rate | Quantity | Charge Amts | Property ID |
| Tia W Shortridge | ST ANTHONY PARK NORTH EX S 1 FT | Street Sweeping - Comm | ercial/Art 1 | 1.04 | 49.00 | \$50.96 | 20-29-23-44-0039 |
| Michelle Rose Marquez | LOT 4 BLK 46 | Alley Sweeping | | 0.14 | 49.00 | \$6.86 | |
| 1299 Cleveland Ave N | | Citywide Street Lighting | (| 0.58 | 49.00 | \$28.42 | |
| St Paul MN 55108-1828 * 1299 CLEVELAND AVE N | | *** Owner and Taxpayer | . *** | | | \$86.24 | |
| *Ward: 4 | | - | | | | ФОС 2 4 | |
| *Pending as of: 8/24/2021 | | | Total Assessment: | | | \$86.24 | |
| Tending as 01. 6/24/2021 | | | This Payment: Current Year Principa | a1. | | \$0.00 \$0.00 | |
| | | | Current Year Principa Current Year Interest | | \$0.00 | | |
| | | | Current Year Interest. Payoff Amount: | | | \$86.24 | |
| Richard W Brown Dorisann Henderson Brown 1295 Cleveland Ave N St Paul MN 55108-1828 *1295 CLEVELAND AVE N *Ward: 4 *Pending as of: 8/24/2021 | ST ANTHONY PARK NORTH S 1 FT OF LOT 4 AND ALL OF LOT 5 BLK 46 | • | (| | 51.00 51.00 51.00 | \$53.04 \$7.14 \$29.58 \$89.76 \$0.00 \$0.00 \$0.00 \$89.76 | 20-29-23-44-0040 |
| Anders J Mantius | ST ANTHONY PARK NORTH LOT 6 BLK 46 | Street Sweeping - Comm | | 1.04 | 50.00 | \$52.00 | |
| 8200 Jakarta Place | DER TO | Alley Sweeping Citywide Street Lighting | | 0.14 0.58 | 50.00 50.00 | \$7.00 \$29.00 | |
| Dulles VA 20189-8200 | | Citywide Street Lighting | (| 0.50 | 50.00 | | |
| *1289 CLEVELAND AVE N *Ward: 4 | | *** Owner and Taxpayer | . *** | | | \$88.00 | |
| *Pending as of: 8/24/2021 | | • | | | | 400.00 | |
| | | | Total Assessment: | | | \$88.00 | |
| | | | This Payment: | o.1. | | \$0.00 | |
| | | | Current Year Principa Current Year Interest | | | \$0.00 \$0.00 | |
| | | | Payoff Amount: | • | | \$88.00 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Ratification Date: | ` ' | | Assmt: 210025 | Ü | Page 608 | |
|---------------------------|---------------------------------------|--------------------------------------|-----------------|------------|-----------------|-------------|--------------------|--|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID | |
| Amber Jp Stevenson | MCLAUGHLIN'S AND SNYDER'S | Street Sweeping - Reside | ential Stree | 0.41 | 50.00 | \$20.50 | 20-29-23-44-0045 | |
| Andrew A Stevenson | REARRANGEMENT LOT 1 | Alley Sweeping | | 0.14 | 50.00 | \$7.00 | | |
| 1302 Raymond Ave | | Citywide Street Lighting | 3 | 0.58 | 50.00 | \$29.00 | | |
| St Paul MN 55108-1820 | | | | | | \$56.50 | | |
| *1302 RAYMOND AVE | | *** Owner and Taxpaye | er *** | | | | | |
| *Ward: 4 | | | Total Assessn | nent: | | \$56.50 | | |
| *Pending as of: 8/24/2021 | | | This Payment | : | | \$0.00 | | |
| | | | Current Year | Principal: | | \$0.00 | | |
| | | | Current Year | Interest: | | \$0.00 | | |
| | | | Payoff Amou | int: | | \$56.50 | | |
| | ST ANTHONY PARK NORTH N 150 FT | Street Sweeping - Reside | ential Stree | 0.41 | | | | |
| Nancy L Struthers | OF LOT 13 BLK 46 | Alley Sweeping | | 0.14 | 150.00 | \$21.00 | 20-27-23-44-0047 | |
| 536 Owasso Hills Dr | | Citywide Street Lighting | 3 | 0.58 | 50.00 | \$29.00 | | |
| Roseville MN 55113-2134 | | | | | <u> </u> | \$70.50 | | |
| *2080 COMMONWEALTH | | *** Owner and Taxpaye | er *** | | | | | |
| AVE | | | Total Assessn | nent: | = | \$70.50 | | |
| *Ward: 4 | | | This Payment | : | | \$0.00 | | |
| *Pending as of: 8/24/2021 | | | Current Year | Principal: | | \$0.00 | | |
| | | | Current Year | Interest: | | \$0.00 | | |
| | | | Payoff Amou | int: | | \$70.50 | | |
| Ernest B Trower | ST ANTHONY PARK NORTH E 1/2 OF | Street Sweeping - Comn | nercial/Art | | | | | |
| Nancy L Trower | LOT 6 BLK 47 | Street Sweeping - Reside | | 0.41 | 35.00 | \$14.35 | 20-29-23-44-0003 | |
| 2075 Scudder St | | Citywide Street Lighting | 3 | 0.58 | 60.00 | \$34.80 | | |
| St Paul MN 55108-1822 | | | | | = | \$75.15 | | |
| *1253 CLEVELAND AVE N | | *** Owner and Taxpaye | er *** | | | | | |
| *Ward: 4 | | | Total Assessn | nent: | - | \$75.15 | | |
| *Pending as of: 8/24/2021 | | | This Payment | : | | \$0.00 | | |
| | | | Current Year | Principal: | | \$0.00 | | |
| | | | Current Year | Interest: | | \$0.00 | | |
| | | | Payoff Amou | int: | | \$75.15 | | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date: | | Project: 2021SMSP Resolution #: | | Assmt: 210025 | 5 Manager: LMR | Page 609 |
|-------------------------------------------|-----------------------------------------------------------------------------|----------------------------------------------------|------------------------------------|------------------|-----------------|--------------------|------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Ernest B Trower | ST ANTHONY PARK NORTH W 1/2 OF | Street Sweeping - Reside | ential Stree | 0.41 | 50.00 | \$20.50 | 20-29-23-44-0064 |
| 2075 Scudder St | LOT 6 BLK 47 | Alley Sweeping | | 0.14 | 50.00 | \$7.00 | |
| St Paul MN 55108-1822 | | Citywide Street Lighting | 5 | 0.58 | 50.00 | \$29.00 | |
| *2075 SCUDDER ST | | | | | _ | \$56.50 | |
| *Ward: 4 | | *** Owner and Taxpaye | er *** | | | | |
| *Pending as of: 8/24/2021 | | | Total Assessr | nent: | - | \$56.50 | |
| | | | This Payment | t: | | \$0.00 | |
| | | | Current Year | Principal: | | \$0.00 | |
| | | | Current Year | Interest: | | \$0.00 | |
| | | | Payoff Amou | ınt: | | \$56.50 | |
| Christopher A Miller | ST ANTHONY PARK NORTH N 1/2 OF | Street Sweeping - Reside | – — — – ential Stree | | | | |
| Andrea L Bell | LOT 9 AND ALL OF LOT 10 BLK 47 | Alley Sweeping | onnai Succ | 0.14 | 75.00 | \$10.50 | 20-29-23-44-000/ |
| 1272 Raymond Ave | | Citywide Street Lighting | 7 | 0.58 | 75.00 | \$43.50 | |
| St Paul MN 55108-1818 | | , | • | | = | \$84.75 | |
| *1272 RAYMOND AVE | | *** Owner and Taxpaye | er *** | | | , o | |
| *Ward: 4 | | | Total Assessr | nent: | | \$84.75 | |
| *Pending as of: 8/24/2021 | | | This Payment | t: | | \$0.00 | |
| | | | Current Year | Principal: | | \$0.00 | |
| | | | Current Year | Interest: | | \$0.00 | |
| | | Payoff Amount: | | | | \$84.75 | |
| | | | - - | | | | |
| Donald W Hedges Jr | ST ANTHONY PARK NORTH LOT 12 BLK 47 | Street Sweeping - Comm Street Sweeping - Reside | | 1.04 0.41 | 50.00 150.00 | \$52.00 \$61.50 | 20-29-23-44-0069 |
| Amy Jo Lundell | | Alley Sweeping | ciitiai Sticc | 0.41 | 50.00 | \$7.00 | |
| 9 Birchwood Rd Mahtomedi MN 55115-1824 | | Citywide Street Lighting | <u> </u> | 0.58 | 200.00 | \$116.00 | |
| | | , , , | , | | = | \$236.50 | |
| *1280 RAYMOND AVE *Ward: 4 | | *** Owner and Taxpaye | er *** | | | \$230.30 | |
| *Pending as of: 8/24/2021 | | | Total Assessr | ment: | | \$236.50 | |
| | | | This Payment | t: | | \$0.00 | |
| | | | Current Year | Principal: | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amou | ınt: | | \$236.50 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Ratification Date: | - | | Assmt: 210025 | Manager: LMR | Page 610 |
|---------------------------|---------------------------------------|------------------------------------------------|-------------------|------------------|-----------------------|--------------|--------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| John R Ingwalson | ST ANTHONY PARK NORTH LOT 2 | Street Sweeping - Resid | | 0.41 | 50.00 | \$20.50 | 20-29-23-44-0071 |
| Anne M Farrar | BLK 48 | Citywide Street Lighting | g | 0.58 | 50.00 | \$29.00 | |
| 1275 Raymond Ave | | | | | | \$49.50 | |
| St Paul MN 55108-1817 | | *** Owner and Taxpaye | er *** | | | | |
| *1275 RAYMOND AVE | | | Total Assess | ment: | | \$49.50 | |
| *Ward: 4 | *Ward: 4 *Pending as of: 8/24/2021 | | | ıt: | | \$0.00 | |
| "Pending as of: 8/24/2021 | | Current Year Principal: Current Year Interest: | | | | \$0.00 | |
| | | | | | | \$0.00 | |
| | | | Payoff Amor | unt: | | \$49.50 | |
| Ross G Johnson | ST ANTHONY PARK NORTH EX S 3 FT | Street Sweeping - Resid | lential Streε | | | \$20.50 | 20-29-23-44-0073 |
| May M Johnson | OF W 100 FT LOT 4 BLK 48 | Citywide Street Lighting | g | 0.58 | 50.00 | \$29.00 | |
| 1267 Raymond Ave | | | | | _ | \$49.50 | |
| St Paul MN 55108-1817 | | *** Owner and Taxpayo | er *** | | | | |
| *1267 RAYMOND AVE | | | Total Assess | ment: | | \$49.50 | |
| *Ward: 4 | | | This Paymen | ıt: | \$0.00 | | |
| *Pending as of: 8/24/2021 | | | Current Year | Principal: | \$0.00 | | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$49.50 | |
| | ST ANTHONY PARK NORTH E 1/3 OF | Street Sweeping - Resid | lential Streε | | — — 75. 00 | | |
| Samantha N Hayes | LOTS 5 AND LOT 6 BLK 48 | Citywide Street Lighting | | 0.58 | 75.00 | \$43.50 | 20 27 25 11 0071 |
| 2095 Scudder St | | | | | = | \$74.25 | |
| St Paul MN 55108-1823 | | *** Owner and Taxpaye | er *** | | | | |
| *2095 SCUDDER ST | | Total Assessment: | | | | | |
| *Ward: 4 | | This Payment: | | | | | |
| *Pending as of: 8/24/2021 | | | Current Year | | \$0.00 \$0.00 | | |
| | | | Current Year | • | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$74.25 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Ratification Date: | Project: 2021SMSP Resolution #: | | Assmt: 210025 | Manager: LMR | Page 611 |
|------------------------------------|--------------------------------------------------------------------|--------------------------------------------------------------|------------------------------------|------------|-----------------|--------------|--------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| John Leon Boler | ST ANTHONY PARK NORTH S 3 FT OF | Street Sweeping - Reside | ential Stree | 0.41 | 50.00 | \$20.50 | 20-29-23-44-0075 |
| Annamary Boler | W 100 FT OF LOT 4 AND E 1/2 OF W 2/3 OF LOTS 5 AND LOT 6 BLK 48 | Citywide Street Lighting | 5 | 0.58 | 50.00 | \$29.00 | |
| 2101 Scudder St | | | | | | \$49.50 | |
| St Paul MN 55108-1823 | | *** Owner and Taxpayer | r *** | | | | |
| *2101 SCUDDER ST | | | Total Assessn | nent: | | \$49.50 | |
| *Ward: 4 *Pending as of: 8/24/2021 | | | This Payment | | | \$0.00 | |
| Fending as 01: 8/24/2021 | | | Current Year | _ | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amou | nt: | | \$49.50 | |
| | ST ANTHONY PARK NORTH W 1/3 OF | Street Sweeping - Reside | ential Stree | 0.41 | | | |
| 879 Pascal St N | LOTS 5 AND LOT 6 BLK 48 | Citywide Street Lighting | 5 | 0.58 | 50.00 | \$29.00 | |
| St Paul MN 55104-1372 | | | | | _ | \$49.50 | |
| *2105 SCUDDER ST | | *** Owner and Taxpayer | r *** | | | | |
| *Ward: 4 | | | Total Assessm | nent: | | \$49.50 | |
| *Pending as of: 8/24/2021 | | This Payment: Current Year Principal: Current Year Interest: | | | | \$0.00 | |
| | | | | | | \$0.00 | |
| | | | | | | \$0.00 | |
| | | | Payoff Amou | nt: | | \$49.50 | |
| Chani Marie Becker | ELM CRESCENT LOT 3 | Street Sweeping - Comm | ercial/Art | 1.04 | — — | | 20-29-23-44-0082 |
| Michael Francis Maher | | Street Sweeping - Reside | | 0.41 | 25.00 | \$10.25 | |
| 2139 Scudder St | | Citywide Street Lighting | 5 | 0.58 | 100.00 | \$58.00 | |
| St Paul MN 55108-1823 | | | | | | \$146.25 | |
| *2139 SCUDDER ST | | *** Owner and Taxpayer | r *** | | _ | | |
| *Ward: 4 | | Total Assessment: | | | | \$146.25 | |
| *Pending as of: 8/24/2021 | | | This Payment | : | | \$0.00 | |
| | | | Current Year | Principal: | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Payoff Amou | nt: | | \$146.25 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date: | | Project: 2021SMSP Resolution #: | | Manager: LMR | Page 612 | |
|-------------------------------------------------------|------------------------------------------------------------------------|----------------------------------------------------------------------------|------------------------|------------------------------------|-----------------|--------------|--------------------|--|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID | |
| William Riley Harrison Iii | ST ANTHONY PARK NORTH NELY 50 | Street Sweeping - Res | idential Stree | 0.41 | 54.00 | \$22.14 | 20-29-23-44-0086 | |
| 2150 Knapp St | FT OF NWLY 40 FT OF LOT 14 AND NELY 50 FT OF LOTS 15 AND LOT 16 | Citywide Street Lighti | ing | 0.58 | 54.00 | \$31.32 | | |
| St Paul MN 55108-1813 | BLK 48 | | | | = | \$53.46 | | |
| *2150 KNAPP ST | | *** Owner and Taxpa | ıyer *** | | | | | |
| *Ward: 4 | | Total Assessment: | | | | \$53.46 | | |
| *Pending as of: 8/24/2021 | | | This Payment: | | | \$0.00 | | |
| | | | Current Yea | r Principal: | | \$0.00 | | |
| | | | Current Yea | r Interest: | | \$0.00 | | |
| | | | Payoff Amo | ount: | | \$53.46 | | |
| | ST ANTHONY PARK NORTH PART OF | Street Sweeping - Res | idential Stree | | | | | |
| Jocelyn Choy | celyn Choy LOTS 17 AND 18 BEG AT A PT ON KNAPP ST 126 08/100 FT NELY | Citywide Street Lighti | | 0.58 | 63.00 | \$36.54 | 20 27 20 11 0000 | |
| 2138 Knapp St | | | | | = | \$62.37 | | |
| t Paul MN 55108-1813 TH SWLY 63 04/100 FT TH SELY TO | *** Owner and Taxpa | ıyer *** | | | <u> </u> | | | |
| *2138 KNAPP ST | | | Total Assess | ment: | | \$62.37 | | |
| *Ward: 4 | | | This Paymer | nt: | | \$0.00 | | |
| *Pending as of: 8/24/2021 | | | Current Yea | r Principal: | | \$0.00 | | |
| | | | Current Year Interest: | | | \$0.00 | | |
| | | | Payoff Amo | unt: | | \$62.37 | | |
| | ST ANTHONY PARK NORTH PART OF | Street Sweeping - Res | idential Stree | | | | | |
| 2128 Knapp St | LOT 18 ELY OF A L RUN FROM A PT | Citywide Street Lighti | | 0.58 | 60.00 | \$34.80 | 20-27-23-44-0070 | |
| St Paul MN 55108-1813 | ON N L OF AND 10 FT FROM NE COR THEREOF TO SELY COR OF SD LOT | | | | = | \$59.40 | | |
| 2128 KNAPP ST | AND ALL OF LOT 19 BLK 48 | *** Owner and Taxpa | ıyer *** | | | | | |
| *Ward: 4 | | | Total Assess | sment: | - | \$59.40 | | |
| *Pending as of: 8/24/2021 | | | This Paymer | | | \$0.00 | | |
| | | | Current Yea | | | \$0.00 | | |
| | | | Current Yea | - | | \$0.00 | | |
| | | | Payoff Amo | unt: | | \$59.40 | | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by I | PID (Fee to Asmt) Ratification Date: | Project: 2021SMSP Resolution #: | | Assmt: 210025 | Manager: LMR | Page 61 | |
|--------------------------------------------|------------------------------------------------------------------------------------------------------------|----------------------------------------------------|------------------------------------|--------------|-----------------|--------------------------|--------------------|--|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID | |
| Jeremy D Nietz Lauren W Nietz | ST ANTHONY PARK NORTH LOT 20 BLK 48 | Street Sweeping - Resid | | 0.41 | 50.00 | \$20.50 \$29.00 | 20-29-23-44-0091 | |
| 2122 Knapp St St Paul MN 55108-1813 | | *** Owner and Taxpay | er *** | | | \$49.50 | | |
| *2122 KNAPP ST *Ward: 4 | | Total Assessment: This Payment: | | | - | \$49.50 | | |
| *Pending as of: 8/24/2021 | | | | | | \$0.00 | | |
| 1 chang as of. 0/24/2021 | | | Current Year Principal: | | | \$0.00 | | |
| | | | Current Year Payoff Amou | | | \$0.00 \$49.50 | | |
| | | | | | | | | |
| Thomas P Krick | ST ANTHONY PARK NORTH LOT 21 BLK 48 | Street Sweeping - Resid Citywide Street Lightin | | 0.41 0.58 | 50.00 50.00 | \$20.50 \$29.00 | 20-29-23-44-0092 | |
| Mary E Krick 2118 Knapp St | | City wide Street Eightin | -5 | 0.50 | = | \$49.50 | | |
| St Paul MN 55108-1813 | | *** Owner and Taxpay | er *** | | | \$49.50 | | |
| *2118 KNAPP ST | | Total Assessment: | | | | \$49.50 | | |
| *Ward: 4 | | This Payment: | | | | \$0.00 | | |
| *Pending as of: 8/24/2021 | | Current Year Principal: | | | | \$0.00 | | |
| | | Current Year Interest: | | | | \$0.00 | | |
| | | | Payoff Amou | nt: | | \$49.50 | | |
| | ST. ANTHONY PARK, MINNESOTA | | dential Streε | | | | | |
| Maria Rantapaa | PART OF LOT 17 AND OF W 12 FT OF | Citywide Street Lightin | | 0.58 | 62.00 | \$35.96 | 20-27-25-44-0075 | |
| 5407 Glenwood Ct Richmond CA 94803-7304 | LOT 18 S OF A L BEG AT PT 10 FT S OF NELY L OF LOT 18 MEASURED ON A L 12 FT E OF AND PAR WITH W L OF | *** Owner and Taxpay | er *** | | _ | \$61.38 | | |
| *2177 KNAPP ST | SD LOT 18 TH W PAR WITH THE S L | | Total Assessn | nent: | - | \$61.38 | | |
| *Ward: 4 | | This Payment: | | | | \$0.00 | | |
| *Pending as of: 8/24/2021 | | | Current Year | | | \$0.00 | | |
| | | | Current Year | Interest: | | \$0.00 | | |
| | | | Payoff Amou | nt: | | \$61.38 | | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date: | | Project: 202 Resolution | | Assmt: 210025 | Manager: LMR | Page 614 |
|------------------------------------------|----------------------------------------------------------------------------|-------------------------------------------------|----------------------------|--------------|------------------|----------------------|--------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| Glt Investments Llc 6946 Lake Dr | ST. ANTHONY PARK, MINNESOTA BEG AT NE COR OF LOT 17 TH WLY | Street Sweeping - Res Citywide Street Lighti | | 0.41 | 331.00 331.00 | \$135.71 \$191.98 | 20-29-23-44-0098 |
| Lino Lakes MN 55014-1925 | ON S L OF GORDON AVE 192 2/10 FT TH SELY 165 3/10 FT TO A PT ON | , . | | | = | \$327.69 | |
| *2201 SCUDDER ST | SCUDDER ST 130 FT FROM PLACE OF BEG TH TO BEG BEING PART OF LOTS | *** Owner and Taxpayer *** | | | | 40 2 7 1 0 5 | |
| *Ward: 4 | BLG III TO BLG BLING TAKE OF LOTS | | Total Assessment: | | | \$327.69 | |
| *Pending as of: 8/24/2021 | | | This Paymer | nt: | \$0.00 | | |
| | | | Current Year | r Principal: | \$0.00 | | |
| | | | Current Year | r Interest: | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$327.69 | |
| Ralph A Stenvik | ST. ANTHONY PARK, MINNESOTA | Street Sweeping - Res | idential Stree | | | | 20 20 22 44 0000 |
| Zena Stenvik | LOT 1 BLK 35 | Alley Sweeping Alley Sweeping | idential Street | 0.14 | 51.00 | \$7.14 | 20-29-23-44-0099 |
| 2131 Gordon Ave | | Citywide Street Lighti | ng | 0.58 | 100.00 | \$58.00 | |
| St Paul MN 55108-1903 | | | | | _ | \$106.14 | |
| *2131 GORDON AVE | | *** Owner and Taxpa | yer *** | | | | |
| *Ward: 4 | | | Total Assess | ment: | \$106.14 | | |
| *Pending as of: 8/24/2021 | | This Payment: | | | | \$0.00 | |
| | | | Current Year | r Principal: | \$0.00 | | |
| | | | Current Year | r Interest: | \$0.00 | | |
| | | | Payoff Amo | unt: | | \$106.14 | |
| | | Charact Commission Description | :14:-1.64 | | | | |
| Amanda M Williams | ST. ANTHONY PARK, MINNESOTA LOT 2 BLK 35 | Street Sweeping - Res Alley Sweeping | idential Stree | 0.41 0.14 | 50.00 50.00 | \$20.50 \$7.00 | 20-29-23-44-0100 |
| 2123 Gordon Ave St Paul MN 55108-1903 | | Citywide Street Lighti | ng | 0.58 | 50.00 | \$29.00 | |
| *2123 GORDON AVE | | , . | | | _ | \$56.50 | |
| *Ward: 4 | | *** Owner and Taxpa | yer *** | | | φ30.30 | |
| *Pending as of: 8/24/2021 | | | Total Assess | ment: | • | \$56.50 | |
| | | | This Paymer | nt: | | \$0.00 | |
| | | | Current Year | r Principal: | | \$0.00 | |
| | | | Current Year | r Interest: | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$56.50 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by l | PID (Fee to Asmt) Ratification Date: | Project: 2021SMSP Resolution #: | | Assmt: 210025 | Manager: LMR | Page 615 | |
|------------------------------------------------------------------------------------------------------------------|---------------------------------------------------------------------------------------------------------------------------------------------------|-------------------------------------------------------------------------------------------|------------------------------------|----------------------|-------------------------|-----------------------------------------|------------------|--|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID | |
| M B J Development Corporation 1905 Stevens Ave S Unit B Mpls MN 55403-3871 *2111 GORDON AVE *Ward: 4 | ST. ANTHONY PARK, MINNESOTA PART OF LOT 6 WLY OF A L RUN FROM SW COR OF SD LOT TO A PT ON NLY L 10 FT FROM NW COR THEREOF AND ALL OF LOT 5 BLK 35 | Street Sweeping - Resident Alley Sweeping Citywide Street Lighting *** Owner and Taxpayer | g | 0.41 0.14 0.58 | 71.00 36.00 71.00 | \$29.11 \$5.04 \$41.18 \$75.33 | 20-29-23-44-0103 | |
| *Pending as of: 8/24/2021 | | 1 7 | Total Assessment: | | | \$75.33 | | |
| | | | This Payment: | | | \$0.00 | | |
| | | | Current Year I | | | \$0.00 | | |
| | | | Current Year Interest: | | | \$0.00 | | |
| | | | Payoff Amou | nt: | | \$75.33 | | |
| Como Raymond Properties Llc | ST. ANTHONY PARK, MINNESOTA | Street Sweeping - Comn | mercial/Art | | 325.00 | \$338.00 | | |
| | 102 Como Ave | Alley Sweeping | neretan i niv | 0.14 | 110.00 | \$15.40 | 20-29-23-44-0104 | |
| St Paul MN 55108-1802 | FROM SW COR TO A PT ON NLY L OF AND 10 FT FROM NW COR OF SD LOT | Citywide Street Lighting | g | 0.58 | 325.00 | \$188.50 | | |
| *2102 COMO AVE | 6 AND ALL OF LOTS 7 AND LOT 8 | | | | _ | \$541.90 | | |
| *Ward: 4 | BLK 35 | *** Owner and Taxpayer *** | | | | | | |
| *Pending as of: 8/24/2021 | | | Total Assessment: | | | \$541.90 | | |
| | | | This Payment: | ; | | \$0.00 | | |
| | | | Current Year I | Principal: | | \$0.00 | | |
| | | Current Year Interest: | | | | \$0.00 | | |
| | | | Payoff Amount: | | | \$541.90 | | |
| M B J Development Corp | ST. ANTHONY PARK, MINNESOTA EX | | nercial/Art | 1.04 | | | 20-29-23-44-0105 | |
| 1905 Stevens Ave S Unit B | NWLY 41 3/10 FT LOT 9 BLK 35 | Alley Sweeping | | 0.14 | 120.00 | \$16.80 | 20 25 20 11 0100 | |
| Mpls MN 55403-3871 | | Citywide Street Lighting | g | 0.58 | 50.00 | \$29.00 | | |
| *2116 COMO AVE | | | | | | \$97.80 | | |
| *Ward: 4 | | *** Owner and Taxpaye | er *** | | | | | |
| *Pending as of: 8/24/2021 | | Total Assessment: | | | \$97.80 | | | |
| | | | This Payment: | : | | \$0.00 | | |
| | | Current Year Principal: | | | | \$0.00 | | |
| | | | Current Year l | | | \$0.00 | | |
| | | | Payoff Amou | nt: | | \$97.80 | | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by | PID (Fee to Asmt) Project: 2021SMSP As Ratification Date: Resolution #: | | Assmt: 210025 | Manager: LMR | Page 616 | |
|----------------------------|------------------------------------------------------------------|----------------------------------------------------------------------------|------------------------|-----------------|--------------|------------------|--|
| Owner or Taxpayer | Property Description | Item Description | <u>Unit Ra</u> | <u>Quantity</u> | Charge Amts | Property ID | |
| 21como Llc | SUBDIVISION OF LOTS 10 & 11 | Street Sweeping - Comm | | 04 62.00 | \$64.48 | 20-29-23-44-0107 | |
| 222 S 9th St Ste 1600 | BLOCK 35 OF ST. ANTHONY PARK SELY 1/2 OF LOT 2 AND ALL OF LOT | Alley Sweeping | | 14 62.00 | \$8.68 | | |
| Minneapolis MN 55402-3382 | 1 | Citywide Street Lighting | 0. | 58 62.00 | \$35.96 | | |
| *2124 COMO AVE *Ward: 4 | | *** Owner and Taxpayer | r *** | | \$109.12 | | |
| *Pending as of: 8/24/2021 | | | Total Assessment: | \$109.12 | | | |
| | | | This Payment: | | \$0.00 | | |
| | | | Current Year Principal | : | \$0.00 | | |
| | | | Current Year Interest: | | \$0.00 | | |
| | | | Payoff Amount: | | \$109.12 | | |
| | SUBDIVISION OF LOTS 10 & 11 | Street Sweeping - Comm | nercial/Art 1. | 04 65.00 | \$67.60 | <u> </u> | |
| 222 S 9th St Ste 1600 | 1600 BLOCK 35 OF ST. ANTHONY PARK | Street Sweeping - Reside | | 41 133.00 | \$54.53 | 20-27-23-44-0100 | |
| Minneapolis MN 55402-3382 | NWLY 1/2 OF LOT 2 AND ALL OF LOT 3 | Alley Sweeping | 0. | 14 50.00 | \$7.00 | | |
| *2130 COMO AVE | | Citywide Street Lighting | 0. | 58 198.00 | \$114.84 | | |
| *Ward: 4 | | | | = | \$243.97 | | |
| *Pending as of: 8/24/2021 | | *** Owner and Taxpayer | r *** | | | | |
| | | | Total Assessment: | \$243.97 | | | |
| | | | This Payment: | | \$0.00 | | |
| | | | Current Year Principal | \$0.00 | | | |
| | | | Current Year Interest: | \$0.00 | | | |
| | | | Payoff Amount: | | \$243.97 | | |
| | ST ANTHONY PARK NORTH LOT 5 | Street Sweeping - Comm | | 04 50.00 | \$52.00 | <u> </u> | |
| Jonathan Hanson | BLK 49 | Citywide Street Lighting | | 58 50.00 | \$29.00 | 20-27-23-44-0111 | |
| 2121 Como Ave | | | | = | \$81.00 | | |
| St Paul MN 55108-1801 | | *** Owner and Taxpayer | r *** | | ****** | | |
| *2121 COMO AVE | | | Total Assessment: | • | \$81.00 | | |
| *Ward: 4 | | | This Payment: | \$0.00 | | | |
| *Pending as of: 8/24/2021 | | | Current Year Principal | \$0.00 | | | |
| | | | Current Year Interest: | | \$0.00 | | |
| | | | Payoff Amount: | | \$81.00 | | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date: | | Project: 2021SMSP Resolution #: | | Assmt: 210025 | Manager: LMR | Page 61' |
|------------------------------------------|----------------------------------------------------------------------------|---------------------------|------------------------------------|---------|-----------------|--------------|--------------------|
| Owner or Taxpayer | Property Description | Item Description | <u>Uni</u> | it Rate | Quantity | Charge Amts | Property ID |
| Victoria Tirrel | ST ANTHONY PARK NORTH LOT 6 | Street Sweeping - Comme | rcial/Art | 1.04 | 50.00 | \$52.00 | 20-29-23-44-0112 |
| Edward D Lotterman | BLK 49 | Citywide Street Lighting | | 0.58 | 50.00 | \$29.00 | |
| 2117 Como Ave | | | | | | \$81.00 | |
| St Paul MN 55108-1801 | | *** Owner and Taxpayer | *** | | | | |
| *2117 COMO AVE | | T | otal Assessment: | | _ | \$81.00 | |
| *Ward: 4 | | Т | This Payment: | | | | |
| *Pending as of: 8/24/2021 | | C | Current Year Princ | cipal: | | \$0.00 | |
| | | C | Current Year Intere | est: | | \$0.00 | |
| | | P | Payoff Amount: | | | \$81.00 | |
| Twin Cities Chinese Christ Discple Chrch | ST ANTHONY PARK NORTH LOT 7 | Street Sweeping - Comme | rcial/Art | 1.04 | | <u> </u> | |
| 2113 Como Ave | BLK 49 | Citywide Street Lighting | | 0.58 | 50.00 | \$29.00 | 20-27-23-44-0113 |
| St Paul MN 55108-3002 | | | | | _ | \$81.00 | |
| *2113 COMO AVE | | *** Owner and Taxpayer | *** | | | φοπου | |
| *Ward: 4 | | T | otal Assessment: | | | \$81.00 | |
| *Pending as of: 8/24/2021 | | T | This Payment: | | | \$0.00 | |
| | | C | Current Year Princ | cipal: | | \$0.00 | |
| | | Current Year Interest: | | | | \$0.00 | |
| | | P | Payoff Amount: | | | \$81.00 | |
| | ST ANTHONY PARK NORTH N 59 FT | Street Sweeping - Residen | | 0.41 | | | |
| 1247 Raymond Ave | OF LOT 1 BLK 49 | Citywide Street Lighting | | 0.58 | 73.50 | \$42.63 | #U #/ #U 'TT-U11/ |
| St Paul MN 55108-1816 | | | | | = | \$72.77 | |
| *1247 RAYMOND AVE | | *** Owner and Taxpayer | *** | | | •• | |
| *Ward: 4 | | T | otal Assessment: | | | \$72.77 | |
| *Pending as of: 8/24/2021 | | T | his Payment: | | | \$0.00 | |
| | | C | Current Year Princ | cipal: | | \$0.00 | |
| | | C | Current Year Intere | est: | | \$0.00 | |

\$72.77

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by PID (Fee to Asm Ratification Da | | Project: 2021SMSP Resolution #: | | Assmt: 210025 | Manager: LMR | Page 618 |
|-------------------------------------------------|-----------------------------------------------------------------------------------------------|------------------------------------------------|------------------------------------|--------------|------------------|----------------------|--------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| University Of Minnesota 319 15th Ave Ste 424 | ST ANTHONY PARK NORTH (SUBJ TO COMO AVE) THE FOL; VAC ST & ALLEYS ACCRUING & PART LYING | Street Sweeping - Cor Citywide Street Light | | 1.04 0.58 | 870.00 870.00 | \$904.80 \$504.60 | 20-29-23-44-0123 |
| Minneapolis MN 55455-0199 *0 CLEVELAND AVE N | SLY OF SL OF AVE OF LOTS 3 THRU LOT 15 BLK 50 | *** Owner and Taxpa | nyer *** | | _ | \$1,409.40 | |
| *Ward: 4 | | | Total Assess | ment: | | \$1,409.40 | |
| *Pending as of: 8/24/2021 | | | This Paymer | nt: | | \$0.00 | |
| | | | Current Year Principal: | | | \$0.00 | |
| | | | Current Year | r Interest: | | \$0.00 | |
| | | | Payoff Amo | unt: | | \$1,409.40 | |
| | ST ANTHONY PARK NORTH LOT 12 | Street Sweeping - Cor | mmercial/Art | | | | |
| Joanna L Kirby | BL 44 | Alley Sweeping | | 0.14 | 50.00 | \$7.00 | 20-27-23-44-0127 |
| 2191 Como Ave | | Citywide Street Light | ing | 0.58 | 50.00 | \$29.00 | |
| St Paul MN 55108-1812 | | | | | _ | \$88.00 | |
| *2191 COMO AVE | | *** Owner and Taxpa | ıyer *** | | | | |
| *Ward: 4 | | Total Assessment: | | | | \$88.00 | |
| *Pending as of: 8/24/2021 | | | This Payment: | | | \$0.00 | |
| | | | Current Year | r Principal: | | \$0.00 | |
| | | | Current Year | r Interest: | | \$0.00 | |
| | | | Payoff Amount: | | | \$88.00 | |
| | ST ANTHONY PARK NORTH EX S 65 | Street Sweeping - Res | idential Stree | | | | <u> </u> |
| Anatalia Georgieff | FT LOTS 11 & LOT 12 BLK 46 | Citywide Street Light | | 0.58 | 100.00 | \$58.00 | 20-27-23-44-0127 |
| 2090 Commonwealth Ave | | | | | _ | \$99.00 | |
| St Paul MN 55108-1714 | | *** Owner and Taxpa | ıyer *** | | | φ>>100 | |
| *2090 COMMONWEALTH | | | Total Assess | ment: | - | \$99.00 | |
| AVE | | | This Paymer | | | \$0.00 | |
| *Ward: 4 | | | Current Year | | | \$0.00 | |
| *Pending as of: 8/24/2021 Current Year Inter | | | _ | | \$0.00 | | |
| | | | Payoff Amo | | | \$99.00 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date: | | Project: 2021SMSP Resolution #: | | Assmt: 210025 | Manager: LMR | Page 619 |
|-----------------------------------|-----------------------------------------------------------------------------|-----------------------------------------|---------------------------------|--------------|-----------------|------------------|--------------------|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID |
| William Rose | CIC NO 1 CLEVELAND TERRACE | Street Sweeping - Comn | mercial/Art | 1.04 | 12.50 | \$13.00 | 20-29-23-44-0132 |
| 1261 Cleveland Ave N | UNIT NO.2A | Alley Sweeping | | 0.14 | 12.50 | \$1.75 | |
| St Paul MN 55108-1826 | | Citywide Street Lighting | g | 0.58 | 12.50 | \$7.25 | |
| *1261 CLEVELAND AVE N 2A *Ward: 4 | | *** Owner and Taxpaye | er *** | | \$22.00 | | |
| *Pending as of: 8/24/2021 | | | Total Assessr | ment: | | \$22.00 | |
| | | | This Payment | | | \$0.00 | |
| | | | Current Year | | | \$0.00 | |
| | | | Current Year | _ | | \$0.00 | |
| | | | Payoff Amou | int: | | \$22.00 | |
| | | | | | | | |
| Ivanka I Stefanova | CIC NO 1 CLEVELAND TERRACE UNIT NO.6A | Street Sweeping - Comn | nercial/Art | 1.04 0.14 | 12.50 12.50 | \$13.00 | 20-29-23-44-0136 |
| 1426 Hythe St | 21.02.21.20.2 | Alley Sweeping Citywide Street Lighting | n | 0.14 | 12.50 | \$1.75 \$7.25 | |
| St Paul MN 55108-1423 | | City wide Street Lighting | 5 | 0.56 | 12.50 | | |
| *1261 CLEVELAND AVE N 6A *Ward: 4 | | *** Owner and Taxpaye | ar *** | | | \$22.00 | |
| *Pending as of: 8/24/2021 | | | | | | \$22.00 | |
| 1 Chaing as 01. 6/24/2021 | | | Total Assessment: | | | | |
| | | | This Payment | | | \$0.00 | |
| | | | Current Year | _ | | \$0.00 | |
| | | | Current Year | | \$0.00 | | |
| | | | Payoff Amou | int: | | \$22.00 | |
| Mm Technical Services Inc | CIC NO 1 CLEVELAND TERRACE | Street Sweeping - Comn | mercial/Art | 1.04 | 12.50 | \$13.00 | 20-29-23-44-0139 |
| 227 S Main St Ste 107 | UNIT NO.1B | Alley Sweeping | | 0.14 | 12.50 | \$1.75 | 20 25 20 11 0105 |
| Elkhart IN 46516-3185 | | Citywide Street Lighting | g | 0.58 | 12.50 | \$7.25 | |
| *1269 CLEVELAND AVE N 1B | | | | | _ | \$22.00 | |
| *Ward: 4 | | *** Owner and Taxpaye | er *** | | | | |
| *Pending as of: 8/24/2021 | | | Total Assessment: | | | \$22.00 | |
| | | | This Payment | t: | | \$0.00 | |
| | | | Current Year | Principal: | | \$0.00 | |
| | | | Current Year Interest: | | | | |
| | | | Payoff Amou | ınt: | | \$22.00 | |

| 22:53:28 10/4/2021 | Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date: | | Project: 2021SMSP Resolution #: | | Assmt: 210025 | Manager: LMR | Page 620 | |
|------------------------------------------------------------------------------------|-----------------------------------------------------------------------------|------------------|-------------------------------------|--------------------------------------------------|----------------------------------------|--------------------------------------------|--------------------|--|
| Owner or Taxpayer | Property Description | Item Description | | Unit Rate | Quantity | Charge Amts | Property ID | |
| Ole A Lund 1269 Cleveland Ave N #6b St Paul MN 55108-1827 *1269 CLEVELAND AVE N 6B | Citywide Street Lighting 0.58 AVE N 6B *** Owner and Taxpayer *** | | 0.14 | 12.50 12.50 12.50 | \$13.00 \$1.75 \$7.25 \$22.00 | 20-29-23-44-0144 | | |
| *Ward: 4 *Pending as of: 8/24/2021 | | | | \$22.00 \$0.00 \$0.00 \$0.00 \$22.00 | | | | |
| Report Totals: 1,855 Parcel(s) 39 Cert. Exempt Parcel(s) | | | Total Assess This Payme Current Yes | nt: ar Principa | | \$163,086.89 \$0.00 \$0.00 \$0.00 | | |

\$163,086.89